COUNTIES ANDERSON, BLOUNT, CAMPBELL, CARTER, CLAIBORNE, COCKE, GRAINGER, GREENE, HAMBLEN, HANCOCK, HAWKINS, JEFFERSON, JOHNSON, KNOX, LOUDON, MONROE, MORGAN, ROANE, SCOTT, SEVIER, SULLIVAN, UNICOI, UNION, AND WASHINGTON (Contract No. CNV193 Call 001)

98101-4113-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

**TOTAL CONTRACT** 

Superior Traffic Control, LLC

\$209,211.25

LU, Inc.

\$249,373.55

CONTRACT	CNV193
EXTE	ENSION

UNIT PRICE	
------------	--

### **MAINTENANCE CATEGORY**

				2.000 EA	<b>ACH</b>
_	 	_			

 Superior Traffic Control, LLC
 \$250.0000
 \$500.000

 LU, Inc.
 \$147.4800
 \$294.96

### 712-01.03 LANE CLOSURE(NIGHT WORK)

10.000 EACH

 Superior Traffic Control, LLC
 \$1,200.0000
 \$12,000.000

 LU, Inc.
 \$1,147.5000
 \$11,475.000

# 712-08.03 ARROW BOARD (TYPE C)

2.000 EACH

 Superior Traffic Control, LLC
 \$600.0000
 \$1,200.00

 LU, Inc.
 \$479.2900
 \$958.58

#### 712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD

20.000 DAY

 Superior Traffic Control, LLC
 \$1,000.0000
 \$20,000.00

 LU, Inc.
 \$986.8500
 \$19,737.00

#### 713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)

5.000 C.Y.

 Superior Traffic Control, LLC
 \$650.0000
 \$3,250.00

 LU, Inc.
 \$608.9900
 \$3,044.95

#### 713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPORTS)

2,000.000 LB.

 Superior Traffic Control, LLC
 \$2.9000
 \$5,800.00

 LU, Inc.
 \$2.8100
 \$5,620.00

### 713-04.02 STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS

5,500.000 LB.

 Superior Traffic Control, LLC
 \$4.1500
 \$22,825.00

 LU, Inc.
 \$5.0700
 \$27,885.00

#### 713-06 STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPORT

5,000.000 LB.

 Superior Traffic Control, LLC
 \$4.1500
 \$20,750.00

 LU, Inc.
 \$5.0700
 \$25,350.00

#### 713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST

23.000 LB.

 Superior Traffic Control, LLC
 \$3.5000
 \$80.50

 LU, Inc.
 \$2.9500
 \$67.85

#### 713-11.05 SQUARE TUBE SIGN SUPPORT

15.000 LB.

 Superior Traffic Control, LLC
 \$3.9500
 \$59.25

 LU, Inc.
 \$4.9100
 \$73.65

CONTRACT	<b>CNV193</b>
----------	---------------

			CONTINACT CITY 155
		UNIT PRICE	EXTENSION
713-13.02 FL	AT SHEET ALUMINUM SIGNS (0.080" THICK)		
	10.000 S.F.		
Su	perior Traffic Control, LLC	\$13.6500	\$136.50
	J, Inc.	\$12.1100	\$121.10
LO	y, mo.	Ψ12.1100	Ψ121.10
713-13.03 FL	AT SHEET ALUMINUM SIGNS (0.100" THICK)		
	30.000 S.F.		
Su	perior Traffic Control, LLC	\$14.2500	\$427.50
	J, Inc.	\$12.5400	\$376.20
	,	¥ 1=15 135	<b>4</b> 0.0.20
713-13.12 FL	AT SHEET ALUM SIGNS OVERLAY (0.080" THICK)		
	30.000 S.F.		
Su	perior Traffic Control, LLC	\$16.5000	\$495.00
LU	J, Inc.	\$10.3600	\$310.80
713-13 14 FI	ORESCENT YELLOW SIGN SHEETING		
710 10:14 12			
	300.000 S.F.		
Su	perior Traffic Control, LLC	\$6.0000	\$1,800.00
LU	J, Inc.	\$3.1300	\$939.00
713-14 EX	(TRUDED ALUMINUM PANEL SIGNS		
	4,800.000 S.F.		
		404 5000	<b>A</b> 400 000 00
	uperior Traffic Control, LLC	\$21.5000	\$103,200.00
LU	J, Inc.	\$27.5900	\$132,432.00
713-15.01 RE	EMOVAL OF EXISTING SIGN POST		
	5.000 EAC	CH CONTRACT	
Su	perior Traffic Control, LLC	\$50.0000	\$250.00
	J, Inc.	\$58.9900	\$294.95
LO	y, mo.	ψ50.3300	Ψ204.30
713-15.03 RE	EMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH SADDLE SUPPORTS		
	15.000 EAC	CH CONTRACTOR	
Su	perior Traffic Control, LLC	\$45.0000	\$675.00
	J, Inc.	\$44.2400	\$663.60
742 45 40 55	EMOVAL OF SMALL DADDIED MOUNTED SIGNS WELL AT BUAT SUPPORTS		
113-13.10 KE	EMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT PLAT SUPPORTS		
	30.000 EAC	CH	
Su	perior Traffic Control, LLC	\$40.0000	\$1,200.00
LU	J, Inc.	\$36.8700	\$1,106.10
713-15.36 RF	EMOVE SIGN, SUPPORT & FOOTING		
	5.000 EAC	•u	
_			<b>#4.050.00</b>
	uperior Traffic Control, LLC	\$250.0000	\$1,250.00
LU	J, Inc.	\$184.3400	\$921.70
713-15.38 EX	TRUDED ALUMINUM PANELS FOR OVERLAYING BACKGROUND		
	10.000 S.F.		
Su	perior Traffic Control, LLC	\$11.0000	\$110.00
	J, Inc.	\$2.7600	\$27.60

				CONTRACT CNV193
			UNIT PRICE	EXTENSION
713-16.90 F	RESET GROUND MOUNTED SIGN			
		10.000 EACH		
	Superior Traffic Control, LLC		\$500.0000	\$5,000.00
L	_U, Inc.		\$1,106.0600	\$11,060.60
740 47 00 1	NOTALL ALIVILLARY CURRORT FOR EVIT NUMBER RANEI			
/13-1/.02 1	NSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL	04 000 54 011		
,		24.000 EACH	<b>#75</b> 0000	Ф4 000 00
	Superior Traffic Control, LLC LU, Inc.		\$75.0000 \$79.6400	\$1,800.00 \$1,911.36
L	LO, IIIC.		φ/9.0400	φ1,911.30
713-17.04 I	NSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
		100.000 L.F.		
9	Superior Traffic Control, LLC		\$8.0000	\$800.00
	LU, Inc.		\$5.2700	\$527.00
713-20.30	SIGN ADJUSTMENTS			
		5.000 EACH		
5	Superior Traffic Control, LLC		\$315.0000	\$1,575.00
L	LU, Inc.		\$349.9200	\$1,749.60
713-30.09 E	BARRIER MOUNTED SIGN SUPPORT			
		8.000 EACH		
	Superior Traffic Control, LLC		\$500.0000	\$4,000.00
L	LU, Inc.		\$210.1500	\$1,681.20

5.000 EACH

\$5.5000

\$148.7500

713-30.10 BARRIER MOUNTED SIGN SUPPORT (PERF/KNOCKOUT)

Superior Traffic Control, LLC

LU, Inc.

\$27.50

\$743.75

 Superior Traffic Control, LLC
 \$209,211.25

 LU, Inc.
 \$249,373.55

# **TOTAL CONTRACT**

 Superior Traffic Control, LLC
 \$209,211.25

 LU, Inc.
 \$249,373.55

### BEDFORD COUNTY (Contract No. CNV139 Call 002)

STP/HSIP-387(6),02006-3206-94,02006-8206-14

THE RESURFACING ON S.R. 387 FROM U.S. 41A (S.R. 16) (L.M. 0.68) TO U.S. 231 (S.R. 10) (L.M. 1.53).

PROJECT LENGTH - 0.850 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 9.50%

TOTAL CONTRACT

Volunteer Paving, LLC

\$420,534.87

Wright Paving Contractors, Inc.

\$438,544.10

CONTRACT CNV
--------------

			CC	NTRACT CNV139
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM)	GRADING B-M2		
		109.000 TON		
	Volunteer Paving, LLC Wright Paving Contractors, Inc.		\$113.7300 \$111.9600	\$12,396.57 \$12,203.64
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		11.300 TON		
	Volunteer Paving, LLC Wright Paving Contractors, Inc.		\$631.5800 \$618.7100	\$7,136.85 \$6,991.42
411-02.10	ACS MIX(PG70-22) GRADING D			
	VI	1,723.000 TON	Фоо одоо	<b>#450 700 00</b>
	Volunteer Paving, LLC Wright Paving Contractors, Inc.		\$89.2100 \$97.9700	\$153,708.83 \$168,802.31
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	4 007 000 TON		
	Volunteer Paving, LLC	1,807.000 TON	\$29.6600	\$53,595.62
	Wright Paving Contractors, Inc.		\$18.8300	\$34,025.81
611-03.04	GRAY IRON CASTINGS (CATCHBASIN)	17,472.000 LB.		
	Volunteer Paving, LLC	17,472.000 LB.	\$2.5000	\$43,680.00
	Wright Paving Contractors, Inc.		\$3.0900	\$53,988.48
611-09.02	REWORK CATCHBASIN	26.000 EACH		
	Volunteer Paving, LLC	20.000 EAGI1	\$250.0000	\$6,500.00
	Wright Paving Contractors, Inc.		\$643.7500	\$16,737.50
701-02.01	CONCRETE CURB RAMP (RETROFIT)	2,160.000 S.F.		
	Volunteer Paving, LLC	_,	\$33.0000	\$71,280.00
	Wright Paving Contractors, Inc.		\$33.9900	\$73,418.40
712-01	TRAFFIC CONTROL	1.000 LS		
	Volunteer Paving, LLC	1.000 LS	\$10,500.0000	\$10,500.00
	Wright Paving Contractors, Inc.		\$5,851.8000	\$5,851.80
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	400 000 FACIL		
	Volunteer Paving, LLC	100.000 EACH	\$25.0000	\$2,500.00
	Wright Paving Contractors, Inc.		\$5.1500	\$515.00
712-05.01	WARNING LIGHTS (TYPE A)	2.000 EACH		
	Volunteer Paving, LLC	2.000 EACH	\$10.0000	\$20.00
	Wright Paving Contractors, Inc.		\$1.0300	\$2.06
				PAGE

CONTRACT (	SN	V1	39
------------	----	----	----

			00	itiititoi oittioo
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		821.000 S.F.		
	Volunteer Paving, LLC		\$7.5000	\$6,157.50
	Wright Paving Contractors, Inc.		\$7.4700	\$6,132.87
			<b>43</b>	ψο, ι ο Ξ. ο .
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Volunteer Paving, LLC		\$1,200.0000	\$2,400.00
	Wright Paving Contractors, Inc.		\$875.5000	\$1,751.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (B	BI-DIR) (1 COLOR)		
		61.000 EACH		
	Volunteer Paving, LLC		\$25.0000	\$1,525.00
	Wright Paving Contractors, Inc.		\$30.9000	\$1,884.90
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MC	DNO-DIR)(1 COLOR)		
	`	118.000 EACH		
	Volunteer Paving, LLC	110.000 LAGI1	\$25.0000	\$2,950.00
	Wright Paving Contractors, Inc.		\$30.9000	\$2,950.00 \$3,646.20
	winght raving contractors, inc.		ψ30.9000	ψ3,040.20
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		249.000 L.F.		
	Volunteer Paving, LLC		\$15.0000	\$3,735.00
	Wright Paving Contractors, Inc.		\$18.5400	\$4,616.46
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROV	V)		
		3.000 EACH		
	Volunteer Paving, LLC		\$150.0000	\$450.00
	Wright Paving Contractors, Inc.		\$206.0000	\$618.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		210.000 L.F.		
	Volunteer Paving, LLC		\$2.2500	\$472.50
	Wright Paving Contractors, Inc.		\$4.1200	\$865.20
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CR	OSS-WALK)		
	·	52.000 L.F.		
	Volunteer Paving, LLC	02.000 E.I	\$25.0000	\$1,300.00
	Wright Paving Contractors, Inc.		\$30.9000	\$1,606.80
	whight raving contractors, me.		ψου.σοσσ	Ψ1,000.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
		0.100 L.M.		
	Volunteer Paving, LLC	5.1.00 <u></u>	\$12,500.0000	\$1,250.00
	Wright Paving Contractors, Inc.		\$21,753.6000	\$2,175.36
	<u> </u>		,	<del></del> , <del> </del>
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		2.000 EACH		
	Volunteer Paving, LLC		\$250.0000	\$500.00
	Wright Paving Contractors, Inc.		\$515.0000	\$1,030.00

CO	NTR	ACT	CN/	/139

			· ·	CIVITACT CIVIS
			UNIT PRICE	EXTENSION
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		1.000 EACH		
	Volunteer Paving, LLC		\$250.0000	\$250.00
	Wright Paving Contractors, Inc.		\$412.0000	\$412.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		3.900 L.M.		
	Volunteer Paving, LLC		\$850.0000	\$3,315.00
	Wright Paving Contractors, Inc.		\$1,442.0000	\$5,623.80
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		3.900 L.M.		
	Volunteer Paving, LLC		\$5,000.0000	\$19,500.00
	Wright Paving Contractors, Inc.		\$5,665.0000	\$22,093.50
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTE	D LINE)		
		206.000 L.F.		
	Volunteer Paving, LLC		\$2.0000	\$412.00
	Wright Paving Contractors, Inc.		\$3.0900	\$636.54
717-01	MOBILIZATION			
		1.000 LS		
	Volunteer Paving, LLC		\$15,000.0000	\$15,000.00
	Wright Paving Contractors, Inc.		\$12,915.0500	\$12,915.05

# **SUB-TOTAL ROADWAY**

Volunteer Paving, LLC \$420,534.87 Wright Paving Contractors, Inc. \$438,544.10

# **TOTAL CONTRACT**

Volunteer Paving, LLC \$420,534.87 Wright Paving Contractors, Inc. \$438,544.10

COUNTIES BEDFORD, CHEATHAM, DAVIDSON, DICKSON, GILES, HICKMAN, HOUSTON, HUMPHREYS, LAWRENCE, LEWIS, LINCOLN, MACON, MARSHALL, MAURY, MONTGOMERY, MOORE, PERRY, ROBERTSON, RUTHERFORD, SMITH, STEWART, SUMNER, TROUSDALE, WAYNE, WILLIAMSON, AND WILSON (Contract No. CNV195 Call 003)

98304-4134-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$212,700.00LU, Inc.\$221,042.22Superior Traffic Control, LLC\$230,229.05

	UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY		
712-01.02 LANE CLOSURE		
1.000 EACH		
Vulcan Construction Materials, LLC	\$100.0000	\$100.00
LU, Inc.	\$147.4800	\$147.48
Superior Traffic Control, LLC	\$250.0000	\$250.00
712-01.03 LANE CLOSURE(NIGHT WORK)		
22.000 EACH		
Vulcan Construction Materials, LLC	\$700.0000	\$15,400.00
LU, Inc.	\$642.6000	\$14,137.20
Superior Traffic Control, LLC	\$1,150.0000	\$25,300.00
712-08.03 ARROW BOARD (TYPE C)		
4.000 EACH		
Vulcan Construction Materials, LLC	\$300.0000	\$1,200.00
LU, Inc.	\$368.6900	\$1,474.76
Superior Traffic Control, LLC	\$615.0000	\$2,460.00
712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD		
22.000 DAY		
Vulcan Construction Materials, LLC	\$1,050.0000	\$23,100.00
LU, Inc.	\$918.0000	\$20,196.00
Superior Traffic Control, LLC	\$985.0000	\$21,670.00
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)		
9.000 C.Y.		
Vulcan Construction Materials, LLC	\$575.0000	\$5,175.00
LU, Inc.	\$553.1600	\$4,978.44
Superior Traffic Control, LLC	\$640.0000	\$5,760.00
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPORTS)		
2,400.000 LB.		
Vulcan Construction Materials, LLC	\$2.5000	\$6,000.00
LU, Inc.	\$2.2200	\$5,328.00
Superior Traffic Control, LLC	\$2.8000	\$6,720.00
713-04.02 STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS		
500.000 LB.		
Vulcan Construction Materials, LLC	\$3.9000	\$1,950.00
LU, Inc.	\$4.5900	\$2,295.00
Superior Traffic Control, LLC	\$4.0500	\$2,025.00
713-05 STEEL HOLLOW SQUARE POST (BREAKAWAY) SIGN SUPPORTS		
23.000 LB.		
Vulcan Construction Materials, LLC	\$3.8500	\$88.55
LU, Inc.	\$3.7800	\$86.94
Superior Traffic Control, LLC	\$4.0500	\$93.15

			UNIT PRICE	EXTENSION
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPO	RT		
	,	12,000.000 LB.		
	Vulcan Construction Materials, LLC	•	\$3.9000	\$46,800.00
	LU, Inc.		\$4.5300	\$54,360.00
	Superior Traffic Control, LLC		\$4.0000	\$48,000.00
713-11.01	"U" SECTION STEEL POSTS			
		23.000 LB.		
	Vulcan Construction Materials, LLC		\$2.9000	\$66.70
	LU, Inc.		\$2.2100	\$50.83
	Superior Traffic Control, LLC		\$3.1500	\$72.45
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		25.000 LB.		
	Vulcan Construction Materials, LLC		\$3.3500	\$83.75
	LU, Inc.		\$2.6900	\$67.25
	Superior Traffic Control, LLC		\$3.4500	\$86.25
713-11.05	S SQUARE TUBE SIGN SUPPORT			
		23.000 LB.		
	Vulcan Construction Materials, LLC		\$4.0000	\$92.00
	LU, Inc.		\$3.8300	\$88.09
	Superior Traffic Control, LLC		\$3.9000	\$89.70
713-13.02	2 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		23.000 S.F.		
	Vulcan Construction Materials, LLC		\$12.5000	\$287.50
	LU, Inc.		\$8.8500	\$203.55
	Superior Traffic Control, LLC		\$13.3500	\$307.05
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		30.000 S.F.		
	Vulcan Construction Materials, LLC		\$14.0000	\$420.00
	LU, Inc.		\$9.5900	\$287.70
	Superior Traffic Control, LLC		\$14.1000	\$423.00
713-13.12	2 FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)			
		90.000 S.F.		
	Vulcan Construction Materials, LLC		\$17.5000	\$1,575.00
	LU, Inc.		\$12.9000	\$1,161.00
	Superior Traffic Control, LLC		\$16.0000	\$1,440.00
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		200.000 S.F.		
	Vulcan Construction Materials, LLC		\$3.4000	\$680.00
	LU, Inc.		\$2.4000	\$480.00
	Superior Traffic Control, LLC		\$5.5000	\$1,100.00

			-	
			UNIT PRICE	EXTENSION
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,500.000 S.F.		
	Vulcan Construction Materials, LLC	4,000.000 0.1 .	\$22.0000	\$99,000.00
	LU, Inc.		\$24.0000	\$108,000.00
	Superior Traffic Control, LLC		\$21.5000	\$96,750.00
713-15 01	REMOVAL OF EXISTING SIGN POST			
713-13.01	REMOVAL OF EXISTING SIGN FOST	3.000 EACH		
	Vulcan Construction Materials, LLC	3.000 LACI1	\$30.0000	\$90.00
	LU, Inc.		\$18.4300	\$55.29
	Superior Traffic Control, LLC		\$50.0000	\$150.00
	,		·	
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH SA	ADDLE SUPPORTS		
		30.000 EACH		
	Vulcan Construction Materials, LLC		\$70.0000	\$2,100.00
	LU, Inc.		\$51.6200	\$1,548.60
	Superior Traffic Control, LLC		\$45.0000	\$1,350.00
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT I	PLAT SUPPORTS		
		30.000 EACH		
	Vulcan Construction Materials, LLC	00.000 E/(011	\$30.0000	\$900.00
	LU, Inc.		\$33.1800	\$995.40
	Superior Traffic Control, LLC		\$40.0000	\$1,200.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		10.000 EACH		
	Vulcan Construction Materials, LLC		\$100.0000	\$1,000.00
	LU, Inc.		\$92.1700	\$921.70
	Superior Traffic Control, LLC		\$250.0000	\$2,500.00
		u =>		
713-15.37	' INSTALLATION OF SIGN MESSAGE(LETTER,#,ARROW,SHIE			
	Vision Construction Materials 11 C	10.000 S.F.	£40,0000	£400.00
	Vulcan Construction Materials, LLC LU, Inc.		\$40.0000 \$29.5000	\$400.00 \$295.00
	Superior Traffic Control, LLC		\$13.0000	\$130.00
	Superior Traine Control, 220		ψ10.0000	ψ100.00
713-15.38	B EXTRUDED ALUMINUM PANELS FOR OVERLAYING BACKG	ROUND		
		23.000 S.F.		
	Vulcan Construction Materials, LLC		\$4.0000	\$92.00
	LU, Inc.		\$2.7700	\$63.71
	Superior Traffic Control, LLC		\$14.0000	\$322.00
713-16.90	RESET GROUND MOUNTED SIGN			
		10.000 EACH		
	Vulcan Construction Materials, LLC		\$200.0000	\$2,000.00
	LU, Inc.		\$10.2000	\$102.00
	Superior Traffic Control, LLC		\$500.0000	\$5,000.00

	CNV19!	

		CONTINACT CITTISS
	UNIT PRICE	EXTENSION
713-17.02 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL		
	35.000 EACH	
Vulcan Construction Materials, LLC	\$47.8700	\$1,675.45
LU, Inc.	\$42.5500	\$1,489.25
Superior Traffic Control, LLC	\$75.0000	\$2,625.00
713-17.04 INSTALL AUXILIARY SUPPORT ON EXISTING SIGN		
	100.000 L.F.	
Vulcan Construction Materials, LLC	\$5.2500	\$525.00
LU, Inc.	\$4.0600	\$406.00
Superior Traffic Control, LLC	\$8.0000	\$800.00
713-20.30 SIGN ADJUSTMENTS		
	10.000 EACH	
Vulcan Construction Materials, LLC	\$150.0000	\$1,500.00
LU, Inc.	\$147.1500	\$1,471.50
Superior Traffic Control, LLC	\$310.0000	\$3,100.00
713-30.09 BARRIER MOUNTED SIGN SUPPORT		
	1.000 EACH	
Vulcan Construction Materials, LLC	\$304.0500	\$304.05
LU, Inc.	\$202.7800	\$202.78
Superior Traffic Control, LLC	\$500.0000	\$500.00
713-30.10 BARRIER MOUNTED SIGN SUPPORT (PERF/KNOCKOUT)		
	1.000 EACH	
Vulcan Construction Materials, LLC	\$95.0000	\$95.00
LU, Inc.	\$148.7500	\$148.75
Superior Traffic Control, LLC	\$5.4500	\$5.45

Vulcan Construction Materials, LLC	\$212,700.00
LU, Inc.	\$221,042.22
Superior Traffic Control, LLC	\$230,229.05

# **TOTAL CONTRACT**

Vulcan Construction Materials, LLC	\$212,700.00
LU, Inc.	\$221,042.22
Superior Traffic Control, LLC	\$230,229.05

# BENTON COUNTY (Contract No. CNV143 Call 004)

HSIP-300(34),03945-3492-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$141,678.23

 LU, Inc.
 \$157,891.22

 Volunteer Paving, LLC
 \$174,908.72

T PRICE	FXTF	NSION

		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-04.10 EARTH PAD FOR GUARD RAIL END	TREATMENT		
703-04.10 EARTH PAD FOR GUARD RAIL END			
	4.000 EACH		
Superior Traffic Control, LLC		\$900.0000	\$3,600.00
LU, Inc.		\$1,500.0000	\$6,000.00
Volunteer Paving, LLC		\$1,500.0000	\$6,000.00
705-04.21 GUARDRAIL DELINEATION ENHANGE	CEMENT		
	345.000 L.F.		
Superior Traffic Control, LLC		\$2.9500	\$1,017.75
LU, Inc.		\$4.0600	\$1,400.70
Volunteer Paving, LLC		\$4.0600	\$1,400.70
TOT OO OL W DEAM OR (TVDE 0) MAGUETI O			
705-06.01 W BEAM GR (TYPE 2) MASH TL-3	055 000 1 5		
	255.000 L.F.		<b>*</b> . <b></b>
Superior Traffic Control, LLC		\$19.0000	\$4,845.00
LU, Inc.		\$29.9100	\$7,627.05
Volunteer Paving, LLC		\$29.9100	\$7,627.05
705-06.30 GR TERMINAL (ENERGY ABSORBIN	NG) MASH TL-2		
(-11.0.7.2.0.11.	4.000 EACH		
Superior Traffic Control, LLC	4.000 EACH	\$2,600.0000	\$10,400.00
LU, Inc.		\$2,783.6900	\$10,400.00 \$11,134.76
Volunteer Paving, LLC		\$2,784.0000	\$11,136.00
volunteer r aving, LLO		Ψ2,704.0000	ψ11,100.00
706-01 GUARDRAIL REMOVED			
	555.000 L.F.		
Superior Traffic Control, LLC	333333 =	\$1.0000	\$555.00
LU, Inc.		\$0.7500	\$416.25
Volunteer Paving, LLC		\$0.7500	\$416.25
		ψο σσσ	ψσ.=σ
712-01 TRAFFIC CONTROL			
	1.000 LS		
Superior Traffic Control, LLC		\$5,000.0000	\$5,000.00
LU, Inc.		\$4,000.0000	\$4,000.00
Volunteer Paving, LLC		\$1,000.0000	\$1,000.00
713-02.21 SIGN POST DELINEATION ENHANC	EMENT		
	900.000 L.F.		
Superior Traffic Control, LLC		\$5.0000	\$4,500.00
LU, Inc.		\$5.5700	\$5,013.00
Volunteer Paving, LLC		\$5.7300	\$5,157.00
740 44 04			
713-11.01 "U" SECTION STEEL POSTS	0.570.000.5		
	2,570.000 LB.	<b>.</b>	<b>.</b>
Superior Traffic Control, LLC		\$3.8500 \$4.8000	\$9,894.50

LU, Inc.

Volunteer Paving, LLC

\$12,567.30

\$9,611.80

\$4.8900

\$3.7400

	UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
	2,314.000 LB.	
Superior Traffic Control, LLC	\$4.1500	\$9,603.10
LU, Inc.	\$5.6900	\$13,166.66
Volunteer Paving, LLC	\$4.5800	\$10,598.12
713-11.21 P POST SLIP BASE		
	25.000 EACH	
Superior Traffic Control, LLC	\$350.0000	\$8,750.00
LU, Inc.	\$491.9900 \$503.0000	\$12,299.75 \$13,575.00
Volunteer Paving, LLC	\$503.0000	\$12,575.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
	477.000 S.F.	
Superior Traffic Control, LLC	\$12.7500	\$6,081.75
LU, Inc. Volunteer Paving, LLC	\$13.0600 \$19.3800	\$6,229.62 \$9,244.26
Volunteer Faving, LLC	\$19.3000	φ9,244.20
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	468.000 S.F.	
Superior Traffic Control, LLC	\$13.7500	\$6,435.00
LU, Inc. Volunteer Paving, LLC	\$13.7800 \$20.1400	\$6,449.04 \$9,425.52
volunteer r aving, LLO	\$20.1400	ψ9,423.32
713-15.36 REMOVE SIGN, SUPPORT & FOOTING		
	44.000 EACH	
Superior Traffic Control, LLC	\$10.0000	\$440.00
LU, Inc. Volunteer Paving, LLC	\$31.7300 \$31.0800	\$1,396.12 \$1,367.52
Volunteer Faving, LLC	\$31.0800	\$1,307.32
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	434.000 L.F.	
Superior Traffic Control, LLC	\$12.0000	\$5,208.00
LU, Inc. Volunteer Paving, LLC	\$12.3000 \$15.0000	\$5,338.20 \$6,510.00
volunteer if aving, LLO	\$13.0000	ψ0,510.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
	45.620 L.M.	
Superior Traffic Control, LLC	\$1,299.0000	\$59,260.38
LU, Inc.	\$1,331.4800 \$1,735,0000	\$60,742.12 \$78,604.50
Volunteer Paving, LLC	\$1,725.0000	\$78,694.50
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)		
	1,145.000 L.F.	
Superior Traffic Control, LLC	\$0.9500	\$1,087.75
LU, Inc. Volunteer Paving, LLC	\$0.9700 \$1.0000	\$1,110.65 \$1,145.00
volunteer raving, LLC	φ1.0000	φ1,145.00

CONTRACT	CN11/4 42

			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Superior Traffic Control, LLC		\$5,000.0000	\$5,000.00
	LU, Inc.		\$3,000.0000	\$3,000.00
	Volunteer Paving, LLC		\$3,000.0000	\$3,000.00

# **SUB-TOTAL ROADWAY**

Superior Traffic Control, LLC	\$141,678.23
LU, Inc.	\$157,891.22
Volunteer Paving, LLC	\$174,908.72

TOTAL CONTRACT	
Superior Traffic Control, LLC	\$141,678.23
LU, Inc.	\$157,891.22
Volunteer Paving, LLC	\$174,908.72

COUNTIES BENTON, CARROLL, CHESTER, CROCKETT, DECATUR, DYER, FAYETTE, GIBSON, HARDEMAN, HARDIN, HAYWOOD, HENDERSON, HENRY, LAKE, LAUDERDALE, MADISON, MCNAIRY, OBION, SHELBY, TIPTON, AND WEAKLEY (Contract No. CNV196 Call 005)

98400-4181-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

TOTAL CONTRACT

Superior Traffic Control, LLC

\$179,659.95

LU, Inc.

\$185,537.01

	NANCE CATEGORY		UNIT PRICE	ONTRACT CNV196 EXTENSION
MAINIEN	NANCE CATEGORY			
712-01.02	LANE CLOSURE			
		2.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$250.0000 \$147.4800	\$500.00 \$294.96
	20, 110.		ψ117.1000	Ψ201.00
12-01.03	LANE CLOSURE(NIGHT WORK)			
	0	20.000 EACH	<b>4.</b> 400 0000	<b>*</b>
	Superior Traffic Control, LLC LU, Inc.		\$1,100.0000 \$1,009.8000	\$22,000.00 \$20,196.00
	25,5.		<b>4</b> 1,000.0000	<b>4</b> 20,100.00
12-08.03	ARROW BOARD (TYPE C)			
	Our arise Traffic Oast 1110	12.000 EACH	<b>#</b> 505.000	<b>A7</b> (10 00
	Superior Traffic Control, LLC LU, Inc.		\$595.0000 \$479.2900	\$7,140.00 \$5,751.48
			,	<b>,</b> , , , , , , , , , , , , , , , , , ,
12-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	O : T ( O : LUO	10.000 DAY	Ф4 000 0000	<b>#</b> 40.000.00
	Superior Traffic Control, LLC LU, Inc.		\$1,000.0000 \$918.0000	\$10,000.00 \$9,180.00
	,		·	
13-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORT			
	Superior Traffic Control, LLC	3.000 C.Y.	\$645.0000	\$1,935.00
	LU, Inc.		\$597.7100	\$1,793.13
13-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN S	•		
	Superior Traffic Control, LLC	1,000.000 LB.	\$2.8000	\$2,800.00
	LU, Inc.		\$2.9000	\$2,900.00
'13-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS	0.000.000 l D		
	Superior Traffic Control, LLC	2,000.000 LB.	\$4.0500	\$8,100.00
	LU, Inc.		\$4.8700	\$9,740.00
13-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPP	2,000.000 LB.		
	Superior Traffic Control, LLC	2,000.000 LB.	\$4.0500	\$8,100.00
	LU, Inc.		\$4.8700	\$9,740.00
40.44.04	WWW. OF OTHER DOORS			
13-11.01	"U" SECTION STEEL POSTS	20 000 L B		
	Superior Traffic Control, LLC	30.000 LB.	\$3.1500	\$94.50
	LU, Inc.		\$3.6900	\$110.70
42_44_00	PERFORATED/KNOCKOUT SQUARE TUBE POST			
13-11.02	FENFORATED/KNOCKOUT SQUAKE TUBE PUST	40.000 LB.		
	Superior Traffic Control, LLC	.0.000	\$3.4500	\$138.00
	LU. Inc.		\$2,9500	\$118.00

LU, Inc.

\$2.9500

CONTRACT	CNV196

			•	CONTRACT CNV196
			UNIT PRICE	EXTENSION
713-11.05	SQUARE TUBE SIGN SUPPORT			
		15.000 LB.		
	Superior Traffic Control, LLC		\$3.9000	\$58.50
	LU, Inc.		\$3.7200	\$55.80
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THIC	CK)		
		10.000 S.F.		
	Superior Traffic Control, LLC		\$13.2500	\$132.50
	LU, Inc.		\$10.3200	\$103.20
713-13 03	FLAT SHEET ALUMINUM SIGNS (0.100" THIC	CK)		
110 10100	(0.100	50.000 S.F.		
	Superior Traffic Control, LLC	30.000 3.1 .	\$14.1500	\$707.50
	LU, Inc.		\$11.0600	\$553.00
			·	
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.080)	' THICK)		
		300.000 S.F.		
	Superior Traffic Control, LLC		\$15.0000	\$4,500.00
	LU, Inc.		\$13.6400	\$4,092.00
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
	Our arise Traffic Ocatast III O	75.000 S.F.	<b>#</b> F 0500	<b>\$200.75</b>
	Superior Traffic Control, LLC LU, Inc.		\$5.2500 \$3.2100	\$393.75 \$240.75
	20, 1110.		ψ0.2100	Ψ2 10.7 0
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,000.000 S.F.		
	Superior Traffic Control, LLC		\$21.5000	\$86,000.00
	LU, Inc.		\$24.5000	\$98,000.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		15.000 EACH	<b>*</b> 4 <b>=</b> 0000	<b>4075.00</b>
	Superior Traffic Control, LLC LU, Inc.		\$45.0000 \$47.9300	\$675.00 \$718.95
	LO, IIIC.		φ47.9300	φ/10.95
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED	SIGNS WITH SADDLE SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$45.0000	\$1,350.00
	LU, Inc.		\$55.3000	\$1,659.00
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED S	SIGNS W/ FLAT PLAT SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$40.0000	\$1,200.00
	LU, Inc.		\$47.9300	\$1,437.90
713-15 26	REMOVE SIGN, SUPPORT & FOOTING			
113-13.30	NEMOVE GIGH, GOLLONI & FOOTING	6.000 EACH		
	Superior Traffic Control, LLC	0.000 EACH	\$250.0000	\$1,500.00
	LU, Inc.		\$184.3400	\$1,300.00 \$1,106.04
				. ,

			CC	NTRACT CNV196
			UNIT PRICE	EXTENSION
713-15.38 E	XTRUDED ALUMINUM PANELS FOR OVERLAYING BACKGROU	JND		
		10.000 S.F.		
S	uperior Traffic Control, LLC		\$14.0000	\$140.00
LI	U, Inc.		\$2.7600	\$27.60
713-16.90 R	ESET GROUND MOUNTED SIGN			
		10.000 EACH		
S	superior Traffic Control, LLC		\$500.0000	\$5,000.00
LI	U, Inc.		\$10.2000	\$102.00
713-17.02 IN	NSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
		12.000 EACH		
	superior Traffic Control, LLC		\$75.0000	\$900.00
LI	U, Inc.		\$82.7600	\$993.12
713-17.04 IN	NSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
		60.000 L.F.		
	superior Traffic Control, LLC		\$7.8500	\$471.00
LI	U, Inc.		\$5.1600	\$309.60
713-20.30 S	IGN ADJUSTMENTS			
		50.000 EACH		
	superior Traffic Control, LLC		\$300.0000	\$15,000.00
LI	U, Inc.		\$314.8200	\$15,741.00
713-30.08 B	ARRIER MOUNTED PERFORATED/KNOCKOUT SIGN SUPPORT	г		
		75.000 LB.		
S	superior Traffic Control, LLC		\$4.2500	\$318.75
LI	U, Inc.		\$2.9500	\$221.25
713-30.09 B	ARRIER MOUNTED SIGN SUPPORT			
		1.000 EACH		
S	superior Traffic Control, LLC		\$500.0000	\$500.00
LI	U, Inc.		\$202.7800	\$202.78
713-30.10 B	ARRIER MOUNTED SIGN SUPPORT (PERF/KNOCKOUT)			
		1.000 EACH		
	uperior Traffic Control, LLC		\$5.4500	\$5.45
LI	U, Inc.		\$148.7500	\$148.75

 Superior Traffic Control, LLC
 \$179,659.95

 LU, Inc.
 \$185,537.01

# **TOTAL CONTRACT**

 Superior Traffic Control, LLC
 \$179,659.95

 LU, Inc.
 \$185,537.01

COUNTIES BLEDSOE, BRADLEY, CANNON, CLAY, COFFEE, CUMBERLAND, DEKALB, FENTRESS, FRANKLIN, GRUNDY, HAMILTON, JACKSON, MARION, MCMINN, MEIGS, OVERTON, PICKETT, POLK, PUTNAM, RHEA, SEQUATCHIE, VAN BUREN, WARREN, AND WHITE (Contract No. CNV194 Call 006)

98200-4177-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

**TOTAL CONTRACT** 

Superior Traffic Control, LLC

\$186,004.70

LU, Inc.

\$213,974.16

			Co	ONTRACT CNV194
MAINTEN	IANCE CATEGORY		UNIT PRICE	EXTENSION
712-01.02	LANE CLOSURE			
	Superior Traffic Control, LLC LU, Inc.	15.000 EACH	\$275.0000 \$145.1800	\$4,125.00 \$2,177.70
712-01.03	LANE CLOSURE(NIGHT WORK)			
	Superior Traffic Control, LLC LU, Inc.	4.000 EACH	\$1,200.0000 \$1,028.5000	\$4,800.00 \$4,114.00
712-08.03	ARROW BOARD (TYPE C)			
	Superior Traffic Control, LLC LU, Inc.	7.000 EACH	\$595.0000 \$471.8400	\$4,165.00 \$3,302.88
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	Superior Traffic Control, LLC LU, Inc.	24.000 DAY	\$975.0000 \$935.0000	\$23,400.00 \$22,440.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPO			
	Superior Traffic Control, LLC LU, Inc.	9.000 C.Y.	\$665.0000 \$610.6100	\$5,985.00 \$5,495.49
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN			
	Superior Traffic Control, LLC LU, Inc.	2,400.000 LB.	\$2.8500 \$2.9600	\$6,840.00 \$7,104.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS			
	Superior Traffic Control, LLC LU, Inc.	3,000.000 LB.	\$4.2000 \$5.1400	\$12,600.00 \$15,420.00
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUF	PPORT		
	Superior Traffic Control, LLC LU, Inc.	12,500.000 LB.	\$4.2000 \$5.1400	\$52,500.00 \$64,250.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Superior Traffic Control, LLC LU, Inc.	23.000 LB.	\$3.6000 \$2.9000	\$82.80 \$66.70
713-11.05	SQUARE TUBE SIGN SUPPORT			
	Superior Traffic Control, LLC LU, Inc.	10.000 LB.	\$3.9000 \$5.0100	\$39.00 \$50.10
				PAGE 2

CONTRACT CNV194	COL	NTRACT	CNV194
-----------------	-----	--------	--------

			CO	NIRACI CNV194
			UNIT PRICE	EXTENSION
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		30.000 S.F.		
	Superior Traffic Control, LLC		\$13.5500	\$406.50
	LU, Inc.		\$10.1600	\$304.80
	LO, IIIC.		\$10.1000	φ304.80
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		20.000 S.F.		
	Superior Traffic Control, LLC		\$14.1500	\$283.00
	LU, Inc.		\$10.8900	\$217.80
			,	•
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)			
		30.000 S.F.		
	Superior Traffic Control, LLC		\$16.2500	\$487.50
	LU, Inc.		\$10.3600	\$310.80
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		200.000 S.F.		
	Superior Traffic Control, LLC		\$5.9500	\$1,190.00
	LU, Inc.		\$3.1600	\$632.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		2,600.000 S.F.		
	Superior Traffic Control, LLC		\$21.5000	\$55,900.00
	LU, Inc.		\$26.6200	\$69,212.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		3.000 EACH		
	Superior Traffic Control, LLC		\$50.0000	\$150.00
	LU, Inc.		\$47.1800	\$141.54
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS	WITH SADDLE SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$45.0000	\$1,350.00
	LU, Inc.		\$54.4400	\$1,633.20
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS W			
		30.000 EACH		
	Superior Traffic Control, LLC		\$40.0000	\$1,200.00
	LU, Inc.		\$47.1800	\$1,415.40
712 15 26	REMOVE SIGN, SUPPORT & FOOTING			
713-13.30	REMOVE SIGN, SUFFORT & FOOTING	9 000 EACH		
	Superior Troffic Control 11.0	8.000 EACH	\$250.0000	\$2,000.00
	Superior Traffic Control, LLC LU, Inc.		\$250.0000 \$181.4800	\$2,000.00 \$1,451.84
	20, 110.		ψ101. <del>1</del> 000	ψ1, <del>τ</del> 01.04
713-15.37	INSTALLATION OF SIGN MESSAGE(LETTER,#,ARRO	OW,SHIELD)		
		15.000 S.F.		
	Superior Traffic Control, LLC		\$13.0000	\$195.00
	LU, Inc.		\$39.9200	\$598.80

	CT	

		C	ONTRACT CNV194
		UNIT PRICE	EXTENSION
713-15.38 EXTRUDED ALUMINUM PANELS FOR OVERLAYING B.	ACKGROUND		
	10.000 S.F.		
Superior Traffic Control, LLC		\$14.0000	\$140.00
LU, Inc.		\$2.7600	\$27.60
713-16.90 RESET GROUND MOUNTED SIGN			
	10.000 EACH		
Superior Traffic Control, LLC		\$500.0000	\$5,000.00
LU, Inc.		\$1,088.8500	\$10,888.50
713-17.02 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PA	ANEL		
	5.000 EACH		
Superior Traffic Control, LLC		\$75.0000	\$375.00
LU, Inc.		\$84.5500	\$422.75
713-17.04 INSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
	60.000 L.F.		
Superior Traffic Control, LLC		\$8.0000	\$480.00
LU, Inc.		\$5.0800	\$304.80
713-20.30 SIGN ADJUSTMENTS			
	4.000 EACH		
Superior Traffic Control, LLC		\$325.0000	\$1,300.00
LU, Inc.		\$332.7500	\$1,331.00
713-30.09 BARRIER MOUNTED SIGN SUPPORT			
	2.000 EACH		
Superior Traffic Control, LLC		\$500.0000	\$1,000.00
LU, Inc.		\$181.4800	\$362.96
742 20 40 PARRIER MOUNTER SIGN SURRORT (REDE/VNOCKO	UT)		
713-30.10 BARRIER MOUNTED SIGN SUPPORT (PERF/KNOCKO			
0	2.000 EACH	<b>A= 4=00</b>	<b>*</b> 40.00
Superior Traffic Control, LLC		\$5.4500	\$10.90
LU, Inc.		\$148.7500	\$297.50

 Superior Traffic Control, LLC
 \$186,004.70

 LU, Inc.
 \$213,974.16

# **TOTAL CONTRACT**

 Superior Traffic Control, LLC
 \$186,004.70

 LU, Inc.
 \$213,974.16

#### CLAIBORNE COUNTY (Contract No. CNV144 Call 007)

HSIP-33(130),13003-3242-94,13003-4242-04

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON S.R. 33 FROM NEAR NEW HOPE ROAD (L.M. 4.70) TO NEAR RUSSELL ROAD (L.M. 10.48).

PROJECT LENGTH - 5.530 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 5.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$919,449.50

		co	NTRACT CNV144
ROADWAY CATEGORY		UNIT PRICE	EXTENSION
208-01.05 BROOMING & DEGRASSING SHOULDERS			
	11.000 L.M.	<b>*</b> • • • • • • • • • • • • • • • • • • •	<b>*</b>
Rogers Group, Inc.		\$1,084.0000	\$11,924.00
307-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS	1,178.000 TON		
Rogers Group, Inc.		\$98.1000	\$115,561.80
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)	94.000 TON		
Rogers Group, Inc.		\$620.0000	\$58,280.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN	WIDTH) 9.000 L.M.		\$4,950.00
Rogers Group, Inc.		\$550.0000	
415-01.02 COLD PLANING BITUMINOUS PAVEMENT	1,553.000 S.Y.		
Rogers Group, Inc.	1,333.900 0.1.	\$6.8000	\$10,560.40
712-01 TRAFFIC CONTROL	1.000 LS		
Rogers Group, Inc.		\$13,220.0000	\$13,220.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
Rogers Group, Inc.	154.000 EACH	\$36.7500	\$5,659.50
712-05.01 WARNING LIGHTS (TYPE A)			
Rogers Group, Inc.	77.000 EACH	\$30.6000	\$2,356.20
712-06 SIGNS (CONSTRUCTION)			
Rogers Group, Inc.	741.000 S.F.	\$6.2000	\$4,594.20
712-08.03 ARROW BOARD (TYPE C)			
Rogers Group, Inc.	2.000 EACH	\$410.0000	\$820.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(1 COLOR)		
Rogers Group, Inc.	556.000 EACH	\$25.0000	\$13,900.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-D	NR)(1 COLOR)	<b>4</b> 25.6555	Ψ.ο,οσο.οσ
	124.000 EACH	\$25.0000	\$3,100.00
Rogers Group, Inc.			

		CONTRACT CNV144	
	UNIT PRICE	EXTENSION	
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
300.000 S		<b>AT</b> 400 00	
Rogers Group, Inc.	\$18.0000	\$5,400.00	
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE) 200.000 L	F.		
Rogers Group, Inc.	\$10.0000	\$2,000.00	
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	w)		
29.000 E Rogers Group, Inc.	<b>EACH</b> \$155.0000	\$4,495.00	
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
2,012.000 L		<b>#</b> 40,000,00	
Rogers Group, Inc.	\$5.0000	\$10,060.00	
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)  8.000 E	EACH		
Rogers Group, Inc.	\$360.0000	\$2,880.00	
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
6.000 L Rogers Group, Inc.	<b>M.</b> \$660.0000	\$3,960.00	
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
23.000 L	М.		

1.000 LS

Rogers Group, Inc.

Rogers Group, Inc.

**MOBILIZATION** 

717-01

\$61,640.00

\$24,010.00

\$2,680.0000

\$24,010.0000

UNIT PRICE EXTENSION

# **ROADWAY ALTERNATE AA1 CATEGORY**

# 411-03.08 ACS MIX(PG70-22) THIN LIFT ASPHALT

5,908.000 TON

Rogers Group, Inc.

**CONTRACT CNV144** 

UNIT PRICE EXTENSION

**ROADWAY ALTERNATE AA2 CATEGORY** 

411-03.13 ACS MIX(PG70-22) THIN LIFT D ASPHALT

5,908.000 TON

Rogers Group, Inc. \$94.8000 \$560,078.40

## **SUB-TOTAL ROADWAY**

Rogers Group, Inc. \$359,371.10

## **SUB-TOTAL ROADWAY ALTERNATE AA1**

## **SUB-TOTAL ROADWAY ALTERNATE AA2**

Rogers Group, Inc. \$560,078.40

## **TOTAL CONTRACT**

Rogers Group, Inc. \$919,449.50

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### CLAIBORNE COUNTY (Contract No. CNV142 Call 008)

13002-4275-04

THE REPAIR OF THE BRIDGE ON U.S. 25E (S.R. 32) OVER THE POWELL RIVER (L.M. 15.96).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL CONTRACT

Southern Constructors, Inc.

\$1,118,275.00

Mid-State Construction Company, Inc.

\$1,156,626.21

CONTRACT	<b>CNV142</b>
----------	---------------

			CC	NTRACT CNV142
BRIDGE (	CATEGORY		UNIT PRICE	EXTENSION
201-05.31	VEGETATION REMOVAL			
		1.000 LS		
	Southern Constructors, Inc. Mid-State Construction Company, Inc.		\$12,000.0000 \$18,000.0000	\$12,000.00 \$18,000.00
202-04.01	REMOVAL OF STRUCTURES (BRIDGE NO. 13-SR032-15.	96)		
		1.000 LS		
	Southern Constructors, Inc. Mid-State Construction Company, Inc.		\$80,000.0000 \$50,000.0000	\$80,000.00 \$50,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Southarn Constructors Inc	64.000 C.Y.	<b>#</b> 00,000	<b>#2.040.00</b>
	Southern Constructors, Inc. Mid-State Construction Company, Inc.		\$60.0000 \$32.5100	\$3,840.00 \$2,080.64
209-03.20	FILTER SOCK (8 INCH)	366 000 L E		
	Southern Constructors, Inc.	366.000 L.F.	\$10.0000	\$3,660.00
	Mid-State Construction Company, Inc.		\$6.8900	\$2,521.74
209-08.08	ENHANCED ROCK CHECK DAM	2.000 EACH		
	Southern Constructors, Inc.	2.000 EACH	\$2,500.0000	\$5,000.00
	Mid-State Construction Company, Inc.		\$1,673.3600	\$3,346.72
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADI	NG B-M2 25.000 TON		
	Southern Constructors, Inc.	20.000 1014	\$700.0000	\$17,500.00
	Mid-State Construction Company, Inc.		\$550.0000	\$13,750.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	0.100 TON		
	Southern Constructors, Inc.		\$1,500.0000	\$150.00
	Mid-State Construction Company, Inc.		\$1,100.0000	\$110.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	2.300 TON		
	Southern Constructors, Inc.	2.300 TON	\$1,500.0000	\$3,450.00
	Mid-State Construction Company, Inc.		\$1,100.0000	\$2,530.00
411-02.10	ACS MIX(PG70-22) GRADING D	335.000 TON		
	Southern Constructors, Inc.	333.000 TON	\$220.0000	\$73,700.00
	Mid-State Construction Company, Inc.		\$225.0000	\$75,375.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDT	TH) 1.000 L.M.		
	Southern Constructors, Inc.		\$3,000.0000	\$3,000.00
	Mid-State Construction Company, Inc.		\$4,000.0000	\$4,000.00
				PAGE

CONTRACT CI	NV142
-------------	-------

				CONTRACT CNV14	42
			UNIT PRICE	EXTENSION	1
415-01.02	COLD PLANING BITUMINOUS PAVEMENT				
		5,053.000 S.Y.			
	Southern Constructors, Inc.		\$10.0000	\$50,530.00	
	Mid-State Construction Company, Inc.		\$9.0000	\$45,477.00	
604-03.04	PAVEMENT @ BRIDGE ENDS				
		470.000 S.Y.			
	Southern Constructors, Inc.		\$400.0000	\$188,000.00	
	Mid-State Construction Company, Inc.		\$428.0900	\$201,202.30	
604-04.02	APPLIED TEXTURE FINISH (EXISTING STRUCTURES)				
		490.000 S.Y.			
	Southern Constructors, Inc.		\$12.0000	\$5,880.00	
	Mid-State Construction Company, Inc.		\$11.0000	\$5,390.00	
604-10.05	CONCRETE				
		22.000 S.F.			
	Southern Constructors, Inc.		\$200.0000	\$4,400.00	
	Mid-State Construction Company, Inc.		\$195.0900	\$4,291.98	
604-10.30	BRIDGE DECK REPAIRS (FULL DEPTH OF SLAB)				
	,	10.000 S.Y.			
	Southern Constructors, Inc.		\$700.0000	\$7,000.00	
	Mid-State Construction Company, Inc.		\$523.7300	\$5,237.30	
604-10.42	CONCRETE REPAIRS				
		3.000 C.F.			
	Southern Constructors, Inc.		\$1,800.0000	\$5,400.00	
	Mid-State Construction Company, Inc.		\$1,934.3800	\$5,803.14	
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)				
		10.000 S.Y.			
	Southern Constructors, Inc.		\$300.0000	\$3,000.00	
	Mid-State Construction Company, Inc.		\$196.0400	\$1,960.40	
604-10.54	CONCRETE REPAIRS				
		22.000 S.F.			
	Southern Constructors, Inc.		\$200.0000	\$4,400.00	
	Mid-State Construction Company, Inc.		\$196.3500	\$4,319.70	
604-10.58	EPOXY INJECTION (INJECTION)				
		10.000 GAL.			
	Southern Constructors, Inc.		\$200.0000	\$2,000.00	
	Mid-State Construction Company, Inc.		\$385.0000	\$3,850.00	
604-10.62	EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)				
	•	100.000 L.F.			
	Southern Constructors, Inc.		\$150.0000	\$15,000.00	
	Mid-State Construction Company, Inc.		\$165.0000	\$16,500.00	

				CONTRACT CNV142
			UNIT PRICE	EXTENSION
610-10.40	BRIDGE DECK DRAINS			
		1.000 LS		
	Southern Constructors, Inc.		\$2,000.0000	\$2,000.00
	Mid-State Construction Company, Inc.		\$8,455.7100	\$8,455.71
617-04.01	TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)			
		5,560.000 S.Y.		
	Southern Constructors, Inc.		\$40.0000	\$222,400.00
	Mid-State Construction Company, Inc.		\$45.0000	\$250,200.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		102.000 TON		
	Southern Constructors, Inc.		\$70.0000	\$7,140.00
	Mid-State Construction Company, Inc.		\$60.0000	\$6,120.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Southern Constructors, Inc.		\$60,000.0000	\$60,000.00
	Mid-State Construction Company, Inc.		\$65,000.0000	\$65,000.00
712-02.10	PORTABLE BARRIER RAIL (MASH TL-3)			
		1,790.000 L.F.		
	Southern Constructors, Inc.		\$50.0000	\$89,500.00
	Mid-State Construction Company, Inc.		\$60.0000	\$107,400.00
712-02.60	TEMPORARY WORK ZONE CRASH CUSHION (MASH TL-3	3)		
		4.000 EACH		
	Southern Constructors, Inc.		\$8,000.0000	\$32,000.00
	Mid-State Construction Company, Inc.		\$7,150.0000	\$28,600.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		230.000 EACH		
	Southern Constructors, Inc.		\$35.0000	\$8,050.00
	Mid-State Construction Company, Inc.		\$30.8000	\$7,084.00
712-04.50	BARRIER RAIL DELINEATOR			
		59.000 EACH		
	Southern Constructors, Inc.		\$25.0000	\$1,475.00
	Mid-State Construction Company, Inc.		\$13.2000	\$778.80
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Southern Constructors, Inc.		\$35.0000	\$140.00
	Mid-State Construction Company, Inc.		\$33.0000	\$132.00
712-06	SIGNS (CONSTRUCTION)			
		505.000 S.F.		
	Southern Constructors, Inc.		\$15.0000	\$7,575.00
	Mid-State Construction Company, Inc.		\$9.7700	\$4,933.85

			UNIT PRICE	EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		72.000 L.F.		
	Southern Constructors, Inc.		\$20.0000	\$1,440.00
	Mid-State Construction Company, Inc.		\$14.8500	\$1,069.20
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Southern Constructors, Inc.		\$3,500.0000	\$7,000.00
	Mid-State Construction Company, Inc.		\$929.5000	\$1,859.00
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		1,090.000 L.F.		
	Southern Constructors, Inc.		\$3.5000	\$3,815.00
	Mid-State Construction Company, Inc.		\$2.3100	\$2,517.90
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		18,230.000 L.F.		
	Southern Constructors, Inc.		\$4.0000	\$72,920.00
	Mid-State Construction Company, Inc.		\$3.3000	\$60,159.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
		110.000 L.F.		
	Southern Constructors, Inc.		\$20.0000	\$2,200.00
	Mid-State Construction Company, Inc.		\$22.0000	\$2,420.00
713-02.26	CONCRETE BARRIER/PARAPET DELINEATOR			
		84.000 EACH		
	Southern Constructors, Inc.		\$15.0000	\$1,260.00
	Mid-State Construction Company, Inc.		\$13.2000	\$1,108.80
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR	R) (1 COLOR)		
		322.000 EACH		
	Southern Constructors, Inc.		\$30.0000	\$9,660.00
	Mid-State Construction Company, Inc.		\$26.4000	\$8,500.80
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-	DIR)(1 COLOR)		
	(	322.000 EACH		
	Southern Constructors, Inc.	322.333 E7(31)	\$30.0000	\$9,660.00
	Mid-State Construction Company, Inc.		\$26.4000	\$8,500.80
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		644.000 EACH		
	Southern Constructors, Inc.	2	\$10.0000	\$6,440.00
	Mid-State Construction Company, Inc.		\$8.8000	\$5,667.20
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE	3)		
		2.500 L.M.		
	Southern Constructors, Inc.	EIVVV EIITII	\$5,500.0000	\$13,750.00
	Mid-State Construction Company, Inc.		\$5,280.0000	\$13,200.00
	• •			

CON	JTR/	\CT	CNV <sub>1</sub>	42

			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Southern Constructors, Inc.		\$60,000.0000	\$60,000.00
	Mid-State Construction Company, Inc.		\$100,000.0000	\$100,000.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		162.000 S.Y.		
	Southern Constructors, Inc.		\$12.0000	\$1,944.00
	Mid-State Construction Company, Inc.		\$5.5000	\$891.00
740-11.02	2 TEMPORARY SEDIMENT TUBE 12IN			
		583.000 L.F.		
	Southern Constructors, Inc.		\$12.0000	\$6,996.00
	Mid-State Construction Company, Inc.		\$5.8100	\$3,387.23
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		750.000 L.F.		
	Southern Constructors, Inc.		\$4.0000	\$3,000.00
	Mid-State Construction Company, Inc.		\$3.8600	\$2,895.00
			ψ0.000	Ψ=,555.00

## **SUB-TOTAL BRIDGE**

Southern Constructors, Inc.	\$1,118,275.00
Mid-State Construction Company, Inc.	\$1,156,626.21

## TOTAL CONTRACT

TAL CONTINUO	
Southern Constructors, Inc.	\$1,118,275.00
Mid-State Construction Company, Inc.	\$1,156,626.21

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### COCKE AND GREENE COUNTIES (Contract No. CNV146 Call 009)

HSIP-35(76),30005-3251-94,30005-4251-04,STP/HSIP-35(77),15009-3229-94,15009-8229-14

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON U.S. 321 (S.R. 35) FROM NEAR CLOUD WAY (L.M. 9.48) IN COCKE COUNTY TO NEAR BRIGHT HOPE ROAD (L.M. 3.90) IN GREENE COUNTY.

PROJECT LENGTH - 7.440 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 5.50%

TOTAL CONTRACT

Summers-Taylor, Inc.

\$1,935,532.60

Newport Paving Company, Inc.

\$2,321,321.69

			CONTRACT CNV146
DO A DWAY O ATTOONY		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
208-01.05 BROOMING & DEGRASSING SHOULDERS			
	21.800 L.M.		
Summers-Taylor, Inc.		\$1,595.0000	\$34,771.00
Newport Paving Company, Inc.		\$2,000.0000	\$43,600.00
307-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	2,100.000 TON		
Summers-Taylor, Inc.		\$124.5000	\$261,450.00
Newport Paving Company, Inc.		\$139.7500	\$293,475.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	161.000 TON		
Summers-Taylor, Inc.		\$945.0000	\$152,145.00
Newport Paving Company, Inc.		\$875.0000	\$140,875.00
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	7.600 L.M.		
Summers-Taylor, Inc.		\$725.0000	\$5,510.00
Newport Paving Company, Inc.		\$500.0000	\$3,800.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	11.500 L.M.		
Summers-Taylor, Inc.		\$675.0000	\$7,762.50
Newport Paving Company, Inc.		\$500.0000	\$5,750.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
	3,604.000 S.Y.		
Summers-Taylor, Inc.  Newport Paving Company, Inc.		\$3.5000 \$5.0000	\$12,614.00 \$18,020.00
Newport I aving Company, inc.		ψ5.0000	φ10,020.00
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN			
	2.000 EACH		
Summers-Taylor, Inc.  Newport Paving Company, Inc.		\$165.0000 \$165.0000	\$330.00 \$330.00
Newport I aving Company, inc.		φ105.0000	ψ330.00
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
	2.000 EACH	<b>A. A.</b>	<b>A. A.</b>
Summers-Taylor, Inc.  Newport Paving Company, Inc.		\$1,300.0000 \$1,292.5000	\$2,600.00 \$2,585.00
. to the company, mo.		ψ.,202.0000	ΨΣ,000.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			

		7.600 L.M.		
	Summers-Taylor, Inc.		\$725.0000	\$5,510.00
	Newport Paving Company, Inc.		\$500.0000	\$3,800.00
.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		11.500 L.M.		
	Summers-Taylor, Inc.		\$675.0000	\$7,762.50
	Newport Paving Company, Inc.		\$500.0000	\$5,750.00
.02	COLD PLANING BITUMINOUS PAVEMENT			
	3,	604.000 S.Y.		
	Summers-Taylor, Inc.		\$3.5000	\$12,614.00
	Newport Paving Company, Inc.		\$5.0000	\$18,020.00
.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		2.000 EACH		
	Summers-Taylor, Inc.		\$165.0000	\$330.00
	Newport Paving Company, Inc.		\$165.0000	\$330.00
.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH		
	Summers-Taylor, Inc.		\$1,300.0000	\$2,600.00
	Newport Paving Company, Inc.		\$1,292.5000	\$2,585.00
.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	Summers-Taylor, Inc.		\$2,900.0000	\$5,800.00
	Newport Paving Company, Inc.		\$2,970.0000	\$5,940.00
	TRAFFIC CONTROL			
		1.000 LS		
	Summers-Taylor, Inc.		\$48,775.0000	\$48,775.00
	Newport Paving Company, Inc.		\$73,044.3000	\$73,044.30
				PAGE

712-01

				CONTRACT CNV146
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	231.000 EACH		
	Summers-Taylor, Inc.		\$43.0000	\$9,933.00
	Newport Paving Company, Inc.		\$29.1500	\$6,733.65
712-05.01	WARNING LIGHTS (TYPE A)			
		115.000 EACH		
	Summers-Taylor, Inc.		\$33.4000	\$3,841.00
	Newport Paving Company, Inc.		\$24.7500	\$2,846.25
712-06	SIGNS (CONSTRUCTION)			
		1,599.000 S.F.		
	Summers-Taylor, Inc.	.,	\$7.5000	\$11,992.50
	Newport Paving Company, Inc.		\$8.2500	\$13,191.75
712-08 03	ARROW BOARD (TYPE C)			
712 00.00	Auton Board (TT 2 0)	8.000 EACH		
	Summers-Taylor, Inc.	0.000 27.011	\$485.0000	\$3,880.00
	Newport Paving Company, Inc.		\$1,402.5000	\$11,220.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (B	I-DIR) (1 COLOR)		
	(5)	236.000 EACH		
	Summers-Taylor, Inc.	200,000 27,011	\$24.0000	\$5,664.00
	Newport Paving Company, Inc.		\$24.2000	\$5,711.20
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (B	I-DIR)(2 COLOR)		
	(-	506.000 EACH		
	Summers-Taylor, Inc.		\$24.0000	\$12,144.00
	Newport Paving Company, Inc.		\$24.2000	\$12,245.20
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARK	ER		
		464.000 EACH		
	Summers-Taylor, Inc.		\$8.0000	\$3,712.00
	Newport Paving Company, Inc.		\$7.4300	\$3,447.52
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION S	TRIPING)		
	·	400.000 S.Y.		
	Summers-Taylor, Inc.		\$18.0000	\$7,200.00
	Newport Paving Company, Inc.		\$18.4300	\$7,372.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	,	113.000 L.F.		
	· · · · ·		<b>*</b> 40.000	<b>#4.400.00</b>

4.000 EACH

Summers-Taylor, Inc.

Summers-Taylor, Inc.

Newport Paving Company, Inc.

Newport Paving Company, Inc.

716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)

\$1,130.00

\$1,088.19

\$620.00

\$660.00

\$10.0000

\$155.0000

\$165.0000

\$9.6300

			CONTRACT CNV146
		UNIT PRICE	EXTENSION
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
	24.000 S.F.		
Summers-Taylor, Inc.		\$22.0000	\$528.00
Newport Paving Company, Inc.		\$22.0000	\$528.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
	8.000 L.M.		
Summers-Taylor, Inc.		\$895.0000	\$7,160.00
Newport Paving Company, Inc.		\$742.5000	\$5,940.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	32.000 L.M.		
Summers-Taylor, Inc.		\$4,500.0000	\$144,000.00
Newport Paving Company, Inc.		\$4,510.0000	\$144,320.00
717-01 MOBILIZATION			
	1.000 LS		

Summers-Taylor, Inc. Newport Paving Company, Inc. \$32,445.00

\$107,682.63

\$32,445.0000

\$107,682.6300

UNIT PRICE EXTENSION

## **ROADWAY ALTERNATE AA1 CATEGORY**

## 411-03.08 ACS MIX(PG70-22) THIN LIFT ASPHALT

10,096.000 TON

Summers-Taylor, Inc. Newport Paving Company, Inc.

**CONTRACT CNV146** 

UNIT PRICE EXTENSION

**ROADWAY ALTERNATE AA2 CATEGORY** 

411-03.13 ACS MIX(PG70-22) THIN LIFT D ASPHALT

10,096.000 TON

 Summers-Taylor, Inc.
 \$114.8500
 \$1,159,525.60

 Newport Paving Company, Inc.
 \$139.7500
 \$1,410,916.00

# **SUB-TOTAL ROADWAY**

Summers-Taylor, Inc.	\$776,007.00
Newport Paving Company, Inc.	\$910,405.69

# **SUB-TOTAL ROADWAY ALTERNATE AA1**

## **SUB-TOTAL ROADWAY ALTERNATE AA2**

Summers-Taylor, Inc.	\$1,159,525.60
Newport Paving Company, Inc.	\$1,410,916.00

## TOTAL CONTRACT

Summers-Taylor, Inc.	\$1,935,532.60
Newport Paving Company, Inc.	\$2,321,321.69

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### CUMBERLAND COUNTY (Contract No. CNV010 Call 010)

STP/M-462(5),18462-3205-14

THE GRADING, DRAINAGE, CONSTRUCTION OF A CONCRETE BOX BRIDGE, SIGNALS AND PAVING ON PROPOSED S.R. 462 FROM U.S. 127N (S.R. 28) (L.M. 3.10) TO S.R. 298 (GENESIS ROAD) (L.M. 4.63) IN CROSSVILLE.

\$23,866,508.61

PROJECT LENGTH - 1.630 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2023

DBE GOAL 9.00%

Rawso, LLC

	TOTAL CONTRACT
Rogers Group, Inc.	\$19,534,844.75
Jones Bros. Contractors, LLC	\$19,764,152.11
Charles Blalock & Sons, Inc.	\$20,283,927.51

UNIT PRICE	EXTENSION
CIVILLIVIOL	

RO	ΔΙ	ŊΜ	IΔ	γ	CA	TE	ദവ	R\	1

ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Rogers Group, Inc.		\$398,530.4400	\$398,530.44
	Jones Bros. Contractors, LLC		\$315,000.0000	\$315,000.00
	Charles Blalock & Sons, Inc.		\$118,072.5000	\$118,072.50
	Rawso, LLC		\$212,178.1100	\$212,178.11
109-10.01	TRAINEE			
		5,020.000 HOUR	Φο οοοο	<b>#</b> 4.040.00
	Rogers Group, Inc.		\$0.8000	\$4,016.00
	Jones Bros. Contractors, LLC		\$0.8000	\$4,016.00 \$4,016.00
	Charles Blalock & Sons, Inc. Rawso, LLC		\$0.8000 \$0.8000	\$4,016.00 \$4,016.00
	Nawso, LLO		ψ0.0000	ψ+,010.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Rogers Group, Inc.	1.000 20	\$52,471.3800	\$52,471.38
	Jones Bros. Contractors, LLC		\$780,000.0000	\$780,000.00
	Charles Blalock & Sons, Inc.		\$1,193,000.0000	\$1,193,000.00
	Rawso, LLC		\$170,339.4200	\$170,339.42
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Rogers Group, Inc.		\$26,732.9200	\$26,732.92
	Jones Bros. Contractors, LLC		\$25,000.0000	\$25,000.00
	Charles Blalock & Sons, Inc.		\$10,769.8400	\$10,769.84
	Rawso, LLC		\$32,521.2300	\$32,521.23
202-02.21	REMOVAL OF PIPE (8")			
		38.000 L.F.		
	Rogers Group, Inc.		\$10.7800	\$409.64
	Jones Bros. Contractors, LLC		\$25.0000	\$950.00
	Charles Blalock & Sons, Inc.		\$10.6900	\$406.22
	Rawso, LLC		\$21.1300	\$802.94
202-02 22	REMOVAL OF PIPE (10")			
202-02.22	NEMOVAL OF THE (10)	EC 000 L E		
	December Crayer Inc	56.000 L.F.	¢40.5400	¢4.004.04
	Rogers Group, Inc. Jones Bros. Contractors, LLC		\$19.5400 \$25.0000	\$1,094.24 \$1,400.00
	Charles Blalock & Sons, Inc.		\$25.0000 \$10.6900	\$598.64
	Rawso, LLC		\$22.8800	\$1,281.28
	14400, 220		Ψ22.0000	Ψ1,201.20
202-02.23	REMOVAL OF PIPE (12")			
		602.000 L.F.		
	Rogers Group, Inc.		\$22.2000	\$13,364.40
	Jones Bros. Contractors, LLC		\$25.0000	\$15,050.00
	Charles Blalock & Sons, Inc.		\$10.6800	\$6,429.36
	Rawso, LLC		\$22.8800	\$13,773.76

		CO	NIRACI CNV010
		UNIT PRICE	EXTENSION
202-02.24 REMOVAL OF PIPE (15")			
, ,	978.000 L.F.		
Rogers Group, Inc.	0.0.000 =	\$23.2600	\$22,748.28
Jones Bros. Contractors, LLC		\$25.0000	\$24,450.00
Charles Blalock & Sons, Inc.		\$10.6800	\$10,445.04
Rawso, LLC		\$26.0300	\$25,457.34
202-02.25 REMOVAL OF PIPE (18")			
, ,	554.000 L.F.		
Rogers Group, Inc.	33 H333 <u>—</u> H	\$24.4300	\$13,534.22
Jones Bros. Contractors, LLC		\$25.0000	\$13,850.00
Charles Blalock & Sons, Inc.		\$10.6800	\$5,916.72
Rawso, LLC		\$26.0300	\$14,420.62
202-02.26 REMOVAL OF PIPE (24")			
, ,	512.000 L.F.		
Rogers Group, Inc.	0.2.000	\$27.1500	\$13,900.80
Jones Bros. Contractors, LLC		\$25.0000	\$12,800.00
Charles Blalock & Sons, Inc.		\$10.6800	\$5,468.16
Rawso, LLC		\$30.4500	\$15,590.40
202-02.27 REMOVAL OF PIPE (30")			
LOT OF THE (OU)	186.000 L.F.		
Rogers Group, Inc.	100.000 L.1 .	\$30.5400	\$5,680.44
Jones Bros. Contractors, LLC		\$30.3400 \$25.0000	\$4,650.00
Charles Blalock & Sons, Inc.		\$10.6800	\$1,986.48
Rawso, LLC		\$30.4500	\$5,663.70
202-02.28 REMOVAL OF PIPE (36")			
202 02:20 11:20 00 11:20 00 7	1,408.000 L.F.		
Rogers Group, Inc.	.,	\$35.3400	\$49,758.72
Jones Bros. Contractors, LLC		\$25.0000	\$35,200.00
Charles Blalock & Sons, Inc.		\$10.6800	\$15,037.44
Rawso, LLC		\$37.0800	\$52,208.64
202-02.29 REMOVAL OF PIPE (72")			
, ,	66.000 L.F.		
Rogers Group, Inc.	33.333 =	\$61.8500	\$4,082.10
Jones Bros. Contractors, LLC		\$45.0000	\$2,970.00
Charles Blalock & Sons, Inc.		\$48.5500	\$3,204.30
Rawso, LLC		\$81.1600	\$5,356.56
202-02.30 REMOVAL OF PIPE (58" x 36")			
. ,	59.000 L.F.		
Rogers Group, Inc.		\$44.9800	\$2,653.82
Jones Bros. Contractors, LLC		\$45.0000	\$2,655.00
Charles Blalock & Sons, Inc.		\$54.3100	\$3,204.29
Rawso, LLC		\$109.5800	\$6,465.22
			• •

			UNIT PRICE	EXTENSION
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		1,165.000 S.Y.		
	Rogers Group, Inc.		\$9.6000	\$11,184.00
	Jones Bros. Contractors, LLC		\$9.0000	\$10,485.00
	Charles Blalock & Sons, Inc.		\$17.3500	\$20,212.75
	Rawso, LLC		\$19.2300	\$22,402.95
202-08.10	REMOVAL OF CURB (CONCRETE)			
		3,600.000 L.F.		
	Rogers Group, Inc.		\$4.4100	\$15,876.00
	Jones Bros. Contractors, LLC		\$5.0000	\$18,000.00
	Charles Blalock & Sons, Inc.		\$3.4700	\$12,492.00
	Rawso, LLC		\$11.1600	\$40,176.00
202-08.15	REMOVAL OF CURB AND GUTTER (CONCRETE)			
		76.000 L.F.		
	Rogers Group, Inc.		\$10.7600	\$817.76
	Jones Bros. Contractors, LLC		\$7.0000	\$532.00
	Charles Blalock & Sons, Inc.		\$104.1000	\$7,911.60
	Rawso, LLC		\$35.6200	\$2,707.12
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		25,975.000 C.Y.		
	Rogers Group, Inc.		\$15.4700	\$401,833.25
	Jones Bros. Contractors, LLC		\$25.0000	\$649,375.00
	Charles Blalock & Sons, Inc.		\$15.0000	\$389,625.00
	Rawso, LLC		\$21.9700	\$570,670.75
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		32,298.000 C.Y.		
	Rogers Group, Inc.		\$11.3100	\$365,290.38
	Jones Bros. Contractors, LLC		\$1.0000	\$32,298.00
	Charles Blalock & Sons, Inc.		\$17.6200	\$569,090.76
	Rawso, LLC		\$16.5700	\$535,177.86
203-03.01	BORROW EXCAVATION (SELECT MATERIAL)			
		13,365.000 C.Y.		
	Rogers Group, Inc.		\$12.5200	\$167,329.80
	Jones Bros. Contractors, LLC		\$30.0000	\$400,950.00
	Charles Blalock & Sons, Inc.		\$40.1900	\$537,139.35
	Rawso, LLC		\$48.8900	\$653,414.85
203-04	PLACING AND SPREADING TOPSOIL			
		7,300.000 C.Y.		
	Rogers Group, Inc.	, -	\$9.8200	\$71,686.00
	Jones Bros. Contractors, LLC		\$8.0000	\$58,400.00
	Charles Blalock & Sons, Inc.		\$2.8900	\$21,097.00
	Rawso, LLC		\$8.5700	\$62,561.00

			UNIT PRICE	EXTENSION
203-05	UNDERCUTTING			
		13,005.000 C.Y.		
	Rogers Group, Inc.		\$13.0000	\$169,065.00
	Jones Bros. Contractors, LLC		\$12.0000	\$156,060.00
	Charles Blalock & Sons, Inc.		\$10.2100	\$132,781.05
	Rawso, LLC		\$18.8900	\$245,664.45
203-06	WATER			
		670.000 M.G.		
	Rogers Group, Inc.		\$44.6500	\$29,915.50
	Jones Bros. Contractors, LLC		\$5.0000	\$3,350.00
	Charles Blalock & Sons, Inc.		\$18.4700	\$12,374.90
	Rawso, LLC		\$16.6400	\$11,148.80
203-08	CHANNEL EXCAVATION (UNCLASSIFIED)			
		981.000 C.Y.		
	Rogers Group, Inc.		\$14.2200	\$13,949.82
	Jones Bros. Contractors, LLC		\$30.0000	\$29,430.00
	Charles Blalock & Sons, Inc.		\$25.9600	\$25,466.76
	Rawso, LLC		\$23.3000	\$22,857.30
204-08	FOUNDATION FILL MATERIAL			
		221.000 C.Y.		
	Rogers Group, Inc.		\$62.8900	\$13,898.69
	Jones Bros. Contractors, LLC		\$60.0000	\$13,260.00
	Charles Blalock & Sons, Inc.		\$92.7700	\$20,502.17
	Rawso, LLC		\$61.0200	\$13,485.42
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		190.000 C.Y.		
	Rogers Group, Inc.		\$336.5100	\$63,936.90
	Jones Bros. Contractors, LLC		\$260.0000	\$49,400.00
	Charles Blalock & Sons, Inc.		\$407.3300	\$77,392.70
	Rawso, LLC		\$213.1700	\$40,502.30
209-05	SEDIMENT REMOVAL			
		545.000 C.Y.		
	Rogers Group, Inc.		\$14.9700	\$8,158.65
	Jones Bros. Contractors, LLC		\$12.0000	\$6,540.00
	Charles Blalock & Sons, Inc.		\$18.7700	\$10,229.65
	Rawso, LLC		\$29.7000	\$16,186.50
209-08.02	2 TEMPORARY SILT FENCE (WITH BACKING)			
		17,400.000 L.F.		
	Rogers Group, Inc.		\$3.4600	\$60,204.00
	Jones Bros. Contractors, LLC		\$6.5300	\$113,622.00
	Charles Blalock & Sons, Inc.		\$3.6200	\$62,988.00
	Rawso, LLC		\$3.6600	\$63,684.00

			UNIT PRICE	EXTENSION
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		3,000.000 L.F.		
	Rogers Group, Inc.		\$1.6800	\$5,040.00
	Jones Bros. Contractors, LLC		\$1.0400	\$3,120.00
	Charles Blalock & Sons, Inc.		\$1.4700	\$4,410.00
	Rawso, LLC		\$1.7800	\$5,340.00
209-08.07	ROCK CHECK DAM			
		26.000 EACH		
	Rogers Group, Inc.		\$341.0700	\$8,867.82
	Jones Bros. Contractors, LLC		\$350.0000	\$9,100.00
	Charles Blalock & Sons, Inc.		\$367.5000	\$9,555.00
	Rawso, LLC		\$360.5600	\$9,374.56
209-08.08	ENHANCED ROCK CHECK DAM			
		29.000 EACH		
	Rogers Group, Inc.		\$398.7800	\$11,564.62
	Jones Bros. Contractors, LLC		\$450.0000	\$13,050.00
	Charles Blalock & Sons, Inc.		\$525.0000	\$15,225.00
	Rawso, LLC		\$421.5800	\$12,225.82
209-08.09	FILTER SOCK CHECK DAM			
		80.000 EACH		
	Rogers Group, Inc.		\$309.5800	\$24,766.40
	Jones Bros. Contractors, LLC		\$200.0000	\$16,000.00
	Charles Blalock & Sons, Inc.		\$367.5000	\$29,400.00
	Rawso, LLC		\$327.2800	\$26,182.40
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		12.000 EACH		
	Rogers Group, Inc.		\$1,049.4300	\$12,593.16
	Jones Bros. Contractors, LLC		\$600.0000	\$7,200.00
	Charles Blalock & Sons, Inc.		\$353.8500	\$4,246.20
	Rawso, LLC		\$1,109.4200	\$13,313.04
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		117.000 EACH		
	Rogers Group, Inc.		\$115.4400	\$13,506.48
	Jones Bros. Contractors, LLC		\$175.0000	\$20,475.00
	Charles Blalock & Sons, Inc.		\$257.2500	\$30,098.25
	Rawso, LLC		\$122.0400	\$14,278.68
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
		24.000 EACH		
	Rogers Group, Inc.		\$262.3600	\$6,296.64
	Jones Bros. Contractors, LLC		\$350.0000	\$8,400.00
	Charles Blalock & Sons, Inc.		\$315.0000	\$7,560.00
	Rawso, LLC		\$277.3600	\$6,656.64

CONTRACT	CNV010
----------	--------

		UNIT PRICE	EXTENSION
209-40.41 CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
	19.000 EACH		
Rogers Group, Inc.		\$755.5900	\$14,356.21
Jones Bros. Contractors, LLC		\$300.0000	\$5,700.00
Charles Blalock & Sons, Inc.		\$362.2500	\$6,882.75
Rawso, LLC		\$798.7800	\$15,176.82
209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2)			
	12.000 EACH		
Rogers Group, Inc.		\$755.5900	\$9,067.08
Jones Bros. Contractors, LLC		\$375.0000	\$4,500.00
Charles Blalock & Sons, Inc.		\$840.0000	\$10,080.00
Rawso, LLC		\$798.7800	\$9,585.36
209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3)			
	20.000 EACH		
Rogers Group, Inc.	-	\$1,259.3200	\$25,186.40
Jones Bros. Contractors, LLC		\$400.0000	\$8,000.00
Charles Blalock & Sons, Inc.		\$362.2500	\$7,245.00
Rawso, LLC		\$1,331.3100	\$26,626.20
209-40.44 CATCH BASIN FILTER ASSEMBLY(TYPE 4)			
203-40.44 OATOH BAGINTIETEN AGGEMBET(TTT E 4)	5.000 EACH		
Demana Crayon Inc	5.000 EACH	<b>#4 050 0000</b>	<b>#C 200 C0</b>
Rogers Group, Inc.		\$1,259.3200	\$6,296.60
Jones Bros. Contractors, LLC		\$475.0000	\$2,375.00
Charles Blalock & Sons, Inc.		\$362.2500	\$1,811.25
Rawso, LLC		\$1,331.3100	\$6,656.55
209-40.45 CATCH BASIN FILTER ASSEMBLY(TYPE 5)			
	17.000 EACH		
Rogers Group, Inc.		\$1,888.9800	\$32,112.66
Jones Bros. Contractors, LLC		\$500.0000	\$8,500.00
Charles Blalock & Sons, Inc.		\$840.0000	\$14,280.00
Rawso, LLC		\$1,996.9600	\$33,948.32
209-40.46 CATCH BASIN FILTER ASSEMBLY(TYPE 6)			
	37.000 EACH		
Rogers Group, Inc.		\$755.5900	\$27,956.83
Jones Bros. Contractors, LLC		\$525.0000	\$19,425.00
Charles Blalock & Sons, Inc.		\$362.2500	\$13,403.25
Rawso, LLC		\$798.7800	\$29,554.86
209-40.47 CATCH BASIN FILTER ASSEMBLY(TYPE 7)			
	14.000 EACH		
Rogers Group, Inc.		\$1,259.3200	\$17,630.48
Jones Bros. Contractors, LLC		\$575.0000	\$8,050.00
Charles Blalock & Sons, Inc.		\$362.2500	\$5,071.50
Rawso, LLC		\$1,331.3100	\$18,638.34
		,==	,

			UNIT PRICE	EXTENSION
209-40.48	CATCH BASIN FILTER ASSEMBLY(TYPE 8)			
		3.000 EACH		
	Rogers Group, Inc.		\$1,259.3200	\$3,777.96
	Jones Bros. Contractors, LLC		\$650.0000	\$1,950.00
	Charles Blalock & Sons, Inc.		\$840.0000	\$2,520.00
	Rawso, LLC		\$1,331.3100	\$3,993.93
209-65.01	TEMPORARY STREAM DIVERSION (BY-PASS PUMPING)			
		1.000 LS		
	Rogers Group, Inc.		\$45,138.6900	\$45,138.69
	Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00
	Charles Blalock & Sons, Inc.		\$61,207.7600	\$61,207.76
	Rawso, LLC		\$20,524.2900	\$20,524.29
209-65.04	TEMPORARY IN STREAM DIVERSION			
		875.000 L.F.		
	Rogers Group, Inc.		\$67.9300	\$59,438.75
	Jones Bros. Contractors, LLC		\$65.0000	\$56,875.00
	Charles Blalock & Sons, Inc.		\$101.3800	\$88,707.50
	Rawso, LLC		\$72.1100	\$63,096.25
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		11,080.000 TON		
	Rogers Group, Inc.		\$18.9500	\$209,966.00
	Jones Bros. Contractors, LLC		\$32.0000	\$354,560.00
	Charles Blalock & Sons, Inc.		\$25.4600	\$282,096.80
	Rawso, LLC		\$30.6100	\$339,158.80
303-01.01	GRANULAR BACKFILL (ROADWAY)			
		2,990.000 TON		
	Rogers Group, Inc.		\$28.2300	\$84,407.70
	Jones Bros. Contractors, LLC		\$31.0000	\$92,690.00
	Charles Blalock & Sons, Inc.		\$31.9200	\$95,440.80
	Rawso, LLC		\$47.4300	\$141,815.70
303-01.02	GRANULAR BACKFILL (BRIDGES)			
		2,209.000 TON		
	Rogers Group, Inc.	,	\$32.2400	\$71,218.16
	Jones Bros. Contractors, LLC		\$31.0000	\$68,479.00
	Charles Blalock & Sons, Inc.		\$31.9200	\$70,511.28
	Rawso, LLC		\$47.4300	\$104,772.87
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		1,000.000 TON		
	Rogers Group, Inc.	,	\$47.5200	\$47,520.00
	Jones Bros. Contractors, LLC		\$35.0000	\$35,000.00
	Charles Blalock & Sons, Inc.		\$31.6500	\$31,650.00
	Rawso, LLC		\$45.4000	\$45,400.00

		UNIT PRICE	EXTENSION
303-10.03	MINERAL AGGREGATE (SIZE 68)		
	234.000 TON		
	Rogers Group, Inc.	\$32.0900	\$7,509.06
	Jones Bros. Contractors, LLC	\$35.0000	\$8,190.00
	Charles Blalock & Sons, Inc.	\$95.3800	\$22,318.92
	Rawso, LLC	\$60.8500	\$14,238.90
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
	2,136.000 TON		
	Rogers Group, Inc.	\$71.0000	\$151,656.00
	Jones Bros. Contractors, LLC	\$61.8600	\$132,132.96
	Charles Blalock & Sons, Inc.	\$65.6100	\$140,142.96
	Rawso, LLC	\$68.6300	\$146,593.68
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	1,125.000 TON		
	Rogers Group, Inc.	\$98.0000	\$110,250.00
	Jones Bros. Contractors, LLC	\$68.3100	\$76,848.75
	Charles Blalock & Sons, Inc.	\$72.4500	\$81,506.25
	Rawso, LLC	\$75.7800	\$85,252.50
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S		
	8,469.000 TON		
	Rogers Group, Inc.	\$73.0000	\$618,237.00
	Jones Bros. Contractors, LLC	\$68.6000	\$580,973.40
	Charles Blalock & Sons, Inc.	\$72.7600	\$616,204.44
	Rawso, LLC	\$76.1100	\$644,575.59
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A		
	10,821.000 TON		
	Rogers Group, Inc.	\$70.0000	\$757,470.00
	Jones Bros. Contractors, LLC	\$61.8600	\$669,387.06
	Charles Blalock & Sons, Inc.	\$65.6100	\$709,965.81
	Rawso, LLC	\$68.6300	\$742,645.23
	ACRUMIT COMORETE MIX (ROTS SO) (ROMO LIM) CO ADMIC DIMO		
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
	7,089.000 TON	<b>*</b>	
	Rogers Group, Inc.	\$76.0000	\$538,764.00
	Jones Bros. Contractors, LLC	\$68.3100	\$484,249.59
	Charles Blalock & Sons, Inc.	\$72.4500	\$513,598.05
	Rawso, LLC	\$75.7800	\$537,204.42
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
	104.000 TON		
	Rogers Group, Inc.	\$941.0000	\$97,864.00
	Jones Bros. Contractors, LLC	\$650.0000	\$67,600.00
	Charles Blalock & Sons, Inc.	\$689.3900	\$71,696.56
	Rawso, LLC	\$721.1200	\$74,996.48

CONTRACT CNV	UIU
--------------	-----

		UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)		
	334.	000 TON	
	Rogers Group, Inc.	\$45.0000	\$15,030.00
	Jones Bros. Contractors, LLC	\$50.0000	\$16,700.00
	Charles Blalock & Sons, Inc.	\$53.0300	\$17,712.02
	Rawso, LLC	\$55.4700	\$18,526.98
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	68.	000 TON	
	Rogers Group, Inc.	\$670.0000	\$45,560.00
	Jones Bros. Contractors, LLC	\$650.0000	\$44,200.00
	Charles Blalock & Sons, Inc.	\$689.3900	\$46,878.52
	Rawso, LLC	\$721.1200	\$49,036.16
407-02.13	REMOVAL & DISPOSAL OF EXISTING ASPHALT PAVEMENT		
	19,600.	000 S.Y.	
	Rogers Group, Inc.	\$2.6400	\$51,744.00
	Jones Bros. Contractors, LLC	\$5.7500	\$112,700.00
	Charles Blalock & Sons, Inc.	\$4.2800	\$83,888.00
	Rawso, LLC	\$11.6400	\$228,144.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT		
	7,400.	000 L.F.	
	Rogers Group, Inc.	\$1.4900	\$11,026.00
	Jones Bros. Contractors, LLC	\$7.5000	\$55,500.00
	Charles Blalock & Sons, Inc.	\$4.2000	\$31,080.00
	Rawso, LLC	\$5.5500	\$41,070.00
411-01.10	ACS MIX(PG64-22) GRADING D		
	1,716.	000 TON	
	Rogers Group, Inc.	\$116.0000	\$199,056.00
	Jones Bros. Contractors, LLC	\$85.1700	\$146,151.72
	Charles Blalock & Sons, Inc.	\$90.3300	\$155,006.28
	Rawso, LLC	\$94.4900	\$162,144.84
411-02.10	ACS MIX(PG70-22) GRADING D		
	4,156.	000 TON	
	Rogers Group, Inc.	\$99.0000	\$411,444.00
	Jones Bros. Contractors, LLC	\$90.5000	\$376,118.00
	Charles Blalock & Sons, Inc.	\$95.9800	\$398,892.88
	Rawso, LLC	\$100.4000	\$417,262.40
415-01.02	COLD PLANING BITUMINOUS PAVEMENT		
	3,370.	000 S.Y.	
	Rogers Group, Inc.	\$4.0000	\$13,480.00
	Jones Bros. Contractors, LLC	\$9.5000	\$32,015.00
	Charles Blalock & Sons, Inc.	\$10.3700	\$34,946.90
	Rawso, LLC	\$10.5400	\$35,519.80

		UNIT PRICE	EXTENSION
502-04 01 5	SAWING CONCRETE PAVEMENT (FULL DEPTH)		
002 04.01	DANNING GONGRETE I AVEIMENT (1 GEE DET 111)	070 000   5	
		270.000 L.F.	
	Rogers Group, Inc.	\$3.5800	\$966.60
	lones Bros. Contractors, LLC	\$17.0000	\$4,590.00
	Charles Blalock & Sons, Inc.	\$15.7500	\$4,252.50
F	Rawso, LLC	\$5.5500	\$1,498.50
604-01.01 C	CLASS A CONCRETE (ROADWAY)		
		458.000 C.Y.	
F	Rogers Group, Inc.	\$1,102.4000	\$504,899.20
	lones Bros. Contractors, LLC	\$800.0000	\$366,400.00
	Charles Blalock & Sons, Inc.	\$926.5800	\$424,373.64
	Rawso, LLC	\$1,275.8300	\$584,330.14
,	Nawso, LLO	ψ1,273.0300	ψ304,330.14
604-01.02 S	STEEL BAR REINFORCEMENT (ROADWAY)		
	99	9,830.000 LB.	
F	Rogers Group, Inc.	\$1.2800	\$127,782.40
J	lones Bros. Contractors, LLC	\$1.3100	\$130,777.30
C	Charles Blalock & Sons, Inc.	\$1.1200	\$111,809.60
	Rawso, LLC	\$1.3900	\$138,763.70
	·		,
604-07 30 F	RETAINING WALL (REMOVE AND REPLACE)		
004 07.00 1	TETANTIO WALL (NEMOTE AND REI EAGL)	40.000   5	
_		40.000 L.F.	
	Rogers Group, Inc.	\$90.9700	\$3,638.80
	lones Bros. Contractors, LLC	\$250.0000	\$10,000.00
	Charles Blalock & Sons, Inc.	\$1,240.3300	\$49,613.20
F	Rawso, LLC	\$166.4100	\$6,656.40
607-02.02 1	5" CONCRETE PIPE CULVERT(CLASS III)		
		30.000 L.F.	
-	Rogers Group, Inc.	\$40.8700	\$1,226.10
	lones Bros. Contractors, LLC	\$95.0000	\$2,850.00
	Charles Blalock & Sons, Inc.	\$73.5500	\$2,206.50
	Rawso, LLC	\$50.6100	\$1,518.30
Г	Nawso, LLC	\$30.0100	φ1,510.50
607-03.02 1	8" CONCRETE PIPE CULVERT (CLASS III)		
	7	7,487.000 L.F.	
F	Rogers Group, Inc.	\$107.6200	\$805,750.94
J	lones Bros. Contractors, LLC	\$75.0000	\$561,525.00
C	Charles Blalock & Sons, Inc.	\$74.3700	\$556,808.19
	Rawso, LLC	\$69.5500	\$520,720.85
	·		,
607-03.05 1	8" CONCRETE PIPE CULVERT(CLASS IV)JACKED-IN-PLACE		
007 00.00 1	O SONONETET II E SOLVENT (SEASS IV) DASNED IN TEASE	57.000   5	
		57.000 L.F.	_
	Rogers Group, Inc.	\$809.4500	\$46,138.65
	lones Bros. Contractors, LLC	\$1,250.0000	\$71,250.00
	Charles Blalock & Sons, Inc.	\$984.3800	\$56,109.66
F	Rawso, LLC	\$648.3100	\$36,953.67

		UNIT PRICE	<b>EXTENSION</b>
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
007-03.02 24 CONCRETE FIFE COLVERT (CLASS III)			
	1,282.000 L.F.		
Rogers Group, Inc.		\$129.0600	\$165,454.92
Jones Bros. Contractors, LLC		\$95.0000	\$121,790.00
Charles Blalock & Sons, Inc.		\$84.7200	\$108,611.04
Rawso, LLC		\$87.3700	\$112,008.34
607-06.02 30" CONCRETE PIPE CULVERT (CLASS III)			
30. 30.0 30 30.0 C. 1. 1. 1. 2. 30.1 C. 1. (32.1 30 III)	004 000 1 5		
	994.000 L.F.		
Rogers Group, Inc.		\$148.0400	\$147,151.76
Jones Bros. Contractors, LLC		\$125.0000	\$124,250.00
Charles Blalock & Sons, Inc.		\$110.8900	\$110,224.66
Rawso, LLC		\$125.6000	\$124,846.40
607-06.03 30" CONCRETE PIPE CULVERT (CLASS IV)			
,	52.000 L.F.		
B 0 1	52.000 L.F.	<b>#</b> 404.0000	<b>A</b>
Rogers Group, Inc.		\$181.8800	\$9,457.76
Jones Bros. Contractors, LLC		\$140.0000	\$7,280.00
Charles Blalock & Sons, Inc.		\$117.2400	\$6,096.48
Rawso, LLC		\$185.2200	\$9,631.44
607-07.02 36" CONCRETE PIPE CULVERT (CLASS III)			
, ,	654.000 L.F.		
Degree Craye Inc	034.000 L.I .	<b>#445 C400</b>	<b>COT 000 04</b>
Rogers Group, Inc.		\$145.6100	\$95,228.94
Jones Bros. Contractors, LLC		\$155.0000	\$101,370.00
Charles Blalock & Sons, Inc.		\$133.7000	\$87,439.80
Rawso, LLC		\$156.0800	\$102,076.32
607-08.03 42" CONCRETE PIPE CULVERT (CLASS IV)			
	65.000 L.F.		
Rogers Group, Inc.		\$261.6800	\$17,009.20
Jones Bros. Contractors, LLC		•	
		\$220.0000	\$14,300.00 \$14,143.70
Charles Blalock & Sons, Inc.		\$217.5800	\$14,142.70
Rawso, LLC		\$312.4400	\$20,308.60
607-09.02 48" CONCRETE PIPE CULVERT (CLASS III)			
	84.000 L.F.		
Rogers Group, Inc.		\$251.9600	\$21,164.64
Jones Bros. Contractors, LLC		\$225.0000	\$18,900.00
Charles Blalock & Sons, Inc.		\$232.1700	\$19,502.28
Rawso, LLC		\$275.0100	\$23,100.84
Nawso, LLC		\$275.0100	φ23,100.04
607-09.03 48" CONCRETE PIPE CULVERT (CLASS IV)			
	421.000 L.F.		
Rogers Group, Inc.		\$296.7300	\$124,923.33
Jones Bros. Contractors, LLC		\$255.0000	\$107,355.00
Charles Blalock & Sons, Inc.		\$236.6600	\$99,633.86
Rawso, LLC		\$549.0700	\$231,158.47
		<del>+</del>	,, . <b></b>

		UNIT PRICE	EXTENSION
607-10.03 54" CONCRETE PIPE CULVERT (CLASS IV)			
	611.000 L.F.		
Rogers Group, Inc.		\$336.4800	\$205,589.28
Jones Bros. Contractors, LLC		\$330.0000	\$201,630.00
Charles Blalock & Sons, Inc.		\$315.9500	\$193,045.45
Rawso, LLC		\$769.5900	\$470,219.49
607-10.05 54" CONCRETE PIPE CULVERT(CLASS IV)JACKED-IN-PLACE			
	134.000 L.F.		
Rogers Group, Inc.		\$2,229.4900	\$298,751.66
Jones Bros. Contractors, LLC		\$2,450.0000	\$328,300.00
Charles Blalock & Sons, Inc.		\$2,351.4500	\$315,094.30
Rawso, LLC		\$4,287.4400	\$574,516.96
607-16.02 30"X 19" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
	63.000 L.F.		
Rogers Group, Inc.		\$144.7700	\$9,120.51
Jones Bros. Contractors, LLC		\$135.0000	\$8,505.00
Charles Blalock & Sons, Inc.		\$197.7700	\$12,459.51
Rawso, LLC		\$155.2100	\$9,778.23
607-16.06 45"X 29" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
	156.000 L.F.		
Rogers Group, Inc.		\$211.5700	\$33,004.92
Jones Bros. Contractors, LLC		\$225.0000	\$35,100.00
Charles Blalock & Sons, Inc.		\$246.0500	\$38,383.80
Rawso, LLC		\$227.7300	\$35,525.88
607-16.09 60"X 38" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
	11.000 L.F.		
Rogers Group, Inc.		\$443.2500	\$4,875.75
Jones Bros. Contractors, LLC		\$425.0000	\$4,675.00
Charles Blalock & Sons, Inc.		\$555.9900	\$6,115.89
Rawso, LLC		\$480.5100	\$5,285.61
607-16.10 68"X 43" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
	64.000 L.F.		
Rogers Group, Inc.		\$397.3400	\$25,429.76
Jones Bros. Contractors, LLC		\$400.0000	\$25,600.00
Charles Blalock & Sons, Inc.		\$623.4100	\$39,898.24
Rawso, LLC		\$579.8100	\$37,107.84
607-16.11 76"X 48" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
	21.000 L.F.		
Rogers Group, Inc.		\$593.5200	\$12,463.92
Jones Bros. Contractors, LLC		\$560.0000	\$11,760.00
Charles Blalock & Sons, Inc.		\$833.3800	\$17,500.98
Rawso, LLC		\$532.6100	\$11,184.81

CONTRACT C	1:	٧V	<b>/</b> 0	10
------------	----	----	------------	----

		UNIT PRICE	EXTENSION
607-39.01 15" PIPE CULVERT (SIDE DRAIN)			
	20.000 L.F.		
Rogers Group, Inc.		\$51.4300	\$1,028.60
Jones Bros. Contractors, LLC		\$75.0000	\$1,500.00
Charles Blalock & Sons, Inc.		\$65.8900	\$1,317.80
Rawso, LLC		\$80.8300	\$1,616.60
607-39.02 18" PIPE CULVERT (SIDE DRAIN)			
	171.000 L.F.		
Rogers Group, Inc.		\$60.1100	\$10,278.81
Jones Bros. Contractors, LLC		\$65.0000	\$11,115.00
Charles Blalock & Sons, Inc.		\$71.4800	\$12,223.08
Rawso, LLC		\$77.4600	\$13,245.66
607-39.03 24" PIPE CULVERT (SIDE DRAIN)			
	104.000 L.F.		
Rogers Group, Inc.		\$77.7700	\$8,088.08
Jones Bros. Contractors, LLC		\$75.0000	\$7,800.00
Charles Blalock & Sons, Inc.		\$90.1900	\$9,379.76
Rawso, LLC		\$135.7900	\$14,122.16
607-65.66 30" MINIMUM ID PIPE TO SLIP LINE 36" PIPE			
	84.000 L.F.		
Rogers Group, Inc.		\$343.8000	\$28,879.20
Jones Bros. Contractors, LLC		\$500.0000	\$42,000.00
Charles Blalock & Sons, Inc.		\$351.9800	\$29,566.32
Rawso, LLC		\$943.6400	\$79,265.76
610-11.03 PLASTIC PIPE DRAINS (8")			
	72.000 L.F.		
Rogers Group, Inc.		\$22.2600	\$1,602.72
Jones Bros. Contractors, LLC		\$17.0000	\$1,224.00
Charles Blalock & Sons, Inc.		\$58.3100	\$4,198.32
Rawso, LLC		\$27.7500	\$1,998.00
611-01.02 MANHOLES, > 4' - 8' DEPTH			
	2.000 EACH		
Rogers Group, Inc.		\$5,674.4000	\$11,348.80
Jones Bros. Contractors, LLC		\$6,500.0000	\$13,000.00
Charles Blalock & Sons, Inc.		\$6,125.8400	\$12,251.68
Rawso, LLC		\$6,800.6200	\$13,601.24
611-01.03 MANHOLES, > 8' - 12' DEPTH			
	1.000 EACH		
Rogers Group, Inc.		\$6,060.9800	\$6,060.98
Jones Bros. Contractors, LLC		\$8,000.0000	\$8,000.00
Charles Blalock & Sons, Inc.		\$9,193.3000	\$9,193.30
Rawso, LLC		\$7,993.2800	\$7,993.28

				CONTRACT CNV010
			UNIT PRICE	EXTENSION
611-01.04	MANHOLES, > 12' - 16' DEPTH			
		1.000 EACH		
	Rogers Group, Inc.		\$44,347.0600	\$44,347.06
	Jones Bros. Contractors, LLC		\$25,000.0000	\$25,000.00
	Charles Blalock & Sons, Inc.		\$29,105.9000	\$29,105.90
	Rawso, LLC		\$52,119.2300	\$52,119.23
611-01.05	MANHOLES, > 16' - 20' DEPTH			
		1.000 EACH		
	Rogers Group, Inc.		\$49,866.6400	\$49,866.64
	Jones Bros. Contractors, LLC		\$22,500.0000	\$22,500.00
	Charles Blalock & Sons, Inc.		\$25,808.5000	\$25,808.50
	Rawso, LLC		\$66,690.2000	\$66,690.20
611-02.01	SPRING DRAIN BOX, TYPE 1			
	,	1.000 EACH		
	Rogers Group, Inc.		\$5,100.9400	\$5,100.94
	Jones Bros. Contractors, LLC		\$4,800.0000	\$4,800.00
	Charles Blalock & Sons, Inc.		\$2,625.0000	\$2,625.00
	Rawso, LLC		\$6,421.2100	\$6,421.21
611-02.11	JUNCTION BOX, TYPE 2			
• · · · • <u>• · · · · · · · · · · · · · ·</u>		1.000 EACH		
	Rogers Group, Inc.		\$6,054.8600	\$6,054.86
	Jones Bros. Contractors, LLC		\$5,200.0000	\$5,200.00
	Charles Blalock & Sons, Inc.		\$5,250.0000	\$5,250.00
	Rawso, LLC		\$5,430.7600	\$5,430.76
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
011 01101	(	72.000 C.Y.		
	Rogers Group, Inc.		\$2,017.3100	\$145,246.32
	Jones Bros. Contractors, LLC		\$2,000.0000	\$144,000.00
	Charles Blalock & Sons, Inc.		\$1,050.0000	\$75,600.00
	Rawso, LLC		\$1,492.4700	\$107,457.84
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWAL	LS)		
J. 1 0110E		1,800.000 LB.		
	Rogers Group, Inc.	·	\$3.6900	\$6,642.00
	Jones Bros. Contractors, LLC		\$2.0000	\$3,600.00
	Charles Blalock & Sons, Inc.		\$2.9900	\$5,382.00
	Rawso, LLC		\$6.1000	\$10,980.00
611-07.30	15IN ENDWALL (SIDE DRAIN)			
5 550				

2.000 EACH

Rogers Group, Inc.

Rawso, LLC

Jones Bros. Contractors, LLC

Charles Blalock & Sons, Inc.

\$2,835.0000	\$5,670.00
\$4,122.1300	\$8,244.26

\$5,020.2700

\$2,800.0000

\$10,040.54

\$5,600.00

				CONTRACT CNV010
			UNIT PRICE	EXTENSION
611-07.31	18IN ENDWALL (SIDE DRAIN)			
		7.000 EACH		
	Rogers Group, Inc.		\$5,078.4100	\$35,548.87
	Jones Bros. Contractors, LLC		\$3,600.0000	\$25,200.00
	Charles Blalock & Sons, Inc. Rawso, LLC		\$3,255.0000 \$4,649.1400	\$22,785.00 \$32,543.98
	Rawso, LLC		<del>\$4,049.1400</del>	<b>Ф</b> 32,343.90
611-07.32	24IN ENDWALL (SIDE DRAIN)			
		5.000 EACH		
	Rogers Group, Inc.		\$6,658.9300	\$33,294.65
	Jones Bros. Contractors, LLC		\$5,200.0000	\$26,000.00
	Charles Blalock & Sons, Inc.		\$3,675.0000	\$18,375.00
	Rawso, LLC		\$5,019.0200	\$25,095.10
611-07 54	18IN ENDWALL (CROSS DRAIN) 3:1			
011-07.04	TOTAL ENDIVALE (ORGOD BRAIN) 3.1	1.000 EACH		
	Rogers Group, Inc.	1.000 LACIT	\$3,332.3900	\$3,332.39
	Jones Bros. Contractors, LLC		\$1,800.0000	\$1,800.00
	Charles Blalock & Sons, Inc.		\$2,415.0000	\$2,415.00
	Rawso, LLC		\$3,014.1500	\$3,014.15
611-07.56	18IN ENDWALL (CROSS DRAIN) 6:1			
		1.000 EACH		
	Rogers Group, Inc.		\$4,043.9800	\$4,043.98
	Jones Bros. Contractors, LLC		\$3,000.0000	\$3,000.00
	Charles Blalock & Sons, Inc. Rawso, LLC		\$2,625.0000	\$2,625.00 \$4,153.43
	Rawso, LLC		\$4,153.4300	<b>Ф4, 103.43</b>
611-07.57	24IN ENDWALL (CROSS DRAIN) 3:1			
		1.000 EACH		
	Rogers Group, Inc.		\$3,717.7400	\$3,717.74
	Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
	Charles Blalock & Sons, Inc.		\$2,835.0000	\$2,835.00
	Rawso, LLC		\$3,351.4200	\$3,351.42
611-07.60	30IN ENDWALL (CROSS DRAIN) 3:1			
		1.000 EACH		
	Rogers Group, Inc.		\$5,927.6100	\$5,927.61
	Jones Bros. Contractors, LLC		\$4,000.0000	\$4,000.00
	Charles Blalock & Sons, Inc.		\$3,465.0000	\$3,465.00
	Rawso, LLC		\$5,527.9000	\$5,527.90
614 07 04	20IN ENDWALL (CDOSS DRAIN) 4.4			
011-07.61	30IN ENDWALL (CROSS DRAIN) 4:1	1.000 EACH		
	Pagara Graup, Inc.	1.000 EACH	¢7 020 2700	¢7 000 07
	Rogers Group, Inc. Jones Bros. Contractors, LLC		\$7,028.2700 \$5,000.0000	\$7,028.27 \$5,000.00
	Charles Blalock & Sons, Inc.		\$4,200.0000	\$4,200.00
	Rawso, LLC		\$6,765.8700	\$6,765.87
	•		. ,	

		co	NTRACT CNV010
		UNIT PRICE	EXTENSION
611-07.63 36IN ENDWALL (CROSS DRAIN) 3:1			
	1.000 EACH		
Rogers Group, Inc.		\$8,387.4400	\$8,387.44
Jones Bros. Contractors, LLC		\$5,500.0000	\$5,500.00
Charles Blalock & Sons, Inc.		\$4,725.0000	\$4,725.00
Rawso, LLC		\$8,742.8100	\$8,742.81
611-12.01 CATCH BASINS, TYPE 12, 0' - 4' DEPTH			
	18.000 EACH		
Rogers Group, Inc.		\$4,172.0100	\$75,096.18
Jones Bros. Contractors, LLC		\$4,500.0000	\$81,000.00
Charles Blalock & Sons, Inc.		\$3,150.0000	\$56,700.00
Rawso, LLC		\$4,412.2200	\$79,419.96
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPTH			
	51.000 EACH		
Rogers Group, Inc.		\$7,636.4400	\$389,458.44
Jones Bros. Contractors, LLC		\$6,500.0000	\$331,500.00
Charles Blalock & Sons, Inc.		\$3,990.0000	\$203,490.00
Rawso, LLC		\$8,436.5500	\$430,264.05
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
	6.000 EACH		
Rogers Group, Inc.		\$10,420.0600	\$62,520.36
Jones Bros. Contractors, LLC		\$7,500.0000	\$45,000.00
Charles Blalock & Sons, Inc.		\$8,617.8200	\$51,706.92
Rawso, LLC		\$12,697.3200	\$76,183.92
611-12.04 CATCH BASINS, TYPE 12, > 12' - 16' DEPTH			
	8.000 EACH		
Rogers Group, Inc.		\$22,002.6400	\$176,021.12
Jones Bros. Contractors, LLC		\$13,000.0000	\$104,000.00
Charles Blalock & Sons, Inc.		\$16,084.0300	\$128,672.24
Rawso, LLC		\$30,941.5700	\$247,532.56
611-12.05 CATCH BASINS, TYPE 12, > 16' - 20' DEPTH			
	4.000 EACH		
Rogers Group, Inc.		\$35,836.9500	\$143,347.80
Jones Bros. Contractors, LLC		\$20,000.0000	\$80,000.00
Charles Blalock & Sons, Inc.		\$25,385.5900	\$101,542.36
Rawso, LLC		\$53,430.7800	\$213,723.12
611-14.01 CATCH BASINS, TYPE 14, 0' - 4' DEPTH			
	1.000 EACH		
Rogers Group, Inc.		\$6,225.5600	\$6,225.56
Jones Bros. Contractors, LLC		\$7,000.0000	\$7,000.00
Charles Blalock & Sons, Inc.		\$4,200.0000	\$4,200.00
Rawso, LLC		\$8,047.7100	\$8,047.71

		UNIT PRICE	EXTENSION
		OTT T TOL	2/1/2/10/01
611-14.02 CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	23.000 EACH		
Rogers Group, Inc.		\$9,356.3600	\$215,196.28
Jones Bros. Contractors, LLC		\$8,500.0000	\$195,500.00
Charles Blalock & Sons, Inc.		\$7,350.0000	\$169,050.00
Rawso, LLC		\$11,253.5500	\$258,831.65
611-14.03 CATCH BASINS, TYPE 14, > 8' - 12' DEPTH			
	1.000 EACH		
Rogers Group, Inc.		\$18,594.8300	\$18,594.83
Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
Charles Blalock & Sons, Inc.		\$17,471.5000	\$17,471.50
Rawso, LLC		\$20,979.0200	\$20,979.02
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	13.000 EACH		
Rogers Group, Inc.	101000 =/1011	\$3,537.9800	\$45,993.74
Jones Bros. Contractors, LLC		\$4,500.0000	\$58,500.00
Charles Blalock & Sons, Inc.		\$3,150.0000	\$40,950.00
Rawso, LLC		\$4,297.1500	\$55,862.95
611-42.02 CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
011-42.02 CATCH BASINS, 11FE 42, 54 - 0 DEF III	2.000 EACH		
Pagara Craup Inc	2.000 EACH	¢4.047.6700	<b>₽0.00E.24</b>
Rogers Group, Inc. Jones Bros. Contractors, LLC		\$4,047.6700 \$12,950.0000	\$8,095.34 \$25,900.00
Charles Blalock & Sons, Inc.		\$3,675.0000	\$7,350.00
Rawso, LLC		\$7,628.8800	\$15,257.76
		, ,	<b>,</b> , , , ,
611-43.02 CATCH BASINS, TYPE 43, > 4' - 8' DEPTH			
	3.000 EACH		
Rogers Group, Inc.		\$8,479.7800	\$25,439.34
Jones Bros. Contractors, LLC		\$4,500.0000	\$13,500.00
Charles Blalock & Sons, Inc.		\$7,875.0000	\$23,625.00
Rawso, LLC		\$9,623.5000	\$28,870.50
621-03.01 15" TEMPORARY DRAINAGE PIPE			
	30.000 L.F.		
Rogers Group, Inc.		\$50.7600	\$1,522.80
Jones Bros. Contractors, LLC		\$35.0000	\$1,050.00
Charles Blalock & Sons, Inc.		\$70.9600	\$2,128.80
Rawso, LLC		\$69.1200	\$2,073.60
621-03.06 42" TEMPORARY DRAINAGE PIPE			
	50.000 L.F.		
Rogers Group, Inc.		\$128.4600	\$6,423.00
Jones Bros. Contractors, LLC		\$90.0000	\$4,500.00
Charles Blalock & Sons, Inc.		\$205.1100	\$10,255.50
Rawso, LLC		\$134.8500	\$6,742.50

			CC	MIRACI CHVUIU
			UNIT PRICE	EXTENSION
621-03.11	72" TEMPORARY DRAINAGE PIPE			
		30.000 L.F.		
	Rogers Group, Inc.		\$298.8300	\$8,964.90
	Jones Bros. Contractors, LLC		\$275.0000	\$8,250.00
	Charles Blalock & Sons, Inc.		\$407.9900	\$12,239.70
	Rawso, LLC		\$310.3600	\$9,310.80
	Nawso, LLC		φ310.3000	φ9,510.60
621-03.12	TEMPORARY DRAINAGE PIPE ARCH (58"X36")			
		35.000 L.F.		
	Rogers Group, Inc.		\$246.9600	\$8,643.60
	Jones Bros. Contractors, LLC		\$45.0000	\$1,575.00
	Charles Blalock & Sons, Inc.		\$454.4400	\$15,905.40
	Rawso, LLC		\$292.0200	\$10,220.70
701-01 01	CONCRETE SIDEWALK (4 ")			
701-01.01	CONCRETE SIDEWALK (4 )	78,570.000 S.F.		
	Rogers Group, Inc.	70,070.000 0.1 .	\$5.2500	¢412.402.50
	Jones Bros. Contractors, LLC			\$412,492.50
	, , , , , , , , , , , , , , , , , , ,		\$5.6200	\$441,563.40
	Charles Blalock & Sons, Inc.		\$6.0400	\$474,562.80
	Rawso, LLC		\$6.5500	\$514,633.50
701-02	CONCRETE DRIVEWAY			
		6,000.000 S.F.		
	Rogers Group, Inc.		\$7.2700	\$43,620.00
	Jones Bros. Contractors, LLC		\$7.5200	\$45,120.00
	Charles Blalock & Sons, Inc.		\$9.1900	\$55,140.00
	Rawso, LLC		\$10.8200	\$64,920.00
704 00 00	CONODETE DRIVEWAY (OII)			
701-02.02	CONCRETE DRIVEWAY (8")	7 700 000 0 5		
		7,762.000 S.F.		<b>^</b>
	Rogers Group, Inc.		\$8.9200	\$69,237.04
	Jones Bros. Contractors, LLC		\$9.1000	\$70,634.20
	Charles Blalock & Sons, Inc.		\$10.7600	\$83,519.12
	Rawso, LLC		\$11.9300	\$92,600.66
701-02.03	CONCRETE CURB RAMP			
		3,370.000 S.F.		
	Rogers Group, Inc.		\$20.7000	\$69,759.00
	Jones Bros. Contractors, LLC		\$20.1600	\$67,939.20
	Charles Blalock & Sons, Inc.		\$22.0500	\$74,308.50
	Rawso, LLC		\$26.0700	\$87,855.90
701-03	CONCRETE MEDIAN PAVEMENT	00 000 0 V		
		20.000 C.Y.	<b>A</b>	<b>A.</b>
	Rogers Group, Inc.		\$465.8300	\$9,316.60
	Jones Bros. Contractors, LLC		\$440.2400	\$8,804.80
	Charles Blalock & Sons, Inc.		\$441.4400	\$8,828.80
	Rawso, LLC		\$554.7100	\$11,094.20

CONTRACT CNV010		CON	NTR A	CT	CN	<b>VO10</b>
-----------------	--	-----	-------	----	----	-------------

		UNIT PRICE	EXTENSION
702-01	CONCRETE CURB		
		42.000 C.Y.	
	Rogers Group, Inc.	\$878.2800	\$36,887.76
	Jones Bros. Contractors, LLC	\$827.5000	\$34,755.00
	Charles Blalock & Sons, Inc.	\$630.0000	\$26,460.00
	Rawso, LLC	\$571.3500	\$23,996.70
702-03	CONCRETE COMBINED CURB & GUTTER		
	1,30	05.000 C.Y.	
	Rogers Group, Inc.	\$338.9000	\$442,264.50
	Jones Bros. Contractors, LLC	\$319.3000	\$416,686.50
	Charles Blalock & Sons, Inc.	\$425.2500	\$554,951.25
	Rawso, LLC	\$442.6600	\$577,671.30
703-02	CEMENT CONCRETE DITCH PAVING (REINFORCED)		
	1	10.000 C.Y.	
	Rogers Group, Inc.	\$750.2400	\$7,502.40
	Jones Bros. Contractors, LLC	\$706.8500	\$7,068.50
	Charles Blalock & Sons, Inc.	\$609.0000	\$6,090.00
	Rawso, LLC	\$887.5400	\$8,875.40
705-05.26	PANEL DELINEATOR (W/REFLECTIVE HAZARD MARKER)		
	1	18.000 EACH	
	Rogers Group, Inc.	\$262.3600	\$4,722.48
	Jones Bros. Contractors, LLC	\$250.0000	\$4,500.00
	Charles Blalock & Sons, Inc.	\$262.5000	\$4,725.00
	Rawso, LLC	\$277.3600	\$4,992.48
706-01	GUARDRAIL REMOVED		
	15	50.000 L.F.	
	Rogers Group, Inc.	\$2.1000	\$315.00
	Jones Bros. Contractors, LLC	\$7.5000	\$1,125.00
	Charles Blalock & Sons, Inc.	\$2.1000	\$315.00
	Rawso, LLC	\$7.8200	\$1,173.00
707-01.11	CHAIN LINK FENCE (6 FOOT)		
	42	20.000 L.F.	
	Rogers Group, Inc.	\$19.4600	\$8,173.20
	Jones Bros. Contractors, LLC	\$18.0000	\$7,560.00
	Charles Blalock & Sons, Inc.	\$18.9000	\$7,938.00
	Rawso, LLC	\$19.9700	\$8,387.40
707-01.12	2 END & CORNER POST ASSEMBLY(CHAIN-LINK FENCE 6')		
	·	2.000 EACH	
	Rogers Group, Inc.	\$345.9000	\$691.80
	Jones Bros. Contractors, LLC	\$320.0000	\$640.00
	Charles Blalock & Sons, Inc.	\$336.0000	\$672.00
	Rawso, LLC	\$355.0200	\$710.04
			•

				MIRACI CHVOID
			UNIT PRICE	EXTENSION
707-03.01 STOCK F	ENCE			
		725.000 L.F.		
Rogers G	Group, Inc.		\$8.6500	\$6,271.25
	os. Contractors, LLC		\$8.0000	\$5,800.00
	Blalock & Sons, Inc.		\$8.4000	\$6,090.00
Rawso, L			\$8.8800	\$6,438.00
707-03.02 END, BR	ACED LINE, CORNER POST ASSEMBLY(STO	OCK FENCE)		
		2.000 EACH		
Rogers C	Group, Inc.		\$324.2700	\$648.54
	os. Contractors, LLC		\$300.0000	\$600.00
	Blalock & Sons, Inc.		\$315.0000	\$630.00
Rawso, L	.LC		\$332.8300	\$665.66
707-03.03 STOCK F	ENCE GATE (20 FT WIDE)			
		1.000 EACH		
Rogers G	Group, Inc.		\$1,107.9300	\$1,107.93
	os. Contractors, LLC		\$1,025.0000	\$1,025.00
	Blalock & Sons, Inc.		\$1,076.2500	\$1,076.25
Rawso, L	LC		\$1,137.1500	\$1,137.15
707-06.01 REMOVA	L OF FENCE (CHAIN LINK AND STOCK)			
		1,170.000 L.F.		
Rogers C	Group, Inc.	,	\$5.4000	\$6,318.00
	os. Contractors, LLC		\$5.0000	\$5,850.00
	Blalock & Sons, Inc.		\$5.2500	\$6,142.50
Rawso, L			\$5.5500	\$6,493.50
707-08.11 HIGH-VIS	SIBILITY CONSTRUCTION FENCE			
		6,650.000 L.F.		
Rogers C	Group, Inc.	,	\$1.0500	\$6,982.50
	os. Contractors, LLC		\$1.3700	\$9,110.50
	Blalock & Sons, Inc.		\$1.2600	\$8,379.00
Rawso, L			\$1.7800	\$11,837.00
708-02.01 MARKER	S (CONCRETE R.O.W. POSTS)			
		83.000 EACH		
Rogers C	Group, Inc.		\$324.2800	\$26,915.24
	os. Contractors, LLC		\$300.0000	\$24,900.00
	Blalock & Sons, Inc.		\$315.0000	\$26,145.00
Rawso, L			\$332.8300	\$27,624.89
709-05.05 MACHINE	ED RIP-RAP (CLASS A-3)			
	·	200.000 TON		
Rogers G	Group, Inc.		\$49.9800	\$9,996.00
	os. Contractors, LLC		\$48.0000	\$9,600.00
	Blalock & Sons, Inc.		\$33.9100	\$6,782.00
Rawso, L			\$62.8700	\$12,574.00
				. ,

			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	, , ,	350.000 TON		
	Rogers Group, Inc.		\$46.9800	\$16,443.00
	Jones Bros. Contractors, LLC		\$48.0000	\$16,800.00
	Charles Blalock & Sons, Inc.		\$32.9100	\$11,518.50
	Rawso, LLC		\$60.0800	\$21,028.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		805.000 TON		
	Rogers Group, Inc.		\$45.6500	\$36,748.25
	Jones Bros. Contractors, LLC		\$48.0000	\$38,640.00
	Charles Blalock & Sons, Inc.		\$34.1300	\$27,474.65
	Rawso, LLC		\$57.8200	\$46,545.10
709-05.09	MACHINED RIP-RAP (CLASS C)			
		470.000 TON		
	Rogers Group, Inc.		\$45.6500	\$21,455.50
	Jones Bros. Contractors, LLC		\$48.0000	\$22,560.00
	Charles Blalock & Sons, Inc.		\$34.1300	\$16,041.10
	Rawso, LLC		\$63.5600	\$29,873.20
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		15,480.000 L.F.		
	Rogers Group, Inc.		\$6.8200	\$105,573.60
	Jones Bros. Contractors, LLC		\$6.5000	\$100,620.00
	Charles Blalock & Sons, Inc.		\$6.8300	\$105,728.40
	Rawso, LLC		\$7.2100	\$111,610.80
710-09.06	6" PERFORATED PIPE WITH STONE			
		152.000 L.F.		
	Rogers Group, Inc.		\$15.7400	\$2,392.48
	Jones Bros. Contractors, LLC		\$6.0000	\$912.00
	Charles Blalock & Sons, Inc.		\$16.0000	\$2,432.00
	Rawso, LLC		\$48.6200	\$7,390.24
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$224,331.4500	\$224,331.45
	Jones Bros. Contractors, LLC		\$260,000.0000	\$260,000.00
	Charles Blalock & Sons, Inc.		\$82,447.9000	\$82,447.90
	Rawso, LLC		\$135,146.6400	\$135,146.64
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		3,500.000 L.F.		
	Rogers Group, Inc.		\$38.1900	\$133,665.00
	Jones Bros. Contractors, LLC		\$22.5000	\$78,750.00
	Charles Blalock & Sons, Inc.		\$34.0500	\$119,175.00
	Rawso, LLC		\$42.1600	\$147,560.00

		UNIT PRICE	EXTENSION
712-02 36 REMOV	E AND RELOCATE PORTABLE BARRIER RAIL		
712 02.00 IXEMOV		00.000   5	
	•	82.000 L.F.	
_	Group, Inc.	\$13.6100	\$41,946.02
	Bros. Contractors, LLC	\$7.2500	\$22,344.50
	Blalock & Sons, Inc.	\$11.4100	\$35,165.62
Rawso,	LLC	\$33.2800	\$102,568.96
712-02.60 TEMPOR	RARY WORK ZONE CRASH CUSHION (MASH TL-3)		
		24.000 EACH	
Rogers	Group, Inc.	\$8,998.8400	\$215,972.16
	Bros. Contractors, LLC	\$7,875.0000	\$189,000.00
	Blalock & Sons, Inc.	\$8,268.7500	\$198,450.00
Rawso,		\$8,875.3700	\$213,008.88
Nawso,	LLO	φο,οτο.οτου	Ψ213,000.00
712-04.01 FLEXIBI	LE DRUMS (CHANNELIZING)		
	4	95.000 EACH	
Rogers	Group, Inc.	\$31.2700	\$15,478.65
Jones B	Bros. Contractors, LLC	\$29.5000	\$14,602.50
Charles	Blalock & Sons, Inc.	\$30.9800	\$15,335.10
Rawso,		\$38.8300	\$19,220.85
712-04-50 BARRIE	R RAIL DELINEATOR		
7.12 0.100 27.11.11.12		55 000 54 OU	
_	-	55.000 EACH	<b>.</b>
_	Group, Inc.	\$13.2500	\$4,703.75
	Bros. Contractors, LLC	\$12.5000	\$4,437.50
	Blalock & Sons, Inc.	\$13.1300	\$4,661.15
Rawso,	LLC	\$19.9700	\$7,089.35
712-05.01 WARNIN	NG LIGHTS (TYPE A)		
	1:	51.000 EACH	
Rogers	Group, Inc.	\$33.9200	\$5,121.92
	Bros. Contractors, LLC	\$32.0000	\$4,832.00
	Blalock & Sons, Inc.	\$33.6000	\$5,073.60
Rawso,		\$27.7400	\$4,188.74
Nawso,	LLO	Ψ21.1400	ψ4,100.74
712-06 SIGNS (	CONSTRUCTION)		
	9	68.000 S.F.	
Rogers	Group, Inc.	\$7.9500	\$7,695.60
Jones B	Bros. Contractors, LLC	\$7.5000	\$7,260.00
Charles	Blalock & Sons, Inc.	\$7.8800	\$7,627.84
Rawso,		\$8.8800	\$8,595.84
·			. ,
712-07.03 TEMPO	RARY BARRICADES (TYPE III)		
		4C 000 L E	
_		16.000 L.F.	
_	Group, Inc.	\$14.7900	\$6,152.64
	Bros. Contractors, LLC	\$13.9500	\$5,803.20
	Blalock & Sons, Inc.	\$14.6500	\$6,094.40
Rawso,	LLC	\$19.9700	\$8,307.52

		CONTRACT CHV010
	UNIT PRICE	EXTENSION
712-08.03 ARROW BOARD (TYPE C)		
1.000 EACH		
Rogers Group, Inc.	\$1,271.9100	\$1,271.91
Jones Bros. Contractors, LLC	\$3,000.0000	\$3,000.00
Charles Blalock & Sons, Inc.	\$1,260.0000	\$1,260.00
Rawso, LLC	\$1,996.9600	\$1,996.96
712-09.02 REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)		
755.000 L.F.	¢2.2500	<b>CO 450 75</b>
Rogers Group, Inc.	\$3.2500	\$2,453.75
Jones Bros. Contractors, LLC	\$3.1000	\$2,340.50
Charles Blalock & Sons, Inc.	\$3.2600	\$2,461.30
Rawso, LLC	\$3.4400	\$2,597.20
712-09.05 REMOVABLE PAVEMENT MARKING (ARROW)		
2.000 EACH		
Rogers Group, Inc.	\$209.8800	\$419.76
Jones Bros. Contractors, LLC	\$200.0000	\$400.00
Charles Blalock & Sons, Inc.	\$210.0000	\$420.00
Rawso, LLC	\$221.8900	\$443.78
	Ψ <u></u> 221.0000	ψ110.70
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)		
9.000 C.Y.		
Rogers Group, Inc.	\$1,033.4300	\$9,300.87
Jones Bros. Contractors, LLC	\$375.0000	\$3,375.00
Charles Blalock & Sons, Inc.	\$1,023.7500	\$9,213.75
Rawso, LLC	\$416.0300	\$3,744.27
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPORTS)		
1,750.000 LB.		
Rogers Group, Inc.	\$4.5000	\$7,875.00
Jones Bros. Contractors, LLC	\$1.7500	\$3,062.50
Charles Blalock & Sons, Inc.	\$4.4600	\$7,805.00
Rawso, LLC	\$1.9400	\$3,395.00
	• • • • •	, , , , , , , , ,
713-11.01 "U" SECTION STEEL POSTS		
540.000 LB.		
Rogers Group, Inc.	\$4.2400	\$2,289.60
Jones Bros. Contractors, LLC	\$3.6500	\$1,971.00
Charles Blalock & Sons, Inc.	\$4.2000	\$2,268.00
Rawso, LLC	\$4.0500	\$2,187.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
1,880.000 LB.		
Rogers Group, Inc.	\$4.7700	\$8,967.60
Jones Bros. Contractors, LLC	\$4.5000	\$8,460.00
Charles Blalock & Sons, Inc.	\$4.7300	\$8,892.40
Rawso, LLC	\$4.9900	\$9,381.20
	•	. ,

		UNIT PRICE	EXTENSION
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
	,	479.000 S.F.	
	Rogers Group, Inc.	\$14.8400	\$7,108.36
	Jones Bros. Contractors, LLC	\$15.7500	\$7,544.25
	Charles Blalock & Sons, Inc.	\$14.7000	\$7,041.30
	Rawso, LLC	\$17.4700	\$8,368.13
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
		27.000 S.F.	
	Rogers Group, Inc.	\$16.9600	\$457.92
	Jones Bros. Contractors, LLC	\$16.5000	\$445.50
	Charles Blalock & Sons, Inc.	\$16.8000	\$453.60
	Rawso, LLC	\$18.3100	\$494.37
713-14.21	STREET NAME SIGN (RIGID 0.100IN THICK		
		116.000 S.F.	
	Rogers Group, Inc.	\$26.5000	\$3,074.00
	Jones Bros. Contractors, LLC	\$21.5000	\$2,494.00
	Charles Blalock & Sons, Inc.	\$26.2500	\$3,045.00
	Rawso, LLC	\$23.8500	\$2,766.60
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS		
		1.000 LS	
	Rogers Group, Inc.	\$3,709.7300	\$3,709.73
	Jones Bros. Contractors, LLC	\$3,250.0000	\$3,250.00
	Charles Blalock & Sons, Inc.	\$11,635.1300	\$11,635.13
	Rawso, LLC	\$3,605.6200	\$3,605.62
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT		
		27.000 EACH	
	Rogers Group, Inc.	\$106.0000	\$2,862.00
	Jones Bros. Contractors, LLC	\$230.0000	\$6,210.00
	Charles Blalock & Sons, Inc.	\$105.0000	\$2,835.00
	Rawso, LLC	\$255.1700	\$6,889.59
713-15.07	SUSPENDED FLAT SHEET ALUMINUM SIGN (0.080" THICK)		
		9.000 EACH	
	Rogers Group, Inc.	\$556.4600	\$5,008.14
	Jones Bros. Contractors, LLC	\$265.0000	\$2,385.00
	Charles Blalock & Sons, Inc.	\$551.2500	\$4,961.25
	Rawso, LLC	\$294.0000	\$2,646.00
716-01.05	TEMPORARY RAISED PAVEMENT MARKER		
		280.000 EACH	
	Rogers Group, Inc.	\$10.4900	\$2,937.20
	Jones Bros. Contractors, LLC	\$10.0000	\$2,800.00
	Charles Blalock & Sons, Inc.	\$11.0000	\$3,080.00
	Rawso, LLC	\$11.0900	\$3,105.20

	UNIT PRICE	EXTENSION
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL	.OR)	
	235.000 EACH	
Rogers Group, Inc.	\$26.2300	\$6,164.05
Jones Bros. Contractors, LLC	\$25.0000	\$5,875.00
Charles Blalock & Sons, Inc.	\$26.2500	\$6,168.75
Rawso, LLC	\$27.7400	\$6,518.90
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 C	OLOR)	
	270.000 EACH	
Rogers Group, Inc.	\$26.2300	\$7,082.10
Jones Bros. Contractors, LLC	\$25.0000	\$6,750.00
Charles Blalock & Sons, Inc.	\$26.2500	\$7,087.50
Rawso, LLC	\$27.7400	\$7,489.80
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	963.000 L.F.	
Rogers Group, Inc.	\$10.4900	\$10,101.87
Jones Bros. Contractors, LLC	\$10.0000	\$9,630.00
Charles Blalock & Sons, Inc.	\$10.5000	\$10,111.50
Rawso, LLC	\$11.0900	\$10,679.67
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	32.000 EACH	
Rogers Group, Inc.	\$209.8900	\$6,716.48
Jones Bros. Contractors, LLC	\$200.0000	\$6,400.00
Charles Blalock & Sons, Inc.	\$210.0000	\$6,720.00
Rawso, LLC	\$221.8800	\$7,100.16
716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)		
	2,470.000 L.F.	
Rogers Group, Inc.	\$2.1000	\$5,187.00
Jones Bros. Contractors, LLC	\$2.0000	\$4,940.00
Charles Blalock & Sons, Inc.	\$2.1000	\$5,187.00
Rawso, LLC	\$2.2200	\$5,483.40
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
	765.000 L.F.	
Rogers Group, Inc.	\$23.0900	\$17,663.85
Jones Bros. Contractors, LLC	\$22.0000	\$16,830.00
Charles Blalock & Sons, Inc.	\$23.1000	\$17,671.50
Rawso, LLC	\$24.4100	\$18,673.65
716-02.11 PLASTIC PAVEMENT MARKING (6" DOTTED LINE)		
	100.000 L.F.	
Rogers Group, Inc.	\$1.3100	\$131.00
Jones Bros. Contractors, LLC	\$1.2500	\$125.00
Charles Blalock & Sons, Inc.	\$1.3100	\$131.00
Rawso, LLC	\$1.3900	\$139.00

			MIRACI CHVOID
		UNIT PRICE	EXTENSION
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)			
,	0.600 L.M.		
Rogers Group, Inc.		\$10,074.5100	\$6,044.71
Jones Bros. Contractors, LLC		\$9,600.0000	\$5,760.00
Charles Blalock & Sons, Inc.		\$10,080.0000	\$6,048.00
Rawso, LLC		\$10,650.4500	\$6,390.27
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
	7.000 EACH		
Rogers Group, Inc.		\$131.1800	\$918.26
Jones Bros. Contractors, LLC		\$125.0000	\$875.00
Charles Blalock & Sons, Inc.		\$131.2500	\$918.75
Rawso, LLC		\$138.6800	\$970.76
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	3.000 EACH		
Rogers Group, Inc.		\$314.8300	\$944.49
Jones Bros. Contractors, LLC		\$300.0000	\$900.00
Charles Blalock & Sons, Inc.		\$315.0000	\$945.00
Rawso, LLC		\$332.8300	\$998.49
716-04.02 PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	5.000 EACH		
Rogers Group, Inc.		\$314.8300	\$1,574.15
Jones Bros. Contractors, LLC		\$300.0000	\$1,500.00
Charles Blalock & Sons, Inc.		\$315.0000	\$1,575.00
Rawso, LLC		\$332.8300	\$1,664.15
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	5.000 EACH		
Rogers Group, Inc.		\$131.1800	\$655.90
Jones Bros. Contractors, LLC		\$125.0000	\$625.00
Charles Blalock & Sons, Inc.		\$131.2500	\$656.25
Rawso, LLC		\$138.6800	\$693.40
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
	72.000 S.F.		
Rogers Group, Inc.		\$10.4900	\$755.28
Jones Bros. Contractors, LLC		\$10.0000	\$720.00
Charles Blalock & Sons, Inc.		\$10.5000	\$756.00
Rawso, LLC		\$11.0900	\$798.48
716-04.13 PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARRO	W)		
	21.000 EACH		
Rogers Group, Inc.		\$393.5400	\$8,264.34
Jones Bros. Contractors, LLC		\$375.0000	\$7,875.00
Charles Blalock & Sons, Inc.		\$393.7500	\$8,268.75
Rawso, LLC		\$416.0300	\$8,736.63

		EVTENOION
	UNIT PRICE	EXTENSION
TAG OA AF DI ACTIO DAVENENT MADVINO DIVE OVMDOLIADDOW OLLADDO		
716-04.15 PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW SHARED		
	2.000 EACH	<b>4707.00</b>
Rogers Group, Inc.	\$393.5400	\$787.08
Jones Bros. Contractors, LLC	\$375.0000	\$750.00
Charles Blalock & Sons, Inc.	\$393.7500	\$787.50
Rawso, LLC	\$416.0400	\$832.08
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)		
	28,750.000 L.F.	
Rogers Group, Inc.	\$0.2600	\$7,475.00
Jones Bros. Contractors, LLC	\$0.2500	\$7,187.50
Charles Blalock & Sons, Inc.	\$0.2600	\$7,475.00
Rawso, LLC	\$0.2800	\$8,050.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
	9.300 L.M.	
Rogers Group, Inc.	\$892.0100	\$8,295.69
Jones Bros. Contractors, LLC	\$850.0000	\$7,905.00
Charles Blalock & Sons, Inc.	\$892.5000	\$8,300.25
Rawso, LLC	\$943.0100	\$8,769.99
740 42 02 ENILANCED ELATUNE TUEDMO DVAT MOVAO (CIN LINE)		
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
	12.000 L.M.	<b>.</b>
Rogers Group, Inc.	\$5,457.0200	\$65,484.24
Jones Bros. Contractors, LLC	\$5,200.0000	\$62,400.00
Charles Blalock & Sons, Inc.	\$5,460.0000	\$65,520.00
Rawso, LLC	\$5,768.9900	\$69,227.88
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN	NE)	
·	400.000 L.F.	
Rogers Group, Inc.	\$2.1000	\$840.00
Jones Bros. Contractors, LLC	\$2.0000	\$800.00
Charles Blalock & Sons, Inc.	\$2.1000	\$840.00
Rawso, LLC	\$2.2200	\$888.00
, and the second se		
717-01 MOBILIZATION		
	1.000 LS	
Rogers Group, Inc.	\$735,817.8600	\$735,817.86
Jones Bros. Contractors, LLC	\$980,000.0000	\$980,000.00
Charles Blalock & Sons, Inc.	\$950,000.0000	\$950,000.00
Rawso, LLC	\$1,703,638.7900	\$1,703,638.79
730-01.02 REMOVAL OF SIGNAL EQUIPMENT	0.000 54.00	
	2.000 EACH	<b>4</b>
Rogers Group, Inc.	\$1,070.4200	\$2,140.84
Jones Bros. Contractors, LLC	\$1,000.0000	\$2,000.00
Charles Blalock & Sons, Inc.	\$1,071.4300	\$2,142.86
Rawso, LLC	\$1,109.4200	\$2,218.84

				CONTRACT CNV010
			UNIT PRICE	EXTENSION
730-01.03	MODIFICATION OF EXISTING TRAFFIC SIGNAL EQUIPMENT			
		1.000 EACH		
	Rogers Group, Inc.		\$1,070.4200	\$1,070.42
	Jones Bros. Contractors, LLC		\$1,000.0000	\$1,000.00
	Charles Blalock & Sons, Inc.		\$1,071.4300	\$1,071.43
	Rawso, LLC		\$1,109.4200	\$1,109.42
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		13.000 EACH		
	Rogers Group, Inc.		\$834.9300	\$10,854.09
	Jones Bros. Contractors, LLC		\$780.0000	\$10,140.00
	Charles Blalock & Sons, Inc.		\$835.7100	\$10,864.23
	Rawso, LLC		\$865.3500	\$11,249.55
700 00 17	CIONAL LIEAD ACCEMBLY (450 ACU WITH DACKEL ATE)			
/30-02.1/	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)	4 000 5 4 0 1		
		4.000 EACH		<b>.</b>
	Rogers Group, Inc.		\$1,348.7200	\$5,394.88
	Jones Bros. Contractors, LLC		\$1,260.0000	\$5,040.00
	Charles Blalock & Sons, Inc.		\$1,350.0000	\$5,400.00
	Rawso, LLC		\$1,397.8700	\$5,591.48
730-02.30	SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
		6.000 EACH		
	Rogers Group, Inc.		\$992.2800	\$5,953.68
	Jones Bros. Contractors, LLC		\$927.0000	\$5,562.00
	Charles Blalock & Sons, Inc.		\$993.2200	\$5,959.32
	Rawso, LLC		\$1,028.4300	\$6,170.58
730-02.31	SIGNAL HEAD ASSEMBLY (140 A1 WITH BACKPLATE)			
		4.000 EACH	4000 0700	<b>#0.050.00</b>
	Rogers Group, Inc.		\$989.0700	\$3,956.28
	Jones Bros. Contractors, LLC		\$924.0000	\$3,696.00
	Charles Blalock & Sons, Inc.		\$990.0000	\$3,960.00
	Rawso, LLC		\$1,025.1100	\$4,100.44
730-03.21	INSTALL PULL BOX (TYPE B)			
		14.000 EACH		
	Rogers Group, Inc.		\$535.2100	\$7,492.94
	Jones Bros. Contractors, LLC		\$500.0000	\$7,000.00
	Charles Blalock & Sons, Inc.		\$535.7100	\$7,499.94
	Rawso, LLC		\$554.7100	\$7,765.94
720 05 04	ELECTRICAL CERVICE CONNECTION			
730-05.01	ELECTRICAL SERVICE CONNECTION	2 000 5404		
	Pagara Craun Ina	2.000 EACH	<b>#0.740.4000</b>	Ф <b>Т</b> 400 00
	Rogers Group, Inc.		\$3,746.4600	\$7,492.92
	Jones Bros. Contractors, LLC		\$3,500.0000	\$7,000.00 \$7,500.00
	Charles Blalock & Sons, Inc.		\$3,750.0000	\$7,500.00 \$7,765.06
	Rawso, LLC		\$3,882.9800	\$7,765.96

		UNIT PRICE	EXTENSION
730-08.02 SIGNAL CABLE - 5 CONDUCTOR			
	4,680.000 L.F.		
Rogers Group, Inc.	·	\$1.6100	\$7,534.80
Jones Bros. Contractors, LLC		\$1.5000	\$7,020.00
Charles Blalock & Sons, Inc.		\$1.6100	\$7,534.80
Rawso, LLC		\$1.6600	\$7,768.80
730-08.03 SIGNAL CABLE - 7 CONDUCTOR			
	3,975.000 L.F.		
Rogers Group, Inc.		\$1.8700	\$7,433.25
Jones Bros. Contractors, LLC		\$1.7500	\$6,956.25
Charles Blalock & Sons, Inc.		\$1.8700	\$7,433.25
Rawso, LLC		\$1.9400	\$7,711.50
730-08.04 SIGNAL CABLE - 9 CONDUCTOR			
	150.000 L.F.		
Rogers Group, Inc.		\$2.1400	\$321.00
Jones Bros. Contractors, LLC		\$2.0000	\$300.00
Charles Blalock & Sons, Inc.		\$2.1400	\$321.00
Rawso, LLC		\$2.2200	\$333.00
730-12.02 CONDUIT 2" DIAMETER (PVC)			
,	380.000 L.F.		
Rogers Group, Inc.	000.000 2.11 .	\$19.2700	\$7,322.60
Jones Bros. Contractors, LLC		\$18.0000	\$6,840.00
Charles Blalock & Sons, Inc.		\$19.2900	\$7,330.20
Rawso, LLC		\$19.9700	\$7,588.60
720 42 02 CONDUIT 2" DIAMETER (DVC)			
730-12.03 CONDUIT 3" DIAMETER (PVC)			
	60.000 L.F.		
Rogers Group, Inc.		\$25.6900	\$1,541.40
Jones Bros. Contractors, LLC		\$24.0000	\$1,440.00
Charles Blalock & Sons, Inc.		\$25.7100	\$1,542.60
Rawso, LLC		\$26.6300	\$1,597.80
730-12.13 CONDUIT 2" DIAMETER (JACK AND BORE)			
	2,130.000 L.F.		
Rogers Group, Inc.		\$32.1100	\$68,394.30
Jones Bros. Contractors, LLC		\$30.0000	\$63,900.00
Charles Blalock & Sons, Inc.		\$32.1400	\$68,458.20
Rawso, LLC		\$33.2800	\$70,886.40
730-13.07 VEHICLE DETECTOR (SIREN ACTIVATED PRIORITY CONTRO	OL)		
	8.000 EACH		
Rogers Group, Inc.		\$3,560.2100	\$28,481.68
Jones Bros. Contractors, LLC		\$3,326.0000	\$26,608.00
Charles Blalock & Sons, Inc.		\$3,563.5700	\$28,508.56
Rawso, LLC		\$3,689.9400	\$29,519.52

			CONTRACT CNV010
		UNIT PRICE	EXTENSION
730-13.13 VEHICLE DETECTOR (RADAR)			
	12.000 EACH		
Rogers Group, Inc.		\$8,306.4300	\$99,677.16
Jones Bros. Contractors, LLC		\$7,760.0000	\$93,120.00
Charles Blalock & Sons, Inc.		\$8,314.2900	\$99,771.48
Rawso, LLC		\$8,609.1100	\$103,309.32
730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)			
	2.000 EACH		
Rogers Group, Inc.		\$15,264.1400	\$30,528.28
Jones Bros. Contractors, LLC		\$14,260.0000	\$28,520.00
Charles Blalock & Sons, Inc.		\$15,278.5700	\$30,557.14
Rawso, LLC		\$15,820.3500	\$31,640.70
730-16.04 CONTROLLER (ATC)			
750-10.04 CONTROLLER (ATO)	2.000 EACH		
Rogers Group, Inc.	2.000 2.7011	\$3,986.2300	\$7,972.46
Jones Bros. Contractors, LLC		\$3,724.0000	\$7,448.00
Charles Blalock & Sons, Inc.		\$3,990.0000	\$7,980.00
Rawso, LLC		\$4,131.4900	\$8,262.98
730-23.30 PEDESTAL POLE (10' PEDESTRIAN POLE)			
	6.000 EACH		<b>.</b>
Rogers Group, Inc.		\$1,926.7400	\$11,560.44
Jones Bros. Contractors, LLC		\$1,800.0000	\$10,800.00
Charles Blalock & Sons, Inc. Rawso, LLC		\$1,928.5700 \$1,996.9600	\$11,571.42 \$11,981.76
Nawso, LLC		φ1,990.9000	φ11,901.70
730-23.96 CANTILEVER SIGNAL SUPPORT (1 ARM @ 55')			
	1.000 EACH		
Rogers Group, Inc.		\$25,548.7000	\$25,548.70
Jones Bros. Contractors, LLC		\$23,868.0000	\$23,868.00
Charles Blalock & Sons, Inc.		\$25,572.8600	\$25,572.86
Rawso, LLC		\$26,479.6600	\$26,479.66
730-23.97 CANTILEVER SIGNAL SUPPORT (1 ARM @ 65')			
	2.000 EACH		
Rogers Group, Inc.		\$29,030.7600	\$58,061.52
Jones Bros. Contractors, LLC		\$27,121.0000	\$54,242.00
Charles Blalock & Sons, Inc.		\$29,058.2200	\$58,116.44
Rawso, LLC		\$30,088.6100	\$60,177.22
730-23.98 CANTILEVER SIGNAL SUPPORT (2 @ 55' & 50')			
100-20.00 CANTILLVEN SIGNAL SUFFUNT (2 @ 30 & 30 )	1.000 EACH		
Rogers Group, Inc.	1.000 LACH	\$32,950.6100	\$32,950.61
Jones Bros. Contractors, LLC		\$30,783.0000	\$32,950.61
Charles Blalock & Sons, Inc.		\$32,981.7800	\$32,981.78
Rawso, LLC		\$34,151.3100	\$34,151.31
·		. ,	• •

			•	
			UNIT PRICE	EXTENSION
730-23.99 CANTILEVER SIG	NAL SUPPORT (2 @ 65' & 55')			
	( 2 :: :: : ,	1.000 EACH		
5 0 1		1.000 EACH	<b>#44.000.0000</b>	<b>#</b> 44 000 00
Rogers Group, In			\$41,838.2800	\$41,838.28
Jones Bros. Cont			\$39,086.0000	\$39,086.00
Charles Blalock 8	Sons, Inc.		\$41,877.8500	\$41,877.85
Rawso, LLC			\$43,362.8300	\$43,362.83
730-24.41 CANTILEVER SIG	NAL SUPPORT (1 ARM @ 60')			
		2.000 EACH		
Rogers Group, In	c.		\$27,346.9900	\$54,693.98
Jones Bros. Cont	ractors, LLC		\$25,548.0000	\$51,096.00
Charles Blalock 8	k Sons, Inc.		\$27,372.8600	\$54,745.72
Rawso, LLC			\$28,343.4900	\$56,686.98
730-24.42 CANTILEVER SIG	NAL SUPPORT (1 ARM @ 50')			
	,	2.000 EACH		
Rogers Group, In		2.000 EA011	\$22,052,5600	\$46,107.12
Jones Bros. Cont			\$23,053.5600 \$21,537.0000	\$43,074.00
Charles Blalock 8			\$23,075.3600	\$45,074.00 \$46,150.72
Rawso, LLC	2 30115, 1116.		\$23,893.6000	\$47,787.20
Nawso, ELC			φ23,093.0000	φ41,101.20
700 00 44 OOUNTDOWN DE	D CONIL LIEAD W/ALIDIDLE BUCH BUTTON	0.45IN 010N		
730-26.11 COUNTDOWN PE	D SGNL HEAD W/AUDIBLE PUSH BUTTON			
		10.000 EACH		
Rogers Group, In			\$1,483.6000	\$14,836.00
Jones Bros. Cont			\$1,386.0000	\$13,860.00
Charles Blalock 8	k Sons, Inc.		\$1,485.0000	\$14,850.00
Rawso, LLC			\$1,537.6600	\$15,376.60
730-35.06 BATTERY BACK-	UP AND POWER CONDITIONER			
		2.000 EACH		
Rogers Group, In	c.		\$7,749.8100	\$15,499.62
Jones Bros. Cont			\$7,240.0000	\$14,480.00
Charles Blalock 8			\$7,757.1500	\$15,514.30
Rawso, LLC	•		\$8,032.2100	\$16,064.42
·			. ,	. ,
730-40 TEMPORARY TRA	AFFIC SIGNAL SYSTEM			
		1.000 EACH		
Pagara Craup, In		1.000 LAGIT	¢24.702.0000	\$34,702.90
Rogers Group, In Jones Bros. Cont			\$34,702.9000	
			\$32,420.0000 \$34,735,7400	\$32,420.00 \$34,735,71
Charles Blalock &	a Sons, inc.		\$34,735.7100 \$35,067,4400	\$34,735.71
Rawso, LLC			\$35,967.4400	\$35,967.44
740 40 00 OFOTEVEL F (TV)	DE HIVEDOCION CONTROL			
740-10.03 GEOTEXTILE (TY	FE III)(ERUSIUN CUNTRUL)			
		2,290.000 S.Y.		
Rogers Group, In			\$3.4000	\$7,786.00
Jones Bros. Cont			\$4.3400	\$9,938.60
Charles Blalock 8	Sons, Inc.		\$2.3600	\$5,404.40
Rawso, LLC			\$2.5000	\$5,725.00

			UNIT PRICE	EXTENSION
740-10.04 GI	EOTEXTILE (TYPE IV)(STABILIZATION)			
		47 400 000 C V		
		17,400.000 S.Y.		
	ogers Group, Inc.		\$2.2600	\$39,324.00
Jo	ones Bros. Contractors, LLC		\$1.1600	\$20,184.00
Cl	harles Blalock & Sons, Inc.		\$1.9400	\$33,756.00
Ra	awso, LLC		\$1.4600	\$25,404.00
740-11 02 TE	EMPORARY SEDIMENT TUBE 12IN			
740-11.02 11	EMI OKAKI GEDIMENI I GBE 1210			
		12,300.000 L.F.		
	ogers Group, Inc.		\$3.3600	\$41,328.00
Jo	ones Bros. Contractors, LLC		\$2.8700	\$35,301.00
Cl	harles Blalock & Sons, Inc.		\$3.1500	\$38,745.00
Ra	awso, LLC		\$3.5500	\$43,665.00
797-08 09 80	IN CLEAN OUT ASSEMBLY			
707 00.00 011	W CLEAR COT ACCEMBET	4 000 74 011		
		1.000 EACH		
	ogers Group, Inc.		\$524.7000	\$524.70
Jo	ones Bros. Contractors, LLC		\$1,277.7700	\$1,277.77
Cl	harles Blalock & Sons, Inc.		\$1,280.4300	\$1,280.43
Ra	awso, LLC		\$1,743.2000	\$1,743.20
801-01 07 TE	EMPORARY SEEDING (WITH MULCH)			
001 01101 12		455 000 11115		
		455.000 UNIT		
	ogers Group, Inc.		\$22.0400	\$10,028.20
Jo	ones Bros. Contractors, LLC		\$21.0000	\$9,555.00
Cl	harles Blalock & Sons, Inc.		\$29.4000	\$13,377.00
Ra	awso, LLC		\$21.0800	\$9,591.40
801-01-36 SE	PECIAL WETLAND SEED MIXTURE			
001 01100 01		45 000 LINUT		
		15.000 UNIT		
	ogers Group, Inc.		\$62.9600	\$944.40
Jo	ones Bros. Contractors, LLC		\$60.0000	\$900.00
Cl	harles Blalock & Sons, Inc.		\$99.7500	\$1,496.25
Ra	awso, LLC		\$149.7700	\$2,246.55
801-01 37 NA	ATVE SEED MX ENCAPSULATION & CLEAR ZONE			
001 01.07 147	ATTE OLLS MA ENGAL COLATION & OLLAN LONE			
		290.000 UNIT		
	ogers Group, Inc.		\$50.3700	\$14,607.30
Jo	ones Bros. Contractors, LLC		\$48.0000	\$13,920.00
Cl	harles Blalock & Sons, Inc.		\$68.2500	\$19,792.50
Ra	awso, LLC		\$66.5700	\$19,305.30
801-01.38 NA	ATVE SEED MX FINAL STABLIZATN OF SLOPES			
22. 21.30 147		40E 000 UNIT		
		165.000 UNIT		
	ogers Group, Inc.		\$50.3700	\$8,311.05
Jo	ones Bros. Contractors, LLC		\$48.0000	\$7,920.00
Cl	harles Blalock & Sons, Inc.		\$68.2500	\$11,261.25
Ra	awso, LLC		\$66.5700	\$10,984.05

#### CONTRACT CNV010

			UNIT PRICE	EXTENSION
801-02.15	FERTILIZER			
		1.000 TON		
	Rogers Group, Inc.		\$209.8800	\$209.88
	Jones Bros. Contractors, LLC		\$200.0000	\$200.00
	Charles Blalock & Sons, Inc.		\$1,050.0000	\$1,050.00
	Rawso, LLC		\$1,331.3100	\$1,331.31
801-03	WATER (SEEDING & SODDING)			
		47.000 M.G.		
	Rogers Group, Inc.		\$12.5900	\$591.73
	Jones Bros. Contractors, LLC		\$12.0000	\$564.00
	Charles Blalock & Sons, Inc.		\$73.5000	\$3,454.50
	Rawso, LLC		\$110.9400	\$5,214.18
803-01	SODDING (NEW SOD)			
		4,600.000 S.Y.		
	Rogers Group, Inc.	·	\$5.0400	\$23,184.00
	Jones Bros. Contractors, LLC		\$4.8000	\$22,080.00
	Charles Blalock & Sons, Inc.		\$4.7300	\$21,758.00
	Rawso, LLC		\$5.8200	\$26,772.00
805-12.01	EROSION CONTROL BLANKET (TYPE I)			
		14,250.000 S.Y.		
	Rogers Group, Inc.	,	\$1.0000	\$14,250.00
	Jones Bros. Contractors, LLC		\$0.9500	\$13,537.50
	Charles Blalock & Sons, Inc.		\$1.1000	\$15,675.00
	Rawso, LLC		\$0.8300	\$11,827.50
805-12.02	EROSION CONTROL BLANKET (TYPE II)			
	,	440.000 S.Y.		
	Rogers Group, Inc.	. 10.000 0111	\$1.0000	\$440.00
	Jones Bros. Contractors, LLC		\$0.9500	\$418.00
	Charles Blalock & Sons, Inc.		\$1.1000	\$484.00
	Rawso, LLC		\$0.8300	\$365.20
806-02.03	PROJECT MOWING			
		6.000 CYCL		
	Rogers Group, Inc.	3.333 3 . 32	\$524.7200	\$3,148.32
	Jones Bros. Contractors, LLC		\$500.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$525.0000	\$3,150.00
	Rawso, LLC		\$11,981.7500	\$71,890.50
209-06.02	12" DIA COIR LOG (BOX BRIDGE)			
		60.000 L.F.		
	Rogers Group, Inc.	00.000 E.I .	\$20.9900	\$1,259.40
	Jones Bros. Contractors, LLC		\$20.9900 \$15.5600	\$933.60
	Charles Blalock & Sons, Inc.		\$23.9900	\$1,439.40
	Rawso, LLC		\$16.6400	\$998.40
	•			• • • • •

CONTRACT	CNIVAAA

\$106,674.16

\$1.3900

		UNIT PRICE	EXTENSION
BOX BRIDGE CATEGORY			
604-02.01 CLASS A CONCRETE (BOX BRIDGES)			
	385.000 C.Y.		
Rogers Group, Inc.		\$904.8800	\$348,378.80
Jones Bros. Contractors, LLC		\$800.0000	\$308,000.00
Charles Blalock & Sons, Inc.		\$945.1300	\$363,875.05
Rawso, LLC		\$1,098.3300	\$422,857.05
604-02.02 STEEL BAR REINFORCEMENT (BOX BRIDGES)			
	76,744.000 LB.		
Rogers Group, Inc.		\$1.2800	\$98,232.32
Jones Bros. Contractors, LLC		\$1.2400	\$95,162.56
Charles Blalock & Sons, Inc.		\$1.2100	\$92,860.24

Rawso, LLC

UTILITY CATEGORY	UNIT PRICE	EXTENSION
795-01.07 10IN DIP RESTRAINED JOINT WATER LINE		
793-01.07 TOIN DIF RESTRAINED JOINT WATER LINE	130.000 L.F.	
Rogers Group, Inc.	\$140.8300	\$18,307.90
Jones Bros. Contractors, LLC	\$146.0000	\$18,980.00
Charles Blalock & Sons, Inc.	\$138.1900	\$17,964.70
Rawso, LLC	\$125.9200	\$16,369.60
795-01.13 16IN DIP RESTRAINED JOINT WATER LINE		
$\epsilon$	6,816.000 L.F.	
Rogers Group, Inc.	\$173.3200	\$1,181,349.12
Jones Bros. Contractors, LLC	\$219.0000	\$1,492,704.00
Charles Blalock & Sons, Inc. Rawso, LLC	\$170.0800 \$183.6600	\$1,159,265.28
Rawso, LLC	\$163.0000	\$1,251,826.56
795-03.05 6IN PVC WATER LINE		
	I,680.000 L.F.	
Rogers Group, Inc.	\$48.7500	\$81,900.00
Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc.	\$99.0000 \$47.8300	\$166,320.00 \$80,354.40
Rawso, LLC	\$80.4300	\$135,122.40
	φου. 1000	ψ100,122.10
795-06.04 CONNECT TO 6IN WATER LINE		
	6.000 EACH	
Rogers Group, Inc.	\$3,033.2300	\$18,199.38
Jones Bros. Contractors, LLC	\$2,800.0000 \$3,076,3300	\$16,800.00
Charles Blalock & Sons, Inc. Rawso, LLC	\$2,976.3300 \$4,154.5600	\$17,857.98 \$24,927.36
Namoo, LLO	ψ1,10 1.0000	ΨΖ 1,027.00
795-06.06 CONNECT TO 10IN WATER LINE		
	1.000 EACH	
Rogers Group, Inc.	\$4,116.5400	\$4,116.54
Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc.	\$3,100.0000 \$4,039.3100	\$3,100.00 \$4,039.31
Rawso, LLC	\$4,628.4500	\$4,628.45
,	<b>\$</b> 1,020.1000	ψ 1,0=01.10
795-06.08 CONNECT TO 14IN WATER LINE		
	1.000 EACH	<b>*</b>
Rogers Group, Inc.	\$7,366.4400	\$7,366.44
Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc.	\$9,300.0000 \$7,228.2300	\$9,300.00 \$7,228.23
Rawso, LLC	\$10,071.9400	\$10,071.94
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	<b>\$13,5</b> 1 115 155	<b>*</b> 1 <b>3 , 3</b> 1 1 1 1
795-06.09 CONNECT TO 16IN WATER LINE		
	9.000 EACH	_
Rogers Group, Inc.	\$8,449.7300	\$76,047.57
Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc.	\$6,800.0000 \$8,291.2000	\$61,200.00 \$74,620.80
Rawso, LLC	\$8,291.2000 \$8,079.9600	\$74,620.80 \$72,719.64
	ψο, στο. 3000	ψι 2,1 10.04

		CO	MIRACI CHVUIU
		UNIT PRICE	EXTENSION
795-06.39 CUT AND CAP 16IN WATER LINE			
	1.000 EACH		
Rogers Group, Inc.		\$8,666.3900	\$8,666.39
Jones Bros. Contractors, LLC		\$3,800.0000	\$3,800.00
Charles Blalock & Sons, Inc.		\$8,503.7900	\$8,503.79
			\$4,983.95
Rawso, LLC		\$4,983.9500	<b>Ђ</b> 4,963.95
795-07.17 16IN X 6IN TAPPING SLEEVE AND VALVE			
	1.000 EACH		
Rogers Group, Inc.		\$8,666.3900	\$8,666.39
Jones Bros. Contractors, LLC		\$7,800.0000	\$7,800.00
Charles Blalock & Sons, Inc.		\$8,503.7900	\$8,503.79
Rawso, LLC		\$9,238.8200	\$9,238.82
795-08.04 6IN GATE VALVE ASSEMBLY			
795-00.04 GIN GATE VALVE ASSEMBLY	15.000 EACH		
De nora Oceana Inc	13.000 EACH	<b>#4</b> 000 0000	<b>#40.400.40</b>
Rogers Group, Inc.		\$1,299.9600	\$19,499.40
Jones Bros. Contractors, LLC		\$1,400.0000	\$21,000.00
Charles Blalock & Sons, Inc.		\$1,275.5700	\$19,133.55
Rawso, LLC		\$2,403.2600	\$36,048.90
795-08.06 10IN GATE VALVE ASSEMBLY			
	2.000 EACH		
Rogers Group, Inc.		\$3,033.2300	\$6,066.46
Jones Bros. Contractors, LLC		\$2,700.0000	\$5,400.00
Charles Blalock & Sons, Inc.		\$2,976.3300	\$5,952.66
Rawso, LLC		\$4,721.7400	\$9,443.48
795-08.13 16IN BUTTERFLY VALVE ASSEMBLY			
	8.000 EACH		
Rogers Group, Inc.		\$8,449.7300	\$67,597.84
Jones Bros. Contractors, LLC		\$9,500.0000	\$76,000.00
Charles Blalock & Sons, Inc.		\$8,291.2000	\$66,329.60
Rawso, LLC		\$11,747.4600	\$93,979.68
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY			
	10.000 EACH		
Rogers Group, Inc.		\$1,299.9600	\$12,999.60
Jones Bros. Contractors, LLC		\$1,400.0000	\$14,000.00
Charles Blalock & Sons, Inc.		\$1,275.5700	\$12,755.70
Rawso, LLC		\$3,341.4000	\$33,414.00
795-10.05 2IN AUTO AIR RELEASE VALVE ASSEMBLY	2 000 54 011		
Pagara Craup Ina	3.000 EACH	<b>#2.240.000</b>	¢0.740.70
Rogers Group, Inc.		\$3,249.9000	\$9,749.70
Jones Bros. Contractors, LLC		\$6,300.0000	\$18,900.00
Charles Blalock & Sons, Inc.		\$3,188.9200	\$9,566.76
Rawso, LLC		\$6,146.7400	\$18,440.22

		CC	MIRACI CHVUIU
		UNIT PRICE	EXTENSION
795-11.02 FIRE HYDRANT ASSEMBLY			
	16.000 EACH		
Rogers Group, Inc.		\$5,633.1600	\$90,130.56
Jones Bros. Contractors, LLC		\$6,600.0000	\$105,600.00
Charles Blalock & Sons, Inc.		\$5,527.4700	\$88,439.52
Rawso, LLC		\$9,009.3300	\$144,149.28
795-11.10 FIRE HYDRANT RISER			
	2.000 V.F.		
Rogers Group, Inc.		\$417.0700	\$834.14
Jones Bros. Contractors, LLC		\$1,600.0000	\$3,200.00
Charles Blalock & Sons, Inc.		\$409.2500	\$818.50
Rawso, LLC		\$1,725.5300	\$3,451.06
795-12.02 REMOVAL OF EXISTING LINE			
	1.000 LS		
Rogers Group, Inc.		\$27,082.4800	\$27,082.48
Jones Bros. Contractors, LLC		\$78,000.0000	\$78,000.00
Charles Blalock & Sons, Inc.		\$26,574.3700	\$26,574.37
Rawso, LLC		\$207,881.8500	\$207,881.85
795-13.01 DI FITTINGS			
	50,750.000 LB.		
Rogers Group, Inc.		\$6.5000	\$329,875.00
Jones Bros. Contractors, LLC		\$0.1000	\$5,075.00
Charles Blalock & Sons, Inc.		\$6.3800	\$323,785.00
Rawso, LLC		\$5.7600	\$292,320.00
795-14.05 CONCRETE ENCASEMENT			
	20.000 L.F.		
Rogers Group, Inc.		\$200.4100	\$4,008.20
Jones Bros. Contractors, LLC		\$152.0000	\$3,040.00
Charles Blalock & Sons, Inc.		\$196.6500	\$3,933.00
Rawso, LLC		\$158.2600	\$3,165.20
795-15.02 12IN STEEL CASING PIPE OPEN CUT METHOD			
	853.000 L.F.		
Rogers Group, Inc.		\$417.0700	\$355,760.71
Jones Bros. Contractors, LLC		\$152.0000	\$129,656.00
Charles Blalock & Sons, Inc.		\$409.2500	\$349,090.25
Rawso, LLC		\$333.6200	\$284,577.86
795-15.04 18IN STEEL CASING PIPE OPEN CUT METHOD			
	92.000 L.F.		
Rogers Group, Inc.		\$525.4100	\$48,337.72
Jones Bros. Contractors, LLC		\$230.0000	\$21,160.00
Charles Blalock & Sons, Inc.		\$515.5400	\$47,429.68
Rawso, LLC		\$441.6700	\$40,633.64

			MINACI CHVOID
		UNIT PRICE	EXTENSION
795-15.07 24IN STEEL CASING PIPE OPEN CUT METHOD			
	354.000 L.F.		
Rogers Group, Inc.		\$633.7300	\$224,340.42
Jones Bros. Contractors, LLC		\$236.0000	\$83,544.00
Charles Blalock & Sons, Inc.		\$621.8400	\$220,131.36
Rawso, LLC		\$422.4200	\$149,536.68
795-21.02 RETIRE WATER VALVES AND HYDRANTS			
	1.000 LS		
Rogers Group, Inc.		\$2,708.2500	\$2,708.25
Jones Bros. Contractors, LLC		\$11,500.0000	\$11,500.00
Charles Blalock & Sons, Inc.		\$2,657.4300	\$2,657.43
Rawso, LLC		\$28,774.3000	\$28,774.30
797-03.06 4IN PVC FORCE MAIN			
	7,500.000 L.F.		
Rogers Group, Inc.		\$34.6600	\$259,950.00
Jones Bros. Contractors, LLC		\$96.0000	\$720,000.00
Charles Blalock & Sons, Inc.		\$34.1400	\$256,050.00
Rawso, LLC		\$87.6400	\$657,300.00
797-03.07 8IN PVC FORCE MAIN			
	185.000 L.F.		
Rogers Group, Inc.		\$69.3300	\$12,826.05
Jones Bros. Contractors, LLC		\$107.0000	\$19,795.00
Charles Blalock & Sons, Inc.		\$68.2900	\$12,633.65
Rawso, LLC		\$84.6000	\$15,651.00
797-05.52 8IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
	210.000 L.F.		
Rogers Group, Inc.		\$181.1600	\$38,043.60
Jones Bros. Contractors, LLC		\$136.0000	\$28,560.00
Charles Blalock & Sons, Inc.		\$154.7200	\$32,491.20
Rawso, LLC		\$67.9600	\$14,271.60
797-05.55 10IN PVC GRAVITY SEWER 0FT-6FT DEPTH			
	220.000 L.F.		
Rogers Group, Inc.		\$181.7100	\$39,976.20
Jones Bros. Contractors, LLC		\$138.0000	\$30,360.00
Charles Blalock & Sons, Inc.		\$154.7200	\$34,038.40
Rawso, LLC		\$119.7100	\$26,336.20
797-05.56 10IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
	80.000 L.F.		
Rogers Group, Inc.		\$184.1700	\$14,733.60
Jones Bros. Contractors, LLC		\$140.0000	\$11,200.00
Charles Blalock & Sons, Inc.		\$154.7200	\$12,377.60
Rawso, LLC		\$164.7800	\$13,182.40

CONTRACT CNV010		CON	ITRA	CT	CNV	010
-----------------	--	-----	------	----	-----	-----

	UNIT PRICE	EXTENSION
797-05.60 12IN PVC GRAVITY SEWER 6FT-12FT DEPTH		
1,19	90.000 L.F.	
Rogers Group, Inc.	\$182.2800	\$216,913.20
Jones Bros. Contractors, LLC	\$155.0000	\$184,450.00
Charles Blalock & Sons, Inc.	\$154.7200	\$184,116.80
Rawso, LLC	\$137.0200	\$163,053.80
797-05.68 18IN PVC GRAVITY SEWER 6FT-12FT DEPTH		
47	75.000 L.F.	
Rogers Group, Inc.	\$182.9400	\$86,896.50
Jones Bros. Contractors, LLC	\$182.0000	\$86,450.00
Charles Blalock & Sons, Inc.	\$320.1100	\$152,052.25
Rawso, LLC	\$175.8400	\$83,524.00
797-06.64 BORE/JACK 16IN STEEL CASING PIPE-UNCON.		
20	65.000 L.F.	
Rogers Group, Inc.	\$433.3200	\$114,829.80
Jones Bros. Contractors, LLC	\$611.0000	\$161,915.00
Charles Blalock & Sons, Inc.	\$426.8100	\$113,104.65
Rawso, LLC	\$404.0800	\$107,081.20
797-06.66 BORE/JACK 20IN STEEL CASING PIPE-UNCON.		
1:	25.000 L.F.	
Rogers Group, Inc.	\$649.9800	\$81,247.50
Jones Bros. Contractors, LLC	\$737.0000	\$92,125.00
Charles Blalock & Sons, Inc.	\$640.2200	\$80,027.50
Rawso, LLC	\$611.6600	\$76,457.50
797-06.89 OPEN CUT 12IN STEEL CASING PIPE		
1.10	00.000 L.F.	
Rogers Group, Inc.	\$308.7400	\$339,614.00
Jones Bros. Contractors, LLC	\$209.0000	\$229,900.00
Charles Blalock & Sons, Inc.	\$304.1000	\$334,510.00
Rawso, LLC	\$192.6200	\$211,882.00
797-06.91 OPEN CUT 18IN STEEL CASING PIPE		
;	80.000 L.F.	
Rogers Group, Inc.	\$325.0000	\$26,000.00
Jones Bros. Contractors, LLC	\$270.0000	\$21,600.00
Charles Blalock & Sons, Inc.	\$320.1100	\$25,608.80
Rawso, LLC	\$339.1300	\$27,130.40
797-06.92 OPEN CUT 20IN STEEL CASING PIPE		
	75.000 L.F.	
Rogers Group, Inc.	\$379.1600	\$142,185.00
Jones Bros. Contractors, LLC	\$394.0000	\$147,750.00
Charles Blalock & Sons, Inc.	\$373.4600	\$140,047.50
Rawso, LLC	\$438.3600	\$164,385.00

				CONTRACT CNV010
			UNIT PRICE	EXTENSION
<b></b>	4011.144.111.01.5.455.055.055.11			
797-07.02	48IN MANHOLE 4FT-6FT DEPTH	0.000 54011		
	Dogger Croup Inc	2.000 EACH	£4.222.2000	<b>\$0.666.40</b>
	Rogers Group, Inc. Jones Bros. Contractors, LLC		\$4,333.2000 \$4,400.0000	\$8,666.40 \$8,800.00
	Charles Blalock & Sons, Inc.		\$4,268.1200	\$8,536.24
	Rawso, LLC		\$4,349.7600	\$8,699.52
797-07.03	48IN MANHOLE 6FT-8FT DEPTH			
		8.000 EACH		
	Rogers Group, Inc.		\$4,766.5100	\$38,132.08
	Jones Bros. Contractors, LLC		\$4,600.0000	\$36,800.00
	Charles Blalock & Sons, Inc.		\$4,694.9300	\$37,559.44
	Rawso, LLC		\$6,069.0200	\$48,552.16
797-07.04	48IN MANHOLE 8FT-10FT DEPTH			
		5.000 EACH		
	Rogers Group, Inc.		\$4,983.1700	\$24,915.85
	Jones Bros. Contractors, LLC		\$4,800.0000	\$24,000.00
	Charles Blalock & Sons, Inc.		\$4,908.3400	\$24,541.70
	Rawso, LLC		\$6,323.0700	\$31,615.35
797-07.05	48IN MANHOLE 10FT-12FT DEPTH			
		1.000 EACH		
	Rogers Group, Inc.		\$9,749.7000	\$9,749.70
	Jones Bros. Contractors, LLC		\$5,000.0000	\$5,000.00
	Charles Blalock & Sons, Inc.		\$9,603.2700	\$9,603.27
	Rawso, LLC		\$7,010.5800	\$7,010.58
797-07.80	REMOVE SEWER MANHOLE			
		12.000 EACH		
	Rogers Group, Inc.		\$2,166.5900	\$25,999.08
	Jones Bros. Contractors, LLC		\$600.0000	\$7,200.00
	Charles Blalock & Sons, Inc.		\$2,134.0600	\$25,608.72
	Rawso, LLC		\$1,992.5400	\$23,910.48
797-08.01	DI FITTINGS			
		6,000.000 LB.		
	Rogers Group, Inc.		\$6.5000	\$39,000.00
	Jones Bros. Contractors, LLC		\$0.1000	\$600.00
	Charles Blalock & Sons, Inc.		\$6.4000	\$38,400.00
	Rawso, LLC		\$4.5400	\$27,240.00
797-08.20	CONNECT SERVICE LINES (ALL SIZES)			
		3.000 EACH		
	Rogers Group, Inc.		\$3,033.2300	\$9,099.69
	Jones Bros. Contractors, LLC		\$1,000.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$2,987.6800	\$8,963.04
	Rawso, LLC		\$5,076.7100	\$15,230.13

		•	ONTRACT CNV010
		UNIT PRICE	EXTENSION
797-09.04 2IN PVC BALL VALVE			
Danier Origin Inc	3.000 EACH	<b>#4.000.0000</b>	<b>#0.040.00</b>
Rogers Group, Inc. Jones Bros. Contractors, LLC		\$1,083.3000 \$550.0000	\$3,249.90 \$1,650.00
Charles Blalock & Sons, Inc.		\$1,067.0300	\$3,201.09
Rawso, LLC		\$2,062.9800	\$6,188.94
797-09.06 4IN PLUG VALVE ASSEMBLY			
	12.000 EACH		
Rogers Group, Inc.		\$3,033.2300	\$36,398.76
Jones Bros. Contractors, LLC		\$4,000.0000	\$48,000.00
Charles Blalock & Sons, Inc.		\$2,987.6800	\$35,852.16
Rawso, LLC		\$7,332.4800	\$87,989.76
797-09.19 1IN COMBO AIR RELEASE VALVE ASSEMBLY			
	4.000 EACH		
Rogers Group, Inc.		\$4,333.2000	\$17,332.80
Jones Bros. Contractors, LLC		\$7,000.0000	\$28,000.00
Charles Blalock & Sons, Inc.		\$4,268.1200	\$17,072.48
Rawso, LLC		\$5,735.6400	\$22,942.56
797-10.05 CONNECT 4IN LATERAL TO SEWER LINE			
	1.000 EACH		
Rogers Group, Inc.		\$3,033.2300	\$3,033.23
Jones Bros. Contractors, LLC		\$2,200.0000	\$2,200.00
Charles Blalock & Sons, Inc.		\$2,987.6800	\$2,987.68
Rawso, LLC		\$2,544.9600	\$2,544.96
797-10.09 CONNECT EX. 8IN SEWER TO NEW MANHOLE			
	1.000 EACH		
Rogers Group, Inc.		\$2,708.2500	\$2,708.25
Jones Bros. Contractors, LLC		\$2,300.0000	\$2,300.00
Charles Blalock & Sons, Inc.		\$2,667.5800	\$2,667.58
Rawso, LLC		\$4,002.3600	\$4,002.36
797-10.10 CONNECT EX.10-18IN SEWER TO NEW MANHOLE			
	2.000 EACH		
Rogers Group, Inc.		\$4,333.2000	\$8,666.40
Jones Bros. Contractors, LLC		\$2,400.0000	\$4,800.00
Charles Blalock & Sons, Inc.		\$4,268.1200	\$8,536.24
Rawso, LLC		\$5,258.0100	\$10,516.02
797-10.14 CONNECT TO 2IN FORCE MAIN			
	1.000 EACH		
Rogers Group, Inc.		\$2,166.5900	\$2,166.59
longs Bros Contractors LLC		\$1.500.0000	\$1.500.00

Jones Bros. Contractors, LLC

Charles Blalock & Sons, Inc.

Rawso, LLC

\$1,500.00

\$2,134.06

\$2,626.53

\$1,500.0000

\$2,134.0600

\$2,626.5300

			CONTRACT CNV010
		UNIT PRICE	EXTENSION
797-10.16 CONNECT TO 4IN FORCE MAIN			
	7.000 EACH		
Rogers Group, Inc.		\$3,249.9000	\$22,749.30
Jones Bros. Contractors, LLC		\$1,900.0000	\$13,300.00
Charles Blalock & Sons, Inc.		\$3,201.0900	\$22,407.63
Rawso, LLC		\$3,130.3400	\$21,912.38
797-10.18 CONNECT TO 8IN FORCE MAIN			
	2.000 EACH		
Rogers Group, Inc.		\$6,499.8000	\$12,999.60
Jones Bros. Contractors, LLC		\$3,000.0000	\$6,000.00
Charles Blalock & Sons, Inc.		\$6,402.1800	\$12,804.36
Rawso, LLC		\$4,908.2600	\$9,816.52
797-10.26 CONNECT PUMP STATION TO FORCE MAIN			
737-10.20 CONNECTION CTATION TO LONGE MAIN	2.000 EACH		
Rogers Group, Inc.	2.000 EAGI1	\$6,499.8000	\$12,999.60
Jones Bros. Contractors, LLC		\$3,000.0000	\$6,000.00
Charles Blalock & Sons, Inc.		\$6,402.1800	\$12,804.36
Rawso, LLC		\$4,858.3500	\$9,716.70
797-11.34 REMOVE EXISTING SEWER <8IN			
707 1107 12	5,450.000 L.F.		
Rogers Group, Inc.	0,1001000 = 1	\$32.5000	\$177,125.00
Jones Bros. Contractors, LLC		\$13.0000	\$70,850.00
Charles Blalock & Sons, Inc.		\$32.0100	\$174,454.50
Rawso, LLC		\$28.6000	\$155,870.00
707 44 25 DEMOVE EVICTING CEWED OIN 44IN			
797-11.35 REMOVE EXISTING SEWER 8IN-14IN	2 020 000 L E		
Rogers Group, Inc.	2,020.000 L.F.	\$48.7500	\$98,475.00
Jones Bros. Contractors, LLC		\$13.0000	\$26,260.00
Charles Blalock & Sons, Inc.		\$48.0200	\$97,000.40
Rawso, LLC		\$33.0500	\$66,761.00
797-11.36 REMOVE EXISTING SEWER 15IN-24IN			
	250.000 L.F.	<b></b>	<b>*</b> · • · • • • • •
Rogers Group, Inc.		\$48.7500	\$12,187.50
Jones Bros. Contractors, LLC		\$13.0000	\$3,250.00
Charles Blalock & Sons, Inc.		\$48.0200 \$44.4700	\$12,005.00 \$11,117.50
Rawso, LLC		<del>044.4</del> 700	\$11,117.50
797-11.38 BY-PASS PUMPING			
	1.000 LS		

Rogers Group, Inc.

Rawso, LLC

Jones Bros. Contractors, LLC

Charles Blalock & Sons, Inc.

\$27,082.48

\$18,000.00

\$26,675.73

\$38,829.74

\$27,082.4800

\$18,000.0000

\$26,675.7300

\$38,829.7400

				CONTRACT CNV010
			UNIT PRICE	EXTENSION
797-40.01	CONCRETE ENCASEMENT			
		180.000 L.F.		
	Rogers Group, Inc.		\$65.0000	\$11,700.00
	Jones Bros. Contractors, LLC		\$100.0000	\$18,000.00
	Charles Blalock & Sons, Inc.		\$64.0200	\$11,523.60
	Rawso, LLC		\$176.4500	\$31,761.00
795-01.09	12IN DIP RESTRAINED JOINT WATER LINE			
		120.000 L.F.		
	Rogers Group, Inc.		\$157.0800	\$18,849.60
	Jones Bros. Contractors, LLC		\$162.0000	\$19,440.00
	Charles Blalock & Sons, Inc.		\$154.1300	\$18,495.60
	Rawso, LLC		\$137.8600	\$16,543.20
795-06.07	CONNECT TO 12IN WATER LINE			
		1.000 EACH		
	Rogers Group, Inc.		\$3,791.5500	\$3,791.55
	Jones Bros. Contractors, LLC		\$3,300.0000	\$3,300.00
	Charles Blalock & Sons, Inc.		\$3,720.4100	\$3,720.41
	Rawso, LLC		\$3,989.2700	\$3,989.27

795-08.09	12IN GATE VALVE ASSEMBLY

	1.000 EACH	
Rogers Group, Inc.	\$3,791.5500	\$3,791.55
Jones Bros. Contractors, LLC	\$3,400.0000	\$3,400.00
Charles Blalock & Sons, Inc.	\$3,720.4100	\$3,720.41
Rawso, LLC	\$5,179.8300	\$5,179.83

UNIT PRICE EXTENSION

## **ROADWAY ALTERNATE A CATEGORY**

# 303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D

35,374.000 TON

Rogers Group, Inc.	\$18.9500	\$670,337.30
Jones Bros. Contractors, LLC	\$32.0000	\$1,131,968.00
Charles Blalock & Sons, Inc.	\$25.4600	\$900,622.04
Rawso, LLC	\$30.6000	\$1,082,444.40

UNIT PRICE

EXTENSION

#### **ROADWAY ALTERNATE B CATEGORY**

#### 303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D

14,149.000 TON

Rogers Group, Inc.

Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc.

Rawso, LLC

#### 309-01.01 MINERAL AGGREGATE (A-CBC)

16,951.000 TON

Rogers Group, Inc. Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc. Rawso, LLC

## 309-01.02 PORTLAND CEMENT (A-CBC)

654.000 TON

Rogers Group, Inc. Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc. Rawso, LLC

## 309-02 BITUMINOUS MATERIAL (A-CBC)

54.000 TON

Rogers Group, Inc. Jones Bros. Contractors, LLC Charles Blalock & Sons, Inc. Rawso, LLC

# **SUB-TOTAL ROADWAY**

Rogers Group, Inc.	\$13,810,200.76
Jones Bros. Contractors, LLC	\$13,777,187.55
Charles Blalock & Sons, Inc.	\$14,373,300.47
Rawso, LLC	\$17,148,006.54

## **SUB-TOTAL BOX BRIDGE**

Rogers Group, Inc.	\$446,611.12
Jones Bros. Contractors, LLC	\$403,162.56
Charles Blalock & Sons, Inc.	\$456,735.29
Rawso, LLC	\$529,531.21

## **SUB-TOTAL UTILITY**

Rogers Group, Inc.	\$4,607,695.57
Jones Bros. Contractors, LLC	\$4,451,834.00
Charles Blalock & Sons, Inc.	\$4,553,269.71
Rawso, LLC	\$5,106,526.46

## **SUB-TOTAL ROADWAY ALTERNATE A**

Rogers Group, Inc.	\$670,337.30
Jones Bros. Contractors, LLC	\$1,131,968.00
Charles Blalock & Sons, Inc.	\$900,622.04
Rawso, LLC	\$1,082,444.40

## **SUB-TOTAL ROADWAY ALTERNATE B**

# **TOTAL CONTRACT**

Rogers Group, Inc.	\$19,534,844.75
Jones Bros. Contractors, LLC	\$19,764,152.11
Charles Blalock & Sons, Inc.	\$20,283,927.51
Rawso, LLC	\$23,866,508.61

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### DAVIDSON COUNTY (Contract No. CNV147 Call 011)

NH/HSIP-1(434),19019-3224-94,19019-8224-14

THE RESURFACING ON U.S. 70S (S.R. 1) FROM SOUTH OF WOODMONT BOULEVARD (L.M. 13.00) TO 15TH AVENUE (L.M. 17.00).

PROJECT LENGTH - 4.000 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 10.50%

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$2,461,876.25Charles Deweese Construction, Inc\$2,519,567.59Rogers Group, Inc.\$2,819,813.00

			С	ONTRACT CNV147
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
307-01.15	5 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		300.000 TON		
	Vulcan Construction Materials, LLC		\$70.0000	\$21,000.00
	Charles Deweese Construction, Inc		\$75.0000	\$22,500.00
	Rogers Group, Inc.		\$110.0000	\$33,000.00
307-02.08	3 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GI	RADING B-M2		
	, ,, ,	300.000 TON		
	Vulcan Construction Materials, LLC		\$70.0000	\$21,000.00
	Charles Deweese Construction, Inc		\$53.0500	\$15,915.00
	Rogers Group, Inc.		\$110.0000	\$33,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	• •	78.000 TON		
	Vulcan Construction Materials, LLC		\$700.0000	\$54,600.00
	Charles Deweese Construction, Inc		\$500.0000	\$39,000.00
	Rogers Group, Inc.		\$825.0000	\$64,350.00
411-02.10	O ACS MIX(PG70-22) GRADING D			
		11,758.000 TON		
	Vulcan Construction Materials, LLC		\$83.0000	\$975,914.00
	Charles Deweese Construction, Inc		\$84.0000	\$987,672.00
	Rogers Group, Inc.		\$95.0000	\$1,117,010.00
415-01.01	I COLD PLANING BITUMINOUS PAVEMENT			
		11,456.000 TON		
	Vulcan Construction Materials, LLC		\$12.0000	\$137,472.00
	Charles Deweese Construction, Inc		\$17.0000	\$194,752.00
	Rogers Group, Inc.		\$18.0000	\$206,208.00
611-01.20	ADJUSTMENT OF EXISTING MANHOLE			
		59.000 EACH		
	Vulcan Construction Materials, LLC		\$600.0000	\$35,400.00
	Charles Deweese Construction, Inc		\$619.7400	\$36,564.66
	Rogers Group, Inc.		\$650.0000	\$38,350.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		144.000 EACH		
	Vulcan Construction Materials, LLC		\$600.0000	\$86,400.00
	Charles Deweese Construction, Inc		\$619.7400	\$89,242.56
	Rogers Group, Inc.		\$650.0000	\$93,600.00
611-09.04	4 CATCHBASIN RETROFIT			
		9.000 EACH		
			A4 400 00CC	*

Vulcan Construction Materials, LLC

Charles Deweese Construction, Inc

Rogers Group, Inc.

\$12,600.00

\$13,014.63

\$14,400.00

\$1,400.0000 \$1,446.0700

\$1,600.0000

			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		6,680.000 S.F.		
	Vulcan Construction Materials, LLC		\$33.0000	\$220,440.00
	Charles Deweese Construction, Inc		\$27.0000	\$180,360.00
	Rogers Group, Inc.		\$30.0000	\$200,400.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
		520.000 S.F.		
	Vulcan Construction Materials, LLC		\$42.5000	\$22,100.00
	Charles Deweese Construction, Inc		\$46.4800	\$24,169.60
	Rogers Group, Inc.		\$46.0000	\$23,920.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
		25.000 L.F.		
	Vulcan Construction Materials, LLC		\$32.0000	\$800.00
	Charles Deweese Construction, Inc		\$34.1900	\$854.75
	Rogers Group, Inc.		\$35.0000	\$875.00
705-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$1,800.0000	\$1,800.00
	Charles Deweese Construction, Inc		\$981.2600	\$981.26
	Rogers Group, Inc.		\$2,000.0000	\$2,000.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$3,200.0000	\$3,200.00
	Charles Deweese Construction, Inc		\$3,266.0500	\$3,266.05
	Rogers Group, Inc.		\$3,500.0000	\$3,500.00
706-01	GUARDRAIL REMOVED			
		75.000 L.F.		
	Vulcan Construction Materials, LLC		\$3.0000	\$225.00
	Charles Deweese Construction, Inc		\$1.0300	\$77.25
	Rogers Group, Inc.		\$3.5000	\$262.50
706-10.80	MICHIGAN AND MODIFIED MICHIGAN END SHOE			
		2.000 EACH		
	Vulcan Construction Materials, LLC		\$150.0000	\$300.00
	Charles Deweese Construction, Inc		\$129.1200	\$258.24
	Rogers Group, Inc.		\$175.0000	\$350.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$90,000.0000	\$90,000.00
	Charles Deweese Construction, Inc		\$45,000.0000	\$45,000.00
	Rogers Group, Inc.		\$175,000.0000	\$175,000.00

			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		40.000 EACH		
	Vulcan Construction Materials, LLC		\$25.0000	\$1,000.00
	Charles Deweese Construction, Inc		\$36.1500	\$1,446.00
	Rogers Group, Inc.		\$17.0000	\$680.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$22.5000	\$90.00
	Charles Deweese Construction, Inc		\$25.8200	\$103.28
	Rogers Group, Inc.		\$13.7500	\$55.00
712-06	SIGNS (CONSTRUCTION)			
		6,183.000 S.F.		
	Vulcan Construction Materials, LLC		\$8.7500	\$54,101.25
	Charles Deweese Construction, Inc		\$8.2600	\$51,071.58
	Rogers Group, Inc.		\$8.0000	\$49,464.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		144.000 L.F.		
	Vulcan Construction Materials, LLC		\$28.0000	\$4,032.00
	Charles Deweese Construction, Inc		\$18.5900	\$2,676.96
	Rogers Group, Inc.		\$15.0000	\$2,160.00
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$900.0000	\$3,600.00
	Charles Deweese Construction, Inc		\$1,859.2300	\$7,436.92
	Rogers Group, Inc.		\$850.0000	\$3,400.00
713-15.06	MILE POST SIGN			
		6.000 EACH		
	Vulcan Construction Materials, LLC		\$240.0000	\$1,440.00
	Charles Deweese Construction, Inc		\$317.1000	\$1,902.60
	Rogers Group, Inc.		\$165.0000	\$990.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$5,000.0000	\$20,000.00
	Charles Deweese Construction, Inc		\$7,746.7900	\$30,987.16
	Rogers Group, Inc.		\$2,200.0000	\$8,800.00
713-16.50	REMOVE AND REPLACE SIGN (TN-23-SCENIC ROUTE)			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$252.0000	\$252.00
	Charles Deweese Construction, Inc		\$254.0900	\$254.09
	Rogers Group, Inc.		\$275.0000	\$275.00

		UNIT PRICE	EXTENSION
716-01.21 SN	IOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
		000 EACH	
Vul	llcan Construction Materials, LLC	\$28.0000	\$22,120.00
Ch	narles Deweese Construction, Inc	\$30.9900	\$24,482.10
Ro	gers Group, Inc.	\$29.2500	\$23,107.50
716-01.22 SN	IOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
	640.0	000 EACH	
Vu	llcan Construction Materials, LLC	\$28.0000	\$17,920.00
	narles Deweese Construction, Inc	\$30.9900	\$19,833.60
Ro	gers Group, Inc.	\$29.2500	\$18,720.00
716-02.03 PL	ASTIC PAVEMENT MARKING (CROSS-WALK)		
	250.0	000 L.F.	
Vu	lcan Construction Materials, LLC	\$6.0000	\$1,500.00
Ch	narles Deweese Construction, Inc	\$6.2000	\$1,550.00
Ro	ogers Group, Inc.	\$6.2500	\$1,562.50
716-02.04 PL	ASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
	155.0	000 S.Y.	
Vu	lcan Construction Materials, LLC	\$18.0000	\$2,790.00
Ch	narles Deweese Construction, Inc	\$20.6600	\$3,202.30
Ro	ogers Group, Inc.	\$19.0000	\$2,945.00
716-02.05 PL	ASTIC PAVEMENT MARKING (STOP LINE)		
	10,919.0	000 L.F.	
Vu	lcan Construction Materials, LLC	\$15.0000	\$163,785.00
	arles Deweese Construction, Inc	\$18.5900	\$202,984.21
Ro	ogers Group, Inc.	\$16.0000	\$174,704.00
716-02.06 PL	ASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	134.0	000 EACH	
	Ilcan Construction Materials, LLC	\$150.0000	\$20,100.00
	narles Deweese Construction, Inc	\$154.9400	\$20,761.96
Ro	ogers Group, Inc.	\$160.0000	\$21,440.00
716-02.08 PL	ASTIC PAVEMENT MARKING (8" DOTTED LINE)		
	1,150.0	000 L.F.	
	llcan Construction Materials, LLC	\$2.5000	\$2,875.00
	narles Deweese Construction, Inc	\$2.5800	\$2,967.00
Ro	ogers Group, Inc.	\$2.6000	\$2,990.00
716-02.09 PL	ASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
	3,402.0	000 L.F.	
Vu	lcan Construction Materials, LLC	\$25.0000	\$85,050.00
	arles Deweese Construction, Inc	\$25.8200	\$87,839.64
Ro	ogers Group, Inc.	\$26.0000	\$88,452.00

			CONTRACT CNV147
		UNIT PRICE	EXTENSION
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)			
	1.500 L.M.		
Vulcan Construction Materials, LLC		\$7,920.0000	\$11,880.00
Charles Deweese Construction, Inc		\$8,180.6100	\$12,270.92
Rogers Group, Inc.		\$8,250.0000	\$12,375.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
	20.000 EACH		
Vulcan Construction Materials, LLC		\$400.0000	\$8,000.00
Charles Deweese Construction, Inc		\$413.1600	\$8,263.20
Rogers Group, Inc.		\$415.0000	\$8,300.00
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
,	3.000 EACH		
Vulcan Construction Materials, LLC	0.000 =	\$400.0000	\$1,200.00
Charles Deweese Construction, Inc		\$413.1600	\$1,239.48
Rogers Group, Inc.		\$415.0000	\$1,245.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
The choice is a factor of the control of the contro	4.000 EACH		
Vulcan Construction Materials, LLC	4.000 LACIT	\$150.0000	\$600.00
Charles Deweese Construction, Inc		\$154.9400	\$619.76
Rogers Group, Inc.		\$160.0000	\$640.00
TAR ALAM DI ARTIO DAVENENT MADICINO (LANE DEDUCTION ADDOM)			
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
Video Occativation Metarials III O	2.000 EACH	<b>#</b> 400,0000	<b>#000.00</b>
Vulcan Construction Materials, LLC Charles Deweese Construction, Inc		\$400.0000 \$413.1600	\$800.00 \$826.32
Rogers Group, Inc.		\$415.0000	\$830.00
rtogoro Group, mo.		ψ110.0000	φοσο.σσ
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
	21.000 L.M.		
Vulcan Construction Materials, LLC		\$1,000.0000	\$21,000.00
Charles Deweese Construction, Inc		\$1,239.4900	\$26,029.29
Rogers Group, Inc.		\$1,075.0000	\$22,575.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	21.000 L.M.		
Vulcan Construction Materials, LLC		\$4,900.0000	\$102,900.00
Charles Deweese Construction, Inc		\$5,267.8200	\$110,624.22
Rogers Group, Inc.		\$5,150.0000	\$108,150.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN	E)		

2,210.000 L.F.

Vulcan Construction Materials, LLC

Charles Deweese Construction, Inc

Rogers Group, Inc.

\$6,630.00

\$6,851.00

\$7,182.50

\$3.0000

\$3.1000

\$3.2500

				CONTRACT CNV147
			UNIT PRICE	EXTENSION
717.01	MODILIZATION			
717-01	MOBILIZATION			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$21,000.0000	\$21,000.00
	Charles Deweese Construction, Inc		\$31,000.0000	\$31,000.00
	Rogers Group, Inc.		\$90,000.0000	\$90,000.00
730-14.02	SAW SLOT			
		38,300.000 L.F.		
	Vulcan Construction Materials, LLC		\$4.0000	\$153,200.00
	Charles Deweese Construction, Inc		\$4.0800	\$156,264.00
	Rogers Group, Inc.		\$3.2500	\$124,475.00
730-14.03	LOOP WIRE			
		84,600.000 L.F.		
	Vulcan Construction Materials, LLC		\$0.6000	\$50,760.00
	Charles Deweese Construction, Inc		\$0.6200	\$52,452.00
	•			. ,

Rogers Group, Inc.

\$0.4500

\$38,070.00

## **SUB-TOTAL ROADWAY**

Vulcan Construction Materials, LLC	\$2,461,876.25
Charles Deweese Construction, Inc	\$2,519,567.59
Rogers Group, Inc.	\$2,819,813.00

# **TOTAL CONTRACT**

Vulcan Construction Materials, LLC	\$2,461,876.25
Charles Deweese Construction, Inc	\$2,519,567.59
Rogers Group, Inc.	\$2,819,813.00

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### DAVIDSON COUNTY (Contract No. CNV206 Call 012)

NH-1(438),19021-8255-14

THE FULL AND PARTIAL DEPTH REPAIR OF PORTLAND CEMENT CONCRETE PAVEMENT AND SIDEWALK REPAIR ON U.S. 41 (U.S. 70S, S.R. 1, MURFREESBORO ROAD) FROM NEAR FESSLERS LANE (L.M. 20.00) TO NEAR FOSTER AVENUE (L.M. 20.32).

PROJECT LENGTH - 0.320 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 7.00%

TOTAL CONTRACT

Vulcan Construction Materials, LLC

\$1,438,750.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNV206 EXTENSION
307-03.01 ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A	633.000 TON		
Vulcan Construction Materials, LLC	033.000 1014	\$180.0000	\$113,940.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
Vulcan Construction Materials, LLC	2,200.000 S.Y.	\$30.0000	\$66,000.00
502-03.25 FULL DEPTH PCC PAVEMENT REPAIR HIGH EARLY	920.000 C.Y.		
Vulcan Construction Materials, LLC	920.000 G.1.	\$820.0000	\$754,400.00
502-25 SAWING CONCRETE JOINTS			
Vulcan Construction Materials, LLC	9,600.000 L.F.	\$3.5000	\$33,600.00
701-01.10 CONCRETE SIDEWALK (DESCRIPTION)			
Vulcan Construction Materials, LLC	450.000 S.F.	\$28.0000	\$12,600.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)			
Vulcan Construction Materials, LLC	2,660.000 S.F.	\$45.0000	\$119,700.00
712-01 TRAFFIC CONTROL	4 000 LC		
Vulcan Construction Materials, LLC	1.000 LS	\$125,000.0000	\$125,000.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)	250.000 EACH		
Vulcan Construction Materials, LLC	230.000 EACH	\$42.0000	\$10,500.00
712-05.01 WARNING LIGHTS (TYPE A)	8.000 EACH		
Vulcan Construction Materials, LLC		\$27.0000	\$216.00
712-06 SIGNS (CONSTRUCTION)	483.000 S.F.		
Vulcan Construction Materials, LLC		\$11.0000	\$5,313.00
712-08.03 ARROW BOARD (TYPE C)			
Vulcan Construction Materials, LLC	4.000 EACH	\$1,500.0000	\$6,000.00

4.000 LB.

713-06.01 STEEL I-BEAMS & WF-BEAMS(BREAKSAFE) SIGN SUPPORT

Vulcan Construction Materials, LLC

\$56.00

\$14.0000

		UNIT PRICE	CONTRACT CNV206 EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Vulcan Construction Materials, LLC	230.000 L.F.	\$25.0000	\$5,750.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK			
Vulcan Construction Materials, LLC	690.000 L.F.	\$37.0000	\$25,530.00
716-09.86 CONTRAST PAVEMENT MARKING 6"			
Vulcan Construction Materials, LLC	1.300 L.M.	\$62,000.0000	\$80,600.00
716-09.87 CONTRAST PAVEMENT MARKINGS WORDS AND SYMBOLS			
Vulcan Construction Materials, LLC	9.000 EACH	\$1,500.0000	\$13,500.00
716-09.90 CONTRAST PAVEMENT MARKING 6" DOTTED			
Vulcan Construction Materials, LLC	55.000 L.F.	\$19.0000	\$1,045.00
717-01 MOBILIZATION			

Vulcan Construction Materials, LLC

1.000 LS

\$65,000.0000

\$65,000.00

## **SUB-TOTAL MAINTENANCE**

Vulcan Construction Materials, LLC

\$1,438,750.00

### **TOTAL CONTRACT**

Vulcan Construction Materials, LLC

\$1,438,750.00

### DAVIDSON COUNTY (Contract No. CNV149 Call 013)

19012-4166-04

THE INSTALLATION OF AN OVERHEAD SIGN STRUCTURE ON I-65 NB & SB (L.M. 21.08).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2021

	TOTAL CONTRACT
Superior Traffic Control, LLC	\$183,174.15
Vulcan Construction Materials, LLC	\$203,000.00
LU, Inc.	\$279,371.36
Volunteer Paving, LLC	\$329,502.11

	UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY	······	
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT		
2.000 EACI	Н	
Superior Traffic Control, LLC	\$1,190.0000	\$2,380.00
Vulcan Construction Materials, LLC	\$1,200.0000	\$2,400.00
LU, Inc.	\$1,416.0000	\$2,832.00
Volunteer Paving, LLC	\$2,000.0000	\$4,000.00
705-06.01 W BEAM GR (TYPE 2) MASH TL-3		
170.000 L.F.		
Superior Traffic Control, LLC	\$26.9000	\$4,573.00
Vulcan Construction Materials, LLC	\$27.5000	\$4,675.00
LU, Inc.	\$25.4100	\$4,319.70
Volunteer Paving, LLC	\$28.0000	\$4,760.00
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL-3		
2.000 EACH	Н	
Superior Traffic Control, LLC	\$1,210.0000	\$2,420.00
Vulcan Construction Materials, LLC	\$1,225.0000	\$2,450.00
LU, Inc.	\$1,234.5800	\$2,469.16
Volunteer Paving, LLC	\$1,500.0000	\$3,000.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3		
2.000 EACH	H	
Superior Traffic Control, LLC	\$2,985.0000	\$5,970.00
Vulcan Construction Materials, LLC	\$3,000.0000	\$6,000.00
LU, Inc.	\$2,692.1100	\$5,384.22
Volunteer Paving, LLC	\$3,000.0000	\$6,000.00
705-08.51 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3		
2.000 EACH	н	
Superior Traffic Control, LLC	\$2,200.0000	\$4,400.00
Vulcan Construction Materials, LLC	\$3,800.0000	\$7,600.00
LU, Inc.	\$4,130.0000	\$8,260.00
Volunteer Paving, LLC	\$4,551.0571	\$9,102.11
712-01 TRAFFIC CONTROL		
1.000 LS	<b>A</b> 4 <b>=</b> 00 0000	<b>A</b> 4 <b>5</b> 00 00
Superior Traffic Control, LLC	\$1,500.0000	\$1,500.00
Vulcan Construction Materials, LLC LU, Inc.	\$1,200.0000 \$5,310.0000	\$1,200.00 \$5,310.00
Volunteer Paving, LLC	\$25,000.0000	\$25,000.00
volunteer it armig, 220	Ψ20,000.0000	Ψ20,000.00
712-01.03 LANE CLOSURE(NIGHT WORK)		
10.000 EACH	н	
Superior Traffic Control, LLC	\$500.0000	\$5,000.00
Vulcan Construction Materials, LLC	\$825.0000	\$8,250.00
LU, Inc.	\$885.0000	\$8,850.00
Volunteer Paving, LLC	\$1,750.0000	\$17,500.00

			CONTRACT CHV149
		UNIT PRICE	EXTENSION
712-02.02 INTERCONNECTED PORTABLE E	BARRIER RAIL		
	780.000 L.F.		
Superior Traffic Control, LLC		\$15.0000	\$11,700.00
Vulcan Construction Materials, L	I C	\$23.0000	\$17,940.00
LU, Inc.		\$38.3500	\$29,913.00
Volunteer Paving, LLC		\$40.0000	\$31,200.00
3,		•	, , , , , , , , , , , , , , , , , , , ,
712-04.01 FLEXIBLE DRUMS (CHANNELIZIN	NG)		
	200.000 EACH		
Superior Traffic Control, LLC		\$10.0000	\$2,000.00
Vulcan Construction Materials, L	LC	\$28.0000	\$5,600.00
LU, Inc.		\$23.6000	\$4,720.00
Volunteer Paving, LLC		\$25.0000	\$5,000.00
712-04.50 BARRIER RAIL DELINEATOR			
712-04:50 BARRIER RAIL DELINEATOR	50.000 EACH		
O	30.000 EACH	<b>#</b> F 0000	<b>#050.00</b>
Superior Traffic Control, LLC		\$5.0000	\$250.00
Vulcan Construction Materials, L	LC	\$7.5000	\$375.00
LU, Inc.		\$8.8500	\$442.50
Volunteer Paving, LLC		\$5.0000	\$250.00
712-08.10 MOBILE MESSAGE SIGN UNIT W	/ATTENUATOR		
	100.000 HOUR		
Superior Traffic Control, LLC		\$100.0000	\$10,000.00
Vulcan Construction Materials, L	I C	\$60.0000	\$6,000.00
LU, Inc.		\$112.1000	\$11,210.00
Volunteer Paving, LLC		\$75.0000	\$7,500.00
Ç,			
713-09.20 STEEL OVERHEAD SIGN STRUC	TURE (SPAN 165' +/-)		
	1.000 EACH		
Superior Traffic Control, LLC		\$108,906.1500	\$108,906.15
Vulcan Construction Materials, L	LC	\$122,671.8600	\$122,671.86
LU, Inc.		\$158,530.6400	\$158,530.64
Volunteer Paving, LLC		\$175,000.0000	\$175,000.00
713-14 EXTRUDED ALUMINUM PANEL S			
	523.000 S.F.		
Superior Traffic Control, LLC		\$25.0000	\$13,075.00
Vulcan Construction Materials, L	LC	\$23.0000	\$12,029.00
LU, Inc.		\$22.7200	\$11,882.56
Volunteer Paving, LLC		\$30.0000	\$15,690.00
713-15.36 REMOVE SIGN, SUPPORT & FOO	TING		
	1.000 EACH		
Superior Troffic Control 11.0	1.000 LACH	<b>¢</b> E 000 0000	<b>የ</b> ደ በበበ በበ
Superior Traffic Control, LLC	16	\$5,000.0000	\$5,000.00 \$3,400.00
Vulcan Construction Materials, Li	LU	\$2,400.0000	\$2,400.00
LU, Inc.		\$15,807.5800	\$15,807.58 \$7,500.00
Volunteer Paving, LLC		\$7,500.0000	\$7,500.00

				CONTRACT CNV149
			UNIT PRICE	EXTENSION
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Superior Traffic Control, LLC		\$2,000.0000	\$4,000.00
	Vulcan Construction Materials, LLC		\$1,075.0000	\$2,150.00
	LU, Inc.		\$3,540.0000	\$7,080.00
	Volunteer Paving, LLC		\$6,500.0000	\$13,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Superior Traffic Control, LLC		\$2,000.0000	\$2,000.00
	Vulcan Construction Materials, LLC		\$1,259.1400	\$1,259.14
	LU, Inc.		\$2,360.0000	\$2,360.00

Volunteer Paving, LLC

\$5,000.00

\$5,000.0000

### **SUB-TOTAL MAINTENANCE**

Superior Traffic Control, LLC	\$183,174.15
Vulcan Construction Materials, LLC	\$203,000.00
LU, Inc.	\$279,371.36
Volunteer Paving, LLC	\$329,502.11

### **TOTAL CONTRACT**

Superior Traffic Control, LLC	\$183,174.15
Vulcan Construction Materials, LLC	\$203,000.00
LU, Inc.	\$279,371.36
Volunteer Paving, LLC	\$329,502.11

### DAVIDSON COUNTY (Contract No. CNV148 Call 014)

19024-4215-04

THE INSTALLATION OF AN OVERHEAD SIGN STRUCTURE ON U.S. 31E (S.R. 6) (L.M. 10.90).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2021

	TOTAL CONTRACT
Superior Traffic Control, LLC	\$130,592.38
Vulcan Construction Materials, LLC	\$136,653.00
LU, Inc.	\$206,816.06
Volunteer Paving, LLC	\$309,230.00

			CONTRACT CNV148
		UNIT PRICE	EXTENSION
MAINTENANCE CATEGORY		S	
705-08.51 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	2.000 EACH		
Superior Traffic Control, LLC		\$2,200.0000	\$4,400.00
Vulcan Construction Materials, LLC		\$1,200.0000	\$2,400.00
LU, Inc.		\$4,130.0000	\$8,260.00
Volunteer Paving, LLC		\$6,000.0000	\$12,000.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Superior Traffic Control, LLC		\$1,500.0000	\$1,500.00
Vulcan Construction Materials, LLC		\$1,200.0000	\$1,200.00
LU, Inc.		\$3,540.0000	\$3,540.00
Volunteer Paving, LLC		\$25,000.0000	\$25,000.00
712-01.03 LANE CLOSURE(NIGHT WORK)			
	12.000 EACH		
Superior Traffic Control, LLC		\$500.0000	\$6,000.00
Vulcan Construction Materials, LLC		\$825.0000	\$9,900.00
LU, Inc.		\$885.0000	\$10,620.00
Volunteer Paving, LLC		\$1,750.0000	\$21,000.00
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL			
	400.000 L.F.		
Superior Traffic Control, LLC		\$15.0000	\$6,000.00
Vulcan Construction Materials, LLC		\$14.0000	\$5,600.00
LU, Inc.		\$39.5300	\$15,812.00
Volunteer Paving, LLC		\$60.0000	\$24,000.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
	250.000 EACH		
Superior Traffic Control, LLC		\$10.0000	\$2,500.00
Vulcan Construction Materials, LLC		\$26.0000	\$6,500.00
LU, Inc.		\$23.6000	\$5,900.00
Volunteer Paving, LLC		\$25.0000	\$6,250.00
712-04.50 BARRIER RAIL DELINEATOR			
	40.000 EACH		
Superior Traffic Control, LLC		\$5.0000	\$200.00
Vulcan Construction Materials, LLC		\$4.5000	\$180.00
LU, Inc.		\$8.8500	\$354.00
Volunteer Paving, LLC		\$5.0000	\$200.00
712-08.10 MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
	100.000 HOUR		
		<b>#</b> 400 0000	<b>*</b> • • • • • • • • • • • • • • • • • • •

Superior Traffic Control, LLC

Volunteer Paving, LLC

LU, Inc.

Vulcan Construction Materials, LLC

\$10,000.00

\$5,500.00

\$11,210.00

\$7,500.00

\$100.0000

\$55.0000

\$112.1000

\$75.0000

				CONTRACT	CNV148
			UNIT PRICE	EXT	ENSION
713-09.20	STEEL OVERHEAD SIGN STRUCTURE (SPAN 94'+/-)				
		1.000 EACH			
	Superior Traffic Control, LLC		\$81,342.3800	\$87	1,342.38
	Vulcan Construction Materials, LLC		\$83,275.0000	\$83	3,275.00
	LU, Inc.		\$120,299.7600	\$120	),299.76
	Volunteer Paving, LLC		\$160,000.0000	\$160	0,000.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS				
		426.000 S.F.			
	Superior Traffic Control, LLC		\$25.0000	\$10	0,650.00
	Vulcan Construction Materials, LLC		\$23.0000	\$9	9,798.00
	LU, Inc.		\$25.0200	\$10	),658.52
	Volunteer Paving, LLC		\$30.0000	\$12	2,780.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING				
		1.000 EACH			
	Superior Traffic Control, LLC		\$2,000.0000	\$2	2,000.00
	Vulcan Construction Materials, LLC		\$3,200.0000	\$3	3,200.00
	LU, Inc.		\$10,721.7800	\$10	),721.78
	Volunteer Paving, LLC		\$12,500.0000	\$12	2,500.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT				
		2.000 EACH			
	Superior Traffic Control, LLC		\$2,000.0000	\$4	1,000.00
	Vulcan Construction Materials, LLC		\$750.0000	\$^	,500.00
	LU, Inc.		\$3,540.0000	\$7	7,080.00
	Volunteer Paving, LLC		\$6,500.0000	\$13	3,000.00
717-01	MOBILIZATION				
		1.000 LS			
	Superior Traffic Control, LLC		\$2,000.0000	\$2	2,000.00
	Vulcan Construction Materials, LLC		\$7,600.0000	\$7	7,600.00
	LU, Inc.		\$2,360.0000	\$2	2,360.00
	Volunteer Paving, LLC		\$15,000.0000	\$15	5,000.00

### **SUB-TOTAL MAINTENANCE**

Superior Traffic Control, LLC	\$130,592.38
Vulcan Construction Materials, LLC	\$136,653.00
LU, Inc.	\$206,816.06
Volunteer Paving, LLC	\$309,230.00

### **TOTAL CONTRACT**

Superior Traffic Control, LLC	\$130,592.38
Vulcan Construction Materials, LLC	\$136,653.00
LU, Inc.	\$206,816.06
Volunteer Paving, LLC	\$309,230.00

DAVIDSON COUNTY (Contract No. CNV151 Call 015)

19047-4245-04

THE TUNNEL CLEANING OF THE THOMPSON LANE UNDERPASS ON S.R. 155.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

TOTAL CONTRACT

Diamond Specialized, Inc.

\$69,700.00

				CONTRACT CNV151
MAINTEN	NANCE CATEGORY		UNIT PRICE	EXTENSION
712-01.56	MAINTENANCE OF TRAFFIC (THOMPSON LANE UNDERPASS)			
	Diamond Specialized, Inc.	12.000 EACH	\$1,750.0000	\$21,000.00
713-20.40	GRAFFITI REMOVAL			
	Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01	MOBILIZATION			
	Diamond Specialized, Inc.	1.000 LS	\$4,800.0000	\$4,800.00
760-01.05	TUNNEL CLEANING (THOMPSON LANE TUNNELS)			

Diamond Specialized, Inc.

12.000 EACH

\$3,600.0000

\$43,200.00

## **SUB-TOTAL MAINTENANCE**

Diamond Specialized, Inc. \$69,700.00

### **TOTAL CONTRACT**

Diamond Specialized, Inc. \$69,700.00

#### DAVIDSON COUNTY (Contract No. CNV150 Call 016)

19074-4260-04

THE REPAIR OF THE BRIDGE ON S.R. 155 OVER THE CUMBERLAND RIVER (COCKRILL BEND) (L.M. 24.86).

PROJECT LENGTH - 0.396 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2022

TOTAL CONTRACT

Bell & Associates Construction, LLC Mid-State Construction Company, Inc.

\$4,822,308.96

	CONTRACT	CNV150
UNIT PRICE	EXT	ENSION

BRIDGE	CATEGORY		UNIT PRICE	EXTENSION
DIVIDOL	OATE GORT			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
100 01	SONO MOSTION STANZES, ZINZES AND SNASZES	1.000 LS		
	Bell & Associates Construction, LLC		\$75,000.0000	\$75,000.00
	Mid-State Construction Company, Inc.		\$20,238.4000	\$20,238.40
202-04.01	REMOVAL OF STRUCTURES (BRIDGE NO. 19SR1550029)			
		1.000 LS		
	Bell & Associates Construction, LLC		\$200,000.0000	\$200,000.00
	Mid-State Construction Company, Inc.		\$87,202.8000	\$87,202.80
209-05	SEDIMENT REMOVAL			
		6.000 C.Y.		
	Bell & Associates Construction, LLC		\$100.0000	\$600.00
	Mid-State Construction Company, Inc.		\$194.6000	\$1,167.60
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		690.000 L.F.		
	Bell & Associates Construction, LLC		\$8.0000 \$6.6700	\$5,520.00
	Mid-State Construction Company, Inc.		\$6.6700	\$4,602.30
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	,	22.000 TON		
	Bell & Associates Construction, LLC		\$150.0000	\$3,300.00
	Mid-State Construction Company, Inc.		\$77.1900	\$1,698.18
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING			
	Dall 9 Associates Construction 11 C	879.000 TON	<b>\$200,000</b>	¢475.000.00
	Bell & Associates Construction, LLC Mid-State Construction Company, Inc.		\$200.0000 \$177.9200	\$175,800.00 \$156,391.68
	The Clark Control Control (1), the		ψσ=σσ	ψ.00,00.100
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		13.000 TON		
	Bell & Associates Construction, LLC		\$1,100.0000	\$14,300.00
	Mid-State Construction Company, Inc.		\$945.2000	\$12,287.60
411 02 10	ACS MIX(PG76-22) GRADING D			
411-03.10	AGS MIX(FG70-22) GRADING D	1,654.000 TON		
	Bell & Associates Construction, LLC	1,054.000 TON	\$200.0000	\$330,800.00
	Mid-State Construction Company, Inc.		\$177.9200	\$294,279.68
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		4.000 L.M.		
	Bell & Associates Construction, LLC		\$1,000.0000	\$4,000.00
	Mid-State Construction Company, Inc.		\$828.4400	\$3,313.76
415-01 02	COLD PLANING BITUMINOUS PAVEMENT			
51102		10,889.000 S.Y.		
	Bell & Associates Construction, LLC	10,000,000 0.11	\$7.5000	\$81,667.50
	Mid-State Construction Company, Inc.		\$6.6200	\$72,085.18

			CONTRAC		
			UNIT PRICE	EXTENSION	
502-04.01	SAWING CONCRETE PAVEMENT (FULL DEPTH)				
		4,296.000 L.F.			
	Bell & Associates Construction, LLC		\$3.0000	\$12,888.00	
	Mid-State Construction Company, Inc.		\$3.2500	\$13,962.00	
	wild clate construction company, inc.		ψ0.2000	Ψ10,002.00	
603-02.15	REPAINT EXISTING BEARINGS				
		1.000 LS			
	Bell & Associates Construction, LLC		\$10,000.0000	\$10,000.00	
	Mid-State Construction Company, Inc.		\$8,006.4000	\$8,006.40	
603-02.20	SPOT PAINTING EXISTING STEEL STRUCTURES				
		4,299.000 S.F.			
	Bell & Associates Construction, LLC	,	\$20.0000	\$85,980.00	
	Mid-State Construction Company, Inc.		\$13.3400	\$57,348.66	
	mid-state donstruction company, inc.		ψ10.0+00	ψ57,540.00	
604-03.01	CLASS A CONCRETE (BRIDGES)				
		19.000 C.Y.			
	Bell & Associates Construction, LLC		\$1,100.0000	\$20,900.00	
	Mid-State Construction Company, Inc.		\$1,213.9700	\$23,065.43	
604-03.04	PAVEMENT @ BRIDGE ENDS				
004-03.04	TAVEINENT © BRIDGE ENDO	480.000 S.Y.			
	Bell & Associates Construction, LLC	400.000 0.11.	\$500.0000	\$240,000.00	
	Mid-State Construction Company, Inc.		\$474.4800	\$240,000.00	
	wid-state constitution company, inc.		ψ47 4.4000	ΨΖΖ1,130.40	
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)				
		10,501.000 S.Y.			
	Bell & Associates Construction, LLC		\$5.0000	\$52,505.00	
	Mid-State Construction Company, Inc.		\$1.6700	\$17,536.67	
604-10.20	HYDRODEMOLITION	40 504 222 C V			
	Della Associates Construction 110	10,501.333 S.Y.	<b>#05.0000</b>	<b>#000 F00 0F</b>	
	Bell & Associates Construction, LLC		\$65.0000	\$682,586.65	
	Mid-State Construction Company, Inc.		\$58.8000	\$617,478.38	
604-10.60	EXPANSION JOINT REPAIRS (MODULAR TYPE)				
		180.000 L.F.			
	Bell & Associates Construction, LLC		\$6,000.0000	\$1,080,000.00	
	Mid-State Construction Company, Inc.		\$5,561.6600	\$1,001,098.80	
604.40.00	OTES, DAD COURTEDO AT ARRESTANCIA DO				
604-18.26	STEEL BAR COUPLERS AT APPROACH SLABS	156.000 EACH			
	Bell & Associates Construction, LLC	130.000 EACH	\$70.0000	\$10,920.00	
	Mid-State Construction Company, Inc.		\$71.2000	\$11,107.20	
617-02	BRIDGE DECK CRACK SEALING				
		480.000 L.F.			
	Bell & Associates Construction, LLC		\$20.0000	\$9,600.00	
	Mid-State Construction Company, Inc.		\$19.7700	\$9,489.60	
	1 - 2/			,	

			LINIT DDIOE	CONTRACT CNV150
			UNIT PRICE	EXTENSION
617-05	SEALANT (HMWM)			
	Bell & Associates Construction, LLC	6.000 GAL.	\$375.0000	\$2,250.00
	Mid-State Construction Company, Inc.		\$182.6500	\$1,095.90
040.04	DDIDGE DEGIT OVERLAY (PMO)			
619-01	BRIDGE DECK OVERLAY (PMC)	10,501.333 S.Y.		
	Bell & Associates Construction, LLC	10,501.555 5.1.	\$70.0000	\$735,093.31
	Mid-State Construction Company, Inc.		\$110.9500	\$1,165,122.90
705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)			
	(	6.000 EACH		
	Bell & Associates Construction, LLC		\$5,000.0000	\$30,000.00
	Mid-State Construction Company, Inc.		\$4,448.0000	\$26,688.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		27.000 TON		
	Bell & Associates Construction, LLC		\$225.0000	\$6,075.00
	Mid-State Construction Company, Inc.		\$63.4300	\$1,712.61
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Bell & Associates Construction, LLC		\$117,000.0000	\$117,000.00
	Mid-State Construction Company, Inc.		\$175,092.0100	\$175,092.01
712-02.04	INTERCONNECTED PORTABLE BARRIER RAIL (LIG	GHTWEIGHT STEEL)		
		2,910.000 L.F.		
	Bell & Associates Construction, LLC		\$80.0000	\$232,800.00
	Mid-State Construction Company, Inc.		\$99.9800	\$290,941.80
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		70.000 EACH		
	Bell & Associates Construction, LLC Mid-State Construction Company, Inc.		\$40.0000 \$36.1400	\$2,800.00 \$2,529.80
	mid-State Construction Company, Inc.		<b>\$36.1400</b>	φ2,529.60
712-04.50	BARRIER RAIL DELINEATOR			
		146.000 EACH		
	Bell & Associates Construction, LLC Mid-State Construction Company, Inc.		\$15.0000 \$13.3400	\$2,190.00 \$1,947.64
	mid-state constituction company, inc.		ψ13.3 <del>4</del> 00	ψ1,947.04
712-06	SIGNS (CONSTRUCTION)			
	D.W. A	860.000 S.F.	<b>.</b>	<b>***</b>
	Bell & Associates Construction, LLC Mid-State Construction Company, Inc.		\$9.0000 \$8.0600	\$7,740.00 \$6,931.60
	ma State Construction Company, Inc.		ψο.υυυ	ψυ, συ 1.00
712-08.03	ARROW BOARD (TYPE C)			

4.000 EACH

Bell & Associates Construction, LLC

Mid-State Construction Company, Inc.

\$4,200.00

\$3,780.80

\$1,050.0000

\$945.2000

				CONTRACT CNV150
			UNIT PRICE	EXTENSION
712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
		4.000 EACH		
	Bell & Associates Construction, LLC		\$5,800.0000	\$23,200.00
	Mid-State Construction Company, Inc.		\$5,282.0000	\$21,128.00
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
		105,246.000 L.F.		
	Bell & Associates Construction, LLC		\$2.0000	\$210,492.00
	Mid-State Construction Company, Inc.		\$2.7800	\$292,583.88
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Bell & Associates Construction, LLC		\$15,000.0000	\$30,000.00
	Mid-State Construction Company, Inc.		\$14,987.0000	\$29,974.00
716-01.13	RAISED PVMT MARKERS (BI-DIRECTIONAL) (2 COLOR LENS	3)		
		71.000 EACH		
	Bell & Associates Construction, LLC		\$20.0000	\$1,420.00
	Mid-State Construction Company, Inc.		\$16.6800	\$1,184.28
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		71.000 EACH		
	Bell & Associates Construction, LLC		\$20.0000	\$1,420.00
	Mid-State Construction Company, Inc.		\$16.6800	\$1,184.28
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		21.000 L.M.		
	Bell & Associates Construction, LLC		\$930.0000	\$19,530.00
	Mid-State Construction Company, Inc.		\$834.0000	\$17,514.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		107,126.000 L.F.		
	Bell & Associates Construction, LLC		\$0.2500	\$26,781.50
	Mid-State Construction Company, Inc.		\$0.3900	\$41,779.14
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		3.000 L.M.		
	Bell & Associates Construction, LLC		\$12,000.0000	\$36,000.00
	Mid-State Construction Company, Inc.		\$10,564.0000	\$31,692.00
717-01	MOBILIZATION			
		1.000 LS		
	Bell & Associates Construction, LLC		\$235,000.0000	\$235,000.00
	Mid-State Construction Company, Inc.		\$314,000.0000	\$314,000.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			

39.000 S.Y.

Bell & Associates Construction, LLC

Mid-State Construction Company, Inc.

\$1,950.00

\$650.52

\$50.0000

\$16.6800

## SUB-TOTAL BRIDGE

Bell & Associates Construction, LLC	\$4,822,308.96
Mid-State Construction Company, Inc.	\$5,067,643.88

## TOTAL CONTRACT

Bell & Associates Construction, LLC	\$4,822,308.96
Mid-State Construction Company, Inc.	\$5,067,643.88

#### DAVIDSON COUNTY (Contract No. CNV154 Call 017)

19074-4262-04

THE REPAIR OF BRIDGES ON S.R. 155 (BRILEY PARKWAY/ROBERTSON ROAD) OVER RAMP C (L.M. 27.25) AND I-40 (L.M. 27.38).

PROJECT LENGTH - 0.233 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL	CONTRACT
101/1	

Kiewit Infrastructure South Co.	\$752,146.90
Dement Construction Company, LLC	\$966,074.50
Bell & Associates Construction, LLC	\$1,073,510.20
Mid-State Construction Company, Inc.	\$1,300,519.20

UNIT PRICE EXTENSION

#### BRIDGE CATEGORY

BRIDGE	CATEGORY			
202-04.01	REMOVAL OF STRUCTURES (PAVEMENT @ BRIDGE END	OS)		
		1.000 LS		
	Kiewit Infrastructure South Co.		\$135,000.0000	\$135,000.00
	Dement Construction Company, LLC		\$165,000.0000	\$165,000.00
	Bell & Associates Construction, LLC		\$75,000.0000	\$75,000.00
	Mid-State Construction Company, Inc.		\$204,572.0800	\$204,572.08
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		60.000 C.Y.		
	Kiewit Infrastructure South Co.		\$12.0000	\$720.00
	Dement Construction Company, LLC		\$13.0000	\$780.00
	Bell & Associates Construction, LLC		\$50.0000	\$3,000.00
	Mid-State Construction Company, Inc.		\$53.5500	\$3,213.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		0.300 L.M.		
	Kiewit Infrastructure South Co.		\$3,800.0000	\$1,140.00
	Dement Construction Company, LLC		\$4,000.0000	\$1,200.00
	Bell & Associates Construction, LLC		\$4,500.0000	\$1,350.00
	Mid-State Construction Company, Inc.		\$6,751.0000	\$2,025.30
209-09.43	CURB INLET PROTECTION (TYPE 4)			
		1.000 EACH		
	Kiewit Infrastructure South Co.		\$180.0000	\$180.00
	Dement Construction Company, LLC		\$750.0000	\$750.00
	Bell & Associates Construction, LLC		\$250.0000	\$250.00
	Mid-State Construction Company, Inc.		\$675.1000	\$675.10
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		1,631.000 TON		
	Kiewit Infrastructure South Co.		\$62.0000	\$101,122.00
	Dement Construction Company, LLC		\$55.0000	\$89,705.00
	Bell & Associates Construction, LLC		\$43.0000	\$70,133.00
	Mid-State Construction Company, Inc.		\$108.5000	\$176,963.50
604-03.04	PAVEMENT @ BRIDGE ENDS			
		773.000 S.Y.		
	Kiewit Infrastructure South Co.		\$360.0000	\$278,280.00
	Dement Construction Company, LLC		\$450.0000	\$347,850.00
	Bell & Associates Construction, LLC		\$525.0000	\$405,825.00
	Mid-State Construction Company, Inc.		\$604.6100	\$467,363.53
604-10.90	MISCELLANEOUS BRIDGE ITEMS			
		1.000 LS		
	Kiewit Infrastructure South Co.		\$15,000.0000	\$15,000.00
	Dement Construction Company, LLC		\$35,000.0000	\$35,000.00
	Bell & Associates Construction, LLC		\$40,000.0000	\$40,000.00
	Mid-State Construction Company, Inc.		\$30,325.9400	\$30,325.94

			UNIT PRICE	EXTENSION
604-12.15	DRILL & GROUT STEEL BARS			
		43.000 EACH		
	Kiewit Infrastructure South Co.		\$31.0000	\$1,333.00
	Dement Construction Company, LLC		\$50.0000	\$2,150.00
	Bell & Associates Construction, LLC		\$70.0000	\$3,010.00
	Mid-State Construction Company, Inc.		\$41.7800	\$1,796.54
617-02	BRIDGE DECK CRACK SEALING			
		324.000 L.F.		
	Kiewit Infrastructure South Co.		\$7.0000	\$2,268.00
	Dement Construction Company, LLC		\$5.0000	\$1,620.00
	Bell & Associates Construction, LLC		\$1.5000	\$486.00
	Mid-State Construction Company, Inc.		\$21.4800	\$6,959.52
617-05	SEALANT (HMWM)			
		4.000 GAL.		
	Kiewit Infrastructure South Co.		\$420.0000	\$1,680.00
	Dement Construction Company, LLC		\$125.0000	\$500.00
	Bell & Associates Construction, LLC		\$400.0000	\$1,600.00
	Mid-State Construction Company, Inc.		\$221.7700	\$887.08
621-03.02	18" TEMPORARY DRAINAGE PIPE			
		50.000 L.F.		
	Kiewit Infrastructure South Co.		\$26.0000	\$1,300.00
	Dement Construction Company, LLC		\$85.0000	\$4,250.00
	Bell & Associates Construction, LLC		\$46.0000	\$2,300.00
	Mid-State Construction Company, Inc.		\$102.5800	\$5,129.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Kiewit Infrastructure South Co.		\$10,000.0000	\$20,000.00
	Dement Construction Company, LLC		\$6,850.0000	\$13,700.00
	Bell & Associates Construction, LLC		\$8,750.0000	\$17,500.00
	Mid-State Construction Company, Inc.		\$6,075.9000	\$12,151.80
707-11.01	PEDESTRIAN CONSTRUCTION BARRIER FENCE			
		60.000 L.F.		
	Kiewit Infrastructure South Co.		\$1.4900	\$89.40
	Dement Construction Company, LLC		\$5.0000	\$300.00
	Bell & Associates Construction, LLC		\$10.0000	\$600.00
	Mid-State Construction Company, Inc.		\$30.9800	\$1,858.80
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		40.000 TON		
	Kiewit Infrastructure South Co.		\$62.0000	\$2,480.00
	Dement Construction Company, LLC		\$70.0000	\$2,800.00
	Bell & Associates Construction, LLC		\$75.0000	\$3,000.00
	Mid-State Construction Company, Inc.		\$60.9200	\$2,436.80
			+ <b>3_0</b>	Ţ <u></u>

			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		36.000 TON		
	Kiewit Infrastructure South Co.	33.333 13.1	\$100.0000	\$3,600.00
	Dement Construction Company, LLC		\$70.0000	\$2,520.00
			•	
	Bell & Associates Construction, LLC		\$75.0000	\$2,700.00
	Mid-State Construction Company, Inc.		\$60.9500	\$2,194.20
740.04	TRAFFIC CONTROL			
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Kiewit Infrastructure South Co.		\$35,000.0000	\$35,000.00
	Dement Construction Company, LLC		\$25,700.0000	\$25,700.00
	Bell & Associates Construction, LLC		\$50,000.0000	\$50,000.00
	Mid-State Construction Company, Inc.		\$65,581.8000	\$65,581.80
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,150.000 L.F.		
	Kiewit Infrastructure South Co.		\$23.0000	\$26,450.00
	Dement Construction Company, LLC		\$55.0000	\$63,250.00
	Bell & Associates Construction, LLC		\$55.0000	\$63,250.00
	Mid-State Construction Company, Inc.		\$57.1600	\$65,734.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		170.000 EACH		
	Kiewit Infrastructure South Co.		\$34.0000	\$5,780.00
	Dement Construction Company, LLC		\$28.0000	\$4,760.00
	Bell & Associates Construction, LLC		\$35.0000	\$5,950.00
	Mid-State Construction Company, Inc.		\$37.8100	\$6,427.70
712-05.01	WARNING LIGHTS (TYPE A)			
		2.000 EACH		
	Kiewit Infrastructure South Co.		\$30.0000	\$60.00
	Dement Construction Company, LLC		\$25.0000	\$50.00
	Bell & Associates Construction, LLC		\$100.0000	\$200.00
	Mid-State Construction Company, Inc.		\$33.7600	\$67.52
	That State Soficiation Company, inc.		φοσ.7 σσσ	ψ07.02
712-06	SIGNS (CONSTRUCTION)			
		478.000 S.F.		
	Kiewit Infrastructure South Co.		\$8.5000	\$4,063.00
	Dement Construction Company, LLC		\$7.0000	\$3,346.00
	Bell & Associates Construction, LLC		\$7.5000	\$3,585.00
	Mid-State Construction Company, Inc.			\$4,517.10
	wid-State Construction Company, Inc.		\$9.4500	φ4,517.10
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		12.000 L.F.		
	Kiewit Infrastructure South Co.	12.000 E.I .	<b>ድ</b> ጋላ ሰብሰብ	\$200 nn
			\$24.0000	\$288.00
	Dement Construction Company, LLC		\$20.0000	\$240.00
	Bell & Associates Construction, LLC		\$100.0000	\$1,200.00
	Mid-State Construction Company, Inc.		\$27.0000	\$324.00

			CC	MIRACI CHV154
			UNIT PRICE	EXTENSION
712-08.03	ARROW BOARD (TYPE C)			
	, ,	2.000 EACH		
	Kiewit Infrastructure South Co.		\$1,050.0000	\$2,100.00
	Dement Construction Company, LLC		\$875.0000	\$1,750.00
	Bell & Associates Construction, LLC		\$1,200.0000	\$2,400.00
	Mid-State Construction Company, Inc.		\$1,181.4300	\$2,362.86
742.00.00	DEMOVABLE DAVEMENT MADIZING (OF DARRIED LE	NIT\		
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LI	4,050.000 L.F.		
	Kiewit Infrastructure South Co.	4,000.000 E.i .	\$8.5000	\$34,425.00
	Dement Construction Company, LLC		\$5.0000	\$20,250.00
	Bell & Associates Construction, LLC		\$4.0000	\$16,200.00
	Mid-State Construction Company, Inc.		\$5.4000	\$21,870.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	2.000 EACH		
	Kingdi lafaa dagaalaa Oodh Oo	2.000 EACH	фг 000 0000	<b>#</b> 40,000,00
	Kiewit Infrastructure South Co.		\$5,000.0000	\$10,000.00
	Dement Construction Company, LLC		\$4,250.0000	\$8,500.00
	Bell & Associates Construction, LLC		\$10,000.0000	\$20,000.00
	Mid-State Construction Company, Inc.		\$5,738.3500	\$11,476.70
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		1,585.000 L.F.		
	Kiewit Infrastructure South Co.		\$2.0000	\$3,170.00
	Dement Construction Company, LLC		\$1.5000	\$2,377.50
	Bell & Associates Construction, LLC		\$1.0000	\$1,585.00
	Mid-State Construction Company, Inc.		\$1.3500	\$2,139.75
716-12 02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN	I INE)		
710-12.02	ENHANCED FLATLINE THERMO FYMT MIKKING (BIN	0.300 L.M.		
	Kiewit Infrastructure South Co.	Ologo Elimi	\$15,500.0000	\$4,650.00
	Dement Construction Company, LLC		\$7,500.0000	\$2,250.00
	Bell & Associates Construction, LLC		\$7,660.0000	\$2,298.00
	Mid-State Construction Company, Inc.		\$10,126.5000	\$3,037.95
	, ,,		. ,	. ,
717-01	MOBILIZATION			
		1.000 LS		
	Kiewit Infrastructure South Co.		\$35,000.0000	\$35,000.00
	Dement Construction Company, LLC		\$55,710.0000	\$55,710.00
	Bell & Associates Construction, LLC		\$230,000.0000	\$230,000.00
	Mid-State Construction Company, Inc.		\$110,673.7300	\$110,673.73
740-07.04	GEOGRID REINFORCEMENT TYPE 2			
		3,091.000 S.Y.		
	Kiewit Infrastructure South Co.		\$2.5000	\$7,727.50
	Dement Construction Company, LLC		\$6.0000	\$18,546.00
	Bell & Associates Construction, LLC		\$5.2000	\$16,073.20
	Mid-State Construction Company, Inc.		\$5.2500	\$16,227.75
	, ,		·	

		CO	NTRACT CNV154
		UNIT PRICE	EXTENSION
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	90.000 S.Y.		
Kiewit Infrastructure South Co.		\$6.0000	\$540.00
Dement Construction Company, LLC		\$6.0000	\$540.00
Bell & Associates Construction, LLC		\$5.0000	\$450.00
Mid-State Construction Company, Inc.		\$8.1000	\$729.00
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)			
	806.000 S.Y.		
Kiewit Infrastructure South Co.		\$3.5000	\$2,821.00
Dement Construction Company, LLC		\$5.0000	\$4,030.00
Bell & Associates Construction, LLC		\$2.5000	\$2,015.00
Mid-State Construction Company, Inc.		\$4.2100	\$3,393.26
740-11.03 TEMPORARY SEDIMENT TUBE 18IN			
	500.000 L.F.		
Kiewit Infrastructure South Co.		\$5.0000	\$2,500.00
Dement Construction Company, LLC		\$6.0000	\$3,000.00
Bell & Associates Construction, LLC		\$5.0000	\$2,500.00
Mid-State Construction Company, Inc.		\$48.5300	\$24,265.00
801-01 SEEDING (WITH MULCH)			
	5.000 UNIT		
Kiewit Infrastructure South Co.		\$36.0000	\$180.00
Dement Construction Company, LLC		\$50.0000	\$250.00
Bell & Associates Construction, LLC		\$50.0000	\$250.00
Mid-State Construction Company, Inc.		\$202.5300	\$1,012.65
502-03.20 FULL DEPTH PCC PAVEMENT REPAIR			
	24.000 C.Y.		
Kiewit Infrastructure South Co.		\$550.0000	\$13,200.00
Dement Construction Company, LLC		\$3,475.0000	\$83,400.00
Bell & Associates Construction, LLC		\$1,200.0000	\$28,800.00
Mid-State Construction Company, Inc.		\$1,755.2600	\$42,126.24

## **SUB-TOTAL BRIDGE**

Kiewit Infrastructure South Co.	\$752,146.90
Dement Construction Company, LLC	\$966,074.50
Bell & Associates Construction, LLC	\$1,073,510.20
Mid-State Construction Company, Inc.	\$1,300,519.20

## **TOTAL CONTRACT**

Kiewit Infrastructure South Co.	\$752,146.90
Dement Construction Company, LLC	\$966,074.50
Bell & Associates Construction, LLC	\$1,073,510.20
Mid-State Construction Company, Inc.	\$1,300,519.20

#### DICKSON COUNTY (Contract No. CNV086 Call 018)

HSIP-235(14),22003-3207-94,22003-4207-04,HSIP-46(39),22004-3256-94,22004-4256-04,HSIP-48(63),22007-3254-94,22007-4254-04,HSIP-48(64),22007-3255-94,22007-4255-04,STP/HSIP-48(62),22007-3253-94,22007-8253-14

THE RESURFACING ON S.R. 48 FROM THE HICKMAN COUNTY LINE (L.M. 0.00) TO S.R. 48A (L.M. 9.17), AND ON S.R. 48/S.R. 48A/S.R. 46/U.S. 70BR (S.R. 235) IN DOWNTOWN DICKSON.

PROJECT LENGTH - 12.510 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 7.00%

TOTAL CONTRACT

**Eubank Asphalt Paving & Sealing** 

\$2,143,883.30

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNV086 EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Eubank Asphalt Paving & Sealing	18.400 L.M.	\$600.0000	\$11,040.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Eubank Asphalt Paving & Sealing	2,427.000 TON	\$15.0000	\$36,405.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Eubank Asphalt Paving & Sealing	691.000 TON	\$60.0000	\$41,460.00
307-02.06	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING			
	Eubank Asphalt Paving & Sealing	550.000 TON	\$60.0000	\$33,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Eubank Asphalt Paving & Sealing	105.000 TON	\$425.0000	\$44,625.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Eubank Asphalt Paving & Sealing	1,830.000 TON	\$79.0000	\$144,570.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Eubank Asphalt Paving & Sealing	4,408.000 TON	\$80.0000	\$352,640.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Eubank Asphalt Paving & Sealing	6,128.000 TON	\$78.2000	\$479,209.60
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN			
	Eubank Asphalt Paving & Sealing	14.700 L.M.	\$400.0000	\$5,880.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Eubank Asphalt Paving & Sealing	11,935.000 TON	\$16.0000	\$190,960.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Eubank Asphalt Paving & Sealing	22.000 EACH	\$100.0000	\$2,200.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Full and Applied Design 9 Ocaling	6,770.000 S.F.	<b>#00.000</b>	<b>#</b> 000 440 00

**Eubank Asphalt Paving & Sealing** 

\$223,410.00

\$33.0000

			UNIT PRICE	CONTRACT CNV086 EXTENSION
701-02.03	CONCRETE CURB RAMP			
	Eubank Asphalt Paving & Sealing	780.000 S.F.	\$22.0000	\$17,160.00
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
	Eubank Asphalt Paving & Sealing	64.000 S.F.	\$50.0000	\$3,200.00
702-10.02	WHEEL STOP			
	Eubank Asphalt Paving & Sealing	36.000 EACH	\$25.0000	\$900.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3			
	Eubank Asphalt Paving & Sealing	50.000 L.F.	\$20.0000	\$1,000.00
705-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
	Eubank Asphalt Paving & Sealing	2.000 EACH	\$500.0000	\$1,000.00
706-06.03	RADIUS RAIL			
	Eubank Asphalt Paving & Sealing	50.000 L.F.	\$25.0000	\$1,250.00
706-10.26	ROUNDED END ELEMENT			
	Eubank Asphalt Paving & Sealing	1.000 EACH	\$500.0000	\$500.00
712-01	TRAFFIC CONTROL			
	Eubank Asphalt Paving & Sealing	1.000 LS	\$28,000.0000	\$28,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Eubank Asphalt Paving & Sealing	141.000 EACH	\$5.0000	\$705.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Eubank Asphalt Paving & Sealing	8.000 EACH	\$5.0000	\$40.00
712-06	SIGNS (CONSTRUCTION)			
	Eubank Asphalt Paving & Sealing	6,914.000 S.F.	\$7.0000	\$48,398.00

4.000 EACH

712-08.03 ARROW BOARD (TYPE C)

**Eubank Asphalt Paving & Sealing** 

\$400.00

\$100.0000

				CONTRACT CNV086
			UNIT PRICE	EXTENSION
713-16.50	REMOVE AND REPLACE SIGN (VARIOUS)			
	Eubank Asphalt Paving & Sealing	8.000 EACH	\$300.0000	\$2,400.00
	Lubank Aspiral Faving & Seaming		ψ300.0000	Ψ2,400.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR) 982.000 EACH		
	Eubank Asphalt Paving & Sealing	902.000 EACH	\$28.0000	\$27,496.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR	)(1 COLOR)		
		44.000 EACH		
	Eubank Asphalt Paving & Sealing		\$28.0000	\$1,232.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	COLOR)		
	5	129.000 EACH	Фор ород	Ф0.040.00
	Eubank Asphalt Paving & Sealing		\$28.0000	\$3,612.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Eubank Asphalt Paving & Sealing	277.000 EACH	\$8.0000	\$2,216.00
716-02 03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
710-02.03	FLASTIC FAVENENT MARKING (CROSS-WALK)	1,095.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$6.0000	\$6,570.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING	<b>3</b> )		
	Fuhank Asphalt Poving 9 Cooling	1,087.000 S.Y.	¢46,0000	¢47.202.00
	Eubank Asphalt Paving & Sealing		\$16.0000	\$17,392.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	819.000 L.F.		
	Eubank Asphalt Paving & Sealing	819.000 L.F.	\$12.0000	\$9,828.00
716-02 06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
710-02.00	TEASTIOT AVEIGENT MARKING (TORK EARL ARROW)	18.000 EACH		
	Eubank Asphalt Paving & Sealing		\$150.0000	\$2,700.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	Faharda Asahali Basisan 8 Osalina	532.000 L.F.	<b>#4 F</b> 000	<b>Ф700 00</b>
	Eubank Asphalt Paving & Sealing		\$1.5000	\$798.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)	0.2001.84		
	Eubank Asphalt Paving & Sealing	0.300 L.M.	\$7,500.0000	\$2,250.00
716-02 04	PLASTIC WORD PAVEMENT MARKING (ONLY)			
7 10-00.01	LACTO HORD I ATEMENT MARRING (ONET)	4.000 EACH		
			4000 0000	<b>#</b>

Eubank Asphalt Paving & Sealing

\$880.00

\$220.0000

			UNIT PRICE	CONTRACT CNV086 EXTENSION
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
	Eubank Asphalt Paving & Sealing	3.000 EACH	\$250.0000	\$750.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	Eubank Asphalt Paving & Sealing	2.000 EACH	\$200.0000	\$400.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)	40.000 - 1.00		
	Eubank Asphalt Paving & Sealing	12.000 EACH	\$300.0000	\$3,600.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Eubank Asphalt Paving & Sealing	435.000 L.F.	\$4.0000	\$1,740.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)	40.000 54.00		
	Eubank Asphalt Paving & Sealing	10.000 EACH	\$150.0000	\$1,500.00
716-04.10	PLASTIC PAVEMENT MARKING (HANDICAP SYMBOL)	5.000 EACH		
	Eubank Asphalt Paving & Sealing		\$300.0000	\$1,500.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Eubank Asphalt Paving & Sealing	1.600 L.M.	\$850.0000	\$1,360.00
716-05.03	PAINTED PAVEMENT MARKING (CROSS-WALK)			
	Eubank Asphalt Paving & Sealing	150.000 L.F.	\$10.0000	\$1,500.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Eubank Asphalt Paving & Sealing	44.850 L.M.	\$800.0000	\$35,880.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Eubank Asphalt Paving & Sealing	46.550 L.M.	\$4,800.0000	\$223,440.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED			
	Eubank Asphalt Paving & Sealing	660.000 L.F.	\$1.5000	\$990.00
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)	4.400.000 ! =		
	Eubank Asphalt Paving & Sealing	1,163.000 L.F.	\$2.5000	\$2,907.50

				CONTRACT CNV086
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$74,000.0000	\$74,000.00
720-14 02	SAW SLOT			
730-14.02	SAW SLOT	10,136.000 L.F.		
	Eubank Asphalt Paving & Sealing	10,130.000 E.I .	\$3.5000	\$35,476.00
				. ,
730-14.03	LOOP WIRE			
		22,522.000 L.F.		

Eubank Asphalt Paving & Sealing

\$0.6000

\$13,513.20

## **SUB-TOTAL ROADWAY**

Eubank Asphalt Paving & Sealing

\$2,143,883.30

### **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing

\$2,143,883.30

### FAYETTE COUNTY (Contract No. CNV209 Call 019)

HSIP-196(17),24017-3245-94,24017-4245-04

THE RESURFACING ON S.R. 196 FROM NEAR HICKORY WITHE ROAD (L.M. 22.81) TO U.S. 70 (S.R. 1) (L.M. 25.56).

PROJECT LENGTH - 2.740 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 15, 2021

TOTAL CONTRACT

 ${\bf Standard\ Construction\ Company,\ Inc.}$ 

\$770,919.62

Lehman-Roberts Company

\$914,839.29

CONTRACT	<b>CNV209</b>
----------	---------------

## CADDWAY CATEGORY    202-03.01   REMOVAL OF ASPHALT PAVEMENT	EV/TENIOLONI
202-03.01 REMOVAL OF ASPHALT PAVEMENT  1,200.000 S.Y.  Standard Construction Company, Inc. Lehman-Roberts Company  WATER  11.000 M.G.  Standard Construction Company, Inc. Lehman-Roberts Company  BROOMING & DEGRASSING SHOULDERS	EXTENSION
1,200.000 S.Y.  Standard Construction Company, Inc. Lehman-Roberts Company  WATER  11.000 M.G.  Standard Construction Company, Inc. Lehman-Roberts Company  BROOMING & DEGRASSING SHOULDERS	
Standard Construction Company, Inc. Lehman-Roberts Company \$32.5300  203-06 WATER  11.000 M.G.  Standard Construction Company, Inc. Lehman-Roberts Company \$27.5000 Lehman-Roberts Company \$250.0000	
Lehman-Roberts Company \$32.5300  203-06 WATER  11.000 M.G.  Standard Construction Company, Inc. Lehman-Roberts Company \$27.5000 \$250.0000	
11.000 M.G.  Standard Construction Company, Inc. Lehman-Roberts Company \$27.5000 \$250.0000  208-01.05 BROOMING & DEGRASSING SHOULDERS	\$51,000.00 \$39,036.00
Standard Construction Company, Inc. \$27.5000 Lehman-Roberts Company \$250.0000  208-01.05 BROOMING & DEGRASSING SHOULDERS	
Lehman-Roberts Company \$250.0000  208-01.05 BROOMING & DEGRASSING SHOULDERS	
	\$302.50 \$2,750.00
5.490 L.M.	
Standard Construction Company, Inc. \$1,400.0000 Lehman-Roberts Company \$1,100.0000	\$7,686.00 \$6,039.00
303-02 MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)	
1,357.000 TON	
Standard Construction Company, Inc. \$36.6000 Lehman-Roberts Company \$30.4600	\$49,666.20 \$41,334.22
307-01.01 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A	
521.000 TON	
Standard Construction Company, Inc. \$168.2500 Lehman-Roberts Company \$160.0000	\$87,658.25 \$83,360.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2	
15.000 TON	
Standard Construction Company, Inc. \$168.2500 Lehman-Roberts Company \$160.0000	\$2,523.75 \$2,400.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)	
13.000 TON	
Standard Construction Company, Inc. \$980.0000 Lehman-Roberts Company \$950.0000	\$12,740.00 \$12,350.00
411-01.10 ACS MIX(PG64-22) GRADING D	
2,767.000 TON	
	\$298,420.95 \$338,404.10
411-12.04 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)	
2.745 L.M.	
Standard Construction Company, Inc. \$1,340.0000 Lehman-Roberts Company \$1,850.0000	\$3,678.30 \$5,078.25
701-01.01 CONCRETE SIDEWALK (4 ")	
75.000 S.F.	
Standard Construction Company, Inc. \$22.5000 Lehman-Roberts Company \$50.3800	\$1,687.50 \$3,778.50
	PAGE

				CONTRACT CNV209
			UNIT PRICE	EXTENSION
701-02.03	CONCRETE CURB RAMP			
		114.000 S.F.		
	Standard Construction Company, Inc.		\$53.1000	\$6,053.40
	Lehman-Roberts Company		\$75.5700	\$8,614.98
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		13.000 EACH		
	Standard Construction Company, Inc.		\$105.0000	\$1,365.00
	Lehman-Roberts Company		\$100.7600	\$1,309.88
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		6.000 EACH		
	Standard Construction Company, Inc.		\$1,050.0000	\$6,300.00 \$7,850.46
	Lehman-Roberts Company		\$1,309.9100	\$7,859.46
705-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
		2.000 EACH		
	Standard Construction Company, Inc.		\$945.0000	\$1,890.00
	Lehman-Roberts Company		\$801.0600	\$1,602.12
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		11.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$2,520.0000 \$2,821.3400	\$27,720.00 \$31,034.74
	Lenman-Roberts Company		φ2,021.3400	φ31,034.74
705-80.16	LINE POST REFLECTIVE MARKER			
		4.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$210.0000 \$50.0000	\$840.00 \$200.00
	Letiman Roberts Company		ψ30.0000	Ψ200.00
706-06.03	RADIUS RAIL			
		25.000 L.F.	***	<b>4</b>
	Standard Construction Company, Inc. Lehman-Roberts Company		\$23.1000 \$52.4000	\$577.50 \$1,310.00
	Zonnan Robotto Company		ψ02.1000	ψ1,010.00
706-10.26	ROUNDED END ELEMENT			
		2.000 EACH	<b>450 5000</b>	<b>*</b>
	Standard Construction Company, Inc. Lehman-Roberts Company		\$52.5000 \$302.2900	\$105.00 \$604.58
			ψουΣ.2000	Ψ00-1.00
712-01	TRAFFIC CONTROL			
		1.000 LS	<b>0.44.002.222</b>	<b>A</b> 44.055.55
	Standard Construction Company, Inc. Lehman-Roberts Company		\$41,000.0000 \$75,000.0000	\$41,000.00 \$75,000.00
			φ. 0,000.0000	φ. 0,000.00

898.000 S.F.

712-06

SIGNS (CONSTRUCTION)

Lehman-Roberts Company

Standard Construction Company, Inc.

\$5,657.40

\$5,432.90

\$6.3000

\$6.0500

CONT	RACT	CNV209
LINIT PRICE	FXTE	ENSION

			UNIT PRICE	EXTENSION
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		2.000 EACH		
	Standard Construction Company, Inc. Lehman-Roberts Company		\$52.5000 \$50.3800	\$105.00 \$100.76
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPO	RT		
		4.000 EACH		
	Standard Construction Company, Inc.		\$315.0000	\$1,260.00
	Lehman-Roberts Company		\$302.2900	\$1,209.16
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (	BI-DIR) (1 COLOR)		
		178.000 EACH		
	Standard Construction Company, Inc.		\$39.1500	\$6,968.70
	Lehman-Roberts Company		\$40.1900	\$7,153.82
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MAR			
		178.000 EACH		
	Standard Construction Company, Inc.		\$30.9000	\$5,500.20
	Lehman-Roberts Company		\$19.3000	\$3,435.40
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		148.000 L.F.		
	Standard Construction Company, Inc.		\$20.6000	\$3,048.80
	Lehman-Roberts Company		\$21.1500	\$3,130.20
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		2.000 EACH		
	Standard Construction Company, Inc.		\$669.5000	\$1,339.00
	Lehman-Roberts Company		\$687.4300	\$1,374.86
716-05.10	PAINTED PAVEMENT MARKING (RXR)			
		3.000 EACH		
	Standard Construction Company, Inc.		\$412.0000	\$1,236.00
	Lehman-Roberts Company		\$423.0300	\$1,269.09
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN	I LINE)		
		10.339 L.M.		
	Standard Construction Company, Inc.		\$6,077.0000	\$62,830.10
	Lehman-Roberts Company		\$6,239.7200	\$64,512.47
717-01	MOBILIZATION			
		1.000 LS		
	Standard Construction Company, Inc.		\$43,500.0000	\$43,500.00
	Lehman-Roberts Company		\$110,000.0000	\$110,000.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		9,057.000 S.Y.		
	Standard Construction Company, Inc.		\$3.6500	\$33,058.05
	Lehman-Roberts Company		\$5.5000	\$49,813.50

CONTR	CNV	

UNIT PRICE EXTENSION

# 716-05.20 PAINTED PAVEMENT MARKING (6" LINE)

2.730 L.M.

 Standard Construction Company, Inc.
 \$1,905.5000
 \$5,202.02

 Lehman-Roberts Company
 \$1,956.5200
 \$5,341.30

Standard Construction Company, Inc.	\$770,919.62
Lehman-Roberts Company	\$914,839.29

## TOTAL CONTRACT

Standard Construction Company, Inc.	\$770,919.62
Lehman-Roberts Company	\$914,839.29

#### FENTRESS COUNTY (Contract No. CNV152 Call 020)

NH/HSIP-28(81),25043-3218-94,25043-8218-14,STP-154(8),25006-8224-14

THE RESURFACING ON U.S. 127 (S.R. 28) FROM NORTH OF S.R. 52 (L.M. 19.83) TO NORTH OF KIP CHASE ROAD (L.M. 23.11) AND ON S.R. 154 FROM MILLSAP AVENUE (L.M. 1.38) TO EAST OF LOUVAINE ROAD (L.M. 6.25).

PROJECT LENGTH - 8.150 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$2,200,474.90

ROADWAY CATEGORY		UNIT PRICE	CONTRACT CNV152 EXTENSION
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING E	3-M2		
Rogers Group, Inc.	406.000 TON	\$109.2500	\$44,355.50
403-02.01 TRACKLESS TACK COAT			
Rogers Group, Inc.	91.000 TON	\$750.0000	\$68,250.00
411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER	2 949 000 TON		
Rogers Group, Inc.	2,818.000 TON	\$102.4500	\$288,704.10
411-01.10 ACS MIX(PG64-22) GRADING D	6,159.000 TON		
Rogers Group, Inc.	0,133.000 1014	\$103.6000	\$638,072.40
411-01.21 LONGITUDINAL JOINT SEALANT	19.200 L.M.		
Rogers Group, Inc.	10:200 2	\$2,730.0000	\$52,416.00
411-03.07 ACS MIX(PG64-22) THIN LIFT ASPHALT	3,901.000 TON		
Rogers Group, Inc.	•,•••	\$104.8500	\$409,019.85
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	1.200 L.M.		
Rogers Group, Inc.		\$446.0000	\$535.20
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	5.300 L.M.		
Rogers Group, Inc.		\$446.0000	\$2,363.80
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W	IDTH) 7.100 L.M.		
Rogers Group, Inc.		\$446.0000	\$3,166.60
415-01.01 COLD PLANING BITUMINOUS PAVEMENT	9,359.000 TON		
Rogers Group, Inc.		\$20.3000	\$189,987.70
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN	2.000 EACH		
Rogers Group, Inc.		\$315.0000	\$630.00
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT	2.000 EACH		
Rogers Group, Inc.		\$1,700.0000	\$3,400.00

			UNIT PRICE	CONTRACT CNV152 EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3 Rogers Group, Inc.	2.000 EACH	\$3,290.0000	\$6,580.00
706-01	Rogers Group, Inc.	70.000 L.F.	\$2.5000	\$175.00
712-01	Rogers Group, Inc.	1.000 LS	\$85,597.0000	\$85,597.00
	Rogers Group, Inc.  WARNING LIGHTS (TYPE C)	155.000 EACH	\$40.7500	\$6,316.25
712-06	Rogers Group, Inc.  SIGNS (CONSTRUCTION)	51.000 EACH	\$34.5000	\$1,759.50
712-08.03	Rogers Group, Inc.	1,762.000 S.F.	\$7.0000	\$12,334.00
	Rogers Group, Inc.  CHANGEABLE MESSAGE SIGN UNIT	2.000 EACH	\$910.0000	\$1,820.00
	Rogers Group, Inc.  SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	4.000 EACH	\$2,160.0000	\$8,640.00
	Rogers Group, Inc.  SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(7)	350.000 EACH	\$26.7500	\$9,362.50
	Rogers Group, Inc.  SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 Co	263.000 EACH	\$26.7500	\$7,035.25
	Rogers Group, Inc.  REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	178.000 EACH	\$26.7500	\$4,761.50
		791.000 EACH	<b>40 7000</b>	<b>#= 000 =0</b>

Rogers Group, Inc.

\$5,299.70

\$6.7000

			UNIT PRICE	CONTRACT CNV152 EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	643.000 S.Y.		
	Rogers Group, Inc.	043.000 3.1.	\$20.4000	\$13,117.20
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	435.000 L.F.	\$11.2000	\$4,872.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	10.000 EACH	\$167.8000	\$1,678.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Rogers Group, Inc.	45.000 S.F.	\$11.1500	\$501.75
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	Rogers Group, Inc.	11.000 EACH	\$278.8000	\$3,066.80
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	16.600 L.M.	\$697.0000	\$11,570.20
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	34.600 L.M.	\$4,910.0000	\$169,886.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN			
	Rogers Group, Inc.	993.000 L.F.	\$1.7000	\$1,688.10
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
	Rogers Group, Inc.	4,912.000 L.F.	\$2.2500	\$11,052.00
717-01	MOBILIZATION			

1.000 LS

\$132,461.0000

Rogers Group, Inc.

\$132,461.00

Rogers Group, Inc. \$2,200,474.90

## **TOTAL CONTRACT**

Rogers Group, Inc. \$2,200,474.90

GILES COUNTY (Contract No. CNV153 Call 021)

NH-I-65-1(76),28001-3186-44

THE ROCKFALL MITIGATION ON I-65 (SB & NB) AT L.M. 8.90.

PROJECT LENGTH - 0.378 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL CONTRACT

Dement Construction Company, LLC Civil Constructors, LLC

\$5,341,970.00 \$5,781,550.70

CONTRACT	<b>CNV153</b>
----------	---------------

			CC	DNIRACI CNV153
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Dement Construction Company, LLC Civil Constructors, LLC	1.000 LS	\$15,000.0000 \$15,400.0000	\$15,000.00 \$15,400.00
201-01	CLEARING AND GRUBBING			
	Dement Construction Company, LLC Civil Constructors, LLC	1.000 LS	\$544,000.0000 \$135,120.0000	\$544,000.00 \$135,120.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Dement Construction Company, LLC Civil Constructors, LLC	1,460.000 C.Y.	\$100.0000 \$300.0000	\$146,000.00 \$438,000.00
203-11	SCALING AND TRIMMING			
	Dement Construction Company, LLC Civil Constructors, LLC	1,390.000 S.Y.	\$200.0000 \$200.0000	\$278,000.00 \$278,000.00
209-05	SEDIMENT REMOVAL			
	Dement Construction Company, LLC Civil Constructors, LLC	10.000 C.Y.	\$35.0000 \$64.5000	\$350.00 \$645.00
209-08.08	ENHANCED ROCK CHECK DAM			
	Dement Construction Company, LLC Civil Constructors, LLC	2.000 EACH	\$500.0000 \$2,500.0000	\$1,000.00 \$5,000.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Dement Construction Company, LLC Civil Constructors, LLC	100.000 TON	\$40.0000 \$60.0000	\$4,000.00 \$6,000.00
307-03.10	ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS			
	Dement Construction Company, LLC Civil Constructors, LLC	75.000 TON	\$275.0000 \$306.0000	\$20,625.00 \$22,950.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Dement Construction Company, LLC Civil Constructors, LLC	2.000 TON	\$1,082.0000 \$1,260.0000	\$2,164.00 \$2,520.00
411-03.23	ACS MIX (PG76-22) OGFC			
	Dement Construction Company, LLC Civil Constructors, LLC	143.000 TON	\$275.0000 \$306.0000	\$39,325.00 \$43,758.00
				PAGE

				CONTRACT CNV153
			UNIT PRICE	EXTENSION
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		0.210 L.M.		
	Dement Construction Company, LLC Civil Constructors, LLC		\$17,500.0000 \$19,440.0000	\$3,675.00 \$4,082.40
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		2,591.000 S.Y.		
	Dement Construction Company, LLC Civil Constructors, LLC		\$17.0000 \$17.5000	\$44,047.00 \$45,342.50
622-01.01	SHOTCRETE BUTTRESS			
		3,070.000 C.Y.		
	Dement Construction Company, LLC Civil Constructors, LLC		\$1,200.0000 \$1,320.0000	\$3,684,000.00 \$4,052,400.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Dement Construction Company, LLC Civil Constructors, LLC		\$6,500.0000 \$7,220.0000	\$13,000.00 \$14,440.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Dement Construction Company, LLC Civil Constructors, LLC		\$31,144.0000 \$42,450.0000	\$31,144.00 \$42,450.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,440.000 L.F.		
	Dement Construction Company, LLC Civil Constructors, LLC		\$35.0000 \$76.5000	\$50,400.00 \$110,160.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		60.000 EACH		
	Dement Construction Company, LLC Civil Constructors, LLC		\$30.0000 \$31.0000	\$1,800.00 \$1,860.00
712-04.50	BARRIER RAIL DELINEATOR			
		73.000 EACH		
	Dement Construction Company, LLC Civil Constructors, LLC	, 5, 5, 5, 5, 5, 5, 5, 5, 5, 5, 5, 5, 5,	\$12.0000 \$12.4000	\$876.00 \$905.20
712-06	SIGNS (CONSTRUCTION)			
		432.000 S.F.		
	Dement Construction Company, LLC Civil Constructors, LLC		\$7.0000 \$7.2000	\$3,024.00 \$3,110.40
712-08.03	ARROW BOARD (TYPE C)			
		1.000 EACH		
			<b>#</b> 000 0000	4000.00

Dement Construction Company, LLC

Civil Constructors, LLC

\$900.00 \$928.00

\$900.0000

\$928.0000

				CONTRACT CNV153
			UNIT PRICE	EXTENSION
712-08.08	SPEED FEEDBACK SIGN ASSEMBLY			
712 00.00	GI EED I EEDBAGK GIGK AGGEIMBE	1.000 EACH		
	Dement Construction Company, LLC		\$4,250.0000	\$4,250.00
	Civil Constructors, LLC		\$4,720.0000	\$4,720.00
712-08.09	DIGITAL SPEED LIMIT SIGN ASSEMBLY			
		1.000 EACH		
	Dement Construction Company, LLC		\$4,750.0000	\$4,750.00
	Civil Constructors, LLC		\$5,280.0000	\$5,280.00
712-08.14	PORTABLE QUEUE WARNING SYSTEM			
		150.000 DAY		
	Dement Construction Company, LLC		\$815.0000	\$122,250.00
	Civil Constructors, LLC		\$840.0000	\$126,000.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		2,000.000 L.F.		
	Dement Construction Company, LLC Civil Constructors, LLC		\$5.0000 \$5.2000	\$10,000.00 \$10,400.00
	CIVII CONSTRUCTORS, LLC		φ5.2000	\$10,400.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		1.000 EACH		
	Dement Construction Company, LLC		\$4,200.0000	\$4,200.00
	Civil Constructors, LLC		\$4,330.0000	\$4,330.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	COLOR)		
		14.000 EACH		
	Dement Construction Company, LLC		\$75.0000	\$1,050.00
	Civil Constructors, LLC		\$77.5000	\$1,085.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		14.000 EACH		
	Dement Construction Company, LLC		\$10.0000	\$140.00
	Civil Constructors, LLC		\$10.3000	\$144.20
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		1.000 L.M.		
	Dement Construction Company, LLC		\$2,500.0000	\$2,500.00
	Civil Constructors, LLC		\$2,580.0000	\$2,580.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		1.000 L.M.	<b>.</b>	
	Dement Construction Company, LLC		\$10,000.0000	\$10,000.00 \$10,310.00
	Civil Constructors, LLC		\$10,310.0000	\$10,310.00
717-01	MOBILIZATION			
		1.000 LS		
	Dement Construction Company, LLC		\$250,000.0000	\$250,000.00
	Civil Constructors, LLC		\$337,630.0000	\$337,630.00

**CONTRACT CNV153** 

UNIT PRICE EXTENSION

## 712-08.10 MOBILE MESSAGE SIGN UNIT W/ATTENUATOR

500.000 HOUR

 Dement Construction Company, LLC
 \$99.000
 \$49,500.00

 Civil Constructors, LLC
 \$112.0000
 \$56,000.00

Dement Construction Company, LLC	\$5,341,970.00
Civil Constructors, LLC	\$5,781,550.70

# **TOTAL CONTRACT**

Dement Construction Company, LLC	\$5,341,970.00
Civil Constructors, LLC	\$5,781,550.70

#### HAMILTON COUNTY (Contract No. CNV156 Call 023)

HSIP-58(58),33044-3253-94,33044-4253-04

THE RESURFACING (MICROSURFACING) ON S.R. 58 FROM NORTH OF SIMS ROAD (L.M. 17.42) TO SOUTH OF S.R. 60 (L.M. 25.98).

PROJECT LENGTH - 8.560 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

TOTAL CONTRACT

Asphalt Paving Systems, Inc. \$499,758.52
Hudson Construction Company \$574,409.10
American Pavements, Inc. \$602,198.48

			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		ONITTRICE	EXTENSION
,				
402 04 04	DITUMINOUS MATERIAL FOR TACK COAT (MICRO SURE)	A CINIC)		
403-01.01	BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFA	17.000 TON		
	Anhalt Daving Customs Inc	17.000 TON	<b>\$540,4400</b>	¢0,000,07
	Asphalt Paving Systems, Inc. Hudson Construction Company		\$519.4100 \$588.0000	\$8,829.97 \$9,996.00
	American Pavements, Inc.		\$310.0000	\$5,270.00
	Tunonoan ravoniono, moi		ψο ι σισσσσ	ψο,Σ10.00
403-01.10	HIGH PERFORMANCE FOG SEALS			
		30,131.000 S.Y.		
	Asphalt Paving Systems, Inc.		\$0.3000	\$9,039.30
	Hudson Construction Company		\$0.7500	\$22,598.25
	American Pavements, Inc.		\$0.5800	\$17,475.98
414-03.01	EMULSIFIED ASPHALT FOR MICRO-SURFACING			
		160.000 TON		
	Asphalt Paving Systems, Inc.		\$790.0000	\$126,400.00
	Hudson Construction Company		\$880.0000	\$140,800.00
	American Pavements, Inc.		\$1,000.0000	\$160,000.00
414 <b>-</b> 03 02	AGGREGATE FOR MICRO SURFACING			
414 00.02	AGGREGATE FOR IMORO GORI AGING	1,326.000 TON		
	Asphalt Paving Systems, Inc.	1,320.000 1014	\$96.0000	\$127,296.00
	Hudson Construction Company		\$88.0000	\$116,688.00
	American Pavements, Inc.		\$130.0000	\$172,380.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		3.000 EACH		
	Asphalt Paving Systems, Inc.		\$800.0000	\$2,400.00
	Hudson Construction Company		\$1,750.0000	\$5,250.00
	American Pavements, Inc.		\$1,475.0000	\$4,425.00
705 00 04	W DEAM OR (TYPE O) MACUTE O			
705-06.01	W BEAM GR (TYPE 2) MASH TL-3	75.000   5		
	Anhalt Daving Customs Inc	75.000 L.F.	¢22 E000	¢4 762 50
	Asphalt Paving Systems, Inc. Hudson Construction Company		\$23.5000 \$29.7500	\$1,762.50 \$2,231.25
	American Pavements, Inc.		\$26.7500	\$2,006.25
	Tunonoan ravoniono, moi		Ψ20.7000	Ψ2,000.20
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
		1.000 EACH		
	Asphalt Paving Systems, Inc.		\$1,200.0000	\$1,200.00
	Hudson Construction Company		\$1,250.0000	\$1,250.00
	American Pavements, Inc.		\$1,050.0000	\$1,050.00
/05-06.11	GR TERMINAL (IN-INLINE) MASH TL-3			
		1.000 EACH		
	Asphalt Paving Systems, Inc.		\$900.0000	\$900.00
	Hudson Construction Company		\$1,400.0000 \$1,450.0000	\$1,400.00 \$1,450.00
	American Pavements, Inc.		\$1,150.0000	\$1,150.00

			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Asphalt Paving Systems, Inc.		\$2,750.0000	\$8,250.00
	Hudson Construction Company		\$3,175.0000	\$9,525.00
	American Pavements, Inc.		\$2,875.0000	\$8,625.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Asphalt Paving Systems, Inc.		\$15,500.0000	\$15,500.00
	Hudson Construction Company		\$25,000.0000	\$25,000.00
	American Pavements, Inc.		\$11,120.0000	\$11,120.00
712-06	SIGNS (CONSTRUCTION)			
		378.000 S.F.		
	Asphalt Paving Systems, Inc.		\$6.5000	\$2,457.00
	Hudson Construction Company		\$6.7500	\$2,551.50
	American Pavements, Inc.		\$8.0000	\$3,024.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Asphalt Paving Systems, Inc.		\$1,500.0000	\$3,000.00
	Hudson Construction Company		\$5,000.0000	\$10,000.00
	American Pavements, Inc.		\$1,250.0000	\$2,500.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 C	OLOR)		
		570.000 EACH		
	Asphalt Paving Systems, Inc.		\$20.0000	\$11,400.00
	Hudson Construction Company		\$27.7500	\$15,817.50
	American Pavements, Inc.		\$25.7500	\$14,677.50
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		303.000 EACH		
	Asphalt Paving Systems, Inc.		\$8.7500	\$2,651.25
	Hudson Construction Company		\$10.0000	\$3,030.00
	American Pavements, Inc.		\$8.2500	\$2,499.75
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		180.000 L.F.		
	Asphalt Paving Systems, Inc.		\$8.7500	\$1,575.00
	Hudson Construction Company		\$12.7500	\$2,295.00
	American Pavements, Inc.		\$10.2500	\$1,845.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		30.300 L.M.		
	Asphalt Paving Systems, Inc.		\$675.0000	\$20,452.50
	Hudson Construction Company		\$875.0000	\$26,512.50
	American Pavements, Inc.		\$775.0000	\$23,482.50

		CONTRACT CNV156
	UNIT PRICE	EXTENSION
TAG OG OG DEMOVAL OF DAVEMENT NE		
716-08.20 REMOVAL OF PAVEMENT N	IARKING (LINE)	
	25.700 L.M.	
Asphalt Paving Systems, Inc	c. \$1,000.0000	\$25,700.00
Hudson Construction Comp		\$27,961.60
American Pavements, Inc.	\$1,350.0000	\$34,695.00
716-12.02 ENHANCED FLATLINE THEF	RMO PVMT MRKNG (6IN LINE)	
	30.300 L.M.	
Asphalt Paving Systems, Inc	c. \$4,150.0000	\$125,745.00
Hudson Construction Comp	any \$4,175.0000	\$126,502.50
American Pavements, Inc.	\$4,075.0000	\$123,472.50
717-01 MOBILIZATION		
	1.000 LS	
Asphalt Paving Systems, Inc	c. \$5,200.0000	\$5,200.00

\$25,000.0000

\$12,500.0000

\$25,000.00

\$12,500.00

**Hudson Construction Company** 

American Pavements, Inc.

Asphalt Paving Systems, Inc.	\$499,758.52
Hudson Construction Company	\$574,409.10
American Pavements, Inc.	\$602,198.48

# **TOTAL CONTRACT**

Asphalt Paving Systems, Inc.	\$499,758.52
Hudson Construction Company	\$574,409.10
American Pavements, Inc.	\$602,198.48

#### HAMILTON COUNTY (Contract No. CNV155 Call 024)

NH/HSIP-2(281),33010-3234-94,33010-8234-14,NH/HSIP-8(62),33015-3262-94,33015-8262-14

THE RESURFACING ON U.S. 41 (U.S. 76, S.R. 8) FROM EAST OF EAST 29TH STREET TO U.S. 11 (U.S. 64, S.R. 2) AND ON U.S. 11 (U.S. 64, S.R. 2) FROM U.S. 41 (U.S. 76, S.R. 8) TO NEAR THE MISSIONARY RIDGE TUNNEL.

PROJECT LENGTH - 2.030 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 7.00%

TOTAL CONTRACT

Talley Construction Company, Inc.

\$1,847,348.92

Wright Brothers Construction Company, Inc.

\$1,958,982.00

				CONTRACT CNV155
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRA	DING B-M2		
		920.000 TON		
	Talley Construction Company, Inc.		\$105.6400	\$97,188.80
	Wright Brothers Construction Company, Inc.		\$164.0000	\$150,880.00
403-02.01	TRACKLESS TACK COAT			
		32.000 TON		
	Talley Construction Company, Inc.		\$830.8500	\$26,587.20
	Wright Brothers Construction Company, Inc.		\$700.0000	\$22,400.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	,	4,798.000 TON		
	Talley Construction Company, Inc.	·	\$133.5500	\$640,772.90
	Wright Brothers Construction Company, Inc.		\$130.0000	\$623,740.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		5,607.000 TON		
	Talley Construction Company, Inc.	3,0011000 1 2.11	\$35.2200	\$197,478.54
	Wright Brothers Construction Company, Inc.		\$52.0000	\$291,564.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		36.000 EACH		
	Talley Construction Company, Inc.	351553 = 1511	\$1,348.2000	\$48,535.20
	Wright Brothers Construction Company, Inc.		\$800.0000	\$28,800.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
101 02101	CONCRETE CONTRACTOR	5,855.000 S.F.		
	Talley Construction Company, Inc.	0,000.000 0 1	\$60.3900	\$353,583.45
	Wright Brothers Construction Company, Inc.		\$57.0000	\$333,735.00
702-03	CONCRETE COMBINED CURB & GUTTER			
702-03	CONORETE COMBINED CORD & COTTER	72.000 C.Y.		
	Talley Construction Company, Inc.	72.000 0.11	\$663.4400	\$47,767.68
	Wright Brothers Construction Company, Inc.		\$570.0000	\$41,040.00
712-01	TRAFFIC CONTROL			
712-01	TRAITIC CONTROL	1.000 LS		
	Talley Construction Company, Inc.	1.000 L3	\$133,256.9800	\$133,256.98
	Wright Brothers Construction Company, Inc.		\$140,000.0000	\$140,000.00
/12-04.01	FLEXIBLE DRUMS (CHANNELIZING)	05 000 54 011		
	Talley Construction Company, Inc.	95.000 EACH	\$31.4600	\$2,988.70
	Wright Brothers Construction Company, Inc.		\$30.0000	\$2,850.00
712-06	SIGNS (CONSTRUCTION)			

2,241.000 S.F.

Talley Construction Company, Inc.

Wright Brothers Construction Company, Inc.

\$16,359.30

\$7.3000

\$7.0000

				MIRACI CHVISS
			UNIT PRICE	EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		280.000 L.F.		
	Talley Construction Company, Inc.		\$12.3600	\$3,460.80
	Wright Brothers Construction Company, Inc.		\$12.0000	\$3,360.00
712-08.03	ARROW BOARD (TYPE C)			
		1.000 EACH		
	Talley Construction Company, Inc.		\$954.9800	\$954.98
	Wright Brothers Construction Company, Inc.		\$1,000.0000	\$1,000.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		3.000 EACH		
	Talley Construction Company, Inc.		\$4,718.7000	\$14,156.10
	Wright Brothers Construction Company, Inc.		\$4,600.0000	\$13,800.00
714-14.03	MASTARM (15FT SINGLE ALUMINUM LUMINAIRE ARM)			
		2.000 EACH		
	Talley Construction Company, Inc.		\$3,333.4300	\$6,666.86
	Wright Brothers Construction Company, Inc.		\$3,200.0000	\$6,400.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR	R) (1 COLOR)		
		319.000 EACH		
	Talley Construction Company, Inc.		\$28.0900	\$8,960.71
	Wright Brothers Construction Company, Inc.		\$27.0000	\$8,613.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-	DIR)(1 COLOR)		
		270.000 EACH		
	Talley Construction Company, Inc.		\$28.0900	\$7,584.30
	Wright Brothers Construction Company, Inc.		\$27.0000	\$7,290.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIF	R)(2 COLOR)		
		66.000 EACH		
	Talley Construction Company, Inc.		\$28.0900	\$1,853.94
	Wright Brothers Construction Company, Inc.		\$27.0000	\$1,782.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		9.000 EACH		
	Talley Construction Company, Inc.		\$13.4800	\$121.32
	Wright Brothers Construction Company, Inc.		\$13.0000	\$117.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIP	PING)		
		407.000 S.Y.		
	Talley Construction Company, Inc.		\$21.0700	\$8,575.49
	Wright Brothers Construction Company, Inc.		\$20.0000	\$8,140.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		415.000 L.F.		
	Talley Construction Company, Inc.		\$11.2400	\$4,664.60
	Wright Brothers Construction Company, Inc.		\$10.8000	\$4,482.00

CONTRACT	<b>CNV155</b>	
----------	---------------	--

			C	UNIKACI CNV155
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		34.000 EACH		
	Talley Construction Company, Inc.		\$168.5300	\$5,730.02
	Wright Brothers Construction Company, Inc.		\$162.0000	\$5,508.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	,	24.000 L.F.		
	Talley Construction Company, Inc.		\$1.9700	\$47.28
	Wright Brothers Construction Company, Inc.		\$2.0000	\$48.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	· · ·	539.000 L.F.		
	Talley Construction Company, Inc.		\$24.7200	\$13,324.08
	Wright Brothers Construction Company, Inc.		\$24.0000	\$12,936.00
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
		390,000 L.F.		
	Talley Construction Company, Inc.	330.000 L.I .	\$1.6900	\$659.10
	Wright Brothers Construction Company, Inc.		\$1.6000	\$624.00
740.00.04	PLACTIC WORD DAVENENT MADVING (ONLY)			
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)	4 000 = 4 011		
		4.000 EACH		
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$224.7000 \$216.0000	\$898.80 \$864.00
			Ψ2.10.0000	φου που
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		216.000 L.F.	<b>^</b>	<b>.</b>
	Talley Construction Company, Inc.		\$6.4600 \$6.2500	\$1,395.36 \$1,350.00
	Wright Brothers Construction Company, Inc.		\$6.2500	\$1,350.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		4.000 EACH		
	Talley Construction Company, Inc.		\$168.5300	\$674.12
	Wright Brothers Construction Company, Inc.		\$162.0000	\$648.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		14.000 S.F.		
	Talley Construction Company, Inc.		\$22.4700	\$314.58
	Wright Brothers Construction Company, Inc.		\$21.5000	\$301.00
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW)			
	,	23.000 EACH		
	Talley Construction Company, Inc.		\$477.4900	\$10,982.27
	Wright Brothers Construction Company, Inc.		\$460.0000	\$10,580.00
716-04.15	PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW SHARED			
		2.000 EACH		
	Talley Construction Company, Inc.		\$443.7900	\$887.58
	Wright Brothers Construction Company, Inc.		\$427.0000	\$854.00

CO	NTR	ACT	CNV	1155

				CONTRACT CNV155
			UNIT PRICE	EXTENSION
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
		190.000 L.F.		
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$6.4600 \$6.2000	\$1,227.40 \$1,178.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		3.200 L.M.		
	Talley Construction Company, Inc.		\$983.0600	\$3,145.79
	Wright Brothers Construction Company, Inc.		\$950.0000	\$3,040.00
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (LANE REDUC	·		
		1.000 EACH		
	Talley Construction Company, Inc.		\$252.7900	\$252.79
	Wright Brothers Construction Company, Inc.		\$243.0000	\$243.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		11.600 L.M.		
	Talley Construction Company, Inc.		\$5,055.7500	\$58,646.70
	Wright Brothers Construction Company, Inc.		\$4,870.0000	\$56,492.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTI	ED LINE)		
		118.000 L.F.		
	Talley Construction Company, Inc.		\$1.6900	\$199.42
	Wright Brothers Construction Company, Inc.		\$2.0000	\$236.00
717-01	MOBILIZATION			
		1.000 LS		
	Talley Construction Company, Inc.		\$65,429.1200	\$65,429.12
	Wright Brothers Construction Company, Inc.		\$97,000.0000	\$97,000.00
725-20.94	CCTV CAMERA SYSTEM (VIDEO DETECTION CAMERA SYS	STEM (GRIDSMART)		
		2.000 EACH		
	Talley Construction Company, Inc.		\$30,278.3300	\$60,556.66
	Wright Brothers Construction Company, Inc.		\$30,000.0000	\$60,000.00
725-20.95	CAMERA COMMUNICATION AND POWER CABLE			
		1,000.000 L.F.		
	Talley Construction Company, Inc.		\$1.4600	\$1,460.00
	Wright Brothers Construction Company, Inc.		\$1.4000	\$1,400.00

Talley Construction Company, Inc.	\$1,847,348.92
Wright Brothers Construction Company, Inc.	\$1,958,982.00

# TOTAL CONTRACT

TAL CONTRACT			
Talley Construction Company, Inc.	\$1,847,348.92		
Wright Brothers Construction Company, Inc.	\$1,958,982.00		

#### HAMILTON COUNTY (Contract No. CNV157 Call 026)

33948-4270-04

THE TUNNEL CLEANING OF THE MCCALLIE TUNNEL ON U.S. 11 (U.S. 64, S.R. 2), THE STRINGERS RIDGE TUNNEL ON U.S. 127 (S.R. 8), AND THE BACHMAN TUBES ON U.S. 41 (U.S. 76, S.R. 8).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

TOTAL CONTRACT

Diamond Specialized, Inc.

\$253,175.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNV157 EXTENSION
104-03.71 ADDITIONAL WORK (CLEANING OF PORTAL FACADES @ MG	CCALLIE TUNNELS)		
Diamond Specialized, Inc.	7,850.000 S.F.	\$1.5000	\$11,775.00
712-01.52 MAINTENANCE OF TRAFFIC (MCCALLIE TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$2,800.0000	\$33,600.00
712-01.53 MAINTENANCE OF TRAFFIC (BACHMAN TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$1,775.0000	\$21,300.00
712-01.54 MAINTENANCE OF TRAFFIC (STRINGERS RIDGE TUNNEL)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
713-20.40 GRAFFITI REMOVAL			
Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01 MOBILIZATION	4 000 1 0		
Diamond Specialized, Inc.	1.000 LS	\$12,700.0000	\$12,700.00
719-02.01 REMOVAL AND DISPOSAL OF LITTER	00 000 OVOI		
Diamond Specialized, Inc.	36.000 CYCL	\$500.0000	\$18,000.00
760-01.01 TUNNEL CLEANING (MCCALLIE TUNNELS)	40.000 54.011		
Diamond Specialized, Inc.	12.000 EACH	\$4,450.0000	\$53,400.00
760-01.02 TUNNEL CLEANING (BACHMAN TUNNELS)			

12.000 EACH

12.000 EACH

Diamond Specialized, Inc.

Diamond Specialized, Inc.

760-01.03 TUNNEL CLEANING (STRINGER RIDGE TUNNEL)

\$3,450.0000

\$3,450.0000

\$41,400.00

\$41,400.00

# **SUB-TOTAL MAINTENANCE**

Diamond Specialized, Inc. \$253,175.00

## **TOTAL CONTRACT**

Diamond Specialized, Inc. \$253,175.00

#### HARDEMAN COUNTY (Contract No. CNV158 Call 027)

NH/HSIP-18(35),35002-3209-94,35002-8209-14,STP/HSIP-18(34),35002-3208-94,35002-8208-14

THE RESURFACING WITH COLD IN-PLACE RECYCLING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 18 FROM BUSTER WOODS LANE (L.M. 9.02) TO U.S. 64 (S.R. 15) (L.M. 17.39).

PROJECT LENGTH - 8.370 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 4.00%

TOTAL CONTRACT

Standard Construction Company, Inc.

\$2,490,280.25

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNV158 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Standard Construction Company, Inc.	147.000 S.Y.	\$45.8000	\$6,732.60
203-06	WATER			
	Standard Construction Company, Inc.	18.000 M.G.	\$40.0000	\$720.00
208-01.05	BROOMING & DEGRASSING SHOULDERS	45.000		
	Standard Construction Company, Inc.	15.600 L.M.	\$1,400.0000	\$21,840.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Standard Construction Company, Inc.	2,302.000 TON	\$52.0000	\$119,704.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Standard Construction Company, Inc.	50.000 TON	\$180.0000	\$9,000.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Standard Construction Company, Inc.	17.000 TON	\$180.0000	\$3,060.00
308-01.10	COLD IN PLACE RECYCLED BITUMINOUS PAVEMENT			
	Standard Construction Company, Inc.	126,450.000 S.Y.	\$3.4500	\$436,252.50
308-01.12	ASPHALT CEMENT (PG64-22) COLD IN PLACE RECYCLED			
	Standard Construction Company, Inc.	496.000 TON	\$675.0000	\$334,800.00
309-10.01	PORTLAND CEMENT			
	Standard Construction Company, Inc.	248.000 TON	\$328.5000	\$81,468.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Standard Construction Company, Inc.	1.000 TON	\$2,450.0000	\$2,450.00
403-05	BITUMINOUS MATERIAL(TC/FOG SEAL)(UNDILUTED)			
	Standard Construction Company, Inc.	34.000 TON	\$1,220.0000	\$41,480.00
403-05.05	MINERAL AGGREGATE (SAND FOR FOG SEAL)			

127.000 TON

Standard Construction Company, Inc.

\$11,112.50

\$87.5000

			UNIT PRICE	CONTRACT CNV158  EXTENSION
411-01.10	ACS MIX(PG64-22) GRADING D			
	Standard Construction Company, Inc.	170.000 TON	\$150.0000	\$25,500.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (41)	•		
	Standard Construction Company, Inc.	11.800 L.M.	\$785.0000	\$9,263.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Standard Construction Company, Inc.	2,215.000 TON	\$43.8000	\$97,017.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Standard Construction Company, Inc.	3.000 EACH	\$825.0000	\$2,475.00
701-01.01	CONCRETE SIDEWALK (4 ")			
	Standard Construction Company, Inc.	360.000 S.F.	\$8.8000	\$3,168.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Standard Construction Company, Inc.	552.000 S.F.	\$38.5000	\$21,252.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Standard Construction Company, Inc.	10.000 EACH	\$105.0000	\$1,050.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Standard Construction Company, Inc.	8.000 EACH	\$2,520.0000	\$20,160.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	Standard Construction Company, Inc.	2.000 EACH	\$2,310.0000	\$4,620.00
712-01	TRAFFIC CONTROL			
	Standard Construction Company, Inc.	1.000 LS	\$146,500.0000	\$146,500.00
712-06	SIGNS (CONSTRUCTION)			
	Standard Construction Company, Inc.	2,233.000 S.F.	\$6.7500	\$15,072.75

18.000 L.F.

712-07.03 TEMPORARY BARRICADES (TYPE III)

Standard Construction Company, Inc.

\$255.60

\$14.2000

			UNIT PRICE	CONTRACT CNV158 EXTENSION
712-08.03	ARROW BOARD (TYPE C)	4 000 5 4 0 1		
	Standard Construction Company, Inc.	1.000 EACH	\$892.5000	\$892.50
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Standard Construction Company, Inc.	4.000 EACH	\$4,410.0000	\$17,640.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC			
	Standard Construction Company, Inc.	550.000 EACH	\$39.9000	\$21,945.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Standard Construction Company, Inc.	9.000 EACH	\$31.5000	\$283.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Standard Construction Company, Inc.	599.000 L.F.	\$16.8000	\$10,063.20
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Standard Construction Company, Inc.	1.000 EACH	\$236.2500	\$236.25
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	Standard Construction Company, Inc.	180.000 L.F.	\$32.5500	\$5,859.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)	00.000.0.5		
	Standard Construction Company, Inc.	30.000 S.F.	\$29.4000	\$882.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)	00.000   14		
	Standard Construction Company, Inc.	30.200 L.M.	\$1,622.2500	\$48,991.95
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Standard Construction Company, Inc.	13.500 L.M.	\$6,195.0000	\$83,632.50
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER L			
	Standard Construction Company, Inc.	170.000 L.F.	\$7.3500	\$1,249.50
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Standard Construction Company, Inc.	16.800 L.M.	\$3,675.0000	\$61,740.00

$\sim$	ACT	CNV	14 E O
	 AL.I	CINV	1:30

				CONTINUE CITATION
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
	Standard Construction Company, Inc.	1.000 LS	\$142,000.0000	\$142,000.00
730-12.01	CONDUIT 1" DIAMETER (PVC)			
	Standard Construction Company, Inc.	50.000 L.F.	\$18.9000	\$945.00
730-14.01	SHIELDED DETECTOR CABLE			
	Standard Construction Company, Inc.	50.000 L.F.	\$2.1000	\$105.00
730-14.02	SAW SLOT			
	Standard Construction Company, Inc.	162.000 L.F.	\$5.2500	\$850.50
730-14.03	LOOP WIRE			
	Standard Construction Company, Inc.	324.000 L.F.	\$1.0500	\$340.20

				CONTRACT CNV158
ROADW	AY ALTERNATE AA1 CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	42.000 TON		
	Standard Construction Company, Inc.	42.000 1011	\$950.0000	\$39,900.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		5,654.000 TON		

Standard Construction Company, Inc.

\$112.8000

\$637,771.20

UNIT PRICE EXTENSION

#### **ROADWAY ALTERNATE AA2 CATEGORY**

## 403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACING)

18.000 TON

Standard Construction Company, Inc.

414-03.01 EMULSIFIED ASPHALT FOR MICRO-SURFACING

256.000 TON

Standard Construction Company, Inc.

414-03.02 AGGREGATE FOR MICRO SURFACING

2,135.000 TON

Standard Construction Company, Inc.

716-05.20 PAINTED PAVEMENT MARKING (6" LINE)

30.200 L.M.

Standard Construction Company, Inc.

Standard Construction Company, Inc. \$1,812,609.05

# **SUB-TOTAL ROADWAY ALTERNATE AA1**

Standard Construction Company, Inc. \$677,671.20

## **SUB-TOTAL ROADWAY ALTERNATE AA2**

## **TOTAL CONTRACT**

Standard Construction Company, Inc. \$2,490,280.25

### HARDIN COUNTY (Contract No. CNV159 Call 028)

NH/HSIP-128(34),36011-3222-94,36011-4222-04,36011-8222-14

THE RESURFACING WITH HOT IN-PLACE RECYCLING (MICROSURFACE OR THIN MIX OVERLAY) ON S.R. 128 FROM NEAR CLIFTON ROAD (L.M. 19.22) TO S.R. 114 (L.M. 24.42), INCLUDING BRIDGE REPAIR.

PROJECT LENGTH - 5.200 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL CONTRACT

Delta Contracting Company, LLC Asphalt Paving Systems, Inc.

\$1,486,250.28 \$1,712,277.82

			CONTRACT CNV159
ROADWA	Y CATEGORY	UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT		
	84.000 S.Y.  Delta Contracting Company, LLC  Asphalt Paving Systems, Inc.	\$21.5000 \$55.0000	\$1,806.00 \$4,620.00
203-06	WATER		
	7.000 M.G. Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$0.0100 \$10.0000	\$0.07 \$70.00
208-01.05	BROOMING & DEGRASSING SHOULDERS		
	Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$625.0000 \$1,250.0000	\$6,500.00 \$13,000.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (DESCRIPTION)		
	Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$14.0000 \$41.0000	\$12,838.00 \$37,597.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
	29.000 TON  Delta Contracting Company, LLC  Asphalt Paving Systems, Inc.	\$86.0000 \$183.0000	\$2,494.00 \$5,307.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$86.0000 \$173.0000	\$860.00 \$1,730.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVEMENT (2.00IN)		
	79,054.000 S.Y.  Delta Contracting Company, LLC  Asphalt Paving Systems, Inc.	\$4.6300 \$4.6300	\$366,020.02 \$366,020.02
311-03.10	ASPHALT REJUVENATING AGENT		
	43,480.000 GAL.  Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$3.5000 \$3.5000	\$152,180.00 \$152,180.00
411-01.10	ACS MIX(PG64-22) GRADING D		
	Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$79.0000 \$140.0000	\$35,550.00 \$63,000.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
	7.800 L.M. Delta Contracting Company, LLC	\$608.6400	\$4,747.39 \$3,400.80

Asphalt Paving Systems, Inc.

\$436.0000

CONTRACT	CNV159
----------	--------

				CONTRACT	CNV159
			UNIT PRICE	EXT	ENSION
415-01.02	COLD PLANING BITUMINOUS PAVEMENT				
		3,667.000 S.Y.			
	Delta Contracting Company, LLC		\$1.4000	\$5	5,133.80
	Asphalt Paving Systems, Inc.		\$6.0000	\$22	2,002.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN				
		33.000 EACH			
	Delta Contracting Company, LLC		\$100.0000	\$3	3,300.00
	Asphalt Paving Systems, Inc.		\$100.0000		3,300.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT				
		1.000 EACH			
	Delta Contracting Company, LLC		\$1,000.0000	\$1	00.000,1
	Asphalt Paving Systems, Inc.		\$1,000.0000	\$1	,000.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3				
		33.000 EACH			
	Delta Contracting Company, LLC		\$2,200.0000	\$72	2,600.00
	Asphalt Paving Systems, Inc.		\$2,200.0000	•	2,600.00
712-01	TRAFFIC CONTROL				
		1.000 LS			
	Delta Contracting Company, LLC	1.000 20	\$35,000.0000	\$3!	5,000.00
	Asphalt Paving Systems, Inc.		\$70,000.0000		0,000.00
712-06	SIGNS (CONSTRUCTION)				
	,	1,472.000 S.F.			
	Delta Contracting Company, LLC	.,	\$6.0000	\$8	3,832.00
	Asphalt Paving Systems, Inc.		\$6.0000		3,832.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO	LOR)			
	(, (,	390.000 EACH			
	Delta Contracting Company, LLC	000.000 E/(011	\$35.0000	\$1:	3,650.00
	Asphalt Paving Systems, Inc.		\$35.0000		3,650.00
716-01 22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)			
		5.000 EACH			
	Delta Contracting Company, LLC	3.000 EACH	\$35.0000		\$175.00
	Asphalt Paving Systems, Inc.		\$35.0000		\$175.00 \$175.00
746 02 04	DI ACTIC DAVEMENT MADIZING/CHANNELIZATION CEDIDING				
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	28.000 S.Y.			
	Delta Contracting Company, LLC	20.000 3.1.	\$35.0000		\$980.00
	Asphalt Paving Systems, Inc.		\$35.0000		\$980.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)				
		259.000 L.F.			
	Delta Contracting Company, LLC	-	\$14.0000	\$3	3,626.00
	Asphalt Paving Systems, Inc.		\$14.0000		3,626.00

				CONTRACT CNV159
			UNIT PRICE	EXTENSION
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		16.900 L.M.		
	Delta Contracting Company, LLC		\$1,500.0000	\$25,350.00
	Asphalt Paving Systems, Inc.		\$1,500.0000	\$25,350.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		16.900 L.M.		
	Delta Contracting Company, LLC		\$5,400.0000	\$91,260.00
	Asphalt Paving Systems, Inc.		\$5,400.0000	\$91,260.00
717-01	MOBILIZATION			
		1.000 LS		
	Delta Contracting Company, LLC		\$98,000.0000	\$98,000.00
	Asphalt Paving Systems, Inc.		\$150,000.0000	\$150,000.00
403-02.01	TRACKLESS TACK COAT			
		3.000 TON		

Delta Contracting Company, LLC Asphalt Paving Systems, Inc.

\$692.0000

\$1,060.0000

\$2,076.00

\$3,180.00

UNIT PRICE EXTENSION

**BRIDGE CATEGORY** 

604-10.44 EXPANSION JOINT REPAIRS

124.000 L.F.

 Delta Contracting Company, LLC
 \$160.0000
 \$19,840.00

 Asphalt Paving Systems, Inc.
 \$330.0000
 \$40,920.00

			CONTRACT CNV159
ROADWAY ALTERNATE AA1 CATEGORY		UNIT PRICE	EXTENSION
403-02.01 TRACKLESS TACK COAT			
	44.000 TON		
Delta Contracting Company, LLC Asphalt Paving Systems, Inc.		\$692.0000	\$30,448.00
411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	3,296.000 TON		
Delta Contracting Company, LLC Asphalt Paving Systems, Inc.		\$81.0000	\$266,976.00
411-03.24 ACS MIX(PG64-22) THIN LIFT E ASPHALT			
	2,744.000 TON		

Delta Contracting Company, LLC Asphalt Paving Systems, Inc.

\$82.0000

\$225,008.00

ROADWAY ALTERNATE AA2 CATEGORY		UNIT PRICE	CONTRACT CNV159 EXTENSION
403-01.01 BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACIN	<b>G</b> )		
	20.000 TON		
Asphalt Paving Systems, Inc. Delta Contracting Company, LLC		\$516.0000	\$10,320.00
414-03.01 EMULSIFIED ASPHALT FOR MICRO-SURFACING			
	277.000 TON		
Asphalt Paving Systems, Inc. Delta Contracting Company, LLC		\$940.0000	\$260,380.00
414-03.02 AGGREGATE FOR MICRO SURFACING	2 202 000 TON		
Asphalt Paving Systems, Inc. Delta Contracting Company, LLC	2,302.000 TON	\$114.0000	\$262,428.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			

Asphalt Paving Systems, Inc.

Delta Contracting Company, LLC

16.900 L.M.

\$1,500.0000

\$25,350.00

Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$943,978.28 \$1,112,879.82
SUB-TOTAL BRIDGE	
Delta Contracting Company, LLC Asphalt Paving Systems, Inc.	\$19,840.00 \$40,920.00
SUB-TOTAL ROADWAY ALTERNATE AA1	
Delta Contracting Company, LLC	\$522,432.00
SUB-TOTAL ROADWAY ALTERNATE AA2	
Asphalt Paving Systems, Inc.	\$558,478.00
TOTAL CONTRACT	
Delta Contracting Company, LLC	\$1,486,250.28
Asphalt Paving Systems, Inc.	\$1,712,277.82

HAWKINS COUNTY (Contract No. CNV211 Call 029)

37012-4232-04

THE EMERGENCY ROCKFALL MITIGATION ON S.R. 70 NEAR L.M. 16.20.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JULY 15, 2021

TOTAL CONTRACT

Summers-Taylor, Inc.

\$408,231.50

Southern Constructors, Inc.

\$541,995.00

**EXTENSION** 

UNIT PRICE	
------------	--

ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Summers-Taylor, Inc.		\$12,500.0000	\$12,500.00
	Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Summers-Taylor, Inc.		\$19,500.0000	\$19,500.00
	Southern Constructors, Inc.		\$30,000.0000	\$30,000.00
000.04	DOAD & DDAINAGE EVOLUNATION (UND) ACCUEED)			
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	<b>500.000.0</b> V		
	O T. I. I.	500.000 C.Y.	<b>#475</b> 0000	<b>#07 F00</b> 00
	Summers-Taylor, Inc. Southern Constructors, Inc.		\$175.0000 \$100.0000	\$87,500.00 \$50,000.00
	Southern Constructors, inc.		φ100.0000	φ30,000.00
203-11	SCALING AND TRIMMING			
		1,500.000 S.Y.		
	Summers-Taylor, Inc.	1,500.500 0.11	\$70.0000	\$105,000.00
	Southern Constructors, Inc.		\$150.0000	\$225,000.00
209-03.2	3 FILTER SOCK (24 INCH)			
		100.000 L.F.		
	Summers-Taylor, Inc.		\$57.2500	\$5,725.00
	Southern Constructors, Inc.		\$50.0000	\$5,000.00
209-05	SEDIMENT REMOVAL			
		10.000 C.Y.	<b>.</b>	•
	Summers-Taylor, Inc.		\$175.0000	\$1,750.00
	Southern Constructors, Inc.		\$35.0000	\$350.00
209-08.02	2 TEMPORARY SILT FENCE (WITH BACKING)			
	(,	200.000 L.F.		
	Summers-Taylor, Inc.	2001000 2	\$14.0000	\$2,800.00
	Southern Constructors, Inc.		\$15.0000	\$3,000.00
209-08.08	8 ENHANCED ROCK CHECK DAM			
		2.000 EACH		
	Summers-Taylor, Inc.		\$1,420.0000	\$2,840.00
	Southern Constructors, Inc.		\$750.0000	\$1,500.00
700 05 0	F. MACHINED DID DAD (OLAGO A C)			
709-05.0	5 MACHINED RIP-RAP (CLASS A-3)			
	Current are Tender Inc	50.000 TON	¢4.42.0000	Ф <b>7</b> 450 00
	Summers-Taylor, Inc. Southern Constructors, Inc.		\$143.0000 \$75.0000	\$7,150.00 \$3,750.00
	Country Conductors, mo.		ψι Ο.0000	ψυ, ευυ.υυ
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Summers-Taylor, Inc.		\$27,445.0000	\$27,445.00
	Southern Constructors, Inc.		\$20,000.0000	\$20,000.00
				PAGE

CONTRACT	CNV211
----------	--------

	CON		NTRACT CNV211	
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		655.000 S.F.		
	Summers-Taylor, Inc.		\$9.0000	\$5,895.00
	Southern Constructors, Inc.		\$8.0000	\$5,240.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		60.000 L.F.		
	Summers-Taylor, Inc.		\$12.0000	\$720.00
	Southern Constructors, Inc.		\$20.0000	\$1,200.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Summers-Taylor, Inc.	2.000 27.0.1	\$4,500.0000	\$9,000.00
	Southern Constructors, Inc.		\$4,000.0000	\$8,000.00
717-01	MOBILIZATION			
717-01	MODILIZATION	1.000 LS		
	Summere Toylor Inc	1.000 LS	\$30,000.0000	\$30,000.00
	Summers-Taylor, Inc. Southern Constructors, Inc.		\$50,000.0000	\$50,000.00
	,		,	,
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		86.000 S.Y.		
	Summers-Taylor, Inc.		\$8.7500	\$752.50
	Southern Constructors, Inc.		\$15.0000	\$1,290.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		1.000 TON		
	Summers-Taylor, Inc.		\$1,170.0000	\$1,170.00
	Southern Constructors, Inc.		\$1,500.0000	\$1,500.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	, , ,	175.000 TON		
	Summers-Taylor, Inc.		\$325.0000	\$56,875.00
	Southern Constructors, Inc.		\$275.0000	\$48,125.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		2,640.000 S.Y.		
	Summers-Taylor, Inc.	2,040.000 0.11	\$8.0000	\$21,120.00
	Southern Constructors, Inc.		\$10.0000	\$26,400.00
746 04 04	SNOWDLOWADLE DAISED DAVEMENT MADVED	S (DI DID) (4 COLOD)		
710-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS	3 (БІ-ДІК) (1 COLOK) 14.000 EACH		
	Summers-Taylor, Inc.	14.000 EACH	\$57.0000	\$798.00
	Southern Constructors, Inc.		\$175.0000	\$2,450.00
740 04 00	DEMOVAL OF SNOWDLOWARD F DEFLECTIVE	ADVED		
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MA	ARKER 14.000 EACH		
	Summers-Taylor, Inc.	17.000 EAGI1	\$31.5000	\$441.00
	Southern Constructors, Inc.		\$85.0000	\$1,190.00
	•		•	

CONTRACT CNV211

UNIT PRICE EXTENSION

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)

1.000 L.M.

 Summers-Taylor, Inc.
 \$9,250.000
 \$9,250.00

 Southern Constructors, Inc.
 \$8,000.000
 \$8,000.00

Summers-Taylor, Inc. \$408,231.50 Southern Constructors, Inc. \$541,995.00

## **TOTAL CONTRACT**

Summers-Taylor, Inc. \$408,231.50 Southern Constructors, Inc. \$541,995.00

### HENDERSON COUNTY (Contract No. CNV160 Call 030)

HSIP-200(41),39015-3216-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 200 FROM JOE HORTON ROAD (L.M. 4.79) TO VIRGIL LANE (L.M. 9.92).

PROJECT LENGTH - 5.130 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL CONTRACT

Volunteer Paving, LLC \$176,859.14
Superior Traffic Control, LLC \$189,021.49
LU, Inc. \$209,452.93

		CC	NTRACT CNV160
DOADWAY CATEGODY		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT			
	4.000 EACH		
Volunteer Paving, LLC		\$1,560.0000	\$6,240.00
Superior Traffic Control, LLC LU, Inc.		\$1,800.0000 \$1,560.0000	\$7,200.00 \$6,240.00
		Ψ1,000.0000	ψο,2 10.00
705-04.21 GUARDRAIL DELINEATION ENHANCEMENT			
Valunta an Basin a. I.I.O.	430.000 L.F.	<b>#4.0000</b>	<b>#4.040.00</b>
Volunteer Paving, LLC Superior Traffic Control, LLC		\$4.2300 \$2.9500	\$1,818.90 \$1,268.50
LU, Inc.		\$4.2300 \$4.2300	\$1,268.50 \$1,818.90
20, 1110.		Ψ2000	ψ1,010.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Volunteer Paving, LLC		\$1,000.0000	\$1,000.00
Superior Traffic Control, LLC		\$8,000.0000	\$8,000.00 \$5,000.00
LU, Inc.		\$5,000.0000	\$5,000.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)			
	18.000 EACH		
Volunteer Paving, LLC		\$57.0000	\$1,026.00
Superior Traffic Control, LLC		\$36.0000	\$648.00
LU, Inc.		\$54.1300	\$974.34
713-02.20 ROADSIDE OBSTACLE DELINEATION			
	125.600 S.F.		
Volunteer Paving, LLC		\$20.0000	\$2,512.00
Superior Traffic Control, LLC		\$16.0000	\$2,009.60
LU, Inc.		\$24.1600	\$3,034.50
713-02.21 SIGN POST DELINEATION ENHANCEMENT			
	275.000 L.F.		
Volunteer Paving, LLC		\$18.5500	\$5,101.25
Superior Traffic Control, LLC		\$5.5000	\$1,512.50
LU, Inc.		\$6.0500	\$1,663.75
713-11.01 "U" SECTION STEEL POSTS			
	805.000 LB.		
Volunteer Paving, LLC		\$5.5800	\$4,491.90
Superior Traffic Control, LLC		\$4.5000	\$3,622.50
LU, Inc.		\$7.6400	\$6,150.20
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	418.870 LB.		
Volunteer Paving, LLC		\$6.4600	\$2,705.90
Superior Traffic Control, LLC		\$4.7500	\$1,989.63
LU, Inc.		\$8.4700	\$3,547.83

			CONTRACT CNV160
		UNIT PRICE	EXTENSION
713-11.21 P POST SLIP BASE			
713-11.21 P POST SLIP BASE	40 000 54 011		
	13.000 EACH		
Volunteer Paving, LLC		\$539.0000	\$7,007.00
Superior Traffic Control, LLC		\$425.0000	\$5,525.00
LU, Inc.		\$516.9700	\$6,720.61
713-11.22 U POST SLIP BASE			
	24.000 EACH		
Volunteer Paving, LLC		\$539.0000	\$12,936.00
Superior Traffic Control, LLC		\$350.0000	\$8,400.00
LU, Inc.		\$516.9700	\$12,407.28
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
713-13.02 FEAT SHEET ALDMINOM SIGNS (0.000 THICK)			
	398.560 S.F.		
Volunteer Paving, LLC		\$17.0400	\$6,791.46
Superior Traffic Control, LLC		\$13.4500	\$5,360.63
LU, Inc.		\$12.7000	\$5,061.71
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	329.000 S.F.		
Volunteer Paving, LLC		\$17.8500	\$5,872.65
Superior Traffic Control, LLC		\$14.4500	\$4,754.05
LU, Inc.		\$13.4600	\$4,428.34
713-13.14 FLORESCENT YELLOW SIGN SHEETING			

713-11.21 P POST SLIP B/	49E			
		13.000 EACH		
Volunteer Pavir	ng LLC		\$539.0000	\$7,007.00
Superior Traffic	•		\$425.0000	\$5,525.00
<del>-</del>	Control, LLC			
LU, Inc.			\$516.9700	\$6,720.61
713-11.22 U POST SLIP B	ASE			
		24.000 EACH		
Volunteer Pavir	ng, LLC		\$539.0000	\$12,936.00
Superior Traffic			\$350.0000	\$8,400.00
LU, Inc.	Jonas, 220		\$516.9700	\$12,407.28
20, 1110.			φο τοιο το σ	Ψ12, 107.20
713-13 02 ELAT SHEET AL	LUMINUM SIGNS (0.080" THICK)			
713-13.02 TEAT SHEET AL	LOWING SIGNS (0.000 Trilox)			
		398.560 S.F.		
Volunteer Pavir			\$17.0400	\$6,791.46
Superior Traffic	Control, LLC		\$13.4500	\$5,360.63
LU, Inc.			\$12.7000	\$5,061.71
713-13.03 FLAT SHEET AL	LUMINUM SIGNS (0.100" THICK)			
		329.000 S.F.		
Volunteer Pavir	og LLC	020.000 0	\$17.8500	\$5,872.65
	•		·	
Superior Traffic	Control, LLC		\$14.4500	\$4,754.05
LU, Inc.			\$13.4600	\$4,428.34
713-13.14 FLORESCENT \	'ELLOW SIGN SHEETING			
		571.500 S.F.		
Volunteer Pavir	ıg, LLC		\$9.9200	\$5,669.28
Superior Traffic	Control, LLC		\$11.0000	\$6,286.50
LU, Inc.			\$9.6900	\$5,537.84
,				, ,
716-01.21 SNOWPLOWAB	LE RAISED PAVEMENT MARKERS (BI-DIR) (	1 COLOR)		
		573.000 EACH		
Valoreta en Barrin		573.000 EACH	<b>#00.000</b>	<b>C40 044 00</b>
Volunteer Pavir	_		\$28.0000	\$16,044.00
Superior Traffic	Control, LLC		\$30.9000	\$17,705.70
LU, Inc.			\$35.8800	\$20,559.24
716-02.04 PLASTIC PAVE	MENT MARKING(CHANNELIZATION STRIPING	G)		
		447.600 S.Y.		
Volunteer Pavir	ng LLC		\$20.0000	\$8,952.00
Superior Traffic	<del>-</del>		\$20.6000	\$9,220.56
LU, Inc.	Control, LLC		\$25.6300	\$11,471.99
LO, IIIC.			Ψ23.0300	φ11,471.99
716-02.05 DI ASTIC DAVE	MENT MADKING (STOP LINE)			
110-02.03 FLASHIC FAVE	MENT MARKING (STOP LINE)			
		136.000 L.F.		
Volunteer Pavir	-		\$15.0000	\$2,040.00
Superior Traffic	Control, LLC		\$15.4500	\$2,101.20
LU, Inc.			\$15.3800	\$2,091.68

710 11.21	1 TOOT OLIN BAGE			
		13.000 EACH		
	Volunteer Paving, LLC		\$539.0000	\$7,007.00
	Superior Traffic Control, LLC		\$425.0000	\$5,525.00
	·		•	
	LU, Inc.		\$516.9700	\$6,720.61
713-11.22	U POST SLIP BASE			
		24.000 EACH		
		24.000 EACH		
	Volunteer Paving, LLC		\$539.0000	\$12,936.00
	Superior Traffic Control, LLC		\$350.0000	\$8,400.00
	LU, Inc.		\$516.9700	\$12,407.28
712_12 02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
113-13.02	PLAT STILLT ALOMINOM SIGNS (0.000 THICK)			
		398.560 S.F.		
	Volunteer Paving, LLC		\$17.0400	\$6,791.46
	Superior Traffic Control, LLC		\$13.4500	\$5,360.63
	LU, Inc.		\$12.7000	\$5,061.71
	LO, IIIC.		Ψ12.7000	ψ3,001.71
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		329.000 S.F.		
	Valuateer Devine LLC	020.000 0	<b>047.0500</b>	ФГ 070 CГ
	Volunteer Paving, LLC		\$17.8500	\$5,872.65
	Superior Traffic Control, LLC		\$14.4500	\$4,754.05
	LU, Inc.		\$13.4600	\$4,428.34
713-13 14	FLORESCENT YELLOW SIGN SHEETING			
713-13.14	TECKLOOLIN TELLOW GION GITELTING			
		571.500 S.F.		
	Volunteer Paving, LLC		\$9.9200	\$5,669.28
	Superior Traffic Control, LLC		\$11.0000	\$6,286.50
	LU, Inc.		\$9.6900	\$5,537.84
	LO, IIIO.		ψ3.0300	ψο,σον.σ-
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	DLOR)		
		573.000 EACH		
	Volunteer Paving, LLC		\$28.0000	\$16,044.00
	Superior Traffic Control, LLC		\$30.9000	\$17,705.70
	•		•	
	LU, Inc.		\$35.8800	\$20,559.24
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		447.600 S.Y.		
		447.000 3.1.		
	Volunteer Paving, LLC		\$20.0000	\$8,952.00
	Superior Traffic Control, LLC		\$20.6000	\$9,220.56
	LU, Inc.		\$25.6300	\$11,471.99
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
1 10-02.03	I LACTIO I AVENIENT MANAMING (STOP LINE)			
		136.000 L.F.		
	Volunteer Paving, LLC		\$15.0000	\$2,040.00
	Superior Traffic Control, LLC		\$15.4500	\$2,101.20
	LU, Inc.		\$15.3800	\$2,091.68
	LO, IIIO.		φ13.3000	ΨΖ,ΟΘΙ.ΟΟ

			CONTRACT CNV160
		UNIT PRICE	EXTENSION
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
·	1.000 EACH		
Volunteer Paving, LLC	11000 = 71011	\$400.0000	\$400.00
Superior Traffic Control, LLC		\$1,030.0000	\$1,030.00
LU, Inc.		\$615.0000	\$615.00
716-03.09 PLASTIC WORD PAVEMENT MARKING (NO PARKING)			
THO GO.GO T EACHO WORD T AVEINENT INJUNION (NO TANGING)	1.000 EACH		
Volunteer Paving, LLC	1.000 EAGH	\$250.0000	\$250.00
Superior Traffic Control, LLC		\$1,287.5000	\$250.00 \$1,287.50
LU, Inc.		\$717.5000	\$717.50
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	62.600 L.F.		
Volunteer Paving, LLC		\$8.0000	\$500.80
Superior Traffic Control, LLC		\$8.2400	\$515.82
LU, Inc.		\$7.1800	\$449.47
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)			
	120.000 L.F.		
Volunteer Paving, LLC		\$15.0000	\$1,800.00
Superior Traffic Control, LLC		\$25.7500	\$3,090.00
LU, Inc.		\$2.0500	\$246.00
716-12.01 ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
,	21.900 L.M.		
Volunteer Paving, LLC		\$3,000.0000	\$65,700.00
Superior Traffic Control, LLC		\$3,502.0000	\$76,693.80
LU, Inc.		\$4,202.5000	\$92,034.75
717-01 MOBILIZATION			
THE MODILIZATION	1.000 LS		
Volunteer Paving, LLC	1.000 L3	\$5,000.0000	\$5,000.00
Superior Traffic Control, LLC		\$6,000.0000	\$6,000.00
LU, Inc.		\$5,500.0000	\$5,500.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2	4 000 54 011		
Valuateer Device III C	4.000 EACH	<b>#0.050.000</b>	<b>#40.000.00</b>
Volunteer Paving, LLC		\$3,250.0000	\$13,000.00
Superior Traffic Control, LLC		\$3,700.0000	\$14,800.00 \$13,183,00
LU, Inc.		\$3,295.5000	\$13,182.00

Volunteer Paving, LLC	\$176,859.14
Superior Traffic Control, LLC	\$189,021.49
LU, Inc.	\$209,452.93

# TOTAL CONTRACT

Volunteer Paving, LLC	\$176,859.14
Superior Traffic Control, LLC	\$189,021.49
LU, Inc.	\$209,452.93

### HENDERSON COUNTY (Contract No. CNV135 Call 031)

STP-EN-NH-22(89),39004-3231-14

THE CONSTRUCTION OF PEDESTRIAN FACILITIES ON S.R. 22 FROM BROWN STREET (L.M. 11.94) TO JANE LANE (L.M. 12.62).

PROJECT LENGTH - 0.600 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.50%

TOTAL CONTRACT

 Thomson & Thomson, Inc.
 \$814,041.65

 J. M. Duncan, Inc.
 \$948,624.25

 Ford Construction Company
 \$969,134.20

 Delta Contracting Company, LLC
 \$1,082,191.25

			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	, , , , , , , , , , , , , , , , , , , ,	1.000 LS		
	Thomson & Thomson, Inc.	1.000 20	\$24,000.0000	\$24,000.00
	J. M. Duncan, Inc.		\$20,000.0000	\$20,000.00
	Ford Construction Company		\$18,400.0000	\$18,400.00
	Delta Contracting Company, LLC		\$35,000.0000	\$35,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Thomson & Thomson, Inc.		\$16,000.0000	\$16,000.00
	J. M. Duncan, Inc.		\$15,000.0000	\$15,000.00
	Ford Construction Company		\$9,800.0000	\$9,800.00
	Delta Contracting Company, LLC		\$40,000.0000	\$40,000.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Thomson & Thomson, Inc.		\$60,000.0000	\$60,000.00
	J. M. Duncan, Inc.		\$60,000.0000	\$60,000.00
	Ford Construction Company		\$72,300.0000	\$72,300.00
	Delta Contracting Company, LLC		\$45,000.0000	\$45,000.00
203-01.00	6 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		1.000 LS		
	Thomson & Thomson, Inc.		\$46,000.0000	\$46,000.00
	J. M. Duncan, Inc.		\$75,000.0000	\$75,000.00
	Ford Construction Company		\$63,300.0000	\$63,300.00
	Delta Contracting Company, LLC		\$186,000.0000	\$186,000.00
203-06	WATER			
		6.000 M.G.		
	Thomson & Thomson, Inc.		\$40.0000	\$240.00
	J. M. Duncan, Inc.		\$50.0000	\$300.00
	Ford Construction Company		\$90.0000	\$540.00
	Delta Contracting Company, LLC		\$1.0000	\$6.00
203-07	FURNISHING & SPREADING TOPSOIL			
		296.000 C.Y.		
	Thomson & Thomson, Inc.		\$58.0000	\$17,168.00
	J. M. Duncan, Inc.		\$50.0000	\$14,800.00
	Ford Construction Company		\$36.0000	\$10,656.00
	Delta Contracting Company, LLC		\$60.0000	\$17,760.00
204-06.0°	1 FLOWABLE FILL (GENERAL)			
		45.000 C.Y.		
	Thomson & Thomson, Inc.		\$275.0000	\$12,375.00
	J. M. Duncan, Inc.		\$300.0000	\$13,500.00
	Ford Construction Company		\$390.0000	\$17,550.00
	Delta Contracting Company, LLC		\$400.0000	\$18,000.00

		UNIT PRICE	EXTENSION
200 02 20	FILTER SOCK (6 INCL)		
209-03.20	FILTER SOCK (8 INCH)	2,701.000 L.F.	
	Thomson & Thomson, Inc.	\$6.0000	\$16,206.00
	J. M. Duncan, Inc.	\$12.5000	\$33,762.50
	Ford Construction Company	\$10.5000	\$28,360.50
	Delta Contracting Company, LLC	\$12.0000	\$32,412.00
209-05	SEDIMENT REMOVAL		
		7.000 C.Y.	
	Thomson & Thomson, Inc.	\$110.0000	\$770.00
	J. M. Duncan, Inc.	\$50.0000	\$350.00
	Ford Construction Company	\$35.0000	\$245.00
	Delta Contracting Company, LLC	\$300.0000	\$2,100.00
	Dona Community Company, 220	4000.0000	ψ2,100.00
209-09.43	CURB INLET PROTECTION (TYPE 4)		
		6.000 EACH	
	Thomson & Thomson, Inc.	\$380.0000	\$2,280.00
	J. M. Duncan, Inc.	\$550.0000	\$3,300.00
	Ford Construction Company	\$475.0000	\$2,850.00
	Delta Contracting Company, LLC	\$700.0000	\$4,200.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
		536.000 TON	
	Thomson & Thomson, Inc.	\$48.0000	\$25,728.00
	J. M. Duncan, Inc.	\$28.0000	\$15,008.00
	Ford Construction Company	\$41.0000	\$21,976.00
	Delta Contracting Company, LLC	\$60.0000	\$32,160.00
	20.00 Co	<b>*********</b>	ψοΞ, ισσίσσ
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
		38.000 TON	
	Thomson & Thomson, Inc.	\$265.0000	\$10,070.00
	J. M. Duncan, Inc.	\$325.0000	\$12,350.00
	Ford Construction Company	\$280.0000	\$10,640.00
	Delta Contracting Company, LLC	\$265.0000	\$10,070.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT		
		520.000 L.F.	
	Thomson & Thomson, Inc.	\$4.0000	\$2,080.00
	J. M. Duncan, Inc.	\$10.0000	\$5,200.00
	Ford Construction Company	\$13.0000	\$6,760.00
	Delta Contracting Company, LLC	\$8.0000	\$4,160.00
444 04 40	AGG MIV/POCA GGV OR ARING R		
411-01.10	ACS MIX(PG64-22) GRADING D	79.000 TON	
	Thomson & Thomson, Inc.		¢10.255.00
		\$245.0000 \$300.0000	\$19,355.00 \$23,700.00
	J. M. Duncan, Inc. Ford Construction Company	\$300.0000 \$358.0000	\$23,700.00
	· · ·	\$258.0000 \$245.0000	\$20,382.00 \$10,355.00
	Delta Contracting Company, LLC	\$245.0000	\$19,355.00

			C	ONINACI CIVISS
			UNIT PRICE	EXTENSION
701-01.01	CONCRETE SIDEWALK (4 ")			
		13,541.000 S.F.		
	Thomson & Thomson, Inc.	·	\$8.6500	\$117,129.65
	J. M. Duncan, Inc.		\$13.0000	\$176,033.00
	Ford Construction Company		\$10.5000	\$142,180.50
	Delta Contracting Company, LLC		\$9.0000	\$121,869.00
701-02	CONCRETE DRIVEWAY			
		7,967.000 S.F.		
	Thomson & Thomson, Inc.		\$11.2500	\$89,628.75
	J. M. Duncan, Inc.		\$10.0000	\$79,670.00
	Ford Construction Company		\$17.0000	\$135,439.00
	Delta Contracting Company, LLC		\$13.0000	\$103,571.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		40.000 S.F.		
	Thomson & Thomson, Inc.		\$50.0000	\$2,000.00
	J. M. Duncan, Inc.		\$40.0000	\$1,600.00
	Ford Construction Company		\$40.0000	\$1,600.00
	Delta Contracting Company, LLC		\$42.0000	\$1,680.00
701-02.03	CONCRETE CURB RAMP			
		423.000 S.F.		
	Thomson & Thomson, Inc.		\$37.5000	\$15,862.50
	J. M. Duncan, Inc.		\$32.0000	\$13,536.00
	Ford Construction Company		\$21.0000	\$8,883.00
	Delta Contracting Company, LLC		\$20.0000	\$8,460.00
702-01	CONCRETE CURB			
		2.000 C.Y.		
	Thomson & Thomson, Inc.		\$900.0000	\$1,800.00
	J. M. Duncan, Inc.		\$1,000.0000	\$2,000.00
	Ford Construction Company		\$1,000.0000	\$2,000.00
	Delta Contracting Company, LLC		\$950.0000	\$1,900.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		64.000 C.Y.		
	Thomson & Thomson, Inc.		\$800.0000	\$51,200.00
	J. M. Duncan, Inc.		\$1,015.0000	\$64,960.00
	Ford Construction Company		\$960.0000	\$61,440.00
	Delta Contracting Company, LLC		\$775.0000	\$49,600.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
		2.000 EACH		
	Thomson & Thomson, Inc.		\$475.0000	\$950.00
	J. M. Duncan, Inc.		\$350.0000	\$700.00
	Ford Construction Company		\$250.0000	\$500.00
	Delta Contracting Company, LLC		\$2,000.0000	\$4,000.00

			-	
			UNIT PRICE	EXTENSION
709-05.05 MACHINE	ED RIP-RAP (CLASS A-3)			
	,	1.000 TON		
Thomson	& Thomson, Inc.	1.000 1011	\$84.0000	\$84.00
J. M. Dur			\$100.0000	\$100.00
	estruction Company		\$50.0000	\$50.00
	ntracting Company, LLC		\$550.0000	\$550.00
Delia Coi	illacting Company, LLC		φ330.0000	ψ330.00
712-01 TRAFFIC	CONTROL			
712 01 INALLIO	CONTROL	1.000 LS		
Thomasn	9 Thomasa Inc	1.000 L3	¢49,000,0000	¢49,000,00
	& Thomson, Inc.		\$18,000.0000	\$18,000.00
J. M. Dur			\$30,000.0000	\$30,000.00
	struction Company		\$36,000.0000	\$36,000.00
Delta Cor	ntracting Company, LLC		\$62,000.0000	\$62,000.00
742.04.04 ELEVIDLE	E DDI IMO (CHANNEL IZINO)			
712-04.01 FLEXIBLE	E DRUMS (CHANNELIZING)	40.000 54.011		
		43.000 EACH	<b>.</b>	
	& Thomson, Inc.		\$28.0000	\$1,204.00
J. M. Dur			\$35.0000	\$1,505.00
	struction Company		\$30.0000	\$1,290.00
Delta Cor	ntracting Company, LLC		\$40.0000	\$1,720.00
740.00 010110.00	ONOTRI IOTIONI)			
712-06 SIGNS (C	ONSTRUCTION)			
		328.000 S.F.		
	& Thomson, Inc.		\$6.2500	\$2,050.00
J. M. Dur			\$8.0000	\$2,624.00
	struction Company		\$7.0000	\$2,296.00
Delta Cor	ntracting Company, LLC		\$10.0000	\$3,280.00
740 00 00 ADDOW	COARD (TYPE O)			
712-08.03 ARROW I	BOARD (TYPE C)			
		1.000 EACH		
Thomson	& Thomson, Inc.		\$850.0000	\$850.00
J. M. Dur			\$1,050.0000	\$1,050.00
	struction Company		\$900.0000	\$900.00
Delta Cor	ntracting Company, LLC		\$2,500.0000	\$2,500.00
740 44 04          0507	TON OTES, DOOTS			
713-11.01 "U" SECT	ION STEEL POSTS			
		143.000 LB.		
	& Thomson, Inc.		\$4.0000	\$572.00
J. M. Dur			\$5.0000	\$715.00
	struction Company		\$4.2000	\$600.60
Delta Cor	ntracting Company, LLC		\$4.0000	\$572.00
/13-11.02 PERFOR/	ATED/KNOCKOUT SQUARE TUBE POST			
_		257.000 LB.	_	_
	& Thomson, Inc.		\$4.2500	\$1,092.25
J. M. Dur			\$5.2000	\$1,336.40
	struction Company		\$4.5000	\$1,156.50
Delta Cor	ntracting Company, LLC		\$4.2500	\$1,092.25

	UNIT PRICE	EXTENSION
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
22.000 S.F.		
Thomson & Thomson, Inc.	\$14.0000	\$308.00
J. M. Duncan, Inc.	\$17.1000	\$376.20
Ford Construction Company	\$15.0000	\$330.00
Delta Contracting Company, LLC	\$14.0000	\$308.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
63.000 S.F.		
Thomson & Thomson, Inc.	\$16.0000	\$1,008.00
J. M. Duncan, Inc.	\$19.5500	\$1,231.65
Ford Construction Company	\$17.0000	\$1,071.00
Delta Contracting Company, LLC	\$16.0000	\$1,008.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT		
1.000 EACH		
Thomson & Thomson, Inc.	\$3,950.0000	\$3,950.00
J. M. Duncan, Inc.	\$5,000.0000	\$5,000.00
Ford Construction Company	\$4,150.0000	\$4,150.00
Delta Contracting Company, LLC	\$4,150.0000	\$4,150.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
45.000 L.F.		
Thomson & Thomson, Inc.	\$20.0000	\$900.00
J. M. Duncan, Inc.	\$25.0000	\$1,125.00
Ford Construction Company	\$21.0000	\$945.00
Delta Contracting Company, LLC	\$20.0000	\$900.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
136.000 L.F.		
Thomson & Thomson, Inc.	\$31.0000	\$4,216.00
J. M. Duncan, Inc.	\$38.0000	\$5,168.00
Ford Construction Company	\$32.5000	\$4,420.00
Delta Contracting Company, LLC	\$31.0000	\$4,216.00
716-08.03 REMOVAL OF PAVEMENT MARKING (CROSS-WALK)		
55.000 L.F.		
Thomson & Thomson, Inc.	\$10.0000	\$550.00
J. M. Duncan, Inc.	\$12.2000	\$671.00
Ford Construction Company	\$10.5000	\$577.50
Delta Contracting Company, LLC	\$10.0000	\$550.00
716-08.05 REMOVAL OF PAVEMENT MARKING (STOP LINE)		
16.000 L.F.		
Thomson & Thomson, Inc.	\$12.0000	\$192.00
J. M. Duncan, Inc.	\$15.0000	\$240.00
Ford Construction Company	\$12.6000	\$201.60
Delta Contracting Company, LLC	\$12.0000	\$192.00
	•	,

				CONTRAC	CINVISS
			UNIT PRICE	EX	TENSION
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)				
		0.600 L.M.			
	Thomson & Thomson, Inc.	3.333 <u>-</u>	\$8,500.0000	\$	5,100.00
	J. M. Duncan, Inc.		\$10,500.0000		6,300.00
	Ford Construction Company		\$9,000.0000		5,400.00
	Delta Contracting Company, LLC		\$8,500.0000		55,100.00
717-01	MOBILIZATION				
		1.000 LS			
	Thomson & Thomson, Inc.		\$75,000.0000	\$7	5,000.00
	J. M. Duncan, Inc.		\$60,000.0000		0,000.00
	Ford Construction Company		\$88,800.0000	\$8	88,800.00
	Delta Contracting Company, LLC		\$59,000.0000	\$5	59,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)				
		75.000 S.Y.			
	Thomson & Thomson, Inc.		\$14.0000	\$	31,050.00
	J. M. Duncan, Inc.		\$5.0000		\$375.00
	Ford Construction Company		\$5.0000		\$375.00
	Delta Contracting Company, LLC		\$10.0000		\$750.00
801-03	WATER (SEEDING & SODDING)				
		23.000 M.G.			
	Thomson & Thomson, Inc.		\$40.0000		\$920.00
	J. M. Duncan, Inc.		\$60.0000	\$	31,380.00
	Ford Construction Company		\$53.0000	\$	51,219.00
	Delta Contracting Company, LLC		\$50.0000	\$	51,150.00
801-08	FERTILIZER (SUPPLEMENTAL APPLICATION)				
		1.000 TON			
	Thomson & Thomson, Inc.		\$850.0000		\$850.00
	J. M. Duncan, Inc.		\$1,250.0000	\$	31,250.00
	Ford Construction Company		\$1,100.0000	\$	51,100.00
	Delta Contracting Company, LLC		\$1,000.0000	\$	51,000.00
803-01	SODDING (NEW SOD)				
		1,775.000 S.Y.			
	Thomson & Thomson, Inc.		\$5.5000	\$	9,762.50
	J. M. Duncan, Inc.		\$12.5000	\$2	2,187.50
	Ford Construction Company		\$11.0000	\$1	9,525.00
	Delta Contracting Company, LLC		\$10.0000	\$1	7,750.00

	UNIT PRICE	EXTENSION
UTILITY CATEGORY		
791-02.02 2IN MDPE GAS MAIN		
	1,080.000 L.F.	<b>.</b>
Thomson & Thomson, Inc.	\$48.0000	\$51,840.00
J. M. Duncan, Inc.	\$74.0000	\$79,920.00
Ford Construction Company	\$50.0000	\$54,000.00
Delta Contracting Company, LLC	\$70.0000	\$75,600.00
791-06.02 CONNECT TO 2IN EX. PE MAIN		
	11.000 EACH	
Thomson & Thomson, Inc.	\$5,000.0000	\$55,000.00
J. M. Duncan, Inc.	\$2,600.0000	\$28,600.00
Ford Construction Company	\$5,250.0000	\$57,750.00
Delta Contracting Company, LLC	\$3,000.0000	\$33,000.00
791-08.07 3/4IN PE SERVICE PIPE		
	100.000 L.F.	
Thomson & Thomson, Inc.	\$60.0000	\$6,000.00
J. M. Duncan, Inc.	\$25.0000	\$2,500.00
Ford Construction Company	\$63.0000	\$6,300.00
Delta Contracting Company, LLC	\$25.0000	\$2,500.00
791-08.40 RECONNECT SERVICE ASSEMBLY		
70.00.10 11.200.11.20.10.21.00.21.00.21.	4.000 EACH	
Thomson & Thomson, Inc.	\$2,500.0000	\$10,000.00
J. M. Duncan, Inc.	\$2,000.0000	\$8,000.00
Ford Construction Company	\$2,625.0000	\$10,500.00
Delta Contracting Company, LLC	\$2,000.0000	\$8,000.00
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY		
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY	17.000 EACH	
Thomson & Thomson, Inc.	\$1,500.0000	\$25,500.00
J. M. Duncan, Inc.	\$2,600.0000	\$44,200.00
Ford Construction Company	\$1,575.0000	\$26,775.00
Delta Contracting Company, LLC	\$2,000.0000	\$34,000.00
795-09.14 3/4IN HDPE SERVICE PIPE	400.000 L.F.	
Thomson 0 Thomson land		Ф <b>7</b> 000 00
Thomson & Thomson, Inc.	\$18.0000	\$7,200.00
J. M. Duncan, Inc.	\$30.0000	\$12,000.00
Ford Construction Company	\$19.0000 \$60.0000	\$7,600.00 \$34,000.00
Delta Contracting Company, LLC	\$60.0000	\$24,000.00

Thomson & Thomson, Inc.	\$658,501.65
J. M. Duncan, Inc.	\$773,404.25
Ford Construction Company	\$806,209.20
Delta Contracting Company, LLC	\$905,091.25

# **SUB-TOTAL UTILITY**

Thomson & Thomson, Inc.	\$155,540.00
J. M. Duncan, Inc.	\$175,220.00
Ford Construction Company	\$162,925.00
Delta Contracting Company, LLC	\$177,100.00

### **TOTAL CONTRACT**

Thomson & Thomson, Inc.	\$814,041.65
J. M. Duncan, Inc.	\$948,624.25
Ford Construction Company	\$969,134.20
Delta Contracting Company, LLC	\$1,082,191.25

## HICKMAN COUNTY (Contract No. CNV161 Call 032)

HSIP-100(91),41010-3223-94,41010-4223-04

THE RESURFACING ON S.R. 100 FROM S.R. 48 (L.M. 14.90) TO PRIMM SPRINGS ROAD (L.M. 21.29).

PROJECT LENGTH - 6.390 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 4.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.

\$758,468.50

\$818,975.75

			CC	ONTRACT CNV161
BOADW.	AY CATEGORY		UNIT PRICE	EXTENSION
ROADW	AT CATEGORY			
208-01.05	5 BROOMING & DEGRASSING SHOULDERS			
		12.800 L.M.		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$750.0000 \$800.0000	\$9,600.00 \$10,240.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,691.000 TON		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$20.0000 \$20.7500	\$33,820.00 \$35,088.25
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		52.000 TON		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$450.0000 \$575.0000	\$23,400.00 \$29,900.00
411-03.12	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		5,007.000 TON		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$78.0000 \$82.0000	\$390,546.00 \$410,574.00
	refinessee valley raving Co., inc.		φο2.0000	φ410,574.00
411-12.03	3 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN	•		
		10.200 L.M.	<b>*</b>	
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$400.0000 \$690.0000	\$4,080.00 \$7,038.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		4,610.000 TON		
	Eubank Asphalt Paving & Sealing		\$14.0000	\$64,540.00
	Tennessee Valley Paving Co., Inc.		\$17.7500	\$81,827.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		3.000 EACH		
	Eubank Asphalt Paving & Sealing		\$250.0000	\$750.00
	Tennessee Valley Paving Co., Inc.		\$1,600.0000	\$4,800.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$9,000.00
	Tennessee Valley Paving Co., Inc.		\$3,100.0000	\$9,300.00
706-01	GUARDRAIL REMOVED			
		150.000 L.F.		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$2.0000 \$3.0000	\$300.00 \$450.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$11,000.0000 \$12,900.0000	\$11,000.00 \$12,900.00
			ψ. <u>-</u> ,000.000	
				PAGE

				CONTRACT CNV161
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	05 000 54 011		
	Eubank Asphalt Paving & Sealing	25.000 EACH	\$5.0000	\$125.00
	Tennessee Valley Paving Co., Inc.		\$28.0000	\$700.00
	· ·			
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH	<b>#</b> = 0000	<b>#</b> 00.00
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$5.0000 \$10.0000	\$20.00 \$40.00
	Termessee valley Laving Co., Inc.		Ψ10.0000	ψ+0.00
712-06	SIGNS (CONSTRUCTION)			
		1,703.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$7.0000	\$11,921.00
	Tennessee Valley Paving Co., Inc.		\$7.0000	\$11,921.00
712-08.03	ARROW BOARD (TYPE C)			
	,	1.000 EACH		
	Eubank Asphalt Paving & Sealing		\$1,000.0000	\$1,000.00
	Tennessee Valley Paving Co., Inc.		\$1,000.0000	\$1,000.00
712 02 14	ELEVIDI E DELINEATOR (MULTE)			
713-02.14	FLEXIBLE DELINEATOR (WHITE)	7.000 EACH		
	Eubank Asphalt Paving & Sealing	7.000 EACH	\$100.0000	\$700.00
	Tennessee Valley Paving Co., Inc.		\$75.0000	\$525.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DI			
	Fuhank Asphalt Daving & Casling	422.000 EACH	¢24.0000	¢40,420,00
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$24.0000 \$28.0000	\$10,128.00 \$11,816.00
	3 · · · · · · · · · · · · · · · · · · ·		•	, , , , , , , , , ,
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO	-DIR)(1 COLOR)		
		26.000 EACH		
	Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.		\$24.0000 \$28.0000	\$624.00 \$728.00
	Termessee valley Faving Co., Inc.		\$20.0000	\$720.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		132.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$12.0000	\$1,584.00
	Tennessee Valley Paving Co., Inc.		\$20.0000	\$2,640.00
716-02 06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
110 02.00	. E.G. 13 FATEMENT MANAGEMENT (1011)	1.000 EACH		
	Eubank Asphalt Paving & Sealing		\$175.0000	\$175.00
	Tennessee Valley Paving Co., Inc.		\$200.0000	\$200.00
		>		
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULD	ER)		

2,022.000 L.F.

Eubank Asphalt Paving & Sealing

Tennessee Valley Paving Co., Inc.

\$6,571.50

\$8,088.00

\$3.2500

\$4.0000

	CONTRACT CNV161
UNIT PRICE	EXTENSION
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)	
2.000 EACH	
Eubank Asphalt Paving & Sealing \$220.0000	\$440.00
Tennessee Valley Paving Co., Inc. \$400.0000	\$800.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)	
24.400 L.M.	
Eubank Asphalt Paving & Sealing \$860.0000	\$20,984.00
Tennessee Valley Paving Co., Inc. \$1,000.0000	\$24,400.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	
24,200 L.M.	
Eubank Asphalt Paving & Sealing \$4,800.0000	\$116,160.00
Tennessee Valley Paving Co., Inc. \$5,000.0000	\$121,000.00
717-01 MOBILIZATION	
1.000 LS	
Eubank Asphalt Paving & Sealing \$28,000.0000	\$28,000.00
Tennessee Valley Paving Co., Inc. \$18,000.0000	\$18,000.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2	

Eubank Asphalt Paving & Sealing Tennessee Valley Paving Co., Inc.

200.000 TON

\$13,000.00

\$15,000.00

\$65.0000 \$75.0000

Eubank Asphalt Paving & Sealing \$758,468.50
Tennessee Valley Paving Co., Inc. \$818,975.75

## **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing \$758,468.50
Tennessee Valley Paving Co., Inc. \$818,975.75

\$2,505,184.00

JOHNSON COUNTY (Contract No. CNV162 Call 033)

HSIP-34(126),46001-3223-94,46001-4223-04

THE RESURFACING ON U.S. 421 (S.R. 34) FROM NEAR S.R. 91 (L.M. 12.90) TO NEAR ROAN CREEK (L.M. 17.78).

PROJECT LENGTH - 4.880 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 5.00%

Maymead, Inc.

TOTAL CONTRACT

ROADWAY CATEGORY		UNIT PRICE	CONTRACT CNV162 EXTENSION
208-01.05 BROOMING & DEGRASSING SHOULDERS			
Maymead, Inc.	10.000 L.M.	\$1,600.0000	\$16,000.00
307-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
Maymead, Inc.	1,763.000 TON	\$125.0000	\$220,375.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)	00 000 TON		
Maymead, Inc.	80.000 TON	\$890.0000	\$71,200.00
411-02.10 ACS MIX(PG70-22) GRADING D			
Maymead, Inc.	11,754.000 TON	\$115.0000	\$1,351,710.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (			
Maymead, Inc.	3.000 L.M.	\$1,400.0000	\$4,200.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
Maymead, Inc.	37,534.000 S.Y.	\$3.5000	\$131,369.00
701-01.02 CONCRETE SIDEWALK (6 ")			
Maymead, Inc.	100.000 S.F.	\$30.0000	\$3,000.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)			
Maymead, Inc.	5,100.000 S.F.	\$45.0000	\$229,500.00
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN			
Maymead, Inc.	1.000 EACH	\$525.0000	\$525.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL-3			
Maymead, Inc.	1.000 EACH	\$1,675.0000	\$1,675.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
Maymead, Inc.	1.000 EACH	\$4,000.0000	\$4,000.00
712-01 TRAFFIC CONTROL			
	1.000 LS	<b>#</b> 400.000.000	<b>#</b> 400.000.55

Maymead, Inc.

\$130,000.00

\$130,000.0000

			UNIT PRICE	CONTRACT CNV162  EXTENSION
	FLEXIBLE DRUMS (CHANNELIZING)  Maymead, Inc.  WARNING LIGHTS (TYPE A)	364.000 EACH	\$25.0000	\$9,100.00
712-06	Maymead, Inc.  SIGNS (CONSTRUCTION)	182.000 EACH	\$15.0000	\$2,730.00
712.08.03	Maymead, Inc.  ARROW BOARD (TYPE C)	708.000 S.F.	\$10.0000	\$7,080.00
	Maymead, Inc.	3.000 EACH	\$1,300.0000	\$3,900.00
	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 Co	597.000 EACH	\$28.0000	\$16,716.00
	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1  Maymead, Inc.	622.000 EACH	\$28.0000	\$17,416.00
	Maymead, Inc.	1,219.000 EACH	\$10.0000	\$12,190.00
	PLASTIC PAVEMENT MARKING (CROSS-WALK)  Maymead, Inc.	1,300.000 L.F.	\$9.0000	\$11,700.00
	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)  Maymead, Inc.	607.000 S.Y.	\$26.0000	\$15,782.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)  Maymead, Inc.	348.000 L.F.	\$12.0000	\$4,176.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)  Maymead, Inc.	58.000 EACH	\$180.0000	\$10,440.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)  Maymead, Inc.	12.000 L.M.	\$900.0000	\$10,800.00

				CONTRACT CNV162
			UNIT PRICE	EXTENSION
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Maymead, Inc.	24.000 L.M.	\$3,400.0000	\$81,600.00
717-01	MOBILIZATION			
	Maymead, Inc.	1.000 LS	\$130,000.0000	\$130,000.00
730-14.02	SAW SLOT			
	Maymead, Inc.	1,000.000 L.F.	\$6.0000	\$6,000.00
730-14.03	LOOP WIRE			

Maymead, Inc.

2,000.000 L.F.

\$1.0000

\$2,000.00

Maymead, Inc. \$2,505,184.00

# **TOTAL CONTRACT**

Maymead, Inc. \$2,505,184.00

### KNOX COUNTY (Contract No. CNV165 Call 034)

HSIP-332(14),47033-3228-94,47033-4228-04

THE RESURFACING ON S.R. 332 FROM NEAR LYONS VIEW PIKE (L.M. 12.93) TO NEAR PAPERMILL ROAD (L.M. 14.21).

PROJECT LENGTH - 1.280 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 4.00%

TOTAL CONTRACT

APAC-Atlantic, Inc.

\$712,342.50

Rogers Group, Inc.

\$782,054.00

CONTRACT	CNV165

			CC	ONTRACT CNV165
ROADW/	AY CATEGORY		UNIT PRICE	EXTENSION
KOADWA	AT CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		2.600 L.M.		
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$980.0000 \$1,700.0000	\$2,548.00 \$4,420.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
000 01	mineral accretion 1, 111 E a sace, chasine b	209.000 TON		
	APAC-Atlantic, Inc.		\$35.0000	\$7,315.00
	Rogers Group, Inc.		\$48.0000	\$10,032.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		534.000 TON		
	APAC-Atlantic, Inc.		\$112.0000	\$59,808.00 \$65,148.00
	Rogers Group, Inc.		\$122.0000	\$65,148.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	20 000 TON		
	ADAC Atlantia Inc	20.000 TON	¢600,0000	¢42.900.00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$690.0000 \$725.0000	\$13,800.00 \$14,500.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		3,580.000 TON		
	APAC-Atlantic, Inc.	<b>0,000,000</b> 1 <b>0</b> 1 1	\$100.0000	\$358,000.00
	Rogers Group, Inc.		\$112.5000	\$402,750.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		10,179.000 S.Y.		
	APAC-Atlantic, Inc.		\$3.5000	\$35,626.50
	Rogers Group, Inc.		\$2.5000	\$25,447.50
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	ADAC Atlantia Inc	15.000 EACH	<b>\$005,000</b>	¢40.075.00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$825.0000 \$1,025.0000	\$12,375.00 \$15,375.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		875.000 S.F.		
	APAC-Atlantic, Inc.		\$43.7500	\$38,281.25
	Rogers Group, Inc.		\$51.7500	\$45,281.25
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$31,250.0000	\$31,250.00
	Rogers Group, Inc.		\$39,755.0000	\$39,755.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	400 000 54 011		
	ADAC Atlantic Inc	100.000 EACH	<b>ድ</b> ጋላ <u>ን</u> ድስስ	¢2 425 00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$21.2500 \$21.0000	\$2,125.00 \$2,100.00
			Ψ2σσσ	
				PAGE

				CONTRACT CNV165
			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
		50.000 EACH		4
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$1.0000 \$1.0000	\$50.00 \$50.00
	Nogers Group, inc.		φ1.0000	ψ30.00
712-06	SIGNS (CONSTRUCTION)			
		380.000 S.F.		
	APAC-Atlantic, Inc.		\$7.0000	\$2,660.00
	Rogers Group, Inc.		\$6.8500	\$2,603.00
712-08.03	ARROW BOARD (TYPE C)			
	(	3.000 EACH		
	APAC-Atlantic, Inc.		\$890.0000	\$2,670.00
	Rogers Group, Inc.		\$875.0000	\$2,625.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-I			
	APAC-Atlantic, Inc.	130.000 EACH	\$25.5000	\$3,315.00
	Rogers Group, Inc.		\$25.5000	\$3,315.00 \$3,315.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MON	IO-DIR)(1 COLOR)		
		170.000 EACH		
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$25.5000 \$25.5000	\$4,335.00 \$4,335.00
	Rogers Group, Inc.		φ25.5000	φ4,335.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-I	DIR)(2 COLOR)		
		120.000 EACH		
	APAC-Atlantic, Inc.		\$25.5000	\$3,060.00
	Rogers Group, Inc.		\$25.5000	\$3,060.00
716-02 03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
710-02.03	FLASTIC FAVENCINI MARKING (CROSS-WALK)	1,230.000 L.F.		
	APAC-Atlantic, Inc.	1,230.000 L.1 .	\$9.0000	\$11,070.00
	Rogers Group, Inc.		\$9.0000	\$11,070.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	ADAG All (C. I	485.000 L.F.	<b>#40.7500</b>	<b>05.040.75</b>
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$10.7500 \$10.6000	\$5,213.75 \$5,141.00
			Ψ10.0000	ψο, ι τ 1.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		24.000 EACH		
	APAC-Atlantic, Inc.		\$155.0000	\$3,720.00
	Rogers Group, Inc.		\$160.0000	\$3,840.00

10.000 EACH

716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)

APAC-Atlantic, Inc.

Rogers Group, Inc.

\$1,350.00

\$1,350.00

\$135.0000

\$135.0000

				CONTRACT CNV165
			UNIT PRICE	EXTENSION
716-03.04	PLASTIC WORD PAVEMENT MARKING (SCHOOL)			
	ADAO Atlantia Inc	2.000 EACH	<b>#</b> 400,000	<b>#</b> 000.00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$400.0000 \$425.0000	\$800.00 \$850.00
	Rogers Group, Inc.		ψ423.0000	ψου.υυ
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN AR	ROW)		
		3.000 EACH		
	APAC-Atlantic, Inc.		\$245.0000	\$735.00
	Rogers Group, Inc.		\$265.0000	\$795.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOU	LDER)		
		601.000 L.F.		
	APAC-Atlantic, Inc.		\$4.0000	\$2,404.00
	Rogers Group, Inc.		\$4.2500	\$2,554.25
716-04 05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
710-04.03	TEASTICT AVEINERT MARKING (STRAIGHT ARROW)	3.000 EACH		
	APAC-Atlantic, Inc.	3.000 EACH	\$133.0000	\$399.00
	Rogers Group, Inc.		\$135.0000	\$405.00
			·	
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		3.000 L.M.		
	APAC-Atlantic, Inc.		\$900.0000	\$2,700.00
	Rogers Group, Inc.		\$900.0000	\$2,700.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN L	.INE)		
		6.000 L.M.		
	APAC-Atlantic, Inc.		\$4,575.0000	\$27,450.00
	Rogers Group, Inc.		\$4,550.0000	\$27,300.00
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
	,	780.000 L.F.		
	APAC-Atlantic, Inc.		\$1.9000	\$1,482.00
	Rogers Group, Inc.		\$2.1500	\$1,677.00
717-01	MOBILIZATION			
717 01	MODILIZATION	1.000 LS		
	APAC-Atlantic, Inc.	1.000 E3	\$35,500.0000	\$35,500.00
	Rogers Group, Inc.		\$38,575.0000	\$38,575.00
730-14.02	SAW SLOT			
		9,000.000 L.F.	_	_
	APAC-Atlantic, Inc.		\$3.4000	\$30,600.00
	Rogers Group, Inc.		\$3.8000	\$34,200.00
730-14.03	LOOP WIRE			
		18,000.000 L.F.		
	APAC-Atlantic, Inc.		\$0.6500	\$11,700.00
				A

Rogers Group, Inc.

\$10,800.00

\$0.6000

 APAC-Atlantic, Inc.
 \$712,342.50

 Rogers Group, Inc.
 \$782,054.00

### **TOTAL CONTRACT**

 APAC-Atlantic, Inc.
 \$712,342.50

 Rogers Group, Inc.
 \$782,054.00

### KNOX COUNTY (Contract No. CNV163 Call 035)

47005-4162-04

THE INSTALLATION OF AN OVERHEAD SIGN STRUCTURE ON I-275 SB (L.M. 1.22).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2021

TOTAL CONTRACT

Superior Traffic Control, LLC \$155,974.00

Vulcan Construction Materials, LLC \$225,435.50

LU, Inc. \$250,622.52

			CC	ONTRACT CNV163
MAINTE	NANCE CATEGORY		UNIT PRICE	EXTENSION
WAINTE	NANCE CATEGORY			
705-08.5	1 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Superior Traffic Control, LLC		\$2,200.0000	\$4,400.00
	Vulcan Construction Materials, LLC		\$4,450.0000	\$8,900.00
	LU, Inc.		\$4,130.0000	\$8,260.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Superior Traffic Control, LLC		\$800.0000	\$800.00
	Vulcan Construction Materials, LLC		\$6,200.0000	\$6,200.00
	LU, Inc.		\$4,720.0000	\$4,720.00
712-01.03	3 LANE CLOSURE(NIGHT WORK)			
		15.000 EACH		
	Superior Traffic Control, LLC		\$700.0000	\$10,500.00
	Vulcan Construction Materials, LLC		\$2,100.0000	\$31,500.00
	LU, Inc.		\$885.0000	\$13,275.00
712-02.02	2 INTERCONNECTED PORTABLE BARRIER RAIL			
		780.000 L.F.		
	Superior Traffic Control, LLC		\$15.0000	\$11,700.00
	Vulcan Construction Materials, LLC		\$28.5000	\$22,230.00
	LU, Inc.		\$44.8400	\$34,975.20
712-04.0	1 FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Superior Traffic Control, LLC		\$10.0000	\$1,000.00
	Vulcan Construction Materials, LLC		\$33.0000	\$3,300.00
	LU, Inc.		\$23.6000	\$2,360.00
712-04.50	D BARRIER RAIL DELINEATOR			
		65.000 EACH		
	Superior Traffic Control, LLC		\$5.0000	\$325.00
	Vulcan Construction Materials, LLC		\$8.0000	\$520.00
	LU, Inc.		\$8.8500	\$575.25
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		125.000 HOUR		
	Superior Traffic Control, LLC		\$100.0000	\$12,500.00
	Vulcan Construction Materials, LLC		\$110.0000	\$13,750.00
	LU, Inc.		\$112.1000	\$14,012.50
713-09.20	STEEL OVERHEAD SIGN STRUCTURE (SPAN 94'+/-)			
		1.000 EACH		
	Superior Traffic Control, LLC		\$100,924.0000	\$100,924.00
	Vulcan Construction Materials, LLC		\$101,675.0000	\$101,675.00
	III Inc		\$147 OSS 1000	\$1.47 OSS 10

LU, Inc.

\$147,966.10

\$147,966.1000

			CONTRACT CNV163
		UNIT PR	CE EXTENSION
713-14	EXTRUDED ALUMINUM PANEL SIGNS		
/13-14	EXTRUDED ALUMINUM PANEL SIGNS		
		233.000 S.F.	
	Superior Traffic Control, LLC	\$25.00	00 \$5,825.00
	Vulcan Construction Materials, LLC	\$23.50	00 \$5,475.50
	LU, Inc.	\$24.99	00 \$5,822.67
713-15.36	REMOVE SIGN, SUPPORT & FOOTING		
		1.000 EACH	
	Superior Traffic Control, LLC	\$2,000.00	00 \$2,000.00
	Vulcan Construction Materials, LLC	\$4,200.00	00 \$4,200.00
	LU, Inc.	\$8,035.80	00 \$8,035.80
713-16 01	CHANGEABLE MESSAGE SIGN UNIT		
713-10.01	CHARGEADEE MEGGAGE SIGN UNIT	2 000 FACIL	
		2.000 EACH	
	Superior Traffic Control, LLC	\$2,000.00	
	Vulcan Construction Materials, LLC	\$2,250.00	
	LU, Inc.	\$3,540.00	00 \$7,080.00

1.000 LS

\$2,000.0000

\$23,185.0000

\$3,540.0000

717-01

**MOBILIZATION** 

LU, Inc.

Superior Traffic Control, LLC

Vulcan Construction Materials, LLC

\$2,000.00

\$23,185.00

\$3,540.00

# **SUB-TOTAL MAINTENANCE**

Superior Traffic Control, LLC	\$155,974.00
Vulcan Construction Materials, LLC	\$225,435.50
LU, Inc.	\$250,622.52

TOTAL CONTRACT			
Superior Traffic Control, LLC	\$155,974.00		
Vulcan Construction Materials, LLC	\$225,435.50		
LU, Inc.	\$250,622.52		

#### KNOX COUNTY (Contract No. CNV164 Call 036)

47010-4251-04

THE TUNNEL CLEANING ON THE HENLEY STREET CONNECTOR TUNNEL ON S.R. 1 AND THE SMARTFIX TUNNEL ON S.R. 158 (JAMES WHITE PARKWAY).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2022

TOTAL CONTRACT

Diamond Specialized, Inc.

\$128,500.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNV164 EXTENSION
712-01.56 MAINTENANCE OF TRAFFIC (SMARTFIX I-40 RAMP)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
712-01.60 MAINTENANCE OF TRAFFIC (HENLEY STREET TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
713-20.40 GRAFFITI REMOVAL			
Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01 MOBILIZATION			
Diamond Specialized, Inc.	1.000 LS	\$6,000.0000	\$6,000.00
760-01.04 TUNNEL CLEANING (HENLEY STREET TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$3,600.0000	\$43,200.00
760-01.07 TUNNEL CLEANING (SMARTFIX I-40 RAMP)			
	12.000 EACH		

Diamond Specialized, Inc.

\$40,800.00

\$3,400.0000

# **SUB-TOTAL MAINTENANCE**

Diamond Specialized, Inc. \$128,500.00

### **TOTAL CONTRACT**

Diamond Specialized, Inc. \$128,500.00

### LAKE COUNTY (Contract No. CNV205 Call 037)

HSIP-4800(15),48945-3420-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON VARIOUS LOCAL ROADS.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

TOTAL CONTRACT

Volunteer Paving, LLC \$86,441.60 Superior Traffic Control, LLC \$104,313.25 LU, Inc. \$119,389.35

			00	
ROADWAY CATEGORY			UNIT PRICE	EXTENSION
712-01 TRAFFIC CONT	ROL			
		1.000 LS		
Volunteer Pavir	ng, LLC		\$1,000.0000	\$1,000.00
Superior Traffic	Control, LLC		\$8,000.0000	\$8,000.00
LU, Inc.			\$4,000.0000	\$4,000.00
713-02.21 SIGN POST DEI	LINEATION ENHANCEMENT			
		606.000 L.F.		
Volunteer Pavir	na. LLC		\$5.7100	\$3,460.26
Superior Traffic	-		\$8.2000	\$4,969.20
LU, Inc.			\$5.9400	\$3,599.64
713-11.01 "U" SECTION S	TEEL POSTS			
		117.000 LB.		
Volunteer Pavir	na. LLC		\$4.0400	\$472.68
Superior Traffic	•		\$4.5000	\$526.50
LU, Inc.			\$5.1700	\$604.89
742 44 02 DEDEODATED/	KNOCKOUT SQUARE TUBE POST			
/13-11.02 PERFORATED/	MOCROUT SQUARE TOBE FOST			
		2,030.000 LB.		
Volunteer Pavir			\$4.9000	\$9,947.00
Superior Traffic	Control, LLC		\$4.8500	\$9,845.50
LU, Inc.			\$6.0000	\$12,180.00
713-11.21 P POST SLIP B	ASE			
		4.000 EACH		
Volunteer Pavir	na. LLC		\$465.0000	\$1,860.00
Superior Traffic			\$450.0000	\$1,800.00
LU, Inc.			\$460.5300	\$1,842.12
-, -			,	* /-
713-13.02 FLAT SHEET A	LUMINUM SIGNS (0.080" THICK)			
		82.000 S.F.		
Volunteer Pavir	-		\$17.0800	\$1,400.56
Superior Traffic	Control, LLC		\$14.2500	\$1,168.50
LU, Inc.			\$12.8300	\$1,052.06
713-13.03 FLAT SHEET A	LUMINUM SIGNS (0.100" THICK)			
		526.000 S.F.		
Volunteer Pavir	na. LLC		\$17.8500	\$9,389.10
Superior Traffic	•		\$15.8500	\$8,337.10
LU, Inc.	,		\$13.5900	\$7,148.34
742 45 26 DEMOVE SIGN	SUBBORT & FOOTING			
713-15.36 REMOVE SIGN,	SOLFORI & FOOTING	42 000 EACH		
Valuete en D	on 11.0	42.000 EACH	<b>#20.000</b>	<b>64 044 00</b>
Volunteer Pavir	-		\$32.0000	\$1,344.00
Superior Traffic	CONTOI, LLC		\$50.0000 \$33.4500	\$2,100.00
LU, Inc.			\$33.1500	\$1,392.30

		CONTRACT CNV205
	UNIT PRICE	EXTENSION
713-16.05 RAILROAD CROSS-BUCK SIGN & SUPPORT		
	16.000 EACH	
Volunteer Paving, LLC	\$233.0000	\$3,728.00
Superior Traffic Control, LLC	\$415.0000	\$6,640.00
LU, Inc.	\$228.1500	\$3,650.40
713-16.09 RAILROAD ADVANCE WARNING SIGN AND SUPPORT		
713-10.03 KAILKOAD ADVANGE WAKKING SIGN AND SOLLOKT	4.000 EACH	
Valuntaan Daving III C		<b>\$000.00</b>
Volunteer Paving, LLC Superior Traffic Control, LLC	\$233.0000 \$415.0000	\$932.00 \$1,660.00
LU, Inc.	\$228.1500	\$1,660.00 \$912.60
LO, IIIC.	Ψ220.1300	φ912.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	45.000 L.F.	
Volunteer Paving, LLC	\$15.0000	\$8,175.00
Superior Traffic Control, LLC	\$15.4500	\$8,420.25
LU, Inc.	\$18.4500	\$10,055.25
		. ,
716-03.02 PLASTIC WORD PAVEMENT MARKING (RXR)		
	4.000 EACH	
Volunteer Paving, LLC	\$400.0000	\$1,600.00
Superior Traffic Control, LLC	\$875.5000	\$3,502.00
LU, Inc.	\$666.2500	\$2,665.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
	22.300 L.M.	
		<b>#20.422.00</b>
Volunteer Paving, LLC	\$1,710.0000 \$1,854,0000	\$38,133.00 \$41,344.30
Superior Traffic Control, LLC LU, Inc.	\$1,854.0000 \$2,972.5000	\$41,344.20 \$66,286.75
LU, IIIC.	φ2,912.5000	φυυ,∠ου./ υ

1.000 LS

\$5,000.0000

\$6,000.0000

\$4,000.0000

717-01

**MOBILIZATION** 

LU, Inc.

Volunteer Paving, LLC

Superior Traffic Control, LLC

\$5,000.00

\$6,000.00

\$4,000.00

Volunteer Paving, LLC	\$86,441.60
Superior Traffic Control, LLC	\$104,313.25
LU, Inc.	\$119,389.35

# TOTAL CONTRACT

Volunteer Paving, LLC	\$86,441.60
Superior Traffic Control, LLC	\$104,313.25
LU, Inc.	\$119,389.35

#### LEWIS AND WAYNE COUNTIES (Contract No. CNV166 Call 038)

HSIP-99(71),51013-3206-94,51013-4206-04,STP-99(65),91020-8216-14

THE RESURFACING ON S.R. 99 FROM NORTH OF TOPSY ROAD (L.M. 6.78) IN WAYNE COUNTY TO NEAR DIAL HOLLOW ROAD (L.M. 9.35) IN LEWIS COUNTY.

PROJECT LENGTH - 16.680 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 5.50%

TOTAL CONTRACT

Rogers Group, Inc. Volunteer Paving, LLC \$2,039,382.00

\$2,261,283.06

			CONTRACT CNV166
		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY	OMITMOL	EXTENSION
208-01 05	BROOMING & DEGRASSING SHOULDERS		
200-01.03		3.400 L.M.	
	Rogers Group, Inc.	\$760.0000	\$25,384.00
	Volunteer Paving, LLC	\$1,002.8400	\$33,494.86
	Ç.		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	4,41	5.000 TON	
	Rogers Group, Inc.	\$21.0000	\$92,715.00
	Volunteer Paving, LLC	\$36.0300	\$159,072.45
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
		0.000 TON	
	Rogers Group, Inc.	\$75.0000	\$26,250.00
	Volunteer Paving, LLC	\$94.0400	\$32,914.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
.00 0 .		3.000 TON	
	Rogers Group, Inc.	\$640.0000	\$56,320.00
	Volunteer Paving, LLC	\$631.5800	\$55,579.04
411-01.10	ACS MIX(PG64-22) GRADING D		
	17,652	2.000 TON	
	Rogers Group, Inc.	\$75.0000	\$1,323,900.00
	Volunteer Paving, LLC	\$83.9800	\$1,482,414.96
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
		6.700 L.M.	<b>.</b>
	Rogers Group, Inc.	\$460.0000	\$12,282.00
	Volunteer Paving, LLC	\$600.0000	\$16,020.00
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT		
		3.000 EACH	
	Rogers Group, Inc.	\$800.0000	\$10,400.00
	Volunteer Paving, LLC	\$1,470.0000	\$19,110.00
	-		
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2		
	1;	3.000 EACH	
	Rogers Group, Inc.	\$2,500.0000	\$32,500.00
	Volunteer Paying LLC	\$2,951,0000	\$38 363 00

		13.000 EACH		
	Rogers Group, Inc.		\$800.0000	\$10,400.00
	Volunteer Paving, LLC		\$1,470.0000	\$19,110.00
.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
		13.000 EACH		
	Rogers Group, Inc.		\$2,500.0000	\$32,500.00
	Volunteer Paving, LLC		\$2,951.0000	\$38,363.00
	GUARDRAIL REMOVED			
	3	25.000 L.F.		
	Rogers Group, Inc.		\$4.0000	\$1,300.00
	Volunteer Paving, LLC		\$0.7500	\$243.75
	TRAFFIC CONTROL			
	MATTO COMMOD	1.000 LS		
	Rogers Group, Inc.		\$18,544.0000	\$18,544.00
	Volunteer Paving, LLC		\$40,250.0000	\$40,250.00
				PAGE
				-

706-01

712-01

			CONTRACT CNV166
		UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)		
		177.000 EACH	
	Rogers Group, Inc. Volunteer Paving, LLC	\$10.0000 \$25.0000	\$1,770.00 \$4,425.00
	volumeer raving, ELO	Ψ20.0000	ψ+,+23.00
712-05.01	WARNING LIGHTS (TYPE A)		
	Rogers Group, Inc.	<b>2.000 EACH</b> \$1.0000	\$2.00
	Volunteer Paving, LLC	\$10,000	\$20.00
740.00	CIONE (CONSTRUCTION)		
712-06	SIGNS (CONSTRUCTION)	670.000 S.F.	
	Rogers Group, Inc.	\$7.0000	\$18,690.00
	Volunteer Paving, LLC	\$7.5000	\$20,025.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLO	R)	
	1,	105.000 EACH	
	Rogers Group, Inc. Volunteer Paving, LLC	\$30.0000 \$25.0000	\$33,150.00 \$27,625.00
	volunteer raving, ELC	Ψ20.0000	Ψ21,023.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	Rogers Group, Inc.	<b>105.000 EACH</b> \$10.0000	\$11,050.00
	Volunteer Paving, LLC	\$5.0000	\$5,525.00
74.000.04	DI ACTIC DAVEMENT MADIZING/GUANNELIZATION CTDIDING)		
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	242.000 S.Y.	
	Rogers Group, Inc.	\$20.0000	\$4,840.00
	Volunteer Paving, LLC	\$18.0000	\$4,356.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
		372.000 L.F.	
	Rogers Group, Inc. Volunteer Paving, LLC	\$15.0000 \$15.0000	\$5,580.00 \$5,580.00
	voluncer raving, ELE	Ψ10.0000	ψ5,500.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
	Rogers Group, Inc.	<b>1.000 EACH</b> \$750.0000	\$750.00
	Volunteer Paving, LLC	\$450.0000	\$450.00
746 04 04	DI ACTIC DAVEMENT MADIZING (TRANSVERSE SUGILI DER)		
110-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)	850.000 L.F.	
	Rogers Group, Inc.	\$5.0000	\$4,250.00
	Volunteer Paving, LLC	\$6.5000	\$5,525.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		

65.200 L.M.

Rogers Group, Inc.

Volunteer Paving, LLC

\$332,520.00

\$293,400.00

\$5,100.0000

\$4,500.0000

CON	TRACT	CNIVA	CC
CUN	IRAGI	CIVVI	oo

			UNIT PRICE	EXTENSION
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN	≣)		
		420.000 L.F.		
	Rogers Group, Inc.		\$1.0000	\$420.00
	Volunteer Paving, LLC		\$2.0000	\$840.00
716-12.07	ENHANCED FLAT LINE THERMO (8IN BROKEN LN)			
		420.000 L.F.		
	Rogers Group, Inc.		\$2.0000	\$840.00
	Volunteer Paving, LLC		\$2.5000	\$1,050.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$25,925.0000	\$25,925.00
	Volunteer Paving, LLC		\$15,000.0000	\$15,000.00

Rogers Group, Inc.	\$2,039,382.00
Volunteer Paving, LLC	\$2,261,283.06

# TOTAL CONTRACT

Rogers Group, Inc.		\$2,039,382.00
Volunteer Paving, I	LLC	\$2,261,283.06

#### LINCOLN COUNTY (Contract No. CNV168 Call 039)

NH/HSIP-50(76),52006-3213-94,52006-8213-14

THE RESURFACING ON S.R. 50 FROM NORTH OF FISHING FORD ROAD (L.M. 6.00) TO NEAR NORTHVIEW AVENUE (L.M. 11.64).

PROJECT LENGTH - 5.640 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 4.50%

TOTAL CONTRACT

Lincoln Paving, LLC Volunteer Paving, LLC \$974,148.56 \$1,164,940.51

CONTRACT C	NV168
------------	-------

			co	ONTRACT CNV168
ROADWA	Y CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		11.300 L.M.		
	Lincoln Paving, LLC Volunteer Paving, LLC		\$700.0000 \$1,482.0700	\$7,910.00 \$16,747.39
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		2,258.000 TON		
	Lincoln Paving, LLC Volunteer Paving, LLC		\$17.2500 \$29.8000	\$38,950.50 \$67,288.40
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GF			
		809.000 TON	<b>^</b>	<b>^</b>
	Lincoln Paving, LLC Volunteer Paving, LLC		\$70.7900 \$83.3800	\$57,269.11 \$67,454.42
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Lincoln Paving, LLC	49.000 TON	\$625.0000	\$30,625.00
	Volunteer Paving, LLC		\$631.5800	\$30,947.42
411-01.10	ACS MIX(PG64-22) GRADING D	7 000 000 TON		
	Lincoln Paving, LLC	7,063.000 TON	\$77.1000	\$544,557.30
	Volunteer Paving, LLC		\$79.4300	\$561,014.09
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS			
	Lincoln Paving, LLC	8.000 L.M.	\$695.0000	\$5,560.00
	Volunteer Paving, LLC		\$900.0000	\$7,200.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	7 722 000 TON		
	Lincoln Paving, LLC	7,733.000 TON	\$10.5500	\$81,583.15
	Volunteer Paving, LLC		\$24.1300	\$186,597.29
712-01	TRAFFIC CONTROL	1.000 LS		
	Lincoln Paving, LLC	1.000 L3	\$19,510.0000	\$19,510.00
	Volunteer Paving, LLC		\$26,250.0000	\$26,250.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	40.000 EACH		
	Lincoln Paving, LLC	70.000 LAOII	\$1.0000	\$40.00
	Volunteer Paving, LLC		\$25.0000	\$1,000.00
712-06	SIGNS (CONSTRUCTION)	1,349.000 S.F.		
	Lincoln Paving, LLC	1,040.000 0.1 .	\$6.4500	\$8,701.05
	Volunteer Paving, LLC		\$7.5000	\$10,117.50

				CONTRACT CNV168
			UNIT PRICE	EXTENSION
712 02 14	FLEXIBLE DELINEATOR (WHITE)			
713-02.14	FLEXIBLE DELINEATOR (WHITE)	6.000 EACH		
	Lincoln Paving, LLC	0.000 LAOII	\$35.0000	\$210.00
	Volunteer Paving, LLC		\$60.0000	\$360.00
713-16.20	SIGNS (TYPE 3 OBJECT MARKER; MUTCD OM-3)	04 000 54 011		
	Lincoln Paving, LLC	61.000 EACH	\$200.0000	\$12,200.00
	Volunteer Paving, LLC		\$251.0000	\$15,311.00
	<b>.</b>		·	
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL	OR)		
		373.000 EACH	_	
	Lincoln Paving, LLC Volunteer Paving, LLC		\$31.0000 \$25.0000	\$11,563.00 \$9,325.00
	Volunteer 1 aving, LLO		Ψ23.0000	ψ9,323.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 C	OLOR)		
		6.000 EACH		
	Lincoln Paving, LLC		\$31.0000	\$186.00
	Volunteer Paving, LLC		\$25.0000	\$150.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	,	420.000 S.Y.		
	Lincoln Paving, LLC		\$15.4500	\$6,489.00
	Volunteer Paving, LLC		\$18.0000	\$7,560.00
716 02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
7 10-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	547.000 L.F.		
	Lincoln Paving, LLC	347.000 L.I .	\$15.4500	\$8,451.15
	Volunteer Paving, LLC		\$15.0000	\$8,205.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Lincoln Paving, LLC	2.000 EACH	\$155.0000	\$310.00
	Volunteer Paving, LLC		\$150.0000	\$300.00
	<b>5</b> /		·	
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		2,802.000 L.F.		
	Lincoln Paving, LLC Volunteer Paving, LLC		\$4.1500 \$6.5000	\$11,628.30 \$18,213.00
	Volunteer 1 aving, LLO		φ0.3000	ψ10,213.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
		2.000 EACH		
	Lincoln Paving, LLC		\$670.0000	\$1,340.00
	Volunteer Paving, LLC		\$200.0000	\$400.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			

20.500 L.M.

Lincoln Paving, LLC

Volunteer Paving, LLC

\$21,115.00

\$20,500.00

\$1,030.0000

\$1,000.0000

				CONTRACT	CNV168
			UNIT PRICE	EXT	ENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		19.000 L.M.			
	Lincoln Paving, LLC		\$5,050.0000	\$95	,950.00
	Volunteer Paving, LLC		\$5,000.0000	\$95	,000.00
717-01	MOBILIZATION				
		1.000 LS			
	Lincoln Paving, LLC		\$10,000.0000	\$10	,000.00

\$15,000.0000

\$15,000.00

Volunteer Paving, LLC

Lincoln Paving, LLC \$974,148.56
Volunteer Paving, LLC \$1,164,940.51

### **TOTAL CONTRACT**

Lincoln Paving, LLC \$974,148.56 Volunteer Paving, LLC \$1,164,940.51

#### LINCOLN AND MOORE COUNTIES (Contract No. CNV167 Call 040)

NH-10(85),52003-8220-14,64001-8205-14

THE RESURFACING ON U.S. 231 (S.R. 10) FROM GILL ROAD (L.M. 19.38) IN LINCOLN COUNTY, WEAVING IN/OUT OF LINCOLN/MOORE COUNTY, TO THE BEDFORD COUNTY LINE (L.M. 1.65) IN MOORE COUNTY.

PROJECT LENGTH - 8.150 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 5.00%

TOTAL CONTRACT

 Rogers Group, Inc.
 \$1,188,982.00

 Lincoln Paving, LLC
 \$1,248,858.45

 Volunteer Paving, LLC
 \$1,312,711.94

			CONTRACT CNV167
		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
208-01.05 BROOMING & DEGR.			
	16.500 L.M.		
Rogers Group, Inc.		\$740.0000	\$12,210.00
Lincoln Paving, LLC	_	\$950.0000	\$15,675.00
Volunteer Paving, LL	.C	\$1,014.9900	\$16,747.34
303-01 MINERAL AGGREGA	TE, TYPE A BASE, GRADING D		
	1,000.000 TON		
Rogers Group, Inc.		\$20.5000	\$20,500.00
Lincoln Paving, LLC		\$22.8400	\$22,840.00
Volunteer Paving, LL	.C	\$30.5700	\$30,570.00
307-01.08 ASPHALT CONCRET	E MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	2,252.000 TON		
Rogers Group, Inc.		\$64.0000	\$144,128.00
Lincoln Paving, LLC		\$69.6100	\$156,761.72
Volunteer Paving, LL	.C	\$73.3000	\$165,071.60
403-01 BITUMINOUS MATER	RIAL FOR TACK COAT (TC)		
	52.500 TON		
Rogers Group, Inc.		\$620.0000	\$32,550.00
Lincoln Paving, LLC		\$660.0000	\$34,650.00
Volunteer Paving, LL	C	\$631.5800	\$33,157.95
411-01.10 ACS MIX(PG64-22) G	RADING D		
	9,066.000 TON		
Rogers Group, Inc.		\$75.0000	\$679,950.00
Lincoln Paving, LLC		\$78.3500	\$710,321.10
Volunteer Paving, LL	.C	\$79.3800	\$719,659.08
411-12.03 SCORING FOR RUME	BLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	16.200 L.M.		
Rogers Group, Inc.		\$500.0000	\$8,100.00
Lincoln Paving, LLC		\$360.0000	\$5,832.00
Volunteer Paving, LL	.c	\$600.0000	\$9,720.00
415-01.01 COLD PLANING BITU	JMINOUS PAVEMENT		
	1,767.000 TON		
Rogers Group, Inc.		\$15.0000	\$26,505.00
Lincoln Paving, LLC		\$19.8500	\$35,074.95
Volunteer Paving, LL	C	\$33.9100	\$59,918.97
712-01 TRAFFIC CONTROL			
	1.000 LS		
Rogers Group, Inc.		\$11,310.0000	\$11,310.00
Lincoln Paving, LLC		\$19,750.0000	\$19,750.00
Volunteer Paving, LL	.c	\$24,500.0000	\$24,500.00

			-	
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	25.000 EACH		
	Rogers Group, Inc.	20.000 EAOH	\$10.0000	\$250.00
	Lincoln Paving, LLC		\$1.0000	\$25.00
	Volunteer Paving, LLC		\$25.0000	\$625.00
	Volunteer Faving, LLO		Ψ20.0000	Ψ020.00
712-06	SIGNS (CONSTRUCTION)			
712-00	SIGNS (CONSTRUCTION)	0.040.000.0.5		
		2,343.000 S.F.	<b>AT</b> 2222	<b>* * * * * * * * * *</b>
	Rogers Group, Inc.		\$7.0000	\$16,401.00
	Lincoln Paving, LLC		\$7.2100	\$16,893.03
	Volunteer Paving, LLC		\$7.5000	\$17,572.50
740 40 04	CIONE (DOUBLE CIDED OD IECT MADI(EDG)			
/13-16.21	SIGNS (DOUBLE SIDED OBJECT MARKERS)			
		18.000 EACH		
	Rogers Group, Inc.		\$200.0000	\$3,600.00
	Lincoln Paving, LLC		\$206.0000	\$3,708.00
	Volunteer Paving, LLC		\$272.0000	\$4,896.00
713-16.50	REMOVE AND REPLACE SIGN (OM-3L & OM-3R)			
		44.000 EACH		
	Rogers Group, Inc.		\$300.0000	\$13,200.00
	Lincoln Paving, LLC		\$221.5000	\$9,746.00
	Volunteer Paving, LLC		\$299.0000	\$13,156.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		538.000 EACH		
	Rogers Group, Inc.		\$30.0000	\$16,140.00
	Lincoln Paving, LLC		\$31.0000	\$16,678.00
	Volunteer Paving, LLC		\$25.0000	\$13,450.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		538.000 EACH		
	Rogers Group, Inc.		\$10.0000	\$5,380.00
	Lincoln Paving, LLC		\$9.0000	\$4,842.00
	Volunteer Paving, LLC		\$10.0000	\$5,380.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		387.000 L.F.		
	Rogers Group, Inc.		\$15.0000	\$5,805.00
	Lincoln Paving, LLC		\$15.4500	\$5,979.15
	Volunteer Paving, LLC		\$15.0000	\$5,805.00
	-			
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	•	4.600 L.M.		
	Rogers Group, Inc.		\$1,000.0000	\$4,600.00
	Lincoln Paving, LLC		\$1,050.0000	\$4,830.00
	Volunteer Paving, LLC		\$1,000.0000	\$4,600.00
	<del>-</del> - <del>-</del> - <del>-</del>		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+ -,- 30.00

				CONTRACT CNV167
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		32.400 L.M.		
	Rogers Group, Inc.		\$5,100.0000	\$165,240.00
	Lincoln Paving, LLC		\$5,050.0000	\$163,620.00
	Volunteer Paving, LLC		\$5,000.0000	\$162,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$10,988.0000	\$10,988.00
	Lincoln Paving, LLC		\$10,300.0000	\$10,300.00
	Volunteer Paving, LLC		\$15,000.0000	\$15,000.00
730-14.02	SAW SLOT			
		2,150.000 L.F.		
	Rogers Group, Inc.	<u></u>	\$4.0000	\$8,600.00
	Lincoln Paving, LLC		\$3.8500	\$8,277.50
	Volunteer Paving, LLC		\$3.7500	\$8,062.50
730-14.03	LOOP WIRE			
		4,700.000 L.F.		
	Rogers Group, Inc.	.,. 551000 En 1	\$0.7500	\$3,525.00
	Lincoln Paving, LLC		\$0.6500	\$3,055.00
	Lincoln r army, LLO		ψ0.0000	ψο,σσο.σσ

Volunteer Paving, LLC

\$2,820.00

\$0.6000

Rogers Group, Inc.	\$1,188,982.00
Lincoln Paving, LLC	\$1,248,858.45
Volunteer Paving, LLC	\$1,312,711.94

# **TOTAL CONTRACT**

Rogers Group, Inc.	\$1,188,982.00
Lincoln Paving, LLC	\$1,248,858.45
Volunteer Paving, LLC	\$1,312,711.94

#### LOUDON COUNTY (Contract No. CNV169 Call 041)

STP/HSIP-72(20),53007-3218-94,53007-8218-14

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON S.R. 72 FROM NEAR GET GOOD HOLLOW ROAD (L.M. 5.71) TO NEAR CORPORATE PARK DRIVE (L.M. 11.15).

PROJECT LENGTH - 5.440 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 8.00%

TOTAL CONTRACT

 APAC-Atlantic, Inc.
 \$1,150,079.05

 Rogers Group, Inc.
 \$1,166,919.69

 Duracap Asphalt Paving Co., Inc.
 \$1,274,190.80

**EXTENSION** 

UNIT PRICE

ROADWA	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS	40.0001.00		
	ADAG Ada di Li	12.000 L.M.	<b>A</b> 400 0000	<b>#</b> 4.000.00
	APAC-Atlantic, Inc.		\$400.0000	\$4,800.00
	Rogers Group, Inc.		\$1,300.0000 \$700.0000	\$15,600.00 \$8,400.00
	Duracap Asphalt Paving Co., Inc.		\$700.0000	<b>Ф</b> 0,400.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		1,207.000 TON		
	APAC-Atlantic, Inc.		\$99.0000	\$119,493.00
	Rogers Group, Inc.		\$100.5000	\$121,303.50
	Duracap Asphalt Paving Co., Inc.		\$98.6000	\$119,010.20
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		96.000 TON		
	APAC-Atlantic, Inc.		\$425.0000	\$40,800.00
	Rogers Group, Inc.		\$690.0000	\$66,240.00
	Duracap Asphalt Paving Co., Inc.		\$1,200.0000	\$115,200.00
411-12 02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIL	OTH)		
2.02	(1011)	9.000 L.M.		
	APAC-Atlantic, Inc.	3.000 E.W.	\$525.0000	\$4,725.00
	Rogers Group, Inc.		\$400.0000	\$3,600.00
	Duracap Asphalt Paving Co., Inc.		\$572.0000	\$5,148.00
415-01 02	COLD PLANING BITUMINOUS PAVEMENT			
415-01.02	OCE I EANING BITOMINGOOT AVEINENT	2,210.000 S.Y.		
	APAC-Atlantic, Inc.	2,210.000 0.11	\$7.0000	\$15,470.00
	Rogers Group, Inc.		\$4.7000	\$10,387.00
	Duracap Asphalt Paving Co., Inc.		\$10.3800	\$22,939.80
705-02 10	GUARDRAIL TRANSITION 27IN TO 31IN			
703-02.10	GOARDRAIL TRANSPION 27IN TO STIN	24.000 EACH		
	APAC-Atlantic, Inc.	24.000 LAGII	\$150.0000	\$3,600.00
	Rogers Group, Inc.		\$160.0000	\$3,840.00
	Duracap Asphalt Paving Co., Inc.		\$165.0000	\$3,960.00
705 04 00	EARTH PAD FOR TYPE 38 GR END TREATMENT			
705-04.09	EARTH PAD FOR TIPE 30 GR END TREATMENT	24.000 EACH		
	ADAC Atlantia Inc	24.000 EACH	\$1,000.0000	¢24.000.00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$1,055.0000	\$24,000.00 \$25,320.00
	Duracap Asphalt Paving Co., Inc.		\$1,100.0000	\$26,400.00
	Duracap Aspirant Faving Co., Inc.		φ1,100.0000	Ψ20,400.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		24.000 EACH		
	APAC-Atlantic, Inc.		\$2,700.0000	\$64,800.00
	Rogers Group, Inc.		\$2,750.0000	\$66,000.00
	Duracap Asphalt Paving Co., Inc.		\$2,860.0000	\$68,640.00

			C	CONTRACT CNV169
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$37,500.0000	\$37,500.00
	Rogers Group, Inc.		\$28,850.0000	\$28,850.00
	Duracap Asphalt Paving Co., Inc.		\$38,000.0000	\$38,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		131.000 EACH		
	APAC-Atlantic, Inc.		\$5.0000	\$655.00
	Rogers Group, Inc.		\$5.3400	\$699.54
	Duracap Asphalt Paving Co., Inc.		\$5.5000	\$720.50
712-05.01	WARNING LIGHTS (TYPE A)			
		66.000 EACH		
	APAC-Atlantic, Inc.		\$1.0000	\$66.00
	Rogers Group, Inc.		\$1.0500	\$69.30
	Duracap Asphalt Paving Co., Inc.		\$1.1000	\$72.60
712-06	SIGNS (CONSTRUCTION)			
		944.000 S.F.		
	APAC-Atlantic, Inc.		\$6.7500	\$6,372.00
	Rogers Group, Inc.		\$6.9000	\$6,513.60
	Duracap Asphalt Paving Co., Inc.		\$7.1500	\$6,749.60
712-08.03	ARROW BOARD (TYPE C)			
		3.000 EACH		
	APAC-Atlantic, Inc.		\$900.0000	\$2,700.00
	Rogers Group, Inc.		\$900.0000	\$2,700.00
	Duracap Asphalt Paving Co., Inc.		\$935.0000	\$2,805.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		50.000 EACH		
	APAC-Atlantic, Inc.		\$23.0000	\$1,150.00
	Rogers Group, Inc.		\$23.2500	\$1,162.50
	Duracap Asphalt Paving Co., Inc.		\$24.0000	\$1,200.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)	(1 COLOR)		
		360.000 EACH		
	APAC-Atlantic, Inc.		\$23.0000	\$8,280.00
	Rogers Group, Inc.		\$23.2500	\$8,370.00
	Duracap Asphalt Paving Co., Inc.		\$24.0000	\$8,640.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	)		
		1,696.000 S.Y.		
	APAC-Atlantic, Inc.		\$15.0000	\$25,440.00
	Rogers Group, Inc.		\$15.7500	\$26,712.00
	Duracap Asphalt Paving Co., Inc.		\$16.2500	\$27,560.00

001	TRACT	CNV1	$\sim$
	IRACI	CNVI	hu

			•	
			UNIT PRICE	EXTENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
. 10 02.00	TENONOTAL EMERY MARKETO (OTO) EMELY	470.000   5		
	ADAO Allerdie Ire	170.000 L.F.	<b>#</b> 40.0000	¢4.700.00
	APAC-Atlantic, Inc.		\$10.0000	\$1,700.00
	Rogers Group, Inc.		\$10.6000	\$1,802.00 \$1,870.00
	Duracap Asphalt Paving Co., Inc.		\$11.0000	\$1,870.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		37.000 EACH		
	APAC-Atlantic, Inc.		\$130.0000	\$4,810.00
	Rogers Group, Inc.		\$135.0000	\$4,995.00
	Duracap Asphalt Paving Co., Inc.		\$137.5000	\$5,087.50
716-03 01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
7 10 00.01	TEACHO WORD FAVEMENT MARKING (ONE)	3.000 EACH		
	ADAO Allerdie Ire	3.000 EACH	<b>#</b> 40 <b>F</b> 0000	<b>#</b> 555.00
	APAC-Atlantic, Inc.		\$185.0000	\$555.00
	Rogers Group, Inc.		\$185.0000	\$555.00 \$570.00
	Duracap Asphalt Paving Co., Inc.		\$192.0000	\$576.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		6.000 L.M.		
	APAC-Atlantic, Inc.		\$820.0000	\$4,920.00
	Rogers Group, Inc.		\$820.0000	\$4,920.00
	Duracap Asphalt Paving Co., Inc.		\$852.0000	\$5,112.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	,	23.000 L.M.		
	APAC-Atlantic, Inc.	20.000 E.M.	\$4,550.0000	\$104,650.00
	Rogers Group, Inc.		\$4,515.0000	\$103,845.00
	Duracap Asphalt Paving Co., Inc.		\$4,700.0000	\$108,100.00
	Duracap Aspirant Laving Co., Inc.		ψ4,700.0000	Ψ100,100.00
717-01	MOBILIZATION			
		1.000 LS		
	APAC-Atlantic, Inc.		\$35,000.0000	\$35,000.00
	Rogers Group, Inc.		\$34,495.0000	\$34,495.00
	Duracap Asphalt Paving Co., Inc.		\$27,130.0000	\$27,130.00

		/169
CONTR		

UNIT PRICE EXTENSION

## **ROADWAY ALTERNATE AA1 CATEGORY**

# 411-03.13 ACS MIX(PG70-22) THIN LIFT D ASPHALT

# 6,033.000 TON

APAC-Atlantic, Inc.	\$105.8500	\$638,593.05
Rogers Group, Inc.	\$104.2500	\$628,940.25
Duracap Asphalt Paving Co., Inc.	\$111.2000	\$670,869.60

UNIT PRICE EXTENSION

# **ROADWAY ALTERNATE AA2 CATEGORY**

# 411-03.08 ACS MIX(PG70-22) THIN LIFT ASPHALT

6,033.000 TON

APAC-Atlantic, Inc.
Rogers Group, Inc.
Duracap Asphalt Paving Co., Inc.

APAC-Atlantic, Inc.	\$511,486.00
Rogers Group, Inc.	\$537,979.44
Duracap Asphalt Paving Co., Inc.	\$603,321.20

#### **SUB-TOTAL ROADWAY ALTERNATE AA1**

APAC-Atlantic, Inc.	\$638,593.05
Rogers Group, Inc.	\$628,940.25
Duracap Asphalt Paving Co., Inc.	\$670,869.60

# **SUB-TOTAL ROADWAY ALTERNATE AA2**

# **TOTAL CONTRACT**

APAC-Atlantic, Inc.	\$1,150,079.05
Rogers Group, Inc.	\$1,166,919.69
Duracap Asphalt Paving Co., Inc.	\$1,274,190.80

#### MACON COUNTY (Contract No. CNV173 Call 042)

HSIP-52(78),56003-3261-94

THE IMPROVEMENT OF THE INTERSECTION INCLUDING SIGNALS ON S.R. 52 AT ELLINGTON DRIVE (L.M. 11.31) IN LAFAYETTE.

PROJECT LENGTH - 0.215 MILES

COMPLETION TIME - ON OR BEFORE MARCH 31, 2022

DBE GOAL 4.00%

TOTAL CONTRACT

Stansell Electric Company, Inc.

\$272,775.08

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNV173 EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Stansell Electric Company, Inc.	1.000 LS	\$7,887.0000	\$7,887.00
209-05	SEDIMENT REMOVAL	0 000 O V		
	Stansell Electric Company, Inc.	2.000 C.Y.	\$625.0000	\$1,250.00
209-08.02	2 TEMPORARY SILT FENCE (WITH BACKING)	75.000 L.F.		
	Stansell Electric Company, Inc.	75.000 L.F.	\$34.6000	\$2,595.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Stansell Electric Company, Inc.	1.000 L3	\$16,415.0000	\$16,415.00
712-06	SIGNS (CONSTRUCTION)	146.000 S.F.		
	Stansell Electric Company, Inc.	140.000 3.1 .	\$9.4000	\$1,372.40
712-08.03	3 ARROW BOARD (TYPE C)	2.000 EACH		
	Stansell Electric Company, Inc.	2.000 EAGIT	\$949.0000	\$1,898.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	164.000 LB.		
	Stansell Electric Company, Inc.	.0.1000 221	\$6.4000	\$1,049.60
713-13.03	3 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	45.000 S.F.		
	Stansell Electric Company, Inc.	.0.000 0	\$20.6000	\$927.00
713-14.21	STREET NAME SIGN (RIGID 0.100IN THICK	72.000 S.F.		
	Stansell Electric Company, Inc.	. 2.000	\$37.5000	\$2,700.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	1.000 LS		
	Stansell Electric Company, Inc.	1.000 LO	\$316.0000	\$316.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	14.000 S.Y.		
	Stansell Electric Company, Inc.	14,000 0.11	\$26.3000	\$368.20
716-02.05	5 PLASTIC PAVEMENT MARKING (STOP LINE)			

113.000 L.F.

Stansell Electric Company, Inc.

\$2,237.40

\$19.8000

			UNIT PRICE	CONTRACT CNV173 EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Stansell Electric Company, Inc.	3.000 EACH	\$197.0000	\$591.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	Stansell Electric Company, Inc.	1.000 EACH	\$263.0000	\$263.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Stansell Electric Company, Inc.	11.000 S.F.	\$39.5000	\$434.50
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
	Stansell Electric Company, Inc.	50.000 L.F.	\$1.3000	\$65.00
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (STOP AHEAD)			
	Stansell Electric Company, Inc.	4.000 EACH	\$132.0000	\$528.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Stansell Electric Company, Inc.	0.280 L.M.	\$13,164.0000	\$3,685.92
717-01	MOBILIZATION			
	Stansell Electric Company, Inc.	1.000 LS	\$13,325.0000	\$13,325.00
730-01.02	REMOVAL OF SIGNAL EQUIPMENT			
	Stansell Electric Company, Inc.	1.000 EACH	\$2,509.0000	\$2,509.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	Stansell Electric Company, Inc.	7.000 EACH	\$998.0000	\$6,986.00
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
	Stansell Electric Company, Inc.	2.000 EACH	\$1,496.0000	\$2,992.00
730-03.20	INSTALL PULL BOX (TYPE A)			
	Stansell Electric Company, Inc.	2.000 EACH	\$574.0000	\$1,148.00
730-03.21	INSTALL PULL BOX (TYPE B)			
	Stansell Electric Company, Inc.	9.000 EACH	\$787.0000	\$7,083.00

			UNIT PRICE	CONTRACT CNV173 EXTENSION
730-05.01	ELECTRICAL SERVICE CONNECTION			
	Stansell Electric Company, Inc.	1.000 EACH	\$3,862.0000	\$3,862.00
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
	Stansell Electric Company, Inc.	840.000 L.F.	\$1.6000	\$1,344.00
730-12.01	CONDUIT 1" DIAMETER (PVC)			
	Stansell Electric Company, Inc.	50.000 L.F.	\$7.2000	\$360.00
730-12.02	CONDUIT 2" DIAMETER (PVC)			
	Stansell Electric Company, Inc.	495.000 L.F.	\$8.5000	\$4,207.50
730-12.13	CONDUIT 2" DIAMETER (JACK AND BORE)	045 000 1 5		
	Stansell Electric Company, Inc.	815.000 L.F.	\$20.9000	\$17,033.50
730-13.01	VEHICLE LOOP DETECTOR (SHELF MOUNT)			
	Stansell Electric Company, Inc.	8.000 EACH	\$258.0000	\$2,064.00
730-13.08	VEHICLE DETECTOR (RADAR DETECTION - STOP LINE)			
	Stansell Electric Company, Inc.	1.000 EACH	\$14,492.0000	\$14,492.00
730-14.01	SHIELDED DETECTOR CABLE	4 700 000 1 5		
	Stansell Electric Company, Inc.	1,790.000 L.F.	\$1.2000	\$2,148.00
730-14.02	SAW SLOT	075 000 1 5		
	Stansell Electric Company, Inc.	975.000 L.F.	\$5.5000	\$5,362.50
730-14.03	LOOP WIRE			
	Stansell Electric Company, Inc.	2,090.000 L.F.	\$0.6500	\$1,358.50
730-15.32	CABINET (EIGHT PHASE BASE MOUNTED)			
	Stansell Electric Company, Inc.	1.000 EACH	\$14,218.0000	\$14,218.00
730-16.04	CONTROLLER (ATC)	4 000 54011		
	Stansell Electric Company, Inc.	1.000 EACH	\$5,085.0000	\$5,085.00

			UNIT PRICE	CONTRACT CNV173 EXTENSION
730-23.96	CANTILEVER SIGNAL SUPPORT (1 ARM @ 40')			
	Stansell Electric Company, Inc.	1.000 EACH	\$18,901.0000	\$18,901.00
730-23.97	CANTILEVER SIGNAL SUPPORT (1 ARM @ 55')			
	Stansell Electric Company, Inc.	1.000 EACH	\$27,635.0000	\$27,635.00
730-23.98	CANTILEVER SIGNAL SUPPORT (1 ARM @ 70')			
	Stansell Electric Company, Inc.	1.000 EACH	\$35,745.0000	\$35,745.00
730-23.99	CANTILEVER SIGNAL SUPPORT (1 ARM @ 80')			
	Stansell Electric Company, Inc.	1.000 EACH	\$39,933.0000	\$39,933.00
801-01	SEEDING (WITH MULCH)			
	Stansell Electric Company, Inc.	0.800 UNIT	\$482.0000	\$385.60
801-03	WATER (SEEDING & SODDING)			

Stansell Electric Company, Inc.

0.060 M.G.

\$241.0000

\$14.46

Stansell Electric Company, Inc.

\$272,775.08

## **TOTAL CONTRACT**

Stansell Electric Company, Inc.

\$272,775.08

#### MARION AND SEQUATCHIE COUNTIES (Contract No. CNV174 Call 043)

HSIP-27(53),58008-3230-94,58008-4230-04,NH-8(61),77002-8245-14

THE RESURFACING ON S.R. 27 FROM SOUTH OF RICHARDS LANE TO EAST OF SMITH CEMETERY ROAD IN MARION COUNTY AND ON S.R. 8 (S.R. 111) FROM THE S.R. 8/S.R. 111 OVERPASS TO NEAR OLD UNION ROAD IN SEQUATCHIE COUNTY.

PROJECT LENGTH - 2.860 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.00%

TOTAL CONTRACT

Tinsley Asphalt, LLC

\$765,238.50

Rogers Group, Inc.

\$872,663.07

			CONTRACT CNV174
	wa.====	UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	1	5.000 TON	
	Tinsley Asphalt, LLC	\$20.0000	\$300.00
	Rogers Group, Inc.	\$105.5300	\$1,582.95
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	25	0.000 TON	
	Tinsley Asphalt, LLC	\$65.0000	\$16,250.00
	Rogers Group, Inc.	\$133.8700	\$33,467.50
403-02.01	TRACKLESS TACK COAT		
	3	6.000 TON	
	Tinsley Asphalt, LLC	\$700.0000	\$25,200.00
	Rogers Group, Inc.	\$692.7100	\$24,937.56
411-01.10	ACS MIX(PG64-22) GRADING D		
	5,52	7.000 TON	
	Tinsley Asphalt, LLC	\$82.6000	\$456,530.20
	Rogers Group, Inc.	\$103.5700	\$572,431.39
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
		1.800 L.M.	
	Tinsley Asphalt, LLC	\$400.0000	\$720.00
	Rogers Group, Inc.	\$401.0800	\$721.94
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)		
		2.800 L.M.	
	Tinsley Asphalt, LLC	\$400.0000	\$1,120.00
	Rogers Group, Inc.	\$401.0800	\$1,123.02
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
		0.000 TON	
	Tinsley Asphalt, LLC	\$12.0000	\$64,200.00
	Rogers Group, Inc.	\$9.3800	\$50,183.00
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT		
		4.000 EACH	
	Tinsley Asphalt, LLC	\$1,300.0000	\$5,200.00
	Rogers Group, Inc.	\$802.1500	\$3,208.60
705-04.22	GUARDRAIL DELINEATION ENHANCEMENT (BI-DIRECTIONAL)		
		0.000 EACH	
	Tinsley Asphalt, LLC	\$5.0000	\$600.00
	Rogers Group, Inc.	\$4.9600	\$595.20
705-06.01	W BEAM GR (TYPE 2) MASH TL-3		

25.000 L.F.

Tinsley Asphalt, LLC

Rogers Group, Inc.

\$750.00

\$30.0000

\$27.5700

			CC	NTRACT CNV174
			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Tinsley Asphalt, LLC		\$3,000.0000	\$12,000.00
	Rogers Group, Inc.		\$2,807.5400	\$11,230.16
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Tinsley Asphalt, LLC		\$26,250.0000	\$26,250.00
	Rogers Group, Inc.		\$14,488.5500	\$14,488.55
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		155.000 EACH		
	Tinsley Asphalt, LLC		\$25.0000	\$3,875.00
	Rogers Group, Inc.		\$20.0500	\$3,107.75
712-05.03	WARNING LIGHTS (TYPE C)			
		51.000 EACH		
	Tinsley Asphalt, LLC		\$25.0000	\$1,275.00
	Rogers Group, Inc.		\$20.0500	\$1,022.55
712-06	SIGNS (CONSTRUCTION)			
		1,194.000 S.F.		
	Tinsley Asphalt, LLC		\$6.4500	\$7,701.30
	Rogers Group, Inc.		\$5.7700	\$6,889.38
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Tinsley Asphalt, LLC		\$1,500.0000	\$3,000.00
	Rogers Group, Inc.		\$802.1500	\$1,604.30
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		4.000 EACH		
	Tinsley Asphalt, LLC		\$2,000.0000	\$8,000.00
	Rogers Group, Inc.		\$3,810.2300	\$15,240.92
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)		
		259.000 EACH		
	Tinsley Asphalt, LLC		\$25.0000	\$6,475.00
	Rogers Group, Inc.		\$25.0700	\$6,493.13
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)		
		138.000 EACH		
	Tinsley Asphalt, LLC		\$25.0000	\$3,450.00
	Rogers Group, Inc.		\$25.0700	\$3,459.66
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CO	DLOR)		
	•	30.000 EACH		
	Tinsley Asphalt, LLC		\$25.0000	\$750.00
	Rogers Group, Inc.		\$25.0700	\$752.10

				CONTRACT CNV174
			UNIT PRICE	EXTENSION
716 02 04	DI ACTIC DAVEMENT MADVING/CHANNELIZATION CTDIDING			
710-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	75.000 S.Y.		
	Tinsley Asphalt, LLC		\$20.0000	\$1,500.00
	Rogers Group, Inc.		\$20.0500	\$1,503.75
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		342.000 L.F.		
	Tinsley Asphalt, LLC		\$12.0000	\$4,104.00
	Rogers Group, Inc.		\$12.0300	\$4,114.26
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		16.000 EACH	<b>*</b>	
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$150.0000 \$150.4000	\$2,400.00 \$2,406.40
	Nogers Group, Inc.		ψ130. <del>4</del> 000	Ψ2,400.40
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	T: 1 A 1 K 11 O	1.000 EACH	<b>#050.000</b>	<b>#050.00</b>
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$250.0000 \$250.6700	\$250.00 \$250.67
	Trogoto Group, mo.		φ200.07.00	Ψ200.01
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	T	72.000 L.F.	<b>#</b> = 0000	4000.00
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$5.0000 \$5.0100	\$360.00 \$360.72
			Ψ0.0.00	Ψ333 =
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	T: 1 A 1 K 11 O	18.000 L.M.	Ф000 0000	<b>#</b> 40.000.00
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$900.0000 \$902.4200	\$16,200.00 \$16,243.56
			****	<b>*</b> ,
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Tipoloy Apphalt III C	12.400 L.M.	¢4 700 0000	¢50,200,00
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$4,700.0000 \$4,712.6500	\$58,280.00 \$58,436.86
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LI	•		
	Tinsley Asphalt, LLC	2,710.000 L.F.	\$2.0000	\$5,420.00
	Rogers Group, Inc.		\$2.0000	\$5,447.10
716-12.09	ENHANCED FLAT LINE THERMO (12IN LINE)			
	Tipoloy Apphalt III C	285.000 L.F.	<b>#4.000</b>	Φ4 440 00
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$4.0000 \$4.0100	\$1,140.00 \$1,142.85
	-0 <del></del>		ų	Ţ.,. IZ.00
717-01	MOBILIZATION			
	Tipoloy Apphalt III C	1.000 LS	<b>\$20.950.000</b>	<b>#20.050.00</b>
	Tinsley Asphalt, LLC Rogers Group, Inc.		\$29,850.0000 \$27,796.3900	\$29,850.00 \$27,796.39
			ψ=. ,, σσ.σσσσ	Ψ=1,1.00.00

				CONTRACT CNV174
			UNIT PRICE	EXTENSION
730-14.02	SAW SLOT			
		360.000 L.F.		
	Tinsley Asphalt, LLC		\$4.0000	\$1,440.00
	Rogers Group, Inc.		\$3.0100	\$1,083.60
730-14.03	LOOP WIRE			
		1,080.000 L.F.		
	Tinsley Asphalt, LLC		\$0.6000	\$648.00
	Rogers Group, Inc.		\$0.6000	\$648.00

 Tinsley Asphalt, LLC
 \$765,238.50

 Rogers Group, Inc.
 \$872,663.07

## **TOTAL CONTRACT**

 Tinsley Asphalt, LLC
 \$765,238.50

 Rogers Group, Inc.
 \$872,663.07

#### MARSHALL AND RUTHERFORD COUNTIES (Contract No. CNV175 Call 044)

59010-4215-04,75012-4205-04

THE RESURFACING ON S.R. 99 FROM U.S. 31A (S.R. 11) (L.M. 7.29) IN MARSHALL COUNTY TO U.S. 41A (S.R. 16) (L.M. 2.33) IN RUTHERFORD COUNTY.

PROJECT LENGTH - 6.480 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

	TOTAL CONTRACT
Rogers Group, Inc.	\$947,099.00
Volunteer Paving, LLC	\$1,012,508.34
Hawkins Asphalt Paving, LLC	\$1,033,510.20
BWI MTN ii Inc. & dba Blue Water Industries	\$1,101,118.00
Vulcan Construction Materials, LLC	\$1,166,709.75

UNIT PRICE	EXTENSION

## **ROADWAY CATEGORY**

Rogers Group, Inc.

Volunteer Paving, LLC

Hawkins Asphalt Paving, LLC

Vulcan Construction Materials, LLC

BWI MTN ii Inc. & dba Blue Water Industries

208-01.05 BROOMING & DEGRASSING SHOULDERS		
12 000 L M		
12.900 L.M.		
Rogers Group, Inc.	\$1,225.0000	\$15,802.50
Volunteer Paving, LLC	\$1,298.2500	\$16,747.43
Hawkins Asphalt Paving, LLC	\$650.0000	\$8,385.00
BWI MTN ii Inc. & dba Blue Water Industries	\$735.0000	\$9,481.50
Vulcan Construction Materials, LLC	\$900.0000	\$11,610.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
1,417.000 TON		
Rogers Group, Inc.	\$14.2500	\$20,192.25
Volunteer Paving, LLC	\$27.4700	\$38,924.99
Hawkins Asphalt Paving, LLC	\$22.5000	\$31,882.50
BWI MTN ii Inc. & dba Blue Water Industries	\$26.5000	\$37,550.50
Vulcan Construction Materials, LLC	\$21.0000	\$29,757.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
435.000 TON		
Rogers Group, Inc.	\$85.3500	\$37,127.25
Volunteer Paving, LLC	\$75.1000	\$32,668.50
Hawkins Asphalt Paving, LLC	\$65.0000	\$28,275.00
BWI MTN ii Inc. & dba Blue Water Industries	\$67.5000	\$29,362.50
Vulcan Construction Materials, LLC	\$105.0000	\$45,675.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
46.000 TON		
Rogers Group, Inc.	\$550.0000	\$25,300.00
Volunteer Paving, LLC	\$631.5800	\$29,052.68
Hawkins Asphalt Paving, LLC	\$675.0000	\$31,050.00
BWI MTN ii Inc. & dba Blue Water Industries	\$800.0000	\$36,800.00
Vulcan Construction Materials, LLC	\$705.0000	\$32,430.00
411-01.10 ACS MIX(PG64-22) GRADING D		
6,791.000 TON		
Rogers Group, Inc.	\$77.0000	\$522,907.00
Volunteer Paving, LLC	\$74.9000	\$508,645.90
Hawkins Asphalt Paving, LLC	\$78.0000	\$529,698.00
BWI MTN ii Inc. & dba Blue Water Industries	\$86.0000	\$584,026.00
Vulcan Construction Materials, LLC	\$94.2500	\$640,051.75
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		

10.500 L.M.

\$9,082.50

\$7,875.00

\$5,250.00

\$5,250.00

\$5,250.00

\$865.0000

\$750.0000

\$500.0000

\$500.0000

\$500.0000

				MINACI CHVI73
			UNIT PRICE	EXTENSION
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		6,988.000 TON		
	Rogers Group, Inc.	•	\$11.5000	\$80,362.00
	Volunteer Paving, LLC		\$20.6800	\$144,511.84
	Hawkins Asphalt Paving, LLC		\$19.1500	\$133,820.20
	BWI MTN ii Inc. & dba Blue Water Industries		\$18.5000	\$129,278.00
	Vulcan Construction Materials, LLC		\$23.0000	\$160,724.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$19,706.0000	\$19,706.00
	Volunteer Paving, LLC		\$26,250.0000	\$26,250.00
	Hawkins Asphalt Paving, LLC		\$27,500.0000	\$27,500.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$35,000.0000	\$35,000.00
	Vulcan Construction Materials, LLC		\$28,500.0000	\$28,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Rogers Group, Inc.		\$5.0000	\$250.00
	Volunteer Paving, LLC		\$25.0000	\$1,250.00
	Hawkins Asphalt Paving, LLC		\$5.0000	\$250.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$250.00
	Vulcan Construction Materials, LLC		\$33.2500	\$1,662.50
712-05.01	WARNING LIGHTS (TYPE A)			
		2.000 EACH		
	Rogers Group, Inc.		\$1.0000	\$2.00
	Volunteer Paving, LLC		\$10.0000	\$20.00
	Hawkins Asphalt Paving, LLC		\$2.0000	\$4.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1.0000	\$2.00
	Vulcan Construction Materials, LLC		\$22.0000	\$44.00
712-06	SIGNS (CONSTRUCTION)			
		1,319.000 S.F.		
	Rogers Group, Inc.		\$6.5000	\$8,573.50
	Volunteer Paving, LLC		\$7.5000	\$9,892.50
	Hawkins Asphalt Paving, LLC		\$6.5000	\$8,573.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$6.5000	\$8,573.50
	Vulcan Construction Materials, LLC		\$8.5000	\$11,211.50
713-16.20	SIGNS (OM-3L - TYPE 3 OBJECT MARKER)			
		30.000 EACH		
	Rogers Group, Inc.		\$215.0000	\$6,450.00
	Volunteer Paving, LLC		\$261.0000	\$7,830.00
	Hawkins Asphalt Paving, LLC		\$225.0000	\$6,750.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$215.0000	\$6,450.00
	Vulcan Construction Materials, LLC		\$165.0000	\$4,950.00

		•	
		UNIT PRICE	EXTENSION
713-16.21 SIGNS (OM-3R - TYPE 3 OBJECT MARKER)			
	30.000 EACH		
Rogers Group, Inc.		\$215.0000	\$6,450.00
Volunteer Paving, LLC		\$261.0000	\$7,830.00
Hawkins Asphalt Paving, LLC		\$225.0000	\$6,750.00
BWI MTN ii Inc. & dba Blue Water Industries		\$215.0000	\$6,450.00
Vulcan Construction Materials, LLC		\$165.0000	\$4,950.00
valcan construction materials, LLC		Ψ103.0000	ψ+,950.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)		
110 01.21 GROW EGWADEL RAIGED LAVEILERT MARKERS (SI DIR) (1 0	468.000 EACH		
Devices Occurs Inc.	400.000 EACH	<b>#00.0000</b>	<b>#4.4.040.00</b>
Rogers Group, Inc.		\$30.0000	\$14,040.00
Volunteer Paving, LLC		\$25.0000	\$11,700.00
Hawkins Asphalt Paving, LLC		\$30.0000	\$14,040.00
BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$14,040.00
Vulcan Construction Materials, LLC		\$30.0000	\$14,040.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	468.000 EACH		
Rogers Group, Inc.		\$8.0000	\$3,744.00
Volunteer Paving, LLC		\$10.0000	\$4,680.00
Hawkins Asphalt Paving, LLC		\$10.0000	\$4,680.00
BWI MTN ii Inc. & dba Blue Water Industries		\$8.0000	\$3,744.00
Vulcan Construction Materials, LLC		\$8.0000	\$3,744.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	185.000 L.F.		
Rogers Group, Inc.		\$15.0000	\$2,775.00
Volunteer Paving, LLC		\$12.0000	\$2,220.00
Hawkins Asphalt Paving, LLC		\$20.0000	\$3,700.00
BWI MTN ii Inc. & dba Blue Water Industries		\$15.0000	\$2,775.00
Vulcan Construction Materials, LLC		\$15.0000	\$2,775.00
Valouri Constitution Materials, EEC		ψ10.0000	Ψ2,770.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	117.000 L.F.		
Rogers Group, Inc.	117.000 L.I .	\$5.0000	\$585.00
Volunteer Paving, LLC		\$3.5000 \$3.5000	\$409.50
· · · · · · · · · · · · · · · · · · ·			\$702.00
Hawkins Asphalt Paving, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$6.0000	· ·
		\$5.0000	\$585.00
Vulcan Construction Materials, LLC		\$5.0000	\$585.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
710-03.01 PAINTED PAVEMENT MARKING (4 LINE)	00 000   14		
	26.000 L.M.	<b>A</b> 4 005 5555	000 222 25
Rogers Group, Inc.		\$1,000.0000	\$26,000.00
Volunteer Paving, LLC		\$850.0000	\$22,100.00
Hawkins Asphalt Paving, LLC		\$1,400.0000	\$36,400.00
BWI MTN ii Inc. & dba Blue Water Industries		\$1,000.0000	\$26,000.00
Vulcan Construction Materials, LLC		\$1,000.0000	\$26,000.00

				CONTRACT	CNV175
			UNIT PRICE	EXT	ENSION
716-12.0	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		24.500 L.M.			
	Rogers Group, Inc.		\$4,900.0000	\$12	0,050.00
	Volunteer Paving, LLC		\$5,000.0000	\$12	2,500.00
	Hawkins Asphalt Paving, LLC		\$5,400.0000	\$13	2,300.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$4,900.0000	\$12	0,050.00
	Vulcan Construction Materials, LLC		\$4,900.0000	\$12	0,050.00
717-01	MOBILIZATION				
		1.000 LS			
	Rogers Group, Inc.		\$25,000.0000	\$2	5,000.00
	Volunteer Paving, LLC		\$15,000.0000	\$1	5,000.00
	Hawkins Asphalt Paving, LLC		\$21,500.0000	\$2	1,500.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$42,750.0000	\$4	2,750.00
	Vulcan Construction Materials, LLC		\$20,000.0000	\$2	0,000.00
716-03.0	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)				
		1.000 EACH			
	Rogers Group, Inc.		\$700.0000		\$700.00
	Volunteer Paving, LLC		\$400.0000		\$400.00
	Hawkins Asphalt Paving, LLC		\$500.0000		\$500.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$700.0000		\$700.00
	Vulcan Construction Materials, LLC		\$700.0000		\$700.00
716-04.1	6 PLASTIC PAVEMENT MARKING (NOISE STRIP)				
		100.000 L.F.			
	Rogers Group, Inc.		\$20.0000	\$	2,000.00
	Volunteer Paving, LLC		\$20.0000	\$	2,000.00
	Hawkins Asphalt Paving, LLC		\$15.0000	\$	1,500.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$20.0000	\$	2,000.00
	Vulcan Construction Materials, LLC		\$20.0000	\$	2,000.00

Rogers Group, Inc.	\$947,099.00
Volunteer Paving, LLC	\$1,012,508.34
Hawkins Asphalt Paving, LLC	\$1,033,510.20
BWI MTN ii Inc. & dba Blue Water Industries	\$1,101,118.00
Vulcan Construction Materials, LLC	\$1,166,709.75

## **TOTAL CONTRACT**

Rogers Group, Inc.	\$947,099.00
Volunteer Paving, LLC	\$1,012,508.34
Hawkins Asphalt Paving, LLC	\$1,033,510.20
BWI MTN ii Inc. & dba Blue Water Industries	\$1,101,118.00
Vulcan Construction Materials, LLC	\$1,166,709.75

#### MAURY COUNTY (Contract No. CNV176 Call 045)

IM/NH-65-2(96),60001-3156-44

THE INTERCHANGE MODIFICATION ON I-65 AT U.S. 412 (S.R. 99) IN COLUMBIA, INCLUDING GRADING, DRAINAGE, BRIDGES, RETAINING WALLS, SIGNALS AND PAVING.

PROJECT LENGTH - 1.067 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2024

DBE GOAL 9.50%

	TOTAL CONTRACT
Eutaw Construction Company, Inc.	\$28,637,629.00
Volunteer Paving, LLC	\$28,830,877.30
Dement Construction Company, LLC	\$29,175,235.86
Rogers Group, Inc.	\$29,185,431.00
Bell & Associates Construction, LLC	\$29,918,125.23
Vulcan Construction Materials, LLC	\$30,858,219.30
Jones Bros. Contractors, LLC	\$31,576,239.07
Wright Brothers Construction Company, Inc.	\$35,546,148.55

UNIT PRICE	EXTENSION

## **ROADWAY CATEGORY**

105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$319,670.0000	\$319,670.00
	Volunteer Paving, LLC		\$200,000.0000	\$200,000.00
	Dement Construction Company, LLC		\$203,300.0000	\$203,300.00
	Rogers Group, Inc.		\$273,899.9300	\$273,899.93
	Bell & Associates Construction, LLC		\$240,000.0000	\$240,000.00
	Vulcan Construction Materials, LLC		\$260,000.0000	\$260,000.00
	Jones Bros. Contractors, LLC		\$550,000.0000	\$550,000.00
	Wright Brothers Construction Company, Inc.		\$360,000.0000	\$360,000.00
109-10.01	TRAINEE			
		5,680.000 HOUR		
	Eutaw Construction Company, Inc.		\$0.8000	\$4,544.00
	Volunteer Paving, LLC		\$0.8000	\$4,544.00
	Dement Construction Company, LLC		\$0.8000	\$4,544.00
	Rogers Group, Inc.		\$0.8000	\$4,544.00
	Bell & Associates Construction, LLC		\$0.8000	\$4,544.00
	Vulcan Construction Materials, LLC		\$0.8000	\$4,544.00
	Jones Bros. Contractors, LLC		\$0.8000	\$4,544.00
	Wright Brothers Construction Company, Inc.		\$0.8000	\$4,544.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$155,170.0000	\$155,170.00
	Volunteer Paving, LLC		\$20,000.0000	\$20,000.00
	Dement Construction Company, LLC		\$1,060,000.0000	\$1,060,000.00
	Rogers Group, Inc.		\$49,150.7100	\$49,150.71
	Bell & Associates Construction, LLC		\$84,000.0000	\$84,000.00
	Vulcan Construction Materials, LLC		\$400,000.0000	\$400,000.00
	Jones Bros. Contractors, LLC		\$1,700,000.0000	\$1,700,000.00
	Wright Brothers Construction Company, Inc.		\$1,000,000.0000	\$1,000,000.00
202-02.01	REMOVAL OF PIPE (18" CMP,I-65 STA. 419+23.77, 173.21' R	TT)		
		142.000 L.F.		
	Eutaw Construction Company, Inc.		\$14.6000	\$2,073.20
	Volunteer Paving, LLC		\$35.0000	\$4,970.00
	Dement Construction Company, LLC		\$25.0000	\$3,550.00
	Rogers Group, Inc.		\$28.0900	\$3,988.78
	Bell & Associates Construction, LLC		\$22.0000	\$3,124.00
	Vulcan Construction Materials, LLC		\$13.0000	\$1,846.00
	Jones Bros. Contractors, LLC		\$20.0000	\$2,840.00
	Wright Brothers Construction Company, Inc.		\$16.9000	\$2,399.80

			•	CHINACI CHVIII
			UNIT PRICE	EXTENSION
202-02.04 RI	EMOVAL OF PIPE (15" RCP ,S.R. 99 STA. 137+18.00, 35.62' LT)			
	, , ,	240.000 L.F.		
Eı	utaw Construction Company, Inc.		\$14.6000	\$3,504.00
	olunteer Paving, LLC		\$35.0000	\$8,400.00
	ement Construction Company, LLC		\$25.0000	\$6,000.00
	ogers Group, Inc.		\$35.1100	\$8,426.40
	ell & Associates Construction, LLC		\$19.5000	\$4,680.00
	ulcan Construction Materials, LLC		\$13.0000	\$3,120.00
	ones Bros. Contractors, LLC		\$20.0000	\$4,800.00
	right Brothers Construction Company, Inc.		\$31.0000	\$7,440.00
202-02.05 RI	EMOVAL OF PIPE (15" RCP ,S.R. 99 STA. 139+44.00, 43.79' LT)			
		96.000 L.F.		
Ει	utaw Construction Company, Inc.		\$14.6000	\$1,401.60
	olunteer Paving, LLC		\$35.0000	\$3,360.00
	ement Construction Company, LLC		\$25.0000	\$2,400.00
	ogers Group, Inc.		\$35.1100	\$3,370.56
	ell & Associates Construction, LLC		\$21.0000	\$2,016.00
	ulcan Construction Materials, LLC		\$13.0000	\$1,248.00
	ones Bros. Contractors, LLC		\$20.0000	\$1,920.00
	right Brothers Construction Company, Inc.		\$32.7500	\$3,144.00
202-02.06 RI	EMOVAL OF PIPE (18" CMP,OLD HWY 99 STA. 12+78.80)			
		51.000 L.F.		
Ει	utaw Construction Company, Inc.		\$18.3000	\$933.30
Vo	olunteer Paving, LLC		\$35.0000	\$1,785.00
De	ement Construction Company, LLC		\$25.0000	\$1,275.00
Ro	ogers Group, Inc.		\$35.1100	\$1,790.61
Ве	ell & Associates Construction, LLC		\$22.5000	\$1,147.50
Vı	ulcan Construction Materials, LLC		\$13.0000	\$663.00
Jo	ones Bros. Contractors, LLC		\$20.0000	\$1,020.00
W	right Brothers Construction Company, Inc.		\$22.7500	\$1,160.25
202-02.07 RI	EMOVAL OF PIPE (18" RCP, I-65 MEDIAN STA 423+50 THRU 427	+00, VARIOUS.)		
		214.000 L.F.		
Ει	utaw Construction Company, Inc.		\$14.6000	\$3,124.40
Vo	olunteer Paving, LLC		\$35.0000	\$7,490.00
De	ement Construction Company, LLC		\$25.0000	\$5,350.00
	ogers Group, Inc.		\$35.1100	\$7,513.54
	ell & Associates Construction, LLC		\$21.0000	\$4,494.00
	ulcan Construction Materials, LLC		\$13.0000	\$2,782.00
	ones Bros. Contractors, LLC		\$20.0000	\$4,280.00
W	right Brothers Construction Company, Inc.		\$34.7500	\$7,436.50

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT		
		995.000 S.Y.	
	Eutaw Construction Company, Inc.	\$16.2000	\$16,119.00
	Volunteer Paving, LLC	\$11.5000	\$11,442.50
	Dement Construction Company, LLC	\$15.0000	\$14,925.00
	Rogers Group, Inc.	\$28.0900	\$27,949.55
	Bell & Associates Construction, LLC	\$12.0000	\$11,940.00
	Vulcan Construction Materials, LLC	\$11.0000	\$10,945.00
	Jones Bros. Contractors, LLC	\$17.0000	\$16,915.00
	Wright Brothers Construction Company, Inc.	\$9.6500	\$9,601.75
202-04.50	REMOVAL OF STRUCTURES (10' X 8' BOX CULVERT, I-65 STA. 42	20+02.94)	
		1.000 LS	
	Eutaw Construction Company, Inc.	\$24,524.0000	\$24,524.00
	Volunteer Paving, LLC	\$24,070.0000	\$24,070.00
	Dement Construction Company, LLC	\$20,000.0000	\$20,000.00
	Rogers Group, Inc.	\$30,092.2800	\$30,092.28
	Bell & Associates Construction, LLC	\$26,000.0000	\$26,000.00
	Vulcan Construction Materials, LLC	\$15,000.0000	\$15,000.00
	Jones Bros. Contractors, LLC	\$15,000.0000	\$15,000.00
	Wright Brothers Construction Company, Inc.	\$28,600.0000	\$28,600.00
202-04.51	REMOVAL OF STRUCTURES (10'X5' BOX CULVERT, SR-99 STA. 1	143+25)	
		1.000 LS	
	Eutaw Construction Company, Inc.	\$23,507.0000	\$23,507.00
	Volunteer Paving, LLC	\$23,080.0000	\$23,080.00
	Dement Construction Company, LLC	\$10,000.0000	\$10,000.00
	Rogers Group, Inc.	\$28,086.1200	\$28,086.12
	Bell & Associates Construction, LLC	\$25,000.0000	\$25,000.00
	Vulcan Construction Materials, LLC	\$7,500.0000	\$7,500.00
	Jones Bros. Contractors, LLC	\$15,000.0000	\$15,000.00
	Wright Brothers Construction Company, Inc.	\$16,300.0000	\$16,300.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)		
	13	88,275.000 C.Y.	
	Eutaw Construction Company, Inc.	\$11.1000	\$1,534,852.50
	Volunteer Paving, LLC	\$22.0000	\$3,042,050.00
	Dement Construction Company, LLC	\$13.2500	\$1,832,143.75
	Rogers Group, Inc.	\$12.0300	\$1,663,448.25
	Bell & Associates Construction, LLC	\$21.5000	\$2,972,912.50
	Vulcan Construction Materials, LLC	\$18.0000	\$2,488,950.00
	Jones Bros. Contractors, LLC	\$14.0000	\$1,935,850.00
	Wright Brothers Construction Company, Inc.	\$18.2000	\$2,516,605.00

				CONTRACT CNV176
			UNIT PRICE	EXTENSION
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		3,078.000 TON		
	Eutaw Construction Company, Inc.	.,.	\$19.2000	\$59,097.60
	Volunteer Paving, LLC		\$25.0000	\$76,950.00
	Dement Construction Company, LLC		\$33.0000	\$101,574.00
	Rogers Group, Inc.		\$26.9900	\$83,075.22
	Bell & Associates Construction, LLC		\$35.0000	\$107,730.00
	Vulcan Construction Materials, LLC		\$23.0000	\$70,794.00
	Jones Bros. Contractors, LLC		\$21.0000	\$64,638.00
	Wright Brothers Construction Company, Inc.		\$26.5000	\$81,567.00
203-04	PLACING AND SPREADING TOPSOIL			
		8,261.000 C.Y.		
	Eutaw Construction Company, Inc.		\$0.8000	\$6,608.80
	Volunteer Paving, LLC		\$10.5000	\$86,740.50
	Dement Construction Company, LLC		\$5.0000	\$41,305.00
	Rogers Group, Inc.		\$18.0500	\$149,111.05
	Bell & Associates Construction, LLC		\$12.5000	\$103,262.50
	Vulcan Construction Materials, LLC		\$16.0000	\$132,176.00
	Jones Bros. Contractors, LLC		\$6.0000	\$49,566.00
	Wright Brothers Construction Company, Inc.		\$10.9000	\$90,044.90
203-06	WATER			
		5,200.000 M.G.		
	Eutaw Construction Company, Inc.		\$12.2000	\$63,440.00
	Volunteer Paving, LLC		\$23.0000	\$119,600.00
	Dement Construction Company, LLC		\$5.0000	\$26,000.00
	Rogers Group, Inc.		\$14.0400	\$73,008.00
	Bell & Associates Construction, LLC		\$10.0000	\$52,000.00
	Vulcan Construction Materials, LLC		\$3.6000	\$18,720.00
	Jones Bros. Contractors, LLC		\$5.0000	\$26,000.00
	Wright Brothers Construction Company, Inc.		\$13.4500	\$69,940.00
203-07	FURNISHING & SPREADING TOPSOIL			
		6,051.000 C.Y.		
	Eutaw Construction Company, Inc.		\$28.4000	\$171,848.40
	Volunteer Paving, LLC		\$25.0000	\$151,275.00
	Dement Construction Company, LLC		\$5.0000	\$30,255.00
	Rogers Group, Inc.		\$29.0900	\$176,023.59
	Bell & Associates Construction, LLC		\$22.0000	\$133,122.00
	Vulcan Construction Materials, LLC		\$16.0000	\$96,816.00
	Jones Bros. Contractors, LLC		\$12.0000	\$72,612.00
	Wright Brothers Construction Company, Inc.		\$29.0000	\$175,479.00

				CONTRACT CNV176
			UNIT PRICE	EXTENSION
204-08	FOUNDATION FILL MATERIAL			
204-00	TOURDATION THE MATERIAL	43.000 C.Y.		
	Eutaw Construction Company, Inc.	40.000 0.11	\$77.7000	\$3,341.10
	Volunteer Paving, LLC		\$77.7000 \$75.0000	\$3,225.00
	Dement Construction Company, LLC		\$65.0000	\$2,795.00
	Rogers Group, Inc.		\$88.2700	\$3,795.61
	Bell & Associates Construction, LLC		\$65.0000	\$2,795.00
	Vulcan Construction Materials, LLC		\$60.0000	\$2,580.00
	Jones Bros. Contractors, LLC		\$50.0000	\$2,150.00
	Wright Brothers Construction Company, Inc.		\$70.5000	\$3,031.50
208-01 05	BROOMING & DEGRASSING SHOULDERS			
200-01.03	BROOMING & BESTADOING GROOLDERG	6.000 L.M.		
	Eutaw Construction Company, Inc.	0.000 =	\$806.8000	\$4,840.80
	Volunteer Paving, LLC		\$1,500.0000	\$9,000.00
	Dement Construction Company, LLC		\$1,000.0000	\$6,000.00
	Rogers Group, Inc.		\$1,404.3100	\$8,425.86
	Bell & Associates Construction, LLC		\$2,800.0000	\$16,800.00
	Vulcan Construction Materials, LLC		\$800.0000	\$4,800.00
	Jones Bros. Contractors, LLC		\$980.0000	\$5,880.00
	Wright Brothers Construction Company, Inc.		\$1,080.0000	\$6,480.00
209-02.07	18" TEMPORARY SLOPE DRAIN			
		253.000 L.F.		
	Eutaw Construction Company, Inc.		\$34.2000	\$8,652.60
	Volunteer Paving, LLC		\$101.5000	\$25,679.50
	Dement Construction Company, LLC		\$20.0000	\$5,060.00
	Rogers Group, Inc.		\$32.1000	\$8,121.30
	Bell & Associates Construction, LLC		\$45.0000	\$11,385.00
	Vulcan Construction Materials, LLC		\$18.0000	\$4,554.00
	Jones Bros. Contractors, LLC		\$18.0000	\$4,554.00
	Wright Brothers Construction Company, Inc.		\$39.2500	\$9,930.25
209-05	SEDIMENT REMOVAL			
		1,323.000 C.Y.		
	Eutaw Construction Company, Inc.		\$7.4000	\$9,790.20
	Volunteer Paving, LLC		\$25.0000	\$33,075.00
	Dement Construction Company, LLC		\$15.0000	\$19,845.00
	Rogers Group, Inc.		\$30.1000	\$39,822.30
	Bell & Associates Construction, LLC		\$30.0000	\$39,690.00
	Vulcan Construction Materials, LLC		\$12.0000	\$15,876.00
	Jones Bros. Contractors, LLC		\$10.0000	\$13,230.00
	Wright Brothers Construction Company, Inc.		\$13.2000	\$17,463.60

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)			
	22,013.000 L.F.		
Eutaw Construction Company, Inc.	,	\$4.5000	\$99,058.50
Volunteer Paving, LLC		\$3.8000	\$83,649.40
Dement Construction Company, LLC		\$5.2500	\$115,568.25
Rogers Group, Inc.		\$5.2700	\$116,008.51
Bell & Associates Construction, LLC		\$4.0000	\$88,052.00
Vulcan Construction Materials, LLC		\$4.3000	\$94,655.90
Jones Bros. Contractors, LLC		\$3.6000	\$79,246.80
Wright Brothers Construction Company, Inc.		\$4.0000	\$88,052.00
209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING)			
	24,681.000 L.F.		
Eutaw Construction Company, Inc.		\$1.8000	\$44,425.80
Volunteer Paving, LLC		\$1.6500	\$40,723.65
Dement Construction Company, LLC		\$1.7500	\$43,191.75
Rogers Group, Inc.		\$1.7600	\$43,438.56
Bell & Associates Construction, LLC		\$2.0000	\$49,362.00
Vulcan Construction Materials, LLC		\$2.2500	\$55,532.25
Jones Bros. Contractors, LLC		\$1.8000	\$44,425.80
Wright Brothers Construction Company, Inc.		\$2.0000	\$49,362.00
209-08.07 ROCK CHECK DAM			
	317.000 EACH		
Eutaw Construction Company, Inc.		\$306.1000	\$97,033.70
Volunteer Paving, LLC		\$295.0000	\$93,515.00
Dement Construction Company, LLC		\$350.0000	\$110,950.00
Rogers Group, Inc.		\$401.2400	\$127,193.08
Bell & Associates Construction, LLC		\$320.0000	\$101,440.00
Vulcan Construction Materials, LLC		\$294.0000	\$93,198.00
Jones Bros. Contractors, LLC		\$360.0000	\$114,120.00
Wright Brothers Construction Company, Inc.		\$402.0000	\$127,434.00
209-08.08 ENHANCED ROCK CHECK DAM			
	82.000 EACH		
Eutaw Construction Company, Inc.		\$383.4000	\$31,438.80
Volunteer Paving, LLC		\$350.0000	\$28,700.00
Dement Construction Company, LLC		\$550.0000	\$45,100.00
Rogers Group, Inc.		\$576.7700	\$47,295.14
Bell & Associates Construction, LLC		\$380.0000	\$31,160.00
Vulcan Construction Materials, LLC		\$349.0000	\$28,618.00
Jones Bros. Contractors, LLC		\$480.0000	\$39,360.00
Wright Brothers Construction Company, Inc.		\$540.0000	\$44,280.00

		CONTI	RACT CNV176
	UI	NIT PRICE	EXTENSION
209-09.01 SANDBAGS			
	2,800.000 BAG		
Eutaw Construction Company, Inc.		\$4.2000	\$11,760.00
Volunteer Paving, LLC		\$4.5000	\$12,600.00
Dement Construction Company, LLC		\$7.0000	\$19,600.00
Rogers Group, Inc.		\$4.0100	\$11,228.00
Bell & Associates Construction, LLC		\$5.5000	\$15,400.00
Vulcan Construction Materials, LLC		\$4.5000	\$12,600.00
Jones Bros. Contractors, LLC		\$4.4000	\$12,320.00
Wright Brothers Construction Company, Inc.		\$7.9000	\$22,120.00
209-09.03 SEDIMENT FILTER BAG (15' X 15')			
	12.000 EACH		
Eutaw Construction Company, Inc.	9	\$473.0000	\$5,676.00
Volunteer Paving, LLC		\$375.0000	\$4,500.00
Dement Construction Company, LLC	9	\$150.0000	\$1,800.00
Rogers Group, Inc.	9	\$150.4600	\$1,805.52
Bell & Associates Construction, LLC	\$	\$400.0000	\$4,800.00
Vulcan Construction Materials, LLC		\$374.0000	\$4,488.00
Jones Bros. Contractors, LLC	\$1	,200.0000	\$14,400.00
Wright Brothers Construction Company, Inc.	\$1	,060.0000	\$12,720.00
209-09.43 CURB INLET PROTECTION (TYPE 4)			
	13.000 EACH		
Eutaw Construction Company, Inc.		\$215.4000	\$2,800.20
Volunteer Paving, LLC	9	\$225.0000	\$2,925.00
Dement Construction Company, LLC	9	\$128.8000	\$1,674.40
Rogers Group, Inc.	9	\$129.2000	\$1,679.60
Bell & Associates Construction, LLC	9	\$230.0000	\$2,990.00
Vulcan Construction Materials, LLC	9	\$225.0000	\$2,925.00
Jones Bros. Contractors, LLC	•	\$220.0000	\$2,860.00
Wright Brothers Construction Company, Inc.	\$	\$246.0000	\$3,198.00
209-20.03 POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
	132.000 S.Y.		
Eutaw Construction Company, Inc.		\$1.0000	\$132.00
Volunteer Paving, LLC		\$3.5000	\$462.00
Dement Construction Company, LLC		\$5.0000	\$660.00
Rogers Group, Inc.		\$65.2000	\$8,606.40
Bell & Associates Construction, LLC		\$3.8000	\$501.60
Vulcan Construction Materials, LLC		\$3.5000	\$462.00
Jones Bros. Contractors, LLC		\$5.0000	\$660.00
Wright Brothers Construction Company, Inc.		\$5.6000	\$739.20

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
209-40.33 CATCH BASIN PROTECTION (TYPE D)		
	49.000 EACH	
Eutaw Construction Company, Inc.	\$364.7000	\$17,870.30
Volunteer Paving, LLC	\$200.0000	
Dement Construction Company, LLC	\$250.0000	
Rogers Group, Inc.	\$250.7700	\$12,287.73
Bell & Associates Construction, LLC	\$210.0000	\$10,290.00
Vulcan Construction Materials, LLC	\$200.0000	\$9,800.00
Jones Bros. Contractors, LLC	\$240.0000	\$11,760.00
Wright Brothers Construction Company, Inc.	\$268.0000	\$13,132.00
209-40.41 CATCH BASIN FILTER ASSEMBLY(TYPE 1)		
	4.000 EACH	
Eutaw Construction Company, Inc.	\$604.0000	\$2,416.00
Volunteer Paving, LLC	\$450.0000	
Dement Construction Company, LLC	\$400.0000	
Rogers Group, Inc.	\$401.2400	\$1,604.96
Bell & Associates Construction, LLC	\$490.0000	\$1,960.00
Vulcan Construction Materials, LLC	\$450.0000	\$1,800.00
Jones Bros. Contractors, LLC	\$900.0000	\$3,600.00
Wright Brothers Construction Company, Inc.	\$1,000.0000	\$4,000.00
209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2)		
	3.000 EACH	
Eutaw Construction Company, Inc.	\$604.0000	\$1,812.00
Volunteer Paving, LLC	\$450.0000	\$1,350.00
Dement Construction Company, LLC	\$1,000.0000	\$3,000.00
Rogers Group, Inc.	\$1,003.0700	\$3,009.21
Bell & Associates Construction, LLC	\$490.0000	\$1,470.00
Vulcan Construction Materials, LLC	\$450.0000	\$1,350.00
Jones Bros. Contractors, LLC	\$900.0000	. ,
Wright Brothers Construction Company, Inc.	\$1,000.0000	\$3,000.00
209-40.46 CATCH BASIN FILTER ASSEMBLY(TYPE 6)		
	8.000 EACH	
Eutaw Construction Company, Inc.	\$697.5000	\$5,580.00
Volunteer Paving, LLC	\$450.0000	\$3,600.00
Dement Construction Company, LLC	\$400.0000	\$3,200.00
Rogers Group, Inc.	\$401.2400	
Bell & Associates Construction, LLC	\$490.0000	\$3,920.00
Vulcan Construction Materials, LLC	\$450.0000	\$3,600.00
Jones Bros. Contractors, LLC	\$900.0000	
Wright Brothers Construction Company, Inc.	\$1,000.0000	\$8,000.00

				CONTRACT CHV170
			UNIT PRICE	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		112,357.000 TON		
	Eutaw Construction Company, Inc.	·	\$15.7000	\$1,764,004.90
	Volunteer Paving, LLC		\$16.2600	\$1,826,924.82
	Dement Construction Company, LLC		\$16.5000	\$1,853,890.50
	Rogers Group, Inc.		\$18.1700	\$2,041,526.69
	Bell & Associates Construction, LLC		\$21.5000	\$2,415,675.50
	Vulcan Construction Materials, LLC		\$19.5000	\$2,190,961.50
	Jones Bros. Contractors, LLC		\$20.0000	\$2,247,140.00
	Wright Brothers Construction Company, Inc.		\$22.5000	\$2,528,032.50
303-01.01	GRANULAR BACKFILL (ROADWAY)			
	·	206.000 TON		
	Eutaw Construction Company, Inc.		\$36.6000	\$7,539.60
	Volunteer Paving, LLC		\$36.0000	\$7,416.00
	Dement Construction Company, LLC		\$35.0000	\$7,210.00
	Rogers Group, Inc.		\$42.1300	\$8,678.78
	Bell & Associates Construction, LLC		\$29.0000	\$5,974.00
	Vulcan Construction Materials, LLC		\$22.0000	\$4,532.00
	Jones Bros. Contractors, LLC		\$43.0000	\$8,858.00
	Wright Brothers Construction Company, Inc.		\$24.7500	\$5,098.50
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		222.000 TON		
	Eutaw Construction Company, Inc.		\$28.7000	\$6,371.40
	Volunteer Paving, LLC		\$45.0000	\$9,990.00
	Dement Construction Company, LLC		\$30.0000	\$6,660.00
	Rogers Group, Inc.		\$45.1400	\$10,021.08
	Bell & Associates Construction, LLC		\$42.0000	\$9,324.00
	Vulcan Construction Materials, LLC		\$34.0000	\$7,548.00
	Jones Bros. Contractors, LLC		\$35.0000	\$7,770.00
	Wright Brothers Construction Company, Inc.		\$35.5000	\$7,881.00
303-10.04	MINERAL AGGREGATE (SIZE 57)			
		315.000 TON		
	Eutaw Construction Company, Inc.		\$5.9000	\$1,858.50
	Volunteer Paving, LLC		\$45.0000	\$14,175.00
	Dement Construction Company, LLC		\$30.0000	\$9,450.00
	Rogers Group, Inc.		\$67.2000	\$21,168.00
	Bell & Associates Construction, LLC		\$42.0000	\$13,230.00
	Vulcan Construction Materials, LLC		\$28.0000	\$8,820.00
	Jones Bros. Contractors, LLC		\$35.0000	\$11,025.00
	Wright Brothers Construction Company, Inc.		\$33.2500	\$10,473.75

		•	ONTINAOT ONTITO
		UNIT PRICE	EXTENSION
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B	3-M2		
	2,924.000 TON		
Eutaw Construction Company, Inc.	_,,	\$65.0000	\$190,060.00
Volunteer Paving, LLC		\$50.0700	\$146,404.68
Dement Construction Company, LLC		\$78.7500	\$230,265.00
Rogers Group, Inc.		\$94.4400	\$276,142.56
Bell & Associates Construction, LLC		\$82.0000	\$239,768.00
Vulcan Construction Materials, LLC		\$78.7500	\$230,265.00
Jones Bros. Contractors, LLC		\$78.7500	\$230,265.00
Wright Brothers Construction Company, Inc.		\$86.5000	\$252,926.00
307-01.22 ASP. CONC. MIX(PG76-22) (BPMB-HM) GR. A-S			
	5,204.000 TON		
Eutaw Construction Company, Inc.		\$82.2000	\$427,768.80
Volunteer Paving, LLC		\$63.3200	\$329,517.28
Dement Construction Company, LLC		\$78.7500	\$409,815.00
Rogers Group, Inc.		\$74.4800	\$387,593.92
Bell & Associates Construction, LLC		\$82.0000	\$426,728.00
Vulcan Construction Materials, LLC		\$78.7500	\$409,815.00
Jones Bros. Contractors, LLC		\$78.7500	\$409,815.00
Wright Brothers Construction Company, Inc.		\$86.5000	\$450,146.00
307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
	4,860.000 TON		
Eutaw Construction Company, Inc.		\$62.3000	\$302,778.00
Volunteer Paving, LLC		\$48.0300	\$233,425.80
Dement Construction Company, LLC		\$71.5000	\$347,490.00
Rogers Group, Inc.		\$66.5400	\$323,384.40
Bell & Associates Construction, LLC		\$75.0000	\$364,500.00
Vulcan Construction Materials, LLC		\$72.0000	\$349,920.00
Jones Bros. Contractors, LLC		\$71.5000	\$347,490.00
Wright Brothers Construction Company, Inc.		\$78.5000	\$381,510.00
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B	3-M2		
	3,183.000 TON		
Eutaw Construction Company, Inc.		\$68.0000	\$216,444.00
Volunteer Paving, LLC		\$52.4100	\$166,821.03
Dement Construction Company, LLC		\$77.0000	\$245,091.00
Rogers Group, Inc.		\$77.9800	\$248,210.34
Bell & Associates Construction, LLC		\$80.0000	\$254,640.00
Vulcan Construction Materials, LLC		\$77.0000	\$245,091.00
Jones Bros. Contractors, LLC		\$77.0000	\$245,091.00
Wright Brothers Construction Company, Inc.		\$84.5000	\$268,963.50

		UNIT PRIC	E EXTENSION
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A		
		8,094.000 TON	
	Eutaw Construction Company, Inc.	\$84.600	0 \$684,752.40
	Volunteer Paving, LLC	\$65.190	0 \$527,647.86
	Dement Construction Company, LLC	\$70.500	0 \$570,627.00
	Rogers Group, Inc.	\$72.010	0 \$582,848.94
	Bell & Associates Construction, LLC	\$74.000	0 \$598,956.00
	Vulcan Construction Materials, LLC	\$70.500	0 \$570,627.00
	Jones Bros. Contractors, LLC	\$70.500	0 \$570,627.00
	Wright Brothers Construction Company, Inc.	\$77.500	0 \$627,285.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-N	12	
		3,398.000 TON	
	Eutaw Construction Company, Inc.	\$77.800	0 \$264,364.40
	Volunteer Paving, LLC	\$59.940	0 \$203,676.12
	Dement Construction Company, LLC	\$78.000	0 \$265,044.00
	Rogers Group, Inc.	\$74.810	0 \$254,204.38
	Bell & Associates Construction, LLC	\$83.000	0 \$282,034.00
	Vulcan Construction Materials, LLC	\$78.000	
	Jones Bros. Contractors, LLC	\$78.000	0 \$265,044.00
	Wright Brothers Construction Company, Inc.	\$86.000	0 \$292,228.00
313-03	TREATED PERMEABLE BASE		
		16,965.000 S.Y.	
	Eutaw Construction Company, Inc.	\$18.800	0 \$318,942.00
	Volunteer Paving, LLC	\$14.480	0 \$245,653.20
	Dement Construction Company, LLC	\$19.750	0 \$335,058.75
	Rogers Group, Inc.	\$15.740	· · ·
	Bell & Associates Construction, LLC	\$21.000	0 \$356,265.00
	Vulcan Construction Materials, LLC	\$19.750	
	Jones Bros. Contractors, LLC	\$19.750	
	Wright Brothers Construction Company, Inc.	\$21.750	0 \$368,988.75
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
		247.000 TON	
	Eutaw Construction Company, Inc.	\$819.800	0 \$202,490.60
	Volunteer Paving, LLC	\$631.580	0 \$156,000.26
	Dement Construction Company, LLC	\$885.000	
	Rogers Group, Inc.	\$734.940	. ,
	Bell & Associates Construction, LLC	\$950.000	
	Vulcan Construction Materials, LLC	\$885.000	
	Jones Bros. Contractors, LLC	\$885.000	
	Wright Brothers Construction Company, Inc.	\$970.000	0 \$239,590.00

			CC	MIRACI CHVI76
			UNIT PRICE	EXTENSION
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		965.000 TON		
	Eutaw Construction Company, Inc.		\$54.7000	\$52,785.50
	Volunteer Paving, LLC		\$42.1100	\$40,636.15
	Dement Construction Company, LLC		\$50.0000	\$48,250.00
	Rogers Group, Inc.		\$69.8200	\$67,376.30
	Bell & Associates Construction, LLC		\$52.0000	\$50,180.00
	Vulcan Construction Materials, LLC		\$50.0000	\$48,250.00
	Jones Bros. Contractors, LLC		\$50.0000	\$48,250.00
	Wright Brothers Construction Company, Inc.		\$55.0000	\$53,075.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		37.000 TON		
	Eutaw Construction Company, Inc.		\$819.8000	\$30,332.60
	Volunteer Paving, LLC		\$631.5800	\$23,368.46
	Dement Construction Company, LLC		\$735.0000	\$27,195.00
	Rogers Group, Inc.		\$790.4400	\$29,246.28
	Bell & Associates Construction, LLC		\$800.0000	\$29,600.00
	Vulcan Construction Materials, LLC		\$735.0000	\$27,195.00
	Jones Bros. Contractors, LLC		\$735.0000	\$27,195.00
	Wright Brothers Construction Company, Inc.		\$810.0000	\$29,970.00
407-20.0	5 SAW CUTTING ASPHALT PAVEMENT			
		90.000 L.F.		
	Eutaw Construction Company, Inc.		\$2.3000	\$207.00
	Volunteer Paving, LLC		\$5.2600	\$473.40
	Dement Construction Company, LLC		\$10.0000	\$900.00
	Rogers Group, Inc.		\$5.0100	\$450.90
	Bell & Associates Construction, LLC		\$22.0000	\$1,980.00
	Vulcan Construction Materials, LLC		\$6.0000	\$540.00
	Jones Bros. Contractors, LLC		\$15.0000	\$1,350.00
	Wright Brothers Construction Company, Inc.		\$6.6000	\$594.00
411-01.0	7 ACS MIX (PG64-22) GRADING E SHOULDER			
		2,301.000 TON		
	Eutaw Construction Company, Inc.		\$72.1000	\$165,902.10
	Volunteer Paving, LLC		\$75.0000	\$172,575.00
	Dement Construction Company, LLC		\$94.7500	\$218,019.75
	Rogers Group, Inc.		\$87.0400	\$200,279.04
	Bell & Associates Construction, LLC		\$100.0000	\$230,100.00
	Vulcan Construction Materials, LLC		\$94.7500	\$218,019.75
	Jones Bros. Contractors, LLC		\$94.7500	\$218,019.75
	Wright Brothers Construction Company, Inc.		\$104.0000	\$239,304.00

			CONTINACT CITYTO		
		UNIT PRICE	EXTENSION		
411-01.10 ACS MIX(PG64-22) GRADING D					
, ,	683.000 TON				
Eutaw Construction Company, Inc.		\$113.0000	\$77,179.00		
Volunteer Paving, LLC		\$110.0000	\$75,130.00		
Dement Construction Company, LLC		\$110.0000	\$75,130.00		
Rogers Group, Inc.		\$167.8700	\$114,655.21		
Bell & Associates Construction, LLC		\$115.0000	\$78,545.00		
Vulcan Construction Materials, LLC		\$110.0000	\$75,130.00		
Jones Bros. Contractors, LLC		\$110.0000	\$75,130.00		
Wright Brothers Construction Company	, Inc.	\$121.0000	\$82,643.00		
411-02.10 ACS MIX(PG70-22) GRADING D					
( ) , ,	2,142.000 TON				
Eutaw Construction Company, Inc.		\$108.3000	\$231,978.60		
Volunteer Paving, LLC		\$83.4400	\$178,728.48		
Dement Construction Company, LLC		\$94.7500	\$202,954.50		
Rogers Group, Inc.		\$93.0000	\$199,206.00		
Bell & Associates Construction, LLC		\$100.0000	\$214,200.00		
Vulcan Construction Materials, LLC		\$94.7500	\$202,954.50		
Jones Bros. Contractors, LLC		\$94.7500	\$202,954.50		
Wright Brothers Construction Company	y, Inc.	\$104.0000	\$222,768.00		
411-03.10 ACS MIX(PG76-22) GRADING D					
	7,644.000 TON				
Eutaw Construction Company, Inc.		\$114.1000	\$872,180.40		
Volunteer Paving, LLC		\$87.9200	\$672,060.48		
Dement Construction Company, LLC		\$96.0000	\$733,824.00		
Rogers Group, Inc.		\$95.0000	\$726,180.00		
Bell & Associates Construction, LLC		\$100.0000	\$764,400.00		
Vulcan Construction Materials, LLC		\$96.0000	\$733,824.00		
Jones Bros. Contractors, LLC		\$96.0000	\$733,824.00		
Wright Brothers Construction Company	y, Inc.	\$106.0000	\$810,264.00		
411-12.01 SCORING SHOULDERS (CONTINUOUS	) (16IN WIDTH)				
	1.100 L.M.				
Eutaw Construction Company, Inc.		\$2,272.5000	\$2,499.75		
Volunteer Paving, LLC		\$4,500.0000	\$4,950.00		
Dement Construction Company, LLC		\$1,500.0000	\$1,650.00		
Rogers Group, Inc.		\$2,106.4600	\$2,317.11		
Bell & Associates Construction, LLC		\$2,300.0000	\$2,530.00		
Vulcan Construction Materials, LLC		\$1,500.0000	\$1,650.00		
Jones Bros. Contractors, LLC		\$2,100.0000	\$2,310.00		
Wright Brothers Construction Company	y, Inc.	\$2,610.0000	\$2,871.00		
-					

	`	CHINACI CHIII
	UNIT PRICE	EXTENSION
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
1.000	L.M.	
Eutaw Construction Company, Inc.	\$2,272.5000	\$2,272.50
Volunteer Paving, LLC	\$4,500.0000	\$4,500.00
Dement Construction Company, LLC	\$1,500.0000	\$1,500.00
Rogers Group, Inc.	\$2,106.4600	\$2,106.46
Bell & Associates Construction, LLC	\$2,300.0000	\$2,300.00
Vulcan Construction Materials, LLC	\$1,500.0000	\$1,500.00
Jones Bros. Contractors, LLC	\$2,100.0000	\$2,100.00
Wright Brothers Construction Company, Inc.	\$2,640.0000	\$2,640.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
2,807.000	TON	
Eutaw Construction Company, Inc.	\$29.5000	\$82,806.50
Volunteer Paving, LLC	\$32.7100	\$91,816.97
Dement Construction Company, LLC	\$22.0000	\$61,754.00
Rogers Group, Inc.	\$18.6000	\$52,210.20
Bell & Associates Construction, LLC	\$24.0000	\$67,368.00
Vulcan Construction Materials, LLC	\$22.0000	\$61,754.00
Jones Bros. Contractors, LLC	\$27.2500	\$76,490.75
Wright Brothers Construction Company, Inc.	\$24.2500	\$68,069.75
501-01.03 PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10"		
16,965.000	S.Y.	
Eutaw Construction Company, Inc.	\$114.8000	\$1,947,582.00
Volunteer Paving, LLC	\$104.0000	\$1,764,360.00
Dement Construction Company, LLC	\$90.0000	\$1,526,850.00
Rogers Group, Inc.	\$105.3200	\$1,786,753.80
Bell & Associates Construction, LLC	\$99.0000	\$1,679,535.00
Vulcan Construction Materials, LLC	\$114.0000	\$1,934,010.00
Jones Bros. Contractors, LLC	\$87.3000	\$1,481,044.50
Wright Brothers Construction Company, Inc.	\$114.0000	\$1,934,010.00
502-04.01 SAWING CONCRETE PAVEMENT (FULL DEPTH)		
1,300.000	L.F.	
Eutaw Construction Company, Inc.	\$4.5000	\$5,850.00
Volunteer Paving, LLC	\$15.0000	\$19,500.00
Dement Construction Company, LLC	\$8.6500	\$11,245.00
Rogers Group, Inc.	\$15.0400	\$19,552.00
Bell & Associates Construction, LLC	\$10.0000	\$13,000.00
Vulcan Construction Materials, LLC	\$10.0000	\$13,000.00
Jones Bros. Contractors, LLC	\$8.6500	\$11,245.00
Wright Brothers Construction Company, Inc.	\$9.7000	\$12,610.00

		CONTRACT CITTIO
	UNIT PRICE	EXTENSION
604-01.40 BOX CULVERTS, EXISTING (HEADWALL/WINGWALL EXTENSIONS	5)	
THE BOX GOLVERTO, EXIGNICO (NEADWALL WINGOVALL EXTENSION)	455.000 S.F.	
Eutaw Construction Company, Inc.	\$90.3000	\$41,086.50
Volunteer Paving, LLC	\$88.000	\$40,040.00
Dement Construction Company, LLC	\$150.0000	\$68,250.00
Rogers Group, Inc.	\$150.4600	\$68,459.30
Bell & Associates Construction, LLC	\$128.0000	\$58,240.00
Vulcan Construction Materials, LLC	\$130.0000	\$59,150.00
Jones Bros. Contractors, LLC	\$120.0000	\$54,600.00
Wright Brothers Construction Company, Inc.	\$87.0000	\$39,585.00
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)		
	2,827.000 L.F.	
Eutaw Construction Company, Inc.	\$55.4000	\$156,615.80
Volunteer Paving, LLC	\$105.0000	\$296,835.00
Dement Construction Company, LLC	\$60.0000	\$169,620.00
Rogers Group, Inc.	\$72.2300	\$204,194.21
Bell & Associates Construction, LLC	\$102.5000	\$289,767.50
Vulcan Construction Materials, LLC	\$124.0000	\$350,548.00
Jones Bros. Contractors, LLC	\$62.0000	\$175,274.00
Wright Brothers Construction Company, Inc.	\$55.0000	\$155,485.00
607-03.30 18" PIPE CULVERT		
	289.000 L.F.	
Eutaw Construction Company, Inc.	\$72.4000	\$20,923.60
Volunteer Paving, LLC	\$83.0000	\$23,987.00
Dement Construction Company, LLC	\$60.0000	\$17,340.00
Rogers Group, Inc.	\$82.2600	\$23,773.14
Bell & Associates Construction, LLC	\$102.5000	\$29,622.50
Vulcan Construction Materials, LLC	\$124.0000	\$35,836.00
Jones Bros. Contractors, LLC	\$62.0000	\$17,918.00
Wright Brothers Construction Company, Inc.	\$64.0000	\$18,496.00
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)		
	73.000 L.F.	
Eutaw Construction Company, Inc.	\$127.5000	\$9,307.50
Volunteer Paving, LLC	\$97.0000	\$7,081.00
Dement Construction Company, LLC	\$70.0000	\$5,110.00
Rogers Group, Inc.	\$110.3400	\$8,054.82
Bell & Associates Construction, LLC	\$116.5000	\$8,504.50
Vulcan Construction Materials, LLC	\$180.0000	\$13,140.00
Jones Bros. Contractors, LLC	\$94.0000	\$6,862.00
Wright Brothers Construction Company, Inc.	\$104.0000	\$7,592.00

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
607-05.30 24" PIPE CULVERT		
10	7.000 L.F.	
Eutaw Construction Company, Inc.	\$86.9000	\$9,298.30
Volunteer Paving, LLC	\$100.0000	\$10,700.00
Dement Construction Company, LLC	\$70.0000	\$7,490.00
Rogers Group, Inc.	\$110.3400	\$11,806.38
Bell & Associates Construction, LLC	\$166.5000	\$17,815.50
Vulcan Construction Materials, LLC	\$180.0000	\$19,260.00
Jones Bros. Contractors, LLC	\$94.0000	\$10,058.00
Wright Brothers Construction Company, Inc.	\$94.5000	\$10,111.50
607-07.02 36" CONCRETE PIPE CULVERT (CLASS III)		
1,14	1.000 L.F.	
Eutaw Construction Company, Inc.	\$111.2000	\$126,879.20
Volunteer Paving, LLC	\$172.0000	\$196,252.00
Dement Construction Company, LLC	\$105.0000	\$119,805.00
Rogers Group, Inc.	\$136.4200	\$155,655.22
Bell & Associates Construction, LLC	\$154.0000	\$175,714.00
Vulcan Construction Materials, LLC	\$185.0000	\$211,085.00
Jones Bros. Contractors, LLC	\$118.0000	\$134,638.00
Wright Brothers Construction Company, Inc.	\$117.0000	\$133,497.00
607-07.30 36" PIPE CULVERT		
2	1.000 L.F.	
Eutaw Construction Company, Inc.	\$105.1000	\$2,207.10
Volunteer Paving, LLC	\$189.0000	\$3,969.00
Dement Construction Company, LLC	\$105.0000	\$2,205.00
Rogers Group, Inc.	\$190.5900	\$4,002.39
Bell & Associates Construction, LLC	\$154.0000	\$3,234.00
Vulcan Construction Materials, LLC	\$185.0000	\$3,885.00
Jones Bros. Contractors, LLC	\$195.0000	\$4,095.00
Wright Brothers Construction Company, Inc.	\$139.0000	\$2,919.00
607-37.04 30" CORRUGATED METAL PIPE CULVERT		
3	0.000 L.F.	
Eutaw Construction Company, Inc.	\$130.1000	\$3,903.00
Volunteer Paving, LLC	\$143.0000	\$4,290.00
Dement Construction Company, LLC	\$50.0000	\$1,500.00
Rogers Group, Inc.	\$200.6100	\$6,018.30
Bell & Associates Construction, LLC	\$140.0000	\$4,200.00
Vulcan Construction Materials, LLC	\$263.0000	\$7,890.00
Jones Bros. Contractors, LLC	\$150.0000	\$4,500.00
Wright Brothers Construction Company, Inc.	\$122.0000	\$3,660.00

		CC	DNIRACI CNV176
		UNIT PRICE	EXTENSION
607-39.02 18" PIPE CULVERT (SIDE DRAIN)			
	657.000 L.F.		
Eutaw Construction Company, Inc.		\$77.1000	\$50,654.70
Volunteer Paving, LLC		\$71.0000	\$46,647.00
Dement Construction Company, LLC		\$25.0000	\$16,425.00
Rogers Group, Inc.		\$72.2300	\$47,455.11
Bell & Associates Construction, LLC		\$73.0000	\$47,961.00
Vulcan Construction Materials, LLC		\$74.0000	\$48,618.00
Jones Bros. Contractors, LLC		\$56.0000	\$36,792.00
Wright Brothers Construction Company, Inc.		\$53.0000	\$34,821.00
607-39.03 24" PIPE CULVERT (SIDE DRAIN)			
	54.000 L.F.		
Eutaw Construction Company, Inc.		\$92.6000	\$5,000.40
Volunteer Paving, LLC		\$77.0000	\$4,158.00
Dement Construction Company, LLC		\$30.0000	\$1,620.00
Rogers Group, Inc.		\$190.5900	\$10,291.86
Bell & Associates Construction, LLC		\$89.0000	\$4,806.00
Vulcan Construction Materials, LLC		\$132.0000	\$7,128.00
Jones Bros. Contractors, LLC		\$70.0000	\$3,780.00
Wright Brothers Construction Company, Inc.		\$70.5000	\$3,807.00
611-01.02 MANHOLES, > 4' - 8' DEPTH			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$4,983.0000	\$9,966.00
Volunteer Paving, LLC		\$5,212.0000	\$10,424.00
Dement Construction Company, LLC		\$5,600.0000	\$11,200.00
Rogers Group, Inc.		\$6,820.9200	\$13,641.84
Bell & Associates Construction, LLC		\$6,700.0000	\$13,400.00
Vulcan Construction Materials, LLC		\$5,600.0000	\$11,200.00
Jones Bros. Contractors, LLC		\$5,500.0000	\$11,000.00
Wright Brothers Construction Company, Inc.		\$6,940.0000	\$13,880.00
611-02.11 JUNCTION BOX, TYPE 2			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$5,106.0000	\$10,212.00
Volunteer Paving, LLC		\$6,165.0000	\$12,330.00
Dement Construction Company, LLC		\$2,900.0000	\$5,800.00
Rogers Group, Inc.		\$7,422.7600	\$14,845.52
Bell & Associates Construction, LLC		\$9,150.0000	\$18,300.00
Vulcan Construction Materials, LLC		\$2,900.0000	\$5,800.00
Jones Bros. Contractors, LLC		\$5,600.0000	\$11,200.00
Wright Brothers Construction Company, Inc.		\$10,500.0000	\$21,000.00

		'	CONTRACT CNV176
		UNIT PRICE	EXTENSION
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)			
	18.700 C.Y.		
Eutaw Construction Company, Inc.		\$1,568.7500	\$29,335.63
Volunteer Paving, LLC		\$1,944.0000	\$36,352.80
Dement Construction Company, LLC		\$1,025.0000	\$19,167.50
Rogers Group, Inc.		\$1,805.5400	\$33,763.60
Bell & Associates Construction, LLC		\$1,150.0000	\$21,505.00
Vulcan Construction Materials, LLC		\$1,025.0000	\$19,167.50
Jones Bros. Contractors, LLC		\$2,000.0000	\$37,400.00
Wright Brothers Construction Company, Inc.		\$1,670.0000	\$31,229.00
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
·	490.000 LB.		
Eutaw Construction Company, Inc.		\$17.5000	\$8,575.00
Volunteer Paving, LLC		\$4.5000	\$2,205.00
Dement Construction Company, LLC		\$1.4500	\$710.50
Rogers Group, Inc.		\$5.0100	\$2,454.90
Bell & Associates Construction, LLC		\$3.0000	\$1,470.00
Vulcan Construction Materials, LLC		\$1.4500	\$710.50
Jones Bros. Contractors, LLC		\$2.0000	\$980.00
Wright Brothers Construction Company, Inc.		\$7.3500	\$3,601.50
611-07.55 18IN ENDWALL (CROSS DRAIN) 4:1			
	5.000 EACH		
Eutaw Construction Company, Inc.		\$3,092.0000	\$15,460.00
Volunteer Paving, LLC		\$3,920.0000	\$19,600.00
Dement Construction Company, LLC		\$1,250.0000	\$6,250.00
Rogers Group, Inc.		\$2,507.7000	\$12,538.50
Bell & Associates Construction, LLC		\$2,600.0000	\$13,000.00
Vulcan Construction Materials, LLC		\$1,250.0000	\$6,250.00
Jones Bros. Contractors, LLC		\$2,200.0000	\$11,000.00
Wright Brothers Construction Company, Inc.		\$2,380.0000	\$11,900.00
611-07.56 18IN ENDWALL (CROSS DRAIN) 6:1			
	3.000 EACH		
Eutaw Construction Company, Inc.		\$3,894.5000	\$11,683.50
Volunteer Paving, LLC		\$5,288.0000	\$15,864.00
Dement Construction Company, LLC		\$1,727.0000	\$5,181.00
Rogers Group, Inc.		\$3,009.2200	\$9,027.66
Bell & Associates Construction, LLC		\$3,250.0000	\$9,750.00
Vulcan Construction Materials, LLC		\$1,727.0000	\$5,181.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$7,500.00
Wright Brothers Construction Company, Inc.		\$3,090.0000	\$9,270.00

		00	MINAGI GIVIII
		UNIT PRICE	EXTENSION
611-07.57 24IN ENDWALL (CROSS DRAIN) 3:1			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$3,516.7500	\$7,033.50
Volunteer Paving, LLC		\$4,872.0000	\$9,744.00
Dement Construction Company, LLC		\$1,492.0000	\$2,984.00
Rogers Group, Inc.		\$3,109.5400	\$6,219.08
Bell & Associates Construction, LLC		\$2,950.0000	\$5,900.00
Vulcan Construction Materials, LLC		\$1,492.0000	\$2,984.00
Jones Bros. Contractors, LLC		\$2,600.0000	\$5,200.00
Wright Brothers Construction Company, Inc.		\$2,830.0000	\$5,660.00
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
· · · · ·	2.000 EACH		
Eutaw Construction Company, Inc.		\$4,161.2500	\$8,322.50
Volunteer Paving, LLC		\$5,529.0000	\$11,058.00
Dement Construction Company, LLC		\$1,872.0000	\$3,744.00
Rogers Group, Inc.		\$3,811.7000	\$7,623.40
Bell & Associates Construction, LLC		\$3,450.0000	\$6,900.00
Vulcan Construction Materials, LLC		\$1,872.0000	\$3,744.00
Jones Bros. Contractors, LLC		\$3,000.0000	\$6,000.00
Wright Brothers Construction Company, Inc.		\$3,310.0000	\$6,620.00
611-07.64 36IN ENDWALL (CROSS DRAIN) 4:1			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$7,425.2500	\$7,425.25
Volunteer Paving, LLC		\$8,450.0000	\$8,450.00
Dement Construction Company, LLC		\$4,285.0000	\$4,285.00
Rogers Group, Inc.		\$5,416.6100	\$5,416.61
Bell & Associates Construction, LLC		\$7,900.0000	\$7,900.00
Vulcan Construction Materials, LLC		\$4,285.0000	\$4,285.00
Jones Bros. Contractors, LLC		\$6,700.0000	\$6,700.00
Wright Brothers Construction Company, Inc.		\$7,450.0000	\$7,450.00
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$1,064.2500	\$2,128.50
Volunteer Paving, LLC		\$2,171.0000	\$4,342.00
Dement Construction Company, LLC		\$1,025.0000	\$2,050.00
Rogers Group, Inc.		\$2,006.1500	\$4,012.30
Bell & Associates Construction, LLC		\$1,500.0000	\$3,000.00
Vulcan Construction Materials, LLC		\$1,025.0000	\$2,050.00
Jones Bros. Contractors, LLC		\$2,000.0000	\$4,000.00
Wright Brothers Construction Company, Inc.		\$3,800.0000	\$7,600.00

		(	CONTRACT CNV176
		UNIT PRICE	EXTENSION
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
	4.000 EACH		
Eutaw Construction Company, Inc.		\$7,225.7500	\$28,903.00
Volunteer Paving, LLC		\$7,167.0000	\$28,668.00
Dement Construction Company, LLC		\$6,925.0000	\$27,700.00
Rogers Group, Inc.		\$7,623.3800	\$30,493.52
Bell & Associates Construction, LLC		\$7,100.0000	\$28,400.00
Vulcan Construction Materials, LLC		\$6,925.0000	\$27,700.00
Jones Bros. Contractors, LLC		\$7,100.0000	\$28,400.00
Wright Brothers Construction Company, Inc.		\$8,120.0000	\$32,480.00
611-38.01 CATCH BASINS, TYPE 38, 0' - 4' DEPTH			
	18.000 EACH		
Eutaw Construction Company, Inc.		\$3,555.5000	\$63,999.00
Volunteer Paving, LLC		\$4,825.0000	\$86,850.00
Dement Construction Company, LLC		\$3,275.0000	\$58,950.00
Rogers Group, Inc.		\$4,814.7700	\$86,665.86
Bell & Associates Construction, LLC		\$4,300.0000	\$77,400.00
Vulcan Construction Materials, LLC		\$3,275.0000	\$58,950.00
Jones Bros. Contractors, LLC		\$3,500.0000	\$63,000.00
Wright Brothers Construction Company, Inc.		\$5,220.0000	\$93,960.00
611-39.01 CATCH BASINS, TYPE 39, 0' - 4' DEPTH			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$4,242.0000	\$4,242.00
Volunteer Paving, LLC		\$4,702.0000	\$4,702.00
Dement Construction Company, LLC		\$3,375.0000	\$3,375.00
Rogers Group, Inc.		\$4,012.3000	\$4,012.30
Bell & Associates Construction, LLC		\$5,900.0000	\$5,900.00
Vulcan Construction Materials, LLC		\$3,375.0000	\$3,375.00
Jones Bros. Contractors, LLC		\$6,300.0000	\$6,300.00
Wright Brothers Construction Company, Inc.		\$5,960.0000	\$5,960.00
611-40.01 CATCH BASINS, TYPE 40, 0' - 4' DEPTH			
	8.000 EACH		
Eutaw Construction Company, Inc.		\$6,179.7500	\$49,438.00
Volunteer Paving, LLC		\$8,640.0000	\$69,120.00
Dement Construction Company, LLC		\$5,950.0000	\$47,600.00
Rogers Group, Inc.		\$4,313.2200	\$34,505.76
Bell & Associates Construction, LLC		\$9,300.0000	\$74,400.00
Vulcan Construction Materials, LLC		\$5,950.0000	\$47,600.00
Jones Bros. Contractors, LLC		\$8,900.0000	\$71,200.00
Wright Brothers Construction Company, Inc.		\$8,770.0000	\$70,160.00

			CONTRACT CIVI	1/6
		UNIT PRICE	EXTENSIO	N
611-40.02 CATCH BASINS, TYPE 40, > 4' - 8' DEPTH				
	1.000 EACH			
Eutaw Construction Company, Inc.		\$6,884.7500	\$6,884.75	5
Volunteer Paving, LLC		\$7,510.0000	\$7,510.00	
Dement Construction Company, LLC		\$6,600.0000	\$6,600.00	
Rogers Group, Inc.		\$4,915.0800	\$4,915.08	8
Bell & Associates Construction, LLC		\$9,600.0000	\$9,600.00	0
Vulcan Construction Materials, LLC		\$6,600.0000	\$6,600.00	0
Jones Bros. Contractors, LLC		\$9,100.0000	\$9,100.00	0
Wright Brothers Construction Company, Inc.		\$9,600.0000	\$9,600.00	)
611-40.03 CATCH BASINS, TYPE 40, > 8' - 12' DEPTH				
	1.000 EACH			
Eutaw Construction Company, Inc.		\$9,977.7500	\$9,977.75	5
Volunteer Paving, LLC		\$1,205.0000	\$1,205.00	
Dement Construction Company, LLC		\$7,375.0000	\$7,375.00	
Rogers Group, Inc.		\$7,823.9900	\$7,823.99	
Bell & Associates Construction, LLC		\$13,150.0000	\$13,150.00	0
Vulcan Construction Materials, LLC		\$7,375.0000	\$7,375.00	0
Jones Bros. Contractors, LLC		\$12,000.0000	\$12,000.00	0
Wright Brothers Construction Company, Inc.		\$13,600.0000	\$13,600.00	)
611-41.01 CATCH BASINS, TYPE 41, 0' - 4' DEPTH				
	5.000 EACH			
Eutaw Construction Company, Inc.		\$3,976.0000	\$19,880.00	0
Volunteer Paving, LLC		\$4,495.0000	\$22,475.00	0
Dement Construction Company, LLC		\$3,500.0000	\$17,500.00	0
Rogers Group, Inc.		\$3,009.2200	\$15,046.10	)
Bell & Associates Construction, LLC		\$5,700.0000	\$28,500.00	J
Vulcan Construction Materials, LLC		\$3,500.0000	\$17,500.00	
Jones Bros. Contractors, LLC		\$6,000.0000	\$30,000.00	
Wright Brothers Construction Company, Inc.		\$4,560.0000	\$22,800.00	)
611-41.02 CATCH BASINS, TYPE 41, > 4' - 8' DEPTH				
	4.000 EACH			
Eutaw Construction Company, Inc.		\$5,373.2500	\$21,493.00	)
Volunteer Paving, LLC		\$5,615.0000	\$22,460.00	J
Dement Construction Company, LLC		\$4,550.0000	\$18,200.00	)
Rogers Group, Inc.		\$3,410.4600	\$13,641.84	4
Bell & Associates Construction, LLC		\$7,400.0000	\$29,600.00	)
Vulcan Construction Materials, LLC		\$4,550.0000	\$18,200.00	)
Jones Bros. Contractors, LLC		\$7,300.0000	\$29,200.00	)
Wright Brothers Construction Company, Inc.		\$7,520.0000	\$30,080.00	)

		00	MINAGI GIVII
		UNIT PRICE	EXTENSION
611-41.03 CATCH BASINS, TYPE 41, > 8' - 12' DEPTH			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$7,606.5000	\$7,606.50
Volunteer Paving, LLC		\$8,692.0000	\$8,692.00
Dement Construction Company, LLC		\$6,575.0000	\$6,575.00
Rogers Group, Inc.		\$3,209.8500	\$3,209.85
Bell & Associates Construction, LLC		\$8,800.0000	\$8,800.00
Vulcan Construction Materials, LLC		\$6,575.0000	\$6,575.00
Jones Bros. Contractors, LLC		\$8,500.0000	\$8,500.00
Wright Brothers Construction Company, Inc.		\$9,720.0000	\$9,720.00
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$3,299.7500	\$3,299.75
Volunteer Paving, LLC		\$2,790.0000	\$2,790.00
Dement Construction Company, LLC		\$2,650.0000	\$2,650.00
Rogers Group, Inc.		\$3,009.2200	\$3,009.22
Bell & Associates Construction, LLC		\$3,900.0000	\$3,900.00
Vulcan Construction Materials, LLC		\$2,650.0000	\$2,650.00
Jones Bros. Contractors, LLC		\$4,500.0000	\$4,500.00
Wright Brothers Construction Company, Inc.		\$4,090.0000	\$4,090.00
611-42.02 CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
	4.000 EACH		
Eutaw Construction Company, Inc.		\$5,651.7500	\$22,607.00
Volunteer Paving, LLC		\$5,435.0000	\$21,740.00
Dement Construction Company, LLC		\$5,385.0000	\$21,540.00
Rogers Group, Inc.		\$4,212.9200	\$16,851.68
Bell & Associates Construction, LLC		\$6,550.0000	\$26,200.00
Vulcan Construction Materials, LLC		\$5,385.0000	\$21,540.00
Jones Bros. Contractors, LLC		\$6,600.0000	\$26,400.00
Wright Brothers Construction Company, Inc.		\$6,730.0000	\$26,920.00
611-43.02 CATCH BASINS, TYPE 43, > 4' - 8' DEPTH			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$9,256.2500	\$9,256.25
Volunteer Paving, LLC		\$10,717.0000	\$10,717.00
Dement Construction Company, LLC		\$7,625.0000	\$7,625.00
Rogers Group, Inc.		\$9,629.5300	\$9,629.53
Bell & Associates Construction, LLC		\$12,050.0000	\$12,050.00
Vulcan Construction Materials, LLC		\$7,625.0000	\$7,625.00
Jones Bros. Contractors, LLC		\$11,100.0000	\$11,100.00
Wright Brothers Construction Company, Inc.		\$12,000.0000	\$12,000.00

		CONTRACT CHV176
	UNIT PRIC	CE EXTENSION
611-43.03 CATCH BASINS, TYPE 43, > 8' - 12' DEPTH		
, ,	1.000 EACH	
Eutaw Construction Company, Inc.	\$12,000.000	00 \$12,000.00
Volunteer Paving, LLC	\$14,312.000	
Dement Construction Company, LLC	\$8,400.000	
Rogers Group, Inc.	\$12,036.910	
Bell & Associates Construction, LLC	\$13,250.000	
Vulcan Construction Materials, LLC	\$8,400.000	
Jones Bros. Contractors, LLC	\$12,100.000	
Wright Brothers Construction Company, Inc.	\$13,900.000	
621-03.02 18" TEMPORARY DRAINAGE PIPE		
	325.000 L.F.	
Eutaw Construction Company, Inc.	\$44.300	00 \$14,397.50
Volunteer Paving, LLC	\$73.000	. ,
Dement Construction Company, LLC	\$40.000	
Rogers Group, Inc.	\$48.150	
Bell & Associates Construction, LLC	\$73.000	
Vulcan Construction Materials, LLC	\$65.000	
Jones Bros. Contractors, LLC	\$40.000	
Wright Brothers Construction Company, Inc.	\$52.500	
621-03.07 48" TEMPORARY DRAINAGE PIPE		
021-03.07 46 TEMPORARY DRAINAGE FIFE	48.000 L.F.	
Futaw Construction Company Inc	\$186.800	00 \$8,966.40
Eutaw Construction Company, Inc.	\$150.000	
Volunteer Paving, LLC  Dement Construction Company, LLC	\$750.000	
Rogers Group, Inc.	\$70.000	
Bell & Associates Construction, LLC	\$202.000	
Vulcan Construction Materials, LLC	\$170.000	
Jones Bros. Contractors, LLC	\$160.000	
Wright Brothers Construction Company, Inc.	\$177.000	• •
621-03.08 54" TEMPORARY DRAINAGE PIPE		
	271.000 L.F.	
Eutaw Construction Company, Inc.	\$151.900	00 \$41,164.90
Volunteer Paving, LLC	\$150.000	
Dement Construction Company, LLC	\$90.000	
Rogers Group, Inc.	\$300.920	
Bell & Associates Construction, LLC	\$305.000	
Vulcan Construction Materials, LLC	\$215.000	
Jones Bros. Contractors, LLC	\$195.000	• •
Wright Brothers Construction Company, Inc.	\$191.000	
····g··· = · · · · · · · · · · · · · · ·	ψ101.00X	<b>40.,.030</b>

			00	MINAGI GIVI70
			UNIT PRICE	EXTENSION
621-03.09	60" TEMPORARY DRAINAGE PIPE			
		48.000 L.F.		
	Eutaw Construction Company, Inc.		\$272.1000	\$13,060.80
	Volunteer Paving, LLC		\$125.0000	\$6,000.00
	Dement Construction Company, LLC		\$120.0000	\$5,760.00
	Rogers Group, Inc.		\$351.0800	\$16,851.84
	Bell & Associates Construction, LLC		\$325.0000	\$15,600.00
	Vulcan Construction Materials, LLC		\$272.0000	\$13,056.00
	Jones Bros. Contractors, LLC		\$250.0000	\$12,000.00
	Wright Brothers Construction Company, Inc.		\$233.0000	\$11,184.00
621-05.01	TEMPORARY SHORING			
		3,472.000 S.F.		
	Eutaw Construction Company, Inc.		\$6.6000	\$22,915.20
	Volunteer Paving, LLC		\$6.5000	\$22,568.00
	Dement Construction Company, LLC		\$10.0000	\$34,720.00
	Rogers Group, Inc.		\$15.0400	\$52,218.88
	Bell & Associates Construction, LLC		\$18.5000	\$64,232.00
	Vulcan Construction Materials, LLC		\$18.0000	\$62,496.00
	Jones Bros. Contractors, LLC		\$20.0000	\$69,440.00
	Wright Brothers Construction Company, Inc.		\$70.5000	\$244,776.00
701-02	CONCRETE DRIVEWAY			
		6,267.000 S.F.		
	Eutaw Construction Company, Inc.		\$9.5000	\$59,536.50
	Volunteer Paving, LLC		\$8.6000	\$53,896.20
	Dement Construction Company, LLC		\$8.0000	\$50,136.00
	Rogers Group, Inc.		\$11.5300	\$72,258.51
	Bell & Associates Construction, LLC		\$9.0000	\$56,403.00
	Vulcan Construction Materials, LLC		\$7.2500	\$45,435.75
	Jones Bros. Contractors, LLC		\$8.0000	\$50,136.00
	Wright Brothers Construction Company, Inc.		\$8.1000	\$50,762.70
702-01	CONCRETE CURB			
		160.000 C.Y.		
	Eutaw Construction Company, Inc.		\$620.7000	\$99,312.00
	Volunteer Paving, LLC		\$570.0000	\$91,200.00
	Dement Construction Company, LLC		\$300.0000	\$48,000.00
	Rogers Group, Inc.		\$652.0100	\$104,321.60
	Bell & Associates Construction, LLC		\$370.0000	\$59,200.00
	Vulcan Construction Materials, LLC		\$540.0000	\$86,400.00
	Jones Bros. Contractors, LLC		\$328.3700	\$52,539.20
	Wright Brothers Construction Company, Inc.		\$600.0000	\$96,000.00

			•	ONTINAOT ONTITO
			UNIT PRICE	EXTENSION
702-03	CONCRETE COMBINED CURB & GUTTER			
		151.000 C.Y.		
	Eutaw Construction Company, Inc.		\$398.7000	\$60,203.70
	Volunteer Paving, LLC		\$365.0000	\$55,115.00
	Dement Construction Company, LLC		\$300.0000	\$45,300.00
	Rogers Group, Inc.		\$521.6000	\$78,761.60
	Bell & Associates Construction, LLC		\$340.0000	\$51,340.00
	Vulcan Construction Materials, LLC		\$450.0000	\$67,950.00
	Jones Bros. Contractors, LLC		\$300.2700	\$45,340.77
	Wright Brothers Construction Company, Inc.		\$500.0000	\$75,500.00
703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
		8.200 C.Y.		
	Eutaw Construction Company, Inc.		\$868,4000	\$7,120.88
	Volunteer Paving, LLC		\$800.0000	\$6,560.00
	Dement Construction Company, LLC		\$600.0000	\$4,920.00
	Rogers Group, Inc.		\$802.4600	\$6,580.17
	Bell & Associates Construction, LLC		\$715.0000	\$5,863.00
	Vulcan Construction Materials, LLC		\$600.0000	\$4,920.00
	Jones Bros. Contractors, LLC		\$633.7200	\$5,196.50
	Wright Brothers Construction Company, Inc.		\$670.0000	\$5,494.00
705-01.0	4 METAL BEAM GUARD FENCE			
		56.000 L.F.		
	Eutaw Construction Company, Inc.		\$94.0000	\$5,264.00
	Volunteer Paving, LLC		\$68.9900	\$3,863.44
	Dement Construction Company, LLC		\$82.5000	\$4,620.00
	Rogers Group, Inc.		\$82.7600	\$4,634.56
	Bell & Associates Construction, LLC		\$90.0000	\$5,040.00
	Vulcan Construction Materials, LLC		\$82.5000	\$4,620.00
	Jones Bros. Contractors, LLC		\$82.5000	\$4,620.00
	Wright Brothers Construction Company, Inc.		\$90.5000	\$5,068.00
705-06.0	1 W BEAM GR (TYPE 2) MASH TL-3			
		4,064.000 L.F.		
	Eutaw Construction Company, Inc.		\$25.1000	\$102,006.40
	Volunteer Paving, LLC		\$26.6100	\$108,143.04
	Dement Construction Company, LLC		\$22.0000	\$89,408.00
	Rogers Group, Inc.		\$22.0600	\$89,651.84
	Bell & Associates Construction, LLC		\$24.0000	\$97,536.00
	Vulcan Construction Materials, LLC		\$22.0000	\$89,408.00
	Jones Bros. Contractors, LLC		\$22.0000	\$89,408.00
	Wright Brothers Construction Company, Inc.		\$24.2500	\$98,552.00

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL-3		
5.000 EACH		
Eutaw Construction Company, Inc.	\$1,594.7500	\$7,973.75
Volunteer Paving, LLC	\$1,308.0000	\$6,540.00
Dement Construction Company, LLC	\$1,400.0000	\$7,000.00
Rogers Group, Inc.	\$1,404.3100	\$7,021.55
Bell & Associates Construction, LLC	\$1,500.0000	\$7,500.00
Vulcan Construction Materials, LLC	\$1,400.0000	\$7,000.00
Jones Bros. Contractors, LLC	\$1,400.0000	\$7,000.00
Wright Brothers Construction Company, Inc.	\$1,540.0000	\$7,700.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL-3		
2.000 EACH		
Eutaw Construction Company, Inc.	\$1,139.0000	\$2,278.00
Volunteer Paving, LLC	\$950.0000	\$1,900.00
Dement Construction Company, LLC	\$1,000.0000	\$2,000.00
Rogers Group, Inc.	\$1,003.0700	\$2,006.14
Bell & Associates Construction, LLC	\$1,100.0000	\$2,200.00
Vulcan Construction Materials, LLC	\$1,000.0000	\$2,000.00
Jones Bros. Contractors, LLC	\$1,000.0000	\$2,000.00
Wright Brothers Construction Company, Inc.	\$1,100.0000	\$2,200.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3		
15.000 EACH		
Eutaw Construction Company, Inc.	\$3,132.5000	\$46,987.50
Volunteer Paving, LLC	\$2,837.0000	\$42,555.00
Dement Construction Company, LLC	\$2,750.0000	\$41,250.00
Rogers Group, Inc.	\$2,758.4500	\$41,376.75
Bell & Associates Construction, LLC	\$3,000.0000	\$45,000.00
Vulcan Construction Materials, LLC	\$2,750.0000	\$41,250.00
Jones Bros. Contractors, LLC	\$2,750.0000	\$41,250.00
Wright Brothers Construction Company, Inc.	\$3,020.0000	\$45,300.00
705-06.25 THRIE BEAM BRIDGE TRANSITION MASH TL-3		
5.000 EACH		
Eutaw Construction Company, Inc.	\$2,705.2500	\$13,526.25
Volunteer Paving, LLC	\$1,896.0000	\$9,480.00
Dement Construction Company, LLC	\$2,375.0000	\$11,875.00
Rogers Group, Inc.	\$2,382.3100	\$11,911.55
Bell & Associates Construction, LLC	\$2,600.0000	\$13,000.00
Vulcan Construction Materials, LLC	\$2,375.0000	\$11,875.00
Jones Bros. Contractors, LLC	\$2,375.0000	\$11,875.00
Wright Brothers Construction Company, Inc.	\$2,610.0000	\$13,050.00

			CONTRACT	CNV176
		UNIT PRICE	EXT	ENSION
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL-2				
	2.000 EACH			
Eutaw Construction Company, Inc.		\$2,733.7500	\$5	5,467.50
Volunteer Paving, LLC		\$2,701.0000		5,402.00
Dement Construction Company, LLC		\$2,400.0000	\$4	4,800.00
Rogers Group, Inc.		\$2,407.3800	\$4	1,814.76
Bell & Associates Construction, LLC		\$2,600.0000	\$5	5,200.00
Vulcan Construction Materials, LLC		\$2,400.0000	\$4	4,800.00
Jones Bros. Contractors, LLC		\$2,400.0000	\$4	4,800.00
Wright Brothers Construction Company, Inc.		\$2,640.0000	\$5	5,280.00
705-06.40 CABLE BARRIER (MASH TL-3)				
	2,950.000 L.F.			
Eutaw Construction Company, Inc.		\$15.4000	\$45	5,430.00
Volunteer Paving, LLC		\$27.0000	\$79	9,650.00
Dement Construction Company, LLC		\$13.5000	\$39	9,825.00
Rogers Group, Inc.		\$13.5400		9,943.00
Bell & Associates Construction, LLC		\$14.0000		1,300.00
Vulcan Construction Materials, LLC		\$13.5000	=	9,825.00
Jones Bros. Contractors, LLC		\$13.5000		9,825.00
Wright Brothers Construction Company, Inc.		\$14.8500	\$43	3,807.50
705-06.41 CABLE BARRIER ANCHOR (MASH TL-3)				
	4.000 EACH			
Eutaw Construction Company, Inc.		\$5,695.2500	\$22	2,781.00
Volunteer Paving, LLC		\$5,100.0000		0,400.00
Dement Construction Company, LLC		\$5,000.0000		0,000.00
Rogers Group, Inc.		\$5,015.3700		0,061.48
Bell & Associates Construction, LLC		\$5,100.0000		0,400.00
Vulcan Construction Materials, LLC		\$5,000.0000		0,000.00
Jones Bros. Contractors, LLC		\$5,000.0000		0,000.00
Wright Brothers Construction Company, Inc.		\$5,500.0000	\$22	2,000.00
705-08.51 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3				
	11.000 EACH			
Eutaw Construction Company, Inc.		\$10,280.0000		3,080.00
Volunteer Paving, LLC		\$6,500.0000		1,500.00
Dement Construction Company, LLC		\$6,850.0000		5,350.00
Rogers Group, Inc.		\$9,624.5100		5,869.61
Bell & Associates Construction, LLC		\$10,400.0000		4,400.00
Vulcan Construction Materials, LLC		\$8,500.0000		3,500.00
Jones Bros. Contractors, LLC		\$9,500.0000		4,500.00
Wright Brothers Construction Company, Inc.		\$12,000.0000	\$132	2,000.00

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
705-20.20 LOW MAINT CRASH CUSHN NARROW (MASH TL-3)		
,	2.000 EACH	
Eutaw Construction Company, Inc.	\$10,280.0000	\$20,560.00
Volunteer Paving, LLC	\$25,725.0000	\$51,450.00
Dement Construction Company, LLC	\$12,500.0000	\$25,000.00
Rogers Group, Inc.	\$9,624.5100	\$19,249.02
Bell & Associates Construction, LLC	\$10,400.0000	\$20,800.00
Vulcan Construction Materials, LLC	\$30,000.0000	\$60,000.00
Jones Bros. Contractors, LLC	\$9,500.0000	\$19,000.00
Wright Brothers Construction Company, Inc.	\$13,200.0000	\$26,400.00
706-01 GUARDRAIL REMOVED		
	2,745.000 L.F.	
Eutaw Construction Company, Inc.	\$0.6000	\$1,647.00
Volunteer Paving, LLC	\$1.2500	\$3,431.25
Dement Construction Company, LLC	\$0.5000	\$1,372.50
Rogers Group, Inc.	\$0.5000	\$1,372.50
Bell & Associates Construction, LLC	\$0.6000	\$1,647.00
Vulcan Construction Materials, LLC	\$0.5000	\$1,372.50
Jones Bros. Contractors, LLC	\$0.5000	\$1,372.50
Wright Brothers Construction Company, Inc.	\$0.5500	\$1,509.75
706-06.06 RADIUS RAIL LONG POST (9-12 FT)		
	304.000 L.F.	
Eutaw Construction Company, Inc.	\$39.9000	\$12,129.60
Volunteer Paving, LLC	\$57.1100	\$17,361.44
Dement Construction Company, LLC	\$35.0000	\$10,640.00
Rogers Group, Inc.	\$35.1100	\$10,673.44
Bell & Associates Construction, LLC	\$36.0000	\$10,944.00
Vulcan Construction Materials, LLC	\$35.0000	\$10,640.00
Jones Bros. Contractors, LLC	\$35.0000	\$10,640.00
Wright Brothers Construction Company, Inc.	\$38.5000	\$11,704.00
706-80.18 CABLE BARRIER TERMINAL (REMOVAL)		
	2.000 EACH	
Eutaw Construction Company, Inc.	\$1,139.0000	\$2,278.00
Volunteer Paving, LLC	\$500.0000	\$1,000.00
Dement Construction Company, LLC	\$1,000.0000	\$2,000.00
Rogers Group, Inc.	\$1,003.0700	\$2,006.14
Bell & Associates Construction, LLC	\$1,095.0000	\$2,190.00
Vulcan Construction Materials, LLC	\$1,000.0000	\$2,000.00
Jones Bros. Contractors, LLC	\$1,000.0000	\$2,000.00
Wright Brothers Construction Company, Inc.	\$1,100.0000	\$2,200.00

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
706-80.19 CABLE BARRIER (REMOVAL)			
	2,973.000 L.F.		
Eutaw Construction Company, Inc.	_,	\$3.7000	\$11,000.10
Volunteer Paving, LLC		\$5.8500	\$17,392.05
Dement Construction Company, LLC		\$3.2500	\$9,662.25
Rogers Group, Inc.		\$3.2600	\$9,691.98
Bell & Associates Construction, LLC		\$3.5000	\$10,405.50
Vulcan Construction Materials, LLC		\$3.2500	\$9,662.25
Jones Bros. Contractors, LLC		\$3.2500	\$9,662.25
Wright Brothers Construction Company, Inc.		\$3.5500	\$10,554.15
707-01.11 CHAIN LINK FENCE (6 FOOT)			
	11,553.000 L.F.		
Eutaw Construction Company, Inc.		\$18.2000	\$210,264.60
Volunteer Paving, LLC		\$16.0000	\$184,848.00
Dement Construction Company, LLC		\$16.1500	\$186,580.95
Rogers Group, Inc.		\$18.0500	\$208,531.65
Bell & Associates Construction, LLC		\$17.0000	\$196,401.00
Vulcan Construction Materials, LLC		\$23.0000	\$265,719.00
Jones Bros. Contractors, LLC		\$23.0000	\$265,719.00
Wright Brothers Construction Company, Inc.		\$19.8000	\$228,749.40
707-01.12 END & CORNER POST ASSEMBLY(CHAIN-LINK FEI	NCE 6')		
	32.000 EACH		
Eutaw Construction Company, Inc.		\$306.5000	\$9,808.00
Volunteer Paving, LLC		\$300.0000	\$9,600.00
Dement Construction Company, LLC		\$272.0000	\$8,704.00
Rogers Group, Inc.		\$300.9200	\$9,629.44
Bell & Associates Construction, LLC		\$280.0000	\$8,960.00
Vulcan Construction Materials, LLC		\$300.0000	\$9,600.00
Jones Bros. Contractors, LLC		\$300.0000	\$9,600.00
Wright Brothers Construction Company, Inc.		\$330.0000	\$10,560.00
707-01.13 GATE - CHAIN-LINK FENCE-6 FOOT (12' WIDE)			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$8,513.2500	\$8,513.25
Volunteer Paving, LLC		\$2,000.0000	\$2,000.00
Dement Construction Company, LLC		\$7,556.0000	\$7,556.00
Rogers Group, Inc.		\$1,103.3900	\$1,103.39
Bell & Associates Construction, LLC		\$8,000.0000	\$8,000.00
Vulcan Construction Materials, LLC		\$1,100.0000	\$1,100.00
Jones Bros. Contractors, LLC		\$1,100.0000	\$1,100.00
Wright Brothers Construction Company, Inc.		\$1,210.0000	\$1,210.00

			00	MINACI CIVITO
			UNIT PRICE	EXTENSION
707-04	WATER CROSSING			
		20.000 L.F.		
	Eutaw Construction Company, Inc.		\$112.7000	\$2,254.00
	Volunteer Paving, LLC		\$75.0000	\$1,500.00
	Dement Construction Company, LLC		\$5.0000	\$100.00
	Rogers Group, Inc.		\$5.0100	\$100.20
	Bell & Associates Construction, LLC		\$22.0000	\$440.00
	Vulcan Construction Materials, LLC		\$5.0000	\$100.00
	Jones Bros. Contractors, LLC		\$5.0000	\$100.00
	Wright Brothers Construction Company, Inc.		\$5.5000	\$110.00
707-08.1	HIGH-VISIBILITY CONSTRUCTION FENCE			
		1,661.000 L.F.		
	Eutaw Construction Company, Inc.		\$1.6000	\$2,657.60
	Volunteer Paving, LLC		\$1.7500	\$2,906.75
	Dement Construction Company, LLC		\$1.5000	\$2,491.50
	Rogers Group, Inc.		\$1.5000	\$2,491.50
	Bell & Associates Construction, LLC		\$1.9000	\$3,155.90
	Vulcan Construction Materials, LLC		\$1.7500	\$2,906.75
	Jones Bros. Contractors, LLC		\$2.0000	\$3,322.00
	Wright Brothers Construction Company, Inc.		\$2.2500	\$3,737.25
708-02.0	MARKERS (CONCRETE R.O.W. POSTS)			
		20.000 EACH		
	Eutaw Construction Company, Inc.		\$170.9000	\$3,418.00
	Volunteer Paving, LLC		\$250.0000	\$5,000.00
	Dement Construction Company, LLC		\$225.0000	\$4,500.00
	Rogers Group, Inc.		\$300.9200	\$6,018.40
	Bell & Associates Construction, LLC		\$270.0000	\$5,400.00
	Vulcan Construction Materials, LLC		\$275.0000	\$5,500.00
	Jones Bros. Contractors, LLC		\$300.0000	\$6,000.00
	Wright Brothers Construction Company, Inc.		\$389.0000	\$7,780.00
709-05.0	MACHINED RIP-RAP (CLASS A-3)			
		650.000 TON		
	Eutaw Construction Company, Inc.		\$36.5000	\$23,725.00
	Volunteer Paving, LLC		\$40.0000	\$26,000.00
	Dement Construction Company, LLC		\$45.0000	\$29,250.00
	Rogers Group, Inc.		\$48.1500	\$31,297.50
	Bell & Associates Construction, LLC		\$39.0000	\$25,350.00
	Vulcan Construction Materials, LLC		\$32.0000	\$20,800.00
	Jones Bros. Contractors, LLC		\$40.0000	\$26,000.00
	Wright Brothers Construction Company, Inc.		\$37.5000	\$24,375.00

				CONTRACT CNV176
			UNIT PRICE	EXTENSION
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		552.000 TON		
	Eutaw Construction Company, Inc.		\$39.4000	\$21,748.80
	Volunteer Paving, LLC		\$35.0000	\$19,320.00
	Dement Construction Company, LLC		\$35.0000	\$19,320.00
	Rogers Group, Inc.		\$39.1200	\$21,594.24
	Bell & Associates Construction, LLC		\$41.0000	\$22,632.00
	Vulcan Construction Materials, LLC		\$36.0000	\$19,872.00
	Jones Bros. Contractors, LLC		\$40.0000	\$22,080.00
	Wright Brothers Construction Company, Inc.		\$40.5000	\$22,356.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		799.000 TON		
	Eutaw Construction Company, Inc.		\$32.5000	\$25,967.50
	Volunteer Paving, LLC		\$35.0000	\$27,965.00
	Dement Construction Company, LLC		\$35.0000	\$27,965.00
	Rogers Group, Inc.		\$46.1400	\$36,865.86
	Bell & Associates Construction, LLC		\$40.0000	\$31,960.00
	Vulcan Construction Materials, LLC		\$36.0000	\$28,764.00
	Jones Bros. Contractors, LLC		\$40.0000	\$31,960.00
	Wright Brothers Construction Company, Inc.		\$41.7500	\$33,358.25
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		35,370.000 L.F.		
	Eutaw Construction Company, Inc.		\$6.3000	\$222,831.00
	Volunteer Paving, LLC		\$6.0000	\$212,220.00
	Dement Construction Company, LLC		\$6.0000	\$212,220.00
	Rogers Group, Inc.		\$6.0200	\$212,927.40
	Bell & Associates Construction, LLC		\$6.0000	\$212,220.00
	Vulcan Construction Materials, LLC		\$6.0000	\$212,220.00
	Jones Bros. Contractors, LLC		\$6.0000	\$212,220.00
	Wright Brothers Construction Company, Inc.		\$6.6000	\$233,442.00
710-05	LATERAL UNDERDRAIN			
		2,708.000 L.F.		
	Eutaw Construction Company, Inc.		\$5.8000	\$15,706.40
	Volunteer Paving, LLC		\$3.5000	\$9,478.00
	Dement Construction Company, LLC		\$3.5000	\$9,478.00
	Rogers Group, Inc.		\$3.5100	\$9,505.08
	Bell & Associates Construction, LLC		\$5.6500	\$15,300.20
	Vulcan Construction Materials, LLC		\$3.5000	\$9,478.00
	Jones Bros. Contractors, LLC		\$3.5000	\$9,478.00
	Wright Brothers Construction Company, Inc.		\$3.8500	\$10,425.80

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
710-06.13 LATERAL UNDERDRAIN ENDWALL (4:1)		
	37.000 EACH	
Eutaw Construction Company, Inc.	\$879.5000	\$32,541.50
Volunteer Paving, LLC	\$800.0000	
Dement Construction Company, LLC	\$800.0000	
Rogers Group, Inc.	\$802.4600	
Bell & Associates Construction, LLC	\$860.0000	
Vulcan Construction Materials, LLC	\$800.0000	
Jones Bros. Contractors, LLC	\$800.0000	
Wright Brothers Construction Company, Inc.	\$880.0000	
710-06.15 LATERAL UNDERDRAIN ENDWALL (6:1)		
· ,	71.000 EACH	
Eutaw Construction Company, Inc.	\$879.5000	\$62,444.50
Volunteer Paving, LLC	\$800.0000	
Dement Construction Company, LLC	\$800,0000	
Rogers Group, Inc.	\$802.4600	
Bell & Associates Construction, LLC	\$860.0000	
Vulcan Construction Materials, LLC	\$800.0000	
Jones Bros. Contractors, LLC	\$800.0000	
Wright Brothers Construction Company, Inc.	\$880.0000	
711-05.69 36IN SINGLE SLOPE CONCRETE BARRIER WALL		
	1,072.000 L.F.	
Eutaw Construction Company, Inc.	\$126.4000	\$135,500.80
Volunteer Paving, LLC	\$100.0000	
Dement Construction Company, LLC	\$110.0000	
Rogers Group, Inc.	\$110.3400	• •
Bell & Associates Construction, LLC	\$74.0000	
Vulcan Construction Materials, LLC	\$110.0000	\$117,920.00
Jones Bros. Contractors, LLC	\$113.0000	\$121,136.00
Wright Brothers Construction Company, Inc.	\$129.0000	\$138,288.00
711-05.72 SINGLE SLOPE HALF CONCRETE BARRIER WALL		
	1,611.000 L.F.	
Eutaw Construction Company, Inc.	\$125.9000	\$202,824.90
Volunteer Paving, LLC	\$105.0000	\$169,155.00
Dement Construction Company, LLC	\$110.0000	\$177,210.00
Rogers Group, Inc.	\$110.3400	
Bell & Associates Construction, LLC	\$89.0000	\$143,379.00
Vulcan Construction Materials, LLC	\$110.0000	\$177,210.00
Jones Bros. Contractors, LLC	\$117.0000	\$188,487.00
Wright Brothers Construction Company, Inc.	\$129.0000	\$207,819.00

				CONTRACT CHV176
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$125,890.0000	\$125,890.00
	Volunteer Paving, LLC		\$200,000.0000	\$200,000.00
	Dement Construction Company, LLC		\$250,000.0000	\$250,000.00
	Rogers Group, Inc.		\$1,099,823.1600	\$1,099,823.16
	Bell & Associates Construction, LLC		\$364,000.0000	\$364,000.00
	Vulcan Construction Materials, LLC		\$392,075.0000	\$392,075.00
	Jones Bros. Contractors, LLC		\$1,100,000.0000	\$1,100,000.00
	Wright Brothers Construction Company, Inc.		\$730,000.0000	\$730,000.00
712-02.02	2 INTERCONNECTED PORTABLE BARRIER RAIL			
		29,248.000 L.F.		
	Eutaw Construction Company, Inc.		\$22.3000	\$652,230.40
	Volunteer Paving, LLC		\$20.0000	\$584,960.00
	Dement Construction Company, LLC		\$37.0000	\$1,082,176.00
	Rogers Group, Inc.		\$24.0700	\$703,999.36
	Bell & Associates Construction, LLC		\$26.0000	\$760,448.00
	Vulcan Construction Materials, LLC		\$70.0000	\$2,047,360.00
	Jones Bros. Contractors, LLC		\$20.0000	\$584,960.00
	Wright Brothers Construction Company, Inc.		\$42.0000	\$1,228,416.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		588.000 EACH		
	Eutaw Construction Company, Inc.		\$41.1000	\$24,166.80
	Volunteer Paving, LLC		\$25.0000	\$14,700.00
	Dement Construction Company, LLC		\$38.0000	\$22,344.00
	Rogers Group, Inc.		\$38.5000	\$22,638.00
	Bell & Associates Construction, LLC		\$41.5000	\$24,402.00
	Vulcan Construction Materials, LLC		\$30.0000	\$17,640.00
	Jones Bros. Contractors, LLC		\$38.0000	\$22,344.00
	Wright Brothers Construction Company, Inc.		\$42.2500	\$24,843.00
712-04.50	BARRIER RAIL DELINEATOR			
		349.000 EACH		
	Eutaw Construction Company, Inc.		\$14.1000	\$4,920.90
	Volunteer Paving, LLC		\$10.0000	\$3,490.00
	Dement Construction Company, LLC		\$13.0000	\$4,537.00
	Rogers Group, Inc.		\$13.1700	\$4,596.33
	Bell & Associates Construction, LLC		\$14.0000	\$4,886.00
	Vulcan Construction Materials, LLC		\$6.0000	\$2,094.00
	Jones Bros. Contractors, LLC		\$13.0000	\$4,537.00
	Wright Brothers Construction Company, Inc.		\$14.4500	\$5,043.05

				CONTRACT CNV176
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	,	1,134.000 S.F.		
	Eutaw Construction Company, Inc.	1,104.000 0.11	\$8.1000	\$9,185.40
	Volunteer Paving, LLC		\$7.5000	\$8,505.00
	Dement Construction Company, LLC		\$7.5000 \$7.5000	\$8,505.00
	Rogers Group, Inc.		\$7.6000 \$7.6000	\$8,618.40
	Bell & Associates Construction, LLC		\$8.2000	\$9,298.80
	Vulcan Construction Materials, LLC		\$9.2500	\$10,489.50
	Jones Bros. Contractors, LLC		\$7.5000	\$8,505.00
	Wright Brothers Construction Company, Inc.		\$8.3500	\$9,468.90
			·	. ,
712-07.03	3 TEMPORARY BARRICADES (TYPE III)			
		123.000 L.F.		
	Eutaw Construction Company, Inc.		\$14.9000	\$1,832.70
	Volunteer Paving, LLC		\$25.0000	\$3,075.00
	Dement Construction Company, LLC		\$13.7500	\$1,691.25
	Rogers Group, Inc.		\$13.9300	\$1,713.39
	Bell & Associates Construction, LLC		\$15.0000	\$1,845.00
	Vulcan Construction Materials, LLC		\$20.0000	\$2,460.00
	Jones Bros. Contractors, LLC		\$13.7500	\$1,691.25
	Wright Brothers Construction Company, Inc.		\$15.2500	\$1,875.75
712-08.03	3 ARROW BOARD (TYPE C)			
		8.000 EACH		
	Eutaw Construction Company, Inc.		\$1,298.5000	\$10,388.00
	Volunteer Paving, LLC		\$3,000.0000	\$24,000.00
	Dement Construction Company, LLC		\$1,200.0000	\$9,600.00
	Rogers Group, Inc.		\$1,215.7300	\$9,725.84
	Bell & Associates Construction, LLC		\$1,300.0000	\$10,400.00
	Vulcan Construction Materials, LLC		\$825.0000	\$6,600.00
	Jones Bros. Contractors, LLC		\$1,200.0000	\$9,600.00
	Wright Brothers Construction Company, Inc.		\$1,330.0000	\$10,640.00
712-08.08	SPEED FEEDBACK SIGN ASSEMBLY			
		2.000 EACH		
	Eutaw Construction Company, Inc.		\$4,599.0000	\$9,198.00
	Volunteer Paving, LLC		\$5,000.0000	\$10,000.00
	Dement Construction Company, LLC		\$4,250.0000	\$8,500.00
	Rogers Group, Inc.		\$4,305.7000	\$8,611.40
	Bell & Associates Construction, LLC		\$4,400.0000	\$8,800.00
	Vulcan Construction Materials, LLC		\$2,500.0000	\$5,000.00
	Jones Bros. Contractors, LLC		\$4,250.0000	\$8,500.00
	Wright Brothers Construction Company, Inc.		\$4,720.0000	\$9,440.00

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
712-08.09 DIGITAL SPEED LIMIT SIGN ASSEMBLY		
4	.000 EACH	
Eutaw Construction Company, Inc.	\$5,140.0000	\$20,560.00
Volunteer Paving, LLC	\$5,000.0000	\$20,000.00
Dement Construction Company, LLC	\$4,750.0000	\$19,000.00
Rogers Group, Inc.	\$4,812.2600	\$19,249.04
Bell & Associates Construction, LLC	\$5,200.0000	\$20,800.00
Vulcan Construction Materials, LLC	\$3,000.0000	\$12,000.00
Jones Bros. Contractors, LLC	\$4,750.0000	\$19,000.00
Wright Brothers Construction Company, Inc.	\$5,280.0000	\$21,120.00
712-08.10 MOBILE MESSAGE SIGN UNIT W/ATTENUATOR		
2,500	.000 HOUR	
Eutaw Construction Company, Inc.	\$110.4000	\$276,000.00
Volunteer Paving, LLC	\$30.0000	\$75,000.00
Dement Construction Company, LLC	\$102.0000	\$255,000.00
Rogers Group, Inc.	\$103.3400	\$258,350.00
Bell & Associates Construction, LLC	\$105.0000	\$262,500.00
Vulcan Construction Materials, LLC	\$80.0000	\$200,000.00
Jones Bros. Contractors, LLC	\$102.0000	\$255,000.00
Wright Brothers Construction Company, Inc.	\$113.0000	\$282,500.00
712-09.04 REMOVABLE PAVEMENT MARKING (STOP LINE)		
167	′.000 L.F.	
Eutaw Construction Company, Inc.	\$28.4000	\$4,742.80
Volunteer Paving, LLC	\$25.0000	\$4,175.00
Dement Construction Company, LLC	\$25.0000	\$4,175.00
Rogers Group, Inc.	\$25.0800	\$4,188.36
Bell & Associates Construction, LLC	\$27.0000	\$4,509.00
Vulcan Construction Materials, LLC	\$25.0000	\$4,175.00
Jones Bros. Contractors, LLC	\$25.0000	\$4,175.00
Wright Brothers Construction Company, Inc.	\$27.7500	\$4,634.25
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)		
7	7.600 C.Y.	
Eutaw Construction Company, Inc.	\$784.5000	\$5,962.20
Volunteer Paving, LLC	\$648.0000	\$4,924.80
Dement Construction Company, LLC	\$725.0000	\$5,510.00
Rogers Group, Inc.	\$734.5000	\$5,582.20
Bell & Associates Construction, LLC	\$795.0000	\$6,042.00
Vulcan Construction Materials, LLC	\$472.0000	\$3,587.20
Jones Bros. Contractors, LLC	\$725.0000	\$5,510.00
Wright Brothers Construction Company, Inc.	\$810.0000	\$6,156.00

		CONTINACT CITYTTO
	UNIT PRICE	EXTENSION
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPOR	TS)	
	I,441.000 LB.	
Eutaw Construction Company, Inc.	\$4.3000	\$6,196.30
Volunteer Paving, LLC	\$3.4300	\$4,942.63
Dement Construction Company, LLC	\$3.9500	\$5,691.95
Rogers Group, Inc.	\$4.0000	\$5,764.00
Bell & Associates Construction, LLC	\$4.3000	\$6,196.30
Vulcan Construction Materials, LLC	\$2.4000	\$3,458.40
Jones Bros. Contractors, LLC	\$3.9500	\$5,691.95
Wright Brothers Construction Company, Inc.	\$4.4000	\$6,340.40
713-02.04 DELINEATOR (MILE MARKER) & STEEL POST		
,	6.000 EACH	
Eutaw Construction Company, Inc.	\$205.6000	\$1,233.60
Volunteer Paving, LLC	\$300.0000	\$1,800.00
Dement Construction Company, LLC	\$190.0000	\$1,140.00
Rogers Group, Inc.	\$192.4900	\$1,154.94
Bell & Associates Construction, LLC	\$208.0000	\$1,248.00
Vulcan Construction Materials, LLC	\$215.0000	\$1,290.00
Jones Bros. Contractors, LLC	\$190.0000	\$1,140.00
Wright Brothers Construction Company, Inc.	\$211.0000	\$1,266.00
713-02.14 FLEXIBLE DELINEATOR (WHITE)		
	52.000 EACH	
Eutaw Construction Company, Inc.	\$37.1000	\$1,929.20
Volunteer Paving, LLC	\$57.0000	\$2,964.00
Dement Construction Company, LLC	\$34.2500	\$1,781.00
Rogers Group, Inc.	\$34.7000	\$1,804.40
Bell & Associates Construction, LLC	\$37.5000	\$1,950.00
Vulcan Construction Materials, LLC	\$28.5000	\$1,482.00
Jones Bros. Contractors, LLC	\$34.2500	\$1,781.00
Wright Brothers Construction Company, Inc.	\$38.0000	\$1,976.00
713-02.15 FLEXIBLE DELINEATOR (YELLOW)		
	38.000 EACH	
Eutaw Construction Company, Inc.	\$37.1000	\$1,409.80
Volunteer Paving, LLC	\$57.0000	\$2,166.00
Dement Construction Company, LLC	\$34.2500	\$1,301.50
Rogers Group, Inc.	\$34.7000	\$1,318.60
Bell & Associates Construction, LLC	\$37.5000	\$1,425.00
Vulcan Construction Materials, LLC	\$28.5000	\$1,083.00
Jones Bros. Contractors, LLC	\$34.2500	\$1,301.50
Wright Brothers Construction Company, Inc.	\$38.0000	\$1,444.00

		,	CONTRACT CNV176
		UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	1,919.000 LB.		
Eutaw Construction Company, Inc.	.,	\$4.3000	\$8,251.70
Volunteer Paving, LLC		\$6.3400	\$12,166.46
Dement Construction Company, LLC		\$3.9500	\$7,580.05
Rogers Group, Inc.		\$4.0000	\$7,676.00
Bell & Associates Construction, LLC		\$4.3000	\$8,251.70
Vulcan Construction Materials, LLC		\$2.7500	\$5,277.25
Jones Bros. Contractors, LLC		\$3.9500	\$7,580.05
Wright Brothers Construction Company, Inc.		\$4.4000	\$8,443.60
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
, ,	215.000 S.F.		
Eutaw Construction Company, Inc.		\$14.1000	\$3,031.50
Volunteer Paving, LLC		\$15.8700	\$3,412.05
Dement Construction Company, LLC		\$13.0000	\$2,795.00
Rogers Group, Inc.		\$13.1700	\$2,831.55
Bell & Associates Construction, LLC		\$14.2500	\$3,063.75
Vulcan Construction Materials, LLC		\$14.2500	\$3,063.75
Jones Bros. Contractors, LLC		\$13.0000	\$2,795.00
Wright Brothers Construction Company, Inc.		\$14.4500	\$3,106.75
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	317.000 S.F.		
Eutaw Construction Company, Inc.		\$15.2000	\$4,818.40
Volunteer Paving, LLC		\$16.6900	\$5,290.73
Dement Construction Company, LLC		\$14.0000	\$4,438.00
Rogers Group, Inc.		\$14.1800	\$4,495.06
Bell & Associates Construction, LLC		\$15.2500	\$4,834.25
Vulcan Construction Materials, LLC		\$15.7500	\$4,992.75
Jones Bros. Contractors, LLC		\$14.0000	\$4,438.00
Wright Brothers Construction Company, Inc.		\$15.5500	\$4,929.35
713-14 EXTRUDED ALUMINUM PANEL SIGNS			
	903.000 S.F.		
Eutaw Construction Company, Inc.		\$23.8000	\$21,491.40
Volunteer Paving, LLC		\$29.8900	\$26,990.67
Dement Construction Company, LLC		\$22.0000	\$19,866.00
Rogers Group, Inc.		\$22.2800	\$20,118.84
Bell & Associates Construction, LLC		\$24.0000	\$21,672.00
Vulcan Construction Materials, LLC		\$23.5000	\$21,220.50
Jones Bros. Contractors, LLC		\$22.0000	\$19,866.00
Wright Brothers Construction Company, Inc.		\$24.5000	\$22,123.50

		00	MINAGI GIVII
		UNIT PRICE	EXTENSION
713-14.21 STREET NAME SIGN (RIGID 0.100IN THICK			
·	34.000 S.F.		
Eutaw Construction Company, Inc.		\$53.3000	\$1,812.20
Volunteer Paving, LLC		\$36.5000	\$1,241.00
Dement Construction Company, LLC		\$32.5000	\$1,105.00
Rogers Group, Inc.		\$49.1100	\$1,669.74
Bell & Associates Construction, LLC		\$52.5000	\$1,785.00
Vulcan Construction Materials, LLC		\$48.0000	\$1,632.00
Jones Bros. Contractors, LLC		\$32.5000	\$1,105.00
Wright Brothers Construction Company, Inc.		\$40.2500	\$1,368.50
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	1.000 LS		
Eutaw Construction Company, Inc.		\$216.4000	\$216.40
Volunteer Paving, LLC		\$9,751.0000	\$9,751.00
Dement Construction Company, LLC		\$200.0000	\$200.00
Rogers Group, Inc.		\$202.6200	\$202.62
Bell & Associates Construction, LLC		\$219.0000	\$219.00
Vulcan Construction Materials, LLC		\$2,550.0000	\$2,550.00
Jones Bros. Contractors, LLC		\$200.0000	\$200.00
Wright Brothers Construction Company, Inc.		\$222.0000	\$222.00
713-15.07 SUSPENDED FLAT SHEET ALUMINUM SIGN (0.080" THICK)	)		
	3.000 EACH		
Eutaw Construction Company, Inc.		\$471.9000	\$1,415.70
Volunteer Paving, LLC		\$428.0000	\$1,284.00
Dement Construction Company, LLC		\$150.0000	\$450.00
Rogers Group, Inc.		\$434.8300	\$1,304.49
Bell & Associates Construction, LLC		\$465.0000	\$1,395.00
Vulcan Construction Materials, LLC		\$425.0000	\$1,275.00
Jones Bros. Contractors, LLC		\$150.0000	\$450.00
Wright Brothers Construction Company, Inc.		\$471.0000	\$1,413.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	6.000 EACH		
Eutaw Construction Company, Inc.		\$9,198.0000	\$55,188.00
Volunteer Paving, LLC		\$6,500.0000	\$39,000.00
Dement Construction Company, LLC		\$8,500.0000	\$51,000.00
Rogers Group, Inc.		\$8,611.4000	\$51,668.40
Bell & Associates Construction, LLC		\$9,300.0000	\$55,800.00
Vulcan Construction Materials, LLC		\$5,500.0000	\$33,000.00
Jones Bros. Contractors, LLC		\$8,500.0000	\$51,000.00
Wright Brothers Construction Company, Inc.		\$9,440.0000	\$56,640.00

	UNIT PRICE	EXTENSION
713-16.20 SIGNS (PROTECTED AREA SIGN)		
,	16.000 EACH	
Eutaw Construction Company, Inc.	\$232,7000	\$3,723.20
Volunteer Paving, LLC	\$392.0000	\$6,272.00
Dement Construction Company, LLC	\$215.0000	\$3,440.00
Rogers Group, Inc.	\$217.8200	\$3,485.12
Bell & Associates Construction, LLC	\$235.0000	\$3,760.00
Vulcan Construction Materials, LLC	\$215.0000	\$3,440.00
Jones Bros. Contractors, LLC	\$215.0000	\$3,440.00
Wright Brothers Construction Company, Inc.	\$239.0000	\$3,824.00
716-01.05 TEMPORARY RAISED PAVEMENT MARKER		
710-01.03 TEMPORARI RAISED FAVEMENT MARKER	746.000 EACH	
Eutaw Construction Company, Inc.	\$7.9000	\$5,893.40
Volunteer Paving, LLC	\$12.0000	\$8,952.00
Dement Construction Company, LLC	\$7.0000	\$5,222.00
Rogers Group, Inc.	\$7.0200	\$5,236.92
Bell & Associates Construction, LLC	\$7.5000	\$5,595.00
Vulcan Construction Materials, LLC	\$7.0000	\$5,222.00
Jones Bros. Contractors, LLC	\$7.0000	\$5,222.00
Wright Brothers Construction Company, Inc.	\$7.7500	\$5,781.50
716-01.14 RAISED PAVEMENT MARKER REMOVAL		
	601.000 EACH	
Eutaw Construction Company, Inc.	\$2.3000	\$1,382.30
Volunteer Paving, LLC	\$5.0000	\$3,005.00
Dement Construction Company, LLC	\$2.0000	\$1,202.00
Rogers Group, Inc.	\$2.0100	\$1,208.01
Bell & Associates Construction, LLC	\$2.1500	\$1,292.15
Vulcan Construction Materials, LLC	\$2.0000	\$1,202.00
Jones Bros. Contractors, LLC	\$2.0000	\$1,202.00
Wright Brothers Construction Company, Inc.	\$2.2000	\$1,322.20
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)	
	298.000 EACH	
Eutaw Construction Company, Inc.	\$45.4000	\$13,529.20
Volunteer Paving, LLC	\$25.0000	\$7,450.00
Dement Construction Company, LLC	\$40.0000	\$11,920.00
Rogers Group, Inc.	\$40.1200	\$11,955.76
Bell & Associates Construction, LLC	\$43.0000	\$12,814.00
Vulcan Construction Materials, LLC	\$40.0000	\$11,920.00
Jones Bros. Contractors, LLC	\$40.0000	\$11,920.00
Wright Brothers Construction Company, Inc.	\$44.5000	\$13,261.00

		CONTRACT CITYTO
	UNIT PRICE	EXTENSION
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 CO	DLOR)	
	90.000 EACH	
Eutaw Construction Company, Inc.	\$45.4000	\$4,086.00
Volunteer Paving, LLC	\$25.0000	\$2,250.00
Dement Construction Company, LLC	\$40.0000	\$3,600.00
Rogers Group, Inc.	\$40.1200	\$3,610.80
Bell & Associates Construction, LLC	\$43.0000	\$3,870.00
Vulcan Construction Materials, LLC	\$40.0000	\$3,600.00
Jones Bros. Contractors, LLC	\$40.0000	\$3,600.00
Wright Brothers Construction Company, Inc.	\$44.5000	\$4,005.00
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLO	DR)	
·	70.000 EACH	
Eutaw Construction Company, Inc.	\$45.4000	\$3,178.00
Volunteer Paving, LLC	\$25.0000	\$1,750.00
Dement Construction Company, LLC	\$40.0000	\$2,800.00
Rogers Group, Inc.	\$40.1200	\$2,808.40
Bell & Associates Construction, LLC	\$43.0000	\$3,010.00
Vulcan Construction Materials, LLC	\$40.0000	\$2,800.00
Jones Bros. Contractors, LLC	\$40.0000	\$2,800.00
Wright Brothers Construction Company, Inc.	\$44.5000	\$3,115.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	344.000 EACH	
Eutaw Construction Company, Inc.	\$9.1000	\$3,130.40
Volunteer Paving, LLC	\$10.0000	\$3,440.00
Dement Construction Company, LLC	\$8.0000	\$2,752.00
Rogers Group, Inc.	\$8.0200	\$2,758.88
Bell & Associates Construction, LLC	\$8.5000	\$2,924.00
Vulcan Construction Materials, LLC	\$8.0000	\$2,752.00
Jones Bros. Contractors, LLC	\$8.0000	\$2,752.00
Wright Brothers Construction Company, Inc.	\$8.9000	\$3,061.60
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
	150.000 S.Y.	
Eutaw Construction Company, Inc.	\$28.4000	\$4,260.00
Volunteer Paving, LLC	\$18.0000	\$2,700.00
Dement Construction Company, LLC	\$25.0000	\$3,750.00
Rogers Group, Inc.	\$25.0800	\$3,762.00
Bell & Associates Construction, LLC	\$27.0000	\$4,050.00
Vulcan Construction Materials, LLC	\$25.0000	\$3,750.00
Jones Bros. Contractors, LLC	\$25.0000	\$3,750.00
Wright Brothers Construction Company, Inc.	\$27.7500	\$4,162.50

UNIT PRICE	EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)	
235.000 L.F.	
Eutaw Construction Company, Inc. \$17.0000	\$3,995.00
Volunteer Paving, LLC \$15.0000	\$3,525.00
Dement Construction Company, LLC \$15.0000	\$3,525.00
Rogers Group, Inc. \$15.0400	\$3,534.40
Bell & Associates Construction, LLC \$16.0000	\$3,760.00
Vulcan Construction Materials, LLC \$15.0000	\$3,525.00
Jones Bros. Contractors, LLC \$15.0000	\$3,525.00
Wright Brothers Construction Company, Inc. \$16.6500	\$3,912.75
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	
15.000 EACH	
Eutaw Construction Company, Inc. \$170.1000	\$2,551.50
Volunteer Paving, LLC \$150.0000	\$2,250.00
Dement Construction Company, LLC \$150.0000	\$2,250.00
Rogers Group, Inc. \$150.4600	\$2,256.90
Bell & Associates Construction, LLC \$155.0000	\$2,325.00
Vulcan Construction Materials, LLC \$150.0000	\$2,250.00
Jones Bros. Contractors, LLC \$150.0000	\$2,250.00
Wright Brothers Construction Company, Inc. \$167.0000	\$2,505.00
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)	
3,254.000 L.F.	
Eutaw Construction Company, Inc. \$9.1000	\$29,611.40
Volunteer Paving, LLC \$5.0000	\$16,270.00
Dement Construction Company, LLC \$8.0000	\$26,032.00
Rogers Group, Inc. \$8.0200	\$26,097.08
Bell & Associates Construction, LLC \$8.5000	\$27,659.00
Vulcan Construction Materials, LLC \$8.0000	\$26,032.00
Jones Bros. Contractors, LLC \$8.0000	\$26,032.00
Wright Brothers Construction Company, Inc. \$8.9000	\$28,960.60
716-02.11 PLASTIC PAVEMENT MARKING (6" DOTTED LINE)	
2,011.000 L.F.	
Eutaw Construction Company, Inc. \$2.3000	\$4,625.30
Volunteer Paving, LLC \$1.0000	\$2,011.00
Dement Construction Company, LLC \$2.0000	\$4,022.00
Rogers Group, Inc. \$2.0100	\$4,042.11
Bell & Associates Construction, LLC \$2.1500	\$4,323.65
Vulcan Construction Materials, LLC \$2.0000	\$4,022.00
Jones Bros. Contractors, LLC \$2.0000	\$4,022.00
Wright Brothers Construction Company, Inc. \$2.2000	\$4,424.20

		•	SITTINACT CITY 170
		UNIT PRICE	EXTENSION
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
· · ·	2.000 EACH		
Eutaw Construction Company, Inc.		\$408.2000	\$816.40
Volunteer Paving, LLC		\$250.0000	\$500.00
Dement Construction Company, LLC		\$360.0000	\$720.00
Rogers Group, Inc.		\$361.1100	\$722.22
Bell & Associates Construction, LLC		\$390.0000	\$780.00
Vulcan Construction Materials, LLC		\$360.0000	\$720.00
Jones Bros. Contractors, LLC		\$360.0000	\$720.00
Wright Brothers Construction Company, Inc.		\$400.0000	\$800.00
716-04.02 PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	4.000 EACH		
Eutaw Construction Company, Inc.		\$340.2000	\$1,360.80
Volunteer Paving, LLC		\$300.0000	\$1,200.00
Dement Construction Company, LLC		\$300.0000	\$1,200.00
Rogers Group, Inc.		\$300.9200	\$1,203.68
Bell & Associates Construction, LLC		\$325.0000	\$1,300.00
Vulcan Construction Materials, LLC		\$300.0000	\$1,200.00
Jones Bros. Contractors, LLC		\$300.0000	\$1,200.00
Wright Brothers Construction Company, Inc.		\$333.0000	\$1,332.00
716-04.07 PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$396.9000	\$793.80
Volunteer Paving, LLC		\$300.0000	\$600.00
Dement Construction Company, LLC		\$350.0000	\$700.00
Rogers Group, Inc.		\$351.0800	\$702.16
Bell & Associates Construction, LLC		\$380.0000	\$760.00
Vulcan Construction Materials, LLC		\$350.0000	\$700.00
Jones Bros. Contractors, LLC		\$350.0000	\$700.00
Wright Brothers Construction Company, Inc.		\$389.0000	\$778.00
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	8.000 EACH		
Eutaw Construction Company, Inc.		\$567.0000	\$4,536.00
Volunteer Paving, LLC		\$400.0000	\$3,200.00
Dement Construction Company, LLC		\$500.0000	\$4,000.00
Rogers Group, Inc.		\$501.5500	\$4,012.40
Bell & Associates Construction, LLC		\$540.0000	\$4,320.00
Vulcan Construction Materials, LLC		\$500.0000	\$4,000.00
Jones Bros. Contractors, LLC		\$500.0000	\$4,000.00
Wright Brothers Construction Company, Inc.		\$560.0000	\$4,480.00

	UNIT PRICE	EXTENSION
	5,,	
716-05.04 PAINTED PAVEMENT MARKING (CHANNELIZATION STRIPING)		
844.000 S.Y.		
Eutaw Construction Company, Inc.	\$5.7000	\$4,810.80
Volunteer Paving, LLC	\$3.5000	\$2,954.00
Dement Construction Company, LLC	\$5.0000	\$4,220.00
Rogers Group, Inc.	\$5.0100	\$4,228.44
Bell & Associates Construction, LLC	\$5.4000	\$4,557.60
Vulcan Construction Materials, LLC	\$5.0000	\$4,220.00
Jones Bros. Contractors, LLC	\$5.0000	\$4,220.00
Wright Brothers Construction Company, Inc.	\$5.5500	\$4,684.20
716-05.06 PAINTED PAVEMENT MARKING (TURN LANE ARROW)		
36.000 EACH		
Eutaw Construction Company, Inc.	\$28.4000	\$1,022.40
Volunteer Paving, LLC	\$50.0000	\$1,800.00
Dement Construction Company, LLC	\$25.0000	\$900.00
Rogers Group, Inc.	\$25.0800	\$902.88
Bell & Associates Construction, LLC	\$27.0000	\$972.00
Vulcan Construction Materials, LLC	\$25.0000	\$900.00
Jones Bros. Contractors, LLC	\$25.0000	\$900.00
Wright Brothers Construction Company, Inc.	\$27.7500	\$999.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
21.500 L.M.		
Eutaw Construction Company, Inc.	\$1,587.5000	\$34,131.25
Volunteer Paving, LLC	\$1,500.0000	\$32,250.00
Dement Construction Company, LLC	\$1,400.0000	\$30,100.00
Rogers Group, Inc.	\$1,404.3100	\$30,192.67
Bell & Associates Construction, LLC	\$1,500.0000	\$32,250.00
Vulcan Construction Materials, LLC	\$1,400.0000	\$30,100.00
Jones Bros. Contractors, LLC	\$1,400.0000	\$30,100.00
Wright Brothers Construction Company, Inc.	\$1,550.0000	\$33,325.00
716-08.01 REMOVAL OF PAVEMENT MARKING (LINE)		
87,514.000 L.F.		
Eutaw Construction Company, Inc.	\$0.6000	\$52,508.40
Volunteer Paving, LLC	\$0.5000	\$43,757.00
Dement Construction Company, LLC	\$0.5000	\$43,757.00
Rogers Group, Inc.	\$0.5000	\$43,757.00
Bell & Associates Construction, LLC	\$0.5500	\$48,132.70
Vulcan Construction Materials, LLC	\$0.5000	\$43,757.00
Jones Bros. Contractors, LLC	\$0.5000	\$43,757.00
Wright Brothers Construction Company, Inc.	\$0.5500	\$48,132.70

		CONTRACT CITYTO
	UNIT PRICE	EXTENSION
716-08.04 REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIP)	NG)	
	1,516.000 S.Y.	
Eutaw Construction Company, Inc.	\$4.5000	\$6,822.00
Volunteer Paving, LLC	\$2.5000	\$3,790.00
Dement Construction Company, LLC	\$4.0000	\$6,064.00
Rogers Group, Inc.	\$4.0100	\$6,079.16
Bell & Associates Construction, LLC	\$4.2500	\$6,443.00
Vulcan Construction Materials, LLC	\$4.0000	\$6,064.00
Jones Bros. Contractors, LLC	\$4.0000	\$6,064.00
Wright Brothers Construction Company, Inc.	\$4.4500	\$6,746.20
74C 00 05 DEMOVAL OF DAVEMENT MADVING (CTOD LINE)		
716-08.05 REMOVAL OF PAVEMENT MARKING (STOP LINE)	108.000 L.F.	
Eutaw Construction Company, Inc.	\$11.3000	\$1,220.40
Volunteer Paving, LLC	\$6.000	\$648.00
Dement Construction Company, LLC	\$0.0000 \$10.0000	\$1,080.00
	\$10.0000 \$10.0300	
Rogers Group, Inc.	·	\$1,083.24
Bell & Associates Construction, LLC	\$11.0000	\$1,188.00
Vulcan Construction Materials, LLC	\$10.0000	\$1,080.00 \$1,080.00
Jones Bros. Contractors, LLC	\$10.0000 \$44.4000	• •
Wright Brothers Construction Company, Inc.	\$11.1000	\$1,198.80
716-08.06 REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)		
	27.000 EACH	
Eutaw Construction Company, Inc.	\$56.7000	\$1,530.90
Volunteer Paving, LLC	\$50.0000	\$1,350.00
Dement Construction Company, LLC	\$50.0000	\$1,350.00
Rogers Group, Inc.	\$50.1500	\$1,354.05
Bell & Associates Construction, LLC	\$54.0000	\$1,458.00
Vulcan Construction Materials, LLC	\$50.0000	\$1,350.00
Jones Bros. Contractors, LLC	\$50.0000	\$1,350.00
Wright Brothers Construction Company, Inc.	\$55.5000	\$1,498.50
716-09.86 CONTRAST PAVEMENT MARKING 6"		
	1.800 L.M.	
Eutaw Construction Company, Inc.	\$19,278.0000	\$34,700.40
Volunteer Paving, LLC	\$15,000.0000	\$27,000.00
Dement Construction Company, LLC	\$17,000.0000	\$30,600.00
Rogers Group, Inc.	\$17,052.3000	\$30,694.14
Bell & Associates Construction, LLC	\$18,500.0000	\$33,300.00
Vulcan Construction Materials, LLC	\$17,000.0000	\$30,600.00
Jones Bros. Contractors, LLC	\$17,000.0000	\$30,600.00
Wright Brothers Construction Company, Inc.	\$18,900.0000	\$34,020.00
	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,

				CONTRACT CHV176
			UNIT PRICE	EXTENSION
716-12.02 ENHANCED	FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	,	18.800 L.M.		
Futaw Cons	truction Company, Inc.		\$6,123.5000	\$115,121.80
Volunteer Pa			\$5,000.0000	\$94,000.00
	nstruction Company, LLC		\$5,400.0000	\$101,520.00
Rogers Grou			\$5,416.6100	\$101,832.27
•	ciates Construction, LLC		\$5,900.0000	\$110,920.00
	struction Materials, LLC		\$5,400.0000	\$101,520.00
	Contractors, LLC		\$5,400.0000	\$101,520.00
	ners Construction Company, Inc.		\$6,000.0000	\$112,800.00
716-12.05 ENHANCED	FLATLINE THERMO PVMT MRKNG (6IN DOTTED I	LINE)		
		5,106.000 L.F.		
Eutaw Cons	truction Company, Inc.		\$3.4000	\$17,360.40
Volunteer Pa			\$1.0000	\$5,106.00
	nstruction Company, LLC		\$3.0000	\$15,318.00
Rogers Grou	• •		\$3.0100	\$15,369.06
•	ciates Construction, LLC		\$3.2500	\$16,594.50
	struction Materials, LLC		\$3.0000	\$15,318.00
	Contractors, LLC		\$3.0000	\$15,318.00
Wright Broth	ners Construction Company, Inc.		\$3.3500	\$17,105.10
717-01 MOBILIZATIO	ON			
		1.000 LS		
Eutaw Cons	truction Company, Inc.		\$1,232,537.2400	\$1,232,537.24
Volunteer Pa			\$1,400,000.0000	\$1,400,000.00
	nstruction Company, LLC		\$1,400,000.0000	\$1,400,000.00
Rogers Grou			\$1,450,000.0000	\$1,450,000.00
_	ciates Construction, LLC		\$982,000.0000	\$982,000.00
Vulcan Cons	struction Materials, LLC		\$960,000.0000	\$960,000.00
Jones Bros.	Contractors, LLC		\$1,525,000.0000	\$1,525,000.00
Wright Broth	ners Construction Company, Inc.		\$1,700,000.0000	\$1,700,000.00
730-02.09 SIGNAL HEA	AD ASSEMBLY (130 WITH BACKPLATE)			
		9.000 EACH		
	truction Company, Inc.		\$877.2000	\$7,894.80
Volunteer Pa	<del>-</del>		\$987.0000	\$8,883.00
	nstruction Company, LLC		\$790.0000	\$7,110.00
Rogers Grou			\$808.2700	\$7,274.43
	ciates Construction, LLC		\$865.0000	\$7,785.00
	struction Materials, LLC		\$790.0000	\$7,110.00
	Contractors, LLC		\$790.0000	\$7,110.00
Wright Broth	ners Construction Company, Inc.		\$1,090.0000	\$9,810.00

		`	CHINACI CHVI70
		UNIT PRICE	EXTENSION
730-02.17 SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
· · · · · · · · · · · · · · · · · · ·	1.000 EACH		
Eutaw Construction Company, Inc.		\$1,432.2500	\$1,432.25
Volunteer Paving, LLC		\$1,459.0000	\$1,459.00
Dement Construction Company, LLC		\$1,290.0000	\$1,290.00
Rogers Group, Inc.		\$1,319.8500	\$1,319.85
Bell & Associates Construction, LLC		\$1,400.0000	\$1,400.00
Vulcan Construction Materials, LLC		\$1,290.0000	\$1,290.00
Jones Bros. Contractors, LLC		\$1,290.0000	\$1,290.00
Wright Brothers Construction Company, Inc.		\$1,600.0000	\$1,600.00
730-02.30 SIGNAL HEAD ASSEMBLY (130 A2 WITH BACKPLATE)			
(	2.000 EACH		
Eutaw Construction Company, Inc.		\$894.9000	\$1,789.80
Volunteer Paving, LLC		\$982.0000	\$1,964.00
Dement Construction Company, LLC		\$806.0000	\$1,612.00
Rogers Group, Inc.		\$824.6500	\$1,649.30
Bell & Associates Construction, LLC		\$880.0000	\$1,760.00
Vulcan Construction Materials, LLC		\$806.0000	\$1,612.00
Jones Bros. Contractors, LLC		\$806.0000	\$1,612.00
Wright Brothers Construction Company, Inc.		\$1,080.0000	\$2,160.00
730-02.31 SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
(	2.000 EACH		
Eutaw Construction Company, Inc.		\$894.9000	\$1,789.80
Volunteer Paving, LLC		\$991.0000	\$1,982.00
Dement Construction Company, LLC		\$806.0000	\$1,612.00
Rogers Group, Inc.		\$824.6500	\$1,649.30
Bell & Associates Construction, LLC		\$880.0000	\$1,760.00
Vulcan Construction Materials, LLC		\$806.0000	\$1,612.00
Jones Bros. Contractors, LLC		\$806.0000	\$1,612.00
Wright Brothers Construction Company, Inc.		\$1,090.0000	\$2,180.00
730-03.20 INSTALL PULL BOX (TYPE A)			
,	4.000 EACH		
Eutaw Construction Company, Inc.		\$666.2000	\$2,664.80
Volunteer Paving, LLC		\$363.0000	\$1,452.00
Dement Construction Company, LLC		\$600.0000	\$2,400.00
Rogers Group, Inc.		\$613.8800	\$2,455.52
Bell & Associates Construction, LLC		\$650.0000	\$2,600.00
Vulcan Construction Materials, LLC		\$600.0000	\$2,400.00
Jones Bros. Contractors, LLC		\$600.0000	\$2,400.00
Wright Brothers Construction Company, Inc.		\$399.0000	\$1,596.00

			•	OHINAOI OHIIIO
			UNIT PRICE	EXTENSION
730-03.21	INSTALL PULL BOX (TYPE B)			
		12.000 EACH		
	Eutaw Construction Company, Inc.		\$666.2000	\$7,994.40
	Volunteer Paving, LLC		\$503.0000	\$6,036.00
	Dement Construction Company, LLC		\$600.0000	\$7,200.00
	Rogers Group, Inc.		\$613.8800	\$7,366.56
	Bell & Associates Construction, LLC		\$650.0000	\$7,800.00
	Vulcan Construction Materials, LLC		\$600.0000	\$7,200.00
	Jones Bros. Contractors, LLC		\$600.0000	\$7,200.00
	Wright Brothers Construction Company, Inc.		\$550.0000	\$6,600.00
730-05.01	ELECTRICAL SERVICE CONNECTION			
		2.000 EACH		
	Eutaw Construction Company, Inc.		\$3,886.2500	\$7,772.50
	Volunteer Paving, LLC		\$1,552.0000	\$3,104.00
	Dement Construction Company, LLC		\$3,500.0000	\$7,000.00
	Rogers Group, Inc.		\$3,580.9900	\$7,161.98
	Bell & Associates Construction, LLC		\$3,800.0000	\$7,600.00
	Vulcan Construction Materials, LLC		\$3,500.0000	\$7,000.00
	Jones Bros. Contractors, LLC		\$3,500.0000	\$7,000.00
	Wright Brothers Construction Company, Inc.		\$1,710.0000	\$3,420.00
730-08.02	SIGNAL CABLE - 5 CONDUCTOR			
		393.000 L.F.		
	Eutaw Construction Company, Inc.		\$1.8000	\$707.40
	Volunteer Paving, LLC		\$1.2000	\$471.60
	Dement Construction Company, LLC		\$1.6000	\$628.80
	Rogers Group, Inc.		\$1.6400	\$644.52
	Bell & Associates Construction, LLC		\$1.7500	\$687.75
	Vulcan Construction Materials, LLC		\$1.6000	\$628.80
	Jones Bros. Contractors, LLC		\$1.6000	\$628.80
	Wright Brothers Construction Company, Inc.		\$1.3000	\$510.90
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
		786.000 L.F.		
	Eutaw Construction Company, Inc.		\$2.0000	\$1,572.00
	Volunteer Paving, LLC		\$1.4000	\$1,100.40
	Dement Construction Company, LLC		\$1.8000	\$1,414.80
	Rogers Group, Inc.		\$1.8400	\$1,446.24
	Bell & Associates Construction, LLC		\$1.9000	\$1,493.40
	Vulcan Construction Materials, LLC		\$1.8000	\$1,414.80
	Jones Bros. Contractors, LLC		\$1.8000	\$1,414.80
	Wright Brothers Construction Company, Inc.		\$1.5500	\$1,218.30

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
730-12.01 CONDUIT 1" DIAMETER (PVC)			
	824.000 L.F.		
Eutaw Construction Company, Inc.		\$10.0000	\$8,240.00
Volunteer Paving, LLC		\$7.2000	\$5,932.80
Dement Construction Company, LLC		\$9.0000	\$7,416.00
Rogers Group, Inc.		\$9.2100	\$7,589.04
Bell & Associates Construction, LLC		\$9.7500	\$8,034.00
Vulcan Construction Materials, LLC		\$9.0000	\$7,416.00
Jones Bros. Contractors, LLC		\$9.0000	\$7,416.00
Wright Brothers Construction Company, Inc.		\$7.9000	\$6,509.60
730-12.02 CONDUIT 2" DIAMETER (PVC)			
	231.000 L.F.		
Eutaw Construction Company, Inc.		\$13.3000	\$3,072.30
Volunteer Paving, LLC		\$16.0000	\$3,696.00
Dement Construction Company, LLC		\$12.0000	\$2,772.00
Rogers Group, Inc.		\$12.2800	\$2,836.68
Bell & Associates Construction, LLC		\$12.5000	\$2,887.50
Vulcan Construction Materials, LLC		\$12.0000	\$2,772.00
Jones Bros. Contractors, LLC		\$12.0000	\$2,772.00
Wright Brothers Construction Company, Inc.		\$17.6000	\$4,065.60
730-12.08 CONDUIT 2" DIAMETER (RGS)			
	301.000 L.F.		
Eutaw Construction Company, Inc.		\$26.7000	\$8,036.70
Volunteer Paving, LLC		\$29.6000	\$8,909.60
Dement Construction Company, LLC		\$24.0000	\$7,224.00
Rogers Group, Inc.		\$24.5600	\$7,392.56
Bell & Associates Construction, LLC		\$26.0000	\$7,826.00
Vulcan Construction Materials, LLC		\$24.0000	\$7,224.00
Jones Bros. Contractors, LLC		\$24.0000	\$7,224.00
Wright Brothers Construction Company, Inc.		\$32.5000	\$9,782.50
730-12.13 CONDUIT 2" DIAMETER (JACK AND BORE)			
	341.000 L.F.		
Eutaw Construction Company, Inc.		\$33.3000	\$11,355.30
Volunteer Paving, LLC		\$33.0000	\$11,253.00
Dement Construction Company, LLC		\$30.0000	\$10,230.00
Rogers Group, Inc.		\$30.7000	\$10,468.70
Bell & Associates Construction, LLC		\$32.0000	\$10,912.00
Vulcan Construction Materials, LLC		\$30.0000	\$10,230.00
Jones Bros. Contractors, LLC		\$30.0000	\$10,230.00
Wright Brothers Construction Company, Inc.		\$36.2500	\$12,361.25

		CONTINACT CITYTO
	UNIT PRICE	EXTENSION
730-13.03 VEHICLE DETECTOR (4 - CHANNEL, RACK MOUNT)		
	4.000 EACH	
Eutaw Construction Company, Inc.	\$450.8000	\$1,803.20
Volunteer Paving, LLC	\$544.0000	\$2,176.00
Dement Construction Company, LLC	\$406.0000	\$1,624.00
Rogers Group, Inc.	\$415.4000	\$1,661.60
Bell & Associates Construction, LLC	\$440.0000	\$1,760.00
Vulcan Construction Materials, LLC	\$406.0000	\$1,624.00
Jones Bros. Contractors, LLC	\$406.0000	\$1,624.00
Wright Brothers Construction Company, Inc.	\$600.0000	\$2,400.00
730-14.01 SHIELDED DETECTOR CABLE		
2	,412.000 L.F.	
Eutaw Construction Company, Inc.	\$1.3000	\$3,135.60
Volunteer Paving, LLC	\$1.0000	\$2,412.00
Dement Construction Company, LLC	\$1.2000	\$2,894.40
Rogers Group, Inc.	\$1.2300	\$2,966.76
Bell & Associates Construction, LLC	\$1.3000	\$3,135.60
Vulcan Construction Materials, LLC	\$1.2000	\$2,894.40
Jones Bros. Contractors, LLC	\$1.2000	\$2,894.40
Wright Brothers Construction Company, Inc.	\$1.1000	\$2,653.20
730-14.02 SAW SLOT		
1	,908.000 L.F.	
Eutaw Construction Company, Inc.	\$4.4000	\$8,395.20
Volunteer Paving, LLC	\$4.8000	\$9,158.40
Dement Construction Company, LLC	\$4.0000	\$7,632.00
Rogers Group, Inc.	\$4.0900	\$7,803.72
Bell & Associates Construction, LLC	\$4.2500	\$8,109.00
Vulcan Construction Materials, LLC	\$4.0000	\$7,632.00
Jones Bros. Contractors, LLC	\$4.0000	\$7,632.00
Wright Brothers Construction Company, Inc.	\$5.3000	\$10,112.40
730-14.03 LOOP WIRE		
5	,372.000 L.F.	
Eutaw Construction Company, Inc.	\$0.7000	\$3,760.40
Volunteer Paving, LLC	\$0.7000	\$3,760.40
Dement Construction Company, LLC	\$0.6000	\$3,223.20
Rogers Group, Inc.	\$0.6100	\$3,276.92
Bell & Associates Construction, LLC	\$0.6500	\$3,491.80
Vulcan Construction Materials, LLC	\$0.6000	\$3,223.20
Jones Bros. Contractors, LLC	\$0.6000	\$3,223.20
Wright Brothers Construction Company, Inc.	\$0.7500	\$4,029.00

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$18,232.0000	\$36,464.00
Volunteer Paving, LLC		\$20,315.0000	\$40,630.00
Dement Construction Company, LLC		\$16,420.0000	\$32,840.00
Rogers Group, Inc.		\$16,799.9100	\$33,599.82
Bell & Associates Construction, LLC		\$17,500.0000	\$35,000.00
Vulcan Construction Materials, LLC		\$16,420.0000	\$32,840.00
Jones Bros. Contractors, LLC		\$16,420.0000	\$32,840.00
Wright Brothers Construction Company, Inc.		\$22,300.0000	\$44,600.00
730-16.04 CONTROLLER (ATC)			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$4,752.2500	\$9,504.50
Volunteer Paving, LLC		\$4,156.0000	\$8,312.00
Dement Construction Company, LLC		\$4,280.0000	\$8,560.00
Rogers Group, Inc.		\$4,379.0300	\$8,758.06
Bell & Associates Construction, LLC		\$4,600.0000	\$9,200.00
Vulcan Construction Materials, LLC		\$4,280.0000	\$8,560.00
Jones Bros. Contractors, LLC		\$4,280.0000	\$8,560.00
Wright Brothers Construction Company, Inc.		\$4,570.0000	\$9,140.00
730-23.36 CANTILEVER SIGNAL SUPPORT (2 @ 69' & 46')			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$36,713.0000	\$36,713.00
Volunteer Paving, LLC		\$39,666.0000	\$39,666.00
Dement Construction Company, LLC		\$33,065.0000	\$33,065.00
Rogers Group, Inc.		\$33,830.0400	\$33,830.04
Bell & Associates Construction, LLC		\$35,000.0000	\$35,000.00
Vulcan Construction Materials, LLC		\$33,065.0000	\$33,065.00
Jones Bros. Contractors, LLC		\$33,065.0000	\$33,065.00
Wright Brothers Construction Company, Inc.		\$43,600.0000	\$43,600.00
730-23.37 CANTILEVER SIGNAL SUPPORT (1 ARM @ 58')			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$26,009.0000	\$26,009.00
Volunteer Paving, LLC		\$27,825.0000	\$27,825.00
Dement Construction Company, LLC		\$23,425.0000	\$23,425.00
Rogers Group, Inc.		\$23,966.9900	\$23,966.99
Bell & Associates Construction, LLC		\$25,000.0000	\$25,000.00
Vulcan Construction Materials, LLC		\$23,425.0000	\$23,425.00
Jones Bros. Contractors, LLC		\$23,425.0000	\$23,425.00
Wright Brothers Construction Company, Inc.		\$30,600.0000	\$30,600.00

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
730-23.38 CANTILEVER SIGNAL SUPPORT (2 @ 59' & 57')			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$38,359.0000	\$38,359.00
Volunteer Paving, LLC		\$41,303.0000	\$41,303.00
Dement Construction Company, LLC		\$34,547.0000	\$34,547.00
Rogers Group, Inc.		\$35,346.3300	\$35,346.33
Bell & Associates Construction, LLC		\$37,500.0000	\$37,500.00
Vulcan Construction Materials, LLC		\$34,547.0000	\$34,547.00
Jones Bros. Contractors, LLC		\$34,547.0000	\$34,547.00
Wright Brothers Construction Company, Inc.		\$45,400.0000	\$45,400.00
730-23.39 CANTILEVER SIGNAL SUPPORT (1 ARM @ 64')			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$27,282.0000	\$27,282.00
Volunteer Paving, LLC		\$30,299.0000	\$30,299.00
Dement Construction Company, LLC		\$24,571.0000	\$24,571.00
Rogers Group, Inc.		\$25,139.5100	\$25,139.51
Bell & Associates Construction, LLC		\$26,500.0000	\$26,500.00
Vulcan Construction Materials, LLC		\$24,571.0000	\$24,571.00
Jones Bros. Contractors, LLC		\$24,571.0000	\$24,571.00
Wright Brothers Construction Company, Inc.		\$33,300.0000	\$33,300.00
730-40 TEMPORARY TRAFFIC SIGNAL SYSTEM			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$38,040.0000	\$76,080.00
Volunteer Paving, LLC		\$14,105.0000	\$28,210.00
Dement Construction Company, LLC		\$34,260.0000	\$68,520.00
Rogers Group, Inc.		\$35,052.6900	\$70,105.38
Bell & Associates Construction, LLC		\$37,500.0000	\$75,000.00
Vulcan Construction Materials, LLC		\$34,260.0000	\$68,520.00
Jones Bros. Contractors, LLC		\$34,260.0000	\$68,520.00
Wright Brothers Construction Company, Inc.		\$15,500.0000	\$31,000.00
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	3,019.000 S.Y.		
Eutaw Construction Company, Inc.		\$3.0000	\$9,057.00
Volunteer Paving, LLC		\$3.2500	\$9,811.75
Dement Construction Company, LLC		\$3.0000	\$9,057.00
Rogers Group, Inc.		\$2.0100	\$6,068.19
Bell & Associates Construction, LLC		\$3.5000	\$10,566.50
Vulcan Construction Materials, LLC		\$3.2500	\$9,811.75
Jones Bros. Contractors, LLC		\$3.0000	\$9,057.00
Wright Brothers Construction Company, Inc.		\$3.0500	\$9,207.95

			CONTRAC	I CINVITO
		UNIT PRICE	EX	TENSION
740 40 04 CEOTEVIII E (TVDE NO/CTADII IZATICAN				
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)	1,610.000 S.Y.			
Future Organization Organization	1,010.000 3.1.	<b>#0.7000</b>	,	14 0 47 00
Eutaw Construction Company, Inc.		\$2.7000		\$4,347.00
Volunteer Paving, LLC		\$1.9000		\$3,059.00
Dement Construction Company, LLC		\$3.5000		\$5,635.00
Rogers Group, Inc.		\$3.0100		\$4,846.10
Bell & Associates Construction, LLC		\$2.2500		\$3,622.50
Vulcan Construction Materials, LLC		\$1.9000		\$3,059.00
Jones Bros. Contractors, LLC		\$5.0000		\$8,050.00
Wright Brothers Construction Company, Inc.		\$4.3000	•	\$6,923.00
740-11.01 TEMPORARY SEDIMENT TUBE 8IN				
	14,176.000 L.F.			
Eutaw Construction Company, Inc.		\$3.2000	\$4	45,363.20
Volunteer Paving, LLC		\$2.3500	\$3	33,313.60
Dement Construction Company, LLC		\$2.5000		35,440.00
Rogers Group, Inc.		\$2.5100	\$3	35,581.76
Bell & Associates Construction, LLC		\$2.6000		36,857.60
Vulcan Construction Materials, LLC		\$2.3500		33,313.60
Jones Bros. Contractors, LLC		\$3.1000		43,945.60
Wright Brothers Construction Company, Inc.		\$3.4500	\$4	48,907.20
740-11.02 TEMPORARY SEDIMENT TUBE 12IN				
	6,497.000 L.F.			
Eutaw Construction Company, Inc.		\$3.7000	\$2	24,038.90
Volunteer Paving, LLC		\$2.7500	\$	17,866.75
Dement Construction Company, LLC		\$3.0000	\$	19,491.00
Rogers Group, Inc.		\$3.0100	\$	19,555.97
Bell & Associates Construction, LLC		\$3.0000	\$	19,491.00
Vulcan Construction Materials, LLC		\$2.7500	\$	17,866.75
Jones Bros. Contractors, LLC		\$3.4000	\$2	22,089.80
Wright Brothers Construction Company, Inc.		\$3.8000	\$2	24,688.60
740-11.03 TEMPORARY SEDIMENT TUBE 18IN				
	2,046.000 L.F.			
Eutaw Construction Company, Inc.		\$4.0000	9	\$8,184.00
Volunteer Paving, LLC		\$3.0500	9	\$6,240.30
Dement Construction Company, LLC		\$4.0000	9	\$8,184.00
Rogers Group, Inc.		\$4.0100	(	\$8,204.46
Bell & Associates Construction, LLC		\$3.3000	(	\$6,751.80
Vulcan Construction Materials, LLC		\$3.0500	(	\$6,240.30
Jones Bros. Contractors, LLC		\$3.9000	(	\$7,979.40
Wright Brothers Construction Company, Inc.		\$4.3500	9	\$8,900.10

			C	UNIKACI CNVI76
			UNIT PRICE	EXTENSION
740-11.04	TEMPORARY SEDIMENT TUBE 20IN			
		5,868.000 L.F.		
	Eutaw Construction Company, Inc.		\$4.4000	\$25,819.20
	Volunteer Paving, LLC		\$3.1000	\$18,190.80
	Dement Construction Company, LLC		\$4.0000	\$23,472.00
	Rogers Group, Inc.		\$4.0100	\$23,530.68
	Bell & Associates Construction, LLC		\$3.4000	\$19,951.20
	Vulcan Construction Materials, LLC		\$3.1000	\$18,190.80
	Jones Bros. Contractors, LLC		\$3.9000	\$22,885.20
	Wright Brothers Construction Company, Inc.		\$4.3500	\$25,525.80
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		773.000 UNIT		
	Eutaw Construction Company, Inc.		\$49.2000	\$38,031.60
	Volunteer Paving, LLC		\$45.0000	\$34,785.00
	Dement Construction Company, LLC		\$45.0000	\$34,785.00
	Rogers Group, Inc.		\$45.1400	\$34,893.22
	Bell & Associates Construction, LLC		\$49.0000	\$37,877.00
	Vulcan Construction Materials, LLC		\$45.0000	\$34,785.00
	Jones Bros. Contractors, LLC		\$45.0000	\$34,785.00
	Wright Brothers Construction Company, Inc.		\$49.5000	\$38,263.50
801-01.08	SEEDING (SPECIAL MIXTURE) WITH MULCH			
		53.000 UNIT		
	Eutaw Construction Company, Inc.		\$109.3000	\$5,792.90
	Volunteer Paving, LLC		\$100.0000	\$5,300.00
	Dement Construction Company, LLC		\$100.0000	\$5,300.00
	Rogers Group, Inc.		\$100.3100	\$5,316.43
	Bell & Associates Construction, LLC		\$105.0000	\$5,565.00
	Vulcan Construction Materials, LLC		\$100.0000	\$5,300.00
	Jones Bros. Contractors, LLC		\$100.0000	\$5,300.00
	Wright Brothers Construction Company, Inc.		\$110.0000	\$5,830.00
801-03	WATER (SEEDING & SODDING)			
		936.000 M.G.		
	Eutaw Construction Company, Inc.		\$41.0000	\$38,376.00
	Volunteer Paving, LLC		\$37.5000	\$35,100.00
	Dement Construction Company, LLC		\$37.5000	\$35,100.00
	Rogers Group, Inc.		\$37.6200	\$35,212.32
	Bell & Associates Construction, LLC		\$41.0000	\$38,376.00
	Vulcan Construction Materials, LLC		\$37.5000	\$35,100.00
	Jones Bros. Contractors, LLC		\$37.5000	\$35,100.00
	Wright Brothers Construction Company, Inc.		\$41.2500	\$38,610.00

				CONTINACT CHV170
			UNIT PRICE	EXTENSION
802-11.01	ACER NEGUNDO (BOX ELDER 2-5FT CNTNR GRWN)			
	,	57.000 EACH		
	Eutaw Construction Company, Inc.		\$65.6000	\$3,739.20
	Volunteer Paving, LLC		\$60.0000	\$3,420.00
	Dement Construction Company, LLC		\$60.0000	\$3,420.00
	Rogers Group, Inc.		\$60.1800	\$3,430.26
	Bell & Associates Construction, LLC		\$60.0000	\$3,420.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,420.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,420.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$3,762.00
802-11.02	ACER RUBRUM (RED MAPLE 2-5FT CNTNR GRWN)			
	,	56.000 EACH		
	Eutaw Construction Company, Inc.		\$65.6000	\$3,673.60
	Volunteer Paving, LLC		\$60.0000	\$3,360.00
	Dement Construction Company, LLC		\$60.0000	\$3,360.00
	Rogers Group, Inc.		\$60.1800	\$3,370.08
	Bell & Associates Construction, LLC		\$60.0000	\$3,360.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,360.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,360.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$3,696.00
802-11.16	FRAXINUS PENNSYLVANICA (GREEN ASH 2-5FT CNTNR GRWN)			
		56.000 EACH		
	Eutaw Construction Company, Inc.		\$65.6000	\$3,673.60
	Volunteer Paving, LLC		\$60.0000	\$3,360.00
	Dement Construction Company, LLC		\$60.0000	\$3,360.00
	Rogers Group, Inc.		\$60.1800	\$3,370.08
	Bell & Associates Construction, LLC		\$60.0000	\$3,360.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,360.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,360.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$3,696.00
802-11.26	PLATANUS OCCIDENTALIS (SYCAMORE 2-5FT CNTNR GRWN)			
		56.000 EACH		
	Eutaw Construction Company, Inc.		\$65.6000	\$3,673.60
	Volunteer Paving, LLC		\$60.0000	\$3,360.00
	Dement Construction Company, LLC		\$60.0000	\$3,360.00
	Rogers Group, Inc.		\$60.1800	\$3,370.08
	Bell & Associates Construction, LLC		\$60.0000	\$3,360.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,360.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,360.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$3,696.00

			JOHINA	101 0111110
		UN	IIT PRICE E	EXTENSION
802-11.44	ULMUS AMERICANA (AMERICAN ELM 2-5FT CNTNR GRWN)			
	·	56.000 EACH		
	Eutaw Construction Company, Inc.	•	\$65.6000	\$3,673.60
	Volunteer Paving, LLC		\$60.0000	\$3,360.00
	Dement Construction Company, LLC		\$60.0000	\$3,360.00
	Rogers Group, Inc.		\$60.1800	\$3,370.08
	Bell & Associates Construction, LLC		\$60.0000	\$3,360.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,360.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,360.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$3,696.00
802-11.64	ILEX DECIDUA (DECIDUOUS HOLLY 2-5FT CNTNR GRWN)			
		62.000 EACH		
	Eutaw Construction Company, Inc.		\$65.6000	\$4,067.20
	Volunteer Paving, LLC		\$60.0000	\$3,720.00
	Dement Construction Company, LLC		\$60.0000	\$3,720.00
	Rogers Group, Inc.		\$60.1800	\$3,731.16
	Bell & Associates Construction, LLC		\$60.0000	\$3,720.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,720.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,720.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$4,092.00
802-11.67	EUONYMUS AMERICANUS (STRAWBERRY BUSH 2-5FT CONTAIN	ER GROWN)		
		62.000 EACH		
	Eutaw Construction Company, Inc.		\$65.6000	\$4,067.20
	Volunteer Paving, LLC		\$60.0000	\$3,720.00
	Dement Construction Company, LLC		\$60.0000	\$3,720.00
	Rogers Group, Inc.		\$60.1800	\$3,731.16
	Bell & Associates Construction, LLC		\$60.0000	\$3,720.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,720.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,720.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$4,092.00
802-13.14	CALLICARPA AMERICANA (AMRCN BEAUTYBERRY) 2-5FT C.G.			
		61.000 EACH		
	Eutaw Construction Company, Inc.	:	\$65.6000	\$4,001.60
	Volunteer Paving, LLC	;	\$60.0000	\$3,660.00
	Dement Construction Company, LLC		\$60.0000	\$3,660.00
	Rogers Group, Inc.		\$60.1800	\$3,670.98
	Bell & Associates Construction, LLC		\$60.0000	\$3,660.00
	Vulcan Construction Materials, LLC		\$60.0000	\$3,660.00
	Jones Bros. Contractors, LLC		\$60.0000	\$3,660.00
	Wright Brothers Construction Company, Inc.		\$66.0000	\$4,026.00
	• •			

			CONTRACT CNV17	76
		UNIT PRICE	EXTENSION	1
802-13.15 PHYSOCARPUS OPULIFOLIUS (NINEBARK) 2-5FT C.G.				
	61.000 EACH			
Eutaw Construction Company, Inc.		\$65.6000	\$4,001.60	
Volunteer Paving, LLC		\$60.0000	\$3,660.00	
Dement Construction Company, LLC		\$60.0000	\$3,660.00	
Rogers Group, Inc.		\$60.1800	\$3,670.98	
Bell & Associates Construction, LLC		\$60.0000	\$3,660.00	
Vulcan Construction Materials, LLC		\$60.0000	\$3,660.00	
Jones Bros. Contractors, LLC		\$60.0000	\$3,660.00	
Wright Brothers Construction Company, Inc.		\$66.0000	\$4,026.00	
803-01 SODDING (NEW SOD)				
	85,868.000 S.Y.			
Eutaw Construction Company, Inc.		\$3.5000	\$300,538.00	
Volunteer Paving, LLC		\$3.2000	\$274,777.60	
Dement Construction Company, LLC		\$3.2000	\$274,777.60	
Rogers Group, Inc.		\$3.2100	\$275,636.28	
Bell & Associates Construction, LLC		\$3.3000	\$283,364.40	
Vulcan Construction Materials, LLC		\$3.2000	\$274,777.60	
Jones Bros. Contractors, LLC		\$3.2000	\$274,777.60	
Wright Brothers Construction Company, Inc.		\$3.5000	\$300,538.00	
806-02.03 PROJECT MOWING				
	6.000 CYCL			
Eutaw Construction Company, Inc.		\$2,732.5000	\$16,395.00	
Volunteer Paving, LLC		\$2,500.0000	\$15,000.00	
Dement Construction Company, LLC		\$2,500.0000	\$15,000.00	
Rogers Group, Inc.		\$2,507.7000	\$15,046.20	
Bell & Associates Construction, LLC		\$2,550.0000	\$15,300.00	
Vulcan Construction Materials, LLC		\$2,500.0000	\$15,000.00	
Jones Bros. Contractors, LLC		\$2,500.0000	\$15,000.00	
Wright Brothers Construction Company, Inc.		\$2,750.0000	\$16,500.00	
209-65.04 TEMPORARY IN STREAM DIVERSION				
	100.000 L.F.			
Eutaw Construction Company, Inc.		\$94.9000	\$9,490.00	
Volunteer Paving, LLC		\$93.0000	\$9,300.00	
Dement Construction Company, LLC		\$50.0000	\$5,000.00	
Rogers Group, Inc.		\$75.2400	\$7,524.00	
Bell & Associates Construction, LLC		\$27.0000	\$2,700.00	
Vulcan Construction Materials, LLC		\$100.0000	\$10,000.00	
Jones Bros. Contractors, LLC		\$85.0000	\$8,500.00	
Wright Brothers Construction Company, Inc.		\$71.5000	\$7,150.00	

			CONTINACT CHAIT
		UNIT PRICE	EXTENSION
802-16.01 SAL	LIX NIGRA (BLACK WILLOW 3FT LIVE STAKES)		
	120.000	EACH	
Euta	aw Construction Company, Inc.	\$65.6000	\$7,872.00
	unteer Paving, LLC	\$15.0000	\$1,800.00
	nent Construction Company, LLC	\$15.0000	\$1,800.00
Rog	gers Group, Inc.	\$15.0400	\$1,804.80
Bell	& Associates Construction, LLC	\$16.0000	\$1,920.00
Vulc	can Construction Materials, LLC	\$25.0000	\$3,000.00
Jone	es Bros. Contractors, LLC	\$15.0000	\$1,800.00
Wrig	ght Brothers Construction Company, Inc.	\$16.5000	\$1,980.00
805-12.03 ERC	OSION CONTROL BLANKET (TYPE III)		
	4,659.000	S.Y.	
Euta	aw Construction Company, Inc.	\$2.0000	\$9,318.00
Volu	unteer Paving, LLC	\$1.8500	\$8,619.15
Dem	nent Construction Company, LLC	\$1.8500	\$8,619.15
Rog	gers Group, Inc.	\$1.8600	\$8,665.74
Bell	& Associates Construction, LLC	\$2.0000	\$9,318.00
Vulc	can Construction Materials, LLC	\$1.8500	\$8,619.15
Jone	es Bros. Contractors, LLC	\$1.8500	\$8,619.15
Wrig	ght Brothers Construction Company, Inc.	\$2.0500	\$9,550.95
714-03 JAC	CKED OR BORED CONDUIT		
	370.000	L.F.	
Euta	aw Construction Company, Inc.	\$33.3000	\$12,321.00
Volu	unteer Paving, LLC	\$30.8000	\$11,396.00
Dem	nent Construction Company, LLC	\$30.0000	\$11,100.00
Rog	gers Group, Inc.	\$30.7000	\$11,359.00
Bell	& Associates Construction, LLC	\$32.5000	\$12,025.00
	can Construction Materials, LLC	\$30.0000	\$11,100.00
Jone	es Bros. Contractors, LLC	\$30.0000	\$11,100.00
Wrig	ght Brothers Construction Company, Inc.	\$33.7500	\$12,487.50
714-03.01 DIRE	ECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)		
	7,660.000	L.F.	
Euta	aw Construction Company, Inc.	\$10.0000	\$76,600.00
	unteer Paving, LLC	\$10.6000	\$81,196.00
Dem	nent Construction Company, LLC	\$9.0000	\$68,940.00
-	gers Group, Inc.	\$9.2100	\$70,548.60
	& Associates Construction, LLC	\$9.8000	\$75,068.00
	can Construction Materials, LLC	\$9.0000	\$68,940.00
	es Bros. Contractors, LLC	\$9.0000	\$68,940.00
Wrig	ght Brothers Construction Company, Inc.	\$11.6500	\$89,239.00

			CONTRACT	CNV176
		UNIT PRICE	EXTI	ENSION
714-04.02 CONDUIT (STRUCTURES - 2" RGS)				
	315.000 L.F.			
Eutaw Construction Company, Inc.		\$26.7000	\$8	,410.50
Volunteer Paving, LLC		\$23.2000		,308.00
Dement Construction Company, LLC		\$24.0000	\$7	,560.00
Rogers Group, Inc.		\$24.5600	\$7	,736.40
Bell & Associates Construction, LLC		\$26.0000	\$8	,190.00
Vulcan Construction Materials, LLC		\$24.0000	\$7	,560.00
Jones Bros. Contractors, LLC		\$24.0000	\$7	,560.00
Wright Brothers Construction Company, Inc.		\$25.5000	\$8	,032.50
714-05.04 PULL BOXES (TYPE C)				
	18.000 EACH			
Eutaw Construction Company, Inc.		\$666.2000	\$11	,991.60
Volunteer Paving, LLC		\$475.0000	\$8	,550.00
Dement Construction Company, LLC		\$600.0000	\$10	,800.00
Rogers Group, Inc.		\$613.8800	\$11	,049.84
Bell & Associates Construction, LLC		\$650.0000	\$11	,700.00
Vulcan Construction Materials, LLC		\$600.0000	\$10	,800.00
Jones Bros. Contractors, LLC		\$600.0000		,800.00
Wright Brothers Construction Company, Inc.		\$520.0000	\$9	,360.00
714-05.05 PULL BOXES (6"X6")				
	4.000 EACH			
Eutaw Construction Company, Inc.		\$444.1000	\$1	,776.40
Volunteer Paving, LLC		\$502.0000	\$2	,008.00
Dement Construction Company, LLC		\$400.0000	\$1	,600.00
Rogers Group, Inc.		\$409.2600		,637.04
Bell & Associates Construction, LLC		\$425.0000		,700.00
Vulcan Construction Materials, LLC		\$400.0000		,600.00
Jones Bros. Contractors, LLC		\$400.0000		,600.00
Wright Brothers Construction Company, Inc.		\$550.0000	\$2	2,200.00
714-06.04 CABLE (1/C # 8 AWG)				
	5,025.000 L.F.			
Eutaw Construction Company, Inc.		\$2.0000		,050.00
Volunteer Paving, LLC		\$1.6000		,040.00
Dement Construction Company, LLC		\$1.8000		,045.00
Rogers Group, Inc.		\$1.8400		,246.00
Bell & Associates Construction, LLC		\$2.0000		,050.00
Vulcan Construction Materials, LLC		\$1.8000		,045.00
Jones Bros. Contractors, LLC		\$1.8000		,045.00
Wright Brothers Construction Company, Inc.		\$1.7500	\$8	,793.75

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
714-06.05 CABLE (1/C # 6 AWG)			
	5,100.000 L.F.		
Eutaw Construction Company, Inc.	·	\$2.2000	\$11,220.00
Volunteer Paving, LLC		\$2.2000	\$11,220.00
Dement Construction Company, LLC		\$2.0000	\$10,200.00
Rogers Group, Inc.		\$2.0500	\$10,455.00
Bell & Associates Construction, LLC		\$2.1500	\$10,965.00
Vulcan Construction Materials, LLC		\$2.0000	\$10,200.00
Jones Bros. Contractors, LLC		\$2.0000	\$10,200.00
Wright Brothers Construction Company, Inc.		\$2.4000	\$12,240.00
714-06.06 CABLE (1/C # 4 AWG)			
	7,485.000 L.F.		
Eutaw Construction Company, Inc.		\$2.8000	\$20,958.00
Volunteer Paving, LLC		\$2.7000	\$20,209.50
Dement Construction Company, LLC		\$2.5000	\$18,712.50
Rogers Group, Inc.		\$2.5600	\$19,161.60
Bell & Associates Construction, LLC		\$2.7500	\$20,583.75
Vulcan Construction Materials, LLC		\$2.5000	\$18,712.50
Jones Bros. Contractors, LLC		\$2.5000	\$18,712.50
Wright Brothers Construction Company, Inc.		\$2.9500	\$22,080.75
714-08.10 LIGHT STANDARDS (45')			
	27.000 EACH		
Eutaw Construction Company, Inc.		\$4,041.5000	\$109,120.50
Volunteer Paving, LLC		\$3,257.0000	\$87,939.00
Dement Construction Company, LLC		\$3,640.0000	\$98,280.00
Rogers Group, Inc.		\$3,724.2300	\$100,554.21
Bell & Associates Construction, LLC		\$3,800.0000	\$102,600.00
Vulcan Construction Materials, LLC		\$3,640.0000	\$98,280.00
Jones Bros. Contractors, LLC		\$3,640.0000	\$98,280.00
Wright Brothers Construction Company, Inc.		\$3,580.0000	\$96,660.00
714-08.20 FOUNDATION (ONLY) FOR LIGHT STANDARD			
	27.000 EACH		
Eutaw Construction Company, Inc.		\$1,665.5000	\$44,968.50
Volunteer Paving, LLC		\$1,615.0000	\$43,605.00
Dement Construction Company, LLC		\$1,500.0000	\$40,500.00
Rogers Group, Inc.		\$1,534.7100	\$41,437.17
Bell & Associates Construction, LLC		\$1,600.0000	\$43,200.00
Vulcan Construction Materials, LLC		\$1,500.0000	\$40,500.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$40,500.00
Wright Brothers Construction Company, Inc.		\$1,780.0000	\$48,060.00

			•	CONTRACT COVITO
			UNIT PRICE	EXTENSION
714-09.09	LUMINAIRES (255 WATT LED)			
		27.000 EACH		
	Eutaw Construction Company, Inc.		\$2,065.2500	\$55,761.75
	Volunteer Paving, LLC		\$1,028.0000	\$27,756.00
	Dement Construction Company, LLC		\$1,860.0000	\$50,220.00
	Rogers Group, Inc.		\$1,903.0400	\$51,382.08
	Bell & Associates Construction, LLC		\$2,000.0000	\$54,000.00
	Vulcan Construction Materials, LLC		\$1,860.0000	\$50,220.00
	Jones Bros. Contractors, LLC		\$1,860.0000	\$50,220.00
	Wright Brothers Construction Company, Inc.		\$1,130.0000	\$30,510.00
714-09.10	) LUMINAIRES (72 WATT LED WALLPACK)			
		4.000 EACH		
	Eutaw Construction Company, Inc.		\$1,798.7500	\$7,195.00
	Volunteer Paving, LLC		\$745.0000	\$2,980.00
	Dement Construction Company, LLC		\$1,620.0000	\$6,480.00
	Rogers Group, Inc.		\$1,657.4700	\$6,629.88
	Bell & Associates Construction, LLC		\$1,750.0000	\$7,000.00
	Vulcan Construction Materials, LLC		\$1,620.0000	\$6,480.00
	Jones Bros. Contractors, LLC		\$1,620.0000	\$6,480.00
	Wright Brothers Construction Company, Inc.		\$820.0000	\$3,280.00
714-12	CONTROL CENTER			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$9,771.0000	\$9,771.00
	Volunteer Paving, LLC		\$9,361.0000	\$9,361.00
	Dement Construction Company, LLC		\$8,800.0000	\$8,800.00
	Rogers Group, Inc.		\$9,003.6100	\$9,003.61
	Bell & Associates Construction, LLC		\$9,600.0000	\$9,600.00
	Vulcan Construction Materials, LLC		\$8,800.0000	\$8,800.00
	Jones Bros. Contractors, LLC		\$8,800.0000	\$8,800.00
	Wright Brothers Construction Company, Inc.		\$10,300.0000	\$10,300.00
714-25	ELECTRICAL CONNECTION			
		1.000 EACH		
	Eutaw Construction Company, Inc.		\$3,886.2500	\$3,886.25
	Volunteer Paving, LLC		\$5,705.0000	\$5,705.00
	Dement Construction Company, LLC		\$3,500.0000	\$3,500.00
	Rogers Group, Inc.		\$3,580.9900	\$3,580.99
	Bell & Associates Construction, LLC		\$3,800.0000	\$3,800.00
	Vulcan Construction Materials, LLC		\$3,500.0000	\$3,500.00
	Jones Bros. Contractors, LLC		\$3,500.0000	\$3,500.00
	Wright Brothers Construction Company, Inc.		\$6,270.0000	\$6,270.00

UNIT PRICE EXTENSION

# **BOX BRIDGE CATEGORY**

# 604-02.01 CLASS A CONCRETE (BOX BRIDGES)

### 319.000 C.Y.

Eutaw Construction Company, Inc.	\$936.0000	\$298,584.00
Volunteer Paving, LLC	\$899.0000	\$286,781.00
Dement Construction Company, LLC	\$750.0000	\$239,250.00
Rogers Group, Inc.	\$601.8500	\$191,990.15
Bell & Associates Construction, LLC	\$605.0000	\$192,995.00
Vulcan Construction Materials, LLC	\$600.0000	\$191,400.00
Jones Bros. Contractors, LLC	\$800.0000	\$255,200.00
Wright Brothers Construction Company, Inc.	\$1,060.0000	\$338,140.00

# 604-02.02 STEEL BAR REINFORCEMENT (BOX BRIDGES)

# 58,665.000 LB.

Eutaw Construction Company, Inc.	\$0.9000	\$52,798.50
Volunteer Paving, LLC	\$0.8000	\$46,932.00
Dement Construction Company, LLC	\$0.9000	\$52,798.50
Rogers Group, Inc.	\$1.0000	\$58,665.00
Bell & Associates Construction, LLC	\$1.1500	\$67,464.75
Vulcan Construction Materials, LLC	\$1.0000	\$58,665.00
Jones Bros. Contractors, LLC	\$1.1400	\$66,878.10
Wright Brothers Construction Company, Inc.	\$1.4500	\$85,064.25

				CONTRACT CNV176
			UNIT PRICE	EXTENSION
BRIDGE (	CATEGORY			
202-01.02	REMOVAL OF ASBESTOS			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$327,170.0000	\$327,170.00
	Volunteer Paving, LLC		\$314,790.0000	\$314,790.00
	Dement Construction Company, LLC		\$240,000.0000	\$240,000.00
	Rogers Group, Inc.		\$300,922.8000	\$300,922.80
	Bell & Associates Construction, LLC		\$300,000.0000	\$300,000.00
	Vulcan Construction Materials, LLC		\$300,000.0000	\$300,000.00
	Jones Bros. Contractors, LLC		\$315,000.0000	\$315,000.00
	Wright Brothers Construction Company, Inc.		\$304,000.0000	\$304,000.00
202-04.01	REMOVAL OF STRUCTURES (EXIST. BR. NO. 60100650017)			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$187,820.0000	\$187,820.00
	Volunteer Paving, LLC		\$184,220.0000	\$184,220.00
	Dement Construction Company, LLC		\$100,000.0000	\$100,000.00
	Rogers Group, Inc.		\$80,246.0700	\$80,246.07
	Bell & Associates Construction, LLC		\$84,500.0000	\$84,500.00
	Vulcan Construction Materials, LLC		\$80,000.0000	\$80,000.00
	Jones Bros. Contractors, LLC		\$632,000.0000	\$632,000.00
	Wright Brothers Construction Company, Inc.		\$115,500.0000	\$115,500.00
202-04.02	REMOVAL OF STRUCTURES (EXIST. BR. NO. 60100650018)			
	(,	1.000 LS		
	Eutaw Construction Company, Inc.		\$181,830.0000	\$181,830.00
	Volunteer Paving, LLC		\$178,330.0000	\$178,330.00
	Dement Construction Company, LLC		\$100,000.0000	\$100,000.00
	Rogers Group, Inc.		\$77,236.8500	\$77,236.85
	Bell & Associates Construction, LLC		\$77,100.0000	\$77,100.00
	Vulcan Construction Materials, LLC		\$77,000.0000	\$77,000.00
	Jones Bros. Contractors, LLC		\$632,000.0000	\$632,000.00
	Wright Brothers Construction Company, Inc.		\$105,500.0000	\$105,500.00
	1 77		, , ,	,,

### 203-03.10 SELECT GRANULAR MATERIAL

Eutaw Construction Company, Inc.	\$28.6000	\$123,351.80
Volunteer Paving, LLC	\$26.0000	\$112,138.00
Dement Construction Company, LLC	\$25.0000	\$107,825.00
Rogers Group, Inc.	\$35.1100	\$151,429.43
Bell & Associates Construction, LLC	\$34.0000	\$146,642.00
Vulcan Construction Materials, LLC	\$35.0000	\$150,955.00
Jones Bros. Contractors, LLC	\$35.0000	\$150,955.00
Wright Brothers Construction Company, Inc.	\$38.7500	\$167,128.75

				CONTRACT	CNV176
			UNIT PRICE	EXT	ENSION
204-02.01	DRY EXCAVATION (BRIDGES)				
		1,855.000 C.Y.			
	Eutaw Construction Company, Inc.		\$77.5000	\$143	3,762.50
	Volunteer Paving, LLC		\$28.0000	\$51	,940.00
	Dement Construction Company, LLC		\$10.0000	\$18	3,550.00
	Rogers Group, Inc.		\$15.0400	\$27	7,899.20
	Bell & Associates Construction, LLC		\$15.5000	\$28	3,752.50
	Vulcan Construction Materials, LLC		\$15.0000	\$27	7,825.00
	Jones Bros. Contractors, LLC		\$23.0000	\$42	2,665.00
	Wright Brothers Construction Company, Inc.		\$31.7500	\$58	3,896.25
204-04.01	ROCK EXCAVATION (BRIDGES)				
		344.000 C.Y.			
	Eutaw Construction Company, Inc.		\$108.6000	\$37	7,358.40
	Volunteer Paving, LLC		\$106.0000	\$36	5,464.00
	Dement Construction Company, LLC		\$50.0000	\$17	7,200.00
	Rogers Group, Inc.		\$50.1500	\$17	7,251.60
	Bell & Associates Construction, LLC		\$54.5000	\$18	3,748.00
	Vulcan Construction Materials, LLC		\$50.0000		7,200.00
	Jones Bros. Contractors, LLC		\$120.0000		,280.00
	Wright Brothers Construction Company, Inc.		\$236.0000	\$81	1,184.00
204-05	ROCK DRILLING (BRIDGES)				
		72.000 L.F.			
	Eutaw Construction Company, Inc.		\$41.1000	\$2	2,959.20
	Volunteer Paving, LLC		\$40.0000		2,880.00
	Dement Construction Company, LLC		\$25.0000		,800.00
	Rogers Group, Inc.		\$45.1400		3,250.08
	Bell & Associates Construction, LLC		\$44.0000		3,168.00
	Vulcan Construction Materials, LLC		\$45.0000		3,240.00
	Jones Bros. Contractors, LLC		\$25.0000		,800.00
	Wright Brothers Construction Company, Inc.		\$19.7500	\$1	,422.00
204-14	CORE DRILLING FOR PILES(ROCK)				
		70.000 L.F.			
	Eutaw Construction Company, Inc.		\$218.3000		5,281.00
	Volunteer Paving, LLC		\$210.0000		1,700.00
	Dement Construction Company, LLC		\$160.0000		,200.00
	Rogers Group, Inc.		\$170.5300		,937.10
	Bell & Associates Construction, LLC		\$175.0000		2,250.00
	Vulcan Construction Materials, LLC		\$170.0000		,900.00
	Jones Bros. Contractors, LLC		\$250.0000		7,500.00
	Wright Brothers Construction Company, Inc.		\$211.0000	\$14	1,770.00

			0.	SITTINACT CITYTTO
			UNIT PRICE	EXTENSION
204-14	CORE DRILLING FOR PILES(ROCK)			
	, ,	1,811.000 L.F.		
	Eutaw Construction Company, Inc.	,	\$212.6000	\$385,018.60
	Volunteer Paving, LLC		\$204.0000	\$369,444.00
	Dement Construction Company, LLC		\$160.0000	\$289,760.00
	Rogers Group, Inc.		\$391.2000	\$708,463.20
	Bell & Associates Construction, LLC		\$390.0000	\$706,290.00
	Vulcan Construction Materials, LLC		\$390.0000	\$706,290.00
	Jones Bros. Contractors, LLC		\$185.0000	\$335,035.00
	Wright Brothers Construction Company, Inc.		\$209.0000	\$378,499.00
204-15	CORE DRILLING FOR PILES(SOIL)			
		91.000 L.F.		
	Eutaw Construction Company, Inc.		\$65.1000	\$5,924.10
	Volunteer Paving, LLC		\$63.0000	\$5,733.00
	Dement Construction Company, LLC		\$40.0000	\$3,640.00
	Rogers Group, Inc.		\$45.1400	\$4,107.74
	Bell & Associates Construction, LLC		\$43.0000	\$3,913.00
	Vulcan Construction Materials, LLC		\$45.0000	\$4,095.00
	Jones Bros. Contractors, LLC		\$100.0000	\$9,100.00
	Wright Brothers Construction Company, Inc.		\$76.5000	\$6,961.50
204-15	CORE DRILLING FOR PILES(SOIL)			
		1,930.000 L.F.		
	Eutaw Construction Company, Inc.		\$60.6000	\$116,958.00
	Volunteer Paving, LLC		\$59.0000	\$113,870.00
	Dement Construction Company, LLC		\$40.0000	\$77,200.00
	Rogers Group, Inc.		\$351.0800	\$677,584.40
	Bell & Associates Construction, LLC		\$360.0000	\$694,800.00
	Vulcan Construction Materials, LLC		\$350.0000	\$675,500.00
	Jones Bros. Contractors, LLC		\$52.0000	\$100,360.00
	Wright Brothers Construction Company, Inc.		\$77.0000	\$148,610.00
303-01.0	2 GRANULAR BACKFILL (BRIDGES)			
		72.000 TON		
	Eutaw Construction Company, Inc.		\$53.7000	\$3,866.40
	Volunteer Paving, LLC		\$52.0000	\$3,744.00
	Dement Construction Company, LLC		\$40.0000	\$2,880.00
	Rogers Group, Inc.		\$30.1000	\$2,167.20
	Bell & Associates Construction, LLC		\$29.5000	\$2,124.00
	Vulcan Construction Materials, LLC		\$30.0000	\$2,160.00
	Jones Bros. Contractors, LLC		\$55.0000	\$3,960.00
	Wright Brothers Construction Company, Inc.		\$31.2500	\$2,250.00

			·	CONTRACT CHV176
			UNIT PRICE	EXTENSION
303-01.03	GRANULAR BACKFILL (RETAINING WALLS)			
	,	625.000 TON		
F	Eutaw Construction Company, Inc.	0_0.000 10.1	\$33.1000	\$20,687.50
	/olunteer Paving, LLC		\$32.0000	\$20,000.00
	Dement Construction Company, LLC		\$35.0000	\$21,875.00
	Rogers Group, Inc.		\$30.1000	\$18,812.50
	Bell & Associates Construction, LLC		\$29.5000	\$18,437.50
	/ulcan Construction Materials, LLC		\$30.0000	\$18,750.00
	Jones Bros. Contractors, LLC		\$35.0000	\$21,875.00
V	Wright Brothers Construction Company, Inc.		\$31.2500	\$19,531.25
602-02.01	STRUCTURAL STEEL (SOLDIER PILES)			
		524,827.000 LB.		
E	Eutaw Construction Company, Inc.		\$1.1000	\$577,309.70
	/olunteer Paving, LLC		\$1.0000	\$524,827.00
	Dement Construction Company, LLC		\$1.5000	\$787,240.50
F	Rogers Group, Inc.		\$1.3500	\$708,516.45
E	Bell & Associates Construction, LLC		\$1.3500	\$708,516.45
\	/ulcan Construction Materials, LLC		\$1.3500	\$708,516.45
J	Jones Bros. Contractors, LLC		\$1.3500	\$708,516.45
V	Wright Brothers Construction Company, Inc.		\$1.0000	\$524,827.00
602-02.10	STRUCTURAL STEEL (INSTALLATION OF SOLDIER PILES)			
		1.000 LS		
E	Eutaw Construction Company, Inc.		\$137,010.0000	\$137,010.00
\	/olunteer Paving, LLC		\$134,490.0000	\$134,490.00
	Dement Construction Company, LLC		\$175,000.0000	\$175,000.00
F	Rogers Group, Inc.		\$40,123.0400	\$40,123.04
	Bell & Associates Construction, LLC		\$39,500.0000	\$39,500.00
	/ulcan Construction Materials, LLC		\$40,000.0000	\$40,000.00
	Jones Bros. Contractors, LLC		\$500,000.0000	\$500,000.00
V	Wright Brothers Construction Company, Inc.		\$228,700.0000	\$228,700.00
602-03	STEEL STRUCTURES			
		1.000 LS		
	Eutaw Construction Company, Inc.		\$2,718,429.0000	\$2,718,429.00
	/olunteer Paving, LLC		\$2,769,000.0000	\$2,769,000.00
	Dement Construction Company, LLC		\$2,500,000.0000	\$2,500,000.00
	Rogers Group, Inc.		\$2,833,689.6400	\$2,833,689.64
	Bell & Associates Construction, LLC		\$2,500,000.0000	\$2,500,000.00
	/ulcan Construction Materials, LLC		\$2,825,000.0000	\$2,825,000.00
	Jones Bros. Contractors, LLC		\$1,800,000.0000	\$1,800,000.00
V	Wright Brothers Construction Company, Inc.		\$2,700,000.0000	\$2,700,000.00

				CONTRACT	CNV176
			UNIT PRICE	EXT	ENSION
604-02.03	EPOXY COATED REINFORCING STEEL				
		315,227.000 LB.			
	Eutaw Construction Company, Inc.	•	\$1.4000	\$44	1,317.80
	Volunteer Paving, LLC		\$1.3000		9,795.10
	Dement Construction Company, LLC		\$1.0400		7,836.08
	Rogers Group, Inc.		\$1.2000		3,272.40
	Bell & Associates Construction, LLC		\$1.2500		4,033.75
	Vulcan Construction Materials, LLC		\$1.2000		3,272.40
	Jones Bros. Contractors, LLC		\$1.0000		5,227.00
	Wright Brothers Construction Company, Inc.		\$1.1500	\$362	2,511.05
604-03.01	CLASS A CONCRETE (BRIDGES)				
		627.000 C.Y.			
	Eutaw Construction Company, Inc.		\$925.7000	\$580	0,413.90
	Volunteer Paving, LLC		\$888.0000	\$556	5,776.00
	Dement Construction Company, LLC		\$900.0000	\$564	4,300.00
	Rogers Group, Inc.		\$501.5500	\$314	4,471.85
	Bell & Associates Construction, LLC		\$520.0000	\$326	5,040.00
	Vulcan Construction Materials, LLC		\$500.0000	\$313	3,500.00
	Jones Bros. Contractors, LLC		\$600.0000	\$376	5,200.00
	Wright Brothers Construction Company, Inc.		\$1,090.0000	\$683	3,430.00
604-03.02	STEEL BAR REINFORCEMENT (BRIDGES)				
		159,528.000 LB.			
	Eutaw Construction Company, Inc.		\$1.4000	\$223	3,339.20
	Volunteer Paving, LLC		\$1.2000	\$191	1,433.60
	Dement Construction Company, LLC		\$0.9100	\$145	5,170.48
	Rogers Group, Inc.		\$1.1000	\$175	5,480.80
	Bell & Associates Construction, LLC		\$1.2600	\$201	1,005.28
	Vulcan Construction Materials, LLC		\$1.1000	\$175	5,480.80
	Jones Bros. Contractors, LLC		\$1.0000		9,528.00
	Wright Brothers Construction Company, Inc.		\$1.7500	\$279	9,174.00
604-03.04	PAVEMENT @ BRIDGE ENDS				
		695.000 S.Y.			
	Eutaw Construction Company, Inc.		\$413.7000		7,521.50
	Volunteer Paving, LLC		\$395.0000		4,525.00
	Dement Construction Company, LLC		\$300.0000		3,500.00
	Rogers Group, Inc.		\$280.8600		5,197.70
	Bell & Associates Construction, LLC		\$280.0000		4,600.00
	Vulcan Construction Materials, LLC		\$280.0000		4,600.00
	Jones Bros. Contractors, LLC		\$350.0000		3,250.00
	Wright Brothers Construction Company, Inc.		\$247.0000	\$171	1,665.00

				CONTRACT	CNV176
			UNIT PRICE	EXT	ENSION
604-03.08	CLASS A CONCRETE (SOLDIER PILE FOOTING)				
		283.000 C.Y.			
	Eutaw Construction Company, Inc.		\$358.8000	\$101	,540.40
	Volunteer Paving, LLC		\$337.0000		5,371.00
	Dement Construction Company, LLC		\$375.0000	\$106	5,125.00
	Rogers Group, Inc.		\$230.7100	\$65	5,290.93
	Bell & Associates Construction, LLC		\$235.0000	\$66	5,505.00
	Vulcan Construction Materials, LLC		\$230.0000	\$65	5,090.00
	Jones Bros. Contractors, LLC		\$320.0000	\$90	,560.00
	Wright Brothers Construction Company, Inc.		\$210.0000	\$59	,430.00
604-03.32	CLASS DS CONCRETE				
		962.000 C.Y.			
	Eutaw Construction Company, Inc.		\$853.7000	\$821	,259.40
	Volunteer Paving, LLC		\$798.0000	\$767	7,676.00
	Dement Construction Company, LLC		\$900.0000	\$865	5,800.00
	Rogers Group, Inc.		\$636.9600	\$612	2,755.52
	Bell & Associates Construction, LLC		\$625.0000	\$601	,250.00
	Vulcan Construction Materials, LLC		\$635.0000	\$610	,870.00
	Jones Bros. Contractors, LLC		\$600.0000	\$577	,200.00
	Wright Brothers Construction Company, Inc.		\$1,050.0000	\$1,010	),100.00
604-04.01	APPLIED TEXTURE FINISH (NEW STRUCTURES)				
		4,710.000 S.Y.			
	Eutaw Construction Company, Inc.		\$7.4000	\$34	,854.00
	Volunteer Paving, LLC		\$7.1000	\$33	3,441.00
	Dement Construction Company, LLC		\$6.2500	\$29	,437.50
	Rogers Group, Inc.		\$7.0200		3,064.20
	Bell & Associates Construction, LLC		\$7.0000	\$32	2,970.00
	Vulcan Construction Materials, LLC		\$7.0000		2,970.00
	Jones Bros. Contractors, LLC		\$6.2500	-	9,437.50
	Wright Brothers Construction Company, Inc.		\$7.1500	\$33	3,676.50
604-04.41	THREE STAR STATE EMBLEM				
		4.000 EACH			
	Eutaw Construction Company, Inc.		\$1,485.7500		5,943.00
	Volunteer Paving, LLC		\$1,410.0000		5,640.00
	Dement Construction Company, LLC		\$1,000.0000		1,000.00
	Rogers Group, Inc.		\$3,009.2200		2,036.88
	Bell & Associates Construction, LLC		\$3,250.0000		3,000.00
	Vulcan Construction Materials, LLC		\$3,000.0000		2,000.00
	Jones Bros. Contractors, LLC		\$2,400.0000		9,600.00
	Wright Brothers Construction Company, Inc.		\$2,180.0000	\$8	3,720.00

				CONTRACT	JNV176
			UNIT PRICE	EXTEN	NSION
604-05.31	BRIDGE DECK GROOVING (MECHANICAL)				
		4,610.000 S.Y.			
	Eutaw Construction Company, Inc.		\$3.3000	\$15,2	13.00
	Volunteer Paving, LLC		\$3.2000		52.00
	Dement Construction Company, LLC		\$4.0000		40.00
	Rogers Group, Inc.		\$2.2100	\$10,1	88.10
	Bell & Associates Construction, LLC		\$2.2000	\$10,1	42.00
	Vulcan Construction Materials, LLC		\$2.2000	\$10,1	42.00
	Jones Bros. Contractors, LLC		\$4.5000	\$20,7	45.00
	Wright Brothers Construction Company, Inc.		\$3.2000	\$14,7	52.00
604-07.28	RETAINING WALL EXCAVATION				
		3,276.000 C.Y.			
	Eutaw Construction Company, Inc.		\$21.1000	\$69,1	23.60
	Volunteer Paving, LLC		\$21.0000		96.00
	Dement Construction Company, LLC		\$15.0000	\$49,1	40.00
	Rogers Group, Inc.		\$27.0900	\$88,7	46.84
	Bell & Associates Construction, LLC		\$27.0000	\$88,4	52.00
	Vulcan Construction Materials, LLC		\$27.0000	\$88,4	52.00
	Jones Bros. Contractors, LLC		\$30.0000	\$98,2	280.00
	Wright Brothers Construction Company, Inc.		\$26.5000	\$86,8	14.00
604-09.10	CLASS A CONCRETE (RETAINING WALLS)				
		513.000 C.Y.			
	Eutaw Construction Company, Inc.		\$602.3000	\$308,9	79.90
	Volunteer Paving, LLC		\$571.0000	\$292,9	23.00
	Dement Construction Company, LLC		\$800.0000	\$410,4	00.00
	Rogers Group, Inc.		\$501.5500	\$257,2	95.15
	Bell & Associates Construction, LLC		\$490.0000	\$251,3	70.00
	Vulcan Construction Materials, LLC		\$500.0000	\$256,5	00.00
	Jones Bros. Contractors, LLC		\$600.0000	\$307,8	
	Wright Brothers Construction Company, Inc.		\$800.0000	\$410,4	00.00
604-10.39	PRECAST REINFORCED CONCRETE UNITS				
		22,930.000 S.F.			
	Eutaw Construction Company, Inc.		\$54.9000	\$1,258,8	57.00
	Volunteer Paving, LLC		\$51.0000	\$1,169,4	30.00
	Dement Construction Company, LLC		\$75.0000	\$1,719,7	
	Rogers Group, Inc.		\$40.1200	\$919,9	
	Bell & Associates Construction, LLC		\$44.0000	\$1,008,9	
	Vulcan Construction Materials, LLC		\$47.0000	\$1,077,7	
	Jones Bros. Contractors, LLC		\$70.0000	\$1,605,1	
	Wright Brothers Construction Company, Inc.		\$82.0000	\$1,880,2	60.00

			•	CONTRACT CHV176
			UNIT PRICE	EXTENSION
606-02.03	S STEEL PILES (10 INCH)			
	,	1,012.000 L.F.		
	Eutaw Construction Company, Inc.	.,	\$68.6000	\$69,423.20
	Volunteer Paving, LLC		\$65.0000	\$65,780.00
	Dement Construction Company, LLC		\$47.0000	\$47,564.00
	Rogers Group, Inc.		\$57.1700	\$57,856.04
	Bell & Associates Construction, LLC		\$57.0000	\$57,684.00
	Vulcan Construction Materials, LLC		\$57.0000	\$57,684.00
	Jones Bros. Contractors, LLC		\$74.0000	\$74,888.00
	Wright Brothers Construction Company, Inc.		\$110.0000	\$111,320.00
coc oo oc	P. DILETTING (CTEEL DILEG 40 INCL)			
606-02.06	6 PILE TIPS (STEEL PILES, 10 INCH)	46.000 EACH		
	Futaw Construction Company Inc	40.000 LACIT	\$180.6000	<b>\$9.207.60</b>
	Eutaw Construction Company, Inc.		\$170.0000	\$8,307.60 \$7,820.00
	Volunteer Paving, LLC		·	
	Dement Construction Company, LLC		\$300.0000	\$13,800.00
	Rogers Group, Inc. Bell & Associates Construction, LLC		\$130.4000 \$126.0000	\$5,998.40 \$5,796.00
	Vulcan Construction Materials, LLC		\$120.0000	\$5,796.00 \$5,980.00
	Jones Bros. Contractors, LLC		\$150.0000	\$6,992.00
	Wright Brothers Construction Company, Inc.		\$284.0000	\$13,064.00
	wright Brothers Constituction Company, inc.		φ264.0000	φ13,004.00
617-02	BRIDGE DECK CRACK SEALING			
		1,096.000 L.F.		
	Eutaw Construction Company, Inc.		\$6.4000	\$7,014.40
	Volunteer Paving, LLC		\$6.2000	\$6,795.20
	Dement Construction Company, LLC		\$5.0000	\$5,480.00
	Rogers Group, Inc.		\$3.0100	\$3,298.96
	Bell & Associates Construction, LLC		\$3.1000	\$3,397.60
	Vulcan Construction Materials, LLC		\$3.0000	\$3,288.00
	Jones Bros. Contractors, LLC		\$4.0000	\$4,384.00
	Wright Brothers Construction Company, Inc.		\$7.2500	\$7,946.00
617-05	SEALANT (HMWM)			
		6.000 GAL.		
	Eutaw Construction Company, Inc.		\$283.4000	\$1,700.40
	Volunteer Paving, LLC		\$257.0000	\$1,542.00
	Dement Construction Company, LLC		\$300.0000	\$1,800.00
	Rogers Group, Inc.		\$250.7700	\$1,504.62
	Bell & Associates Construction, LLC		\$295.0000	\$1,770.00
	Vulcan Construction Materials, LLC		\$250.0000	\$1,500.00
	Jones Bros. Contractors, LLC		\$250.0000	\$1,500.00
	Wright Brothers Construction Company, Inc.		\$261.0000	\$1,566.00

				CONTRACT	CNV176
			UNIT PRICE	EXT	ENSION
620-05.01	CONC PARAPET SINGLE SLOPE (STD-1-1SS)				
		604.000 L.F.			
	Eutaw Construction Company, Inc.		\$137.1000	\$82	2,808.40
	Volunteer Paving, LLC		\$131.0000		9,124.00
	Dement Construction Company, LLC		\$110.0000		5,440.00
	Rogers Group, Inc.		\$136.4200		2,397.68
	Bell & Associates Construction, LLC		\$77.0000		5,508.00
	Vulcan Construction Materials, LLC		\$136.0000	\$82	2,144.00
	Jones Bros. Contractors, LLC		\$140.0000		1,560.00
	Wright Brothers Construction Company, Inc.		\$138.0000		3,352.00
621-05.03	TEMPORARY SHORING				
		1.000 LS			
	Eutaw Construction Company, Inc.		\$462,850.0000	\$462	2,850.00
	Volunteer Paving, LLC		\$445,210.0000	\$445	5,210.00
	Dement Construction Company, LLC		\$300,000.0000	\$300	0,000.00
	Rogers Group, Inc.		\$100,307.5900	\$100	0,307.59
	Bell & Associates Construction, LLC		\$120,000.0000	\$120	0,000.00
	Vulcan Construction Materials, LLC		\$100,000.0000	\$100	0,000.00
	Jones Bros. Contractors, LLC		\$200,000.0000	\$200	0,000.00
	Wright Brothers Construction Company, Inc.		\$637,300.0000	\$637	7,300.00
710-09.01	6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM				
		796.000 L.F.			
	Eutaw Construction Company, Inc.		\$42.3000	\$33	3,670.80
	Volunteer Paving, LLC		\$41.0000	\$32	2,636.00
	Dement Construction Company, LLC		\$65.0000	\$51	1,740.00
	Rogers Group, Inc.		\$40.1200	\$31	1,935.52
	Bell & Associates Construction, LLC		\$43.0000	\$34	1,228.00
	Vulcan Construction Materials, LLC		\$40.0000	\$31	1,840.00
	Jones Bros. Contractors, LLC		\$45.0000	\$35	5,820.00
	Wright Brothers Construction Company, Inc.		\$31.2500	\$24	1,875.00
710-09.02	6" PIPE UNDERDRAIN				
		60.000 L.F.			
	Eutaw Construction Company, Inc.		\$27.4000		1,644.00
	Volunteer Paving, LLC		\$27.0000	\$1	1,620.00
	Dement Construction Company, LLC		\$12.0000		\$720.00
	Rogers Group, Inc.		\$20.0600		1,203.60
	Bell & Associates Construction, LLC		\$17.0000		1,020.00
	Vulcan Construction Materials, LLC		\$20.0000		1,200.00
	Jones Bros. Contractors, LLC		\$12.0000		\$720.00
	Wright Brothers Construction Company, Inc.		\$15.3500		\$921.00

CONTRACT (	CI	N	<b>V</b> 1	176
------------	----	---	------------	-----

				CONTRACT CNV	176
			UNIT PRICE	EXTENSIO	NC
711-05.74	CONC MEDIAN BARR SING SLOPE (STD-1-3SS)				
		322.000 L.F.			
	Eutaw Construction Company, Inc.		\$133.9000	\$43,115.8	30
	Volunteer Paving, LLC		\$110.0000	\$35,420.0	)0
	Dement Construction Company, LLC		\$160.0000	\$51,520.0	)0
	Rogers Group, Inc.		\$150.4600	\$48,448.1	12
	Bell & Associates Construction, LLC		\$150.0000	\$48,300.0	)0
	Vulcan Construction Materials, LLC		\$150.0000	\$48,300.0	)0
	Jones Bros. Contractors, LLC		\$185.0000	\$59,570.0	)0
	Wright Brothers Construction Company, Inc.		\$156.0000	\$50,232.0	)0
604-07.01	RETAINING WALL (WALL 2)				
		1,230.000 S.F.			
	Eutaw Construction Company, Inc.		\$84.6000	\$104,058.0	)0
	Volunteer Paving, LLC		\$81.0000	\$99,630.0	)0
	Dement Construction Company, LLC		\$100.0000	\$123,000.0	)0
	Rogers Group, Inc.		\$70.2200	\$86,370.6	30
	Bell & Associates Construction, LLC		\$76.0000	\$93,480.0	)0
	Vulcan Construction Materials, LLC		\$70.0000	\$86,100.0	)0
	Jones Bros. Contractors, LLC		\$65.0000	\$79,950.0	)0
	Wright Brothers Construction Company, Inc.		\$84.5000	\$103,935.0	)0

	UNIT PRICE	EXTENSION
UTILITY CATEGORY		
790-05.02 POLE 50FT CLASS 2 WOOD		
	1.000 EACH	
Eutaw Construction Company, Inc.	\$2,374.0000	\$2,374.00
Volunteer Paving, LLC	\$4,215.0000	\$4,215.00
Dement Construction Company, LLC	\$2,150.0000	\$2,150.00
Rogers Group, Inc.	\$2,156.6100	\$2,156.61
Bell & Associates Construction, LLC	\$2,350.0000	\$2,350.00
Vulcan Construction Materials, LLC	\$2,150.0000	\$2,150.00
Jones Bros. Contractors, LLC	\$2,150.0000	\$2,150.00
Wright Brothers Construction Company, Inc.	\$4,630.0000	\$4,630.00
790-06.02 POLE 55FT CLASS 2 WOOD		
	2.000 EACH	
Eutaw Construction Company, Inc.	\$2,732.7500	\$5,465.50
Volunteer Paving, LLC	\$4,466.0000	\$8,932.00
Dement Construction Company, LLC	\$2,475.0000	\$4,950.00
Rogers Group, Inc.	\$2,482.6100	\$4,965.22
Bell & Associates Construction, LLC	\$2,700.0000	\$5,400.00
Vulcan Construction Materials, LLC	\$2,475.0000	\$4,950.00
Jones Bros. Contractors, LLC	\$2,475.0000	\$4,950.00
Wright Brothers Construction Company, Inc.	\$4,910.0000	\$9,820.00
790-26.18 3PH VERTICAL SM ANGLE SUSP BKT 25KV		
	1.000 EACH	
Eutaw Construction Company, Inc.	\$1,921.2500	\$1,921.25
Volunteer Paving, LLC	\$4,540.0000	\$4,540.00
Dement Construction Company, LLC	\$1,740.0000	\$1,740.00
Rogers Group, Inc.	\$1,745.3400	\$1,745.34
Bell & Associates Construction, LLC	\$1,900.0000	\$1,900.00
Vulcan Construction Materials, LLC	\$1,740.0000	\$1,740.00
Jones Bros. Contractors, LLC	\$1,740.0000	\$1,740.00
Wright Brothers Construction Company, Inc.	\$4,990.0000	\$4,990.00
790-26.21 3PH VERTICAL DDE ANGLE 25KV		
	1.000 EACH	
Eutaw Construction Company, Inc.	\$2,087.0000	\$2,087.00
Volunteer Paving, LLC	\$6,022.0000	\$6,022.00
Dement Construction Company, LLC	\$1,890.0000	\$1,890.00
Rogers Group, Inc.	\$1,895.8200	\$1,895.82
Bell & Associates Construction, LLC	\$2,050.0000	\$2,050.00
Vulcan Construction Materials, LLC	\$1,890.0000	\$1,890.00
Jones Bros. Contractors, LLC	\$1,890.0000	\$1,890.00

Wright Brothers Construction Company, Inc.

\$6,620.00

\$6,620.0000

		C	UNIKACI CNV176
		UNIT PRICE	EXTENSION
790-26.24 3PH VERTICAL DEAD END LRG COND 25KV			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$2,144.2500	\$2,144.25
Volunteer Paving, LLC		\$5,094.0000	\$5,094.00
Dement Construction Company, LLC		\$1,942.0000	\$1,942.00
Rogers Group, Inc.		\$1,947.9700	\$1,947.97
Bell & Associates Construction, LLC		\$2,100.0000	\$2,100.00
Vulcan Construction Materials, LLC		\$1,942.0000	\$1,942.00
Jones Bros. Contractors, LLC		\$1,942.0000	\$1,942.00
Wright Brothers Construction Company, Inc.		\$5,600.0000	\$5,600.00
790-26.26 3PH CROSSARM DEAD END 25KV			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$1,989.0000	\$1,989.00
Volunteer Paving, LLC		\$3,448.0000	\$3,448.00
Dement Construction Company, LLC		\$1,801.3000	\$1,801.30
Rogers Group, Inc.		\$1,806.8400	\$1,806.84
Bell & Associates Construction, LLC		\$2,000.0000	\$2,000.00
Vulcan Construction Materials, LLC		\$1,801.3000	\$1,801.30
Jones Bros. Contractors, LLC		\$1,801.3000	\$1,801.30
Wright Brothers Construction Company, Inc.		\$3,790.0000	\$3,790.00
790-32.01 DOWN GUY - THROUGH BOLT TYPE			
	9.000 EACH		
Eutaw Construction Company, Inc.		\$293.1000	\$2,637.90
Volunteer Paving, LLC		\$935.0000	\$8,415.00
Dement Construction Company, LLC		\$265.4000	\$2,388.60
Rogers Group, Inc.		\$266.2200	\$2,395.98
Bell & Associates Construction, LLC		\$290.0000	\$2,610.00
Vulcan Construction Materials, LLC		\$265.4000	\$2,388.60
Jones Bros. Contractors, LLC		\$265.4000	\$2,388.60
Wright Brothers Construction Company, Inc.		\$1,030.0000	\$9,270.00
790-32.02 DOWN GUY - THROUGH BOLT TYPE HEAVY DUTY			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$531.2000	\$1,062.40
Volunteer Paving, LLC		\$974.0000	\$1,948.00
Dement Construction Company, LLC		\$481.1000	\$962.20
Rogers Group, Inc.		\$482.5800	\$965.16
Bell & Associates Construction, LLC		\$525.0000	\$1,050.00
Vulcan Construction Materials, LLC		\$481.1000	\$962.20
Jones Bros. Contractors, LLC		\$481.1000	\$962.20
Wright Brothers Construction Company, Inc.		\$1,070.0000	\$2,140.00

		CC	MIRACI CHVI/6
		UNIT PRICE	EXTENSION
790-32.23 GUY GUARD			
	14.000 EACH		
Eutaw Construction Company, Inc.		\$29.2000	\$408.80
Volunteer Paving, LLC		\$34.4000	\$481.60
Dement Construction Company, LLC		\$26.4000	\$369.60
Rogers Group, Inc.		\$26.4900	\$370.86
Bell & Associates Construction, LLC		\$29.0000	\$406.00
Vulcan Construction Materials, LLC		\$26.4000	\$369.60
Jones Bros. Contractors, LLC		\$26.4000	\$369.60
Wright Brothers Construction Company, Inc.		\$37.7500	\$528.50
790-33.14 3/4IN TWIN EYE			
	7.000 EACH		
Eutaw Construction Company, Inc.		\$576.1000	\$4,032.70
Volunteer Paving, LLC		\$947.0000	\$6,629.00
Dement Construction Company, LLC		\$521.7000	\$3,651.90
Rogers Group, Inc.		\$523.3100	\$3,663.17
Bell & Associates Construction, LLC		\$570.0000	\$3,990.00
Vulcan Construction Materials, LLC		\$521.7000	\$3,651.90
Jones Bros. Contractors, LLC		\$521.7000	\$3,651.90
Wright Brothers Construction Company, Inc.		\$1,040.0000	\$7,280.00
790-33.15 1IN TRIPLE EYE			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$652.2000	\$652.20
Volunteer Paving, LLC		\$981.0000	\$981.00
Dement Construction Company, LLC		\$590.6500	\$590.65
Rogers Group, Inc.		\$592.4700	\$592.47
Bell & Associates Construction, LLC		\$650.0000	\$650.00
Vulcan Construction Materials, LLC		\$590.6500	\$590.65
Jones Bros. Contractors, LLC		\$590.6500	\$590.65
Wright Brothers Construction Company, Inc.		\$1,080.0000	\$1,080.00
790-40.05 OH COND 3/0 6/1 ACSR PIGEON			
	572.000 L.F.		
Eutaw Construction Company, Inc.		\$3.9000	\$2,230.80
Volunteer Paving, LLC		\$5.6000	\$3,203.20
Dement Construction Company, LLC		\$3.5500	\$2,030.60
Rogers Group, Inc.		\$3.5600	\$2,036.32
Bell & Associates Construction, LLC		\$4.0000	\$2,288.00
Vulcan Construction Materials, LLC		\$3.5500	\$2,030.60
Jones Bros. Contractors, LLC		\$3.5500	\$2,030.60
Wright Brothers Construction Company, Inc.		\$6.1500	\$3,517.80

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
790-40.09 OH COND 336.4 18/1 ACSR MERLIN		
	1,716.000 L.F.	
Eutaw Construction Company, Inc.	\$5.3000	\$9,094.80
Volunteer Paving, LLC	\$7.3000	\$12,526.80
Dement Construction Company, LLC	\$4.8000	\$8,236.80
Rogers Group, Inc.	\$4.8100	\$8,253.96
Bell & Associates Construction, LLC	\$5.2500	\$9,009.00
Vulcan Construction Materials, LLC	\$4.8000	\$8,236.80
Jones Bros. Contractors, LLC	\$4.8000	\$8,236.80
Wright Brothers Construction Company, Inc.	\$8.0500	\$13,813.80
790-46.02 1PH TRANSFORMER CONV W/POLE MTD FUSE & LA		
	1.000 EACH	
Eutaw Construction Company, Inc.	\$1,303.0000	\$1,303.00
Volunteer Paving, LLC	\$1,467.0000	\$1,467.00
Dement Construction Company, LLC	\$1,180.0000	\$1,180.00
Rogers Group, Inc.	\$1,183.6300	\$1,183.63
Bell & Associates Construction, LLC	\$1,300.0000	\$1,300.00
Vulcan Construction Materials, LLC	\$1,180.0000	\$1,180.00
Jones Bros. Contractors, LLC	\$1,180.0000	\$1,180.00
Wright Brothers Construction Company, Inc.	\$1,610.0000	\$1,610.00
790-54.03 10KVA 1PH OH XFORMER 14.4KV 120/240		
	1.000 EACH	
Eutaw Construction Company, Inc.	\$1,004.7500	\$1,004.75
Volunteer Paving, LLC	\$3,876.0000	\$3,876.00
Dement Construction Company, LLC	\$910.0000	\$910.00
Rogers Group, Inc.	\$912.8000	\$912.80
Bell & Associates Construction, LLC	\$1,000.0000	\$1,000.00
Vulcan Construction Materials, LLC	\$910.0000	\$910.00
Jones Bros. Contractors, LLC	\$910.0000	\$910.00
Wright Brothers Construction Company, Inc.	\$4,260.0000	\$4,260.00
790-59.02 HOOK STICK SWITCH VERTICAL - SINGLE 25KV		
	3.000 EACH	
Eutaw Construction Company, Inc.	\$4,703.7500	\$14,111.25
Volunteer Paving, LLC	\$3,985.0000	\$11,955.00
Dement Construction Company, LLC	\$4,260.0000	\$12,780.00
Rogers Group, Inc.	\$4,273.1000	\$12,819.30
Bell & Associates Construction, LLC	\$4,600.0000	\$13,800.00
Vulcan Construction Materials, LLC	\$4,260.0000	\$12,780.00
Jones Bros. Contractors, LLC	\$4,260.0000	\$12,780.00
Wright Brothers Construction Company, Inc.	\$4,380.0000	\$13,140.00

			CONTRACT	CNV176
		UNIT PRICE	EXT	ENSION
790-69.08 GROUND-GROUND ROD				
	4.000 EACH			
Eutaw Construction Company, Inc.		\$355.1000	\$1	,420.40
Volunteer Paving, LLC		\$402.0000		1,608.00
Dement Construction Company, LLC		\$321.6000		1,286.40
Rogers Group, Inc.		\$322,5900		,290.36
Bell & Associates Construction, LLC		\$350.0000		,400.00
Vulcan Construction Materials, LLC		\$321.6000		,286.40
Jones Bros. Contractors, LLC		\$321.6000	\$1	,286.40
Wright Brothers Construction Company, Inc.		\$442.0000	\$1	,768.00
790-69.28 EXTENSION LINK - EPOXY -6FT				
	1.000 EACH			
Eutaw Construction Company, Inc.		\$200.4000		\$200.40
Volunteer Paving, LLC		\$236.0000		\$236.00
Dement Construction Company, LLC		\$181.5000		\$181.50
Rogers Group, Inc.		\$182.0600		\$182.06
Bell & Associates Construction, LLC		\$200.0000		\$200.00
Vulcan Construction Materials, LLC		\$181.5000		\$181.50
Jones Bros. Contractors, LLC		\$181.5000		\$181.50
Wright Brothers Construction Company, Inc.		\$259.0000		\$259.00
790-69.31 STICK PIN				
	3.000 EACH			
Eutaw Construction Company, Inc.		\$149.1000		\$447.30
Volunteer Paving, LLC		\$184.0000		\$552.00
Dement Construction Company, LLC		\$135.0000		\$405.00
Rogers Group, Inc.		\$135.4200		\$406.26
Bell & Associates Construction, LLC		\$150.0000		\$450.00
Vulcan Construction Materials, LLC		\$135.0000		\$405.00
Jones Bros. Contractors, LLC		\$135.0000		\$405.00
Wright Brothers Construction Company, Inc.		\$202.0000		\$606.00
790-98.01 REMOVE WIRE				
	3,326.000 L.F.			
Eutaw Construction Company, Inc.		\$2.4000	\$7	7,982.40
Volunteer Paving, LLC		\$3.5000	\$11	1,641.00
Dement Construction Company, LLC		\$2.2000		7,317.20
Rogers Group, Inc.		\$2.2100		7,350.46
Bell & Associates Construction, LLC		\$2.5000		3,315.00
Vulcan Construction Materials, LLC		\$2.2000		7,317.20
Jones Bros. Contractors, LLC		\$2.2000		7,317.20
Wright Brothers Construction Company, Inc.		\$3.8500	\$12	2,805.10

			CONTRACT CHVIA
		UNIT PRICE	EXTENSION
790-98.02 REMOVE POLES			
	7.000 EACH		
Eutaw Construction Company, Inc.		\$452.7000	\$3,168.90
Volunteer Paving, LLC		\$928.0000	\$6,496.00
Dement Construction Company, LLC		\$410.0000	\$2,870.00
Rogers Group, Inc.		\$411.2700	\$2,878.89
Bell & Associates Construction, LLC		\$450.0000	\$3,150.00
Vulcan Construction Materials, LLC		\$410.0000	\$2,870.00
Jones Bros. Contractors, LLC		\$410.0000	\$2,870.00
Wright Brothers Construction Company, Inc.		\$1,020.0000	\$7,140.00
790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS			
	53.000 EACH		
Eutaw Construction Company, Inc.		\$303.7000	\$16,096.10
Volunteer Paving, LLC		\$890.0000	\$47,170.00
Dement Construction Company, LLC		\$275.0000	\$14,575.00
Rogers Group, Inc.		\$275.8500	\$14,620.05
Bell & Associates Construction, LLC		\$300.0000	\$15,900.00
Vulcan Construction Materials, LLC		\$275.0000	\$14,575.00
Jones Bros. Contractors, LLC		\$275.0000	\$14,575.00
Wright Brothers Construction Company, Inc.		\$980.0000	\$51,940.00
791-04.04 HDD 4IN PE PIPE - UNCONSOLIDATED			
	110.000 L.F.		
Eutaw Construction Company, Inc.		\$313.1000	\$34,441.00
Volunteer Paving, LLC		\$500.0000	\$55,000.00
Dement Construction Company, LLC		\$500.0000	\$55,000.00
Rogers Group, Inc.		\$501.5500	\$55,170.50
Bell & Associates Construction, LLC		\$310.0000	\$34,100.00
Vulcan Construction Materials, LLC		\$500.0000	\$55,000.00
Jones Bros. Contractors, LLC		\$234.0000	\$25,740.00
Wright Brothers Construction Company, Inc.		\$313.0000	\$34,430.00
791-06.03 CONNECT TO 4IN EX. PE MAIN			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$2,417.0000	\$4,834.00
Volunteer Paving, LLC		\$7,500.0000	\$15,000.00
Dement Construction Company, LLC		\$7,500.0000	\$15,000.00
Rogers Group, Inc.		\$7,523.0700	\$15,046.14
Bell & Associates Construction, LLC		\$2,400.0000	\$4,800.00
Vulcan Construction Materials, LLC		\$7,500.0000	\$15,000.00
Jones Bros. Contractors, LLC		\$6,000.0000	\$12,000.00
Wright Brothers Construction Company, Inc.		\$4,010.0000	\$8,020.00

			CONTRACT CNV1	176
		UNIT PRICE	EXTENSIO	N
791-10.10 RETIRE GAS MAIN				
	1.000 LS			
Eutaw Construction Company, Inc.		\$1,647.7500	\$1,647.7	5
Volunteer Paving, LLC		\$12,000.0000	\$12,000.00	
Dement Construction Company, LLC		\$12,000.0000	\$12,000.00	
Rogers Group, Inc.		\$12,036.9100	\$12,036.9°	
Bell & Associates Construction, LLC		\$1,600.0000	\$1,600.00	
Vulcan Construction Materials, LLC		\$12,000.0000	\$12,000.00	0
Jones Bros. Contractors, LLC		\$4,000.0000	\$4,000.00	
Wright Brothers Construction Company, Inc.		\$2,690.0000	\$2,690.00	C
793-01.08 POLE 35FT CLASS 5 WOOD				
	3.000 EACH			
Eutaw Construction Company, Inc.		\$1,665.5000	\$4,996.50	0
Volunteer Paving, LLC		\$1,625.0000	\$4,875.00	
Dement Construction Company, LLC		\$1,500.0000	\$4,500.00	0
Rogers Group, Inc.		\$1,534.7100	\$4,604.13	3
Bell & Associates Construction, LLC		\$1,650.0000	\$4,950.00	0
Vulcan Construction Materials, LLC		\$1,500.0000	\$4,500.00	0
Jones Bros. Contractors, LLC		\$1,500.0000	\$4,500.00	0
Wright Brothers Construction Company, Inc.		\$1,790.0000	\$5,370.00	O
793-01.12 POLE 40FT CLASS 4 WOOD				
	1.000 EACH			
Eutaw Construction Company, Inc.		\$1,887.5000	\$1,887.50	0
Volunteer Paving, LLC		\$1,973.0000	\$1,973.00	0
Dement Construction Company, LLC		\$1,700.0000	\$1,700.00	0
Rogers Group, Inc.		\$1,739.3300	\$1,739.33	3
Bell & Associates Construction, LLC		\$1,850.0000	\$1,850.00	0
Vulcan Construction Materials, LLC		\$1,700.0000	\$1,700.00	0
Jones Bros. Contractors, LLC		\$1,700.0000	\$1,700.00	0
Wright Brothers Construction Company, Inc.		\$2,170.0000	\$2,170.00	O
793-01.17 POLE 45FT CLASS 3 WOOD				
	1.000 EACH			
Eutaw Construction Company, Inc.		\$2,109.7500	\$2,109.7	5
Volunteer Paving, LLC		\$2,067.0000	\$2,067.00	0
Dement Construction Company, LLC		\$1,900.0000	\$1,900.00	O
Rogers Group, Inc.		\$1,943.9600	\$1,943.96	6
Bell & Associates Construction, LLC		\$2,050.0000	\$2,050.00	
Vulcan Construction Materials, LLC		\$1,900.0000	\$1,900.00	
Jones Bros. Contractors, LLC		\$1,900.0000	\$1,900.00	
Wright Brothers Construction Company, Inc.		\$2,270.0000	\$2,270.00	0

			CONTRACT	CNV176
		UNIT PRICE	EXT	ENSION
793-01.41 ANCHOR 1IN				
	6.000 EACH			
Eutaw Construction Company, Inc.		\$721.7000	\$4	,330.20
Volunteer Paving, LLC		\$1,165.0000		,990.00
Dement Construction Company, LLC		\$650.0000		,900.00
Rogers Group, Inc.		\$665.0300		,990.18
Bell & Associates Construction, LLC		\$710.0000		,260.00
Vulcan Construction Materials, LLC		\$650.0000		,900.00
Jones Bros. Contractors, LLC		\$650.0000		,900.00
Wright Brothers Construction Company, Inc.		\$1,280.0000		,680.00
793-13.07 4IN SCHEDULE 40 PVC				
	539.000 L.F.			
Eutaw Construction Company, Inc.		\$11.1000	\$5	,982.90
Volunteer Paving, LLC		\$20.6000		,103.40
Dement Construction Company, LLC		\$10.0000	\$5	,390.00
Rogers Group, Inc.		\$10.2300	\$5	,513.97
Bell & Associates Construction, LLC		\$11.0000	\$5	,929.00
Vulcan Construction Materials, LLC		\$10.0000	\$5	,390.00
Jones Bros. Contractors, LLC		\$10.0000	\$5	,390.00
Wright Brothers Construction Company, Inc.		\$22.7500	\$12	,262.25
793-13.12 1 DUCT FORMATION @ 36IN DEPTH				
	461.000 L.F.			
Eutaw Construction Company, Inc.		\$35.5000	\$16	,365.50
Volunteer Paving, LLC		\$19.4000	\$8	,943.40
Dement Construction Company, LLC		\$32.0000	\$14	,752.00
Rogers Group, Inc.		\$32.7400	\$15	,093.14
Bell & Associates Construction, LLC		\$35.0000	\$16	,135.00
Vulcan Construction Materials, LLC		\$32.0000	\$14	,752.00
Jones Bros. Contractors, LLC		\$32.0000		,752.00
Wright Brothers Construction Company, Inc.		\$21.2500	\$9	,796.25
793-13.17 2 DUCT FORMATION @ 36IN DEPTH				
	39.000 L.F.			
Eutaw Construction Company, Inc.		\$42.2000		,645.80
Volunteer Paving, LLC		\$28.9000	\$1	,127.10
Dement Construction Company, LLC		\$38.0000		,482.00
Rogers Group, Inc.		\$38.8800		,516.32
Bell & Associates Construction, LLC		\$42.0000		,638.00
Vulcan Construction Materials, LLC		\$38.0000		,482.00
Jones Bros. Contractors, LLC		\$38.0000		,482.00
Wright Brothers Construction Company, Inc.		\$31.7500	\$1	,238.25

		CONTRACT CNV176
	UNIT	PRICE EXTENSION
793-98.04 REMOVE POLES ALL SIZES		
	3.000 EACH	
Eutaw Construction Company, Inc.	\$16	66.6000 \$499.80
Volunteer Paving, LLC	·	30.0000 \$840.00
Dement Construction Company, LLC	•	50.0000 \$450.00
Rogers Group, Inc.	\$15	53.4700 \$460.41
Bell & Associates Construction, LLC	\$16	<b>\$5.0000</b> \$495.00
Vulcan Construction Materials, LLC	\$15	50.0000 \$450.00
Jones Bros. Contractors, LLC	\$15	50.0000 \$450.00
Wright Brothers Construction Company, Inc.	\$30	08.0000 \$924.00
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE		
	60.000 L.F.	
Eutaw Construction Company, Inc.	\$16	59.8000 \$10,188.00
Volunteer Paving, LLC	\$27	73.0000 \$16,380.00
Dement Construction Company, LLC	\$10	00.0000 \$6,000.00
Rogers Group, Inc.	\$6	55.2000 \$3,912.00
Bell & Associates Construction, LLC	\$10	05.0000 \$6,300.00
Vulcan Construction Materials, LLC	\$10	00.0000 \$6,000.00
Jones Bros. Contractors, LLC	\$10	00.0000 \$6,000.00
Wright Brothers Construction Company, Inc.	\$1,04	40.0000 \$62,400.00
795-01.09 12IN DIP RESTRAINED JOINT WATER LINE		
	110.000 L.F.	
Eutaw Construction Company, Inc.	\$14	12.3000 \$15,653.00
Volunteer Paving, LLC	\$26	88.0000 \$29,480.00
Dement Construction Company, LLC	\$18	33.0000 \$20,130.00
Rogers Group, Inc.	\$12	20.3700 \$13,240.70
Bell & Associates Construction, LLC	\$20	00.0000 \$22,000.00
Vulcan Construction Materials, LLC	\$18	33.0000 \$20,130.00
Jones Bros. Contractors, LLC	•	33.0000 \$20,130.00
Wright Brothers Construction Company, Inc.	\$45	50.0000 \$49,500.00
795-01.13 16IN DIP RESTRAINED JOINT WATER LINE		
	2,500.000 L.F.	
Eutaw Construction Company, Inc.	\$14	44.8000 \$362,000.00
Volunteer Paving, LLC	\$18	37.0000 \$467,500.00
Dement Construction Company, LLC		9.0000 \$522,500.00
Rogers Group, Inc.		\$7.5200 \$418,800.00
Bell & Associates Construction, LLC	\$22	25.0000 \$562,500.00
Vulcan Construction Materials, LLC		9.0000 \$522,500.00
Jones Bros. Contractors, LLC		9.0000 \$522,500.00
Wright Brothers Construction Company, Inc.	\$31	10.0000 \$775,000.00

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
795-02.07 12IN HDPE WATER LINE			
	680.000 L.F.		
Eutaw Construction Company, Inc.		\$97.0000	\$65,960.00
Volunteer Paving, LLC		\$157.0000	\$106,760.00
Dement Construction Company, LLC		\$162.0000	\$110,160.00
Rogers Group, Inc.		\$200.6100	\$136,414.80
Bell & Associates Construction, LLC		\$175.0000	\$119,000.00
Vulcan Construction Materials, LLC		\$162.0000	\$110,160.00
Jones Bros. Contractors, LLC		\$162.0000	\$110,160.00
Wright Brothers Construction Company, Inc.		\$208.0000	\$141,440.00
795-05.22 HDD 16IN HDPE CASING PIPE-ROCK			
	130.000 L.F.		
Eutaw Construction Company, Inc.		\$1,392.7500	\$181,057.50
Volunteer Paving, LLC		\$680.0000	\$88,400.00
Dement Construction Company, LLC		\$608.0000	\$79,040.00
Rogers Group, Inc.		\$250.7700	\$32,600.10
Bell & Associates Construction, LLC		\$670.0000	\$87,100.00
Vulcan Construction Materials, LLC		\$608.0000	\$79,040.00
Jones Bros. Contractors, LLC		\$608.0000	\$79,040.00
Wright Brothers Construction Company, Inc.		\$970.0000	\$126,100.00
795-05.63 BORE/JACK 12IN STEEL CASING PIPE-UNCON.			
	36.000 L.F.		
Eutaw Construction Company, Inc.		\$535.0000	\$19,260.00
Volunteer Paving, LLC		\$575.0000	\$20,700.00
Dement Construction Company, LLC		\$575.0000	\$20,700.00
Rogers Group, Inc.		\$451.3900	\$16,250.04
Bell & Associates Construction, LLC		\$630.0000	\$22,680.00
Vulcan Construction Materials, LLC		\$575.0000	\$20,700.00
Jones Bros. Contractors, LLC		\$575.0000	\$20,700.00
Wright Brothers Construction Company, Inc.		\$660.0000	\$23,760.00
795-05.68 BORE/JACK 24IN STEEL CASING PIPE-UNCON.			
	100.000 L.F.		
Eutaw Construction Company, Inc.		\$363.8000	\$36,380.00
Volunteer Paving, LLC		\$912.0000	\$91,200.00
Dement Construction Company, LLC		\$734.0000	\$73,400.00
Rogers Group, Inc.		\$652.0100	\$65,201.00
Bell & Associates Construction, LLC		\$800.0000	\$80,000.00
Vulcan Construction Materials, LLC		\$734.0000	\$73,400.00
Jones Bros. Contractors, LLC		\$734.0000	\$73,400.00
Wright Brothers Construction Company, Inc.		\$810.0000	\$81,000.00

			CONTRACT CNV176
		UNIT PRICE	EXTENSION
795-05.77 BORE/JACK 12IN STEEL CASING PIPE-ROCK.			
	40.000 L.F.		
Eutaw Construction Company, Inc.		\$513.9000	\$20,556.00
Volunteer Paving, LLC		\$577.3100	\$23,092.40
Dement Construction Company, LLC		\$615.0000	\$24,600.00
Rogers Group, Inc.		\$501.5500	\$20,062.00
Bell & Associates Construction, LLC		\$670.0000	\$26,800.00
Vulcan Construction Materials, LLC		\$615.0000	\$24,600.00
Jones Bros. Contractors, LLC		\$615.0000	\$24,600.00
Wright Brothers Construction Company, Inc.		\$660.0000	\$26,400.00
795-05.82 BORE/JACK 24IN STEEL CASING PIPE-ROCK.			
	60.000 L.F.		
Eutaw Construction Company, Inc.		\$744.6000	\$44,676.00
Volunteer Paving, LLC		\$940.0000	\$56,400.00
Dement Construction Company, LLC		\$765.0000	\$45,900.00
Rogers Group, Inc.		\$852.6100	\$51,156.60
Bell & Associates Construction, LLC		\$830.0000	\$49,800.00
Vulcan Construction Materials, LLC		\$765.0000	\$45,900.00
Jones Bros. Contractors, LLC		\$765.0000	\$45,900.00
Wright Brothers Construction Company, Inc.		\$810.0000	\$48,600.00
795-06.04 CONNECT TO 6IN WATER LINE			
	2.000 EACH		
Eutaw Construction Company, Inc.		\$1,688.2500	\$3,376.50
Volunteer Paving, LLC		\$6,700.0000	\$13,400.00
Dement Construction Company, LLC		\$3,935.0000	\$7,870.00
Rogers Group, Inc.		\$3,009.2200	\$6,018.44
Bell & Associates Construction, LLC		\$4,300.0000	\$8,600.00
Vulcan Construction Materials, LLC		\$3,935.0000	\$7,870.00
Jones Bros. Contractors, LLC		\$3,935.0000	\$7,870.00
Wright Brothers Construction Company, Inc.		\$4,240.0000	\$8,480.00
795-06.07 CONNECT TO 12IN WATER LINE			
	1.000 EACH		
Eutaw Construction Company, Inc.		\$2,443.5000	\$2,443.50
Volunteer Paving, LLC		\$6,700.0000	\$6,700.00
Dement Construction Company, LLC		\$4,280.0000	\$4,280.00
Rogers Group, Inc.		\$6,018.4600	\$6,018.46
Bell & Associates Construction, LLC		\$4,700.0000	\$4,700.00
Vulcan Construction Materials, LLC		\$4,280.0000	\$4,280.00
Jones Bros. Contractors, LLC		\$4,280.0000	\$4,280.00
Wright Brothers Construction Company, Inc.		\$5,360.0000	\$5,360.00

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
795-06.33 CUT AND CAP 6IN WATER LINE		
	2.000 EACH	
Eutaw Construction Company, Inc.	\$1,565.5000	\$3,131.00
Volunteer Paving, LLC	\$2,914.0000	\$5,828.00
Dement Construction Company, LLC	\$1,020.0000	\$2,040.00
Rogers Group, Inc.	\$1,203.6900	\$2,407.38
Bell & Associates Construction, LLC	\$1,110.0000	\$2,220.00
Vulcan Construction Materials, LLC	\$1,020.0000	\$2,040.00
Jones Bros. Contractors, LLC	\$1,020.0000	\$2,040.00
Wright Brothers Construction Company, Inc.	\$3,740.0000	\$7,480.00
795-06.37 CUT AND CAP 12IN WATER LINE		
	4.000 EACH	
Eutaw Construction Company, Inc.	\$1,879.2500	\$7,517.00
Volunteer Paving, LLC	\$3,832.0000	\$15,328.00
Dement Construction Company, LLC	\$1,495.0000	\$5,980.00
Rogers Group, Inc.	\$2,106.4600	\$8,425.84
Bell & Associates Construction, LLC	\$1,600.0000	\$6,400.00
Vulcan Construction Materials, LLC	\$1,495.0000	\$5,980.00
Jones Bros. Contractors, LLC	\$1,495.0000	\$5,980.00
Wright Brothers Construction Company, Inc.	\$4,130.0000	\$16,520.00
795-07.03 6IN X 6IN TAPPING SLEEVE AND VALVE		
	1.000 EACH	
Eutaw Construction Company, Inc.	\$7,218.2500	\$7,218.25
Volunteer Paving, LLC	\$6,822.0000	\$6,822.00
Dement Construction Company, LLC	\$4,130.0000	\$4,130.00
Rogers Group, Inc.	\$4,714.4600	\$4,714.46
Bell & Associates Construction, LLC	\$4,500.0000	\$4,500.00
Vulcan Construction Materials, LLC	\$4,130.0000	\$4,130.00
Jones Bros. Contractors, LLC	\$4,130.0000	\$4,130.00
Wright Brothers Construction Company, Inc.	\$8,480.0000	\$8,480.00
795-07.15 12IN X 12IN TAPPING SLEEVE AND VALVE		
	2.000 EACH	
Eutaw Construction Company, Inc.	\$9,607.7500	\$19,215.50
Volunteer Paving, LLC	\$14,743.0000	\$29,486.00
Dement Construction Company, LLC	\$9,415.0000	\$18,830.00
Rogers Group, Inc.	\$12,939.6800	\$25,879.36
Bell & Associates Construction, LLC	\$10,300.0000	\$20,600.00
Vulcan Construction Materials, LLC	\$9,415.0000	\$18,830.00
Jones Bros. Contractors, LLC	\$9,415.0000	\$18,830.00
Wright Brothers Construction Company, Inc.	\$16,700.0000	\$33,400.00

			CONTRACT	CNV176
		UNIT PRICE	EXT	ENSION
795-08.04 6IN GATE VALVE ASSEMBLY				
	1.000 EACH			
Eutaw Construction Company, Inc.		\$2,399.7500	\$2	2,399.75
Volunteer Paving, LLC		\$1,722.0000		1,722.00
Dement Construction Company, LLC		\$1,985.0000		,985.00
Rogers Group, Inc.		\$1,705.2200	\$1	1,705.22
Bell & Associates Construction, LLC		\$2,200.0000	\$2	2,200.00
Vulcan Construction Materials, LLC		\$1,985.0000	\$1	1,985.00
Jones Bros. Contractors, LLC		\$1,985.0000	\$1	1,985.00
Wright Brothers Construction Company, Inc.		\$2,010.0000	\$2	2,010.00
795-08.13 16IN BUTTERFLY VALVE ASSEMBLY				
	2.000 EACH			
Eutaw Construction Company, Inc.		\$7,883.5000	\$15	5,767.00
Volunteer Paving, LLC		\$7,142.0000	\$14	1,284.00
Dement Construction Company, LLC		\$10,805.0000	\$21	1,610.00
Rogers Group, Inc.		\$8,526.1400	\$17	7,052.28
Bell & Associates Construction, LLC		\$11,800.0000	\$23	3,600.00
Vulcan Construction Materials, LLC		\$10,805.0000	\$21	1,610.00
Jones Bros. Contractors, LLC		\$10,805.0000	\$21	1,610.00
Wright Brothers Construction Company, Inc.		\$14,000.0000	\$28	3,000.00
795-09.24 TI OF 2IN HDPE CASING FOR SERVICE PIPE-UNCON				
	150.000 L.F.			
Eutaw Construction Company, Inc.		\$77.3000	\$11	1,595.00
Volunteer Paving, LLC		\$97.0000	\$14	1,550.00
Dement Construction Company, LLC		\$223.0000	\$33	3,450.00
Rogers Group, Inc.		\$60.1800	\$9	9,027.00
Bell & Associates Construction, LLC		\$244.0000	\$36	5,600.00
Vulcan Construction Materials, LLC		\$223.0000	\$33	3,450.00
Jones Bros. Contractors, LLC		\$223.0000		3,450.00
Wright Brothers Construction Company, Inc.		\$142.0000	\$21	1,300.00
795-09.60 3/4IN PEXa SERVICE PIPE				
	200.000 L.F.			
Eutaw Construction Company, Inc.		\$11.0000		2,200.00
Volunteer Paving, LLC		\$47.0000		9,400.00
Dement Construction Company, LLC		\$17.0000		3,400.00
Rogers Group, Inc.		\$30.1000		5,020.00
Bell & Associates Construction, LLC		\$18.5000		3,700.00
Vulcan Construction Materials, LLC		\$17.0000		3,400.00
Jones Bros. Contractors, LLC		\$17.0000		3,400.00
Wright Brothers Construction Company, Inc.		\$50.0000	\$10	0,000.00

		CONTRACT CNV176
	UNIT PRICE	EXTENSION
795-09.62 1IN PEX SERVICE PIPE		
	220.000 L.F.	
Eutaw Construction Company, Inc.	\$11.6000	\$2,552.00
Volunteer Paving, LLC	\$45.5000	\$10,010.00
Dement Construction Company, LLC	\$60.5000	\$13,310.00
Rogers Group, Inc.	\$30.1000	\$6,622.00
Bell & Associates Construction, LLC	\$66.0000	
Vulcan Construction Materials, LLC	\$60.5000	
Jones Bros. Contractors, LLC	\$60.5000	
Wright Brothers Construction Company, Inc.	\$51.5000	\$11,330.00
795-11.04 RELOCATE FIRE HYDRANT		
	2.000 EACH	
Eutaw Construction Company, Inc.	\$6,046.7500	\$12,093.50
Volunteer Paving, LLC	\$10,586.0000	\$21,172.00
Dement Construction Company, LLC	\$4,110.0000	\$8,220.00
Rogers Group, Inc.	\$4,212.9200	· ·
Bell & Associates Construction, LLC	\$4,500.0000	
Vulcan Construction Materials, LLC	\$4,110.0000	
Jones Bros. Contractors, LLC	\$4,110.0000	
Wright Brothers Construction Company, Inc.	\$13,400.0000	\$26,800.00
795-12.03 PIPE GROUTING		
	1.000 LS	
Eutaw Construction Company, Inc.	\$24,970.0000	\$24,970.00
Volunteer Paving, LLC	\$22,500.0000	\$22,500.00
Dement Construction Company, LLC	\$39,880.0000	
Rogers Group, Inc.	\$26,079.9700	
Bell & Associates Construction, LLC	\$44,000.0000	
Vulcan Construction Materials, LLC	\$30,000.0000	
Jones Bros. Contractors, LLC	\$40,000.0000	
Wright Brothers Construction Company, Inc.	\$25,100.0000	\$25,100.00
795-13.01 DI FITTINGS		
	4,500.000 LB.	
Eutaw Construction Company, Inc.	\$8.5000	
Volunteer Paving, LLC	\$7.5000	
Dement Construction Company, LLC	\$12.0000	
Rogers Group, Inc.	\$9.0300	
Bell & Associates Construction, LLC	\$13.0000	
Vulcan Construction Materials, LLC	\$12.0000	
Jones Bros. Contractors, LLC	\$12.0000	
Wright Brothers Construction Company, Inc.	\$17.8500	\$80,325.00

# CONTRACT CNV176

				CONTRACT CNV176
			UNIT PRICE	EXTENSION
795-14.05	CONCRETE ENCASEMENT			
		40.000 L.F.		
	Eutaw Construction Company, Inc.		\$60.2000	\$2,408.00
	Volunteer Paving, LLC		\$115.0000	\$4,600.00
	Dement Construction Company, LLC		\$65.0000	\$2,600.00
	Rogers Group, Inc.		\$69.2100	\$2,768.40
	Bell & Associates Construction, LLC		\$71.0000	\$2,840.00
	Vulcan Construction Materials, LLC		\$65.0000	\$2,600.00
	Jones Bros. Contractors, LLC		\$65.0000	\$2,600.00
	Wright Brothers Construction Company, Inc.		\$201.0000	\$8,040.00
795-15.07	24IN STEEL CASING PIPE OPEN CUT METHOD			
		70.000 L.F.		
	Eutaw Construction Company, Inc.		\$142.9000	\$10,003.00
	Volunteer Paving, LLC		\$278.0000	\$19,460.00
	Dement Construction Company, LLC		\$236.0000	\$16,520.00
	Rogers Group, Inc.		\$218.6800	\$15,307.60
	Bell & Associates Construction, LLC		\$250.0000	\$17,500.00
	Vulcan Construction Materials, LLC		\$236.0000	\$16,520.00
	Jones Bros. Contractors, LLC		\$236.0000	\$16,520.00
	Wright Brothers Construction Company, Inc.		\$346.0000	\$24,220.00
795-20.01	RECONNECT SERVICE ASSEMBLY			
		8.000 EACH		
	Eutaw Construction Company, Inc.		\$1,481.5000	\$11,852.00
	Volunteer Paving, LLC		\$1,000.0000	\$8,000.00
	Dement Construction Company, LLC		\$2,085.0000	\$16,680.00
	Rogers Group, Inc.		\$3,009.2200	\$24,073.76
	Bell & Associates Construction, LLC		\$2,280.0000	\$18,240.00
	Vulcan Construction Materials, LLC		\$2,085.0000	\$16,680.00
	Jones Bros. Contractors, LLC		\$2,085.0000	\$16,680.00
	Wright Brothers Construction Company, Inc.		\$2,730.0000	\$21,840.00

Bell & Associates Construction, LLC

SUB-TOTAL ROADWAY	
Eutaw Construction Company, Inc.	\$17,245,256.70
Volunteer Paving, LLC	\$17,596,178.50
Dement Construction Company, LLC	\$17,970,556.05
Rogers Group, Inc.	\$18,628,692.68
Bell & Associates Construction, LLC	\$19,299,427.40
Vulcan Construction Materials, LLC	\$19,988,481.90
Jones Bros. Contractors, LLC	\$20,253,445.27
Wright Brothers Construction Company, Inc.	\$22,303,377.05
SUB-TOTAL BOX BRIDGE	
Eutaw Construction Company, Inc.	\$351,382.50
Volunteer Paving, LLC	\$333,713.00
Dement Construction Company, LLC	\$292,048.50
Rogers Group, Inc.	\$250,655.15
Bell & Associates Construction, LLC	\$260,459.75
Vulcan Construction Materials, LLC	\$250,065.00
Jones Bros. Contractors, LLC	\$322,078.10
Wright Brothers Construction Company, Inc.	\$423,204.25
SUB-TOTAL BRIDGE	
Eutaw Construction Company, Inc.	\$9,947,691.50
Volunteer Paving, LLC	\$9,492,705.90
Dement Construction Company, LLC	\$9,565,133.56
Rogers Group, Inc.	\$9,145,710.40
Bell & Associates Construction, LLC	\$8,945,213.08
Vulcan Construction Materials, LLC	\$9,282,054.65
Jones Bros. Contractors, LLC	\$9,693,357.95
Wright Brothers Construction Company, Inc.	\$10,893,223.30
SUB-TOTAL UTILITY	
Eutaw Construction Company, Inc.	\$1,093,298.30
Volunteer Paving, LLC	\$1,408,279.90
Dement Construction Company, LLC	\$1,347,497.75
Rogers Group, Inc.	\$1,160,372.77
Bell & Associates Construction, LLC	\$1,413,025.00
Vulcan Construction Materials, LLC	\$1,337,617.75
Jones Bros. Contractors, LLC	\$1,307,357.75
Wright Brothers Construction Company, Inc.	\$1,926,343.95
TOTAL CONTRACT	
Eutaw Construction Company, Inc.	\$28,637,629.00
Volunteer Paving, LLC	\$28,830,877.30
Dement Construction Company, LLC	\$29,175,235.86
Rogers Group, Inc.	\$29,185,431.00
D 11 0 A O L . O	

\$29,918,125.23

Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC Wright Brothers Construction Company, Inc. \$30,858,219.30 \$31,576,239.07 \$35,546,148.55

#### MAURY COUNTY (Contract No. CNV178 Call 046)

60004-4282-04,60004-4283-04,STP-247(20),60023-8212-14

THE RESURFACING ON S.R. 7 FROM THE BRIDGE OVER KNOB CREEK (L.M. 19.55) TO THE BRIDGE OVER SNOW CREEK (L.M. 23.49), INCLUDING BRIDGE REPAIR, AND ON S.R. 247 FROM S.R. 50 (L.M. 0.00) TO S.R. 7 (L.M. 5.73).

PROJECT LENGTH - 9.670 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 4.00%

	TOTAL CONTRACT
	1017/2 00/11/7/01
Eubank Asphalt Paving & Sealing	\$1,679,751.00
Rogers Group, Inc.	\$1,746,007.00
-	
Volunteer Paving, LLC	\$1,866,239.37
Vulcan Construction Materials, LLC	\$1,978,533.20

	CONTRACT	CNV178
UNIT PRICE	EXTE	ENSION

ROADWA	Y CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		19.400 L.M.		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$9,700.00
	Rogers Group, Inc.		\$1,150.0000	\$22,310.00
	Volunteer Paving, LLC		\$1,294.9000	\$25,121.06
	Vulcan Construction Materials, LLC		\$1,150.0000	\$22,310.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		2,436.000 TON		
	Eubank Asphalt Paving & Sealing		\$20.0000	\$48,720.00
	Rogers Group, Inc.		\$14.6000	\$35,565.60
	Volunteer Paving, LLC		\$26.4400	\$64,407.84
	Vulcan Construction Materials, LLC		\$27.0000	\$65,772.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA	ADING B-M2		
		1,400.000 TON		
	Eubank Asphalt Paving & Sealing		\$80.0000	\$112,000.00
	Rogers Group, Inc.		\$69.0000	\$96,600.00
	Volunteer Paving, LLC		\$74.5900	\$104,426.00
	Vulcan Construction Materials, LLC		\$73.5500	\$102,970.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		88.000 TON		
	Eubank Asphalt Paving & Sealing		\$440.0000	\$38,720.00
	Rogers Group, Inc.		\$550.0000	\$48,400.00
	Volunteer Paving, LLC		\$631.5800	\$55,579.04
	Vulcan Construction Materials, LLC		\$740.0000	\$65,120.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		8,950.000 TON		
	Eubank Asphalt Paving & Sealing		\$75.0000	\$671,250.00
	Rogers Group, Inc.		\$76.5000	\$684,675.00
	Volunteer Paving, LLC		\$76.1300	\$681,363.50
	Vulcan Construction Materials, LLC		\$90.3500	\$808,632.50
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		3,126.000 TON		
	Eubank Asphalt Paving & Sealing	,	\$77.0000	\$240,702.00
	Rogers Group, Inc.		\$77.7500	\$243,046.50
	Volunteer Paving, LLC		\$83.3400	\$260,520.84
	Vulcan Construction Materials, LLC		\$92.7500	\$289,936.50
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN W	IDTH)		
		6.300 L.M.		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$3,150.00
	Rogers Group, Inc.		\$730.0000	\$4,599.00
	Volunteer Paving, LLC		\$600.0000	\$3,780.00
	Vulcan Construction Materials, LLC		\$587.0000	\$3,698.10
			<del>+-3</del>	+3,555

			UNIT PRICE	EXTENSION
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUO	OUS) (8IN WIDTH)		
		11.500 L.M.		
E	Eubank Asphalt Paving & Sealing		\$500.0000	\$5,750.00
F	Rogers Group, Inc.		\$650.0000	\$7,475.00
	Volunteer Paving, LLC		\$600.0000	\$6,900.00
\	Vulcan Construction Materials, LLC		\$587.0000	\$6,750.50
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		11,267.000 TON		
E	Eubank Asphalt Paving & Sealing		\$13.5000	\$152,104.50
F	Rogers Group, Inc.		\$12.7500	\$143,654.25
\	Volunteer Paving, LLC		\$22.7700	\$256,549.59
\	Vulcan Construction Materials, LLC		\$14.0000	\$157,738.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
E	Eubank Asphalt Paving & Sealing		\$24,000.0000	\$24,000.00
F	Rogers Group, Inc.		\$43,539.1500	\$43,539.15
\	Volunteer Paving, LLC		\$47,250.0000	\$47,250.00
\	Vulcan Construction Materials, LLC		\$57,377.5500	\$57,377.55
712-04.01 I	FLEXIBLE DRUMS (CHANNELIZING)			
		125.000 EACH		
E	Eubank Asphalt Paving & Sealing		\$5.0000	\$625.00
F	Rogers Group, Inc.		\$3.0000	\$375.00
\	Volunteer Paving, LLC		\$25.0000	\$3,125.00
\	Vulcan Construction Materials, LLC		\$38.0000	\$4,750.00
712-06	SIGNS (CONSTRUCTION)			
		2,049.000 S.F.		
E	Eubank Asphalt Paving & Sealing		\$5.5000	\$11,269.50
F	Rogers Group, Inc.		\$6.5000	\$13,318.50
\	Volunteer Paving, LLC		\$7.5000	\$15,367.50
\	Vulcan Construction Materials, LLC		\$9.0000	\$18,441.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
E	Eubank Asphalt Paving & Sealing		\$500.0000	\$1,000.00
	Rogers Group, Inc.		\$500.0000	\$1,000.00
\	Volunteer Paving, LLC		\$1,200.0000	\$2,400.00
\	Vulcan Construction Materials, LLC		\$975.0000	\$1,950.00
713-02.14 I	FLEXIBLE DELINEATOR (WHITE)			
		13.000 EACH		
F	Eubank Asphalt Paving & Sealing		\$50.0000	\$650.00
	Rogers Group, Inc.		\$34.0000	\$442.00
	Volunteer Paving, LLC		\$79.0000	\$1,027.00
	Vulcan Construction Materials, LLC		\$42.0000	\$546.00

			UNIT PRICE	EXTENSION
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$100.0000	\$100.00
	Rogers Group, Inc.		\$50.0000	\$50.00
	Volunteer Paving, LLC		\$67.0000	\$67.00
	Vulcan Construction Materials, LLC		\$125.0000	\$125.00
713-16.20	SIGNS (W4-2L, LEFT LANE ENDS)			
		1.000 EACH		
	Eubank Asphalt Paving & Sealing		\$400.0000	\$400.00
	Rogers Group, Inc.		\$300.0000	\$300.00
	Volunteer Paving, LLC		\$240.0000	\$240.00
	Vulcan Construction Materials, LLC		\$245.0000	\$245.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR	) (1 COLOR)		
		641.000 EACH		
	Eubank Asphalt Paving & Sealing		\$25.0000	\$16,025.00
	Rogers Group, Inc.		\$30.0000	\$19,230.00
	Volunteer Paving, LLC		\$25.0000	\$16,025.00
	Vulcan Construction Materials, LLC		\$30.1000	\$19,294.10
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-E	DIR)(1 COLOR)		
		203.000 EACH		
	Eubank Asphalt Paving & Sealing		\$25.0000	\$5,075.00
	Rogers Group, Inc.		\$30.0000	\$6,090.00
	Volunteer Paving, LLC		\$25.0000	\$5,075.00
	Vulcan Construction Materials, LLC		\$30.1000	\$6,110.30
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		614.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$3,070.00
	Rogers Group, Inc.		\$8.0000	\$4,912.00
	Volunteer Paving, LLC		\$10.0000	\$6,140.00
	Vulcan Construction Materials, LLC		\$8.1000	\$4,973.40
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIP	ING)		
		150.000 S.Y.		
	Eubank Asphalt Paving & Sealing		\$14.0000	\$2,100.00
	Rogers Group, Inc.		\$20.0000	\$3,000.00
	Volunteer Paving, LLC		\$18.0000	\$2,700.00
	Vulcan Construction Materials, LLC		\$20.1000	\$3,015.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		300.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$12.0000	\$3,600.00
	Rogers Group, Inc.		\$15.0000	\$4,500.00
	Volunteer Paving, LLC		\$15.0000	\$4,500.00
	Vulcan Construction Materials, LLC		\$15.0500	\$4,515.00

		•	CHV176
		UNIT PRICE	EXTENSION
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	4.000 EACH		
Eubank Asphalt Paving & Sealing		\$200.0000	\$800.00
Rogers Group, Inc.		\$550.0000	\$2,200.00
Volunteer Paving, LLC		\$200.0000	\$800.00
Vulcan Construction Materials, LLC		\$552.0000	\$2,208.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	45.500 L.M.		
Eubank Asphalt Paving & Sealing		\$850.0000	\$38,675.00
Rogers Group, Inc.		\$950.0000	\$43,225.00
Volunteer Paving, LLC		\$850.0000	\$38,675.00
Vulcan Construction Materials, LLC		\$955.0000	\$43,452.50
716-09.87 CONTRAST PAVEMENT MARKINGS WORDS AND SYMBOLS			
	1.000 EACH		
Eubank Asphalt Paving & Sealing		\$500.0000	\$500.00
Rogers Group, Inc.		\$600.0000	\$600.00
Volunteer Paving, LLC		\$1,000.0000	\$1,000.00
Vulcan Construction Materials, LLC		\$600.0000	\$600.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	45.500 L.M.		
Eubank Asphalt Paving & Sealing		\$4,750.0000	\$216,125.00
Rogers Group, Inc.		\$4,900.0000	\$222,950.00
Volunteer Paving, LLC		\$5,000.0000	\$227,500.00
Vulcan Construction Materials, LLC		\$4,917.5000	\$223,746.25
717-01 MOBILIZATION			
	1.000 LS		
Eubank Asphalt Paving & Sealing		\$35,000.0000	\$35,000.00
Rogers Group, Inc.		\$56,000.0000	\$56,000.00
Volunteer Paving, LLC		\$15,000.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$34,000.0000	\$34,000.00

CONTR	CNV	

UNIT PRICE EXTENSION

BRIDGE CATEGORY

# 604-10.44 EXPANSION JOINT REPAIRS

### 138.000 L.F.

Eubank Asphalt Paving & Sealing	\$280.0000	\$38,640.00
Rogers Group, Inc.	\$275.0000	\$37,950.00
Volunteer Paving, LLC	\$150.0000	\$20,700.00
Vulcan Construction Materials, LLC	\$219.2500	\$30,256.50

Eubank Asphalt Paving & Sealing	\$1,641,111.00
Rogers Group, Inc.	\$1,708,057.00
Volunteer Paving, LLC	\$1,845,539.37
Vulcan Construction Materials, LLC	\$1,948,276.70

# SUB-TOTAL BRIDGE

Eubank Asphalt Paving & Sealing	\$38,640.00
Rogers Group, Inc.	\$37,950.00
Volunteer Paving, LLC	\$20,700.00
Vulcan Construction Materials, LLC	\$30,256.50

### **TOTAL CONTRACT**

Eubank Asphalt Paving & Sealing	\$1,679,751.00
Rogers Group, Inc.	\$1,746,007.00
Volunteer Paving, LLC	\$1,866,239.37
Vulcan Construction Materials, LLC	\$1,978,533.20

### MCMINN COUNTY (Contract No. CNV171 Call 047)

NH-2(282),54002-8250-14

THE RESURFACING ON U.S. 11 (S.R. 2) FROM EAST OF HAINES ROAD (L.M. 14.80) TO EAST OF COUNTY ROAD 260 (L.M. 17.38).

PROJECT LENGTH - 2.580 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 5.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,563,205.30

			co	NTRACT CNV171
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
303-01		50.000 TON	4	
	Rogers Group, Inc.		\$40.0000	\$2,000.00
403-02.01	TRACKLESS TACK COAT	60.000 TON		
	Rogers Group, Inc.		\$800.0000	\$48,000.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	2,325.000 TON		
	Rogers Group, Inc.		\$88.7000	\$206,227.50
411-02.10	ACS MIX(PG70-22) GRADING D	6,911.000 TON		
	Rogers Group, Inc.	3,01110001011	\$106.2500	\$734,293.75
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	44 250 000 TON		
	Rogers Group, Inc.	11,359.000 TON	\$26.6000	\$302,149.40
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Rogers Group, Inc.	2.000 EACH	\$3,200.0000	\$6,400.00
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$48,790.0000	\$48,790.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Rogers Group, Inc.	152.000 EACH	\$35.9000	\$5,456.80
712-05.03	WARNING LIGHTS (TYPE C)			
	Rogers Group, Inc.	51.000 EACH	\$31.6500	\$1,614.15
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	1,338.000 S.F.	\$6.8500	\$9,165.30
712-08.03	ARROW BOARD (TYPE C)			
	Rogers Group, Inc.	2.000 EACH	\$500.0000	\$1,000.00
712-16 04	CHANGEABLE MESSAGE SIGN UNIT		ψυσο.σσσσ	ψ1,000.00
7 10-10.01		2.000 EACH	<b>#4 500 0000</b>	<b>#0.000.00</b>
	Rogers Group, Inc.		\$1,500.0000	\$3,000.00

			UNIT PRICE	CONTRACT CNV171 EXTENSION
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL	.OR) 20.000 EACH		
	Rogers Group, Inc.		\$25.9000	\$518.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COL	OR) 360.000 EACH		
	Rogers Group, Inc.	300.000 EAGIT	\$25.9000	\$9,324.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	380.000 EACH		
	Rogers Group, Inc.	380.000 EACH	\$6.3500	\$2,413.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	40 000 0 V		
	Rogers Group, Inc.	40.000 S.Y.	\$21.1500	\$846.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	430.000 L.F.	\$10.5500	\$4,536.50
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	32.000 EACH	\$160.0000	\$5,120.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Rogers Group, Inc.	150.000 L.F.	\$5.3000	\$795.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Rogers Group, Inc.	84.000 S.F.	\$10.5500	\$886.20
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	Rogers Group, Inc.	6.000 EACH	\$160.0000	\$960.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	20.000 L.M.	\$898.0000	\$17,960.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	15.000 L.M.	\$4,540.0000	\$68,100.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN	E) 120.000 L.F.		
	D 0 1	120.000 L.F.	<b>A</b> 4 0000	<b>#</b> 400.00

Rogers Group, Inc.

\$192.00

\$1.6000

				CONTRACT CNV171
			UNIT PRICE	EXTENSION
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
	Rogers Group, Inc.	777.000 L.F.	\$2.1000	\$1,631.70
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$67,456.0000	\$67,456.00
730-14.02	SAW SLOT			
	Rogers Group, Inc.	2,000.000 L.F.	\$5.4000	\$10,800.00
730-14.03	LOOP WIRE			
	Rogers Group, Inc.	4,200.000 L.F.	\$0.8500	\$3,570.00

Rogers Group, Inc. \$1,563,205.30

### **TOTAL CONTRACT**

Rogers Group, Inc. \$1,563,205.30

#### MCNAIRY COUNTY (Contract No. CNV172 Call 048)

STP/HSIP-224(16),55017-3210-94,55017-4210-04,55017-8210-14

THE RESURFACING ON S.R. 224 FROM S.R. 142 (L.M. 7.64) TO U.S. 64 (S.R. 15) (L.M. 12.15), INCLUDING BRIDGE REPAIR.

PROJECT LENGTH - 4.510 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 4.00%

TOTAL CONTRACT

Standard Construction Company, Inc.

\$1,688,146.60

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNV172 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Standard Construction Company, Inc.	167.000 S.Y.	\$58.5000	\$9,769.50
203-06	WATER			
	Standard Construction Company, Inc.	44.000 M.G.	\$30.0000	\$1,320.00
208-01.02	SHOULDER PREPARATION	0.5001.84		
	Standard Construction Company, Inc.	8.500 L.M.	\$8,500.0000	\$72,250.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Standard Construction Company, Inc.	8.500 L.M.	\$1,400.0000	\$11,900.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Standard Construction Company, Inc.	7,049.000 TON	\$29.5000	\$207,945.50
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Standard Construction Company, Inc.	77.000 TON	\$185.0000	\$14,245.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M			
	Standard Construction Company, Inc.	1,124.000 TON	\$127.5000	\$143,310.00
307-01.10	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING C-V			
	Standard Construction Company, Inc.	6,091.000 TON	\$99.1500	\$603,922.65
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Standard Construction Company, Inc.	14.000 TON	\$1,800.0000	\$25,200.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Standard Construction Company, Inc.	50.000 TON	\$72.5000	\$3,625.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Standard Construction Company, Inc.	29.000 TON	\$1,325.0000	\$38,425.00
411-01.12	LONGITUDINAL JOINT STABILIZATION			

53,856.000 S.F.

Standard Construction Company, Inc.

\$18,849.60

\$0.3500

			UNIT PRICE	CONTRACT CNV172 EXTENSION
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8			
	Standard Construction Company, Inc.	6.300 L.M.	\$720.0000	\$4,536.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Standard Construction Company, Inc.	4,855.000 TON	\$28.5000	\$138,367.50
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Standard Construction Company, Inc.	9.000 EACH	\$105.0000	\$945.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 5 4 0 11		
	Standard Construction Company, Inc.	4.000 EACH	\$1,050.0000	\$4,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Standard Construction Company, Inc.	9.000 EACH	\$2,520.0000	\$22,680.00
712-01	TRAFFIC CONTROL			
	Standard Construction Company, Inc.	1.000 LS	\$115,000.0000	\$115,000.00
712-06	SIGNS (CONSTRUCTION)			
	Standard Construction Company, Inc.	930.000 S.F.	\$7.9000	\$7,347.00
713-02.15	FLEXIBLE DELINEATOR (YELLOW)			
	Standard Construction Company, Inc.	6.000 EACH	\$36.7500	\$220.50
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D			
	Standard Construction Company, Inc.	298.000 EACH	\$39.9000	\$11,890.20
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Standard Construction Company, Inc.	196.000 L.F.	\$18.9000	\$3,704.40
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)	4-4		
	Standard Construction Company, Inc.	17.400 L.M.	\$1,653.7500	\$28,775.25

8.400 L.M.

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)

Standard Construction Company, Inc.

PAGE

3

\$52,038.00

\$6,195.0000

				CONTRACT CNV172
			UNIT PRICE	EXTENSION
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTEI	D LINE)		
		160.000 L.F.		
	Standard Construction Company, Inc.		\$3.1500	\$504.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		9.000 L.M.		
	Standard Construction Company, Inc.		\$3,675.0000	\$33,075.00
717-01	MOBILIZATION			
		1.000 LS		

\$84,000.0000

\$84,000.00

Standard Construction Company, Inc.

UNIT PRICE EXTENSION

**BRIDGE CATEGORY** 

617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)

421.000 S.Y.

Standard Construction Company, Inc. \$71.5000 \$30,101.50

Standard Construction Company, Inc. \$1,658,045.10

# SUB-TOTAL BRIDGE

Standard Construction Company, Inc. \$30,101.50

# **TOTAL CONTRACT**

Standard Construction Company, Inc. \$1,688,146.60

#### MEIGS COUNTY (Contract No. CNV177 Call 049)

STP-304(13),61007-8213-14

THE RESURFACING ON S.R. 304 FROM NORTH OF S.R. 68 (L.M. 8.78) TO THE ROANE COUNTY LINE (L.M. 16.88).

PROJECT LENGTH - 8.100 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 5.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,442,368.95

			UNIT PRICE	CONTRACT CNV177 EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	1,717.000 TON	\$29.7000	\$50,994.90
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	57.000 TON	\$760.0000	\$43,320.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Rogers Group, Inc.	8,008.000 TON	\$98.0000	\$784,784.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN V	WIDTH)		
	Rogers Group, Inc.	13.000 L.M.	\$260.0000	\$3,380.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	7,877.000 TON	\$23.5500	\$185,503.35
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$61,900.0000	\$61,900.00
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	1,002.000 S.F.	\$6.8500	\$6,863.70
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	2.000 EACH	\$847.0000	\$1,694.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	•		
	Rogers Group, Inc.	535.000 EACH	\$25.3500	\$13,562.25
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Rogers Group, Inc.	350.000 EACH	\$6.3500	\$2,222.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	375.000 L.F.	\$10.5500	\$3,956.25
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	31.400 L.M.	\$880.0000	\$27,632.00

				CONTRACT CNV177
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) 31.400 L.M.			
	Rogers Group, Inc.	31.400 E.M.	\$4,540.0000	\$142,556.00
717-01	MOBILIZATION			
		1.000 LS		

\$114,000.0000

\$114,000.00

Rogers Group, Inc.

Rogers Group, Inc. \$1,442,368.95

### **TOTAL CONTRACT**

Rogers Group, Inc. \$1,442,368.95

#### MEIGS AND RHEA COUNTIES (Contract No. CNV204 Call 050)

STP-NH-60(38),72006-8215-14,STP-NH-60(39),61004-8216-14

THE RESURFACING ON S.R. 60 FROM THE HAMILTON COUNTY LINE (L.M. 0.00) TO NEAR U.S. 27 (S.R. 29) (L.M. 5.35) AND FROM EAST OF MCINTURFF ROAD (L.M. 0.85) TO NEAR THE TENNESSEE RIVER (L.M. 3.11).

PROJECT LENGTH - 7.610 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,946,832.25

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNV204 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	2,014.000 TON	\$37.0000	\$74,518.00
403-02.01	TRACKLESS TACK COAT			
	Rogers Group, Inc.	94.000 TON	\$670.0000	\$62,980.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	5 700 000 TON		
	Rogers Group, Inc.	5,730.000 TON	\$82.6500	\$473,584.50
411-01.10	ACS MIX(PG64-22) GRADING D	9 425 000 TON		
	Rogers Group, Inc.	8,435.000 TON	\$94.5000	\$797,107.50
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	14.300 L.M.		
	Rogers Group, Inc.	14.300 L.M.	\$562.7840	\$8,047.81
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	14,114.000 TON		
	Rogers Group, Inc.	14,114.000 TON	\$18.1500	\$256,169.10
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.	1.000 LO	\$56,400.0000	\$56,400.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	140.000 EACH		
	Rogers Group, Inc.	140.000 EAGI1	\$34.7900	\$4,870.60
712-05.03	WARNING LIGHTS (TYPE C)	43.000 EACH		
	Rogers Group, Inc.	10:000 =/10:1	\$30.6870	\$1,319.54
712-06	SIGNS (CONSTRUCTION)	1,488.000 S.F.		
	Rogers Group, Inc.	., .ss.sss c	\$6.3950	\$9,515.76
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	Rogers Group, Inc.		\$818.5950	\$1,637.19
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	2.000 EACH		
	Rogers Group, Inc.		\$1,637.1910	\$3,274.38

			UNIT PRICE	CONTRACT CNV204 EXTENSION
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO			
	Rogers Group, Inc.	502.000 EACH	\$25.5810	\$12,841.66
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	-		
	Rogers Group, Inc.	145.000 EACH	\$25.5810	\$3,709.25
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Rogers Group, Inc.	150.000 EACH	\$6.1390	\$920.85
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	360.000 L.F.	\$10.2320	\$3,683.52
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	8.000 EACH	\$153.4870	\$1,227.90
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	21.200 L.M.	\$869.7580	\$18,438.87
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	23.800 L.M.	\$4,399.9510	\$104,718.83
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LI	NE)		
	Rogers Group, Inc.	1,043.000 L.F.	\$1.0230	\$1,066.99

1.000 LS

\$50,800.0000

717-01

**MOBILIZATION** 

Rogers Group, Inc.

\$50,800.00

Rogers Group, Inc. \$1,946,832.25

### **TOTAL CONTRACT**

Rogers Group, Inc. \$1,946,832.25

#### MONROE COUNTY (Contract No. CNV065 Call 051)

STP-SIP-68(49),62007-3251-94

THE GRADING, DRAINAGE AND PAVING ON S.R. 68 AT THE INTERSECTION OF S.R. 39 (MECCA PIKE) (L.M. 24.04) IN TELLICO PLAINS.

PROJECT LENGTH - 0.371 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 12.00%

TOTAL CONTRACT

 Rogers Group, Inc.
 \$1,022,137.65

 Twin K Construction, Inc.
 \$1,107,895.67

Morgan Contracting, Inc. \$1,331,067.29

UNIT PRICE **EXTENSION** 

R	0	Δ	ח	W	Δ	V	C	Δ.	ΤE	G	n	R	γ
$\mathbf{r}$	u	м	u	vv	м		•	~	1 =	u	u	$\mathbf{r}$	

ROADW	AY CATEGORY		S	
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Rogers Group, Inc.		\$31,964.1900	\$31,964.19
	Twin K Construction, Inc.		\$30,000.0000	\$30,000.00
	Morgan Contracting, Inc.		\$9,000.0000	\$9,000.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Rogers Group, Inc.		\$39,297.9600	\$39,297.96
	Twin K Construction, Inc.		\$75,000.0000	\$75,000.00
	Morgan Contracting, Inc.		\$10,160.0000	\$10,160.00
202-01.13	REMOVAL OF PIPE (18", STA. 79+50.94)			
		73.000 L.F.		
	Rogers Group, Inc.		\$10.4100	\$759.93
	Twin K Construction, Inc.		\$30.0000	\$2,190.00
	Morgan Contracting, Inc.		\$151.0000	\$11,023.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		7,347.000 C.Y.		
	Rogers Group, Inc.		\$21.6500	\$159,062.55
	Twin K Construction, Inc.		\$15.8600	\$116,523.42
	Morgan Contracting, Inc.		\$55.0300	\$404,305.41
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)			
		1,089.000 TON		
	Rogers Group, Inc.		\$37.6600	\$41,011.74
	Twin K Construction, Inc.		\$42.2800	\$46,042.92
	Morgan Contracting, Inc.		\$131.5500	\$143,257.95
203-04	PLACING AND SPREADING TOPSOIL			
		652.000 C.Y.		
	Rogers Group, Inc.		\$17.1600	\$11,188.32
	Twin K Construction, Inc.		\$12.0000	\$7,824.00
	Morgan Contracting, Inc.		\$7.2300	\$4,713.96
203-05	UNDERCUTTING			
		304.000 C.Y.		
	Rogers Group, Inc.		\$17.0100	\$5,171.04
	Twin K Construction, Inc.		\$20.7000	\$6,292.80
	Morgan Contracting, Inc.		\$72.0000	\$21,888.00
203-06	WATER			
		1.000 M.G.		
	Rogers Group, Inc.		\$69.9300	\$69.93
	Twin K Construction, Inc.		\$125.6800	\$125.68
	Morgan Contracting, Inc.		\$152.0000	\$152.00

			-	
			UNIT PRICE	EXTENSION
203-07	FURNISHING & SPREADING TOPSOIL			
		520.000 C.Y.		
	Rogers Group, Inc.		\$45.9900	\$23,914.80
	Twin K Construction, Inc.		\$67.9200	\$35,318.40
	Morgan Contracting, Inc.		\$28.5000	\$14,820.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		1.300 L.M.		
	Rogers Group, Inc.		\$2,936.2800	\$3,817.16
	Twin K Construction, Inc.		\$2,651.9400	\$3,447.52
	Morgan Contracting, Inc.		\$20,500.0000	\$26,650.00
	3, 3, 3, 3, 3, 3, 3, 3, 3, 3, 3, 3, 3, 3		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	* -,
209-02.07	18" TEMPORARY SLOPE DRAIN			
		53.000 L.F.		
	Rogers Group, Inc.	00.000 =	\$120.3300	\$6,377.49
	Twin K Construction, Inc.		\$25.8500	\$1,370.05
	Morgan Contracting, Inc.		\$34.0000	\$1,802.00
	ga.i. co.i.i.aci.i.ig, i.i.o.		ψοσσσσ	ψ.,σσ=.σσ
209-03.22	FILTER SOCK (18 INCH)			
		9,438.000 L.F.		
	Pagara Craun, Inc	9,430.000 L.F.	<b>\$7.5000</b>	\$70.79F.00
	Rogers Group, Inc. Twin K Construction, Inc.		\$7.5000 \$6.3600	\$70,785.00 \$60,025.68
	Morgan Contracting, Inc.		\$6.0000	\$56,628.00
	worgan contracting, inc.		ψ0.0000	ψ30,020.00
209-05	SEDIMENT REMOVAL			
203-03	OLDIMENT REMOVAL	E2 000 C V		
	Device Occurs Inc.	52.000 C.Y.	<b>#F0.7000</b>	<b>CO 740 40</b>
	Rogers Group, Inc.		\$52.7000 \$44.74.00	\$2,740.40
	Twin K Construction, Inc.		\$11.7100 \$11.0000	\$608.92 \$572.00
	Morgan Contracting, Inc.		\$11.0000	<b>Φ372.00</b>
200 09 07	BOCK CHECK DVW			
209-06.07	ROCK CHECK DAM	0.000 54.011		
		2.000 EACH	<b>4750.000</b>	<b>44</b> 505 04
	Rogers Group, Inc.		\$752.8200	\$1,505.64
	Twin K Construction, Inc.		\$848.6100	\$1,697.22
	Morgan Contracting, Inc.		\$813.0000	\$1,626.00
200 00 00	ENHANCED ROCK CHECK DAM			
209-08.08	ENHANCED ROCK CHECK DAM			
		2.000 EACH		
	Rogers Group, Inc.		\$1,026.6700	\$2,053.34
	Twin K Construction, Inc.		\$1,060.7600	\$2,121.52
	Morgan Contracting, Inc.		\$1,016.0000	\$2,032.00
202.24	MINERAL ACCRECATE TYPE A DAGE ODADING D			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,370.000 TON		
	Rogers Group, Inc.		\$41.1500	\$56,375.50
	Twin K Construction, Inc.		\$44.1900	\$60,540.30
	Morgan Contracting, Inc.		\$40.4300	\$55,389.10

		UNIT PRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)		
	10.000 TON		
	Rogers Group, Inc.	\$82.3400	\$823.40
	Twin K Construction, Inc.	\$38.9400	\$389.40
	Morgan Contracting, Inc.	\$38.7200	\$387.20
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
	167.000 TON		
	Rogers Group, Inc.	\$115.5000	\$19,288.50
	Twin K Construction, Inc.	\$122.5200	\$20,460.84
	Morgan Contracting, Inc.	\$170.0000	\$28,390.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	1,139.000 TON		
	Rogers Group, Inc.	\$108.8200	\$123,945.98
	Twin K Construction, Inc.	\$115.4300	\$131,474.77
	Morgan Contracting, Inc.	\$110.0000	\$125,290.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
	2.000 TON		
	Rogers Group, Inc.	\$1,249.2800	\$2,498.56
	Twin K Construction, Inc.	\$1,325.2100	\$2,650.42
	Morgan Contracting, Inc.	\$914.0000	\$1,828.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	8.000 TON		
	Rogers Group, Inc.	\$847.9100	\$6,783.28
	Twin K Construction, Inc.	\$899.4400	\$7,195.52
	Morgan Contracting, Inc.	\$914.0000	\$7,312.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER		
	211.000 TON		
	Rogers Group, Inc.	\$124.3300	\$26,233.63
	Twin K Construction, Inc.	\$131.8900	\$27,828.79
	Morgan Contracting, Inc.	\$144.0000	\$30,384.00
411-01.10	ACS MIX(PG64-22) GRADING D		
	484.000 TON		
	Rogers Group, Inc.	\$129.0800	\$62,474.72
	Twin K Construction, Inc.	\$136.9200	\$66,269.28
	Morgan Contracting, Inc.	\$155.0000	\$75,020.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT		
	1,314.000 S.Y.		
	Rogers Group, Inc.	\$7.1300	\$9,368.82
	Twin K Construction, Inc.	\$7.5600	\$9,933.84
	Morgan Contracting, Inc.	\$9.0000	\$11,826.00

				CONTRACT CNV065
			UNIT PRICE	EXTENSION
607.05.02.24	" CONCRETE DIDE CHI VEDT (CLASS III)			
607-05.02 24	" CONCRETE PIPE CULVERT (CLASS III)	90.000 L.F.		
Do	agara Craun Ina	90.000 L.F.	¢00 1700	\$7,215.30
	ogers Group, Inc. vin K Construction, Inc.		\$80.1700 \$104.8600	\$7,215.30 \$9,437.40
	organ Contracting, Inc.		\$73.0000	\$6,570.00
	organ Commoning, mo		ψ. σ.σσσσ	ψο,σ. σ.σσ
611-07.57 24	IN ENDWALL (CROSS DRAIN) 3:1			
		1.000 EACH		
Ro	ogers Group, Inc.		\$3,249.9600	\$3,249.96
	vin K Construction, Inc.		\$3,670.1500	\$3,670.15
Mo	organ Contracting, Inc.		\$3,100.0000	\$3,100.00
611-07.58 24	IN ENDWALL (CROSS DRAIN) 4:1			
		1.000 EACH		
	ogers Group, Inc.		\$3,764.0200	\$3,764.02
Tw	vin K Construction, Inc.		\$3,751.4700	\$3,751.47
Mo	organ Contracting, Inc.		\$3,850.0000	\$3,850.00
705-06.01 W	BEAM GR (TYPE 2) MASH TL-3			
		355.000 L.F.		
	ogers Group, Inc.		\$27.1000	\$9,620.50
	vin K Construction, Inc.		\$31.8200	\$11,296.10
Mo	organ Contracting, Inc.		\$22.0000	\$7,810.00
70E 06 11 CE	R TERMINAL (IN-INLINE) MASH TL-3			
705-06.11 Gr	R TERMINAL (IN-INCINE) MASH TL-3	0.000 54.011		
_		2.000 EACH	<b>4</b>	<b></b>
	ogers Group, Inc.		\$720.5800	\$1,441.16
	vin K Construction, Inc.		\$928.1800	\$1,856.36
IVIC	organ Contracting, Inc.		\$1,026.0000	\$2,052.00
705-06.20 TA	ANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
Po	ogore Group, Inc	2.000 EACH	\$3,455.0900	\$6,910.18
	ogers Group, Inc. vin K Construction, Inc.		\$3,455.0900 \$4,349.1800	\$8,698.36
	organ Contracting, Inc.		\$2,850.0000	\$5,700.00
IVIC	organ Contracting, inc.		φ2,830.0000	φ3,700.00
708-02.01 MA	ARKERS (CONCRETE R.O.W. POSTS)			
	,	4.000 EACH		
Ro	ogers Group, Inc.		\$473.9500	\$1,895.80
	vin K Construction, Inc.		\$353.5000	\$1,414.00
	organ Contracting, Inc.		\$279.0000	\$1,116.00
	<i>5.</i>			. ,

200.000 TON

709-05.05 MACHINED RIP-RAP (CLASS A-3)

Twin K Construction, Inc. Morgan Contracting, Inc.

Rogers Group, Inc.

\$40.9900

\$61.3800

\$40.0000

\$8,198.00

\$12,276.00

\$8,000.00

				CONTRACT CNV065
			UNIT PRICE	EXTENSION
709-05.06	6 MACHINED RIP-RAP (CLASS A-1)	46.000 TON		
	Rogers Group, Inc.	40.000 TON	\$42.2100	\$1,941.66
	Twin K Construction, Inc.		\$61.3800	\$2,823.48
	Morgan Contracting, Inc.		\$40.0000	\$1,840.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		727.000 TON		
	Rogers Group, Inc.		\$47.4500	\$34,496.15
	Twin K Construction, Inc.		\$47.5900	\$34,597.93
	Morgan Contracting, Inc.		\$44.5000	\$32,351.50
709-05.10	MACHINED RIP-RAP (GROUTED)			
		109.000 C.Y.		
	Rogers Group, Inc.		\$356.7000	\$38,880.30
	Twin K Construction, Inc.		\$295.4600	\$32,205.14
	Morgan Contracting, Inc.		\$426.0000	\$46,434.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$28,680.4200	\$28,680.42
	Twin K Construction, Inc.		\$36,394.3300	\$36,394.33
	Morgan Contracting, Inc.		\$16,104.0000	\$16,104.00
712-04.01	1 FLEXIBLE DRUMS (CHANNELIZING)			
		200.000 EACH		
	Rogers Group, Inc.		\$44.3800	\$8,876.00
	Twin K Construction, Inc.		\$41.2400	\$8,248.00
	Morgan Contracting, Inc.		\$26.0000	\$5,200.00
712-06	SIGNS (CONSTRUCTION)			
		670.000 S.F.		
	Rogers Group, Inc.		\$8.7500	\$5,862.50
	Twin K Construction, Inc.		\$7.4300	\$4,978.10
	Morgan Contracting, Inc.		\$9.0000	\$6,030.00
712-09.09	REMOVABLE PAVEMENT MARKING (4" line)			
		11,209.000 L.F.		
	Rogers Group, Inc.		\$2.7700	\$31,048.93
	Twin K Construction, Inc.		\$2.3900	\$26,789.51
	Morgan Contracting, Inc.		\$2.5400	\$28,470.86
712-09.30	REMOVABLE BLACK-OUT TAPE (6")			
		11,209.000 L.F.		
	D 0 1		Φ0.4500	A00 074 0F

Rogers Group, Inc.

Twin K Construction, Inc.

Morgan Contracting, Inc.

\$38,671.05

\$33,290.73

\$31,833.56

\$3.4500

\$2.9700

\$2.8400

	UNIT PRICE	EXTENSION
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST		
	000 LB.	
Rogers Group, Inc.	\$6.2500	\$3,350.00
Twin K Construction, Inc.	\$5.3000	\$2,840.80
Morgan Contracting, Inc.	\$4.0000	\$2,144.00
TAG AG GO EL AT QUEET AL UMINUM GIGNG (G GGGII TURGI)		
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)		
	000 S.F.	
Rogers Group, Inc.	\$16.2500	\$991.25
Twin K Construction, Inc.	\$13.7900	\$841.19
Morgan Contracting, Inc.	\$13.0000	\$793.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)		
	000 S.F.	
Rogers Group, Inc.	\$18.1300	\$362.60
Twin K Construction, Inc.	\$15.3800	\$307.60
Morgan Contracting, Inc.	\$14.0000	\$280.00
morgan contracting, mor	<b>\$1.10000</b>	Ψ200.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS		
1.	000 LS	
Rogers Group, Inc.	\$625.0800	\$625.08
Twin K Construction, Inc.	\$530.3900	\$530.39
Morgan Contracting, Inc.	\$508.0000	\$508.00
716-01.05 TEMPORARY RAISED PAVEMENT MARKER		
	000 EACH	
	\$12.3200	<b>\$616.00</b>
Rogers Group, Inc. Twin K Construction, Inc.	\$12.3200 \$10.6100	\$616.00 \$530.50
Morgan Contracting, Inc.	\$10.1600 \$10.1600	\$508.00
Morgan Contracting, Inc.	\$10.1000	ф306.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
5.	000 EACH	
Rogers Group, Inc.	\$61.5900	\$307.95
Twin K Construction, Inc.	\$53.0400	\$265.20
Morgan Contracting, Inc.	\$50.8000	\$254.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
	000 S.Y.	
Rogers Group, Inc.	\$25.8700	\$2,121.34
Twin K Construction, Inc.	\$22.2800	\$1,826.96
Morgan Contracting, Inc.	\$21.3300	\$1,749.06
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	000 L.F.	
Rogers Group, Inc.	\$18.4800	\$462.00
Twin K Construction, Inc.	\$15.9100	\$397.75
Morgan Contracting, Inc.	\$15.2400	\$381.00
	Ţ.J. <u>_</u> 100	<b>45550</b>

			-	
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	6.000 EACH		
	Rogers Group, Inc.	0.000 EAGI1	\$215.5600	\$1,293.36
	Twin K Construction, Inc.		\$185.6400	\$1,113.84
	Morgan Contracting, Inc.		\$177.7900	\$1,066.74
	worgan contracting, inc.		Ψ177.7900	\$1,000.74
716 05 01	DAINTED DAVEMENT MADVING (4" I INE)			
710-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		2.200 L.M.		
	Rogers Group, Inc.		\$1,200.9700	\$2,642.13
	Twin K Construction, Inc.		\$1,034.2600	\$2,275.37
	Morgan Contracting, Inc.		\$990.5300	\$2,179.17
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE	<b>(i)</b>		
		1.800 L.M.		
	Rogers Group, Inc.		\$7,082.6300	\$12,748.73
	Twin K Construction, Inc.		\$6,099.4600	\$10,979.03
	Morgan Contracting, Inc.		\$5,841.6100	\$10,514.90
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOT	TED LINE)		
		246,000 L.F.		
	Rogers Group, Inc.	240.000 2.11 .	\$2.1600	\$531.36
	Twin K Construction, Inc.		\$1.8600	\$457.56
	Morgan Contracting, Inc.		\$1.7800	\$437.88
	morgan contracting, mor		ψσσσ	Ψ107.00
717-01	MOBILIZATION			
		4 000 1 5		
	Danier Originalis	1.000 LS	<b>#00 400 5000</b>	<b>\$00.400.50</b>
	Rogers Group, Inc.		\$29,499.5800	\$29,499.58
	Twin K Construction, Inc.		\$114,096.5800	\$114,096.58
	Morgan Contracting, Inc.		\$35,000.0000	\$35,000.00
740 40 00	OFOTEVER F (TVDF III)/FDOOLON CONTROL			
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		452.000 S.Y.		
	Rogers Group, Inc.		\$4.4300	\$2,002.36
	Twin K Construction, Inc.		\$3.4800	\$1,572.96
	Morgan Contracting, Inc.		\$4.0000	\$1,808.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		563.000 S.Y.		
	Rogers Group, Inc.		\$3.2900	\$1,852.27
	Twin K Construction, Inc.		\$3.6300	\$2,043.69
	Morgan Contracting, Inc.		\$4.0000	\$2,252.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		32.000 UNIT		
	Rogers Group, Inc.	32.000 3	\$50.0100	\$1,600.32
	Twin K Construction, Inc.		\$42.4300	\$1,357.76
	Morgan Contracting, Inc.		\$41.0000	\$1,312.00
			ψ.1.10000	Ψ1,012.00

				CONTRACT CNV065
				CONTRACT CHV005
			UNIT PRICE	EXTENSION
801-02	SEEDING (WITHOUT MULCH)			
		37.000 UNIT		
	Rogers Group, Inc.		\$35.0100	\$1,295.37
	Twin K Construction, Inc.		\$29.7000	\$1,098.90
	Morgan Contracting, Inc.		\$28.0000	\$1,036.00
801-03	WATER (SEEDING & SODDING)			
001-03	WATER (OLLDING & GODDING)	40 000 M C		
		10.000 M.G.	<b>^</b>	<b>*</b>
	Rogers Group, Inc.		\$93.7700	\$937.70
	Twin K Construction, Inc.		\$79.5600	\$795.60
	Morgan Contracting, Inc.		\$76.0000	\$760.00
803-01	SODDING (NEW SOD)			
		2,651.000 S.Y.		
	Rogers Group, Inc.		\$5.9400	\$15,746.94
	Twin K Construction, Inc.		\$5.0400	\$13,361.04
	Morgan Contracting, Inc.		\$5.0000	\$13,255.00
805-12.02	2 EROSION CONTROL BLANKET (TYPE II)			
		3,910.000 S.Y.		

Rogers Group, Inc.

Twin K Construction, Inc.

Morgan Contracting, Inc.

\$4,887.50

\$4,144.60

\$3,910.00

\$1.2500

\$1.0600 \$1.0000

## **SUB-TOTAL ROADWAY**

Rogers Group, Inc.	\$1,022,137.65
Twin K Construction, Inc.	\$1,107,895.67
Morgan Contracting, Inc.	\$1,331,067.29

# **TOTAL CONTRACT**

Rogers Group, Inc.	\$1,022,137.65
Twin K Construction, Inc.	\$1,107,895.67
Morgan Contracting, Inc.	\$1,331,067.29

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### MONROE COUNTY (Contract No. CNV180 Call 052)

62014-4225-04

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON S.R. 322 FROM NEAR U.S. 11 (S.R. 2) (L.M. 3.10) TO NEAR SWEETWATER-VONORE ROAD (L.M. 6.40).

PROJECT LENGTH - 3.300 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

TOTAL CONTRACT

Rogers Group, Inc.

\$714,532.20

Duracap Asphalt Paving Co., Inc.

\$755,284.58

CONTRACT C	N١	/1	80
------------	----	----	----

				CONTRACT	CNV180
			UNIT PRICE	EX	TENSION
ROADWA	Y CATEGORY				
208-01.05	BROOMING & DEGRASSING SHOULDERS				
		6.600 L.M.			
	Rogers Group, Inc.		\$1,650.0000		0,890.00
	Duracap Asphalt Paving Co., Inc.		\$1,180.0000	\$	7,788.00
207-01 15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS				
307-01.13	AGC MIX (1 GO4-22) (DI MEG-11M) GIADING GG	454.000 TON			
	Rogers Group, Inc.	404.000 TON	\$115.0000	\$5	2,210.00
	Duracap Asphalt Paving Co., Inc.		\$111.8100		0,761.74
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)				
		52.000 TON	_		
	Rogers Group, Inc.		\$800.0000		1,600.00
	Duracap Asphalt Paving Co., Inc.		\$1,200.0000	фО	2,400.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIE	OTH)			
	, , , , , , , , , , , , , , , , , , , ,	5.300 L.M.			
	Rogers Group, Inc.		\$365.0000	\$	1,934.50
	Duracap Asphalt Paving Co., Inc.		\$900.0000	\$	4,770.00
445.04.00	COLD DI ANIMO DITUMINOLIO DAVIMENT				
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	400 000 O V			
	Rogers Group, Inc.	128.000 S.Y.	\$65.0000	¢	8,320.00
	Duracap Asphalt Paving Co., Inc.		\$67.5000		8,640.00
712-01	TRAFFIC CONTROL				
		1.000 LS			
	Rogers Group, Inc.		\$40,250.0000		0,250.00
	Duracap Asphalt Paving Co., Inc.		\$52,500.0000	Çφ	2,500.00
712-06	SIGNS (CONSTRUCTION)				
	,	435.000 S.F.			
	Rogers Group, Inc.		\$7.5000	\$	3,262.50
	Duracap Asphalt Paving Co., Inc.		\$7.1500	\$	3,110.25
740 04 04	CNOWN OWAR E DAIGED DAVEMENT MADIVEDS (DI DID) (4.4	201.02)			
/16-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	,			
	Rogers Group, Inc.	451.000 EACH	\$25.5000	<b>\$1</b>	1,500.50
	Duracap Asphalt Paving Co., Inc.		\$26.5000		1,951.50
				·	·
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(	1 COLOR)			
		161.000 EACH			
	Rogers Group, Inc.		\$25.5000		4,105.50
	Duracap Asphalt Paving Co., Inc.		\$26.4500	\$	4,258.45
716-01-30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER				
. 10 01.00		612.000 EACH			
	Rogers Group, Inc.	0.2.000 Entitl	\$6.3500	\$	3,886.20
	Duracap Asphalt Paving Co., Inc.		\$7.0000		4,284.00
				F	PAGE

				CONTRACT CNV180
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		85.000 S.Y.		
	Rogers Group, Inc.		\$21.0000	\$1,785.00
	Duracap Asphalt Paving Co., Inc.		\$22.0000	\$1,870.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		144.000 L.F.		
	Rogers Group, Inc.		\$13.0000	\$1,872.00
	Duracap Asphalt Paving Co., Inc.		\$13.5000	\$1,944.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		11.000 EACH		
	Rogers Group, Inc.		\$160.0000	\$1,760.00
	Duracap Asphalt Paving Co., Inc.		\$165.0000	\$1,815.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		2.000 EACH		
	Rogers Group, Inc.		\$105.0000	\$210.00
	Duracap Asphalt Paving Co., Inc.		\$110.0000	\$220.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		3.000 L.M.		
	Rogers Group, Inc.		\$900.0000	\$2,700.00
	Duracap Asphalt Paving Co., Inc.		\$935.0000	\$2,805.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		13.000 L.M.		
	Rogers Group, Inc.		\$2,750.0000	\$35,750.00
	Duracap Asphalt Paving Co., Inc.		\$2,860.0000	\$37,180.00
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		2,600.000 L.F.		
	Rogers Group, Inc.		\$0.5500	\$1,430.00
	Duracap Asphalt Paving Co., Inc.		\$1.5000	\$3,900.00
717-01	MOBILIZATION			
		1.000 LS		

Rogers Group, Inc. Duracap Asphalt Paving Co., Inc. \$78,375.00

\$55,000.00

\$78,375.0000

\$55,000.0000

		CONTRACT CNV180
	UNIT PRIC	E EXTENSION
BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
	104.000 L.F.	
Rogers Group, Inc.	\$450.000	90 \$46,800.00
Duracap Asphalt Paving Co., Inc.	\$385.000	90 \$40,040.00
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
( )	5.000 S.Y.	
Degrara Craum Inc		no \$2.405.00
Rogers Group, Inc. Duracap Asphalt Paving Co., Inc.	\$425.000 \$660.000	• •
Duracap Asprian Faving Co., Inc.	\$000.000	φ3,300.00
604-10.53 CONCRETE REPAIRS		
	10.000 S.Y.	
Rogers Group, Inc.	\$215.000	0 \$2,150.00
Duracap Asphalt Paving Co., Inc.	\$935.000	9,350.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)		

Rogers Group, Inc.

Duracap Asphalt Paving Co., Inc.

2,148.000 S.Y.

\$52.0000

\$57.0000

\$111,696.00

\$122,436.00

UNIT PRICE EXTENSION

## **ROADWAY ALTERNATE AA1 CATEGORY**

# 411-03.07 ACS MIX(PG64-22) THIN LIFT ASPHALT

2,272.000 TON

Rogers Group, Inc.
Duracap Asphalt Paving Co., Inc.

**CONTRACT CNV180** 

UNIT PRICE EXTENSION

## **ROADWAY ALTERNATE AA2 CATEGORY**

411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT

2,272.000 TON

 Rogers Group, Inc.
 \$110.0000
 \$249,920.00

 Duracap Asphalt Paving Co., Inc.
 \$116.6200
 \$264,960.64

# **SUB-TOTAL ROADWAY**

Rogers Group, Inc.	\$301,841.20
Duracap Asphalt Paving Co., Inc.	\$315,197.94

#### **SUB-TOTAL BRIDGE**

Rogers Group, Inc.	\$162,771.00
Duracap Asphalt Paving Co., Inc.	\$175,126.00

# **SUB-TOTAL ROADWAY ALTERNATE AA1**

# **SUB-TOTAL ROADWAY ALTERNATE AA2**

Rogers Group, Inc.	\$249,920.00
Duracap Asphalt Paving Co., Inc.	\$264,960.64

## **TOTAL CONTRACT**

Rogers Group, Inc.	\$714,532.20
Duracap Asphalt Paving Co., Inc.	\$755.284.58

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### MONTGOMERY COUNTY (Contract No. CNV201 Call 053)

STP-233(8),63055-4217-04,63055-8217-14,STP-233(9),63055-8218-14

THE RESURFACING ON S.R. 233 FROM THE STEWART COUNTY LINE (L.M. 0.00) TO U.S. 79 (S.R. 76) (L.M. 9.03), INCLUDING BRIDGE REPAIR.

PROJECT LENGTH - 9.030 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 5.50%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC

\$1,082,656.50

\$1,171,159.60

ROADW <i>A</i>	Y CATEGORY		UNIT PRICE	CONTRACT CNV201 EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		18.210 L.M.		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$750.0000 \$900.0000	\$13,657.50 \$16,389.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,793.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$23.0000 \$25.0000	\$41,239.00 \$44,825.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$79.0000 \$87.0000	\$39,500.00 \$43,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	63.000 TON		
	Eubank Asphalt Paving & Sealing	03.000 TON	\$475.0000	\$29,925.00
	Vulcan Construction Materials, LLC		\$675.0000	\$42,525.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	5	6,044.000 TON	<b>#00 5000</b>	<b>#</b> 400 <b>F</b> 40 00
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$80.5000 \$87.0000	\$486,542.00 \$525,828.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS	) (4IN WIDTH)		
		18.200 L.M.		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$500.0000 \$300.0000	\$9,100.00 \$5,460.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		5,600.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$15.0000 \$18.0000	\$84,000.00 \$100,800.00
712-01	TRAFFIC CONTROL			
	Fuhank Asphalt Daving & Cooling	1.000 LS	\$24 E00 0000	¢24 500 00
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$21,500.0000 \$36,300.0000	\$21,500.00 \$36,300.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Fuhank Apphalt Daving 9 Scaling	50.000 EACH	<b>ድ</b>	<b>\$</b> 050.00
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$5.0000 \$17.0000	\$250.00 \$850.00
712-06	SIGNS (CONSTRUCTION)			

2,032.000 S.F.

Eubank Asphalt Paving & Sealing

Vulcan Construction Materials, LLC

\$14,224.00

\$19,304.00

\$7.0000

\$9.5000

		CONTRACT CNV201
	UNIT PRICE	EXTENSION
712-08.03 ARROW BOARD (TYPE C)		
` ,	2.000 EACH	
Eubank Asphalt Paving & Sealing	\$250.0000	\$500.00
Vulcan Construction Materials, LLC	\$900.0000	\$1,800.00
713-16.20 SIGNS (30" X 30" STOP AHEAD; MUTCD W3-1)		
	1.000 EACH	
Eubank Asphalt Paving & Sealing	\$350.0000	\$350.00
Vulcan Construction Materials, LLC	\$195.0000	\$195.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLO	PR)	
	596.000 EACH	
Eubank Asphalt Paving & Sealing	\$26.0000	\$15,496.00
Vulcan Construction Materials, LLC	\$28.0000	\$16,688.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	596.000 EACH	
Eubank Asphalt Paving & Sealing	\$7.0000	\$4,172.00
Vulcan Construction Materials, LLC	\$10.0000	\$5,960.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	228.000 L.F.	
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$12.0000 \$15.0000	\$2,736.00 \$3,420.00
Vulcan Construction Materials, LLC	φ10.0000	ψ3,420.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	2.000 EACH	
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$150.0000 \$200.0000	\$300.00 \$400.00
vulcan construction materials, LEC	Ψ200.0000	ψ+00.00
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)		
	0.030 L.M.	****
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$7,500.0000 \$21,120.0000	\$225.00 \$633.60
vuican construction materials, LLC	Ψ21,120.0000	ψ055.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
	330.000 L.F.	******
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$9.0000 \$5.0000	\$2,970.00 \$1,650.00
vulcan construction materials, LEC	ψ5.5000	ψ1,000.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	40.300 L.M.	404.6== 55
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$850.0000 \$1,000.0000	\$34,255.00 \$40,300.00
valoan Constitution Materials, LEC	ψ1,000.0000	ψ <del>τ</del> υ,ουυ.υυ

40.300 L.M.

716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)

Eubank Asphalt Paving & Sealing

Vulcan Construction Materials, LLC

\$191,425.00

\$201,500.00

\$4,750.0000

\$5,000.0000

$\sim \sim 1$		CNIVA	۱4
CON	NTRACT	CINVZ	, ,

UNIT PRICE EXTENSION

## 717-01 MOBILIZATION

1.000 LS

 Eubank Asphalt Paving & Sealing
 \$41,000.000
 \$41,000.000

 Vulcan Construction Materials, LLC
 \$30,000.000
 \$30,000.000

		CONTRACT CNV201
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
	5.000 S.Y.	
Eubank Asphalt Paving & Sealing	\$450.0000	\$2,250.00
Vulcan Construction Materials, LLC	\$1,000.0000	\$5,000.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)		
	392.000 S.Y.	

Eubank Asphalt Paving & Sealing

Vulcan Construction Materials, LLC

\$47,040.00

\$27,832.00

\$120.0000

\$71.0000

# **SUB-TOTAL ROADWAY**

Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$1,033,366.50 \$1,138,327.60
SUB-TOTAL BRIDGE	
Eubank Asphalt Paving & Sealing	\$49,290.00
Vulcan Construction Materials, LLC	\$32,832.00
TOTAL CONTRACT	
Eubank Asphalt Paving & Sealing	\$1,082,656.50
Vulcan Construction Materials, LLC	\$1,171,159.60

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### MORGAN COUNTY (Contract No. CNV179 Call 054)

65008-4236-04,NH/HSIP-29(117),65001-3272-94,65001-8272-14

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON U.S. 27 (S.R. 29) FROM NEAR VANDERPOOL ROAD TO NEAR THE SCOTT COUNTY LINE AND ON S.R. 62 FROM NEAR PETIT LANE TO NEAR S.R. 116.

PROJECT LENGTH - 16.390 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 6.50%

TOTAL CONTRACT

Potter South East LLC

\$1,982,155.65

Rogers Group, Inc.

\$2,137,940.60

				ONTRACT CNV179
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		32.600 L.M.		
	Potter South East LLC Rogers Group, Inc.		\$500.0000 \$1,145.0000	\$16,300.00 \$37,327.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		2,624.000 TON		
	Potter South East LLC Rogers Group, Inc.		\$81.0000 \$89.3500	\$212,544.00 \$234,454.40
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	D. (1) D. (1) D.	246.000 TON	Фо 40, 0000	<b>#457.440.00</b>
	Potter South East LLC Rogers Group, Inc.		\$640.0000 \$600.0000	\$157,440.00 \$147,600.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WI	•		
	Potter South East LLC	4.000 L.M.	\$478.0000	\$1,912.00
	Rogers Group, Inc.		\$374.0000	\$1,496.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)	(8IN WIDTH) 29.800 L.M.		
	Potter South East LLC	29.000 L.W.	\$478.0000	\$14,244.40
	Rogers Group, Inc.		\$374.0000	\$11,145.20
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	1,925.000 S.Y.		
	Potter South East LLC	1,923.000 3.1.	\$6.9000	\$13,282.50
	Rogers Group, Inc.		\$11.6000	\$22,330.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	2 200 54 511		
	Potter South East LLC	2.000 EACH	\$45.0000	\$90.00
	Rogers Group, Inc.		\$150.0000	\$300.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	0.000 54011		
	Potter South East LLC	2.000 EACH	\$1,250.0000	\$2,500.00
	Rogers Group, Inc.		\$1,100.0000	\$2,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	0.000 = 1.011		
	Pottor South Fact II C	2.000 EACH	¢2 755 0000	\$E 540.00
	Potter South East LLC		\$2,755.0000	\$5,510.00

1.000 LS

Rogers Group, Inc.

TRAFFIC CONTROL

Potter South East LLC

Rogers Group, Inc.

712-01

\$19,500.00

\$5,500.00

\$2,750.0000

\$19,500.0000

\$53,783.0000

CONTRACT	CNV179
----------	--------

			CO	NIRACI CNV1/9
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Potter South East LLC		\$5.0000	\$250.00
	Rogers Group, Inc.		\$14.5000	\$725.00
712-05.01	WARNING LIGHTS (TYPE A)			
		25.000 EACH		
	Potter South East LLC		\$5.0000	\$125.00
	Rogers Group, Inc.		\$1.0500	\$26.25
712-06	SIGNS (CONSTRUCTION)			
	control (control control)	1,633.000 S.F.		
	Potter South East LLC	1,033.000 3.1 .	\$5.0000	\$8,165.00
	Rogers Group, Inc.		\$7.0000	\$11,431.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Potter South East LLC		\$500.0000	\$1,000.00
	Rogers Group, Inc.		\$815.0000	\$1,630.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR	) (1 COLOR)		
		1,083.000 EACH		
	Potter South East LLC		\$26.5000	\$28,699.50
	Rogers Group, Inc.		\$24.0000	\$25,992.00
716-01-22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-I	DIR)(1 COLOR)		
710 01.22	ONOW LOWADLE MAIOLD FAVILLY MARKETO (MONO)	88.000 EACH		
	Potter South East LLC	00.000 LACIT	\$26.5000	\$2,332.00
	Rogers Group, Inc.		\$24.0000	\$2,112.00
	3		•	<b>,</b>
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		1,171.000 EACH		
	Potter South East LLC		\$8.2500	\$9,660.75
	Rogers Group, Inc.		\$6.0000	\$7,026.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		591.000 L.F.		
	Potter South East LLC		\$10.2500	\$6,057.75
	Rogers Group, Inc.		\$10.0000	\$5,910.00
716-04 04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDE	R)		
7 10 04.04	LACTO LAVEINENT MARKING (TRANSVERSE STOSESE	8,938.000 L.F.		
	Potter South East LLC	0,330.000 E.I .	\$4.2500	\$37,986.50
	Rogers Group, Inc.		\$4.0000	\$35,752.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)	4		
	D	17.000 L.M.	<b>^</b>	<b></b>
	Potter South East LLC		\$825.0000	\$14,025.00 \$14,450.00
	Rogers Group, Inc.		\$850.0000	\$14,450.00

			(	CONTRACT CNV179
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		11.000 L.M.		
	Potter South East LLC		\$4,650.0000	\$51,150.00
	Rogers Group, Inc.		\$4,300.0000	\$47,300.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		56.000 L.M.		
	Potter South East LLC		\$2,575.0000	\$144,200.00
	Rogers Group, Inc.		\$2,600.0000	\$145,600.00
740 40 05				
/16-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		895.000 L.F.		
	Potter South East LLC		\$0.7500	\$671.25
	Rogers Group, Inc.		\$1.0000	\$895.00
717-01	MOBILIZATION			
		1.000 LS		
	Potter South East LLC		\$52,000.0000	\$52,000.00
			<b>***</b>	007.744.00

Rogers Group, Inc.

\$97,744.00

\$97,744.0000

UNIT PRICE EXTENSION

## **ROADWAY ALTERNATE AA1 CATEGORY**

# 411-03.07 ACS MIX(PG64-22) THIN LIFT ASPHALT

13,139.000 TON

Potter South East LLC Rogers Group, Inc.

**CONTRACT CNV179** 

UNIT PRICE EXTENSION

# **ROADWAY ALTERNATE AA2 CATEGORY**

411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT

13,139.000 TON

 Potter South East LLC
 \$90.0000
 \$1,182,510.00

 Rogers Group, Inc.
 \$93.2500
 \$1,225,211.75

# **SUB-TOTAL ROADWAY**

Potter South East LLC \$799,645.65 Rogers Group, Inc. \$912,728.85

#### **SUB-TOTAL ROADWAY ALTERNATE AA1**

## **SUB-TOTAL ROADWAY ALTERNATE AA2**

 Potter South East LLC
 \$1,182,510.00

 Rogers Group, Inc.
 \$1,225,211.75

#### **TOTAL CONTRACT**

 Potter South East LLC
 \$1,982,155.65

 Rogers Group, Inc.
 \$2,137,940.60

# STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 07, 2021

#### OBION COUNTY (Contract No. CNV183 Call 055)

NH-I-69(100),66269-3117-44,NH-I-69(101),66269-3118-44

THE PAVING ON I-69 PROPOSED FROM U.S. 51 (S.R. 3) TO 0.2 MILES SOUTH OF U.S. 45W (S.R. 5) AND FROM SOUTH OF U.S. 45W (S.R. 5)/S.R. 22 TO WEST OF S.R. 21.

PROJECT LENGTH - 6.420 MILES

COMPLETION TIME - ON OR BEFORE JUNE 15, 2023

DBE GOAL 6.50%

TOTAL CONTRACT

Ford Construction Company

\$31,959,341.07

	117			$\sim$	_
いい	JI I	ΓР	ĸ	к,	_

**EXTENSION** 

ROADWAY CATEGORY		0.0.7.7.002	
105-01 CONSTRUCTION STAKES, LINES AND GRADES			
Ford Construction Company	1.000 LS	\$368,000.0000	\$368,000.00
109-10.01 TRAINEE			
Ford Construction Company	5,240.000 HOUR	\$0.8000	\$4,192.00
203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	o v		
Ford Construction Company	788.000 C.Y.	\$30.0000	\$23,640.00
203-03 BORROW EXCAVATION (UNCLASSIFIED)			
Ford Construction Company	2,000.000 C.Y.	\$18.0000	\$36,000.00
203-07 FURNISHING & SPREADING TOPSOIL			
Ford Construction Company	155.000 C.Y.	\$30.0000	\$4,650.00
204-08.01 BACKFILL MATERIAL (FLOWABLE FILL)			
Ford Construction Company	440.000 C.Y.	\$290.0000	\$127,600.00
207-01.01 SUBGRADE CONSTUCTION AND PREPARATION			
Ford Construction Company	341.000 STA.	\$1,500.0000	\$511,500.00
209-02.04 10" TEMPORARY SLOPE DRAIN			
Ford Construction Company	5,750.000 L.F.	\$8.0000	\$46,000.00
209-05 SEDIMENT REMOVAL	704 000 O V		
Ford Construction Company	701.000 C.Y.	\$20.0000	\$14,020.00
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)			
Ford Construction Company	4,240.000 L.F.	\$5.2500	\$22,260.00
209-08.03 TEMPORARY SILT FENCE (WITHOUT BACKING)			
Ford Construction Company	600.000 L.F.	\$3.1500	\$1,890.00
209-08.08 ENHANCED ROCK CHECK DAM			
Ford Construction Company	1.000 EACH	\$800.0000	\$800.00

			UNIT PRICE	CONTRACT CNV183 EXTENSION
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
	Ford Construction Company	2.000 EACH	\$600.0000	\$1,200.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
	Ford Construction Company	43.000 EACH	\$370.0000	\$15,910.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Ford Construction Company	357.000 TON	\$50.0000	\$17,850.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Ford Construction Company	22.400 L.M.	\$525.0000	\$11,760.00
502-07	SPALL REPAIR			
	Ford Construction Company	5.000 S.Y.	\$1,500.0000	\$7,500.00
705-01.04	METAL BEAM GUARD FENCE			
	Ford Construction Company	125.000 L.F.	\$68.2500	\$8,531.25
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Ford Construction Company	41.000 EACH	\$1,400.0000	\$57,400.00
705-06.01	W BEAM GR (TYPE 2) MASH TL-3	00 400 000 L E		
	Ford Construction Company	22,400.000 L.F.	\$27.3000	\$611,520.00
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL-3			
	Ford Construction Company	38.000 EACH	\$1,365.0000	\$51,870.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Ford Construction Company	54.000 EACH	\$2,730.0000	\$147,420.00
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	Ford Construction Company	25.000 EACH	\$2,257.5000	\$56,437.50
707-03.01	STOCK FENCE	<b>700</b> 000 1 <b>7</b>		
	Ford Construction Company	700.000 L.F.	\$10.5000	\$7,350.00

			UNIT PRICE	CONTRACT CNV183 EXTENSION
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Ford Construction Company	4,960.000 L.F.	\$3.1500	\$15,624.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Ford Construction Company	170.000 TON	\$45.0000	\$7,650.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Ford Construction Company	1,044.000 TON	\$49.0000	\$51,156.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
	Ford Construction Company	58,255.000 L.F.	\$7.3500	\$428,174.25
710-05	LATERAL UNDERDRAIN			
	Ford Construction Company	7,518.000 L.F.	\$5.2500	\$39,469.50
710-06.12	LATERAL UNDERDRAIN ENDWALL (3:1)			
	Ford Construction Company	14.000 EACH	\$892.5000	\$12,495.00
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)			
	Ford Construction Company	112.000 EACH	\$892.5000	\$99,960.00
710-06.15	LATERAL UNDERDRAIN ENDWALL (6:1)			
	Ford Construction Company	126.000 EACH	\$892.5000	\$112,455.00
711-05.71	51IN SINGLE SLOPE CONCRETE BARRIER WALL			
	Ford Construction Company	196.000 L.F.	\$115.5000	\$22,638.00
712-01	TRAFFIC CONTROL			
	Ford Construction Company	1.000 LS	\$40,000.0000	\$40,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Ford Construction Company	84.000 EACH	\$31.5000	\$2,646.00
712-06	SIGNS (CONSTRUCTION)			
	Ford Construction Company	498.000 S.F.	\$7.1900	\$3,580.62

		UNIT PRICE	CONTRACT CNV183 EXTENSION	
712-07.03 TEMPORARY BARRICADES (TYPE III)				
Ford Construction Company	48.000 L.F.	\$11.5500	\$554.40	
713-01.01 CLASS A CONCRETE (FOUNDATION FOR SIGN SUPP				
Ford Construction Company	63.000 C.Y.	\$603.7500	\$38,036.25	
713-01.02 STEEL BAR REINFORCEMENT(FOUNDATION FOR SIG				
Ford Construction Company	16,738.000 LB.	\$4.1500	\$69,462.70	
713-02.04 DELINEATOR (MILE MARKER) & STEEL POST				
Ford Construction Company	12.000 EACH	\$215.2500	\$2,583.00	
713-02.14 FLEXIBLE DELINEATOR (WHITE)				
Ford Construction Company	415.000 EACH	\$32.5500	\$13,508.25	
713-02.15 FLEXIBLE DELINEATOR (YELLOW)				
Ford Construction Company	94.000 EACH	\$32.5500	\$3,059.70	
713-06 STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN S				
Ford Construction Company	42,575.000 LB.	\$4.4600	\$189,884.50	
713-09.01 STEEL OVERHEAD SIGN STRUCTURE (SPAN 78 FT)				
Ford Construction Company	5.000 EACH	\$72,802.5900	\$364,012.95	
713-09.02 STEEL OVERHEAD SIGN STRUCTURE (SPAN 82 FT)				
Ford Construction Company	1.000 EACH	\$72,623.2800	\$72,623.28	
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST				
Ford Construction Company	8,147.000 LB.	\$3.8300	\$31,203.01	
713-11.04 SURFACE MNT BREAKAWAY BASE FOR SIGN POST				
Ford Construction Company	8.000 EACH	\$420.0000	\$3,360.00	
713-11.05 SQUARE TUBE SIGN SUPPORT				
Ford Construction Company	1,459.000 LB.	\$4.1000	\$5,981.90	

		(	CONTRACT CNV183
		UNIT PRICE	EXTENSION
713-11.21 P POST SLIP BASE			
Ford Construction Company	43.000 EACH	\$393.7500	\$16,931.25
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
Ford Construction Company	842.000 S.F.	\$13.4900	\$11,358.58
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
Ford Construction Company	2,154.000 S.F.	\$14.6500	\$31,556.10
713-14 EXTRUDED ALUMINUM PANEL SIGNS			
Ford Construction Company	5,883.000 S.F.	\$22.5800	\$132,838.14
713-17.02 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
Ford Construction Company	19.000 EACH	\$89.2500	\$1,695.75
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1			
Ford Construction Company	9.000 EACH	\$42.0000	\$378.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR			
Ford Construction Company	18.000 EACH	\$42.0000	\$756.00
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2			
Ford Construction Company	1,441.000 EACH	\$42.0000	\$60,522.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
Ford Construction Company	18.000 EACH	\$12.8100	\$230.58
716-02.04 PLASTIC PAVEMENT MARKING (CHANNELIZATION STRIPING	i)		
Ford Construction Company	180.000 S.Y.	\$30.4500	\$5,481.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Ford Construction Company	144.000 L.F.	\$21.0000	\$3,024.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Ford Construction Company	18.000 EACH	\$220.5000	\$3,969.00

		ICF	

			UNIT PRICE	EXTENSION
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)	0.040.0001.5		
	Ford Construction Company	2,619.000 L.F.	\$18.9000	\$49,499.10
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)	0.330 L.M.		
	Ford Construction Company	0.330 L.M.	\$19,404.0000	\$6,403.32
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)	1.000 EACH		
	Ford Construction Company		\$262.5000	\$262.50
716-03.09	PLASTIC WORD PAVEMENT MARKING (EXIT)	1.000 EACH		
	Ford Construction Company		\$315.0000	\$315.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)	615.000 L.F.		
	Ford Construction Company		\$10.5000	\$6,457.50
716-04.06	PLASTIC PAVEMENT MARKING (WRONG WAY ARROW)	7.000 EACH		
	Ford Construction Company		\$367.5000	\$2,572.50
716-04.07	PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)	6.000 EACH		
	Ford Construction Company		\$315.0000	\$1,890.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)	151.000 S.F.		
	Ford Construction Company		\$26.2500	\$3,963.75
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)	18.000 EACH		
	Ford Construction Company		\$315.0000	\$5,670.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)	12,370.000 L.F.		
	Ford Construction Company		\$1.0300	\$12,741.10
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)	10.000 EACH		
	Ford Construction Company		\$157.5000	\$1,575.00
716-10.50	PREFORMED PLASTIC PAVEMENT MARKING (INTERSTATE S	HIELD) 1.000 EACH		
	Ford Construction Company		\$3,150.0000	\$3,150.00

			Co	ONTRACT CNV183
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN	LINE)		
	Ford Construction Company	37.500 L.M.	\$6,510.0000	\$244,125.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN	BARRIER LINE)		
	Ford Construction Company	10,018.000 L.F.	\$3.4100	\$34,161.38
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN			
	Ford Construction Company	2,713.000 L.F.	\$3.1500	\$8,545.95
716-12.09	ENHANCED FLAT LINE THERMO (12IN LINE)			
	Ford Construction Company	3,893.000 L.F.	\$10.5000	\$40,876.50
716-12.10	ENHANCED FLAT LINE THERMO (12IN DOTTED)			
	Ford Construction Company	1,126.000 L.F.	\$10.5000	\$11,823.00
717-01	MOBILIZATION			
	Ford Construction Company	1.000 LS	\$1,480,000.0000	\$1,480,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Ford Construction Company	461.000 S.Y.	\$3.0000	\$1,383.00
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
	Ford Construction Company	52,720.000 L.F.	\$3.0000	\$158,160.00
740-11.04	TEMPORARY SEDIMENT TUBE 20IN			
	Ford Construction Company	54,304.000 L.F.	\$3.0000	\$162,912.00
801-03	WATER (SEEDING & SODDING)			
	Ford Construction Company	27.450 M.G.	\$1.0000	\$27.45
803-01	SODDING (NEW SOD)			
	Ford Construction Company	2,695.000 S.Y.	\$4.0000	\$10,780.00
806-02.03	PROJECT MOWING			
	Ford Construction Company	6.000 CYCL	\$10,500.0000	\$63,000.00

**CONTRACT CNV183** 

UNIT PRICE EXTENSION

604-03.07 CLASS A CONCRETE (FOOTING FOR 711-05.71)

20.000 C.Y.

Ford Construction Company \$1,050.0000 \$21,000.00

\$53,772.00

\$9,450.00

\$6.0000

\$3.5000

		UNIT PRICE	CONTRACT CNV183  EXTENSION
BRIDGE CATEGORY		UNIT FRICE	EXTENSION
202-04.21 REMOVAL OF STRUCTURES (PAVEMENT AT BRIDGE ENDS)			
Ford Construction Company	1.000 LS	\$160,000.0000	\$160,000.00
604-03.04 PAVEMENT @ BRIDGE ENDS	1,444.000 S.Y.		
Ford Construction Company	1,444.000 3.11	\$315.0000	\$454,860.00
604-10.07 CONCRETE REMOVAL	1.000 LS		
Ford Construction Company		\$36,000.0000	\$36,000.00
620-03 CONCRETE PARAPET (WING POST MODIFICATION)	105.000 L.F.		
Ford Construction Company		\$356.0000	\$37,380.00
740-07.04 GEOGRID REINFORCEMENT TYPE 2	8,962.000 S.Y.		

2,700.000 S.Y.

Ford Construction Company

740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)

Ford Construction Company

**EXTENSION** 

#### **ROADWAY ALTERNATE AA1 CATEGORY**

203-06 WATER

5.000 M.G.

Ford Construction Company

303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D

374,638.000 TON

Ford Construction Company

307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2

7,209.000 TON

Ford Construction Company

307-01.22 ASP. CONC. MIX(PG76-22) (BPMB-HM) GR. A-S

31,701.000 TON

Ford Construction Company

307-03.01 ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A

81,015.000 TON

Ford Construction Company

307-03.08 ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-M2

25,617.000 TON

Ford Construction Company

402-01 BITUMINOUS MATERIAL FOR PRIME COAT (PC)

441.000 TON

Ford Construction Company

402-02 AGGREGATE FOR COVER MATERIAL (PC)

1,629.000 TON

Ford Construction Company

403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)

191.000 TON

Ford Construction Company

411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER

3,952.000 TON

Ford Construction Company

411-03.10 ACS MIX(PG76-22) GRADING D

14,650.000 TON

Ford Construction Company

CONTRACT	CNV183
----------	--------

			CC	NTRACT CNV183
ROADW	AY ALTERNATE AA2 CATEGORY		UNIT PRICE	EXTENSION
203-06	WATER			
	Ford Construction Company	991.000 M.G.	\$33.0000	\$32,703.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Ford Construction Company	264,318.000 TON	\$26.0000	\$6,872,268.00
307-01.08	S ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA			
	Ford Construction Company	7,209.000 TON	\$84.3300	\$607,934.97
307-01.22	ASP. CONC. MIX(PG76-22) (BPMB-HM) GR. A-S	04 T04 000 T0N		
	Ford Construction Company	31,701.000 TON	\$87.3100	\$2,767,814.31
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRA			
	Ford Construction Company	81,015.000 TON	\$90.9300	\$7,366,693.95
307-03.08	S ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRA			
	Ford Construction Company	25,617.000 TON	\$87.6900	\$2,246,354.73
309-01.01	MINERAL AGGREGATE (A-CBC)	68,943.000 TON		
	Ford Construction Company	00,943.000 TON	\$22.0000	\$1,516,746.00
309-01.02	PORTLAND CEMENT (A-CBC)	3,360.000 TON		
	Ford Construction Company	3,300.000 TON	\$260.0000	\$873,600.00
309-02	BITUMINOUS MATERIAL (A-CBC)	198.000 TON		
	Ford Construction Company	196.000 TON	\$1,500.0000	\$297,000.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	00 000 TON		
	Ford Construction Company	98.000 TON	\$878.1800	\$86,061.64
402-02	AGGREGATE FOR COVER MATERIAL (PC)	354.000 TON		
	Ford Construction Company	354.000 TON	\$35.0000	\$12,390.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	191.000 TON		
	Ford Construction Company	191.000 1019	\$742.4000	\$141,798.40

				CONTRACT CNV183
			UNIT PRICE	EXTENSION
411-01.07 ACS MIX (PG64	22) GRADING E SHOULDER	3,952.000 TON		
Ford Constructi	on Company	3,932.000 1014	\$102.2800	\$404,210.56
411-03.10 ACS MIX(PG76-	22) GRADING D			
Ford Constructi	on Company	14,650.000 TON	\$109.0000	\$1,596,850.00
Ford Constructi	on Company		\$109.0000	\$1,590,050.00

Ford Construction Company \$6,385,453.51

**SUB-TOTAL BRIDGE** 

Ford Construction Company \$751,462.00

**SUB-TOTAL ROADWAY ALTERNATE AA1** 

**SUB-TOTAL ROADWAY ALTERNATE AA2** 

Ford Construction Company \$24,822,425.56

**TOTAL CONTRACT** 

Ford Construction Company \$31,959,341.07

#### OVERTON COUNTY (Contract No. CNV181 Call 056)

67002-4241-04,NH/HSIP-111(121),67001-3297-94,67001-8297-14

THE RESURFACING ON S.R. 111 FROM SOUTH OF EAST VOLUNTEER DRIVE (L.M. 9.39) TO S.R. 294 (L.M. 13.98) AND ON S.R. 52 FROM NEAR S.R. 111 (L.M. 10.23) TO NORTH OF S.R. 52/S.R. 85 (L.M. 10.96).

PROJECT LENGTH - 5.320 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 7.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$2,236,359.81

			co	NTRACT CNV181
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	B-M2		
	Rogers Group, Inc.	467.000 TON	\$116.9100	\$54,596.97
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	16.000 TON	\$581.1300	\$9,298.08
403-02.01	TRACKLESS TACK COAT			
	Rogers Group, Inc.	76.000 TON	\$675.0500	\$51,303.80
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Rogers Group, Inc.	1,035.000 TON	\$78.7800	\$81,537.30
411-01.10	ACS MIX(PG64-22) GRADING D			
	Rogers Group, Inc.	2,363.000 TON	\$94.3100	\$222,854.53
411-02.10	ACS MIX(PG70-22) GRADING D			
	Rogers Group, Inc.	10,256.000 TON	\$98.2500	\$1,007,652.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Rogers Group, Inc.	0.700 L.M.	\$310.1600	\$217.11
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN			
	Rogers Group, Inc.	6.700 L.M.	\$310.1600	\$2,078.07
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	13,988.000 TON	\$22.1000	\$309,134.80
611-01.20	ADJUSTMENT OF EXISTING MANHOLE			
	Rogers Group, Inc.	4.000 EACH	\$1,654.1700	\$6,616.68
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Rogers Group, Inc.	29.000 EACH	\$1,499.0900	\$43,473.61
701-01.01	CONCRETE SIDEWALK (4 ")			
	Rogers Group, Inc.	86.000 S.F.	\$36.1800	\$3,111.48

			UNIT PRICE	CONTRACT CNV181  EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Rogers Group, Inc.	102.000 S.F.	\$82.7100	\$8,436.42
701-02.06	DETECTABLE WARNING SURFACE (REHABILITATION)			
	Rogers Group, Inc.	54.000 S.F.	\$55.8300	\$3,014.82
702-03	CONCRETE COMBINED CURB & GUTTER			
	Rogers Group, Inc.	3.400 C.Y.	\$982.1600	\$3,339.34
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$88,446.4700	\$88,446.47
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Rogers Group, Inc.	138.000 EACH	\$20.6800	\$2,853.84
712-05.03	WARNING LIGHTS (TYPE C)			
	Rogers Group, Inc.	42.000 EACH	\$20.6800	\$868.56
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	1,718.000 S.F.	\$5.9400	\$10,204.92
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Rogers Group, Inc.	240.000 L.F.	\$20.6800	\$4,963.20
712-08.03	ARROW BOARD (TYPE C)			
	Rogers Group, Inc.	2.000 EACH	\$827.0900	\$1,654.18
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	6.000 EACH	\$4,342.2000	\$26,053.20
713-16.21	SIGNS (SPEED LIMIT 40 MPH (R2-1)			
	Rogers Group, Inc.	1.000 EACH	\$222.2800	\$222.28
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR			
	Rogers Group, Inc.	800.000 EACH	\$25.8500	\$20,680.00

			UNIT PRICE	CONTRACT CNV181 EXTENSION
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	COLOR)		
	Rogers Group, Inc.	550.000 EACH	\$25.8500	\$14,217.50
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Rogers Group, Inc.	1,350.000 EACH	\$6.2000	\$8,370.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING	5)		
	Rogers Group, Inc.	891.000 S.Y.	\$18.6100	\$16,581.51
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	1,341.000 L.F.	\$10.3400	\$13,865.94
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	48.000 EACH	\$155.0800	\$7,443.84
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	Rogers Group, Inc.	25.000 L.F.	\$2.0700	\$51.75
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
	Rogers Group, Inc.	316.000 L.F.	\$2.0700	\$654.12
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Rogers Group, Inc.	3.000 EACH	\$129.2300	\$387.69
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
	Rogers Group, Inc.	1.000 EACH	\$465.2400	\$465.24
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	Rogers Group, Inc.	1.000 EACH	\$258.4600	\$258.46
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	Rogers Group, Inc.	3.000 EACH	\$103.3900	\$310.17
716-04.10	PLASTIC PAVEMENT MARKING (HANDICAP SYMBOL)			
	Rogers Group, Inc.	1.000 EACH	\$413.5400	\$413.54

			UNIT PRICE	CONTRACT CNV181  EXTENSION
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARRO			
	Rogers Group, Inc.	2.000 EACH	\$258.4600	\$516.92
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	24.200 L.M.	\$775.3900	\$18,764.44
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	24.100 L.M.	\$4,497.2800	\$108,384.45
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTT	•		
	Rogers Group, Inc.	316.000 L.F.	\$2.0700	\$654.12
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$43,223.5300	\$43,223.53
730-14.02	SAW SLOT			
	Rogers Group, Inc.	6,921.000 L.F.	\$4.0300	\$27,891.63
730-14.03	LOOP WIRE			
		18,215.000 L.F.		

Rogers Group, Inc.

\$11,293.30

\$0.6200

Rogers Group, Inc. \$2,236,359.81

### **TOTAL CONTRACT**

Rogers Group, Inc. \$2,236,359.81

### POLK COUNTY (Contract No. CNV200 Call 057)

STP-68(59),70006-8247-14

THE RESURFACING ON S.R. 68 FROM THE MONROE COUNTY LINE (L.M. 0.00) TO WALLER ROAD (L.M. 6.18).

PROJECT LENGTH - 5.970 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 4.00%

TOTAL CONTRACT

APAC-Atlantic, Inc. \$1,301,472.70
Rogers Group, Inc. \$1,577,257.41

CONTRACT	<b>CNV200</b>
----------	---------------

				CONTRACT	CNV200
			UNIT PRICE	EXT	ENSION
ROADWA	AY CATEGORY				
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAD				
	ADAC AIL C. I	100.000 TON	<b>#</b> 400 0000	<b>#</b> 40	000.00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$182.0000 \$250.0000		,200.00 ,000.00
	Rogers Group, Inc.		\$250.0000	φΖυ	,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)				
		47.000 TON			
	APAC-Atlantic, Inc.		\$700.0000	\$32	,900.00
	Rogers Group, Inc.		\$775.0000	\$36	,425.00
403-01.10	HIGH PERFORMANCE FOG SEALS				
		522.000 S.Y.			
	APAC-Atlantic, Inc.		\$4.1000	\$2	,140.20
	Rogers Group, Inc.		\$8.6000	\$4	,489.20
411-01.10	ACS MIX(PG64-22) GRADING D				
	,	7,107.000 TON			
	APAC-Atlantic, Inc.		\$112.0000	\$795	,984.00
	Rogers Group, Inc.		\$112.0000	\$795	,984.00
411 12 02	SCODING FOR DUMBLE STRIPE (NON CONTINUOUS)	DINI WIDTU\			
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (	9.600 L.M.			
	APAC-Atlantic, Inc.	9.000 L.IVI.	\$850.0000	\$8	,160.00
	Rogers Group, Inc.		\$280.0000		,688.00
415 01 01	COLD PLANING BITUMINOUS PAVEMENT				
413-01.01	COLD PLANING BITUMINOUS PAVEMENT	11,881.000 TON			
	APAC-Atlantic, Inc.	11,001.000 1014	\$18.5000	\$210	,798.50
	Rogers Group, Inc.		\$27.5000		,727.50
712-01	TRAFFIC CONTROL				
	ADAO AN	1.000 LS	<b>405 500</b> 0000	0.5	=00.00
	APAC-Atlantic, Inc. Rogers Group, Inc.		\$25,500.0000 \$89,700.0000		,500.00 ,700.00
	Rogers Group, mc.		ψοθ,700.0000	ψυυ	,700.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)				
		25.000 EACH			
	APAC-Atlantic, Inc.		\$40.0000		,000.00
	Rogers Group, Inc.		\$38.0000	(	\$950.00
712-05.03	WARNING LIGHTS (TYPE C)				
	,	18.000 EACH			
	APAC-Atlantic, Inc.		\$33.0000	9	\$594.00
	Rogers Group, Inc.		\$31.6500	Ç	\$569.70
712-06	SIGNS (CONSTRUCTION)				
	,	968.000 S.F.			
	APAC-Atlantic, Inc.		\$7.0000	\$6	,776.00
	Rogers Group, Inc.		\$6.6000	\$6	,388.80
				P	AGE

			CONTRACT CNV200
		UNIT PRICE	EXTENSION
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	2.000 EACH		
APAC-Atlantic, Inc.		\$1,000.0000	\$2,000.00
Rogers Group, Inc.		\$2,000.0000	\$4,000.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)		
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	396.000 EACH		
APAC-Atlantic, Inc.		\$30.0000	\$11,880.00
Rogers Group, Inc.		\$29.3000	\$11,602.80
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	330.000 EACH		
APAC-Atlantic, Inc.		\$8.0000	\$2,640.00
Rogers Group, Inc.		\$8.2500	\$2,722.50
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
,	100.000 L.F.		
APAC-Atlantic, Inc.		\$11.0000	\$1,100.00
Rogers Group, Inc.		\$10.9500	\$1,095.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
	35.600 L.M.		
APAC-Atlantic, Inc.		\$875.0000	\$31,150.00
Rogers Group, Inc.		\$855.0000	\$30,438.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
· · · · · · · · · · · · · · · · · · ·	23.700 L.M.		
APAC-Atlantic, Inc.		\$4,500.0000	\$106,650.00
Rogers Group, Inc.		\$4,500.0000	\$106,650.00
		•	•

1.000 LS

717-01

**MOBILIZATION** 

APAC-Atlantic, Inc. Rogers Group, Inc.

\$35,000.00 \$131,826.91

\$35,000.0000 \$131,826.9100

 APAC-Atlantic, Inc.
 \$1,301,472.70

 Rogers Group, Inc.
 \$1,577,257.41

### **TOTAL CONTRACT**

 APAC-Atlantic, Inc.
 \$1,301,472.70

 Rogers Group, Inc.
 \$1,577,257.41

#### RHEA COUNTY (Contract No. CNV182 Call 058)

NH/HSIP-29(118),72079-3215-94,72079-8215-14

THE RESURFACING ON U.S. 27 (S.R. 29) FROM NEAR WELCH STREET (L.M. 6.90) TO NORTH OF PAYNE LANE (L.M. 11.03).

PROJECT LENGTH - 3.770 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$2,188,671.63

ROADWAY CATEGORY		UNIT PRICE	CONTRACT CNV182 EXTENSION
209-40.33 CATCH BASIN PROTECTION (TYPE D)			
Rogers Group, Inc.	30.000 EACH	\$166.0000	\$4,980.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D	007 000 TON		
Rogers Group, Inc.	607.000 TON	\$45.0000	\$27,315.00
403-02.01 TRACKLESS TACK COAT	81.000 TON		
Rogers Group, Inc.	61.000 TON	\$660.0000	\$53,460.00
411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER	3,287.000 TON		
Rogers Group, Inc.	3,207.000 TON	\$86.0000	\$282,682.00
411-02.10 ACS MIX(PG70-22) GRADING D	9,177.000 TON		
Rogers Group, Inc.	5,111.000 TEN	\$99.4000	\$912,193.80
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	2.400 L.M.		
Rogers Group, Inc.		\$306.9730	\$736.74
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDT	ГН) 7.400 L.M.		
Rogers Group, Inc.		\$306.9730	\$2,271.60
415-01.01 COLD PLANING BITUMINOUS PAVEMENT	12,270.000 TON		
Rogers Group, Inc.	. <b></b>	\$16.6000	\$203,682.00
604-10.44 EXPANSION JOINT REPAIRS	6,950.000 L.F.		
Rogers Group, Inc.	,	\$22.9500	\$159,502.50
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN	30.000 EACH		
Rogers Group, Inc.		\$3,050.0000	\$91,500.00
701-01.01 CONCRETE SIDEWALK (4 ")	1,740.000 S.F.		
Rogers Group, Inc.	,	\$16.9500	\$29,493.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)			

2,854.000 S.F.

Rogers Group, Inc.

\$94,895.50

\$33.2500

			UNIT PRICE	CONTRACT CNV182 EXTENSION
702-01	CONCRETE CURB			
	Rogers Group, Inc.	2.500 C.Y.	\$1,060.0000	\$2,650.00
702-03	CONCRETE COMBINED CURB & GUTTER	00 000 O V		
	Rogers Group, Inc.	33.800 C.Y.	\$995.0000	\$33,631.00
712-01	TRAFFIC CONTROL	4 000 L 0		
	Rogers Group, Inc.	1.000 LS	\$55,000.0000	\$55,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	440,000 54 011		
	Rogers Group, Inc.	140.000 EACH	\$21.4880	\$3,008.32
712-05.03	WARNING LIGHTS (TYPE C)	40.000 54.011		
	Rogers Group, Inc.	43.000 EACH	\$24.5580	\$1,055.99
712-06	SIGNS (CONSTRUCTION)	4 000 000 0 5		
	Rogers Group, Inc.	1,636.000 S.F.	\$6.6510	\$10,881.04
712-07.03	TEMPORARY BARRICADES (TYPE III)	004.0001.5		
	Rogers Group, Inc.	224.000 L.F.	\$11.2560	\$2,521.34
712-08.03	ARROW BOARD (TYPE C)	0.000 54.011		
	Rogers Group, Inc.	2.000 EACH	\$844.1770	\$1,688.35
713-02.30	FLEXIBLE TUBULAR DELINEATOR			
	Rogers Group, Inc.	8.000 EACH	\$38.8830	\$311.06
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	2.000 EACH	\$4,195.3020	\$8,390.60
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (			
	Rogers Group, Inc.	349.000 EACH	\$26.3490	\$9,195.80
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (M			
	Rogers Group, Inc.	349.000 EACH	\$26.3490	\$9,195.80

			UNIT PRICE	CONTRACT CNV182  EXTENSION
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 C	OLOR)		
	Rogers Group, Inc.	80.000 EACH	\$26.3490	\$2,107.92
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Rogers Group, Inc.	870.000 L.F.	\$5.9860	\$5,207.82
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Rogers Group, Inc.	51.000 S.Y.	\$25.0690	\$1,278.52
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	564.000 L.F.	\$10.4880	\$5,915.23
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	9.000 EACH	\$168.8350	\$1,519.52
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	Rogers Group, Inc.	18.000 EACH	\$168.8350	\$3,039.03
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Rogers Group, Inc.	60.000 S.F.	\$15.3490	\$920.94
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	20.100 L.M.	\$844.1770	\$16,967.96
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	20.100 L.M.	\$4,374.3700	\$87,924.84
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
	Rogers Group, Inc.	1,014.000 L.F.	\$1.2790	\$1,296.91
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$54,600.0000	\$54,600.00
730-14.02	SAW SLOT			
	Rogers Group, Inc.	1,020.000 L.F.	\$4.6970	\$4,790.94

CONTRACT CNV182

UNIT PRICE EXTENSION

730-14.03 LOOP WIRE

2,740.000 L.F.

Rogers Group, Inc. \$1.0440 \$2,860.56

Rogers Group, Inc. \$2,188,671.63

### **TOTAL CONTRACT**

Rogers Group, Inc. \$2,188,671.63

#### RHEA COUNTY (Contract No. CNV100 Call 059)

STP/HSIP-30(89),72004-3237-94,72004-8237-14,STP/HSIP-378(8),72002-3207-94,72002-8207-14

THE RESURFACING ON S.R. 378 FROM U.S. 27 (S.R. 29) (L.M. 0.00) TO WEST OF U.S. 27 (S.R. 29) (L.M. 1.61) AND ON S.R. 30 FROM EAST OF RAILROAD STREET (L.M. 8.70) TO NEAR U.S. 27 (S.R. 29) (L.M. 9.15).

PROJECT LENGTH - 2.060 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,257,129.00

		СО	NTRACT CNV100
ROADWAY CATEGORY		UNIT PRICE	EXTENSION
209-40.33 CATCH BASIN PROTECTION (TYPE D)			
Rogers Group, Inc.	44.000 EACH	\$207.7500	\$9,141.00
403-02.01 TRACKLESS TACK COAT			
Rogers Group, Inc.	24.000 TON	\$850.0000	\$20,400.00
411-01.10 ACS MIX(PG64-22) GRADING D			
Rogers Group, Inc.	3,587.000 TON	\$128.0000	\$459,136.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT			
Rogers Group, Inc.	3,828.000 TON	\$27.2500	\$104,313.00
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN			
Rogers Group, Inc.	44.000 EACH	\$3,650.0000	\$160,600.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)			
Rogers Group, Inc.	6,590.000 S.F.	\$34.4000	\$226,696.00
702-01 CONCRETE CURB			
Rogers Group, Inc.	11.300 C.Y.	\$2,015.0000	\$22,769.50
702-03 CONCRETE COMBINED CURB & GUTTER			
Rogers Group, Inc.	37.600 C.Y.	\$735.0000	\$27,636.00
712-01 TRAFFIC CONTROL			
Rogers Group, Inc.	1.000 LS	\$34,600.0000	\$34,600.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
Rogers Group, Inc.	65.000 EACH	\$38.0000	\$2,470.00
712-06 SIGNS (CONSTRUCTION)			
Rogers Group, Inc.	1,730.000 S.F.	\$6.4000	\$11,072.00
712-07.03 TEMPORARY BARRICADES (TYPE III)			
Rogers Group, Inc.	260.000 L.F.	\$18.5000	\$4,810.00
			DACE

			Co	ONTRACT CNV100
			UNIT PRICE	EXTENSION
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Rogers Group, Inc.	30.000 L.F.	\$6.4000	\$192.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Rogers Group, Inc.	1.000 LS	\$160.0000	\$160.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	3.000 EACH	\$2,535.0000	\$7,605.00
713-16.20	SIGNS (W10-2, GRADE X-ING ADVANCE WARNING SIGN, POSINSTALL.,36"x36")	ST &		
	Rogers Group, Inc.	6.000 EACH	\$205.0000	\$1,230.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
	Rogers Group, Inc.	153.000 EACH	\$32.0000	\$4,896.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)	)(1 COLOR)		
	Rogers Group, Inc.	21.000 EACH	\$32.0000	\$672.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Rogers Group, Inc.	1,002.000 L.F.	\$9.5000	\$9,519.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING			
	Rogers Group, Inc.	131.000 S.Y.	\$21.0000	\$2,751.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	608.000 L.F.	\$11.0000	\$6,688.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	7.000 EACH	\$160.0000	\$1,120.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
	Rogers Group, Inc.	100.000 L.F.	\$6.5000	\$650.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WA			
	Rogers Group, Inc.	86.000 L.F.	\$23.5000	\$2,021.00

			UNIT PRICE	CONTRACT CNV100 EXTENSION
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Rogers Group, Inc.	2.000 EACH	\$132.0000	\$264.00
716-04.10	PLASTIC PAVEMENT MARKING (HANDICAP SYMBOL)			
	Rogers Group, Inc.	7.000 EACH	\$315.0000	\$2,205.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Rogers Group, Inc.	8.100 L.M.	\$900.0000	\$7,290.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	8.200 L.M.	\$5,075.0000	\$41,615.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER LINE	2)		
	Rogers Group, Inc.	50.000 L.F.	\$2.1500	\$107.50
717-01	MOBILIZATION			
		1.000 LS		

Rogers Group, Inc.

\$84,500.00

\$84,500.0000

Rogers Group, Inc. \$1,257,129.00

### **TOTAL CONTRACT**

Rogers Group, Inc. \$1,257,129.00

### RUTHERFORD COUNTY (Contract No. CNV185 Call 060)

75840-4136-04

THE REPAIR OF THE BRIDGES ON I-840 OVER THE EAST FORK OF THE STONES RIVER (L.M. 15.42).

PROJECT LENGTH - 0.720 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

	TOTAL CONTRACT
Dement Construction Company, LLC	\$1,649,779.46
Mid-State Construction Company, Inc.	\$1,665,331.61
Bell & Associates Construction, LLC	\$1,702,371.70
Kiewit Infrastructure South Co.	\$1,761,141.34

**EXTENSION** UNIT PRICE

BRIDGE	CATEGORY			
202 04 04	REMOVAL OF STRUCTURES (BRIDGE NOS. 75SR8400	00045 8 759 4000046\		
202-04.01	REMOVAL OF STRUCTURES (BRIDGE NOS. 755R0400	1.000 LS		
	Dement Construction Company, LLC Mid-State Construction Company, Inc. Bell & Associates Construction, LLC Kiewit Infrastructure South Co.	1.000 20	\$271,865.0000 \$93,090.8700 \$115,500.0000 \$175,000.0000	\$271,865.00 \$93,090.87 \$115,500.00 \$175,000.00
	Thomas assure South So.		ψ11 0,000.0000	ψ11 0,000.00
204-06.03	FLOWABLE FILL (EARLY STRENGTH)			
		27.000 C.Y.		
	Dement Construction Company, LLC		\$430.0000	\$11,610.00
	Mid-State Construction Company, Inc.		\$1,644.7200	\$44,407.44
	Bell & Associates Construction, LLC		\$775.0000	\$20,925.00
	Kiewit Infrastructure South Co.		\$1,100.0000	\$29,700.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		0.770 L.M.		
	Dement Construction Company, LLC		\$10,000.0000	\$7,700.00
	Mid-State Construction Company, Inc.		\$5,750.0000	\$4,427.50
	Bell & Associates Construction, LLC		\$7,700.0000	\$5,929.00
	Kiewit Infrastructure South Co.		\$12,000.0000	\$9,240.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
	,	1.000 EACH		
	Dement Construction Company, LLC	1.000 EAGIT	\$800.0000	\$800.00
	Mid-State Construction Company, Inc.		\$345.0000	\$345.00
	Bell & Associates Construction, LLC		\$400.0000	\$400.00
	Kiewit Infrastructure South Co.		\$1,650.0000	\$1,650.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		429.000 TON		
	Dement Construction Company, LLC		\$70.0000	\$30,030.00
	Mid-State Construction Company, Inc.		\$79.0400	\$33,908.16
	Bell & Associates Construction, LLC		\$40.0000	\$17,160.00
	Kiewit Infrastructure South Co.		\$55.0000	\$23,595.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		1,510.000 TON		
	Dement Construction Company, LLC		\$65.0000	\$98,150.00
	Mid-State Construction Company, Inc.		\$73.8700	\$111,543.70
	Bell & Associates Construction, LLC		\$70.0000	\$105,700.00
	Kiewit Infrastructure South Co.		\$70.0000	\$105,700.00
307-01.22	ASP. CONC. MIX(PG76-22) (BPMB-HM) GR. A-S			
	201101 11111 11111 11111 11111 11111 11111 1111	75.000 TON		
	Dement Construction Company, LLC		\$210.0000	\$15,750.00
	Mid-State Construction Company, Inc.		\$241.5000	\$18,112.50
	Bell & Associates Construction, LLC		\$300.0000	\$22,500.00
	Kiewit Infrastructure South Co.		\$270.0000	\$20,250.00

			UNIT PRICE	EXTENSION
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A			
		96.000 TON		
	Dement Construction Company, LLC		\$215.0000	\$20,640.00
	Mid-State Construction Company, Inc.		\$247.2500	\$23,736.00
	Bell & Associates Construction, LLC		\$310.0000	\$29,760.00
	Kiewit Infrastructure South Co.		\$280.0000	\$26,880.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B	-M2		
		94.000 TON		
	Dement Construction Company, LLC		\$300.0000	\$28,200.00
	Mid-State Construction Company, Inc.		\$345.0000	\$32,430.00
	Bell & Associates Construction, LLC		\$310.0000	\$29,140.00
	Kiewit Infrastructure South Co.		\$390.0000	\$36,660.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		17.000 TON		
	Dement Construction Company, LLC		\$700.0000	\$11,900.00
	Mid-State Construction Company, Inc.		\$805.0000	\$13,685.00
	Bell & Associates Construction, LLC		\$1,500.0000	\$25,500.00
	Kiewit Infrastructure South Co.		\$900.0000	\$15,300.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		13.000 TON		
	Dement Construction Company, LLC		\$500.0000	\$6,500.00
	Mid-State Construction Company, Inc.		\$575.0000	\$7,475.00
	Bell & Associates Construction, LLC		\$900.0000	\$11,700.00
	Kiewit Infrastructure South Co.		\$650.0000	\$8,450.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
		336.000 L.F.		
	Dement Construction Company, LLC		\$6.0000	\$2,016.00
	Mid-State Construction Company, Inc.		\$5.7500	\$1,932.00
	Bell & Associates Construction, LLC		\$5.0000	\$1,680.00
	Kiewit Infrastructure South Co.		\$3.0000	\$1,008.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		2.182 L.M.		
	Dement Construction Company, LLC		\$1,150.0000	\$2,509.30
	Mid-State Construction Company, Inc.		\$2,127.5000	\$4,642.21
	Bell & Associates Construction, LLC		\$2,000.0000	\$4,364.00
	Kiewit Infrastructure South Co.		\$3,800.0000	\$8,291.60
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		38,404.000 S.Y.		
	Dement Construction Company, LLC	,	\$2.2000	\$84,488.80
	Mid-State Construction Company, Inc.		\$2.5300	\$97,162.12
	Bell & Associates Construction, LLC		\$2.7500	\$105,611.00
	Kiewit Infrastructure South Co.		\$3.0000	\$115,212.00

			UNIT PRICE	EXTENSION
604-02.03	EPOXY COATED REINFORCING STEEL			
		1,135.000 LB.		
	Dement Construction Company, LLC		\$3.0000	\$3,405.00
	Mid-State Construction Company, Inc.		\$3.7800	\$4,290.30
	Bell & Associates Construction, LLC		\$2.0000	\$2,270.00
	Kiewit Infrastructure South Co.		\$2.0000	\$2,270.00
604-03.02	STEEL BAR REINFORCEMENT (BRIDGES)			
		974.000 LB.		
	Dement Construction Company, LLC		\$2.9000	\$2,824.60
	Mid-State Construction Company, Inc.		\$3.5300	\$3,438.22
	Bell & Associates Construction, LLC		\$1.6500	\$1,607.10
	Kiewit Infrastructure South Co.		\$1.8000	\$1,753.20
604-03.04	PAVEMENT @ BRIDGE ENDS			
		502.000 S.Y.		
	Dement Construction Company, LLC		\$550.0000	\$276,100.00
	Mid-State Construction Company, Inc.		\$508.3300	\$255,181.66
	Bell & Associates Construction, LLC		\$530.0000	\$266,060.00
	Kiewit Infrastructure South Co.		\$495.0000	\$248,490.00
604-03.74	CLASS X CONCRETE			
		11.000 C.Y.		
	Dement Construction Company, LLC		\$2,000.0000	\$22,000.00
	Mid-State Construction Company, Inc.		\$956.7500	\$10,524.25
	Bell & Associates Construction, LLC		\$2,500.0000	\$27,500.00
	Kiewit Infrastructure South Co.		\$1,300.0000	\$14,300.00
604-10.14	REMOVE EXISTING WEARING SURFACE			
		1.000 LS		
	Dement Construction Company, LLC		\$35,000.0000	\$35,000.00
	Mid-State Construction Company, Inc.		\$5,750.0000	\$5,750.00
	Bell & Associates Construction, LLC		\$6,500.0000	\$6,500.00
	Kiewit Infrastructure South Co.		\$20,000.0000	\$20,000.00
604-10.90	MISCELLANEOUS BRIDGE ITEMS			
		1.000 LS		
	Dement Construction Company, LLC		\$30,000.0000	\$30,000.00
	Mid-State Construction Company, Inc.		\$11,064.3000	\$11,064.30
	Bell & Associates Construction, LLC		\$23,000.0000	\$23,000.00
	Kiewit Infrastructure South Co.		\$15,000.0000	\$15,000.00
617-02	BRIDGE DECK CRACK SEALING			
		276.000 L.F.		
	Dement Construction Company, LLC	<del></del>	\$4.0000	\$1,104.00
	Mid-State Construction Company, Inc.		\$12.7500	\$3,519.00
	Bell & Associates Construction, LLC		\$4.7500	\$1,311.00
	Kiewit Infrastructure South Co.		\$9.0000	\$2,484.00

#### **CONTRACT CNV185**

			UNIT PRICE	EXTENSION
617-05	SEALANT (HMWM)			
		4.000 GAL.		
	Dement Construction Company, LLC		\$125.0000	\$500.00
	Mid-State Construction Company, Inc.		\$239.5500	\$958.20
	Bell & Associates Construction, LLC		\$520.0000	\$2,080.00
	Kiewit Infrastructure South Co.		\$420.0000	\$1,680.00
705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		88.000 EACH		
	Dement Construction Company, LLC		\$12.0000	\$1,056.00
	Mid-State Construction Company, Inc.		\$13.8000	\$1,214.40
	Bell & Associates Construction, LLC		\$11.0000 \$45.0000	\$968.00
	Kiewit Infrastructure South Co.		\$15.0000	\$1,320.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Dement Construction Company, LLC		\$5,500.0000	\$11,000.00
	Mid-State Construction Company, Inc.		\$6,325.0000	\$12,650.00
	Bell & Associates Construction, LLC		\$7,000.0000	\$14,000.00
	Kiewit Infrastructure South Co.		\$6,600.0000	\$13,200.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
		330.000 L.F.		
	Dement Construction Company, LLC		\$4.2500	\$1,402.50
	Mid-State Construction Company, Inc.		\$2.3000	\$759.00
	Bell & Associates Construction, LLC		\$1.2500	\$412.50
	Kiewit Infrastructure South Co.		\$9.0000	\$2,970.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		116.667 TON		
	Dement Construction Company, LLC		\$55.0000	\$6,416.69
	Mid-State Construction Company, Inc.		\$74.1800	\$8,654.36
	Bell & Associates Construction, LLC		\$65.0000	\$7,583.36
	Kiewit Infrastructure South Co.		\$125.0000	\$14,583.38
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Dement Construction Company, LLC		\$29,550.0000	\$29,550.00
	Mid-State Construction Company, Inc.		\$105,426.4300	\$105,426.43
	Bell & Associates Construction, LLC		\$55,000.0000	\$55,000.00
	Kiewit Infrastructure South Co.		\$100,000.0000	\$100,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		4,288.000 L.F.		
	Dement Construction Company, LLC		\$35.0000	\$150,080.00
	Mid-State Construction Company, Inc.		\$34.7100	\$148,836.48
	Bell & Associates Construction, LLC		\$45.0000	\$192,960.00
	Kiewit Infrastructure South Co.		\$20.0000	\$85,760.00

			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	209.000 EACH		
	Dement Construction Company, LLC		\$22.0000	\$4,598.00
	Mid-State Construction Company, Inc.		\$25.3000	\$5,287.70
	Bell & Associates Construction, LLC		\$30.0000	\$6,270.00
	Kiewit Infrastructure South Co.		\$26.0000	\$5,434.00
712-06	SIGNS (CONSTRUCTION)			
		780.000 S.F.		
	Dement Construction Company, LLC		\$6.4500	\$5,031.00
	Mid-State Construction Company, Inc.		\$7.4200	\$5,787.60
	Bell & Associates Construction, LLC		\$8.5000	\$6,630.00
	Kiewit Infrastructure South Co.		\$8.0000	\$6,240.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Dement Construction Company, LLC		\$845.0000	\$1,690.00
	Mid-State Construction Company, Inc.		\$971.7500	\$1,943.50
	Bell & Associates Construction, LLC		\$1,050.0000	\$2,100.00
	Kiewit Infrastructure South Co.		\$1,000.0000	\$2,000.00
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)			
		10,336.000 L.F.		
	Dement Construction Company, LLC		\$4.0000	\$41,344.00
	Mid-State Construction Company, Inc.		\$4.6000	\$47,545.60
	Bell & Associates Construction, LLC		\$4.0000	\$41,344.00
	Kiewit Infrastructure South Co.		\$5.0000	\$51,680.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Dement Construction Company, LLC		\$3,850.0000	\$7,700.00
	Mid-State Construction Company, Inc.		\$4,427.5000	\$8,855.00
	Bell & Associates Construction, LLC		\$5,500.0000	\$11,000.00
	Kiewit Infrastructure South Co.		\$7,000.0000	\$14,000.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	IR)(2 COLOR)		
		73.000 EACH		
	Dement Construction Company, LLC		\$50.0000	\$3,650.00
	Mid-State Construction Company, Inc.		\$57.5000	\$4,197.50
	Bell & Associates Construction, LLC		\$65.0000	\$4,745.00
	Kiewit Infrastructure South Co.		\$60.0000	\$4,380.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	₹		
		73.000 EACH		
	Dement Construction Company, LLC		\$10.0000	\$730.00
	Mid-State Construction Company, Inc.		\$11.5000	\$839.50
	Bell & Associates Construction, LLC		\$13.0000	\$949.00
	Kiewit Infrastructure South Co.		\$12.0000	\$876.00

	UNIT PRICE	EXTENSION
716-02.07 PLASTIC PAVEMENT MARKING (24" BARRIER LINE)		
156.00	00 L.F.	
Dement Construction Company, LLC	\$20.0000	\$3,120.00
Mid-State Construction Company, Inc.	\$23.0000	\$3,588.00
Bell & Associates Construction, LLC	\$26.0000	\$4,056.00
Kiewit Infrastructure South Co.	\$24.0000	\$3,744.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
4.37	72 L.M.	
Dement Construction Company, LLC	\$1,400.0000	\$6,120.80
Mid-State Construction Company, Inc.	\$1,610.0000	\$7,038.92
Bell & Associates Construction, LLC	\$1,775.0000	\$7,760.30
Kiewit Infrastructure South Co.	\$2,300.0000	\$10,055.60
716-08.01 REMOVAL OF PAVEMENT MARKING (LINE)		
10,192.60	00 L.F.	
Dement Construction Company, LLC	\$1.0000	\$10,192.60
Mid-State Construction Company, Inc.	\$1.1500	\$11,721.49
Bell & Associates Construction, LLC	\$1.3000	\$13,250.38
Kiewit Infrastructure South Co.	\$1.2000	\$12,231.12
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
3.48	80 L.M.	
Dement Construction Company, LLC	\$7,500.0000	\$26,100.00
Mid-State Construction Company, Inc.	\$8,625.0000	\$30,015.00
Bell & Associates Construction, LLC	\$9,530.0000	\$33,164.40
Kiewit Infrastructure South Co.	\$9,700.0000	\$33,756.00
717-01 MOBILIZATION		
	00 LS	
Dement Construction Company, LLC	\$75,000.0000	\$75,000.00
Mid-State Construction Company, Inc.	\$138,151.8400	\$138,151.84
Bell & Associates Construction, LLC	\$85,000.0000	\$85,000.00
Kiewit Infrastructure South Co.	\$88,000.0000	\$88,000.00
740-07.04 GEOGRID REINFORCEMENT TYPE 2		
2,912.00	00 S.Y.	
Dement Construction Company, LLC	\$6.0000	\$17,472.00
Mid-State Construction Company, Inc.	\$4.5500	\$13,249.60
Bell & Associates Construction, LLC	\$5.0000	\$14,560.00
Kiewit Infrastructure South Co.	\$5.0000	\$14,560.00
740-10.04 GEOTEXTILE (TYPE IV)(STABILIZATION)		
	55 S.Y.	
Dement Construction Company, LLC	\$3.0000	\$2,440.67
Mid-State Construction Company, Inc.	\$3.4500	\$2,806.76
Bell & Associates Construction, LLC	\$7.5000	\$6,101.66
Kiewit Infrastructure South Co.	\$3.5000	\$2,847.44

CON	ITRA	CT (	185

		-	
		UNIT PRICE	EXTENSION
740-11.01 TEMPORARY SEDIMENT TUBE 8IN			
	360.000 L.F.		
Dement Construction Company, LLC		\$5.0000	\$1,800.00
Mid-State Construction Company, Inc.		\$3.4500	\$1,242.00
Bell & Associates Construction, LLC		\$3.0000	\$1,080.00
Kiewit Infrastructure South Co.		\$9.0000	\$3,240.00
411-03.10 ACS MIX(PG76-22) GRADING D			
	1,802.000 TON		
Dement Construction Company, LLC	•	\$115.0000	\$207,230.00
Mid-State Construction Company, Inc.		\$132.2500	\$238,314.50
Bell & Associates Construction, LLC		\$160.0000	\$288,320.00
Kiewit Infrastructure South Co.		\$175.0000	\$315,350.00
712-08.10 MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
	600.000 HOUR		
Dement Construction Company, LLC	333333113311	\$98.0000	\$58,800.00
Mid-State Construction Company, Inc.		\$112.7000	\$67,620.00
Bell & Associates Construction, LLC		\$100.0000	\$60,000.00
Kiewit Infrastructure South Co.		\$120.0000	\$72,000.00
705-06.01 W BEAM GR (TYPE 2) MASH TL-3			
703-00.01 W BEAM OR (111 E 2) MAGIT 1E-3	170.000 L.F.		
Dement Construction Company, LLC	170.000 L.I .	\$33.8500	\$5,754.50
Mid-State Construction Company, Inc.		\$29.9000	\$5,754.50 \$5,083.00
Bell & Associates Construction, LLC		\$34.0000	\$5,780.00
Kiewit Infrastructure South Co.		\$40.0000	\$6,800.00
Newk iiiiasuucture Soutii Go.		ψ <del>-1</del> 0.0000	ψ0,000.00
705-06.25 THRIE BEAM BRIDGE TRANSITION MASH TL-3			
	4.000 EACH		
Dement Construction Company, LLC		\$2,102.0000	\$8,408.00
Mid-State Construction Company, Inc.		\$3,220.0000	\$12,880.00
Bell & Associates Construction, LLC		\$3,285.0000	\$13,140.00
Kiewit Infrastructure South Co.		\$3,300.0000	\$13,200.00

# **SUB-TOTAL BRIDGE**

Dement Construction Company, LLC	\$1,649,779.46
Mid-State Construction Company, Inc.	\$1,665,331.61
Bell & Associates Construction, LLC	\$1,702,371.70
Kiewit Infrastructure South Co.	\$1,761,141.34

# **TOTAL CONTRACT**

Dement Construction Company, LLC	\$1,649,779.46
Mid-State Construction Company, Inc.	\$1,665,331.61
Bell & Associates Construction, LLC	\$1,702,371.70
Kiewit Infrastructure South Co.	\$1,761,141.34

### SCOTT COUNTY (Contract No. CNV199 Call 061)

STP/HSIP-456(12),76010-3227-94,76010-8227-14

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON S.R. 456 FROM S.R. 63 (L.M. 0.12) TO NEAR PENTECOST STREET (L.M. 8.80).

PROJECT LENGTH - 8.670 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 6.50%

TOTAL CONTRACT

Rogers Group, Inc.
Potter South East LLC

\$1,012,354.00

\$1,070,712.05

			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		17.000 L.M.		<b>.</b>
	Rogers Group, Inc. Potter South East LLC		\$600.0000 \$500.0000	\$10,200.00 \$8,500.00
	Folier South East LLC		φ300.0000	φο,500.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	,	1,248.000 TON		
	Rogers Group, Inc.	,	\$86.4000	\$107,827.20
	Potter South East LLC		\$85.0000	\$106,080.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
400 01	BITOMINOGO MATERIAE POR PACROCAT (10)	112.000 TON		
	Rogers Group, Inc.		\$600.0000	\$67,200.00
	Potter South East LLC		\$639.0000	\$71,568.00
444 40 04	ACCRING FOR RUMPI F OTRIPE (NON CONTINUOUS (AN	M/DTI)		
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN	•		
	Demana Cravia, Inc.	14.100 L.M.	<b>COL 4 0000</b>	<b>CO FOA 40</b>
	Rogers Group, Inc. Potter South East LLC		\$254.0000 \$535.0000	\$3,581.40 \$7,543.50
	Total Godin Edot EEG		φοσο.σσσσ	ψ1,010.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		42.000 S.Y.		
	Rogers Group, Inc.		\$46.3000	\$1,944.60
	Potter South East LLC		\$20.0000	\$840.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		49.000 EACH		
	Rogers Group, Inc.		\$150.0000	\$7,350.00
	Potter South East LLC		\$250.0000	\$12,250.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
		49.000 EACH		
	Rogers Group, Inc.		\$2,225.0000	\$109,025.00
	Potter South East LLC		\$2,300.0000	\$112,700.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$15,604.0000	\$15,604.00
	Potter South East LLC		\$25,500.0000	\$25,500.00

Rogers Group, Inc.	\$15,604.0000	\$15,604.00
Potter South East LLC	\$25,500.0000	\$25,500.00

# 712-06 SIGNS (CONSTRUCTION)

834.000 S.F.

Rogers Group, Inc.	\$6.6000	\$5,504.40
Potter South East LLC	\$8.0000	\$6,672.00

# 716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)

581.000 EACH

Rogers Group, Inc.	\$22.0000	\$12,782.00
Potter South East LLC	\$24.0000	\$13,944.00

		CONTRACT CNV199
	UNIT PRIC	E EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	32.000 EACH	
Rogers Group, Inc.	\$8.750	0 \$280.00
Potter South East LLC	\$10.000	0 \$320.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
	70.000 L.F.	
Rogers Group, Inc.	\$10.000	0 \$700.00
Potter South East LLC	\$10.000	0 \$700.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
,	3,305.000 L.F.	
Rogers Group, Inc.	\$4.750	0 \$15,698.75
Potter South East LLC	\$4.750	
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
	9.000 L.M.	
Rogers Group, Inc.	\$675.000	0 \$6,075.00
Potter South East LLC	\$875.000	0 \$7,875.00
746 42 02 CDD AV THEDMO DVMT MDVNC (CO will (CIN LINE)		
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	35 000 L M	
	35.000 L.M.	
Rogers Group, Inc.	\$2,500.000	
Potter South East LLC	\$2,600.000	0 \$91,000.00

1.000 LS

\$32,268.8500

\$42,000.0000

717-01

**MOBILIZATION** 

Rogers Group, Inc. Potter South East LLC \$32,268.85

\$42,000.00

UNIT PRICE EXTENSION

### **ROADWAY ALTERNATE AA1 CATEGORY**

# 411-03.07 ACS MIX(PG64-22) THIN LIFT ASPHALT

6,236.000 TON

Rogers Group, Inc.
Potter South East LLC

**CONTRACT CNV199** 

UNIT PRICE EXTENSION

# **ROADWAY ALTERNATE AA2 CATEGORY**

411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT

6,236.000 TON

 Rogers Group, Inc.
 \$84.8000
 \$528,812.80

 Potter South East LLC
 \$87.8000
 \$547,520.80

Rogers Group, Inc.	\$483,541.20
Potter South East LLC	\$523,191.25

## **SUB-TOTAL ROADWAY ALTERNATE AA1**

### **SUB-TOTAL ROADWAY ALTERNATE AA2**

Rogers Group, Inc.	\$528,812.80
Potter South East LLC	\$547,520.80

### **TOTAL CONTRACT**

Rogers Group, Inc.	\$1,012,354.00
Potter South East LLC	\$1,070,712.05

#### SMITH COUNTY (Contract No. CNV187 Call 064)

HSIP-24(84),80002-3268-94,80002-4268-04,STP-24(83),80002-8267-14

THE RESURFACING ON U.S. 70N (S.R. 24) FROM NEAR HAILEY AVENUE (L.M. 9.00) TO NEAR WAGGONER STREET (L.M. 10.00) AND FROM EAST OF S.R. 264 (L.M. 15.77) TO THE PUTNAM COUNTY LINE (L.M. 21.56).

PROJECT LENGTH - 6.790 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 5.00%

TOTAL CONTRACT

Vulcan Construction Materials, LLC

\$1,573,682.30

Rogers Group, Inc.

\$1,859,674.56

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNV187 EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		13.300 L.M.		
	Vulcan Construction Materials, LLC Rogers Group, Inc.	10.000 Limi	\$1,768.0000 \$1,477.9000	\$23,514.40 \$19,656.07
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		3,815.000 TON		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$24.5000 \$51.4100	\$93,467.50 \$196,129.15
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAI	DING B-M2		
		1,000.000 TON		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$92.5500 \$93.2000	\$92,550.00 \$93,200.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		58.000 TON		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$776.5000 \$689.4000	\$45,037.00 \$39,985.20
411-01.10	ACS MIX(PG64-22) GRADING D			
		8,673.000 TON		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$92.5500 \$102.0800	\$802,686.15 \$885,339.84
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)	(8IN WIDTH)		
		10.400 L.M.		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$300.0000 \$366.0600	\$3,120.00 \$3,807.02
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		8,591.000 TON		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$18.2500 \$20.5800	\$156,785.75 \$176,802.78
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		24.000 EACH		
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$50.0000 \$61.0100	\$1,200.00 \$1,464.24
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Violen Construction Materials 11.0	25.000 EACH	<b>#000 0000</b>	<b>#00.000.00</b>
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$800.0000 \$976.1500	\$20,000.00 \$24,403.75
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Vulcan Construction Materials 11 C	25.000 EACH	¢2 500 0000	\$62.500.00

Vulcan Construction Materials, LLC

Rogers Group, Inc.

\$62,500.00

\$2,500.0000

\$3,050.4700

				CONTRACT CNV187
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
	W	1,850.000 L.F.	<b>40.7500</b>	<b>44.007.50</b>
	Vulcan Construction Materials, LLC Rogers Group, Inc.		\$0.7500 \$0.9200	\$1,387.50 \$1,702.00
	Rogers Group, Inc.		φυ.9200	φ1,702.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$48,150.0000	\$48,150.00
	Rogers Group, Inc.		\$48,624.7300	\$48,624.73
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	PLEXIBLE DROWS (CHANNELIZING)	75.000 EACH		
	Vulcan Construction Materials, LLC	73.000 LACIT	\$10.0000	\$750.00
	Rogers Group, Inc.		\$24.4000	\$1,830.00
712-06	SIGNS (CONSTRUCTION)			
		1,734.000 S.F.		
	Vulcan Construction Materials, LLC		\$8.5000	\$14,739.00
	Rogers Group, Inc.		\$7.0200	\$12,172.68
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
	`	444.000 EACH		
	Vulcan Construction Materials, LLC		\$30.0000	\$13,320.00
	Rogers Group, Inc.		\$36.6100	\$16,254.84
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	C4 000 F4 OH		
	Vulcan Construction Materials, LLC	61.000 EACH	\$10.0000	\$610.00
	Rogers Group, Inc.		\$12.2000	\$744.20
			¥	***********
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		156.000 L.F.		
	Vulcan Construction Materials, LLC		\$15.0000	\$2,340.00
	Rogers Group, Inc.		\$18.3000	\$2,854.80
716-04-04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		890.000 L.F.		
	Vulcan Construction Materials, LLC	000.000 E.i	\$5.0000	\$4,450.00
	Rogers Group, Inc.		\$6.1000	\$5,429.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		4.500 L.M.	<b>^</b>	<b>A</b>
	Vulcan Construction Materials, LLC		\$950.0000	\$4,275.00
	Rogers Group, Inc.		\$1,159.1800	\$5,216.31
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	•	23.000 L.M.		
	Vulcan Construction Materials, LLC		\$1,100.0000	\$25,300.00
	Pagara Croup, Inc		¢1 242 2100	¢20,070,02

Rogers Group, Inc.

\$30,870.83

\$1,342.2100

				CONTRACT	CNV187
			UNIT PRICE	EXTE	NSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		27.500 L.M.			
	Vulcan Construction Materials, LLC		\$5,000.0000	\$137,	500.00
	Rogers Group, Inc.		\$6,100.9400	\$167,	775.85
717-01	MOBILIZATION				
		1.000 LS			
	Vulcan Construction Materials, LLC		\$20,000.0000	\$20,	000.00

\$49,149.5200

\$49,149.52

Rogers Group, Inc.

Vulcan Construction Materials, LLC	\$1,573,682.30
Rogers Group, Inc.	\$1,859,674.56

### **TOTAL CONTRACT**

Vulcan Construction Materials, LLC\$1,573,682.30Rogers Group, Inc.\$1,859,674.56

#### STEWART COUNTY (Contract No. CNV188 Call 065)

NH/HSIP-76(116),81004-3248-94,81004-8248-14

THE RESURFACING ON S.R. 76 FROM EAST OF LONG PINE DRIVE (L.M. 19.38) TO NORTH OF OLD HIGHWAY 79 (L.M. 22.21).

PROJECT LENGTH - 2.830 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

DBE GOAL 5.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC

\$1,455,444.00

\$1,864,084.00

$\sim$	ITRAC	Y OI	NV188
( ( ) (	JIKAL		NVIXX

			CC	NTRACT CNV188
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		11.300 L.M.		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$800.0000 \$1,100.0000	\$9,040.00 \$12,430.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,685.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$25.0000 \$30.0000	\$42,125.00 \$50,550.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		153.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$60.0000 \$94.0000	\$9,180.00 \$14,382.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-N			
		853.000 TON	<b>^-</b>	
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$73.0000 \$95.0000	\$62,269.00 \$81,035.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	Eubank Asphalt Paving & Sealing	2,502.000 TON	\$80.0000	\$200,160.00
	Vulcan Construction Materials, LLC		\$97.0000	\$242,694.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Fuhank Apphalt Daving & Scaling	72.000 TON	\$450.0000	\$32,400.00
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC		\$800.0000	\$57,600.00
411-01.10	ACS MIX(PG64-22) GRADING D	0 070 000 TON		
	Eubank Asphalt Paving & Sealing	9,370.000 TON	\$81.0000	\$758,970.00
	Vulcan Construction Materials, LLC		\$92.5000	\$866,725.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	0.000   M		
	Eubank Asphalt Paving & Sealing	9.000 L.M.	\$500.0000	\$4,500.00
	Vulcan Construction Materials, LLC		\$600.0000	\$5,400.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	44 000 000 <b>TO</b> N		
	Eubank Asphalt Paving & Sealing	11,068.000 TON	\$14.0000	\$154,952.00
	Vulcan Construction Materials, LLC		\$24.7500	\$273,933.00
712-01	TRAFFIC CONTROL	4.0001.0		
	Eubank Asphalt Paving & Sealing	1.000 LS	\$14,000.0000	\$14,000.00
	Vulcan Construction Materials, LLC		\$60,000.0000	\$60,000.00
				PAGE

CONTRACT (	3	١	1	1	t	88	3
------------	---	---	---	---	---	----	---

			CO	NIKACI CNV100
			UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		80.000 EACH		
	Eubank Asphalt Paving & Sealing		\$25.0000	\$2,000.00
	Vulcan Construction Materials, LLC		\$25.0000	\$2,000.00
712-05.01	WARNING LIGHTS (TYPE A)			
	,	2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$5.0000	\$10.00
	Vulcan Construction Materials, LLC		\$20.0000	\$40.00
712-06	SIGNS (CONSTRUCTION)			
		1,380.000 S.F.		
	Full and Applied Device 9 October	1,380.000 3.F.	<b>#0.0000</b>	<b>044 040 00</b>
	Eubank Asphalt Paving & Sealing		\$8.0000 \$9.5000	\$11,040.00
	Vulcan Construction Materials, LLC		\$9.5000	\$13,110.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$1,000.00
	Vulcan Construction Materials, LLC		\$975.0000	\$1,950.00
713-02.11	REMOVAL OF EXISTING DELINEATORS			
		28.000 EACH		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$280.00
	Vulcan Construction Materials, LLC		\$20.0000	\$560.00
713-02.15	FLEXIBLE DELINEATOR (YELLOW)			
		28.000 EACH		
	Eubank Asphalt Paving & Sealing		\$50.0000	\$1,400.00
	Vulcan Construction Materials, LLC		\$33.7500	\$945.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR	R)(1 COLOR)		
	(	72.000 EACH		
	Eubank Asphalt Paving & Sealing	1 =1000 =11011	\$26.0000	\$1,872.00
	Vulcan Construction Materials, LLC		\$30.0000	\$2,160.00
716-01 22	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	COLOR)		
710-01.23	SHOWFLOWABLE RAISED FAVEMENT MARKERS (BI-DIR)(2	-		
		374.000 EACH		
	Eubank Asphalt Paving & Sealing		\$26.0000	\$9,724.00
	Vulcan Construction Materials, LLC		\$30.0000	\$11,220.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING	3)		
		315.000 S.Y.		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$4,725.00
	Vulcan Construction Materials, LLC		\$30.0000	\$9,450.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		1,120.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$14.0000	\$15,680.00
	Vulcan Construction Materials, LLC		\$20.0000	\$22,400.00

221	TRACT	CNV	400
CON	IRACI	CNV	TXX

				CONTRACT CNV188
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		16.000 EACH		
	Eubank Asphalt Paving & Sealing		\$182.5000	\$2,920.00
	Vulcan Construction Materials, LLC		\$200.0000	\$3,200.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		2,250.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$1.5000	\$3,375.00
	Vulcan Construction Materials, LLC		\$4.0000	\$9,000.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
		0.340 L.M.		
	Eubank Asphalt Paving & Sealing		\$7,800.0000	\$2,652.00
	Vulcan Construction Materials, LLC		\$15,000.0000	\$5,100.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		13.700 L.M.		
	Eubank Asphalt Paving & Sealing		\$850.0000	\$11,645.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$13,700.00
716-12.02	PENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		11.900 L.M.		
	Eubank Asphalt Paving & Sealing		\$4,750.0000	\$56,525.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$59,500.00
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$43,000.0000	\$43,000.00
	Vulcan Construction Materials, LLC		\$45,000.0000	\$45,000.00

Eubank Asphalt Paving & Sealing	\$1,455,444.00
Vulcan Construction Materials, LLC	\$1,864,084.00

## TOTAL CONTRACT

Eubank Asphalt Paving & Sealing	\$1,455,444.00
Vulcan Construction Materials, LLC	\$1,864,084.00

### SUMNER COUNTY (Contract No. CNV198 Call 066)

NH-41(27),83008-8232-14

THE RESURFACING ON U.S. 31W (S.R. 41) FROM NEAR JARRETT ROAD (L.M. 5.00) TO S.R. 25 (L.M. 14.41).

PROJECT LENGTH - 9.410 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 6.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$2,593,130.18

Charles Deweese Construction, Inc

\$2,644,683.20

			С	ONTRACT CNV198
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		18.800 L.M.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$725.0000 \$550.0000	\$13,630.00 \$10,340.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING I			
		6,491.000 TON		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$17.0000 \$19.5000	\$110,347.00 \$126,574.50
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		•
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$81.0000 \$75.0000	\$40,500.00 \$37,500.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) G			
	Rogers Group, Inc.	1,500.000 TON	\$78.0000	\$117,000.00
	Charles Deweese Construction, Inc		\$55.0000	\$82,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	405 000 TON		
	Rogers Group, Inc.	105.000 TON	\$680.0000	\$71,400.00
	Charles Deweese Construction, Inc		\$500.0000	\$52,500.00
411-02.10	ACS MIX(PG70-22) GRADING D	16,268.000 TON		
	Rogers Group, Inc.	16,268.000 TON	\$78.0000	\$1,268,904.00
	Charles Deweese Construction, Inc		\$80.0000	\$1,301,440.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN			
	Rogers Group, Inc.	12.300 L.M.	\$625.0000	\$7,687.50
	Charles Deweese Construction, Inc		\$600.0000	\$7,380.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOL			
	Rogers Group, Inc.	4.300 L.M.	\$625.0000	\$2,687.50
	Charles Deweese Construction, Inc		\$600.0000	\$2,580.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	4C 444 000 TON		
	Rogers Group, Inc.	16,114.000 TON	\$13.2500	\$213,510.50
	Charles Deweese Construction, Inc		\$13.5000	\$217,539.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN	37.000 EACH		
		37.000 EACH	<b>#</b> 005 0000	<b>#00.405.00</b>

Rogers Group, Inc.

Charles Deweese Construction, Inc

\$23,495.00

\$635.0000

\$1,030.4200

				CONTRACT CNV198
			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		130.000 S.F.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$35.0000 \$39.2900	\$4,550.00 \$5,107.70
	Charles Deweese Construction, Inc		ψ39.2900	ψ3, 10 <i>1</i> .7 0
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Daniero Carrier Iva	1.000 EACH	<b>#405.0000</b>	<b>#</b> 405.00
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$165.0000 \$195.2200	\$165.00 \$195.22
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 54 011		
	Rogers Group, Inc.	1.000 EACH	\$1,750.0000	\$1,750.00
	Charles Deweese Construction, Inc		\$1,557.6200	\$1,557.62
70E 06 20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
703-00.20	TANGENT ENERGY ABSORBING TERM MASH TES	1.000 EACH		
	Rogers Group, Inc.		\$4,100.0000	\$4,100.00
	Charles Deweese Construction, Inc		\$3,479.7300	\$3,479.73
706-01	GUARDRAIL REMOVED			
		75.000 L.F.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$4.5000 \$1.5600	\$337.50 \$117.00
	Charles Deweese Construction, Inc		φ1.3000	\$117.00
712-01	TRAFFIC CONTROL			
		1.000 LS	Фор оор оор	Фор оор оо
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$60,000.0000 \$82,665.0000	\$60,000.00 \$82,665.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	50 000 54 OU		
	Rogers Group, Inc.	50.000 EACH	\$22.7500	\$1,137.50
	Charles Deweese Construction, Inc		\$36.3400	\$1,817.00
712-06	SIGNS (CONSTRUCTION)			
712-00	SIGNS (CONSTRUCTION)	2,521.000 S.F.		
	Rogers Group, Inc.	_,	\$7.0000	\$17,647.00
	Charles Deweese Construction, Inc		\$8.3100	\$20,949.51
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc.		\$825.0000 \$1,860,1500	\$1,650.00 \$3,738.30
	Charles Deweese Construction, Inc		\$1,869.1500	\$3,738.30
742 44 00	DEDEOD ATED///NOCYOUT COLLABE TUDE DOCT			

1,220.000 LB.

713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST

Charles Deweese Construction, Inc

Rogers Group, Inc.

\$5,063.00

\$5,746.20

\$4.1500

\$4.7100

				CONTRACT CNV198
			UNIT PRICE	EXTENSION
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		159.000 S.F.		
	Rogers Group, Inc.		\$13.0000	\$2,067.00
	Charles Deweese Construction, Inc		\$24.1800	\$3,844.62
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Rogers Group, Inc.		\$1,050.0000	\$1,050.00
	Charles Deweese Construction, Inc		\$6,491.1300	\$6,491.13
713-20.30	SIGN ADJUSTMENTS			
		5.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$36.0000 \$163.0300	\$180.00 \$815.15
	Chanes Deweese Construction, Inc		φ103.0300	φοιο.15
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL	_OR)		
		621.000 EACH		
	Rogers Group, Inc.		\$28.6000	\$17,760.60
	Charles Deweese Construction, Inc		\$29.0800	\$18,058.68
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		621.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$10.2500 \$10.3800	\$6,365.25 \$6,445.98
	Chanes Deweese Construction, Inc		\$10.3600	φ0,443.90
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		159.000 S.Y.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$15.2500 \$15.5800	\$2,424.75 \$2,477.22
	Chanes Deweese Construction, Inc		\$15.5600	\$2,477.22
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		275.000 L.F.		<b>.</b>
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$20.5000 \$20.7700	\$5,637.50 \$5,711.75
	Chanes Deweese Construction, me		Ψ20.7700	ψ3,7 11.73
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		33.000 EACH	•	<b>.</b>
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$155.0000 \$155.7600	\$5,115.00 \$5,140.08
	Chanes Deweese Construction, me		ψ133.7000	ψ3,140.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		510.000 L.F.	<b>* -</b> -	<b>A.</b>
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$4.1500 \$4.1500	\$2,116.50 \$2,116.50
	Chance Deweede Constitueiton, me		ψ <del>-</del> .1300	Ψ2,110.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			

469.000 L.F.

Rogers Group, Inc.

Charles Deweese Construction, Inc

\$14,421.75

\$14,609.35

\$30.7500

\$31.1500

				CONTRACT CNV198
			UNIT PRICE	EXTENSION
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		1.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$515.0000 \$519.2100	\$515.00 \$519.21
716-03.06	PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
		2.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$515.0000 \$519.2100	\$1,030.00 \$1,038.42
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		4,462.000 L.F.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$3.1000 \$3.1200	\$13,832.20 \$13,921.44
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		4.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$155.0000 \$155.7600	\$620.00 \$623.04
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW)			
		124.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$360.0000 \$363.4500	\$44,640.00 \$45,067.80
716-04.15	PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW SHARED			
		17.000 EACH		<b>.</b>
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$410.0000 \$415.3700	\$6,970.00 \$7,061.29
716-04.18	PLASTIC PAVEMENT MARKING (BIKE/XING)			
		2.000 EACH	<b>#</b> 440.000	<b>#</b> 000 00
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$410.0000 \$415.3700	\$820.00 \$830.74
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		69.300 L.M.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$1,025.0000 \$1,142.2600	\$71,032.50 \$79,158.62
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		69.300 L.M.		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$4,900.0000 \$5,295.9100	\$339,570.00 \$367,006.56
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN			
		5,060.000 L.F.	Фо 4633	<b>#40.000.00</b>

Rogers Group, Inc.

Charles Deweese Construction, Inc

\$10,626.00

\$10,524.80

\$2.1000

\$2.0800

				CONTRACT CNV198
			UNIT PRICE	EXTENSION
747.04	MODII IZATION			
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$58,750.0000	\$58,750.00
	Charles Deweese Construction, Inc		\$29,000.0000	\$29,000.00
730-14.02	SAW SLOT			
		3,943.000 L.F.		
	Rogers Group, Inc.	ŕ	\$4.1500	\$16,363.45
	Charles Deweese Construction, Inc		\$4.2600	\$16,797.18
	,		¥	¥.5,
730-14.03	LOOP WIRE			
		8,986.000 L.F.		

Rogers Group, Inc. Charles Deweese Construction, Inc \$5,661.18

\$5,571.32

\$0.6300

\$0.6200

Rogers Group, Inc.	\$2,593,130.18
Charles Deweese Construction, Inc	\$2,644,683.20

## TOTAL CONTRACT

TAL CONTRACT				
Rogers Group, Inc.	\$2,593,130.18			
Charles Deweese Construction, Inc	\$2,644,683.20			

#### TIPTON COUNTY (Contract No. CNV189 Call 067)

HSIP-59(32),84005-3226-94,84005-4226-04,84005-4227-04,STP/HSIP-179(12),84008-3221-94,84008-8221-14

THE RESURFACING WITH HOT IN-PLACE RECYCLING ON S.R. 59 FROM S.R. 178 (L.M. 8.66) TO U.S. 51 (S.R. 3) (L.M. 18.99), AND RESURFACING ON S.R. 179 FROM NEAR S.R. 14 (L.M. 5.76) TO THE HAYWOOD COUNTY LINE (L.M. 11.27).

PROJECT LENGTH - 15.840 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2021

DBE GOAL 4.00%

TOTAL CONTRACT

Lehman-Roberts Company

\$3,796,691.35

ROADW <i>A</i>	AY CATEGORY		UNIT PRICE	CONTRACT CNV189 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Lehman-Roberts Company	646.000 S.Y.	\$40.0000	\$25,840.00
203-06	WATER			
	Lehman-Roberts Company	33.000 M.G.	\$64.0000	\$2,112.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Lehman-Roberts Company	31.680 L.M.	\$1,200.0000	\$38,016.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (GRA	·		
	Lehman-Roberts Company	4,560.000 TON	\$36.0000	\$164,160.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA			
	Lehman-Roberts Company	223.000 TON	\$158.0000	\$35,234.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRAI			
	Lehman-Roberts Company	73.000 TON	\$158.0000	\$11,534.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVEMENT			
	Lehman-Roberts Company	121,730.000 S.Y.	\$5.6000	\$681,688.00
311-03.10	ASPHALT REJUVENATING AGENT	00.050.000.044		
	Lehman-Roberts Company	66,952.000 GAL.	\$3.8000	\$254,417.60
403-02.01	TRACKLESS TACK COAT			
	Lehman-Roberts Company	76.000 TON	\$950.0000	\$72,200.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Lehman-Roberts Company	365.000 TON	\$133.3500	\$48,672.75
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	40 500 000 701		
	Lehman-Roberts Company	10,566.000 TON	\$108.5000	\$1,146,411.00

16.130 L.M.

411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)

Lehman-Roberts Company

\$15,323.50

\$950.0000

			UNIT PRICE	CONTRACT CNV189  EXTENSION
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS	S) (4IN WIDTH)		
	Lehman-Roberts Company	8.150 L.M.	\$950.0000	\$7,742.50
414-04.03	ASPHALT EMULSION (SCRUB SEAL)			
	Lehman-Roberts Company	105.000 TON	\$1,335.0000	\$140,175.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	Lehman-Roberts Company	869.000 TON	\$64.5000	\$56,050.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Lehman-Roberts Company	5,625.000 S.Y.	\$6.8000	\$38,250.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Lehman-Roberts Company	4.000 EACH	\$6,225.8800	\$24,903.52
701-01.01	CONCRETE SIDEWALK (4 ")			
	Lehman-Roberts Company	300.000 S.F.	\$20.7500	\$6,225.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Lehman-Roberts Company	678.000 S.F.	\$57.0700	\$38,693.46
701-02.03	CONCRETE CURB RAMP			
	Lehman-Roberts Company	180.000 S.F.	\$57.0700	\$10,272.60
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	4 000 7 4 011		
	Lehman-Roberts Company	1.000 EACH	\$518.8200	\$518.82
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
	Lehman-Roberts Company	1.000 EACH	\$6,744.7000	\$6,744.70
712-01	TRAFFIC CONTROL			
	Lehman-Roberts Company	1.000 LS	\$146,500.0000	\$146,500.00
712-06	SIGNS (CONSTRUCTION)			
	Lehman-Roberts Company	2,966.000 S.F.	\$5.7100	\$16,935.86

			UNIT PRICE	CONTRACT CNV189 EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Lehman-Roberts Company	30.000 L.F.	\$11.4100	\$342.30
713-15.40	SIGN INSTALLATION (DESCRIPTION)			
	Lehman-Roberts Company	1.000 LS	\$2,075.2900	\$2,075.29
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO			
	Lehman-Roberts Company	1,045.000 EACH	\$39.4300	\$41,204.35
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Lehman-Roberts Company	887.000 EACH	\$14.0000	\$12,418.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Lehman-Roberts Company	60.000 S.Y.	\$30.0900	\$1,805.40
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Lehman-Roberts Company	740.000 L.F.	\$18.6800	\$13,823.20
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	Lehman-Roberts Company	112.000 L.F.	\$33.2000	\$3,718.40
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Lehman-Roberts Company	70.000 L.F.	\$7.2600	\$508.20
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Lehman-Roberts Company	9.000 S.F.	\$26.9800	\$242.82
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)	00 700   14		
	Lehman-Roberts Company	80.700 L.M.	\$1,644.6700	\$132,724.87
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
	Lehman-Roberts Company	20.700 L.M.	\$1,250.0000	\$25,875.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	00.0001.17		
	Lehman-Roberts Company	60.000 L.M.	\$5,966.4700	\$357,988.20

0011			-
CCIN	TRACT	CNV <sup>2</sup>	ıxu

\$210,000.00

\$210,000.0000

			UNIT PRICE	EXTENSION
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRI	ER LINE)		
		133.000 L.F.		
	Lehman-Roberts Company		\$3.1100	\$413.63
717-01	MOBILIZATION			
		1.000 LS		

Lehman-Roberts Company

**CONTRACT CNV189** 

UNIT PRICE EXTENSION

**BRIDGE CATEGORY** 

604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)

8.000 S.Y.

Lehman-Roberts Company \$616.3600 \$4,930.88

Lehman-Roberts Company \$3,791,760.47

## SUB-TOTAL BRIDGE

Lehman-Roberts Company \$4,930.88

## **TOTAL CONTRACT**

Lehman-Roberts Company \$3,796,691.35

#### UNION COUNTY (Contract No. CNV190 Call 068)

87013-4218-04

THE RESURFACING (THIN LIFT OR THIN LIFT D) ON S.R. 370 FROM S.R. 144 (L.M. 0.00) TO S.R. 61 (L.M. 5.77).

PROJECT LENGTH - 5.770 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

TOTAL CONTRACT

APAC-Atlantic, Inc. \$556,929.35

Duracap Asphalt Paving Co., Inc. \$637,218.49

PRI of East Tennessee Inc. \$812,213.60

			Co	ONTRACT CNV190
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		11.500 L.M.		
	APAC-Atlantic, Inc.		\$340.0000	\$3,910.00
	Duracap Asphalt Paving Co., Inc.		\$700.0000	\$8,050.00
	PRI of East Tennessee Inc.		\$1,991.0000	\$22,896.50
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		612.000 TON		
	APAC-Atlantic, Inc.		\$98.0000	\$59,976.00
	Duracap Asphalt Paving Co., Inc.		\$98.0400	\$60,000.48
	PRI of East Tennessee Inc.		\$147.7000	\$90,392.40
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		61.000 TON		
	APAC-Atlantic, Inc.		\$425.0000	\$25,925.00
	Duracap Asphalt Paving Co., Inc.		\$1,200.0000	\$73,200.00
	PRI of East Tennessee Inc.		\$850.0000	\$51,850.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		41.000 S.Y.		
	APAC-Atlantic, Inc.		\$40.0000	\$1,640.00
	Duracap Asphalt Paving Co., Inc.		\$207.3100	\$8,499.71
	PRI of East Tennessee Inc.		\$103.0000	\$4,223.00
705-02.10	<b>GUARDRAIL TRANSITION 27IN TO 31IN</b>			
		1.000 EACH		
	APAC-Atlantic, Inc.		\$155.0000	\$155.00
	Duracap Asphalt Paving Co., Inc.		\$165.0000	\$165.00
	PRI of East Tennessee Inc.		\$330.0000	\$330.00
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT			
		1.000 EACH		
	APAC-Atlantic, Inc.		\$1,250.0000	\$1,250.00
	Duracap Asphalt Paving Co., Inc.		\$1,320.0000	\$1,320.00
	PRI of East Tennessee Inc.		\$1,705.0000	\$1,705.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL-2			
		1.000 EACH		
	APAC-Atlantic, Inc.		\$2,750.0000	\$2,750.00
	Duracap Asphalt Paving Co., Inc.		\$2,915.0000	\$2,915.00
	PRI of East Tennessee Inc.		\$3,300.0000	\$3,300.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$15,500.0000	\$15,500.00
	Duragan Asphalt Paving Co. Inc.		<b>ሲ</b> ፈር ለሰር ለሰርር	\$40 000 00

Duracap Asphalt Paving Co., Inc.

PRI of East Tennessee Inc.

\$19,000.00

\$41,200.00

\$19,000.0000

\$41,200.0000

			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		440.000 S.F.		
	APAC-Atlantic, Inc.		\$7.0000	\$3,080.00
	Duracap Asphalt Paving Co., Inc.		\$7.1500	\$3,146.00
	PRI of East Tennessee Inc.		\$9.0000	\$3,960.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		381.000 EACH		
	APAC-Atlantic, Inc.		\$21.0000	\$8,001.00
	Duracap Asphalt Paving Co., Inc.		\$22.0000	\$8,382.00
	PRI of East Tennessee Inc.		\$26.5000	\$10,096.50
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		381.000 EACH		
	APAC-Atlantic, Inc.		\$9.0000	\$3,429.00
	Duracap Asphalt Paving Co., Inc.		\$9.7500	\$3,714.75
	PRI of East Tennessee Inc.		\$7.9000	\$3,009.90
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		24.000 L.F.		
	APAC-Atlantic, Inc.		\$11.0000	\$264.00
	Duracap Asphalt Paving Co., Inc.		\$11.0000	\$264.00
	PRI of East Tennessee Inc.		\$10.0000	\$240.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		1.000 EACH		
	APAC-Atlantic, Inc.		\$275.0000	\$275.00
	Duracap Asphalt Paving Co., Inc.		\$275.0000	\$275.00
	PRI of East Tennessee Inc.		\$525.0000	\$525.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		6.000 L.M.		
	APAC-Atlantic, Inc.		\$720.0000	\$4,320.00
	Duracap Asphalt Paving Co., Inc.		\$742.0000	\$4,452.00
	PRI of East Tennessee Inc.		\$790.0000	\$4,740.00
716-12.02	PENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		23.000 L.M.		
	APAC-Atlantic, Inc.		\$4,000.0000	\$92,000.00
	Duracap Asphalt Paving Co., Inc.		\$4,174.0000	\$96,002.00
	PRI of East Tennessee Inc.		\$4,090.0000	\$94,070.00
717-01	MOBILIZATION			
		1.000 LS		
	APAC-Atlantic, Inc.		\$18,100.0000	\$18,100.00
	Duracap Asphalt Paving Co., Inc.		\$12,500.0000	\$12,500.00
	PRI of East Tennessee Inc.		\$59,400.0000	\$59,400.00

$\sim$	ITRACT	- ^\\	<b>/190</b>
( ( ) N	1 I R A (		71411

UNIT PRICE	<b>EXTENSION</b>
------------	------------------

### **ROADWAY ALTERNATE AA1 CATEGORY**

## 411-03.12 ACS MIX(PG64-22) THIN LIFT D ASPHALT

### 3,061.000 TON

APAC-Atlantic, Inc.	\$103.3500	\$316,354.35
Duracap Asphalt Paving Co., Inc.	\$109.5500	\$335,332.55
PRI of East Tennessee Inc.	\$137.3000	\$420,275.30

UNIT PRICE EXTENSION

### **ROADWAY ALTERNATE AA2 CATEGORY**

## 411-03.07 ACS MIX(PG64-22) THIN LIFT ASPHALT

3,061.000 TON

APAC-Atlantic, Inc.
Duracap Asphalt Paving Co., Inc.
PRI of East Tennessee Inc.

APAC-Atlantic, Inc.	\$240,575.00
Duracap Asphalt Paving Co., Inc.	\$301,885.94
PRI of East Tennessee Inc.	\$391,938.30

#### **SUB-TOTAL ROADWAY ALTERNATE AA1**

APAC-Atlantic, Inc.	\$316,354.35
Duracap Asphalt Paving Co., Inc.	\$335,332.55
PRI of East Tennessee Inc.	\$420,275.30

### **SUB-TOTAL ROADWAY ALTERNATE AA2**

## **TOTAL CONTRACT**

APAC-Atlantic, Inc.	\$556,929.35
Duracap Asphalt Paving Co., Inc.	\$637,218.49
PRI of East Tennessee Inc.	\$812,213.60

#### WILLIAMSON COUNTY (Contract No. CNV904 Call 069)

94001-4121-04

THE REPAIR OF THE BRIDGES ON I-40 OVER COUNTY LINE ROAD (L.M. 0.02).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2021

TOTAL CONTRACT

Kiewit Infrastructure South Co.

\$1,945,969.00

BRIDGE CATEGORY		UNIT PRICE	CONTRACT CNV904 EXTENSION
307-03.01 ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A			
Kiewit Infrastructure South Co.	322.000 TON	\$360.0000	\$115,920.00
307-03.08 ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-M			
Kiewit Infrastructure South Co.	213.000 TON	\$316.0000	\$67,308.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)			
Kiewit Infrastructure South Co.	4.100 TON	\$1,000.0000	\$4,100.00
411-03.10 ACS MIX(PG76-22) GRADING D	075 000 TON		
Kiewit Infrastructure South Co.	275.000 TON	\$316.0000	\$86,900.00
411-03.11 ACS MIX(PG76-22) GRADING E RWDY			
Kiewit Infrastructure South Co.	181.000 TON	\$435.0000	\$78,735.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
Kiewit Infrastructure South Co.	1,422.222 S.Y.	\$18.0000	\$25,600.00
604-04.02 APPLIED TEXTURE FINISH (EXISTING STRUCTURES)	200 000 0 V		
Kiewit Infrastructure South Co.	389.000 S.Y.	\$18.0000	\$7,002.00
604-10.05 CONCRETE	56.750 S.F.		
Kiewit Infrastructure South Co.	30.730 S.F.	\$220.0000	\$12,485.00
604-10.14 REMOVE EXISTING WEARING SURFACE			
Kiewit Infrastructure South Co.	1.000 LS	\$75,000.0000	\$75,000.00
604-10.18 REINFORCING STEEL (REPAIRS)			
Kiewit Infrastructure South Co.	7,060.000 LB.	\$4.0000	\$28,240.00
604-10.30 BRIDGE DECK REPAIRS (FULL DEPTH OF SLAB)	75 000 O V		
Kiewit Infrastructure South Co.	75.000 S.Y.	\$760.0000	\$57,000.00
604-10.42 CONCRETE REPAIRS			
	941.000 C.F.		

Kiewit Infrastructure South Co.

\$244,660.00

\$260.0000

			UNIT PRICE	CONTRACT CNV904  EXTENSION		
604-10.50	BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)					
	Kiewit Infrastructure South Co.	110.000 S.Y.	\$400.0000	\$44,000.00		
604-10.54	CONCRETE REPAIRS					
	Kiewit Infrastructure South Co.	164.000 S.F.	\$150.0000	\$24,600.00		
604-10.83	COMPOSITE FIBER ENCASEMENT					
	Kiewit Infrastructure South Co.	2,231.000 S.F.	\$32.0000	\$71,392.00		
617-01	BRIDGE DECK SEALANT					
	Kiewit Infrastructure South Co.	804.000 S.Y.	\$38.0000	\$30,552.00		
705-06.25	THRIE BEAM BRIDGE TRANSITION MASH TL-3					
	Kiewit Infrastructure South Co.	1.000 EACH	\$8,500.0000	\$8,500.00		
705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)					
	Kiewit Infrastructure South Co.	2.000 EACH	\$7,500.0000	\$15,000.00		
712-01	TRAFFIC CONTROL					
	Kiewit Infrastructure South Co.	1.000 LS	\$200,000.0000	\$200,000.00		
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL					
	Kiewit Infrastructure South Co.	910.000 L.F.	\$66.0000	\$60,060.00		
712-02.47	BRIDGE MOUNTED INTERCONNECTED PORTABLE BAR					
	Kiewit Infrastructure South Co.	520.000 L.F.	\$87.5000	\$45,500.00		
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	319.000 EACH				
	Kiewit Infrastructure South Co.		\$36.0000	\$11,484.00		
712-04.50	BARRIER RAIL DELINEATOR					
ŀ	Kiewit Infrastructure South Co.	42.000 EACH	\$14.5000	\$609.00		
	SIGNS (CONSTRUCTION)					
	Kiewit Infrastructure South Co.	1,072.000 S.F.	\$9.0000	\$9,648.00		

			CONTRACT CNV904		
			UNIT PRICE	EXTENSION	
712-07.03	TEMPORARY BARRICADES (TYPE III)				
	Kiewit Infrastructure South Co.	48.000 L.F.	\$16.0000	\$768.00	
712-08.03	ARROW BOARD (TYPE C)				
	Kiewit Infrastructure South Co.	2.000 EACH	\$1,050.0000	\$2,100.00	
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR	0.000.000.110115			
	Kiewit Infrastructure South Co.	2,000.000 HOUR	\$100.0000	\$200,000.00	
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)	00 770 000 1 5			
	Kiewit Infrastructure South Co.	22,772.000 L.F.	\$5.2500	\$119,553.00	
712-09.08	REMOVABLE PAVEMENT MARKING (6" line)				
	Kiewit Infrastructure South Co.	12,822.000 L.F.	\$4.5000	\$57,699.00	
712-09.30	REMOVABLE BLACK-OUT TAPE (6")				
	Kiewit Infrastructure South Co.	11,172.000 L.F.	\$5.5000	\$61,446.00	
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	40.000.51.011			
	Kiewit Infrastructure South Co.	10.000 EACH	\$6,500.0000	\$65,000.00	
716-01.11	RAISED PVMT MARKERS (BI-DIRECTIONAL) (1 COLOR L				
	Kiewit Infrastructure South Co.	69.000 EACH	\$24.5000	\$1,690.50	
716-01.14	RAISED PAVEMENT MARKER REMOVAL	00 000 54 011			
	Kiewit Infrastructure South Co.	30.000 EACH	\$12.2500	\$367.50	
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DI				
	Kiewit Infrastructure South Co.	30.000 EACH	\$305.0000	\$9,150.00	
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LIN				
	Kiewit Infrastructure South Co.	0.600 L.M.	\$6,500.0000	\$3,900.00	
717-01	MOBILIZATION				
	Kiewit Infrastructure South Co.	1.000 LS	\$100,000.0000	\$100,000.00	

## SUB-TOTAL BRIDGE

Kiewit Infrastructure South Co. \$1,945,969.00

### **TOTAL CONTRACT**

Kiewit Infrastructure South Co. \$1,945,969.00